SUPREME COURT OF QUEENSLAND

REGISTRY: NUMBER:

BRISBANE 3508 of 2015

IN THE MATTER OF LM INVESTMENT MANAGEMENT LIMITED (IN LIQUIDATION) (RECEIVERS APPOINTED) ACN 077 208 461

First Applicants: JOHN RICHARD PARK AS LIQUIDATOR OF LM INVESTMENT MANAGEMENT LIMITED (IN LIQUIDATION) (RECEIVERS AND MANAGERS APPOINTED) ACN 077 208 461 THE RESPONSIBLE ENTITY OF THE LM FIRST MORTGAGE INCOME FUND ARSN 089 343 288

AND

Second Applicant:

Respondent:

LM INVESTMENT MANAGEMENT LIMITED (IN LIQUIDATION) (RECEIVERS AND MANAGERS APPOINTED) ACN 077 208 461 THE RESPONSIBLE ENTITY OF THE LM FIRST MORTGAGE INCOME FUND ARSN 089 343 288

AND

DAVID WHYTE AS THE PERSON APPOINTED TO SUPERVISE THE WINDING UP OF THE LM FIRST MORTGAGE INCOME FUND ARSN 089 343 288 PURSUANT TO SECTION 601NF OF THE CORPORATIONS ACT 2001

Part 2 of 2 (pages 214-435) of the exhibit "KAT-8" to the Affidavit of KELLY-ANNE LAVINA TRENFIELD sworn 5 September 2018.

CERTIFICATE OF EXHIBIT Filed on behalf of the Applicants Russells Level 18, 300 Queen Street Brisbane QLD 4000 Tel: (07) 3004 8888 Fax: (07) 3004 8899 Ref: JTW:20170799

Remuneration to 3	그 집 같은 것 같은 것 같은 것 같은 것 같아요. 것 같아요. 것 같아요.				3,204,515.29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Joan Springate	Administration	03-Oct-13	0.1	130.00	13.00	Administration	Receipt voucher & posting receipt	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	03-Oct-13	0.1	590.00	59.00	Administration	Review and approve payments re transfers re account closures	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	03-Oct-13	0.1	590.00	59.00	Assets	Review BC emails re 36 caviils and request update; review update	Corporate - Liquidation
		1					conscussions with erect code regarding strategy on cavili property, review correspondence to scorr and wayne, review draft settlement figures albatross and queries adjustments with Hickeys, discussions	
Glenn O'Kearnev	Senior Director	03-Oct-13	-	545.00	545.00	Assets	with Ash tiplady regarding baronsand/drake etc.	Corporate - Liquidation
Gienn O'Keamey	Senior Director	03-00-13	'	040.00	545.00	703010	various discussions and emails regarding settlement of 20 Albatross, leasing for 38 Cavill and	
Brett Cottam	Director	03-Oct-13	0.7	485.00	339.50	Assets	proposal to acquire LMIM's 66% share in 38 Cavill.	Corporate - Liquidation
				0.15.00	100 50		Insurance refund received. Review vouchers, amendments re GST	Category 2 - Approved/Paid
Eloa Zuardi	LOA	04-Oct-13	0.3	345.00	103.50	Administration		Category 2 -
Eloa Zuardi	LOA	04-Oct-13	0.2	345.00	69.00	Administration	Insurance refund received. Review vouchers, amendments re GST	Approved/Paid
							Vanous pank vouchers received, keview pank record, keview transactions on casmiow against pank	
							statement. Prepare MYOB entries for monies received into accounts. Arrange transfers from MIF/AIF	Category 2 - Approved/Paid
Eloa Zuardi	LOA	04-Oct-13	1	345.00	345.00	Administration	to LMIM main account	Category 2 -
Elea Zuardi	LOA	04-Oct-13	0.1	345.00	34.50	Administration	Bank reconciliation	Approved/Paid
Eloa Zuardi	LUA					r camin ion Ediori	Check Bank Statement and save. Receipt refund of Action Insurance policy funds into LMIM main	Category 2 -
Beniamin Robson	Consultant I	04-Oct-13	0.4	235.00	94.00	Administration	account.	Approved/Paid
						1	Update Consultants Fee register with payment contirmations from Irene Caling Amendments to	Category 2 -
Benjamin Robson	Consultant I	04-Oct-13	0.4	235.00	94.00	Administration	refund from Macquarie	Approved/Paid Category 2 -
		04-Oct-13	0.1	235.00	22.50	Administration	Amend MYOB voucher - refund blue Broking	Approved/Paid
Benjamin Robson	Consultant I	04-001-13		233,00	23.00	Adminiatedon	Discussions with ASIC and composition of emails in relation to fund audit issues - meeting with EY re	Category 2 -
John Corbett	Managing Dir	04-Oct-13	3	550.00	1,650.00	Administration	the audits of the ASPF, CPF and AIF.	Approved/Paid
								Category 2 - Approved/Paid
Ketly-Anne Trenfield	Sr Managing Dir	04-Oct-13	2.3	590.00	1,357.00	Administration	Review and reallocation of remuneration to 31 August	Category 2 -
	One in Director	04-Oct-13	0.1	545.00	54 50	Administration	Update to hickey lawyers regarding legal fees owing/timing.	Approved/Paid
Glenn O'Kearney	Senior Director			130.00	13.00	Administration	Bank Rec	Corporate - Liquidation
Joan Springate	Administration	04-Oct-13	0.1				Letter to ATO re; further records for pref claim	Corporate - Liquidation
James Court	Director 1	04-Oct-13	0.4	485.00	194.00	Investigations	Filing	Corporate - Liquidation
Brittany Newman	Administration 1	04-Oct-13	0.2	130.00		Administration	Mail in from ASiC - Invoice Statement 23 Sep 13	Corporate - Liquidation
Brittany Newman	Administration 1	04-Oct-13	0.1	130.00	13.00	Administration		Corporate - Liquidation
Andrew Weatheriey	Managing Director	04-Oct-13	0.1	545.00	54.50	Administration	Call with GOK re Bentley invest into P Drake	Corporate - Liquidation
Glenn O'Keamey	Senior Director	04-Oct-13	0.2	545.00	109.00	Assets	Review settlement adjustment info - approve figures for settlement , note to Kelly. Call form tracery knight at Bentleys regarding investigations drake app etc. file note, discussions with	Corporate - Elquidation
				545.00	163.50	Administration	ABW regarding investigations.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	04-Oct-13	0.3				Note from JB regarding offer cavill. discussions with JB	Corporate - Liquidation
Stenn O'Kearney	Senior Director	04-Oct-13	0.2	545.00		Assets	Various emails regarding 38 Cavill Ave.	Corporate - Liquidation
Brett Cottam	Director	04-Oct-13	0.4	485.00	194.00	Assets	Review correspondence from Brett and wayne robble, reply to various items regarding cavili, call from	· · · · · · · · · -
Slenn O'Keamey	Senior Director	05-Oct-13	0.3	545.00	163.50	Assets	wayne robbie - discuss meeting.	Corporate - Liquidation
Sienn O Neamey								Category 2 -
loa Zuardi	LOA	08-Oct-13	0.2	345.00	69.00	Administration	Follow up Teistra closure of accounts	Approved/Paid Category 2 -
· · · · · · · · · · · · · · · · · · ·					070.00	0 deplointenting	Update SOP/ Cashflow	Approved/Paid
Ioa Zuardi	LOA	08-Oct-13	0.8	345.00	276.00	Administration		Category 2 -
loa Zuardi	LOA	08-Oct-13	0.8	345.00	276.00	Administration	Update SOP/ Cashflow	Approved/Paid
								Category 2
auren Morcom	Senior Director	08-Oct-13	1.5	545.00	817.50	Administration	Reviewing 601NC notices, general LM emails, calls to EY (auditors)	Approved/Paid
							Review Norton Rose invoice 1230968 against 1225859 and compare work completed. Review	Category 2 -
	1 1							

 $\widehat{}$

M investment Ma Remuneration to 3	inagement Ltd (In Liqui 0 lune 2018	dation)	- -		3,204,515.29	7.		
Name	Title	Date	Hours	Charge Out Rate		Task Desc	Narrative	Classification
Benjamin Robson	Consultant I	08-Oct-13	0.2	235.00	47.00	Administration	Arrange Cancellation of commonwealth bank account	Category 2 - Approved/Paid
Benjamin Robsen	Concentrative i							Category 2 -
Benjamin Robson	Consultant I	08-Oct-13	0.2	235.00	47.00	Administration	Amendments to Blue Broking refunds vouchers	Approved/Paid
							Cashflow/satisfaction of admin liabilities re trading/funds; arrangements re meeting with AJT	Category 2 - Approved/Paid
Kelly-Anne Trenfield	Sr Managing Dir	08-Oct-13	0.2	590.00	118.00	Administration		Category 2 -
Sally McBryde	Managing Dir	08-Oct-13	0.1	550.00	55.00	Employees	Discussion with EBZ re loans made to employees and repayment from LMA FEG funds	Approved/Paid
								Category 2 -
Sally McBryde	Managing Dir	08-Oct-13	0.1	550.00	55.00	Trade-on	Review invoice from Carolyn Hodge re compliance, email to GOK re approval of same Email from Kelvin re Termination Agreement for termination of clients for Drake Insurance, review	Approved/Paid Category 2 -
Collected and a	Managing Dis	08-Oct-13	0.1	550.00	55.00	Trade-on	files & respond	Approved/Paid
Sally McBryde	Managing Dir	00-001-10	0.1					Category 2 -
Glenn O'Kearney	Senior Director	08-Oct-13	0.2	545.00	109.00	Administration	Review corporate cash flow/SOP update from Eloa.	Approved/Paid
							Review wcash flow SOP update - lig. from eloa	Category 2 - Approved/Paid
Glenn O'Keamey	Senior Director	08-Oct-13	0.2	545.00		Administration	Arrange closure of MPF A/c 13 409 115	Corporate - Liquidation
Eloa Zuardi	Manager 1	08-Oct-13	0.2	345.00	69.00			Corporate - Liquidation
Eloa Zuardi	Manager 1	08-Oct-13	0.2	345.00	69.00	Administration	Arrange arrange insurance cancellation 20 Albatross	Corporate - Liquidation
Andrew Weatherley	Managing Director	08-Oct-13	0.3	545.00	163.50	Administration	Review and archive emails, documents JAC re invest update	Corporate - Liquidation
Benjamin Robson	Associate II	08-Oct-13	0.2	235.00	47.00	Administration	Review multiple vouchers for filing Reviewed vanous email correspondence between GOK and EB2 regarding settlement of 20	Corporate - Exquidation
Stuart Clancy	Manager 1	08-Oct-13	0.1	345.00	34.50	Assets	Albatross Ave	Corporate - Liquidation
Stuart Clancy	Manager 1	08-Oct-13	0.2	345.00	69.00	Creditors	Drafting and reviewing email to creditor regarding progress of liquidation to date.	Corporate - Liquidation
Stater Clarity						· · · · · ·	Call form mark lacy - discuss settlement issues with albatross, note to boottam regarding cavili	Corporate - Liquidation
Glenn O'Kearney	Senior Director	08-Oct-13	0.3	545.00	163.50	Assets	meeting, call boottam regarding albatross issues. Can torm mark - continuation regarding settlement note to kelly, note to team regarding	Corporate - Exquidation
Glenn O'Kearney	Senior Director	08-Oct-13	0.2	545.00	109.00	Assets	insurance/cash.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	08-Oct-13	0.1	545.00	54,50	Administration	File review and update note for team meeting.	Corporate - Liquidation
Glenin O Keanley			011				Bank reconciliation, including review of outstanding receipts and payments with instructions to staff.	Corporate - Liquidation
Ginette Muller	Senior Managing Director	06-Oct-13	0.1	590.00	59.00	Administration	Check for details on the job and note issue accordingly.	Corporate - Liquidation
Brett Cottam	Director	08-Oct-13	0.1	485.00	48.50	Assets	Email from Hickey Lawyers confirming settlement of 20 Albatross Ave has been effected.	Colporate - Liquidation Category 2 -
		09-Oct-13	0.2	345.00	69.00	Administration	Prepare receipt re insurance refund	Approved/Paid
Eloa Zuardi		09-061-13	0.2	343.00	- 03.00	Administration		Category 2 -
Eloa Zuardi	LOA	09-Oct-13	0.5	345.00	172.50	Administration	Update PO register	Approved/Paid Category 2 -
		1					insurance installment payment	Approved/Paid
Eloa Zuardi	LOA	09-Oct-13	0.2	345.00	69.00	Administration		Category 2 -
Benjamin Robson	Consultant 1	09-Oct-13	0.1	235.00	23.50	Administration	Follow up invoice payments with Irene Caling	Approved/Paid
	Consumera							Category 2 -
Benjamin Robson	Consultant I	09-Oct-13	0.1	235.00	23.50	Administration	Perusal email from Simon Tickner, forward CLUTZ letter	Approved/Paid Category 2 -
Brittany Newman	Admin I	09-Oct-13	0.1	130.00	13.00	Administration	Mail in from Norton Rose Fulbright - Statement	Approved/Paid
Dilitariy Newman		00.000.00						Category 2 -
Keily-Anne Trenfield	Sr Managing Dir	09-Oct-13	0.5	590.00	295.00	Administration	Preparation re meeting with AJT re o/s issues for LMFMIF/MPFreview o/s	Approved/Paid Category 2 -
		00.0.11		545.00	54.50	Administration	Receipt of insurance cancellation into account, discuss insurance cancellations with eloa	Approved/Paid
Glenn O'Keamey	Senior Director	09-Oct-13	0.1	545.00	04.00	-ourrinnau audri		Category 2 -
Glenn O'Keamey	Senior Director	09-Oct-13	0.1	545.00	54.50	Administration	Receipt of insurance cancellation into account, discuss insurance cancellations with eloa	Approved/Paid
		09-Oct-13	0.2	545.00	109.00	Trade-on	Review draft advice LMA fees/trading. discuss with ash.	Category 2 Approved/Paid
Glenn O'Kearney	Senior Director	09-001-13	0.2	343.00	109.00			Category 2
Glenn O'Kearney	Senior Director	09-Oct-13	0.1	545.00	54.50	Administration	Note to BJR regarding KWM invoice corporate time.	Approved/Paid

_

	inagement Ltd (In Liqui	dation)						
Remuneration to 3 Name		Date	Hours	Charge Out Rate	3,204,515.29 Charge	Task Desc	Narrative	Classification
Sally McBryde	Managing Dir	09-Oct-13				Administration	Search & locate appointment docs for AGT	Category 2 - Approved/Paid
Mila Bolinao	Administration	09-Oct-13	0.3		39.00		Paying-In Deposits & Cheque requisitions	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	09-Oct-13	0.3		59.00		Gok re albatross update and funding	Corporate - Liquidation
Stuart Clancy		09-Oct-13	0.1	·	69.00		Drafting reviewing and sending email to creditor regarding progress of liquidation to date.	Corporate - Liquidation
Sluan Gancy	Manager 1	09-04-13	<u>, u,z</u>	340.00		Cleditors	Prepared receipt voucher and settlement spreadsneet on settlement on 20 Albalross Avenue.	
Stuart Clancy	Manager 1	09-Oct-13	0.4	345.00	138.00	Assets	Discussions with GOK regarding settlement. Submitting bank voucher.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	09-Oct-13	1.5	545.00	817.50	Assets	Travel to rsl building for meeting RRA - with wayne robbie and brett cottam regarding cavill property.	Corporate - Liquidation
							from settlement, note to Stuart regarding receipt of funds, update to Kelly regarding albatross funds and cavill ave offer/update from Kelly regarding legal payments, note to Scott m regarding bank statements, note to Lucy regarding bank statements, note to Wayne robble regarding requested information, note to ussells regarding transaction, discuss GST position on albatross settlement with	
Glenn O'Kearney	Senior Director	09-Oct-13	0.7	545.00	381.50	Assets	Stuart Clancy	Corporate - Liquidation
Glenn O'Keamey	Senior Director	09-Oct-13	0.5	545.00	272.50	Assets	SOP/cash flow corporate funds. reconcile consultants register corporate invoices discuss with BJR Con mom Ash and peter - discuss baronsand issues/proposed transactions. note to Ash régarding	Corporate - Liquidation
Olaan Olkaaman	Senior Director	09-Oct-13	0.3	545.00	163.50	Assets	I call itom Asil and peter - discuss bardinsand issues proposed italisacions. Note to Asil regarding	Corporate - Liquidation
Glenn O'Kearney		09-Oct-13	0.1	545.00	54,50		Review draft email to cred, amendments.	Corporate - Liquidation
Glenn O'Keamey	Senior Director	09-Oct-13	0.1	590.00	177.00		Email from and to Fran Mulder re her queries.	Corporate - Liquidation
Ginette Muller	Senior Managing Director		2.7	485.00	1,309.50		Travel time for meeting at Gold Coast with Wayne Robbie.	Corporate - Liquidation
Brett Cotlam	Director	09-Oct-13					Meeting with Wayne Robble to discuss acquisition of LMIM's share in 38 Cavill Ave.	Corporate - Liquidation
Brett Cottam	Director	09-Oct-13	0.9	485.00	436.50	Assets		Category 2 -
Eloa Zuardi	LOA	10-Oct-13	0.3	345.00	103.50	Administration	Follow up Zoran re Expenses to be reimbursed by Funds	Approved/Paid
Eloa Zuardi	LOA	10-Oct-13	0.2	345.00	69.00	Administration	Email to Ben re EOM September	Category 2 - Approved/Paid
	LOA	10-Oct-13	0.6	345.00	207.00	Administration	Arrange sept invoices to AIF/MIF. Prepare supporting docs and invoices. Review cashflow	Category 2 - Approved/Paid
Eloa Zuardi	LUA	10-001-13	0.0	040.00	201.00	, animolication	King & wood ivallesons involce apponionment of General rund work. Email to King & wood	
Benjamin Robson	Consultant I	10-Oct-13	0.8	235.00	188.00	Administration	Mallesons, phone conversation with Luke Bona, discussion with Glenn O'Kearney and email to Luke Bona	Category 2 - Approved/Paid
3eniamin Robson	Consultant I	10-Oct-13	3.5	235.00	822.50	Administration	Correspondence with King and Wood Mallesons regarding apportionment of invoices to LMIM as Regarding. Multiple emails to Wendy Bryan, Keely Fitzpatrick and Luke Bona. Phone discussion with Luke Bona regarding split of LMIM corporate work and fund work from invoice 1548794. Payment of alt outstanding King & Wood Mallesons, Russells, Norton Rose and Hickey LMIM Corporate invoices. Discussions with Glenn O'Kearney regarding payments. Email to S Tickner requesting payment	Category 2 - Approved/Paid
Brijamin (Kobson								Category 2 -
Benjamin Robson	Consultant I	10-Oct-13	0.1	235.00	23.50	Administration	Urgency request on payments made today Provide detailed breakdown of invoice payment requests for AGT for all MYOB payments for LMIM	Approved/Paid Category 2 -
Benjamin Robson	Consultant I	10-Oct-13	0.5	235.00	117.50	Administration	Corporate Peter McLeod re correspondence from ME re cavea/transferraview indemnity positionCall in from	Approved/Paid Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	10-Oct-13	0.5	590.00	295.00	Administration	Sean Russells re settlement of OA and filing	Approved/Paid Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	10-Oct-13	0.4	590.00	236.00	Administration	JRP re payment of costsGOK re payment of legal costsPayments to solicitors	Approved/Paid
Sienn O'Kearney	Duniu Dimata	10-Oct-13	0.8	545.00.	436.00	Administration	amendments to mallesons bill, arrange payment run - allocation of fund counsel portions to be paid. discussions and review with BJR on payment, prepare russells schedule for KAT, prepare schedule of fund costs paid by corporate entity, review and sign off on all payment requests in MYOB, time split	Approved/Paid
	Senior Director	10-000-10						
ally McBryde	Managing Dir	10-Oct-13	0.1	550.00	55.00	Employees	Update on FEG status and repayment of deed of advance from employees Mail in from Hickey Lawyers - Consispondence; LMINI Lto sale to Dhanei Pty Lto, 57/100 share in 20	Category 2 - Approved/Paid

Remuneration to 3	inagement Ltd (In Liqui 0 June 2018				3.204.515.29			
Name		Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
vila Bolinao	Administration	10-Oct-13	1	130.00	130.00	Administration	Cheque requisitions	Corporate - Liquidation
Aline Teixeira	Managing Director	10-Oct-13	0.4	395.00	158.00	Administration	Review of payments request for final	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	10-Oct-13	0.1	590.00	59.00	Asseis	Review assessment of interest in acquisition fo JV interest re property at 38 Cavilt	Corporate - Liquidation
Stuart Clancy	Manager 1	10-Oct-13	0.1	345.00	34.50	Creditors	Email to creditor regarding progress of liquidation to date.	Corporate - Liquidation
Glenn O'Keamey	Senior Director	10-Oct-13	0.1	545.00	54.50	Assets	Review final settlement figures albatross. note to Stuart Clancy.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	10-Oct-13	1.2	545.00	654.00	Assets	Review cavin propeny occuments/oan statements/oank account statements/rates/rates/rates/rates/rates/rates/rate discussion with agent regarding further information required, note to Lucy regarding BAS issues, prepare reconcilitation of offer received and adjustments/value of offer.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	10-Oct-13	0.1	545.00	54.50	Assets	Update bcottam regarding sale ferney comparable notes for cavill.	Corporate - Liquidation
Brett Cottam	Director	10-Oct-13	0.2	485.00	97.00	Asseis	Call from Steven King contirming unconditional contract for sale of 64 Ferry Ave and subsequent email to GOK with details.	Corporate - Liquidation
	Senior Director	11-Oct-13	0.1	545.00	54.50	Administration	Follow up payments/lega fees etc.	Approved/Paid
Glenn O'Kearney		11-002-13	0.1		54,50		Payment - check supporting documentation, review invoices and banking voucher for payment to	Category 2 -
Sally McBryde	Managing Dir	11-Oct-13	0.1	550.00	55.00	Administration	Macquarie re premlum funding, approve payment	Approved/Paid
Eloa Zuardi	LOA	11-Oct-13	0.2	345.00	69.00	Administration	Insurance payment	Category 2 - Approved/Paid Category 2 -
***** 7	LOA	11-Oct-13	0.2	345.00	69.00	Administration	Follow up LM Insurance payment	Approved/Paid
Eloa Zuardi		11-Oct-13	0.2	235.00	47.00	Administration	Review and file various payment requests	Corporate - Liquidation
Benjamin Robson	Associate II	1	0.2	130.00	13.00	Administration	Cheque requisitions	Corporate - Liquidation
Mila Bolinao	Administration	11-Oct-13		130.00	13.00	Administration	Bank rec	Corporate - Liquidation
Jessica Jowett	Administration	11-Oct-13	0.1				Review crad query from eloa - reply.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	11-Oct-13	0.1	545.00	54.50	Creditors	POD in relation to Maddison Estate Review involces and advise Michelle claim would be against	Corporato Enquinament
Eloa Zuardi	Manager 1	11-Oct-13	0.3	345.00	103.50	Creditors	Maddison Estate Pty Ltd, suggest her to contact KordaMentha	Corporate - Liquidation
Eloa Zuardi	Manager 1	11-Oct-13	0.3	345.00	103.50	Administration	POD in relation to Maddison Estate.	Corporate - Liquidation
Breit Cottam	Director	11-Oct-13	0.2	485.00	97.00	Assets	Review or retter and tokow up phone call from wayne Robble regarding the new Lot 5 tenants request to defer the rent commencement date due to a defay with the fit-out contractors.	Corporate - Liquidation
		44.004.42	0.3	485.00	145.60	Trade-on	Review and two to LM Investment Management Ltd update of details request. Also forward bank account change request.	Approved/Paid
Renee Labb	Senior Director	14-Oct-13	0.3	465.00	140.00	11408-00		Category 2 -
Renee Lobb	Senior Director	14-Oct-13	0.2	485.00	97.00	Administration	Filing all emails received in two weeks on leave, enter timesheet's for responses to same.	Approved/Paid Category 2 -
Benjamin Robson	Consultant I	14-Oct-13	0.1	235.00	23.50	Administration	Follow up Mohamed regarding payment of Macquarie Insurance	Approved/Paid
							Payment continuations for EFT and cheque payments made for 10/10/13 - update register with payments made, draft emails to Norton Rose and King & Wood Mallesons advising remmittance of	Category 2 -
Beniamin Robson	Consultant I	14-Oct-13	1.5	235.00	352.50	Administration	each payment. file payments	Approved/Paid
	Constitent	14-001-10	,					Category 2 -
aily McBryde	Managing Dir	14-Oct-13	0.1	550.00	55.00	Employees	Email from Joe Camm re employee issues & PAYG, forward to EBZ to respond	Approved/Paid Category 2 -
ohn Corbett	Managing Dir	14-Oct-13	0.5	550.00	275.00	Administration	AFSL related administration Trase with Keny regarding legal payments made, review online accouncand discuss with BJR, review	Approved/Paid
Glenn O'Kearney	Senior Director	14-Oct-13	0.5	545.00	272.50	Administration	BJR remittance emails. review Russell's statement and reconcile with register. time split limim corporate/FMIF	Category 2 - Approved/Paid
Renee Lobb	Senior Director	14-Oct-13	0.8	485.00		Investigations	Discussions with Bentieve regarding controllership of Peter Drake's propeny and required information on Drake insurance agreement. Discuss same with Lauren M and Sally and GOK regarding background and records we may have to assist.	Corporate - Liquidation
iloa Zuardi	Manager 1	14-Oct-13	0.1	345.00			Bank reconc	Corporate - Liquidation
ndrew Weatherley	Managing Director	14-Oct-13	0.1	545.00			SAC email encl ASIC corresp, send to JP/KAT/GDM	Corporate - Liquidation
	Managing Director	14-Oct-13	0.4	545.00		Administration	KAT email re position with Co and ASIC reg for supp report, check assettess definition and resp	Corporate - Liquidation
-	· · · · · · · · · · · · · · · · · · ·	14-Oct-13	0.4	130.00			Mail in from ASIC - Correspondence; Pay invoice & check Company statement	Corporate - Liquidation
nnany vewman	Administration 1	14-066-131	0.1	130.00	10.00 1	noministation		

(

LV investment Ma	nagement Ltd (In Liquic	dation)	NL II					
Remuneration to 30 Name	0 June 2018 Title	Date	Hours	Charge Out Rate	3,204,515.29 Charge	Task Desc	Narrative	Classification
Brittany Newman	Administration 1	14-Oct-13	0.4	130.00	52.00	Administration	Filing	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	14-Oct-13	0.2	590.00	118.00	Administration	Read letter to IPAA re conduct; emails inReview assessment re AAF	Written Off/Not claimed
Kelly-Anne Trenfield	Senior Managing Director	14-Oct-13	0.1	590.00	59.00	Assets	Review leasing approach re new tenant at 38 Cavill	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	14-Oct-13	0.1	590.00	59.00	Administration	Review and approve payment	Corporate - Liquidation
Mohamed Almuila	Senior Consultant I	14-Oct-13	0.3	325.00	97.50	Administration	Organising payment of insurance for fund management	Corporate - Liquidation
Mohamed Almulia	Senior Consultant (14-Oct-13	0.3	325.00	97.50	Administration	Urgent payment for LMIM -	Corporate - Liquidation
James Court	Director 1	14-Oct-13	0.2	485.00	97.00	Administration	Review section s 533 report	Corporate - Liquidation
Glenn O'Keamev	Senior Director	14-Oct-13	0.1	545.00	54.50	Investigations	Correspondence form asic 533 reports, discus with Stuart Clancy	Corporate - Liquidation
Glenn O'Keamey	Senior Director	14-Oct-13	0.3	545.00	163.50		Review note from Lucy regarding loagments batonshab, reply, prelim review of additional into from agent regarding caviil, note from Brett regarding leasing caviil.	Corporate - Liquidation
Glenn O'Kearney	Seniar Director	14-Oci-13	0.4	545.00	218.00	Administration	Call from Benneys regarding investigations remp into: référied to LMA, discussions with riobb and sally regarding drake enquiry bentleys.	Corporate - Liquidation
							Review additional information and documents received from agent regarding cavit property. amendments to figures on offer for discussions, consider and note regarding tax issues for JV.	Corporate - Liquidation
Glenn O'Keamey	Senior Director	14-Oct-13	0.5	545.00	272.50	Assets		Category 2 -
Renee Lobb	Senior Director	15-Oct-13	0.5	485.00	242.50	Investigations	Review appeal docs. Save to file.	Approved/Paid
								Category 2 -
Renee Lobb	Senior Director	15-Oct-13	0.8	485.00	388.00	Administration	Catch up on all funds and to do's.	Approved/Paid Category 2 -
Renee Lobb	Senior Director	15-Oct-13	0.6	485.00	291.00	Creditors	Teleconference with John Corbett, myself and advisers overseas to answer queries on lunds.	Approved/Paid
Renee Lobb	Senior Director	15-Oct-13	0.3	485.00	145.50	Investigations	Receivers for insurance matters. Discuss David Whyte request for documents on policies held and email Ginette Muller, SAM and Kelty-Anne Trenfield to confirm progress and information held including Managed Performance Fund court filings.	Category 2 - Approved/Paid
Renee Lobb	Seniar Director	15-Oct-13	0.2	485.00	97.00	Administration	Call with LM Investment Management Ltd staff regarding matters to attend to. Send email with same.	Category 2 - Approved/Paid
Eloa Zuardi	LOA	15-Oct-13	1	345.00	345.00	Administration	Update cashflow and SOP	Category 2 - Approved/Paid Category 2 -
Eloa Zuardi	LOA	15-Oct-13	0.5	345.00	172.50	Administration	Update cashflow and SOP	Approved/Paid Category 2 -
Benjamin Robson	Consultant I	15-Oct-13	0.2	235.00	47.00	Administration	Payment confirmations received from I Caling, updates to Register	Approved/Paid Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	15-Oct-13	0.3	590.00	177.00	Administration	JDC re updates; GOK re indemnity issues	Approved/Paid Category 2 -
	Managaina Dia	15-Oct-13	0,1	550.00	55.00	Administration	Consider email re insurance meeting & other issues	Approved/Paid
Sally McBryde	Managing Dir	13-002-13					Call from RCL re Drake Insurance query from Tracy Knight, review documentaron and update on	Category 2 -
Sally McBryde	Managing Dir	15-Oct-13	0.5	550.00	275.00	Administration	background of issue Updates on progress with lunds on S601NC, investor communications and discussions with HK	Approved/Paid Category 2 -
John Corbett	Managing Dir	15-Oct-13	1.5	550.00	825.00	Administration	Updates on progress with funds on soo nee, investor communications and discussions with new advisors. Weakly LMA SOP and cash forecast prepared by Etoa, corporate sopicash flow, review, discuss	Approved/Paid Category 2 -
		15-Oct-13	0.3	545.00	163,50	Administration	finalisation/bas etc	Approved/Paid
	Senior Director	15-Oct-13 15-Oct-13	0.3	485.00		Administration	Call with ClearWater regarding insurance matters regarding Kelvin Fare.	Corporate - Liquidation
	Senior Director		0.2	130.00		Administration	Close of Account	Corporate - Liquidation
,	Administration	15-Oct-13 15-Oct-13	0.5	130.00		Administration	Prepare BAS (1 Jul - 30 Sep 2013)	Corporate - Liquidation
	Administration 1		0.5	545.00		Administration	Bank reconciliation main account and rental account.	Corporate - Liquidation
	Senior Director	15-Oct-13	0.1	545.00	295.00		Update generally on all matters.	Corporate - Liquidation
Sinette Muller	Senior Managing Director	15-Oct-13	0.5	00.00	293.00	Aunimistratuon	Discussions with auvisers, answer quenes. Discussion with John Corbeit and Lauren Worcom	
Renee Lobb				405.00	701.00	Administration	regarding correspondence issued by David Whyte and email received from Joanne Kedney requesting further documentation. Send proposed response to Ginette Muller.	Category 2 - Approved/Paid
	Senior Director	16-Oct-13	0.6	485.00	291.00	Administration	Review email from Kally-Anne Trentield regarding insurance filing docs from KM/Calibre. Email	Category 2 -

LM Investment Ma	nagement Ltd (In Liquic	lation)						
Remuneration to 3 Name	0 June 2018 Title	Date	Hours	Charge Out Rate	3,204,515.29 Charge	Task Desc	Narrative	Classification
Renee Lobb	Senior Director	16-Oct-13	0.3	485.00	145.50	Administration	Emails with Shauna regarding 601NC notices and David Whyte update.	Category 2 - Approved/Paid
Renee Lobb	Senior Director	16-Oct-13	0.3	485.00	145.50	Administration	Review David Whyte's update and respond to investor enquiry.	Category 2 - Approved/Paid
Eloa Zuardi	LOA	16-Oct-13	0.5	345.00	172.50	Administration	Follow up NSW payroll tax retund. Advise re wages declared on the annual reconciliation are the wages for period ending 12/03/13 to 25/06/13.	Category 2 - Approved/Paid
Eloa Zuardi	LOA	16-Oct-13	0.3	345.00	103.50	Administration	Payment of compliance committee invoice	Category 2 - Approved/Paid
Brittany Newman	Admin I	16-Oct-13	0.1	130.00	13.00	Administration	Email PAYG Summary to Joseph Camm as requested.	Category 2 - Approved/Paid
John Corbett	Managing Dir	16-Oct-13	2.5	550.00	1,375.00	Administration	Travel Brisbane / Gold Coast (return) for meeting at LM	Category 2 - Approved/Paid Category 2 -
Glenn O'Keamey	Senior Director	16-Oct-13	0.1	545.00	54.50	Trade-on	Note to eloa regarding trading payments.	Approved/Paid
Andrew Weatherley	Managing Director	16-Oct-13	0.5	545.00	272.50	Investigations	Review and files docs, collate invest docs and print profroma s533(2) report, set up mgt to discuss	Corporate - Liquidation
Brittany Newman	Administration 1	16-Oct-13	0.1	130.00	13.00	Administration	Filing	Corporate - Liquidation
Brittany Newman	Administration 1	16-Ocl-13	0.5	130.00	65.00	Administration	Continue to prepare BAS (1 Jul - 30 Sep 2013)	Corporate - Liquidation
	Senior Managing Director	16-Oct-13	0.0	590.00	59.00	Investigations	Review position re supp 533 report	Corporate - Liquidation
Keliy-Anne Trenfield	Serior Managing Director	10-00210		000.00			File review and the management, review of MYOB tasks, update calendar with due date logements	
Glenn O'Keamey	Senior Director	16-Oct-13	0.5	545.00	272.50	Administration	and reporting etc. note to POC with TDL.	Corporate - Liquidation
Eloa Zuardi	LOA	17-Oct-13	0.4	345.00	136.00	Administration	Email to GOK re Protessional indemnity Policy, and insurance paid to Macquarie funding. Email to Andrea from Blue Broking cover details required.	Category 2 - Approved/Paid Category 2 -
Eloa Zuardi	LOA	17-Oct-13	0.3	345.00	103.50	Administration	Follow up Zoran re various involces to be paid re fund related expenses	Approved/Paid Category 2 -
Benjamin Robson	Consultant I	17-Oct-13	0.3	235.00	70.50	Administration	Perusal email from Irene Caling, provide list of all outstanding invoices	Approved/Paid Category 2 -
Renee Lobb	Senior Director	17-Oct-13	0.1	485.00	48.50	Administration	Respond to BDO email requesting reports and recording of creditor. Response to Jon Davies about adviser commissions and ongoing payments and ability to access	Approved/Paid Category 2 -
Renee Lobb	Seniar Director	17-Oct-13	0.3	485.00	145.50	Creditors	fund monies. Emails from GDM regarding BDO investor circular and our response. Save down CPAIF and ICPAIF	Approved/Paid Category 2 -
Renee Lobb	Senior Director	17-Oct-13	0.3	485.00	145.50	Administration	postal registers.	Approved/Paid Category 2 -
Renee Lobb	Senior Director	17-Oct-13	0.3	485.00	145.50	Trade-on	Commence draft of CPAIF and ICPAIF report in response to david Whyte update.	Approved/Paid Category 2 -
Mohamed Almulia	Sr. Consult I	17-Oct-13	1.3	325.00	422.50	Trade-on	Review and forawrd payments to JDC regarding: payments. scan to Zoran and separate	Approved/Paid Category 2 -
John Corbett	Managing Dir	17-Oct-13	0.7	550.00	385.00	Administration	S601NC notices. Review all bank accounts. Prepare MYOB vouchers for various transactions into bank statements.	Approved/Paid
Eloa Zuardi	Manager 1	17-Oct-13	0.5	345.00	172.50	Administration	Follow up money from MIF	Corporate - Liquidation
Andrew Weatherley	Managing Director	17-Oct-13	0.5	545.00	272.50	Investigations	JAC re s533 supp report req by ASIC, how to draft and additional invest to do	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	17-Oct-13	0.2	590.00	118.00	Administration	Email from Scott Lee and response; required review of legal advice Emails to creations regarding update on liquidation to date. reviewing submission of POD and other	Corporate - Liquidation
Stuart Clancy	Manager 1	17-Oct-13	0.4	345.00	138.00	Creditors	related queries Note from Peter mcloud regarding baronsand issues to consider, tollow up boottam regarding asses	Corporate - Liquidation
Glenn O'Kearney	Senior Director	17-Oct-13	0.2	545.00	109.00	Assets	of offer .follow up Scott McMurtrie regarding baronsand tax lodgment issues.	Corporate - Liquidation Category 2 -
Benjamin Robson	Consultant I	18-Oct-13	0.2	235.00	47.00	Administration	Provide Irene Caling with List of outstanding invoices and amounts for payment	Approved/Paid Category 2 -
Keily-Anne Trenfield	Sr Managing Dir	18-Oct-13	2.7	590.00	1,593.00	Administration	Review and reallocation of remuneration	Approved/Paid Category 2 -
Ashleigh Ubank	Admin II	18-Oct-13	3.2	130.00	416.00	Administration	Amending addresses in client recipients date file.	Approved/Paid Category 2 -
Renee Lobb	Senior Director	18-Oct-13	0.8	485.00	388.00	Trade-on	Working on first draft of response to Davide Whyte 15 October 2013 correspondence.	Approved/Paid

LVI Investment M	anagement Ltd (In Liqui 20 June 2019	dation)	net est		3,204,515,29			
Remuneration to Name		Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
			inseră.			i i i i i i i i i i i i i i i i i i i	Search alternate addressed for Ketumed Post (Magellan The Financial Planning Company & Ipac	
							Financial Planning Hong Kong Limited). Prepare 8974(n40 + repost 8974 (2nd RTC) to Magellan The	
Brittany Newman	Administration 1	18-Oct-13	0.6	130.00		Administration	Financial Planning Company (alternate address) & 8974fn41.	Corporate - Liquidation
Brittany Newman	Administration 1	18-Oct-13	0.4	130.00	52.00	Administration	Continue to prepare BAS (1 Jul - 30 Sep 2013)	Corporate - Liquidation
Eloa Zuardi	Manager 1	18-Oct-13	0.3	345.00	103.50	Administration	Review MYOB transactions and bank statement. Update MYOB re various entries	Corporate - Liquidation
							weeny Livin SUP"and cash torecash prepared by Eroa. corporate soprcash lidw. review. Italse with team regarding corporate assets requiring further investigation - overseas Joans/shares etc. review	
Glenn O'Kearney	Senior Director	1B-Oct-13	0.6	545.00	327.00	Administration	previous notes regarding assets.	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	20-Oct-13	0.1	590.00	59.00	Administration	Review and update tdl; query outstanding itemsPrint & file emails	Corporate - Liquidation
						<u>.</u>		Category 2 - Approved/Paid
Renee Lobb	Senior Director	21-Oct-13	0.2	485.00	97.00	Trade-on	to SMD's and others to assist in furnishing full response.	Category 2 -
Renee Lobb	Senior Director	21-Oct-13	0.2	485.00	97.00	Administration	Attending to misc emails regarding ring fenced investment amounts to answer adviser queries.	Approved/Paid
Kenee Lood	Semor Director	21-002-13	0.2	400.00				Category 2 -
Renee Lobb	Senior Director	21-Oct-13	0.5	485.00	242.50	Administration	Filing emails sent whilst overseas into public folders.	Approved/Paid
		1					Call ASIC regarding ARSN for ARLF. Return email after obtaining ARSN from LM Investment Management Ltd staff.	Category 2 - Approved/Paid
Renee Lobb	Senior Director	21-Oct-13	0.2	485.00	97.00	Administration	Further enquiries regarding quarantines fund dates, review Kelly-Anne Trentield response and	Category 2 -
Renee Lobb	Senior Director	21-Oct-13	0.2	485.00	97.00	Trade-on	request further background from Steve Hannan.	Approved/Paid
	Senior Sindelar	21 00.10					Respond in length after discussion with Steve Hanna regarding quarantine date. Review med	Category 2 -
							correspondence on date discrepancy and disprove same. Discuss with John Corbett ARLF situation and to do's for tomorrow	Approved/Paid
Renee Lobb	Senior Director	21-Oct-13	0.7	485.00	339.50	Trade-on		Category 2 -
Eloa Zuardi	LOA	21-Oct-13	0,5	345.00	172.50	Creditors	Invoice from Austrac. Review statements and obtain more details from Irene re services provided	Approved/Paid
	LOA	21 00 10	0.0					Category 2 -
John Corbett	Managing Dir	21-Oct-13	0.5	550.00	275.00	Administration	Preparation of information for discussion with the auditors of CPF, ASPF and AIF	Approved/Paid Category 2 -
					4 400 00	A	Working through general lund matters in relation to S601NC notices to investors, investor communications and general matters related to RE role.	Approved/Paid
John Corbett	Managing Dir	21-Oct-13	2	550.00		Administration	Begin preparation of supplementary report	Corporate - Liquidation
James Court	Director 1	21-Oct-13	3.6	485.00	1,746.00	Investigations	Review and approve payment	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	21-Oct-13	0.1	590.00	59.00	Administration		Corporate - Liquidation
Joan Springate	Administration	21-Oct-13	0.1	130.00	13.00	Administration	Receipt youcher & posting receipt	Corporate - Liquidation
Ashleigh Ubank	Administration 2	21-Oct-13	0.2	130.00	26.00	Administration	Co-ordinated with Worldwide regarding printing of report and issues with mailing list. Note from bootcam regarding caviil and discussion with agent, note to Bretr with updated numbers	Collegate - Education
	Senior Director	21-Oct-13	0.2	545.00	109.00	Assets	and notes.	Corporate - Liquidation
Glenn O'Kearney		21-Oct-13	0.2	325.00	32.50	Administration	Review payment	Corporate - Liquidation
Mohamed Almulla	Senior Consultant I	21-00-13		323.00	02.00	/ with non-billion	Reviewing and dratting responses for Ginette Muller on proposal for Clutz tees going forward and	Category 2 -
Renee Lobb	Senior Director	22-Oct-13	0.4	485.00	194.00	Investigations	upcoming insurance meeting.	Approved/Paid Category 2 -
							Email ASIC to continue wind up tinalisation notice not commencement for ARLE. Request proposed action from ASIC for amendment.	Approved/Paid
Renee Lobb	Senior Director	22-Oct-13	0.1	485.00	48.50	Administration		Category 2 -
Danna Labh	Senior Director	22-Oct-13	0.1	485.00	48.50	Administration	Do ARLF revised completion of wind up form 5138.	Approved/Paid
Renee Lobb				-100.00	.2.00		Drait letter to David Whyte regarding sufficient notice being provided should LM investment	Category 2 -
Renee Lobb	Senior Director	22-Oct-13	0.3	485.00	145.50	Trade-on	Management Ltd infrastructure be dismantled to take in house at BDO.	Approved/Paid Category 2 -
						Tendo ot	Review and draft response to David Wilkinson correspondence.	Approved/Paid
Renee Lobb	Senior Director	22-Oct-13	0.4	485.00	194.00	Trade-on		Category 2 -
John Corbett	Managing Dir	22-Oct-13	1	550.00	550.00	Administration	Meeting with auditors (EY) to discuss various issues in relation to the audits of CPF, AIF and ASPF	Approved/Paid
								Category 2 -
Iohn Corbett	Managing Dir	22-Oct-13	1	550.00	550.00	Administration	Dealing with wind-up of funds (communications) and responding to enquiries.	Approved/Paid Category 2 -
				545.00	54.50	Trade-on	Review and reply various emails. note to Lauren and Eloa regarding compliance invoice.	Approved/Paid
Glenn O'Kearney	Senior Director	22-Oct-13	0.1					Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	22-Oct-13	0.1	590.00	59.00	Assets		Corporate - Liquidation
Sally McBryde	Managing Director	22-Oct-13	0.5	550.00	275.00	Investigations	I TOTAL TELEDE DOUBLETE O TROY TELETE O DOUBLET O DELLE MARCELES OF ANTI-STREET	•

AM Investment M	anagement Ltd (In	linuidation)				<u></u>		
Remuneration to					3,204,515.29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
							tvote from boottam regarding baronsand cavili oner etc. reply regarding rental ont rus/commission etc.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	22-Oct-13	0.2		109.00		Internal discussion regarding the offer of \$635k to acquire LMIM's 66% share in 38 Cavill Ave.	Corporate - Liquidation
Brett Cottam	Director	22-Oct-13	0.5	485.00	242.50	Assets		Category 2 -
Renee Lobb	Senior Director	23-Oct-13	0.1	485.00	48.50	Trade-on	Review John Corbett additions to proposed adviser response on quarantined funds.	Approved/Paid
					40.50	<u> </u>	Further response to investor regarding value of investor and how not reflective of eventual return.	Category 2 - Approved/Paid
Renee Lobb	Senior Director	23-Oct-13	0.1	485.00	48.50	Trade-on		Category 2 -
Renee Lobb	Senior Director	23-Oct-13	0.1	485.00	48.50	Creditors	Respond to adviser emailed letter on quarantined funds.	Approved/Paid
		-		405.00	220 EO	0 desiriatentian	Review and make edits to the website. Upload CPAIF and ICPAIF 601NC notices and make amendments to FAQ page to update.	Category 2 - Approved/Paid
Renée Lobb	Senior Director	23-Oct-13	0.7	485.00	339.50	Administration		Category 2 -
Renee Lobb	Senior Director	23-Oct-13	0.3	485.00	145.50	Administration	Formatting and editing response to ASIC audit relief letter.	Approved/Paid
				485.00	40.50	Administration	Review John Corbett changes to letter to BDO regarding staffing and infrastructure.	Category 2 - Approved/Paid
Renee Lobb	Senior Director	23-Oct-13	0.1	485.00	48.50	Administration	Review and respond to emails from Steve Hannan regarding timing of investor listings and other	Category 2 -
Renee Lobb	Senior Director	23-Oct-13	0.2	485.00	97.00	Trade-on	supplementary matters.	Approved/Paid
					00 50	T	General update on LM investment Management Ltd GC goings on and progress of matters.	Category 2 - Approved/Paid
Renee Lobb	Senior Director	23-Oct-13	0.2	485.00	97.00	Trade-on		Category 2 -
Benjamin Robson	Consultant I	23-Oct-13	0.2	235.00	47.00	Creditors	Payment to Russells of additional disbursements invoice B15450	Approved/Paid
						T	Follow up closure of the following bank accounts: MIF - 13 409 1151CPIF - 13 409 190Follow up MYOB vouchers	Category 2 - Approved/Paid
Eloa Zuardi	LOA	23-Oct-13	0.3	345.00	103.50	Trade-on		Category 2 -
Eloa Zuardi	LOA	23-Oct-13	0.5	345.00	172.50	Assets	Update SOP and cashflow	Approved/Paid
					470 50	T-s.ds. en	Update SOP and cashflow	Category 2 - Approved/Paid
Eloa Zuardi	LOA	23-Oct-13	0.5	345.00	172.50	Trade-on		Category 2 -
Brittany Newman	Admin I	23-Oct-13	0.8	130.00	104.00	Administration	Enter receipts for Fund Reimbursements in MYOB + scan/save/upload supporting documents	Approved/Paid
					(2.00		Receipt voucher & posting receipt	Category 2 - Approved/Paid
Joan Springate	Admin II	23-Oct-13	0.1	130.00	13.00	Administration		Category 2 -
Joan Springate	Admin II	23-Oct-13	0.1	130.00	13.00	Administration	Bank Rec	Approved/Paid
							Review payment to Russels - disbursements outstanding	Category 2 - Approved/Paid
Christine Stead	Senior Director	23-Oct-13	0.1	545.00	54.50	Administration	Attending to follow-up matters following meeting with auditors and reworking AIF material for	Cătegory 2 -
John Corbett	Managing Dir	23-Oct-13	2	550.00	1,100.00	Administration	distribution of communications to members	Approved/Paid Category 2 -
				5.15.00	54.50	Ala	Review LMA SOP/cash flow from eloa. amend.,	Approved/Paid
Glenn O'Kearney	Senior Director	23-Oct-13	0.1	545.00	54.50	Assets		Category 2 -
Glenn O'Kearnev	Senior Director	23-Oct-13	0.2	545.00	109.00	Assets	Review LMA SOP/cash flow from eloa. amend. corporate and trading - time split between.	Approved/Paid Category 2 -
<u> </u>					400.00	Tanda da	Review and update cashflow for accounts as of 18.1.13	Approved/Paid
Mohamed Almulla	Sr. Consult I	23-Oct-13	0.4	325.00	130.00	Trade-on Administration	Final BAS (1 Jul - 30 Sep 2013)	Corporate - Liquidation
Brittany Newman	Administration 1	23-Oct-13	0.1	130.00	13.00	Administration	Filing	Corporate - Liquidation
Brittany Newman	Administration 1	23-Oct-13	0.1	130.00	39.00	Administration	Prenare Books & Records Listing	Corporate - Liquidation
Brittany Newman	Administration 1	23-Oct-13	0.3	130.00	39.00	runa istauut	meeting with GON and BC resale of 36 Cavin, discussioners to bate and assessment of oner to	
				F00 00	295.00	Assots	acquire interest in JV. Discussion future strategy and implications re any assessment of s420 responsibilities (whilst agreeing that specific section may not apply)	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Direc		0.5	590.00		14000	Setting up Online payment & posting payment	Corporate - Liquidation
Joan Springate	Administration	23-Oct-13	0.3	130.00	39.00		Query from fucy regarding overseas lik entity, note to Matt regarding liquidation UK and status of	
Glenn O'Kearney	Senior Director	23-Oct-13	0.2	545.00	109.00	Assets	other returns form overseas entities.	Corporate - Liquidation
							Teleconference with Kelly and Brett cottam regarding cavil offer and response to offer etc. review	
Glenn O'Kearney	Senior Director	23-Oct-13	1.2	545.00	654.00		figures post meeting/amend sheet and note to Bcottam for reply. note mcmutries regarding tax issues	Corporate - Liquidation

LM Investment Ma Remuneration to 5					3,204,515.29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Glenn O'Kearnev	Seniar Director	23-Oct-13	0.2	545.00	109.00	Trade-On	Review LMA SOP/cash flow from eloa, amend, corporate and trading - time split between two sublasks,	Corporate - Liquidation
· · · · · · · · · · · · · · · · · · ·							Meeting with KAT and GOK to discuss offer from J/V partner to acquire LMIM's 66% share in 38	
Brett Cottam	Director	23-Oct-13	0.6	485.00	291.00	Assets	Cavil Ave.	Corporate - Liquidation
Renee Lobb	Senior Director	24-Oct-13	0.2	485.00	9 7.00	Investigations	Amendments to ASIC letter. Resend to John Corbett with edits.	Category 2 - Approved/Paid
Renee Lobb	Senior Director	24-Oct-13	0.2	485.00	97.00	Trade-on	GET GRADS TO LODGE REVISED WIND UP FORM FOR FINALISATION OF ARLF WIND UP.	Category 2 - Approved/Paid
Renee Lobb	Senior Director	24-Oct-13	0.1	485.00	48.50	Administration	Printing of supporting documents for ASIC letter.	Category 2 - Approved/Paid
Ginette Muller	Sr Managing Dir	24-Oct-13	0.3	590.00	177.00	Administration	Email from David Whyte re LMA not giving him access to records. Email to KAT and then to DLC and DW regarding same.	Approved/Paid
Ginette Muller	Sr Managing Dir	24-Oct-13	0.5	590.00	295.00	Administration	Lengthy letter to Gerald Yip at ASIC regarding the audit. Check and sign. Email and send.	Category 2 - Approved/Paid
Benjarnin Robson	Consultant ł	24-Oct-13	0.1	235.00	23.50	Administration	Email to Nicholas M of Telstra requesting break up of invoices	Category 2 - Approved/Paid
Benjamin Robson	Consultant I	24-Oct-13	0.3	235.00	70.50	Creditors	Review of Hickeys Invoice 116151 and action for payment	Category 2 - Approved/Paid
Eloa Zuardi	LOA	24-Oct-13	0.2	345.00	69.00	Trade-on	ASIC Notices received for various funds	Category 2 - Approved/Paid
Eloa Zuardi	LOA	24-Oct-13	0.3	345.00	103.50	Trade-ол	LM FMIF and LM AIF monies received into account. Prepare MYOB vouchers	Category 2 - Approved/Paid
Eloa Zuardí	LOA	24-Oct-13	0.2	345.00	69.00	Creditors	Review POD received for International Commerce Corporation	Category 2 - Approved/Paid
Joan Springate	Admin II	24-Oct-13	0.1	130.00	13.00	Administration	Payment voucher & posting payment	Category 2 - Approved/Paid
Glenn O'Kearney	Senior Director	24-Oct-13	0.1	545.00	54.50	Trade-on	Review 5 x receipts fund reimbursements to LMA.	Category 2 - Approved/Paid
Jessica Jowett	Administration	24-Oct-13	0.2	130.00	26.00	Administration	Lodgement form delivered to ASIC	Corporate - Liquidation
Benjamin Robson	Associate II	24-Oct-13	0.4	235.00	94.00	Creditors	Telstra Tax invoice and account reconciliation review. Carculations to determine if chargeable correct email to Eloa Zuardi	Corporate - Liquidation
Eloa Zuardi	Manager 1	24-Oct-13	1	345.00	345.00	Administration	Review and request amendments on BAS. Amend MYOB re GST codes etc	Corporate - Liquidation
	Administration 1	24-Oct-13	0.3	130.00	39.00	Administration	Search alternate address for AdvanWealth Management + prepare 8974fn42	Corporate - Liquidation
Brittany Newman Sally McBryde	Managing Director	24-Oct-13	0.0	550.00	55.00	Administration	BAS return - ATO GST return - check working papers and sign where appropriate. Review BASyworksheets/ledger from MYOB etc. check of cash flow. 3 montifily renonciation of all	Corporate - Liquidation
Glenn O'Kearney	Senior Director	24-Oct-13	1	545.00	545.00	Administration	accounts, meet with Eloa to discuss reconciliation and amendments to cash book	Corporate - Liquidation
	Senior Director	24-Oct-13	0.1	545.00		Assets	Update in from Scott momuntires regarding baronsand tax position. note to b cottam.	Corporate - Liquidation
Glenn O'Kearney		24-Oct-13	0.1	130.00		Administration	Update Delivery Register.	Corporate - Liquidation
Tanya Kratz	Administration 2			485.00		Administration	Finalise letter to david Whyte.	Category 2 - Approved/Paid
Renee Lobb	Senior Director	25-Oct-13	0.1	465.00	·	Administration	Emails regarding wind up notice payments.	Category 2 - Approved/Paid
Renee Lobb	Senior Director	25-Oct-13	0.2			Trade-on	Review email from Simon Tickner regarding employment conditions. Review scan and email out letter to David Whyte from Ginette,	Category 2 - Approved/Paid
Renee Lobb	Senior Director	25-Oct-13	0.3	485.00	145.50			Category 2 -
Renee Lobb	Senior Director	25-Oct-13	0.2	485.00	97.00	Employees	Review further commentary on Simon Tickner's' role and employment conditions.	Approved/Paid Category 2 -
Renee Lobb	Senior Director	25-Oct-13	0.1	485.00	48.50	Trade-on	Respond to investor query. Payment continuation received regarding King & Wood Mallesons (nv 1548788. Consultants register	Approved/Paid Category 2 -
Benjamin Robson	Consultant I	25-Oct-13	0.2	235.00	47.00	Creditors	updated	Approved/Paid Category 2 -
Benjamin Robson	Consultant i	25-Oct-13	0.3	235.00	70.50	Administration	Receipt funds transfer from Closure of FMIF and ICPIF accounts in MYOB	Approved/Paid Category 2 -
Benjamin Robson	Consultant I	25-Oct-13	0.2	235.00	47.00	Creditors	Correspondence with Hickey Lawyers regarding outstanding Silver Sea invoice	Approved/Paid

 $\overline{}$

LM investment Ma Remuneration to 3	nagement Ltd (In Liqui 10 June 2018	dation)			3,204,515.29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Sally McBryde	Managing Dir	25-Oct-13	0.3	550.00	165.00	Trade-on	Email from GDM re Simon Lickner terms of employment, review previous emails and involces, email to and from EBZ re payment terms, respond to GDM	Approved/Paid
Joan Springate	Admin II	25-Oct-13	0.2	130.00	26.00	Administration	Receipt voucher & posting receipt	Category 2 - Approved/Paid
		20-000-10		100.00	40.00			Category 2
John Corbett	Managing Dir	25-Oct-13	0.5	550.00	275.00	Administration	Review and authorisation of payments and authorisations	Approved/Paid
					400.50	O dhara	Various ASIC Notices received re various funds for LMIM. Forward to Steve Hannan	Category 2 - Approved/Paid
Eloa Zuardi	LOA	25-Oct-13	0.3	345.00	103.50	Creditors	Review Simon Licker - Terms of Engagement, advise SAM re holidays paid. Review all invoices paid	
Eloa Zuardi	LOA	25-Oct-13	0.5	345.00	172.50	Employees	to date and hours worked	Approved/Paid
<u> </u>		05.0.140			470 50	0	Review Telstra invoice received and service and equipment rental for period 22/07 to 26/07	Category 2 - Approved/Paid
Eloa Zuardi	LOA	25-Oct-13	0.5	345.00		Creditors	Mail in from ASIC - Invoice Statement 15 Oct 13	Corporate - Liquidation
Brittany Newman	Administration 1	25-Oct-13	0.1	130.00	13.00			
Brittany Newman	Administration 1	25-Oct-13	0.2	130.00	26.00	Administration	Split files & Filing	Corporate - Liquidation
Brittany Newman	Administration 1	25-Oct-13	0.2	130.00	26.00	Administration	Prepare Paying-In voucher (Trans ID 543449) Infinanze adjustments on property cavilitave for discussion and draft note to Wayne robble to discuss	Corporate - Liquidation
Class Offermou	Senior Director	25-Oct-13	1	545.00	545.00	Assets	adjustments and offer. liaise with Brett regarding content of note.	Corporate - Liquidation
Glenn O'Kearney		25-Oct-13	0.2	545.00	109.00		Update m glennon overseas entities, reply regarding div est/pod	Corporate - Liquidation
Glenn O'Kearney	Seniar Director	25-001-13	0.2	040.00	109.00	765665		
Brett Cottam	Director	25-Oct-13	1.5	485.00	727.50	Assets	Reviewing a new lease offer for 38 Cavill Ave and formalising a response to the Joint Venture partner in consideration of their offer to acquire LMIM's share of the property including emails to GOK.	Corporate - Liquidation
Mohamed Almulia	Senjor Consultant I	25-Oct-13	2	325.00	650.00	Administration	Review payment requests received and send back to LM 9 multipled batches	Corporate - Liquidation
Worldmen Annuna		20.001.10						Category 2 - Approved/Paid
Eloa Zuardi	LOA	28-Oct-13	0.3	345.00	103.50	Creditors	Email in from Irene re ASIC Notices received . Asked BN to re-scan all notices	Category 2 -
Benjamin Robson	Consultant I	28-Oct-13	0.1	235.00	23.50	Creditors	Take phone call from LM investor and refer appropriately	Approved/Paid Category 2 -
Mohamed Almulla	Sr. Consult I	28-Oct-13	0.4	325.00	130.00	Administration	Form 601NC regarding: funds - look up in filing room and correspondence with staf f at LM	Approved/Paid
Sally McBryde	Managing Dir	28-Oct-13	0.3	550.00	165.00	Administration	Email from Mark Waller re insurance meeting, discuss with GDM, review various related emails	Category 2 - Approved/Paid
		28-Oct-13	0.3	345.00	103.50	Administration	Follow up BAS cheques and lodgement from Brisbane	Corporate - Liquidation
Eloa Zuardi	Manager 1	28-Oct-13	0.3	345.00	69.00	Administration	Follow up BAS cheque and lodgement from Brisbane	Corporate - Liquidation
Eloa Zuardi	Manager 1	28-001-13	0.2	343.00	09.00	Administration	EMA BAS - Correspondence with admin start to ensure BAS cheque signed and paid on time. File	
Benjamin Robson	Associate II	28-Oct-13	0.3	235.00	70.50	Administration	copies made of BAS	Corporate - Liquidation
	Denis Manada Dianta	28-Oct-13	0.1	590.00	59.00	Administration	Review and sign BAS return for period; sign any associated payments; update schedule or outstanding returns/refunds	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director		0.1	345.00		Creditors	Reviewed BN file note regarding return to sender- report to creditors	Corporate - Liquidation
Stuart Clancy	Manager 1	28-Oct-13	0.1		34.50	Cieditors	Reviewed various emails regarding shareholdings and creditors of the company. Emails to creditors	
Stuart Clancy	Manager 1	28-Oct-13	0.3	345.00	103.50	Creditors	providing update on liquidation to date.	Corporate - Liquidation
Mohamed Almulia	Senior Consultant I	28-Oct-13	1	325.00	325.00	Administration	Review sales consents and requests from LMIM and pass on to JDC	Corporate - Liquidation
Mohamed Almulla	Senior Consultant I	28-Oct-13	0.3	325.00	97.50	Administration	Review forms and send scanned copies to Shelley	Corporate - Liquidation
		<u> </u>					Review correspondence from Clayton Utz regarding insurance request for documents by David Whyte, Send email to Chris regarding Managed Performance Fund affidavit sought also.	Category 2 - Approved/Paid
Renee Lobb	Senior Director	29-Oct-13	0.3	485.00	145.50	Assels	Discussion with Ginette Muller regarding outstanding matters on insurance. Update on all and draft	Category 2 -
Renee Lobb	Senior Director	29-Oct-13	0.6	485.00	291.00	Assets	correspondence to all parties regarding retained for Clayton Utz.	Approved/Paid Category 2 -
	Reading Director	29-Oct-13	0.2	485.00	97.00	Assets	Finalise and email to KM, BDO and MGN+ insurance letter regarding retainer for Clayton Utz.	Approved/Paid
Renee Lobb	Senior Director	29-061-13	0.2	400.00	57.00	-1656ta		Category 2 -
Renee Lobb	Senior Director	29-Oct-13	0.2	485.00	97.00	Trade-on	Respond to advisor enquiry regarding tax statements for investors.	Approved/Paid
Banca Labb	Senior Director	29-Oct-13	0.3	485.00	145.50	Trade-on	Patrick Gray, Take call and answer numerous quenes on First Mongage lifcome Fund, provide comprehensive update.	Category 2 - Approved/Paid
Renee Lobb								Category 2 -
Renee Labb	Senior Director	29-Oct-13	0.3	485.00	145.50	Trade-on	Review and respond to investor emails. request fund details to respond appropriately.	Approved/Paid

-

 $\widehat{}$

	anagement Ltd (In Liqui	idation)						
Remuneration to Name		Date	Hours	Charge Out Rate	3,204,515.29 Charge		Narrative	Classification
Ginette Muller	Sr Managing Dir	29-Oct-13	0.4	590.00	236.00	Administration	Discussion with RCL re insurance. Agree action plan and send letter to LPS.	Category 2 - Approved/Paid
Eloa Zuardi	LOA	29-Oct-13	0.5	345.00	172.50	Employees	Various correspondences to payroll tax NSW re 2013 assessment based on the wages declared on the annual reconciliation but for the period ending 19/03/13 to 30/06/13.	Category 2 - Approved/Paid
Mohamed Aimulia	Sr. Consult I	29-Oct-13	2	325,00	650.00	Trade-on	Explane numerous casmics transactions for the biowingcash perrovs incretexings ASX 200Finit- Restricted WorkingFMIF Bridgewater Estate ControllerFMIF Northshore Bayview Street Pty LtdFMIF OVST Pty LtdFMIF Coulter and Rocola Controller	Category 2 - Approved/Paid
Andrew Weatherley	Managing Director	29-Oct-13	0.1	545.00	54.50		Review file and note to James Court regarding s533(2) update, highlight areas to incl	Corporate - Liquidation
Ritlany Newman	Administration 1	29-Oci-13	0.1	130.00	13.00	Administration	Scan/Email ASIC Invoice Statements received by our office to Irene Caling (LM), cc EBZ	Corporate - Liquidatio
Stuart Clancy	Manager 1	29-Oct-13	0.2	345.00	69.00	Creditors	Responding to creditor queries regarding progress of liquidation to date.	Corporate - Liquidatio
Aohamed Almulia	Senior Consultant	29-Oct-13	0.5		162.50	Administration	Review information on and requests - coolate and arrange and send to Kelly Trenfield	Corporate - Liquidatio
						Ì	Review Russell's update version of letter to Mr. Whyte and discussion around defamation suits	Category 2 -
Renee Lobb	Senior Director	30-Oct-13	0.3	485.00	145.50	Trade-on	possible.	Approved/Paid Category 2 -
	Senior Director	30-Oct-13	0.2	485.00	97.00	Administration	Review correspondence from ASIC on meeting request and subsequent emails from Ginette Muller and John Corbett.	Approved/Paid
Renee Lobb	Senior Director	30-001-13	0.2	405.00	97.00	Auminiculation	Obtain Simon Vertullo affidavit from Kelly-Arine Trentield. See AU and have her scan in parts to send	
Renee Lobb	Senior Director	30-Oct-13	0.1	485.00	48.50	Administration	to Clayton Utz.	Approved/Paid
								Category 2 -
Renee Lobb	Senior Director	30-Oct-13	0.9	485.00	436.50	Investigations	Discussions with ASIC regarding audit requirements.	Approved/Paid Category 2 -
Ashleigh Ubank	Admin II	30-Oct-13	0.6	130.00	78.00	Administration	Scanning and saving affidavit to system in parts and reassembling them in Adobe.	Approved/Paid
Asheigh Obenk	Addition (0.0				Wall in from Australian Bureau of Statistics. Log in on the website and te-set password, review	
						L .	questionnaire to be completed. Phone call out to Australian Bureau of Statistics and discuss completion of survey	Category 2 - Approved/Paid
Eloa Zuardi	LOA	30-Oct-13	0.5	345.00	172.50	Trade-on		Category 2 -
Eloa Zuardi	LOA	30-Oct-13	0.5	345.00	172.50	Trade-on	Retrieve Loan Management Fees from archive and forward to McGrath	Approved/Paid
								Category 2 -
Eloa Zuardi	LOA	30-Oct-13	0.2	345.00	69.00	Trade-on	Follow up Blue Broking re insurance cover (Professional indemnity Policy)	Approved/Paid Category 2 -
		20 0 1 1 2	0.2	345.00	69.00	Trade-on	Follow up Blue Broking re insurance cover (Professional Indemnity Policy)	Approved/Paid
loa Zuardi	LOA	30-Oct-13	0.2	343.00	69.00			Category 2 -
Celly-Anne Treafield	Sr Managing Dir	30-Oct-13	3.9	590.00	2,301.00	Administration	Review and reallocation fo remuneration costs	Approved/Paid
								Category 2
Celly-Anne Trenfield	Sr Managing Dir	30-Oct-13	0.3	590.00	177.00	Administration	Review and reallocation fo remuneration costs	Approved/Paid Category 2 -
Iohn Corbett	Managing Dir	30-Oct-13	0.5	550.00	275.00	Administration	Discussions with ASIC re fund audits	Approved/Paid
							Call from Andrea Hyslop of Blue Broking re claim received from Ramsden Law on behalf of direct,	Category 2 -
ally McBryde	Managing Dir	30-Oct-13	0.7	550.00	385.00	Administration	discuss same, review email and information, call to Chris Erfurt of Clayton Utz to discuss further	Approved/Paid
		00.001.10	0.1				Discussion with Chris Enturt of Clayton Utz re insurance claim and notification to insurers, discuss	Category 2 -
ally McBryde	Managing Dir	30-Oct-13	0.5	550.00	275.00	Administration	claim by Peter Drake Mail in from Australian Bureau or Statistics - Correspondence, URGENT - Economic Activity	Approved/Paid
		30-Oct-13	0.1	130.00	13.00	Administration	statement 2012-13 form outstanding	Corporate - Liquidation
rittany Newman	Administration 1	30-Oct-13	0.1	545.00	54.50	Creditors	Review cred/advisor query .review draft reply Stuart Clancy and advise.	Corporate - Liquidation
lenn O'Keamey	Senior Director	30-Oct-13	0.1	545.00	54.50			
							Update in from Scott at PKF regarding baronsand lodgments, reply, update team on matter, review	Corporate - Liquidation
lenn O'Kearney	Senior Director	30-Oct-13	0.3	545.00		Assets	offer in writing from agents - regarding adjustments etc. note to Bcottam regarding offer/discussion	Corporate - Liquidation
lenn O'Keamey	Senior Director	30-Oct-13	0.1	545.00		Administration	Review note and correspondence regarding survey for company. reply to eloa.	
елл О'Кеатеу	Senior Director	30-Oct-13	0.1	545.00	54.50	Assets	Note from eloa regarding insurance pl corporate entity.	Corporate - Liquidation
nristine Stead	Senior Director	30-Oct-13	2.1	545.00	1,144.50	Administration	Download will and prepare tee schedules and summaries for all enuties and funds for September 2013; email Sydney office requesting WIP reports	Corporate - Liquidation
hristine Stead	Seniar Director	30-Oct-13	0.4	545.00	218.00	Administration	Amend errors in fee schedules and reimport data; update KAT	Corporate - Liquidation
elly-Anne Trenfield	Senior Managing Director	30-Oct-13	0.1	590.00	59.00		Mail in from Robbie & Assoc re revised offer; email in re GST status of baronsands	Corporate - Liquidation

 \sim

Remuneration to	lanagement Ltd (in Li 30 June 2018	galascioni			3,204,515.29			
Name		Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Stuart Clancy	Manager 1	30-Oct-13	0.3	345.00	103.50	Creditors	Responding to vanous creation queries regarding progress of liquidation to date and tuture course of action. Discussion with GOK regarding emails.	Corporate - Liquidation
Brett Cottam	Director	30-Oct-13	0.1	485.00	48.50	Assets	Review of updated offer to acquire LMIM's 66% share in 38 Cavill Ave.	Corporate - Liquidation
							Review letter from russells with their amendments to investors of CPAIF and ICPAIF regarding Whyte's recent correspondence. Make amendments and suggestions and send to John Corbett.	Category 2 - Approved/Paid
Renee Lobb	Senior Director	31-Oct-13	0.2	485.00	97.00	Trade-on	Discussion with MGN+ regarding statting and proportions of costs for each funds servicing	Category 2 -
Renee Lobb	Senior Director	31-Oct-13	0.3	485.00	145.50	Trade-on	requirements. Discuss with Ginette Muller also.	Approved/Paid Category 2 -
Renee Lobb	Senior Director	31-Oct-13	0.2	485.00	97.00	Employees	Discussion with Ginette Muller regarding staffing. Send email to MGN+ on same.	Approved/Paid
							Discussion with Chris Erfurt at Clayton Utz regarding policy expiry for insurance today and matters to be attended to. Send copy of letter sent to other practitioners regarding retainer and discuss if any further notifications need to be made before policy expiry. Send email to Ginette Muller and Kelly-	Category 2 -
Renee Lobb	Senior Director	31-Oct-13	0.4	485.00	1 9 4.00	Assets	Anne Trenfield requesting a revision of the initial notification to ensure all points covered.	Approved/Paid Category 2 -
Renee Lobb	Senior Director	31-Oct-13	0.2	485.00	97.00	Trade-on	Review and respond to query regarding tax statement.	Approved/Paid
	Series Director							Category 2 -
Renee Lobb	Senior Director	31-Oct-13	0.3	485.00	145.50	Trade-on	Call investor and answer numerous queries regarding David Whyte recent correspondence.	Approved/Paid Category 2 -
Renee Lobb	Senior Director	31-Oct-13	0.3	485.00	145.50	Investigations	Review ASIC outline of argument.	Approved/Paid
							Email from SCR re Whyte letter to investors. Review and RCL to finalise re audit comments	Category 2 - Approved/Paid
Ginette Muller	Sr Managing Dir	31-Oct-13	0.5	590.00	295.00	Administration	Correspondence with Utz and other IP's issues re insurance.Email from BDO re the other funds.Took	
Ginette Muller	Sr Managing Dir	31-Oct-13	0.5	590.00	295.00	Administration	phonecall from McGrath re other funds using staff and equipment at LM.	Approved/Paid
							appointment (01/07/2012 to 18/03/2013). Phone call out to payroll tax and discuss lodgement's made to date and figures. Email to Maribel re annual reconciliation for NSW payroll tax for period pre	Category 2 - Approved/Paid
Eloa Zuardi	LOA	31-Oct-13	1	345.00	345.00	Trade-on		Category 2 -
Eloa Zuardi	LOA	31-Oct-13	0.2	345.00	69.00	Trade-on	Review various MYOB vouchers and update MYOB	Approved/Paid Category 2 -
	O	21 Oct 12	0.3	235.00	70.50	Creditors	Correspondence with Irene Caling regarding outstanding invoices, provide update to Glenn O'Kearnev	Approved/Paid
Benjamin Robson	Consultant I	31-Oct-13	0.3	235.00	70.00	Cieditors	Correspondence with Zoran of LM regarding loan book outstanding payments and payment	Category 2 -
Benjamin Robson	Consultant I	31-Oct-13	0.2	235.00	47.00	Creditors	confirmations	Approved/Paid Category 2 -
Glenn O'Keamey	Senior Director	31-Oct-13	0.1	545.00	54.50	Administration	Liaise with BJR regarding consultants register/updates and new invoices.	Approved/Paid
Gleish O Rearriey	Genilar Director						Deview and mollopotion to comparation costs	Category 2 - Approved/Paid
Kelly-Anne Trenfield	Sr Managing Dir	31-Oct-13	2.6	590.00	1,534.00	Administration	Review and reallocation fo remuneration costs	Category 2 -
Joan Springate	Admin II	31-Oct-13	0.1	130.00	13.00	Administration	Receipt voucher & posting receipt	Approved/Paid
Britlany Newman	Administration 1	31-Oct-13	0.1	130.00	13.00	Administration	Update POD (International Commerce Corporation) in MYOB + upload supporting docs	Corporate - Liquidation
Glenn O'Keamey	Senior Director	31-Oct-13	0.1	545.00	54.50	Assets	Note in from Brett cottam regarding offer analysis 38 cavill	Corporate - Liquidation
James Court	Director 1	31-Oct-13	3.5	485.00	1,697.50	Investigations	Preparation of supplementary report Call troin Wayne Robbie and subsequent email to KAT and GUK regarding updated other to acquire	Corporate - Liquidation
	Director	31-Oct-13	0.5	485.00	242.50	Assets	LMIM's 66% share in 38 Cavili Ave.	Corporate - Liquidation
Brett Collam		31-00210					Respond to advisor query. Confirm with LM Investment Management Ltd staff to add email to	Category 2 - Approved/Paid
Renee Lobb	Seniar Director	01-Nov-13	0.1	485.00	48.50	Creditors	distribution list. Review emails and letters sent to three insurers yesterday regarding possible claims. Save all to	Category 2 -
Rense Łobb	Senior Director	01-Nov-13	0.3	485.00	145.50	Assets	insurance folder in file.	Approved/Paid
Renee Lobb	Senior Director	01-Nov-13	1	485.00	485.00	Investigations	Fund update on all funds with Ginette Muller. Discussions regarding how to get paid, proposals for each fund and staffing costs issue.	Category 2 - Approved/Paid
Renee Lobb	Senior Director	01-Nov-13	0.3	485.00	145.50		Discussion with Chris Erfurt regarding insurance and call to be made to David Whyte. Find email and send to Ginette Muller. Also find correspondence recently send by BDO and give copy to Chris.	Category 2 - Approved/Paid

LVI Investment Ma Remuneration to 3	inagement Ltd (în Liqui 10 June 2018	dation)			3,204,515.29	ta tenta en la composición Constantes		
Name		Date	Hours	Charge Out Rate		Task Desc	Narrative	Classification
Renee Lobb	Senior Director	01-Nov-13	0.3	485.00	145.50	Administration	General update with Steve Hannan. Discuss issues and updates to be sent out and timing for same. Sand insurance letter to Ginette Mutler for communication with BDO, make edits as appropriate and	Category 2 - Approved/Paid Category 2 -
				485.00	145 50	0.00010	resubmit for approval.	Approved/Paid
Renee Lobb	Senior Director	01-Nov-13	0.3	485.00	145.50	Assets	Update Consultants fee register with payment confirmations from Zoran. Correspondence with Zoran	
Benjamin Robson	Consultant I	01-Nov-13	0.3	235.00	70.50	Creditors	regarding payment of remaining King & Wood Mallesons balances	Approved/Paid
Denjamin Robadin		-				1	Review fees and allocation across fundstimalis re sop/fee position and ability of funds to make	Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	01-Nov-13	1.5	590.00	885.00	Administration	payment towards outstanding costsDiscussion with GOK refee allocation	Approved/Paid
							Email in from David Whyte reaccess to books and records Review Russells correspondence to	Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	01-Nov-13	0.4	590.00	236.00	Administration	Clouts re confidentiality deedDraft email to David Whyte re access to information Email from Chris Enurt of Clayton Utz enclosing letters to insurers providing further notification of	Approved/Paid Category 2 -
Sally McBryde	Managing Dir	01-Nov-13	0.1	550.00	55.00	Administration	claims under PI policy	Approved/Paid
Renee Lobb	Senior Director	01-Nov-13	0.2	485.00	97.00	Administration	Fijling all emails sent over the past few days.	Corporate - Liquidation
							Carrorm Brett cottam and kelly regarding offer on cavil property - discuss options etc. refine	
Glenn O'Kearney	Senior Director	01-Nov-13	0.8	545.00	436.00	Assets	settlement info calculations and issue to Bcottam.	Corporate - Liquidation
James Court	Director 1	01-Nov-13	5.5	485.00	2,667.50	Investigations	Further preparation of supplementary report	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	01-Nov-13	0.5	590.00	295.00	Assets	Discussion re sale of 38 Cavill property/JV interest	Corporate - Liquidation
	Senior Consultant I	01-Nov-13	0.3	325.00	97.50	Administration	Discuss with Fiona regarding: appointment of controller etc. and discuss with Kelly Trenfield	Corporate - Liquidation
Mohamed Almulla		01-Nov-13	0.0	345.00	34.50	Creditors	Responding to creditor queries regarding liquidation matters.	Corporate - Liquidation
Stuart Clancy	Manager 1					Administration	Scan/Save/Upload GOK approved supporting docs	Corporate - Liquidation
Brittany Newman	Administration 1	01-Nov-13	0.1	130.00	13.00		Discussion with GOK and KAT regarding a counter-offer to J/V partner for 38 Cavill Ave.	Corporate - Liquidation
Brett Cottam	Director	01-Nov-13	0.4	485.00	194.00	Assets	Call to GOK to provide an update on offer from Scott McMurine to acquire LMIM's 66% share in 38	
Brett Cottam	Director	01-Nov-13	0.1	485.00	48.50	Assets	Cavill Ave.	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	03-Nov-13	0.2	590.00	118.00	Administration	Review and update tdl; Review, print, file emails	Corporate - Liquidation
reay rano trendo	Betrief Hieldinging Encered			·		·		Category 2 -
Glenn O'Kearney	Senior Director	04-Nov-13	0.2	545.00	109.00	Assets	Follow up MN for loan management fee owing to LM (VA)	Approved/Paid Category 2 -
· · ·							Review and save to file argument in response to ASIC outline of argument.	Approved/Paid
Renee Lobb	Senior Director	04-Nov-13	0.2	485.00	97.00	Investigations	Updating the website for all funds to include updating details liquidation form, 601NC notices,	Category 2 -
		04-Nov-13	0.8	485.00	388.00	Administration	information about tax statements etc.	Approved/Paid
Renee Lobb	Senior Director	04-1909-13		403.00		p torrin los auor		Category 2 -
Renee Lobb	Senior Director	04-Nov-13	0.2	485.00	97.00	Trade-on	Review and file email from MGN+ regarding staffing agreement and details of proposal for same.	Approved/Paid
TIGHES EDDS								Category 2 -
Renee Lobb	Senior Director	04-Nov-13	0.2	485.00	97.00	Trade-on	Respond to investor enquire regarding how to update details. Attach form. Working through general lund matters across the various lunds subject to the AFSL and investor	Approved/Paid Category 2 -
							communications queries arising from communications sent out last week.	Approved/Paid
John Corbett	Managing Dir	04-Nov-13	1	550.00	550.00	Administration		Category 2 -
M-U., A	Ca Managina Din	04-Nov-13	0.2	590.00	118.00	Administration	Discussion re LMIM funding and apportionment of costs; receipt of legal docs -GOK	Approved/Paid
Kelly-Anne Trenfield	Sr Managing Dir	04-1004-13	0.2		110.00		DISCUSSICITIES DECOLUTING TERMINING REPORTS FOR CAVIT OTHER DISCUSSIONS. ISSUE NOTE TO LOCY regarding das	
							and tax return status, updates in from lucy regarding tax position, note to boottam regarding lawyers	Corporate - Liquidation
Glenn O'Keamey	Senior Director	04-Nov-13	0.4	545.00	218.00	Assels	advice/contacts. Review gran retter oner regarding JV agreements, amendments to b cottam gran and circulate.	Curporate - Liquidation
i			_		100 50	A	reference records held regarding JV agreement.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	04-Nov-13	0.3	545.00	163.50	-	Review draft correspondence to Robbie and associated re offers	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	04-Nov-13	0.1	590.00	59.00	, 100510		Corporate - Liquidation
James Court	Director 1	04-Nov-13	2.8	485.00	1,358.00	Investigations	Prepare of supp report for ASIC	Corporate - Liquidation
Brett Cottam	Director	04-Nov-13	0.5	485.00	242.50	Assets	Drafting a counter-proposal to Robbie & Associates regarding LMIM's share in 38 Cavill Ave.	
Brett Cottarn	Director	04-Nov-13	0.1	485.00	48.50	Assets	Call from GOK to discuss counter-proposal to Scott McMurtrie.	Corporate - Liquidation
Ginette Muller	Senior Managing Director	04-Nov-13	0.2	590.00	118.00	Administration	Compile correspondence for investors going for AIF and CPF.	Corporate - Liquidation
							Email in Russells	Category 2 - Approved/Paid
John Park	Sr Managing Dir	05-Nov-13	0.1	590.00	59.00	Administration		Category 2 -
Eloa Zuardi	LOA	05-Nov-13	1	345.00	345.00	Trade-on	Update cashflow and SOP	Approved/Paid
		00,101,10		2 18:00				

 $\overline{}$

LM Investment Ma Remuneration to 3 Name			Hours	Charge Out Rate	3,204,515.29 Charge	Task Desc	Narrative	Classification
								Category 2 -
Eloa Zuardi	LOA	05-Nov-13	1	345.00	345,00	Trade-on	Update cashflow and SOP Dratt response to David Whyte for Ginette Muller. Save down appeal documents and update website	Approved/Paid Category 2 -
Renee Lobb	Senior Director	05-Nov-13	0.5	485.00	242.50	Trade-on	for Imfmif BDO address.	Approved/Paid
	Certior Director	00110110	0.0					Category 2 -
Renee Lobb	Senior Director	05-Nov-13	0.2	485.00	97.00	Assets	Do email response for Ginette Muller for KM regarding insurance.	Approved/Paid
Benjamin Robson	Consultant I	05-Nov-13	0.3	235.00	70.50	Creditors	Russells invoice B16193 regarding appeal of decision of Dalton J. Update consultants register	Category 2 - Approved/Paid Category 2 -
		05 No. 40	0.5	550.00	775.00	Administration	Review of breakdown of to date FTI costs between funds and implications for audits	Approved/Paid
John Corbett	Managing Dir	05-Nov-13 05-Nov-13	0.5	235.00	47.00		ABS Economic survey request and Correspondence with Shelley chalmers to complete	Corporate - Liquidation
Benjamin Robson	Associate II		0.2				Prepare of supp report	Corporate - Liquidation
James Court	Director 1	05-Nov-13	1	485.00	485.00	Investigations	Finalising and sending a letter to Wayne Robble and Scott McMurtie regarding 38 Cavill Ave.	Corporate - Liquidation
Brett Cottam	Director	05-Nov-13	0.3	485.00	145.50	Assets		Category 2 -
Eloa Zuardi	LOA	06-Nov-13	0.2	345.00	69.00	Administration	Phone call and email in from JS re MYOB Entry - Transfer from VA to Liquidation	Approved/Paid Category 2 -
Eloa Zuardi	LOA	06-Nov-13	0.2	345.00	69.00	Trade-on	Review Telstra invoice for payement	Approved/Paid
							Updated tee summary, remuneration and OOPS calculation for period 19 March to 30 September	Category 2 -
Eloa Zuardi	LOA	06-Nov-13	2.1	345.00	724.50	Trade-on	2013 Draft various invoices for each controllership & Funds Email and telephone Correspondence with Nicholas from 1 elstra discussing charges on	Approved/Paid Category 2 -
					04.00	Graditara	Reconciliation of 26/07. Email to Eloa Zuardi outlining charges	Approved/Paid
Benjamin Robson	Consultant 1	06-Nov-13	0.4	235.00	94.00	Creditors	King & Wood Mallesons invoice 1594059 discussion of apportionment with Glenn O'Keamey. Review	
Benjamin Robson	Consultant I	06-Nov-13i	0.3	235.00	70.50	Creditors	of previous invoice apportionment	Approved/Paid
Derjamin Kobach								Category 2 -
John Corbett	Managing Dir	06-Nov-13	0.5	550.00	275.00	Administration	Various general investor correspondance issues across the funds	Approved/Paid Category 2 -
				545.00	400.00	Assets	Amend calculations of staff time spont assisting MPF Trustees; amend draft invoice	Approved/Paid
Christine Stead	Senior Director	06-Nov-13	0.2	545.00			Send update of address request to LM Investment Management Ltd staff.	Corporate - Liquidation
Renee Lobb	Senior Director	06-Nov-13	0.1	485.00			Assist GC with MYOB query and find out info	Corporate - Liquidation
Mohamed Almulla	Senior Consultant I	06-Nov-13	0.3	325.00		Administration		Corporate - Liquidation
Christine Stead	Senior Director	06-Nov-13	1.4	545.00	763.00	Administration	Download fees and prepare schedule of October fees for all files relating to LMIM	Corporate - Liquidation
Stuart Clancy	Manager 1	06-Nov-13	0.2	345.00	69.00	Creditors	Email to creditor regarding update on liquidation to date. Review MGN+ email to Ginette Muller regarding staft cost sharing. Review Ginette Muller response	Colporate - Elquidation
Renee Lobb	Senior Director	07-Nov-13	0.2	485.00	97.00	Trade-on		Approved/Paid Category 2 -
		07-Nov-13	0.4	235.00	94.00	Creditors	Verification of final Telstra charges and file note on accuracy of invoice	Approved/Paid
Benjamin Robson	Consultant I	07-INOV-13	0.4	233.00	54.00		Updated fee summary, remuneration and OOPS calculation for period 19 March to 30 September	Category 2 -
Eloa Zuardi	LOA	07-Nov-13	2	345.00	690.00	Trade-on	2013 Draft various invoices for each controllership & Funds	Approved/Paid
		1		···	· · · · ·		Amendments on various invoices for each controllership & Funds. Updated tee summary.	Category 2 - Approved/Paid
loa Zuardi	LOA	07-Nov-13	1.5	345.00	517.50	Trade-on	remuneration and OOPS calculation for period 19 March to 30 September 2013 Discussions with LM staff on general matters across funds. General LM correspondance including	Category 2 -
ohn Corbett	Managing Dir	07-Nov-13	1	550.00	550.00	Administration	Court Appeal.	Approved/Paid Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	07-Nov-13	0.1	590.00	59.00	Trade-on	Review and approve payment	Approved/Paid Category 2 -
Demine Bonder	CONSULTANT	07-Nov-13	3.2	550.00	1,760.00	Administration	Review draft outline in reply to asic	Approved/Paid
Darnian Bender			0.3	130.00			Bank reconciliations	Corporate - Liquidation
essica Jowett	Administration	07-Nov-13	0.3	485.00		7 tarrier lot Labor	Reschedule teleconference from today to tomorrow.	Corporate - Liquidation
lenee Lobb	Senior Director	07-Nov-13		,	++++==	Administration	Email in from Kim at Strategic Communications and update KAT	Corporate - Liquidation
Christine Stead	Senior Director	07-Nov-13	0.1	545.00			Call from Wayne Robbie regarding 38 Cavill Ave.	Corporate - Liquidation
Irett Coltam	Director	07-Nov-13	0.1	485.00	48.50	Assets		Category 2
lenjamin Robson	Consultant (08-Nov-13	0.2	235.00	47.00	Creditors	Russells invoice B16221 regarding LMIM Corporate Dealing with general matters across the funds including some general investor / advisor	Approved/Paid Category 2
ohn Corbett	Managing Dir	08-Nov-13	0.5	550.00	275.00	Administration	correspondance.	Approved/Paid

 \int_{Ω}

1M Investment Ma	inagement Ltd (In Liquid	lation)						RAMANA
Remuneration to 3					3,204,515.29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Kelly-Anne Trenfield	Sr Managing Dir	08-Nov-13	0.7	590.00	413.00	Administration	Review and reallocation of remuneration re fund splitGDM re spec purpose liquidator	Category 2 - Approved/Paid
Brittany Newman	Administration 1	08-Nov-13	0.2	130.00		Administration	Split files + filing	Corporate - Liquidation
	Senior Director	08-Nov-13	0.3	545.00	163.50		Amend October fee reports	Corporate - Liquidation
Christine Stead		00-1402-13	0.0	540.00	(00.00		Email to KAT and GOK regarding the new Lease for Lot 5, the caveat on title and a summary or the	
Brett Cottam	Director	08-Nov-13	0.5	485.00	242.50	Assets	discussion with Wayne Robbie regarding the J/V.	Corporate - Liquidation
Brett Cottam	Director	08-Nov-13	0.1	485.00	48.50	Assets	Call to Peter McLeod regarding the caveat on 38 Cavill Ave.	Corporate - Liquidation
Ginette Muller	Senior Managing Director	08-Nov-13	1	590.00	590.00	Administration	Review the options regarding appointment of special purpose liquidator.	Corporate - Liquidation Category 2 -
					045.00	T	Update cashflow and SOP.	Approved/Paid
Eloa Zuardi	LOA	11-Nov-13	1	345.00	345.00	Trade-on		Category 2 -
Eloa Zuardi	LOA	11-Nov-13	1	345.00	345.00	Trade-on	Update cashflow and SOP.	Approved/Paid
	20/1	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,				·		Category 2 -
Eloa Zuardi	LOA	11-Nov-13	0.2	345.00	69.00	Trade-on	Follow up the insurance payment	Approved/Paid Category 2 -
				235.00	23.50	Creditors	Follow up Shelley chambers regarding payment of invoice to Hickeys - 116511	Approved/Paid
Benjamin Robson	Consultant I	11-Nov-13	0.1	230.00	23.00			Category 2 -
Benjamin Robson	Consultant I	11-Nov-13	0.2	235.00	47.00	Creditors	MYOB payment to Macquarie Premium Funding for October Insurance installment	Approved/Paid
benjamin Kabaan							a de setter la setter la setter invinción for staff ima posision KM	Category 2 -
Christine Stead	Senior Director	11-Nov-13	0.1	545.00	54.50	Assets	Draft email to Jarrod at KordaMentha issuing invoice for staff time assisting KM	Approved/Paid Category 2 -
		44 51-11 40	 0.0	485.00	97.00	Creditors	Respond to adviser queries on winding up notice.	Approved/Paid
Renee Lobb	Senior Director	11-Nov-13	0.2	405.00	57.00			Category 2 -
Renee Lobb	Senior Director	11-Nov-13	0.1	485.00	48.50	Trade-on	Review and file email from David Whyte regarding update for website.	Approved/Paid
Brittany Newman	Administration 1	11-Nov-13	0.1	130.00	13.00	Administration	Mail in from Norton Rose Fulbright - Statement	Corporate - Liquidation
Brittany Newman	Administration 1	11-Nov-13	0.1	130.00	13.00	Administration	Mail in from ASIC - Invoice Statement 29 Oct 2013	Corporate - Liquidation
John Park	Senior Managing Director	11-Nov-13	0.1	590.00	59.00	Administration	Settle email in Investor	Corporate - Liquidation
		11-Nov-13	5.9	485.00	2,861.50	Investigations	Prepare of Supplementary report for ASIC	Corporate - Liquidation
James Court	Director 1	11-7004-13	0.5			involugencie	Email from and response to Brett Cottam re removal of caveat Details re leasing and caveat removal	
Kelly-Anne Trenfield	Senior Managing Director	11-Nov-13	0.2	5 90.00	118.00	Assets	re 38 Cavili; email in from BC and response	Corporate - Liquidation
Brett Cottam	Director	11-Nov-13	0.1	485.00	48.50	Assets	Call to Wayne Robbie to discuss Lot 5 lease and the caveat registered on title.	Corporate - Liquidation
Brett Cottam	Director	11-Nov-13	0.1	485.00	48.50	Assets	Email exchange with KAT regarding the lapsing caveat registered on title - 38 Cavil Ave.	Corporate - Liquidation
Biou oottain								Category 2 - Approved/Paid
Eloa Zuardi	LOA	12-Nov-13	0.1	345.00	34.50	Creditors	Telstra outstanding invoice Review ASIC statements re lat, review file note from BN request to ASIC to provide us with a detailed	Category 2 -
		12-Nov-13	0.5	345.00	172.50	Creditors	statement listing the ACN for each lodgement . Update GOK	Approved/Paid
Eloa Zuardi	LOA	12-1404-13	0.0	540.00		0.041110		Category 2 -
Eloa Zuardi	LOA	12-Nov-13	0.3	345.00	103.50	Trade-on	Review various ASIC late fees	Approved/Paid Category 2 -
							Review FUND WIP/OOPS	Approved/Paid
Eloa Zuardi	LOA	12-Nov-13	0.2	345.00	69.00	Administration		Category 2 -
laba Qashatt	Managing Dir	12-Nov-13	0.5	550.00	275.00	Administration	Covering off on some minor audit matters for the various funds.	Approved/Paid
John Corbett		12-1407-10	0.0					Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	12-Nov-13	2.2	590.00	1,298.00	Administration	Review remuneration and allocationReview calculations and reporting Email in from Jarrod at KM querying charges for time post Liquidators appointment; draft response	Approved/Paid Category 2 -
						& deplointenting	and confirm with KAT	Approved/Paid
Christine Stead	Senior Director	12-Nov-13	0.1	545.00	54.50	Administration	Payment - check supporting documentation, review invoices and banking voucher for payment to	Category 2 -
Sally McBryde	Managing Dir	12-Nov-13	0.1	550.00	55.00	Administration	Macquarie for PI insurance, approve payment	Approved/Paid
DENY INCOLYCIE	managing Di	12 100 10		200.00				Category 2 -
Glenn O'Kearney	Senior Director	12-Nov-13	0.1	545.00	54.50	Administration	Review custody fees, note to LM teem. Call to ASIC following up on 89741n37. Request ACN's also be provided for all new transactions listed	Approved/Paid
				100.00	AE 00	Administration	call to ASIC following up on 8974fn37. Request ACM's also be provided for all new translocations liced on latest invoice. Prepare 8974fn45.	Corporate - Liquidation
Britlany Newman	Administration 1	12-Nov-13	0.5	130.00	65.00		Filing	Corporate - Liquidation
Brittany Newman	Administration 1	12-Nov-13	0.1	130.00	13.00	Administration		

 $\sum_{i=1}^{n}$

Remuneration to	lanagement Ltd (in Liqui 30 June 2018				3,204,515.29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
John Park	Senior Managing Director	12-Nov-13	0.4	590.00	236.00	Administration	Review and draft affidavit for MPF hearing	Corporate - Liquidation
Brett Cottam	Director	12-Nov-13	0.2	485.00	97.00	Assets	Call from wayne Robble and email forwarded to KAT and GOR with latest position regarding the offer to acquire LMIM's 66% share in 38 Cavill Ave.	Corporate - Liquidation
Renee Lobb	Senior Director	12-Nov-13	0.2	485.00	97.00	Administration	Review and respond to emails regarding work in progress and OOPS issues.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	12-Nov-13	0.3	545.00	163.50	Assets	Review email updates from boottam regarding sale negotiation caviil, caveat position, discussions	Corporate - Liquidation
Glenn O'Keamey	Senior Director	12-Nov-13	0.2	545.00	109.00		File review - status with KAT.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	12-Nov-13	0.2	545.00	109.00	Assets	Review LMIM corp cash flow and SOP from ELoa.	Corporate - Liquidation
Gienn O Keamey		12-1101-10		0-10.00	100.00	70000		Category 2 -
Brittany Newman	Admin I	13-Nov-13	0.1	130.00	13.00	Administration	Mail in from Aizer Plumbing Solutions Pty Ltd - Overdue Account - \$381.74	Approved/Paid
		10.11.10		945.00	550.00	Advalation	Various discussions re WIP/OOPS amendments. Phone call out to Renee re previous amendments required. Email Sharon and CH. Discuss fees with GOK	Category 2 - Approved/Paid
Eloa Zuardi	LOA	13-Nov-13	1.6	345.00	552.00	Administration	required. Email on and on Discuss less with Gork	Category 2 -
Eloa Zuardi	LOA	13-Nov-13	0.5	345.00	172.50	Trade-on	invoices	Approved/Paid
								Category 2 -
Eloa Zuardí	LOA	13-Nov-13	0.3	345.00	103.50	Trade-on	Various discussions re ASIC invoices re overdue lodgments for MIF.	Approved/Paid
					17.00		Final payment to Telstra	Category 2 - Approved/Paid
Benjamin Robson	Consultant I	13-Nov-13	0.2	235.00	47.00	Creditors	Review email from Clayton Utz regarding insurance matters and directors indemnity for legal costs.	Category 2 -
Renee Lobb	Senior Director	13-Nov-13	0.2	485.00	97.00	Investigations	send email to Ginette Muller with my comments on proposed actions.	Approved/Paid
Reliee LODD		10-1404-10		400.00	07.00	lineongunono	Take First Montgage Income Fund call regarding tax statements. Advise process. Do draft response	Category 2 -
Renee Lobb	Senior Director	13-Nov-13	0.3	485.00	145.50	Trade-on	for Ginette Muller to quarantined fund enquiry.	Approved/Paid
		<u> </u>					Review nomerous emails regarding inspection or insurance policies, commini with Ginette Multer stat waiting on fee update. Email Chris at Clayton Utz to confirm matters raised and provide draft	Category 2 -
D (. h h	Senior Director	13-Nov-13	0.5	485.00	242 50	Investigations	correspondence to be reviewed to David Whyte.	Approved/Paid
Renee Lobb	Senior Director	13-NOV-13	0.5	465.00	242.00	Investigations		Category 2 -
Glerin O'Kearnev	Senior Director	13-Nov-13	0.1	545.00	54.60	Administration	Review and sign off on payments to telstra - va period	Approved/Paid
John Park	Senior Managing Director	13-Nov-13	0.5	590.00	295.00	Administration	Attend Russells to review and sign affidavit for 18 November hearing	Corporate - Liquidation
Eloa Zuardi	Manager 1	13-Nov-13	0.2	345.00	69.00	Creditors	Respond to Anna from Corporate Traveler re July Outstanding Invoices	Corporate - Liquidation
Christine Stead	Senior Director	13-Nov-13	0.1	545.00		Assets	Review insurance payment	Corporate - Liquidation
	Administration	13-Nov-13	0.1	130.00	13.00	Administration	Receipt voucher & posting receipt	Corporate - Liquidation
Joan Springate			0.3	130.00	39.00	Administration		Corporate - Liquidation
loan Springate	Administration	13-Nov-13						Corporate - Liquidation
Stuart Clancy	Manager 1	13-Nov-13	0.2	345.00	69.00	Creditors	Email and follow up phone call from Steven King regarding a party interested in acquiring 38 Cavili	
Brett Coltam	Director	13-Nov-13	0.2	485.00	97.00	Assets	Ave.	Corporate - Liquidation
Sied Collam	Birdotoi						Review various legal involces/splits etc. liaise with bir regarding register. note to Ashley regarding	Comercia Limitation
Glenn O'Kearney	Senior Director	13-Nov-13	0.2	545.00	109.00	Administration		Corporate - Liquidation
elenn O'Kearney	Senior Director	13-Nov-13	0.1	545.00	54.50	Assets	opene in an property interest of water	Corporate - Liquidation Category 2 -
							Review of King & Wood Mallesons statement of accounts and P&K lawyers invoice reviewed and filed	Approved/Paid
Benjamin Robson	Consultant I	14-Nov-13	0.2	235.00	47.00	Creditors		Category 2 -
lohn Corbett	Managing Dir	14-Nov-13	0.5	550.00	275.00	Administration	ASIC costs. Queries - reviewing of listing for allocation across funds.	Approved/Paid
		(4-1404-10	0.0		2.0.00			Category 2 -
elly-Anne Trenfield	Sr Managing Dir	14-Nov-13	0.2	590.00	118.00	Administration		Approved/Paid
					400			Category 2 - Approved/Paid
loa Zuardi	LOA	14-Nov-13	0.3	345.00	103,50	Trade-on		Category 2 -
loa Zuardi	LOA	14-Nov-13	1.5	345.00	517.50	Trade-on		Approved/Paid
		14-5104-13	1.5	3-0.00	0,7.00			Category 2 -
loa Zuardi	LOA	14-Nov-13	0.6	345.00	207.00	Trade-on		Approved/Paid Category 2 -
		14 Nav. 40		345.00	60 M	Trade-on		Category 2 - Approved/Paid
oa Zuardi	LOA	14-Nov-13	0.2	345.00	09.00	Haud-Un		

(

LM Investment Ma Remuneration to 3 Name		dation) Date	Hours	Charge Out Rate	3,204,515.29 Charge	Task Desc	Narrative	Classification
Eloa Zuardi	LOA	14-Nov-13	0.2	345.00	69.00	Trade-on	D H Flinders invoice 14044 to LM Investment Management Limited	Category 2 - Approved/Paid
		14-Nov-13	0.1	550.00	55.00	Administration	Discussions with GOK re status of fees, invoicing of funds, payments and receivers position	Category 2 - Approved/Paid
Saliy McBryde Renee Lobb	Managing Dir Senior Director	14-Nov-13	0.1	485.00	145.50	Investigations	Discussions with Ginette Muller and Chris genaut regarding inspection of policy documents by Whyte.	Category 2 - Approved/Paid
Renee Lobb	Senior Director	14-Nov-13	0.5	485.00	242.50	investigations	Discussion with Chris Enult regarding meeting this alternoon and potential conflicts. Drartener and acknowledgement to be signed by attendees to note documents are being viewed on a strictly withou prejudice basis. Meeting with David Whyte, David Schwarz and Chris Erlurt regarding insurance matters, cooperative	Approved/Paid Category 2 -
Renee Lobb	Senior Director	14-Nov-13	1.6	485.00	776.00	Investigations	approach and inspection of notification documents.	Approved/Paid Category 2 -
Ginette Muller	Sr Managing Dir	14-Nov-13	1	590.00	590.00		Insurance emails from DW to DW. Call Chris Erfurt. Provide RCL with update and discuss issues.	Approved/Paid Corporate - Liquidation
Benjamin Robson	Associate II	14-Nav-13	0.1	235.00	23.50	Administration	Record Mail in, P&K inovies Email to creditor re July Outstanding Invoices	Corporate - Liquidation
Etoa Zuardi	Manager 1	14-Nov-13	0.3	345.00	103.50	Creditors	Call from Wayne Robbie regarding an improved other for 36 Cavili Ave and email to KAT and GOK	Corporate - Explication
Brett Cottam	Director	14-Nov-13	0.2	485.00	97.00	Assets	with details.	Corporate - Liquidation
Brett Cottam	Director	14-Nov-13	1	485.00	485.00	Assets	Creating a Tenancy Schedule in excel for 38 Cavill Ave.	Corporate - Liquidation
Brett Cottam	Director	14-Nov-13	0.1	485.00	48.50	Assets	Offer received from Robbie & Associates regarding acquiring LMIM's 66% share in 38 Cavill Ave. Review oners in cavili - discussions with brett cottam regarding options;: notes from joourke. call	Corporate - Liquidation
Glenn O'Keamey	Senior Director	14-Nov-13	0.4	545.00	218.00	Assets	Jamie to discuss interest	Corporate - Liquidation
Glenn O'Keamey	Senior Director	14-Nov-13	0.7	545.00	381.50	Assets	Reconciliation of October time entries prepare calculations for allocations of fund wip. discussions with elea regarding OOPS adjustments/discussions with Rlobb regarding oops and other FTI cost adjustments. discussions with Kelly regarding spread sheet info. consider invoicing issues/. note from John c regarding information required for Audits etc. Time charge split amongst relevant codes.	Corporate - Liquidation
Benjamin Robson	Consultant I	15-Nov-13	0.2	235.00	47.00	Creditors	Payment to DH Fünders	Cătegory 2 - Approved/Paid
Benjamin Robson	Consultant I	15-Nov-13	0.2	235.00	47.00	Creditors	Final payment to Aizer. Update Purchase Order register	Category 2 - Approved/Paid
Kelly-Anne Trenfield	Sr Managing Dir	15-Nov-13	0.1	590.00	59.00	Administration	Review and approve payment	Category 2 - Approved/Paid
Eloa Zuardi	LOA	15-Nov-13	0.2	345.00	69.00	Trade-on	request EOM September and October figures. Update LMIM operational costs for October. Draft invoices	Category 2 - Approved/Paid
Eloa Zuardi	LOA	15-Nov-13	0.3	345.00	103.50	Creditors	Various emails in re ASIC Invoices outstanding	Category 2 - Approved/Paid
Eloa Zuardi	LOA	15-Nov-13	0.2	345.00	69.00	Trade-on	Email out to john Corbett re D H Flinders invoice 14044	Category 2 - Approved/Paid
Eloa Zuardi		15-Nov-13	0.5	345.00	172.50	Trade-on	Final October invoices for MIF and AIF	Category 2 - Approved/Paid
John Park	Senior Managing Director	15-Nov-13	0.2	590.00	118.00	Administration	Email in Russells	Corporate - Liquidation
Joan Springate	Administration	15-Nov-13	0.1	130.00	13.00	Administration	Bank Rec	Corporate - Liquidation
Glenn O'Kearney	Senior Director	15-Nov-13	0.1	545.00	54.50	Assets	Call from Jamie Bourke regarding cavili - interested party. MPF Matters relating to the hearing 14 November 2013, subsequently adjourned until 15/11. Read	Corporate - Liquidation
Ginette Muller	Senior Managing Director	15-Nov-13	1	590.00	590.00	Administration	affidavit from Vertullo. Emails from Ashley and email to team.	Corporate - Liquidation
Ginette Muller	Senior Managing Director	15-Nov-13	1	590.00	590.00	Administration	Correspondence and discussion with carlo.red.rigoli/ggaladarilaw.com. MPF Investor wanting to complain about Ponzi scheme.	Corporate - Liquidation
Renee Lobb	Senior Director	18-Nov-13	0.1	485.00	48.50	Trade-on	Respond to generic quey regarding adviser change.	Approved/Paid Category 2 -
Renee Lobb	Senior Director	18-Nov-13	0.1	485.00	48.50	Trade-on	Respond to general investor query.	Approved/Paid
Eloa Zuardi	LOA	18-Nov-13	0.5	345.00	172.50	Trade-on	Amended invoices as requested. LM FMIF/LM AIF	Category 2 - Approved/Paid
	Senior Director	18-Nov-13	0.1	545.00	54.50	Trade-on	Sign off payments VA period/1	Category 2 - Approved/Paid

EM Investment Ma Remuneration to	anagement Ltd (in Liquid 20 June 2018	dation)			3.204.515.29			
Name Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Glenn O'Kearriey	Senior Director	18-Nov-13	0,1	545.00	54.50	Trade-on	Sign of payment consultant regarding committee meetings.	Category 2 - Approved/Paid
Quenin O Realiney							Covering a range of general administrative matters including audits, fund expenses and general	Category 2 -
John Corbett	Managing Dir	18-Nov-13	1	550.00	550.00	Administration	correspondance.	Approved/Paid
Andrew Weatheriey	Managing Director	18-Nov-13	0.1	545.00	54.50	Administration	Review draft supplementary report, email James Court	Corporate - Liquidation
Sally McBryde	Managing Director	18-Nov-13	0.1	550.00	55.00	Administration	Ernail enclosing Simon Vertullo affidavit re MPF court hearing, read and consider	Corporate - Liquidation
John Park	Senior Managing Director	18-Nov-13	7.6	590.00	4,484.00	Administration	Attend Supreme Court for MPF hearing and ongoing negotiation of matters	Corporate - Liquidation
Gienn O'Kearney	Senior Director	18-Nov-13	0.1	545.00	54.50	Assets	Liaise with Boottam regarding cavill offers/status. Call trom Steven King and subsequent email sent to GOK and KAT regarding a potential offer to	Corporate - Liquidation
Brett Cottam	Director	18-Nov-13	0.2	485.00	97.00	Assets	purchase 38 Cavill Ave.	Corporate - Liquidation
Brett Cottam	Director	18-Nov-13	0.1	485.00	48,50	Assets	Email exchange with GOK regarding offers for 38 Caviil Ave.	Corporate - Liquidation
Breu Couani	Director	10-100-10		400.00			External correspondence in final; Check and execute document; send to mail following close	
Ginette Muller	Senior Managing Director	18-Nov-13	0.1	590.00	59.00	Administration	inspection and approval of enclosures and content.	Corporate - Liquidation
Ginette Muller	Senior Managing Director	18-Nov-13	0.5	590.00	295.00	Administration	Discussion with LM re Dubai	Corporate - Liquidation Category 2 -
		10.11.10		485.00	48.50	Trade-on	Respond to general investor enquiry regarding change of ownership.	Approved/Paid
Renee Lobb	Senior Director	_19-Nov-13	0.1	400.00	40.50	11208-01	Various discussions with GOK re WIP/OOPS Prepare Monthly invoices for period 19/03/13 to	Category 2 -
Eloa Zuardi	LOA	19-Nov-13	0.5	345.00	172.50	Trade-on	31/10/13 and supporting documents. Prepare excel file re WIP/OOPS for each period.	Approved/Paid
							Discussion with Gok re invoicing and cost recovery claims	Category 2 - Approved/Paid
Kelly-Anne Trenfield	Sr Managing Dir	19-Nov-13	0.2	590.00	118.00	Administration		Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	19-Nov-13	0.1	590.00	59.00	Administration	Review and approve payment	Approved/Paid
Kelly-Anne Trenneid	Or Managing Dir	10.101.10						Category 2 -
Benjamin Robson	Consultant I	19-Nov-13	0.1	235.00		Administration	Mail out cheque Telstra	Approved/Paid Corporate - Liquidation
Andrew Weatherley	Managing Director	19-Nov-13	0.4	545.00	218.00	Administration	Review and amend draft supplementary report, email James Court regarding areas to amend	Corporate - Liquidation
Andrew Weatheriey	Managing Director	19-Nov-13	0.2	545.00	109.00	Administration	Review amended supplementary report, make changes	Corporate - Liquidation
James Court	Director 1	19-Nov-13	2.5	485.00	1,212.50	Investigations	Amendments to supp report to ASIC	Corporate - Liquidation
Christine Stead	Sentor Director	19-Nov-13	0.1	545.00	54.50	Administration	Review Electronic Funds Transfer payment to DH Flinders Review email in from start comms office regarding August and October fees - review against reports	Corporate - Liquidation
		40 Nov 42	0.3	545.00	163.50	Investigations	held and invoice provided; email GOK summary of differences	Corporate - Liquidation
Christine Stead	Senior Director	19-Nov-13	0.3	545.00	103.00	Assets	Prepare invoice to MPF regarding indemnity claim	Corporate - Liquidation
Christine Stead	Senior Director	19-Nov-13		545.00	54.50	Assets	Prepare invoice to MPF and draft email	Corporate - Liquidation
Christine Stead	Senior Director	19-Nov-13	0.1		39.00	Administration	Setting up Online payment & posting payment	Corporate - Liquidation
Joan Springate	Administration	19-Nov-13	0.3	130.00	69.00	Creditors	Drafting and sent email to creditor regarding progress of liquidation to date	Corporate - Liquidation
Stuart Clancy	Manager 1	19-Nov-13	0.2	345.00	13.00	Administration	Update Delivery Register.	Corporate - Liquidation
Tanya Kratz	Administration 2	19-Nov-13	0.1	130.00	13.00	Administration		Category 2 -
Renee Lobb	Senior Director	20-Nov-13	0.2	485.00	97.00	Trade-on	Update with Chris Erfurt and Ginette Muller regarding meeting after hearing.	Approved/Paid
							Email out to Industry Fund credit control re correspondence re super funds and employees super not paid to date.Draft response	Category 2 - Approved/Paid
Eloa Zuardi	LOA	20-Nov-13	0.5	345.00	172.50	Trade-on	Various discussions with GOK re WIP/OOPS Prepare Monthly involces for period 19/03/13 to	Category 2
Eloa Zuardi	LOA	20-Nav-13	1	345.00	345.00	Trade-on	31/10/13 and supporting documents. Prepare excel file re WIP/OOPS for each period.	Approved/Paid
Andrew Weatherley	Managing Director	20-Nov-13	0.1	545.00	54.50	Creditors	BR email encl fax from iFCC, review and direct to relevant staff	Corporate - Liquidation
James Court	Director 1	20-Nov-13	1	485.00	485.00	Investigations	Send list of queries and discuss with GOK updated SOP and creditor details for report	Corporate - Liquidation
James Court	Director 1	20-Nov-13	0.7	485.00	339.50	Investigations	Email and discussion with GOK regarding: current financial position of LMIM for report to ASIC	Corporate - Liquidation
Glenn O'Keamey	Senior Director	20-Nov-13	0.1	545.00	54.50	Assets	Review offer ray white of RP. note from boottam .reply with recommendation.,	Corporate - Liquidation
sion o nounoy							Note from JAC regarding suppreport for ASIC. prelim review of drait report and note to JAC on	Corporate - Liquidation
Glenn O'Keamey	Senior Director	20-Nov-13	0.2	545.00	109.00	Investigations	timing. Receipt of EUT from Ray white Commercial for 38 Cavill Ave and recommendation sent to KAT and	
Brett Cottam	Director	20-Nov-13	0.3	485.00	145.50	Assets	GOK.	Corporate - Liquidation
JICAL COLLENII	paraotor	F0-1404-10	0.0	-100,00			Call from Steven King requesting feedback to the EOI sent through for 38 Cavill Ave.	Corporate - Liquidation

(

LM Investment Ma Remuneration to 3 Name			Hours	Charge Out Rate	3,204,515.29 Charge	Task Desc	Narrative	Classification
Renee Lobb	Senior Director	21-Nov-13	0.2	485.00	97.00	Investigations	Uiz costs.	Approved/Paid
Renee Lobb	Senior Director	21-Nov-13	0.2	485.00	97.00	Trade-on	Respond to enquiries covering numerous funds.	Category 2 - Approved/Paid
Kelly-Anne Trenfield	Sr Managing Dir	21-Nov-13	0.1	590.00	59.00	Administration	GDM re payment to clayton utz	Category 2 - Approved/Paid
Glenn O'Kearney	Senior Director	21-Nov-13	0.5	545.00	272.50	AdmInistration	Reconcile LMIM OOPS regarding allocation to funds, recommendation from eloa and reply.	Category 2 - Approved/Paid Category 2 -
Glenn O'Keamey	Senior Director	21-Nov-13	1.5	545.00	817.50	Assets	further discussions.	Approved/Paid
Eloa Zuardi	LOA	21-Nov-13	1	345.00	345.00	Trade-on	Prepare Monthly invoices for period 19/03/13 to 31/10/13 and supporting documents. Prepare excel file re WIP/OOPS for each period. Opdate consultants register with payment confirmations and reconcile Clayton Utz and King & Wood	Category 2 - Approved/Paid Category 2 -
Benjamin Robson	Consultant !	21-Nov-13	0.2	235.00	47.00	Creditors	Mallesons statements with payments made	Approved/Paid
Andrew Weatherley	Managing Director	21-Nov-13	0.1	545.00	54.50	Creditors	Michelle- Austrac email regarding debt, fwd to eng team for feedback and resp	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	21-Nov-13	0.1	590.00	59.00	Assets	Emails in; review outstanding tasks and review to do list	Corporate - Liquidation
Glenn O'Keamey	Senior Director	21-Nov-13	1	545.00	545.00	Assets	cavill property/offer/memo regarding accepting JV buyout. note to procloud regarding sale doc. note to Lucy seeking updated statements etc. updates to adjustment catculations and consider note outline for JRP/GDM.	Corporate - Liquidation
	Director	21-Nov-13	0.4	485.00	194.00	Assets	Calls from Steven King and GOK and email request from KAT regarding the sale of 38 Caviil Ave.	Corporate - Liquidation
Brett Cottam Benjamin Robson	Associate II	21-Nov-13	0.3	235.00	70.50	Administration	WIP and OOPS excel dump from elite into H:	Corporate - Liquidation
Renee Lobb	Senior Director	22-Nov-13	D.1	485.00	48.50	Trade-on	Respond to generic query regarding tax statement.	Category 2 - Approved/Paid
Renee Lobb	Senior Director	22-Nov-13	0.4	485.00	194.00	Trade-on	Call ASIC regarding audit requirement for ARLF. Get information.	Category 2 Approved/Paid Category 2 -
Renee Lobb	Senior Director	22-Nov-13	0.2	485.00	97.00	Administration	Send database updates to LM investment Management Ltd staff and send CPAIF tax returns to LM Investment Management Ltd per John Corbett request.	Approved/Paid Category 2 -
Renee Lobb	Senior Director	22-Nov-13	0.5	485.00	242.50	Trade-on	Responding to numerous general enquiries from investors.	Approved/Paid Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	22-Nov-13	0.2	590.00	118.00	Administration	GOK re fee distributionreview costs outstanding to clayton utz; update to gdm <u>JC amail regarding Austrac email and documents, resp to JC seeking turtifier informance and send</u>	Approved/Paid
Andrew Weatherley	Managing Director	22-Nov-13	0.2	545.00	109.00	Administration	resp to Michelle- Austrac	Corporate - Liquidation
Brett Cottam	Director	22-Nov-13	0.1	485.00	48.50	Assets	Call from Wayne Robbie to discuss offer from parties to acquire LMIM's 66% share in 38 Cavill Ave.	Corporate - Liquidation
Tanya Kratz	Administration 2	22-Nov-13	0.1	130.00	13.00	Administration	Forward Fax Received. Call from peter micloud regarding sale doc cavill Jv.: hole to kelly and Breft aralt memo regarding	Corporate - Liquidation
Glenn O'Kearney	Senior Director	22-Nov-13	1	545.00	545.00	Assets	offer/acceptance etc. note to Brett.	Corporate - Liquidation Category 2
Renee Lobb	Senior Director	25-Nov-13	0.1	485.00	48.50	Trade-on		Approved/Paid Category 2 -
Andrew Weatherley	Managing Dir	25-Nov-13	0.1	545.00	54.60	Trade-on		Approved/Paid Category 2 -
Eloa Zuardi	LOA	25-Nov-13	0.5	345.00	172.50	Trade-on	file re WIP/OOPS for each period.	Approved/Paid Category 2 -
Christine Stead	Senior Director	25-Nov-13	0.1	545.00	54.50	Assets		Approved/Paid Category 2
John Corbett	Managing Dir	25-Nov-13	0.43	550.00	235.88	Administration	invoicing.	Approved/Paid Category 2 -
John Corbett	Managing Dir	25-Nov-13	1.57	550.00	864.12		invoicing.	Approved/Paid
Tanya Kratz	Administration 2	25-Nov-13	0.1	130.00	13.00	Administration	Update Delivery Register. Review of email from Peter McLeod regarding drafting agreements to sell Limitor's share in 38 Cavili	Corporate - Liquidation
Brett Cottam	Director	25-Nov-13	0.1	485.00	48.50	Assets	Review of email from Peter MicLeou regarding drawing agreements to seit Linning share in 60 out in Ave.	Corporate - Liquidation

 \bigcap

	anagement Ltd (In Liqui	dation)						
Rémuneration to 3	30 June 2018				3,204,515.29			
Name	Title	Date	Hours.	Charge Out Rate	Charge	Task Desc	Narrative	Classification
		05 No. 40		485.00	145.50	Assets	Call from Steven King and subsequent email exchange with GOK regarding sale of Cavill Ave property.	Corporate - Liquidation
Brett Cottam	Director	25-Nov-13	0.3		242.50		Working on a draft memo to JRP recommending acceptance of an offer for 38 Cavill Ave.	Corporate - Liquidation
Brett Coltarn	Director	25-Nov-13	0.5	485.00			Bank reconciliation.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	25-Nov-13	0.1	545.00	54.50	Administration	Larse with D cottam regarding cavili otter , review draft memo regarding otter acceptance, drafting of	****
Glenn O'Kearney	Senior Director	25-Nov-13	1.1	545.00	599.50	Assets	memo and note to Brett.	Corporate - Liquidation
Stuart Clancy	Manager 1	25-Nov-13	0.2	345.00	69.00	Creditors	Reviewing and responding to various creditors queries regarding progress of liquidation to date.	Corporate - Liquidation
·						Tuesda an	Follow up Clouts re FEG - Deed of Advance	Category 2 - Approved/Paid
Eloa Zuardi	LOA	26-Nov-13	0.2	345.00	69.00	Trade-on	Catch up with John Conventregaroing audit queries and issues taised by Ethand potential 2 week	, and the second s
							period down coast to resolve same, discuss AIF update and follow up steve on distribution spread	Category 2 -
Renee Lobb	Senior Director	26-Nov-13	0.5	485.00	242.50	Administration	sheet and get shauna to draft RG 45 update for AIF. Phone Call from GOK regarding tunds received into bank account; advise related invoice details;	Approved/Paid Category 2 -
				545.00	54.50	Assets	lemail out to JV confirming receipt of payment	Approved/Paid
Christine Stead	Senior Director	26-Nov-13	0.1		54.50	1		Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	26-Nov-13	0.1	590.00	59.00	Administration	Discussion with GDM re books and records application for directions	Approved/Paid
		1					Dealing with various emails across the remaining funds - covering audits, invoicing and wind-up	Category 2 - Approved/Paid
John Corbett	Managing Dir	26-Nov-13	1	550.00	550.00		issues. Attend meeting at Share Doyle Chambers to discuss mediation	Corporate - Liquidation
John Park	Senior Managing Director	26-Nov-13	1.7	590.00	1,003.00	Administration	Changes to an internal memo with recommendation to accept an other for the sale of LMIM's 66%	Corperato Adalaman
Brett Cottam	Director	26-Nov-13	1.5	485.00	727.50	Assets	share in 38 Cavill Ave.	Corporate - Liquidation
James Court	Director 1	26-Nov-13	1.9	485.00	921,50	investigations	Further prepare of supp report	Corporate - Liquidation
	Director	20 (127 10					Review status of memo and make amendments regarding offer on cavill RP. amend annexure's for	Corporate - Liquidation
Glenn O'Kearney	Senior Director	26-Nov-13	0.7	545.00		Assets	memo and liaise with BC.	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	26-Nov-13	0.1	590.00	59.00	Administration	Review GST position; update schedule	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	26-Nov-13	0.1	590.00	59.00	Administration	Review statement of position for administration from GOK Prione call in from Kate and discussions to FEG - Deed of Advance. Advise SAM/GOK expected	Corporate - Equivation
			0.5	345.00	173 50	Trade-on	date to pay liquidators.	Approved/Paid
Eloa Zuardi	LOA	27-Nov-13	0.5	343.00	112.30			Category 2 -
Renee Lobb	Senior Director	27-Nov-13	0.2	485.00	97.00	Investigations	Speak with John Corbett and review email regarding audit meeting on Monday.	Approved/Paid
							With Ginette Muller regarding hearing tomorrow nad details of how we tound out BOQ deal tell over. Discuss with John Corbett also.	Category 2 - Approved/Paid
Renee Lobb	Senior Director	27-Nov-13	0.2	485.00	97.00	Investigations		Category 2 -
Sally McBryde	Managing Dir	27-Nov-13	0.1	550.00	55.00	Trade-on	Follow up FEG repayment of advances to employees	Approved/Paid
Sally Michiyue		21-1404-10						Category 2 - Approved/Paid
John Corbett	Managing Dir	27-Nov-13	0.5	550.00	275.00	Administration	General matters (emails, invoices) across LM funds.	Corporate - Liquidation
John Park	Senior Managing Director	27-Nov-13	0.6	590.00	354.00	Administration	Emails in Russells regarding MPF claim	Corporate - Liquidation
Tanya Kratz	Administration 2	27-Nov-13	0.1	130.00	13.00	Administration	Update Delivery Register.	Corporate - Liquidation
Breit Cottam	Director	27-Nov-13	0.1	485.00	48.50	Assets	Calls with Wayne Robbie regarding the offer from the JV.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	27-Nov-13	0.1	545.00	54.50	Assets	Discuss repayment LMA feg loan to LMIM with Eloa and sally.	
Kelly-Anne Trenfield	Senior Managing Director	27-Nov-13	0.1	590.00	59.00	Administration	REVIEW EMAILS RE ISSUANCE OF INVOICE RE FEES/COSTS	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	27-Nov-13	0.2	590.00	118.00	Assets	Review file note re assessment of sale of property at 38 cavill avenue	Corporate - Liquidation
Joan Springate	Administration	27-Nov-13	0.1	130.00	13.00	Administration	Receipt voucher & posting receipt	Corporate - Liquidation Category 2 -
						A	Preparation for and attendance at court re books and records directions re application for dissemination of records	Approved/Paid
Kelly-Anne Trenfield	Sr Managing Dir	28-Nov-13	3.8	590.00	2,242.00	Administration	Call in from AJT re court appearance; call in from Sean Russell request member details ahead of	Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	28-Nov-13	0.2	590.00	118.00	Administration	court appearance	Approved/Paid
		1			···-		Organisation of matters to allow for resolution of audit issues across the funds under audit by EY	Category 2 - Approved/Paid
John Corbett	Managing Dir	28-Nov-13	0.5	550.00				Corporate - Liquidation
John Park	Senior Managing Director	28-Nov-13	0.2	590.00			Review 38 Cavill file note recommendation	Corporate - Liquidation
Benjamin Robson	Associate II	28-Nov-13	0.1	235.00	23.50	Administration	Follow up ASIC survey request	

 \bigcap

LM Investment Ma Remuneration to 3	inagement Ltd (in Liqui 10 June 2018	dation)			3,204,515.29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Tanya Kratz	Administration 2	28-Nov-13	0.1	130.00	13.00	Administration	Update Delivery Register.	Corporate - Liquidation
Renee Lobb	Senior Director	28-Nov-13	0.2	485.00	97.00	Investigations	Provide details of all fund member numbers to Kelly-Anne Trenfield and Sean Russell.	Corporate - Liquidation
Brett Cottam	Director	28-Nov-13	0.2	485.00	97.00	Assets	Calls to Wayne Robble confirming acceptance of offer to acquire LMIM's 66% share in Cavill Ave.	Corporate - Liquidation
Brett Cottam	Director	28-Nov-13	0.6	485.00	291.00	Assets	Calls to GOK and Peter McLeod to discuss drafting transaction documents.	Corporate - Liquidation
Brett Cottam	Director	28-Nov-13	0.2	485.00	97.00	Assets	Exchange or emails and follow up phone call from Steven King regarding an offer from william Lai to acquire 38 Cavill Ave.	Corporate - Liquidation
Brett Cottam	Director	28-Nov-13	0.2	485.00	97.00	Assets	Email to JRP and GDM with recommendation regarding disposal of interest in 38 Cavili Ave,	Corporate - Liquidation
Glenn O'Kearney	Senior Director	28-Nov-13	0.2	545.00		Assets	Liaise with BCottam regarding cavili - TDL regarding lawyers/agreement etc. note to Brett regarding " JV partner and drake.	Corporate - Liquidation
Glenn O'Keamey	Senior Director	28-Nov-13	0.5	545.00	272.50	investigations	Consider issues for supp report, draft updates to SOP, note to james and Stuart	Corporate - Liquidation
Stuart Clancy	Manager 1	28-Nov-13	0.2	345.00	69.00		Obtained creditor information as per GOK request for supp report	Corporate - Liquidation
Eloa Zuardi	LOA	29-Nov-13	0.2	345.00	69.00		Prepare MYOB receipt voucher re funds received	Category 2 - Approved/Paid
Renee Lobb	Senior Director	29-Nov-13	0.1	485.00	48.50	Trade-on	Send database updates to LM Investment Management Ltd staff.	Category 2 - Approved/Paid
Renee Lobb	Senior Director	29-Nov-13	0.1	485.00	48.50	Trade-on	Respond to investor enquiry. Request LM Investment Management Ltd to update details.	Category 2 - Approved/Paid
		0.01		545.00	E4 50	Trade-on	Prepare and send email to treite/Lucy- LM to pay Austrac reg teel-mail from/to Michelle- Austrac regarding o/s invoice	Category 2 - Approved/Paid
Andrew Weatherley	Managing Dir	29-Nov-13	0.1	545.00 485.00	54.30 97.00	Assets	Emails from Peter McLeod and GOK regarding drafting transaction documents.	Corporate - Liquidation
Brett Coltam	Director	29-Nov-13	0.2	485.00	48.50	Assets	Email to GOK with details of offer from William Lai and Alan Ali regarding 38 Cavill Ave.	Corporate - Liquidation
Brett Cottam	Director	29-Nov-13	0.1	485.00	48.50	Assets	Call from Steven King regarding offer from Alan Ali for 38 Cavill Ave.	Corporate - Liquidation
Brett Cottam	Director	29-Nov-13		485.00	163.50	Administration	James Court regarding update on s533(2) reportBrief review of amendments and whole report	Corporate - Liquidation
Andrew Weatherley	Managing Director	29-Nov-13	0.3				Note in from peter moloud and review fiel regarding deed of retirement. reply peter	Corporate - Liquidation
Glenn O'Keamey	Senior Director	29-Nov-13	0.2	545.00	109.00	Assets	Review LMIM ato pod - liaise with Stuart Clancy regarding creditors list etc. note to to JAC	Corporate - Liquidation
Gtenn O'Kearney	Senior Director	29-Nov-13	0.2	545.00	109.00	Investigations	Review update Kelly regarding mpr matter, consider distribution of LMIM avail \$ habilities with	Corporate - Liquidation
Glenn O'Kearney	Senior Director	29-Nov-13	0.5	545.00	272.50	Assets	reference to schedules	Corporate - Liquidation
Keliy-Anne Trenfield	Senior Managing Director	29-Nov-13	0.2	590.00	118.00	Administration	Update discussion post appeal with GDM/JRP; preparation discussion re mediation	
John Park	Senior Managing Director	29-Nov-13	0.1	590.00	59.00	Administration	review and sign BAC file note recommendation	Corporate - Liquidation Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	30-Nov-13	0.1	590.00	59.00	Administration	Email in re mediation results	Approved/Paid
Kelly-Anne Trenfield	Senior Managing Director	30-Nov-13	0.4	590.00	236.00	Administration	Assessment of utilisation of funds from MPF settlement	Corporate - Liquidation
Andrew Weatherley	Managing Dir	02-Dec-13	0.1	545.00	54.50	Trade-on	Emails with Lucy- LM and EBZ regarding Austrac invoice and to do, fwd original to EBZ	Category 2 - Approved/Paid
Eloa Zuardi	LOA	02-Dec-13	0.3	345.00	103.50	Trade-on	Email to JS re new a/c to be opened for MPF. Draft Itr to CBA	Category 2 - Approved/Paid
Eloa Zuardi	LOA	02-Dec-13	0.2	345.00	69.00	Creditors	Prepare payment AUSTRAC 2013-2014 Levy Invoice & Removal from RE Roll (Ref: 100011353)	Category 2 - Approved/Paid
Renee Lobb	Senior Director	02-Dec-13	0.1	485.00	48.50	Trade-on	Request database update per investor request.	Category 2 - Approved/Paid
	Senior Director	02-Dec-13	2.7	485.00	1,309.50	Administration	Travel to and from premises for audit meeting.	Category 2 - Approved/Paid
Renee Lobb			0.1	545.00		Trade-on	Review and approve payment Austrac.	Category 2 - Approved/Paid
Blenn O'Kearney	Senior Director	02-Dec-13	0.1	545.00	94.00	11206-011		Category 2 -
Iohamed Almulla	Sr. Consult I	02-Dec-13	0.2	325.00	65.00	Administration	Scan bank statements to H Driv e	Approved/Paid Category 2 -
Iohamed Almulia	Sr. Consult I	02-Dec-13	0.5	325.00	162.50	Administration	Payment queries - forms etc.	Approved/Paid Category 2 -
hristine Stead	Senior Director	02-Dec-13	0.4	545.00	218.00	Administration	Email supporting invoices to Sean at Russells regarding MPF indemnity claim	Approved/Paid

 \bigcap

LM Investment Ma Remuneration to 3	nagement Ltd (In Liqui 0. June 2018	dation)		이 전에 걸을 썼다. 것은 것 그는 것은 것은 것은 <u>것은 것</u>	3,204,515.29		이는 것이 있는 것이 있는 것이 있다. 것은 것이 있는 것은 것이 있는 것은 것이 있는 것이 있다. 같은 것이 있는 것이 있는 것이 있는 것이 같은 것이 있는 것이 같은 것이 있는 것이 없는 것이 없다.	
Name Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Glenn O'Kearney	Senior Director	02-Dec-13	0.7	545.00	381.50	Assets	Review memo regarding tuno wip and allocation procedures, consider allocation methods/alterative's etc. note to Kelly, reply and liase with Kelly.	Corporate - Liquidalio
Glenn O'Kearney	Senior Director	02-Dec-13	1	545.00	545.00	Assets	Review indemnity tigures/calculations of settlement, review SOP and effect on LMIM corporate entity/cash avail/legal costs etc.	Corporate - Liquidatio
Glenn O'Kearney	Senior Director	02-Dec-13	0.1	545.00	54.50		Request and review update ASIC search	Corporate - Liquidatio
Glenn O'Keamey	Senior Director	02-Dec-13	0.1	545.00	54.50		Review letter CBA regarding set up account.	Corporate - Liquidatio
James Court	Director 1	02-Dec-13	1.4	485.00	679.00	Investigations	Further additional to supp report and creditors positions	Corporate - Liquidatio
	14	02-Dec-13	0.3	345.00	103.50	Investigations	Reviewing email from Lucy of LMIM regarding company search and other related information. Collated information and completed company search and sent to Lucy.	Corporate - Liquidatio
Stuart Clancy	Manager 1 Director	02-Dec-13	0.3	485.00	145.50	Assets	Call from Wayne Robbie and email confirming acceptance of offer for LMIM's share in 38 Cavill Ave.	Corporate - Liquidatio
Brett Cottam	Director	02-000-10	0.0			10000		Category 2 -
loa Zuardi	LOA	03-Dec-13	1	345.00	345.00	Trade-on	Update cashflow	Approved/Paid Category 2 -
Eloa Zuardi	LOA	03-Dec-13	0.2	345.00	69.00	Trade-on	Update cashflow	Approved/Paid
		00-000-10	0.2	0.00		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	Various emails in/out to Simone from Industry Funds Credit Control in relation to various employee's	Category 2 -
Eloa Zuardi	LOA	03-Dec-13	0.6	345.00	207.00	Employees	super outstanding/paid. Update re termination dates etc	Approved/Paid Category 2 -
las Zuerdi	LOA	03-Dec-13	0.2	345.00	69.00	Creditors	Invoice in from PCW 3322795	Approved/Paid
loa Zuardi		03-080-13	0.2	343.00	45.00	Greatere		Category 2 -
enee Lobb	Senior Director	03-Dec-13	0.1	485.00	48.50	Trade-on	Respond to tax statement query.	Approved/Paid Category 2 -
	Consultant I	03-Dec-13	0.2	235.00	47.00	Creditors	Provide Irene Caling with updated outstanding invoices	Approved/Paid
lenjamin Robson	Consultant I	- U3-D8C-13	0.2	233.00	41.00	Citations	Amended King & Wood Mallesons invoice received and apportioned into register, Email to S Tickner	Category 2 -
Benjamin Robson	Consultant I	03-Dec-13	0.3	235.00	70.50	Creditors	requesting payment	Approved/Paid Category 2 -
leniamin Robson	Consultant I	03-Dec-13	0.1	235.00	23.50	Administration	Mail in Superannuation fund	Approved/Paid
Kelly-Anne Trenfield	Sr Managing Dir	03-Dec-13	0.6	590.00	354.00	Administration	Emails in re legal invoices and payments to CounselEmail in re costs assessment of tucker and cowen costs; draft response to RusselisRead transcriptEmails in/out; review and update to do list	Category 2 - Approved/Paid
Blenn O'Keamey	Senior Director	03-Dec-13	0.1	545.00	54.50	Assets	Call from jbourke regarding cavIII rp. review correspondence peter metud regarding contract.	Corporate - Liquidation
ilenn O'Keamev	Senior Director	03-Dec-13	0.1	545.00	54.50	Investigations	Note Stuart Clancy regarding support/info on shareholder issue	Corporate - Liquidation
oan Springate	Administration	03-Dec-13	0.1	130.00	13.00	Administration	Payment voucher & posting payment	Corporate - Liquidation
rett Cottam	Director	03-Dec-13	0.2	485.00	97.00	Assets	Email exchange with Peter McLeod regarding drafting transaction documents.	Corporate - Liquidation
							Update SOP and cashflow	Category 2 - Approved/Paid
loa Zuardi	LOA	04-Dec-13	0.5	345.00	172.50	Trade-on		Category 2 -
loa Zuardi	LOA	04-Dec-13	0.2	345.00	69.00	Trade-on	Update SOP and cashflow	Approved/Paid
							Devenuel of Avistore	Category 2 - Approved/Paid
loa Zuardi	LOA	04-Dec-13	0.2	345.00	69.00	Creditors	Payment of Austrac Call from - ASIC regarding Simon Tickner interview and intoSearch file and email eng staff queries on	Category 2 -
ndrew Weatherley	Managing Dir	04-Dec-13	0.1	545.00	54.50	Administration	role	Approved/Paid
norew weatheney	Managing Di						JC email regarding S Tickner, email to P Mines- ASIC	Category 2 - Approved/Paid
ndrew Weatherley	Managing Dir	04-Dec-13	0.1	545.00	54.50	Administration	speak with clavion our regarding their ress, outcome or managed Performance Fund hearing and	······································
							insurance update from David Whyte. Follow up Kelly-Anne Trenfield regarding timing of fees and	Category 2 -
tenee Lobb	Senior Director	04-Dec-13	0.3	485.00	145.50	investigations	respond to Clayton Utz.	Approved/Paid Category 2 -
anan Labb	Perior Directo-	04-Dec 19		485.00	48.50	Trade-on	Send address updates to LM Investment Management Ltd.	Approved/Paid
enee Lobb	Senior Director	04-Dec-13	0.1	485.00	48.00	Tado-dii	Payment of Russells Counsel Fees for Invoices B16042 and Law in Order document production on	Category 2 -
enjamin Robson	Consultant I	04-Dec-13	1	235.00	235.00	Creditors	Russetts invoices 15201 and 15450. Reconcile bills paid from consultants register	Approved/Paid Category 2 -

Remuneration to 3	nagement Ltd (in Liquid 0 June 2018				3,204,515.29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Christine Stead	Senior Director	04-Dec-13	0.1	545.00	54.50	Administration	Review payment of AUSTRAC fees	Approved/Paid
Renee Lobb	Senior Director	04-Dec-13	0.1	485.00			Confirm white pages details for listing.	Corporate - Liquidation
Tanya Kraiz	Administration 2	04-Dec-13	0.1		13.00		Update Delivery Register.	Corporate - Liquidation
		04 000 10	0.1	100.00	10.00	, tanin isa dubit	Email from and response to GUK re reerwip allocationGok update re cost recoveryEmail and caveat	
Kelly-Anne Trenfield	Senior Managing Director	04-Dec-13	0.3	590.00	177.00	Administration	release to Jarrod villani	Corporate - Liquidation
Joan Springate	Administration	04-Dec-13	0.3	130.00	39.00	Administration	Setting up Online payment & posting payment	Corporate - Liquidation
Glenn O'Keamey	Senior Director	04-Dec-13	0.2	545.00	109.00	Assets	Discussion Kelly regarding LMIM corporate indemnity issues.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	04-Dec-13	0.8	545.00	436.00	Assets	Drait consolidated SOP including MPF settlement/indemnity claims, note to elica regarding update. review draft agreement regarding JV deed of retirement, prelim review and commets.	Corporate - Liquidation
Brett Cottam	Director	04-Dec-13	0.8		388.00		Review of the draft Deed of Assignment prepared by Russell Lawyers.	Corporate - Liquidation
Brett Cottam	Director	04-Dec-13	0.3		145.50		Email exchange with GOK regarding the Deed of Assignment.	Corporate - Liquidation
	Director	04+060-13	0.0	400.00	140.00	7100010	Respond to queries from investors regarding unit pricing and to Shauna regarding same. Find transcript and send to Shane Roberts per Ginette Muller request and correspond with SMD's	Category 2 -
		05 0		485.00	145.50	Trade-on	regarding ASIC meeting.	Approved/Paid
Renee Lobb	Senior Director	05-Dec-13	0.3	460.00	145.50	Frage-on	Review and respond to emails trying to make a time to meet with ASIC. Respond to Leah at ASIC	Category 2 -
Renee Lobb	Senior Director	05-Dec-13	0.2	485.00	97.00	Trade-on	regarding week after next availability.	Approved/Paid
							Catch up with John Corbett regarding outstanding issues of ASIC meeting, unit price reduction and audit quaries.	Category 2 - Approved/Paid
Renée Lobb	Senior Director	05-Dec-13	0.5	485.00	242.50	Trade-on	addit quenes.	Category 2 -
Renee Lobb	Senior Director	05-Dec-13	0.3	485.00	145.50	Trade-on	Respond to investor emails. Take call with yellow pages regarding details.	Approved/Paid
								Category 2 -
Renee Lobb	Senior Director	05-Dec-13	0.1	485.00	48.50	Trade-on	Arrange conference with ASIC.	Approved/Paid Category 2 -
Beniamin Robson	Consultant i	05-Dec-13	0.1	235.00	23.50	Administration	Mail in Norton Rose	Approved/Paid
			0.1				responses to RCL and KAT. Continue to assess each of the issues that can be ahnded over. Review emails in and out requesting information including David Whyte and his next circular.Shane Roberts	Category 2 -
Ginette Muller	Sr Managing Dir	05-Dec-13	1	590.00	590.00	Administration	and general queries regarding where matters sit.	Approved/Paid
Keily-Anne Trenfield	Senior Managing Director	05-Dec-13	0.1	590.00	59.00	Administration	LMIM emails e insurance and team structure Review sale document in draft, prepare notes for russells review, note to b cottam, call t knight at	Corporate - Liquidation
Glenn O'Keamey	Senior Director	05-Dec-13	0.8	545.00	436.00	Assets	Bentleys regarding transaction, note.	Corporate - Liquidation
Glenn O'Keamey	Senior Director	05-Dec-13	0.1	545.00	54.50	Administration	Review file status with Kelly.	Corporate - Liquidation
							Received call from creditor regarding update on liquidation and sale of assets. Discussions with GOK and email to John Corbett regarding future course of action.	Corporate - Liquidation
Stuart Clancy	Manager 1	05-Dec-13	0.2	345.00	69.00	Creditors	Call from Peter McLeod to discuss changes to the Deed of Assignment.	Corporate - Liquidation
Brett Coltam	Director	05-Dec-13	0.5	485.00	242.50	Assets	Call from Scott McMurtrie on the transaction documents.	Corporate - Liquidation
Brett Cottam	Director	05-Dec-13	0.1	485.00	48.50	Assets	Email to Peter McLeod with comments regarding the draft Deed of Assignment.	Corporate - Liquidation
Brett Cottam	Director	05-Dec-13	0.5	485.00	242.50	Assets		Category 2 -
Renee Lobb	Senior Director	06-Dec-13	0.1	485.00	48.50	Administration	Update website for CPAIF/ICPAIF unit price revision standpoint.	Approved/Paid Category 2 -
Renee Lobb	Senior Director	06-Dec-13	0.1	485.00	48.50	Administration	Respond to LM Investment Management Ltd staff enquiry.	Approved/Paid Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	06-Dec-13	0.2	590.00	118.00	Administration	Emails in re asic meeting; emails in re legal invoices	Approved/Paid
Kelly-Anne Trenfield	Senior Managing Director	06-Dec-13	0.2	590.00	118.00	Assets	review deed re sale of interest in joint venture	Corporate - Liquidation
Glenn O'Keamey	Senior Director	06-Dec-13	0.2	545.00	109.00	Assets	Review Clayton utz email and invoices .reconcile with register. not eto Clayton utz	Corporate - Liquidation
Glenn O'Kearney	Seniar Director	06-Dec-13	0.3	545.00	163.50	Assets	Discussion peter mcloud regarding contract, review updated draft of contract	Corporate - Liquidation
Brett Coitam	Director	06-Dec-13	0.2	485.00	97.00	Assets	Email exchange with Steven King regarding an updated offer from William Lai.	Corporate - Liquidation
Renee Lobb	Senior Director	09-Dec-13	0.1	485.00	,	Assets	Send email to John Corbett and Ginette Muller regarding return of trust account authority documents.	Category 2 - Approved/Paid
Mohamed Almulia	Sr. Consult I	09-Dec-13	0.5	325.00			Review payment approvals and send to LM - review other maters.	Category 2 - Approved/Paid
			4.4					

LM Investment Ma Remuneration to	anagement Ltd (In Liqui) 30 June 2018	dation)			3,204,515.29			
	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
							revenew advice from recentropyle remachinity claim and ability to compromise, drain response to Ashley Tiplady re instructions re advisorsEmail from and response to Jarrod Villani re status of cavea	t
							withdrawalsGok re status of service agreement; GDM re status of insurance; Jarrod Villani re status	Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	09-Dec-13	0.4	590.00	236.00	Administration	of advice on quarantined funds	Approved/Paid
							Correspondence out - KAT regarding the insurance issues pertaining to the LM matters and how to	Category 2 -
Ginette Muller	Sr Managing Dir	09-Dec-13	0.5	590.00	295.00		go about a handover.	Approved/Paid Corporate - Liquidatio
Renee Lobb	Senior Director	09-Dec-13	0.1	485.00	48.50		Filing all sent email.	· · · · ·
loa Zuardi	Manager 1	09-Dec-13	0.2		69.00	Trade-On	Bank Letter to open bank account	Corporate - Liquidatio
loa Zuardi	Manager 1	09-Dec-13	0.5		172.50	Creditors	Emails/phone call and ltrs in from creditors	Corporate - Liquidatio
Indrew Weatherley	Managing Director	09-Dec-13	0.1	545.00	54.50	Investigations	KAT regarding update on s533 report and invest	Corporate - Liquidatio
Brittany Newman	Administration 1	09-Dec-13	0.1	130.00	13.00	Administration	Mail out to AUSTRAC Supervisory Levy - CHQ \$310 + Remittance	Corporate - Liquidatio
	O. J. M. Harden Director	00 D 40		500.00	149.00	Administration	Review LMA report to creditors and call meeting Review and update to do list; query outstanding items	Corporate - Liquidatio
Kelly-Anne Trenfield	Senior Managing Director	09-Dec-13	0.2	590.00	116.00	Administration	Review markup up version of deed of assignment. Turtner comments to Brett cottam and discuss with	
Glenn O'Kearney	Senior Director	09-Dec-13	0.8	545.00	436.00	Assets	Brett, note to Bentleys regarding deed and required transfers.	Corporate - Liquidatio
							Review correspondence from Stuart Clancy for updated asic report, call from James court regarding	Corporate - Liquidatio
Glenn O'Kearney	Senior Director	09-Dec-13	0.3	545.00	163.50	Investigations	asic report.	Corporate - Liquidatio
							Review correspondence Russell and reconcile trust payment with consultants register, note to Ashley	
							regarding balance payment, notes to BJR regarding receipts/payments regarding indemnity	Concento Liquidati
lenn O'Kearney	Senior Director	09-Dec-13	0.5	545.00	272.50	Asseis	settlement, review of current consultant status and instructions to BJR, review Clayton utz invoice. Review report to creds from lig of final - regarding funds to repay leg loans, note to SAC/Eloa	Corporate - Liquidatio
Genn O'Kearney	Senior Director	09-Dec-13	0.3	545.00	163.50	Assets	regarding pod	Corporate - Liquidatio
· · · ·	Senior Director	09-Dec-13	0.2	545.00	109.00	Assets	Report in regarding lauxes liq and debtors. Ilaise with Stuart Clancy.	Corporate - Liquidatio
ilenn O'Kearnøy		05-080-13			100.00		Reviewed email from GOK regarding JAC queries in relation to shareholder information and DB.	
							Went onto ABR and investigations into shareholders of LMIM. Update email and file note to GOK and	Corporate - Liquidatio
Stuart Clancy	Manager 1	09-Dec-13	1	345.00		Investigations	JAC.	· · · · · ·
tuart Clancy	Manager 1	09-Dec-13	0.1	345.00	34.50	Administration	Reviewed file and update tasks list in preparation for file review with SAM. Reviewed email from GUK regarding queries in relation to Lauxes and being a creditor of LMIM or	Corporate - Liquidatio
	blevener d	09-Dec-13	0.3	345.00	103.50	Creditors	LMA. Reviewed file and memo to GOK resolving queries.	Corporate - Liquidatio
Stuart Clancy	Manager 1		0.3	485.00	145.50	Assets	Email exchange and phone call to GOK regarding the Deed of Assignment.	Corporate - Liquidatio
Irett Coltam	Director	09-Dec-13	0.3	465.00	140.00	A\$5615	Call from Scott McMurtrie and Grant Snatham regarding the Deed of Assignment and accounting for	·
irett Cottam	Director	09-Dec-13	0.2	485.00	97.00	Assets	the adjustments.	Corporate - Liquidation
rett Cotiam	Director	09-Dec-13	0.1	485.00	48.50	Assets	Email to GOK regarding the settlement adjustments for 38 Cavil Ave.	Corporate - Liquidation
rett Cottam	Director	09-Dec-13	0.1	485.00	48.50	Assets	Call from Peter McLeod regarding changes to the draft Deed of Assignment.	Corporate - Liquidatio
rett Cottam	Director	09-Dec-13	0.1	485.00	48.50	Assets	Email to Russells regarding the Deed of Assignment.	Corporate - Liquidatio
								Category 2 -
lenee Lobb	Senior Director	10-Dec-13	0.1	485.00	48.50	Trade-on	Send signed trust documents back to LM Investment Management Ltd. Arrange courier.	Approved/Paid Category 2 -
		10 Dec 12	0.5	345.00	172.50	Creditors	Emails/phone call and ltrs in from creditors. POD's received	Approved/Paid
loa Zuardi	LOA	10-Dec-13	0.5	345.00	172.30			Category 2
enjamin Robson	Consultant (10-Dec-13	0.3	235.00	70.50	Creditors	Adjustment to register - overpayment of Russells fees. Review of Norton rose statement	Approved/Paid
							At 11 is from Notice Date Eultricht, Statement an at 6 Depember 2013	Category 2 - Approved/Paid
rittany Newman	Admin I	10-Dec-13	0.1	130.00	13.00	Administration	Mail in from Norton Rose Fulbright - Statement as at 6 December 2013 Discussion with staff member and response thereto, regarding current progress of administration;	Approved/Paid Category 2 -
	Manager Dia	10 Dec 10	0.1	550.00	55.00	Administration	strategy and further action to be taken.	Approved/Paid
ally McBryde	Managing Dir	10-Dec-13					Review and make amendments and notes on draft s533(2)	Corporate - Liquidation
ndrew Weatherley	Managing Director	10-Dec-13	0.4	545.00	218.00	Investigations		Corporate - Liquidation
egan Dopking	Administrative	10-Dec-13	0.1	130.00		, (4)(1)(100 01)011		Corporate - Liquidatio
egan Dopking	Administrative	10-Dec-13	0.1	130.00	13.00			Corporate - Liquidation
egan Dopking	Administrative	10-Dec-13	0.1	130.00	13.00	Administration		Corporate - Liquidation
inya Kratz	Administration 2	10-Dec-13	0.1	130.00	13.00	Administration	Courier Booking.	corporate - Liquidation

LM Investment Ma Remuneration to 3 Name	anagement Ltd (In Liqui 30 June 2018 Title	dation) Date	Hours	Charge Out Rate	3,204,515.29 Charge	Task Desc	Narrative Review crea consepondence from Kelly and Sittant Clancy (epsy. fiole BJK regarding corporate legal	Classification
Gienn O'Kearney	Senior Director	10-Dec-13	0.1	545.00	54.50	Creditors	payments	Corporate - Liquidation
Glenn O'Kearney	Senior Director	10-Dec-13	0.8	545.00	436.00	Assets	Can aroun macy winght regarding baronsand into, prepare and send note to macy with additional requested info, review latest version deed and correspondence Brett cottam, info in form PKF regarding bas etc. note to Lucy requesting updated documents, liaise b cottam regarding adjustment info.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	10-Dec-13	1.3	545.00	708.50	Trade-On	allocation to Russell for discussions, review previous advice on matter from Russell.	Corporate - Liquidation
Brett Cottam	Director	10-Dec-13	0.3	485.00	145.50	Assets	Review or are marked up crianges and ronow up emain to Russens with a request for a runner change to the Deed of Assignment. Subsequent email to Scott McMurtrie with copy of Deed of Assignment for review. Email to Scott McMurtrie with request to get information to update adjustments calculation and	Corporate - Liquidation
Brett Cottam	Director	10-Dec-13	0.2	485.00	97.00	Assets	subsequent email exchange with GOK regarding same.	Corporate - Liquidation
Renee Lobb	Senior Director	11-Dec-13	0.2	485.00	97.00	Trade-on	Take call from adviser. Answer queries on multiple funds and provide update.	Category 2 - Approved/Paid
Eloa Zuardi	LOA	11-Dec-13	0.2	345.00	69.00	Trade-on	Insurance payment	Category 2 - Approved/Paid
Eloa Zuardi		11-Dec-13	0.5	345.00	172.50	Trade-on	Follow up ASIC re updated statement listing Coy's ACN to be identified.	Category 2 - Approved/Paid
Brittany Newman	Admin I	11-Dec-13	0.1	130.00	13.00	Administration	Mail in from ASIC - Invoice Statement 1 Dec 2013 Emails in re quarantimed tunds;emails in re insuranceMPF/madison creditor claimsemails from and	Category 2 - Approved/Paid Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	11-Dec-13	0.3	590.00	177.00	Administration	response to JV re quarantine funds issue; email in from Russell's re release of advice Persponse to JV re quarantine funds issue; email in from Russell's re release of advice Prayment - check supporting documentation, review invoices and banking voucher for payment to	Approved/Paid Category 2 -
Sally McBryde	Managing Dir	11-Dec-13	0.1	550.00	55.00	Administration	Macquarie Premium Funding, approve payment	Approved/Paid
Andrew Weatheriev	Managing Director	11-Dec-13	0.5	545.00	272.50	Investigations	Review supp report, make amendments identified and reprint, email KAT regarding update	Corporate - Liquidation
Tanya Kratz	Administration 2	11-Dec-13	0.1	130.00	13.00	Administration	Update Delivery Register.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	11-Dec-13	0.2	545.00	109.00	Assets	Review updated cash details/BAS debt details for cavill. note to Scott regarding tax adjustments etc.	Corporate - Liquidation Category 2 -
Renee Lobb	Senior Director	12-Dec-13	0.2	485.00	97.00	Trade-on	Review of ASIC agenda for Tuesday's meeting.	Approved/Paid Category 2 -
John Park	Sr Managing Dir	12-Dec-13	0.1	590.00	59.00	Administration	Sign caveat release	Approved/Paid Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	12-Dec-13	0.1	590.00	59.00	Administration	arrange execution of and delivery of caveat withdrawal to Jarrod Villani	Approved/Paid Category 2 -
Keliy-Anne Trenfield	Sr Managing Dir	12-Dec-13	0.1	590.00	59.00	Administration	email in re asic meeting; request meeting re prep and update to asic Call to ASIC following up Statement listing each lodgement for LMIM originally requested August	Approved/Paid Category 2 -
Brittany Newman	Admin I	12-Dec-13	0.4	130.00	52.00	Administration	2013. Prepare file note 8974fn	Approved/Paid
Kelly-Anne Trenfield	Senior Managing Director	12-Dec-13	0.2	590.00	118.00	Assets	Review joint venture deed; query current statusreview deed; request and review update	Corporate - Liquidation
Glenn O'Kearney	Senior Director	12-Dec-13	0.1	545.00	54.50	Assets	Update Kelly regarding status on cavill sale. car nom see contain regarding dates. Keview comments nom scott regarding dates or settlement.	Corporate - Liquidation
					010.00	a	review original deed and provide comments to Brett and pater for discussions. review PKF invoice and correspondence from Lucy regarding BAS lodgments. note to Scott and PKF regarding BAS/tax renonciation.	Corporate - Liquidation
Glenn O'Keamey	Senior Director	12-Dec-13	0.4	545.00		Assets	Filing	Corporate - Liquidation
Brittany Newman	Administration 1	12-Dec-13	0.1	485.00		Administration Assets	Email from Scott McMurthe requesting changes to the Deed of Assignment and discussion with GOK.	Corporate - Liquidation
Brett Cottam	Director	12-Dec-13	0.3				Call to Scott McMurtire to discuss the Deed of Assignment.	Corporate - Liquidation
Brett Cotlam	Director	12-Dec-13 12-Dec-13	0.2	485.00		Assets Administration	Review of completed BAS.	Corporate - Liquidation
Brett Cottam	Director	12-Dec-13	0.2	485.00		Assets	Email to Peter McLeod regarding changes requested by Scott McMuntrie to Deed of Assignment.	Corporate - Liquidation
Eloa Zuardi	LOA	13-Dec-13	0.2	345.00	69.00	Trade-on	Phone call in and email from JS re insurance payment	Category 2 - Approved/Paid

Remuneration to 30					3,204,515.29		Narrative	Classification
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Nan anyc	Category 2 -
Eloa Zuardi	LOA	13-Dec-13	0.2	345.00	69.00	Trade-on	Correspondence in from Barwon Heads Development	Approved/Paid
Renee Lobb	Senior Director	13-Dec-13	0.1	485.00	48.50	Administration	inform ASIC of meeting attendees for Thursday meeting.	Category 2 - Approved/Paid
							Review and respond to, forward on some investor queries regarding LM investment Management Ltd.	Category 2 - Approved/Paid
Renee Lobb	Senior Director	13-Dec-13	0.2	485.00	97.00		Review agenda re meeting with asic; prepare outline of response to queries not being addressed by	Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	13-Dec-13	0.7	590.00	413.00	Administration	fund team; review summary of fund status	Approved/Paid Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	13-Dec-13	0.1	590.00	59.00		emails in remeeting with asic to discuss status of funds	Approved/Paid Corporate - Liquidation
Tanya Kratz	Administration 2	13-Dec-13	0.1	130.00	13.00	Administration	Update Delivery Register.	· · · ·
Joan Springate	Administration	13-Dec-13	0.1	130.00	13.00	Administration	Setting up Online payment & posting payment Theometers was been and the regarding agreement and memory account and the second second second second second s	Corporate - Liquidation
Glenn O'Keamey	Senior Director	13-Dec-13	1.1	545.00	599.50	Assets	Ramsden regarding shares in trustee entity. note from Bentleys regarding shares in trustee entity. review tax reconciliation and consider adjustments for settlement. note from j Ramsden with further queries.	Corporate - Liquidation
							Review conespondence from Peter trake regarding aquitability. Note to Kelly with comments and	
					198 59		suggested response. review of correspondence from Bentleys regarding peter signing correspondence, discussions with sally.	Corporate - Liquidation
Glenn O'Keamey	Senior Director	13-Dec-13	0.3	545.00		Administration		Corporate - Liquidation
Brittany Newman	Administration 1	13-Dec-13	0.1	130.00	13.00	Administration	Mail in from ATO - BAS (1 Oct - 31 Dec 2013)	Corporate - Liquidation
Brett Cottam	Director	13-Dec-13	0.6	485.00	291.00	Assets	Teleconference with Peter McLeod and GOK to discuss changes to the Deed of Assignment.	Corporate - Liquidation
Brett Cottam	Director	13-Dec-13	0.2	485.00	97.00	Assets	Email exchanges with Peter McLeod and GOK and setting up teleconference.	Corporate - Liquidation
Renee Lobb	Senior Director	16-Dec-13	0.1	485.00	48.50	Administration	Arrange catch up pre ASIC meeting.	Approved/Paid
Eloa Zuardi	LOA	16-Dec-13	0.2	345.00	69.00	Trade-on	Advise Lucy status of Payment for - D H Flinders invoice 14044	Category 2 - Approved/Paid Category 2 -
Eloa Zuardi	LOA	16-Dec-13	0.2	345.00	69.00	Trade-on	Follow up Kate re LMA FEG Payments	Approved/Paid
							Payment continuation received from I Caling - register updated. Preparation of remaining LMIM Corporate invoices outstanding for Glerin O'Keamey, filing of invoices and creditor statements.	Category 2 - Approved/Paid
Benjamin Robson	Consultant I	16-Dec-13	0.6	235.00	141.00	Creditors	Colporate involces outstanding for otherin o rearing, iming or involces and created externation Call to AJT re hearing, update to JRP and teamarrangements re meeting with asicReview account	Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	16-Dec-13	0.4	590.00.	236.00	Administration	from Holman Webb; email same to russells with commentary	Approved/Paid Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	16-Dec-13	0.2	590.00	118.00	Administration	Planning; to do listreview affidavits from SMV	Approved/Paid
			0.5	550.00	275.00	Administration	Preparation for meeting with ASIC	Category 2 - Approved/Paid
John Corbett	Managing Dir	16-Dec-13	0.5			Administration	Update from KAT on MPF settlement and therefore payment of regels to wark Water. Note KCL	
Ginette Multer	Sr Managing Dir	16-Dec-13	0.5	590.00	295.00	Administration	comments accordingly. Email from Simon Tickner on his ASIC investigation and request for records. Read and email KAT/JC.	Category 2 - Approved/Paid
		16-Dec-13	0.0	130.00		Administration	Update Delivery Register.	Corporate - Liquidation
Tanya Kratz	Administration 2	16-Dec-13	0.1	590.00			Review emails in; update to do list	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	16-Dec-13	0.1	590.00	33.00		Review ban reconcination - hole to eloa regarding status of matters, review constituents lees owing and instructions to BJR r repayments, note to Kelly regarding mpf indemnity and payments to	
Glenn O'Kearney	Senior Director	16-Dec-13	0.3	545.00	163.50	Administration	consulats. Correspondence in from Lucy regarding BAS payments baronsand/pkr invoices, review marked up	Corporate - Liquidation
Glenn O'Keamey	Senior Director	16-Dec-13	0.3	545.00	163.50	Assets	changes to deed and communicate approval to bcottam.	Corporate - Liquidation
	Director	16-Dec-13	0.3	485.00	145.50	Assets	Review of marked up changes to the Deed of Assignment by Peter McLeod and email to Soot McMurtrie with a copy.	Corporate - Liquidation
								Category 2 -
Eloa Zuardi	LOA	17-Dec-13	0.2	345.00	69.00	Trade-on	Phone call in from Trevor re LMIM Company Search	Approved/Paid Category 2 -
Eloa Zuardi	LOA	17-Dec-13	0.2	345.00	69.00	Trade-on	Follow up JS re NZ Cheques to be deposited Follow up EOM November trgures from Ben Fisher and prepare involces + supporting docs to be	Approved/Paid Category 2 -
	LOA	17-Dec-13		345.00	345.00	Trade-on	Follow up EOM November regures from ben Fisher and prepare involces 1 supporting does to be issued to AIF and MIF	Approved/Paid

LM Investment Mai	nagement Ltd (In Liquid	lation)						
Remuneration to 31 Name:	0 June 2018 Title	Date	Hours	Charge Out Rate	3,204,515.29 Charge		Narrative	Classification
Brittany Newman	Admin I	17-Dec-13	0.3	130.00	39.00	Administration	Call to ASIC following up call 12 December 2013. Prepare 8974fn48.	Category 2 - Approved/Paid
Kelly-Anne Trenfield	Sr Managing Dir	17-Dec-13	1.6	590.00	944.00	Administration	Catch-up/planning for asic meeting with JDC/RCLattending asic meeting re status of funds	Category 2 - Approved/Paid
Kelly-Anne Trenfield	Sr Managing Dir	17-Dec-13	0.1	590.00	59.00		Emails in re Lifetyle caveat and request re removal; arrange execution and witnessing	Category 2 - Approved/Paid
Kelly-Anne Trenfield	Sr Managing Dir	17-Dec-13	0.1	590.00	59.00	Administration	Email from and response to simon tickner re information requested by asic x 2	Category 2 - Approved/Paid Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	17-Dec-13	0.1	590.00	59.00	Administration	Call in from sean russell; email to team re update on fund receipt	Approved/Paid Category 2 -
John Carbett	Managing Dir	17-Dec-13	1.5	550.00	825.00	Administration	Meeting with ASIC	Approved/Paid Category 2 -
Renee Labb	Senior Director	17-Dec-13	0.1	485.00	48.50	Investigations	Email Steve regarding review of WU docs received for audit information.	Approved/Paid Category 2 -
Renee Lobb	Senior Director	17-Dec-13	0.5	485.00	242.50	Administration	Pre ASIC meeting to discuss agenda on all LM Investment Management Ltd Funds,	Approved/Paid Category 2 -
Renee Lobb	Senior Director	17-Dec-13	1.5	485.00	727.50	Trade-on	Meeting with Kelly-Anne Trenfield, John Corbett and ASIC regarding agenda items across all funds.	Approved/Paid
Ginette Muller	Sr Managing Dir	17-Dec-13	0.2	590.00	118.00	Administration	inspection and approval of enclosures and content to Stephen Russell regarding the result of the costs hearing on FMIF.	Category 2 - Approved/Paid
Glenn O'Keamev	Senior Director	17-Dec-13	0.1	545.00	54.50	Administration	Review payment request LMIM corporate legal bills, notes for BJR	Corporate - Liquidation
Joan Springate	Administration	17-Dec-13	0.1	130.00	13.00	Administration	Receipt voucher & posting receipt P{none call in from Employee Devi Pillay. I called Kate re pending information for her claim, she was	Corporate - Liquidation Category 2 -
Eloa Zuardi	LOA	18-Dec-13	0.3	345.00	103.50	Employees	advised unware of pending docs.	Approved/Paid Category 2 -
Eloa Zuardí	LOA	18-Dec-13	0.2	345.00	69.00	Trade-on	Email in from Simon re op costs invoices	Approved/Paid Category 2 -
Brittany Newman	Admin I	18-Dec-13	0.1	130.00	13.00	Administration	Mail in from Computershare - Statement	Approved/Paid Category 2 -
John Corbett	Managing Dir	18-Dec-13	0.5	550.00	275.00	Administration	Responding to queries from the ASIC meeting	Approved/Paid Category 2 -
Renee Lobb	Senior Director	18-Dec-13	0.3	485.00	145.50	Investigations	Take call with ASIC and answer queries.	Approved/Paid Category 2 -
Renee Lobb	Senior Director	18-Dec-13	0.2	485.00	97.00	Investigations	Send information requested to ASIC. Discussions with mark wanter or crayour or regarding involces, review involces and	Approved/Paid
Glenn O'Kearney	Senior Director	18-Dec-13	1	545.00	545.00		recommendation to Kelly .arrange payment of Clayton utz invoice .review russiles payments of corporate invoices. follow up russells regarding funds received. review online accounts and review cash flow regarding funds available to meet costs .	Category 2 - Approved/Paid
Benjamin Robson	Associate II	18-Dec-13	0.6	235.00	141.00	Creditors	LIMIM Corporate invoices payable to Norion Rose and Russells reviewed and submitted for payment. Statement of account reconciled for Russells	Corporate - Liquidation
	Administration 2	18-Dec-13	0.1	130.00	13.00	Administration	Updaling Cheque Register. Note to framsnoe regarding cavili statisticition and other quenes, call macy right regarding cavili	Corporate - Liquidation
		18-Dec-13	0.5	545,00	272.50		transaction. update in regarding cavili statisticition and brief queries, can thaty high regarding cavili transaction. update in regarding Im/Imim feg loan recoveries, bank réconcilions and cash flows (corporate)	Corporate - Liquidation
	Senior Director	19-Dec-13	0.5	235.00		Creditors	Finalise payment of Clayton UTZ for MPF portions of invoices, Finalise and submit payment to Russells and Norton Rose, update register	Category 2 - Approved/Paid
Benjamin Robson Eloa Zuardi	LOA	19-Dec-13	1.5	345.00	517.50		Prepare vanous receipt vouchers, Create summary of tees listing all invoices issued to date and outstanding liability	Category 2 - Approved/Paid
	Senior Director	19-Dec-13	0.1	485.00	48.50	Trade-on	Respond to investor enquiry regarding updating details.	Category 2 - Approved/Paid
	Senior Director	19-Dec-13	0.3	545.00	163.50	Assets	Discussion Ashley regarding allocation issues	Category 2 - Approved/Paid
	Administration 1	19-Dec-13	0.1	130.00	13.00	Administration	Filing	Corporate - Liquidation
	Director	19-Dec-13	0.2	485.00	97.00	Assets	Email exchange with Scott McMurtrie and Ron Bakir regarding the Deed of Assignment.	Corporate - Liquidation

 \sim

Ň

LM Investment M	anagement Ltd (in Liqui	dation)						
Remuneration to				Charge Out Bata	3,204,515.29	Task Desc	Narrative	Classification
Name	Title	Date		Charge Out Rate				Corporate - Liquidation
Joan Springate	Administration	19-Dec-13	0.5	130.00	65.00	Administration	Setting up Online payment & posting payment reveiew and approve payment cutz , communicate to cuts regarding payment, update cash nows and	
Glenn O'Kearney	Senior Director	19-Dec-13	0.2	545.00	109.00	Assets	review update to consulats register.	Corporate - Liquidation
Glenn O'Keamey	Senior Director	19-Dec-13	0.2	545.00	109.00	Assets	Note to eloa regarding LMIM funds held by LMA liq. note to Ashley regarding LMA lien issues.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	19-Dec-13	1	545.00	545.00	Administration	Review file status/filing/updating files.	Corporate - Liquidation
<u> </u>							Invoice in from into Capital. Phone call out to Irene re services provided re advisory for funds MPI-	Category 2 -
Eloa Zuardi	LOA	20-Dec-13	0.5	345.00	172.50		and AIF.	Approved/Paid
Brett Cottam	Director	20-Dec-13	0.1	485.00	48.50		Email to Peter McLeod.	Corporate - Liquidation
Glenn O'Keamey	Senior Director	20-Dec-13	0.3	545.00	163.50	Assets	Review correspondence drake/ramsden/mcmurtiries, discuss RP cavill offer with bcottam.	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	23-Dec-13	0.2	590.00	118.00	Administration	Review incoming documentation, consider and send to filing	Corporate - Liquidation Category 2 -
Benjamin Robson	Consultant I	24-Dec-13	0.1	235.00	23.50	Administration	Meil in Russells invoice	Approved/Paid
Benjamin Robson	Consultant	24-060-13	0.1	200.00	20.00		Involces received from Russells B 16661, B 16657, B 16658 apportioned and entered into register -	Category 2 -
Benjamin Robson	Consultant I	24-Dec-13	1	235.00	235.00	Creditors	hard copy filed	Approved/Paid
				500 O		A	Review and approve payment - legals re role as RE	Category 2 - Approved/Paid
Kelly-Anne Trenfield	Sr Managing Dir	24-Dec-13	0.1	590.00	59.00	Administration		Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	24-Dec-13	0.1	590.00	59.00	Administration	emails in re costs judgement; review and notes re planning for disbursements of funds	Approved/Paid
		1					Review incoming documentation, consider and send to filingreview of MPF emails in and file same	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	24-Dec-13	0.5	590.00	295.00	Administration	Review incoming documentation, consider and send to iningleview of MEPP entails in and the sente	
Glenn O'Keamey	Senior Director	24-Dec-13	0.4	545.00	218.00	Assets	forward to BJR	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	27-Dec-13	0.1	590.00	59.00	Administration	Review and update to do list; query outstanding items	Corporate - Liquidation
reary-value frombid	Control managing bulldoor							Category 2 -
Benjamin Robson	Consultant I	30-Dec-13	0.1	235.00	23.50	Administration	Mail In The Trust Company Review validos powneganavoices in and correspondence, note to port, review decision regatoring	Approved/Paid
							cost agreements effect on LMIM. review and update corporate SOP/Cash flow for discussions	
							regarding Cash avail/consultants. effect of cost order, collate Imim info for meeting with Kelly. review	
Glenn O'Keamey	Seniar Director	30-Dec-13	2	545.00	1,090.00	Assets	subponea info in.	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	30-Dec-13	0.1	590.00	59.00	Administration	Review incoming documentation, consider and send to filing	Corporate - Liquidation Category 2 -
					477.00	A dual in territion	Discussion with GOK re statement of position, legal fees and payment of outstanding costs	Approved/Paid
Kelly-Anne Trenfield	Sr Managing Dir	31-Dec-13	0.3	590.00	177,00	Administration	Discussions with Kelly regarding drake correspondence, costs issues for corporate entity, legal bits	_
Glenn O'Keamey	Senior Director	31-Dec-13	0.2	545.00	109.00	Assets	received.	Corporate - Liquidation
							claise with s momunure regarding cavili settlement, collate in to regarding settlement adjustments.	Corporate - Liquidation
Glenn O'Kearney	Seniar Director	02-Jan-14	1	545.00	545.00	Assets	Review incoming documentation, consider and send to filing re MPF	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	02-Jan-14	0.2	590.00	118.00	Administration	Review incoming documentation, consider and serio to ming to win the Review email to peter drake re asset sale query small from Peter Drake; discuss with GOK and	Corporate Exquitation
Kelly-Anne Trenfield	Senior Managing Director	02-Jan-14	0.2	590.00	118.00	Administration	review response	Corporate - Liquidation
Tanya Kratz	Administration 2	02-Jan-14	0.2	130.00	26.00	Administration	Updating Cheque Register.	Corporate - Liquidation
Gienn O'Kearney	Senior Director	03-Jan-14	0.2	545.00	109.00	Assets	Collate info for cavil adjustments and notes fo discussions with Brett and Scott.	Corporate - Liquidation
Glenn O'Keamey	Senior Director	03-Jan-14	0.1	545.00		Administration	Note j ramsnden regarding drake correspondence	Corporate - Liquidation
	Senior Director	03-Jan-14	0.1	545.00		Administration	Review status/tdl update	Corporate - Liquidation
Glenn O'Keamey		03-Jan-14	0.1	540.00		Administration	Email in from Peter Drake; discuss response with GOK	Corporate - Liquidation
Keliy-Anne Trenfield	Senior Managing Director	03-JBII-14	0.1	590,00		, sattin nod 40011		Category 2 -
Eloa Zuardi	LOA	06-Jan-14	2	345.00	690.00	Trade-on	Update cash flow for December month	Approved/Paid
							Email to BJR re FOS Membership Monthly	Category 2 - Approved/Paid
Eloa Zuardi	LOA	06-Jan-14	0.2	345.00	69.00	Administration		Category 2 -
Eloa Zuardi	LOA	06-Jan-14	0.2	345.00	69.00	Creditors	POD received from Telstra	Approved/Paid
								Category 2 - Approved/Paid
Eloa Zuardi	LOA	06-Jan-14	0.3	345.00	103.50	Creditors	Email to Irene re various invoices addressed to funds	Approved/ Paid

1-

Remuneration to :					3,204,515.29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Eloa Zuardi	LOA	06-Jan-14	Í 1	345.00	345.00	Trade-on	EOM December 2013 Figures received from Ben Fisher. Prepare AtF/MIF invoices re operational loosts.	Category 2 - Approved/Paid
	LOA	00-3311-14	<u> </u>	040.00	040.00			Category 2 -
Renee Lobb	Senior Director	06-Jan-14	0.1	485.00	48.50	Administration	Review letters received and scan and send to LM Investment Management Ltd for response.	Approved/Paid
							Update Consultants register with all invoices and include payments made to Russells regarding	Category 2 -
Benjamin Robson	Consultant ł	06-Jan-14	1	235.00	235.00	Creditors	indemnity claim. prepare receipt voucher for balance of funds received by chq Payment continnations received and reviewed from I Caling regarding Pikes and Verekers invoices.	Approved/Paid Category 2 -
Benjamin Robson	Consultant I	06-Jan-14	0.3	235.00	70.50	Creditors	Update to register	Approved/Paid
berijamin Kobadn	Conaditant	00-0211-14	0.0	200.00	10.00			Category 2 -
Benjamin Robson	Consultant I	06-Jan-14	0.4	235.00	94.00	Creditors	Clayton Utz Invoice 3793421 reviewed and apportioned. Payment request sent to LM	Approved/Paid
							King and Wood Mallesons invoice 1555008 reviewed an apportioned. Payment request sent to LM	Category 2 -
Benjamin Robson	Consultant I	06-Jan-14	0.4	235.00	94.00	Creditors	King and wood Mailesons invoice 1000000 reviewed an appointined. Payment request sent to Livi	Approved/Paid Category 2 -
Benjamin Robson	Consultant I	06-Jan-14	0.2	235.00	47.00	Creditors	Review of Russells invoices paid to match statement. Reconciliation of invoices	Approved/Paid
		06-Jan-14	0.1		13.00		Add Tadmit Printers Production as Creditor in MYOB + Enter POD	Corporate - Liquidation
Britlany Newman	Administration 1	00-Jail-14	0.1	130.00	13.00		политического составляется и политические политические политические политические политические политические поли	
		1 1					Scott regarding baronsand accounts, note to Brett cottam, review SOP corporate entity and cash flow	
							from etoa, review updated consultants register and invoice/payments from BJR, review MPF invoices in and status f consultant fees under indemnity.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	06-Jan-14	1	545.00	545.00	Assets	Review and update to do list; query outstanding items Keview incoming documentation, consider and	Corporate - Eldergaron
Kelly-Anne Trenfield	Senior Managing Director	06-Jan-14	0.1	590.00	59.00	Administration	send to filing	Corporate - Liquidation
Religionalities internicies	denior Managing Director		,					Category 2 -
Eloa Zuardi	LOA	07-Jan-14	0.5	345.00	172.50	Trade-on	Email to BN re breakdown of \$ and identification of Coys received from ASIC. Advise Fiona	Approved/Paid
					170 50		Email to Simon re LM FMIF/LM AIF - December Invoices	Category 2 - Approved/Paid
Eloa Zuardi	LOA	07-Jan-14	0.5	345.00	172.50	Trade-on		Category 2 -
Eloa Zuardi	LOA	07-Jan-14	0.3	345.00	103.50	Administration	Follow up MPF Bank A/c to be opened	Approved/Paid
		07-0011-14	0.0	0,0.00	100.00			Cātegory 2 -
Benjamin Robson	Consultant I	07-Jan-14	0.2	235.00	47.00	Administration	Follow up Joan Springate at request of Eloa Zuardi to see if new LM IM account opened at CBA	Approved/Paid
							Diseuse wie info/date with Kally	Category 2 - Approved/Paid
Glenn O'Kearney	Senior Director	07-Jan-14	0.1	545.00	54.50	Administration	Discuss wip info/data with Kelty.	Approved/ Paid
Brittany Newman	Administration 1	07-Jan-14	0.1	130.00	13.00	Administration	Mail in from ATO - Correspondence; We need more information to finalise your activity statement	Corporate - Liquidation
Brittany Newman	Administration 1	07-Jan-14	0.1	130.00		Creditors	Add Telstra as Creditor in MYOB + enter POD.	Corporate - Liquidation
		07-Jan-14	0.2	130.00	26.00	Administration	Filing	Corporate - Liquidation
Brittany Newman	Administration 1	07-Jan-14	0.2	130.00	20.00	Authonistration	Note to poottam regarding adjustments and contract, discussions Bentleys regarding stockholdings.	
Glenn O'Keamey	Senior Director	07-Jan-14	0.2	545.00	109.00	Assets	leave msg jramsnden.	Corporate - Liquidation
Glenn O'Keamey	Senior Director	07-Jan-14	0.2	545.00	109.00	Administration	Review wLMIM BAS update and correspondence with ATO. discussions with eloa	Corporate - Liquidation
Glenn O'Keamey	Senior Director	07-Jan-14	0.1	545.00	54.50	Assets	Review and sign off on various legal payments.	Corporate - Liquidation
	Administration	07-Jan-14	0.1	130.00	13.00	Administration	Receipt voucher & posting receipt	Corporate - Liquidation
Joan Springate	Auministation	07-0411-14	0.1				Review of emails from GOR regarding Suncorp debt repayment and correspondence from Peter	
Brelt Collam	Director	07-Jan-14	0.4	485.00	194.00	Assets	Drake.	Corporate - Liquidation
							Correspondence with Joan Springate regarding account open request. Call from Joan Springate	Category 2 - Approved/Paid
Benjamin Robson	Consultant I	08-Jan-14	0.2	235.00		Administration	regarding Russells cheque receipt lodgement	Corporate - Liquidation
Eloa Zuardi	Manager 1	08-Jan-14	0.2	345.00	69.00	Administration	Follow up MPF Bank A/c to be opened Email to BN re reconcitation received from ASIC, listing all outstanding involces as per latest	Corporate - Elquidadore
		00 - 44	0.0	245.00	103.50	Administration	statement received.	Corporate - Liquidation
Eloa Zuardi	Manager 1	08-Jan-14	0.3	345.00		Administration	Amend & Format 8974198	Corporate Liquidation
Brittany Newman	Administration 1	08-Jan-14	0.1	130.00	13.00		Mail out to ATO + fax - 8974/98 + copy of BAS (1 Jul - 30 Sep 2013) & payment receipt	Corporate - Liquidation
Brittany Newman	Administration 1	08-Jan-14	0.1	130.00	13.00	Administration	Mail dut to ATO + tax - b9/4/90 + copy of bAS (1 our - 50 dep 2013) & payment receipt Review updated account balance baronshad, note to bootram, note in from Bentleys regarding share	sectors managroup
Slenn O'Kearney	Senior Director	08-Jan-14	0.2	545.00	109.00	Assets	transfers, note to team.	Corporate - Liquidation
			0.2	545.00	54.50		Sign off on correspondence to ATO regarding BAS amendments.	Corporate - Liquidation
ilenn O'Kearney	Senior Director	08-Jan-14					Email in from Bentley's re ability to deal on behalf of peter drake; request update re contracts	Corporate Liquidation
elly-Anne Trenfield	Senior Managing Director	08-Jan-14	0.1	590.00	59.00	Administration	minar in nom periody one example deal on series of peer during request appendite estimates	

~

	nagement Ltd (In Liqu	luation)			3,204,515.29			
Remuneration to 3 Name		Date	Hours	Charge Out Rate	5,204,515.29 Charge	Task Desc	Narrative	Classification
James Rogers	Managing Director	08-Jan-14	0.1	550.00	55.00	Assets	Assets - Disc with BAC re status of 38 Cavill Ave	Corporate - Liquidation
Joan Springate	Administration	08-Jan-14	0.2	130.00	26.00	Administration	Receipt voucher, Posting receipt & getting chaque ready to bank	Corporate - Liquidation
Joan Springate	Administration	08-Jan-14	0.3	130.0D	39.00	Administration	Setting up Online payment & posting payment	Corporate - Liquidation
Brett Cottam	Director	08-Jan-14	0.1	485.00	48.50	Assets	Email to DJB with update on sale of 38 Cavill Ave.	Corporate - Liquidation
Brett Cotlam	Director	08-Jan-14	0.4	485.00	194.00	Assets	Call with Wayne Robbie and subsequent email.	Corporate - Liquidation
Brett Cottam	Director	08-Jan-14	0.5	485.00	242.50	Assets	Emails from GOK regarding sale of 38 Cavill Ave.	Corporate - Liquidation
Eloa Zuardi	LOA	09-Jan-14	0.5	345.00	172.50	Administration	Bank reconciliation. Update MYOB transactions	Category 2 - Approved/Paid
James Court	Director 1	09-Jan-14	2.8	485.00	1,358.00	Investigations	Finalise draft supplementary report, locate extract all supporting documents from file	Corporate - Liquidation
Glenn O'Kearney	Senior Director	09-Jan-14	0.5	545.00	272.50	Assets	Reconcise russells statement with register, review indemnity documents for recording of funds from MPF, review prelim renonciation figures from RCL. Carronn runnsher and ruscuss cavin and oracle correspondence review updated statements on	Corporate - Liquidation
Glenn O'Kearney	Seniar Director	09-Jan-14	1.2	545.00	654.00	Assets	Call joint failusing and uscuss cavin all unake consequences reveal optications statements of matter, prepare update numbers on settlement/adjustments etc. note to Brett, not to peter with update on share transfer issues, discuss update with Brett.	Corporate - Liquidation
Brett Coltam	Director	09-Jan-14	0.2	485.00	97.00	Assets	Call from Wayne Robbie regarding leasing matters and the sale of 38 Cavill Ave.	Corporate - Liquidation
Brett Coltam	Director	09-Jan-14	0.2	485.00	97.00	Assets	Email from Peter McLeod and review of updated Suncorp bank statement.	Corporate - Liquidation
Brett Cottam	Director	09-Jan-14	0.6	485.00	291.00	Assets	Review of emails from GOK including new calculation for settlement adjustment.	Corporate - Liquidation
		-					Review Electronic Funds' Fransfer payment for vancus legals and email BJR regarding missing	Corporate - Liguidation
Christine Stead	Senior Director	09-Jan-14	0.1	545.00	54.50	Administration		Category 2 -
Eloa Zuardi	LOA	10-Jan-14	0,2	345.00	69.00	Administration	File review with GOK.	Approved/Paid
							Discuss with BN reconciliation to be prepared re into received from ASIC, listing all outstanding	Category 2 - Approved/Paid
Eloa Zuardi	LOA	10-Jan-14	0.5	345.00	172.50	Trade-on	invoices as per latest statement received.	Category 2 -
Eloa Zuardi	LOA	10-Jan-14	0.1	345.00	34.50	Administration	Email in re ASIC invoices	Approved/Paid
		10 001111						Category 2 -
Renee Lobb	Senior Director	10-Jan-14	0.2	485.00	97.00	Trade-on	Take general call from property agent regarding properties and sell down. Revert to Receivers.	Approved/Paid Category 2 -
D-14 Ni	Admin	10-Jan-14	1	130.00	130.00	Administration	Prepare 8974_ASIC Invoice Statement Reconciliation	Approved/Paid
Brittany Newman	Addition	10-0ail-14	'					Category 2 -
Christine Stead	Senior Director	10-Jan-14	1.2	545.00	654.00	Administration	Download November WIP and OOPS and prepare Monthly fee summary	Approved/Paid
Megan Dopking	Administrative	10-Jan-14	0.1	130.00	13.00	Administration	Bank reconciliation	Corporate - Liquidation
James Court	Director 1	10-Jan-14	0.2	485.00	97.00	Investigations	Collate all attachments for supp report and print off draft	Corporate - Liquidation
Brittany Newman	Administration 1	10-Jan-14	0.1	130.00	13.00	Administration	Format & Final 8974199	Corporate - Liquidation
Brett Cottam	Director	10-Jan-14	0.1	485.00	48.50	Assets	Email from Peter McLeod.	Corporate - Liquidation Category 2 -
Renee Lobb	Senior Director	13-Jan-14	0.1	485.00	48.50	Administration	Respond to investor enquiry and fwd to LM Investment Management Ltd change of address request.	Approved/Paid Category 2 -
Renee Lobb	Senior Director	13-Jan-14	0.2	485.00	97.00	Trade-on	Review and respond to two general requests for updates across funds.	Approved/Paid Category 2 -
Eloa Zuardi	LOA	13-Jan-14	1.5	345.00	517.50	Trade-on	Update cashflow Follow up Hoha re Lm - U-Own Storage (Southbank). Call out to Wendy from Thomsons Lawyers	Approved/Paid Category 2 -
Eloa Zuardi	LOA	13-Jan-14	0.5	345.00	172.50	Trade-on	and advise update	Approved/Paid
		10 0011 14	0.0				Email in from Peter Schmidt re information request from ASICTeleconference with John Newby and	Category 2 -
			0.5	590.00	295.00	Administration	Trent Franklin re merger with Perpetualemails in asic notices; review email in re baronsands payment	
Kelly-Anne Trenfield	Sr Managing Dir	13-Jan-14	0.0	590.00	253.00	/uniteriou		Category 2 -
ohn Park	Sr Managing Dir	13-Jan-14	0.3	590.00	177.00	Administration	Teleconference with Trust Company	Approved/Paid
	<u> </u>	1					Working through a variety of general fund matters across CPF, AIF and ASPF from the previous	Category 2 - Approved/Paid
lohn Corbett	Managing Dir	13-Jan-14	1	550.00	550.00	Administration	week.	Category 2 -
ally McBryde	Managing Dir	13-Jan-14	0.2	550.00	110.00	Administration	Consider email re U Own Storage subpoena,. respond to BN with instructions	Approved/Paid

LM Investment Ma Remuneration to 3	inagement Ltd (In Liqu 10 June 2018	idation)			3,204,515.29		에는 것은	
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Etoa Zuardi	Manager 1	13-Jan-14	0.5	345.00	172.50	Administration	Review fees to be excluded from WiP re investors meeting	Corporate - Liquidation
Brett Cottam	Director	13-Jan-14	0.5	485.00	242.50	Assets	Review of application for assignment of lease for 38 Cavill Ave and draft recommendation to JRP.	Corporate - Liquidation
Brett Coltarn	Director	13-Jan-14	0.1	485.00	48.50	Assets	Email to Wayne Robbie requesting a copy of bank statements for the lease assignment application.	Corporate - Liquidation
	Dealer Director	14-Jan-14	0.1	485.00	48,50	Trade-on	Respond to general query regarding update on LM Investment Management Ltd. Request specific fund the client is invested in to enable a response.	Category 2 - Approved/Paid
Renee Lobb	Senior Director	14-Jan-14	0.1	400.00	46,50		Review emails in from Peter at Norton Rose regarding ASIC notices; review previous information and	Category 2 -
Christine Stead	Senior Director	14-Jan-14	0.8	545.00	436.00	Investigations	draft response; review new notices and email Simon Tickner requesting assistance	Approved/Paid
				500.00	110.00	A - i -	Call to sean Russell re MPF B&R review email in re access and discuss with CMAemails in re asic requests for records	Category 2 - Approved/Paid
Kelly-Anne Trenfield	Sr Managing Dir	14-Jan-14	0.2	590.00	118.00	Administration		Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	14-Jan-14	0.1	590.00	59.00	Administration	emails in reasic requests for records and provision of information	Approved/Paid
tony runo riciniola								Category 2 -
Brittany Newman	Admín I	14-Jan-14	0.1	130.00	13.00	Administration	Mail in from Aizer Plumbing Solutions Pty Ltd - Tax Invoice AP000649.01 dated 28 May 2013	Approved/Paid Category 2 -
Julia Dadi	Dr. Managing Dia	14 100 14	0.2	590.001	118.00	Administration	Emails in Norton Rose	Approved/Paid
John Park	Sr Managing Dir	14-Jan-14	U.Z		118.00	Administration		Category 2 -
John Corbett	Managing Dir	14-Jan-14	0.5	550.00	275.00	Administration	General administrative issues across the funds	Approved/Paid
							Emails in re asic requests for records and provision of information	Category 2 - Approved/Paid
Kelly-Anne Trenfield	Sr Managing Dir	14-Jan-14	0.1	590.00		Administration		Corporate - Liquidation
Brittany Newman	Administration 1	14-Jan-14	0.1	130.00	13.00	Administration	Filing Califrom Wayne Roople to discuss assignment application for lease (part of Lot 1) and subsequent	
Brett Cottam	Director	14-Jan-14	0.3	485.00	145.50	Assets	email confirming consent.	Corporate - Liquidation
Breit Cottam	Director	14-Jan-14	0.2	485.00	97.00	Assets	Email exchange with Peter McLeod regarding the Deed of Assignment.	Corporate - Liquidation
Patrick Ma	Director	15-Jan-14	0.4	350.00	140.00	Assets	Discuss war omisate of PTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTT	Category 2 - Approved/Paid Category 2 -
Renee Lobb	Senior Director	15-Jan-14	0.4	485.00	194.00	Trade-on	Provide update on all funds to investor representative.	Approved/Paid
John Corbett	Managing Dir	15-Jan-14	0.5	550.00	275.00	Administration	General administrative matters across funds	Category 2 - Approved/Paid Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	15-Jan-14	0.1	590.00	59.00	Administration	Email in from Steve Russell re status of legal actions	Approved/Paid
· · · · · · · · · · · · · · · · · · ·						•	Payment - check supporting documentation, review invoices and banking voucher for payment to Macquarie re PI insurance, approve payment	Category 2 - Approved/Paid
Sally McBryde	Managing Dir	15-Jan-14	0.1	550.00	55.00	Administration		Category 2
Sally McBryde	Managing Dir	15-Jan-14	0.1	550.00	55.00	Administration	Follow up monthly Pt installment, check MYOB, email to EBZ	Approved/Paid
Andrew Weatherley	Managing Director	15-Jan-14	0.1	545.00	54.50	Administration	Collate docs for s533 report	Corporate - Liquidation
Brittany Newman	Administration 1	15-Jan-14	0.1	130.00	13.00	Administration	Mail out to Peter Drake - 8974/99 + CHQ's from NZ Inland Revenue \$699.45 & \$134.77	Corporate - Liquidation
lames Court	Director 1	15-Jan-14	0.5	485.00	242.50	Investigations	Attachements for supp report	Corporate - Liquidation
James Coun		11					Correspondence out - review and note contents, make changes where necessary, sign and send to Peter Drake	Corporate - Liquidation
Sally McBryde	Managing Director	15-Jan-14	0.1	550.00	55.00	Administration	Query from SAC Te creation query on update on further reports and likelihood of dividend, review	
Sally McBryde	Managing Director	15-Jan-14	0.3	550.00	165.00	Creditors	previous report & search for any updates and respond to SAC	Corporate - Liquidation
Stuart Clancy	Manager 1	15-Jan-14	0.3	345.00	103.50	Creditors	Reviewing creditor email and responding to queries regarding update on liquidation to date.	Corporate - Liquidation
Brett Collam	Director	15-Jan-14	0.2	485.00	97.00	Assets	Review of legal correspondence from Peter McLeod regarding the transfer of Peter Drake's shares. Treview email and diffic commentionity deed from tawyer in teration to the practicationity on the rogistic in	Corporate - Liquidation
							providing relevant data to Korda Mentha, and provide recommendation. Telephone conference with	Category 2 - Approved/Paid
Patrick Ma	Director	16-Jan-14	1.3	350.00	455.00	Assets		Category 2 -
	1	1 1	0.2	485.00		Trade-on	Review and respond to general tax statement enquiry.	Approved/Paid

LM Investment M	anagement Ltd (In Liqui	dation)						
Rémuneration to Name	30 June 2018	Date	Hours	Charge Out Rate	3,204,515.29 Charge	Task Desc	Narrative	Classification
Renee Lobb	Senior Director	16-Jan-14	0.3	485.00	145.50	Administration	Review and save to file ASIC letter.	Category 2 - Approved/Paid
Electric Strength	LOA	16-Jan-14	0.2	345.00	69.00	Employees	Seek update in relation to the Deed of advance payment	Category 2 - Approved/Paid
Eloa Zuardi	LUA	10-080-14	0.2	040.00	45.00	Linployees		Category 2 -
Eloa Zuardi	LOA	16-Jan-14	0.2	345.00	69.00	Employees	Seek update in relation to the Deed of advance payment	Approved/Paid Category 2 -
Eloa Zuardi	LOA	16-Jan-14	0.3	345.00	103.50	Administration	Insurance payment	Approved/Paid
Eloa Zuardi	LOA	16-Jan-14	0.8	345.00	276.00	Administration	Review fees for period March to July and update re investor's meeting time charge	Category 2 - Approved/Paid
							CMA update re access agreement re books and records	Category 2 - Approved/Paid
Kelly-Anne Trenfield	Sr Managing Dir	16-Jan-14	0.2	590.00	118.00	Administration	CMA update re access agreement re books and records	Category 2 -
Christine Stead	Senior Director	16-Jan-14	0.1	545.00	54.50	Administration	Email Simon regarding estimated time for Carolyn and seek approval from KAT	Approved/Paid
					54.50	A duala in territing	Phone Call from Sean at Russels regarding request for further information	Category 2 - Approved/Paid
Christine Stead	Senior Director	16-Jan-14	0.1	545.00	54.50	Administration		Category 2 -
Christine Stead	Senior Director	16-Jan-14	0.1	545.00	54.50	Administration	Review email from Sean and forward to Patrick Ma	Approved/Paid
		40 100 44	1.2	545.00	654.00	Administration	Emails with SC regarding cred update, email to/ from KAT for updateDetailed review of \$533(2) draft report, amend and discuss with James Court	Corporate - Liquidation
Andrew Weatherley	Managing Director	16-Jan-14 16-Jan-14	1.2		970.00		Finalise draft s 533 report, extract further PD'S and financials compile for review	Corporate - Liquidation
James Court	Director 1	10-Jan-14	2	400.00	570.00	anvesugeaursa	Received various emails front creditors regarding update on liquidation to date and future course of	
Stuart Clancy	Manager 1	16-Jan-14	0.4	345.00	138.00	Creditors	action. responded accordingly.	Corporate - Liquidation
Brett Cottam	Director	16-Jan-14	0.2	485.00	97.00	Assets	Email exchange between Peter McLeod and Hickey Lawyers.	Corporate - Liquidation
							Mentha. Liaise with Korda Mentha IT Forensics team to discuss the logistic and methodology use to	
		1					create the forensics image of the NAS containing LM Investment virtual server data. Received 2 NAS devices from Korda Mentha and liaise with their team to configure the devices, setup and perform	Category 2 -
		47		350.00	1.680.00	Accete	increase acquisition on the 6.7 TB of data.	Approved/Paid
Patrick Ma	Director	17-Jan-14	4.8	350.00	1,000.00	Assets		Category 2 -
Eloa Zuardi	LOA	17-Jan-14	0.1	345.00	34.50	Employees	email received from Clouts re Deed of Advance funds.	Approved/Paid
					170.50		Email received from Clouts re Deed of Advance funds. Phone call and email out to Cameron from Mallesons re legal advice.	Category 2 - Approved/Paid
Eloa Zuardi	LOA	17-Jan-14	0.5	345.00	172.50	Employees		Category 2 -
Eloa Zuardi	LOA	17-Jan-14	0.3	345.00	103.50	Creditors	guarantee and proof of debt received from impressions finance	Approved/Paid
	-			405.00			Meeting with EY regarding audit.	Category 2 - Approved/Paid
Renee Lobb	Senior Director	17-Jan-14	0.7	485.00	339.50	Investigations		Category 2 -
Renee Labb	Senior Director	17-Jan-14	0.1	485.00	48.50	Investigations	Follow up Steve Hannan regarding Trust co statements for audit.	Approved/Paid Category 2 -
				cc0 00		Administration	Meeting with auditors to discuss progress with lund audits and follow up with Western unroh on outstanding matters	Approved/Paid
John Corbett	Managing Dir	17-Jan-14		550.00	550.00	Administration		Category 2
Kelly-Anne Trenfield	Sr Managing Dir	17-Jan-14	0.9	590.00	531.00	Administration	Meeting with Steve Russell re appeal/next steps/legal cost	Approved/Paid Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	17-Jan-14	0.3	590.00	177.00	Administration	Discussion with CMA re books and records agreement; emails in	Approved/Paid
				(ma 00	472.00	Administration	Meeting with Stephen Russell to discuss upcoming trial	Category 2 - Approved/Paid
John Park	Sr Managing Dir	17-Jan-14	0.8	590.00	472.00	AUDIT ISTRUDI	Email from Clouts re FEG and payment of Deed of Advance, review legal position and respond to	Category 2 -
Sally McBryde	Managing Dir	17-Jan-14	0.1	550.00	55.00	Employees	EBZ	Approved/Paid Category 2 -
C-llu Mallauda	Managing Dir	17 100 14	0.1	550.00	55.00	Employees	Email from Clouts re FEG and payment of Deed of Advance, review legal position and respond to EBZ	Approved/Paid
Sally McBryde	Managing Dir	17-Jan-14	0.1	130.00		Administration	Updating Cheque Register.	Corporate - Liquidation
Tanya Kratz	Administration 2	17-Jan-14	0.1	485.00		Assets	Email from Wayne Robbie regarding assignment of lease for Part Lot 1.	Corporate - Liquidation
Brett Cotlam	Director	17-Jan-14		485.00			Bank rec	Corporate - Liquidation
Ginette Muller	Senior Managing Director	17-Jan-14	0.1	590.00	59.00	Administration		

	anagement Ltd (in Liqui	dation)			7 224 545 22			
Remuneration to 3 Name	10 June 2018 Title	Date	Hours	Charge Out Rate	3,204,515.29 Charge	Task Desc	Narrative	Classification
Kelly Anno Tronfield	Senior Managing Director	19-Jan-14	0.1	590.00	59.00	Administration	review and update to do list; query outstanding items review incoming documentation, consider and send to filling	Corporate - Liquidation
Kelly-Anne Trenfield Kelly-Anne Trenfield	Senior Managing Director	19-Jan-14	0.1	590.00			Review email in re-update on status of sale of 38 cavil	Corporate - Liquidation
-		19-Jan-14	0.1	590.00	59.00	-	Review and approval of documentation	Corporate - Liquidation
John Park	Senior Managing Director	19-Jan-14	0.1	590,00	39.00	- Administration	Oversee the imaging process of the 5.2 TB (total of 6.7 TB) of LM Investment data, documentation	Category 2 -
Patrick Ma	Director	20-Jan-14	1.5	350.00	525.00	Assets	the process and report to Korda Mentha on the status.	Approved/Paid
							Discussion with Chris Enurt regarding insurance meeting on claims articulation and where to from	Category 2 -
Renee Lobb	Senior Director	20-Jan-14	0.3	485.00	145.50	Investigations	here. IFind Loe's and send to Kelly-Anne Trentleid. Review Ginette Muller email and send insurance details	Approved/Paid Category 2 -
	Device Disertes	20 100 14	0.2	485.00	07.00	Administration	to Kelly-Anne Trenfield for meeting request with Clayton Utz.	Approved/Paid
Renee Lobb	Senior Director	20-Jan-14	0.2	465.00	97.00	Administration		Category 2 -
Renee Lobb	Senior Director	20-Jan-14	0.1	485.00	48.50	Administration	Send email to Clayton Utz regarding times for insurance meeting.	Approved/Paid
								Category 2 -
Eloa Zuardi	LOA	20-Jan-14	0.6	345.00	207.00	Trade-on	Review Invoices summary and speak with RFZ re review	Approved/Paid Category 2 -
				550.00	55.00	Administration	Call from John Denehy of Blue re PI payment, check MYOB and advise date of payment	Approved/Paid
Sally McBryde	Managing Dir	20-Jan-14	0.1		00.00	Administration	CMA re asic notices respond to HO re audit requirements for MII-emails in re insurance meetings and	Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	20-Jan-14	0.4	590.00	236.00	Administration	asic notices	Approved/Paid
								Category 2 -
John Corbett	Managing Dir	20-jan-14	0.5	550.00	275.00	Administration	Various matters (notifications, etc) relating to wind-up of funds	Approved/Paid
Joan Springate	Administration	20-Jan-14	0.1	130.00	13.00	Administration	Receipt voucher & posting receipt	Corporate - Liquidation
Joan Springate	Administration	20-Jan-14	0.1	130.00	13.00	Administration	Bank Rec	Corporate - Liquidation
Brett Cottam	Director	20-Jan-14	0.4	485.00	194.00	Assets	Review of changes made by Hickey Lawyers to the Deed of Assignment and email to Peter McLeod. Can mom Peter McLeod to discuss changes to the Deed of Assignment and subsequent review of the	Corporate - Liquidation
		00.1-0.44	0.7	485.00	339.50	Assets	document with changes.	Corporate - Liquidation
Brett Cottam	Director	20-Jan-14	0.7		69.00	Creditors	Reviewing and responding to various creditor enquiries.	Corporate - Liquidation
Stuart Clancy	Manager 1	20-Jan-14	0.2	345.00			Review fee schedule	Corporate - Liquidation
Christine Stead	Senior Director	20-Jan-14	0.3	545.00	163.50	Administration	examine the completed 5.2 To logical integerant abcomentation, report to Auruan wentita. Outain	
							equipment's and perform backup on the 5.2 TB logical forensics image. Perform logical image acquisition of remaining 1.6 TB of LM Investment server data and oversee the process with	Category 2 -
				050.00	4 050 00	A anala	acquisition of remaining 1.0 TB of car investment server data and everses the process with documentation.	Approved/Paid
Patrick Ma	Director	21-Jan-14		350.00	1,050.00	ASSEIS		Category 2 -
Renee Lobb	Senior Director	21-Jan-14	0.2	485.00	97.00	Trade-on	Take investor call regarding general update on funds.	Approved/Paid
TREASE LODD							Review tee approval reconciliation prepared by EBZ and copy of Order dated 20 December 2013	Category 2 -
Ryan Zorgdrager	Senior Director	21-Jan-14	0.8	545.00	436.00	Administration	considering FMIF costs.	Approved/Paid Category 2 -
				045.00	345.00	Trade-on	Review ASIC Invoices and excel file from Fiona. Email out to BN and Fiona re allocation of payments.	Approved/Paid
Eloa Zuardi	LOA	21-Jan-14	1	345.00	345.00	Trade-OII	Emails in re asicreview position re Clayton Lutz invoices; draft response to CU re outstanding	Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	21-Jan-14	0.2	590.00	118.00	Administration	invoices	Approved/Paid
Noky Fullo Herhold	or managing on				······································	1		Category 2 -
Christine Stead	Senior Director	21-Jan-14	0.6	545.00	327.00	Administration		Approved/Paid Category 2 -
					CEO OD	Administration	Trovion di budi etalemente energia e	Approved/Paid
John Corbett	Managing Dir	21-Jan-14	1	550.00	650.00	Administration		Corporate - Liquidation
Eloa Zuardi	Manager 1	21-Jan-14	0.2	345.00	69.00	Trade-On	Review of correspondence from Wayne Robbie regarding extension of tease to Study Group.	Corporate - Liquidation
Brett Cottam	Director	21-Jan-14	0.4	485.00	194.00	Assets	Arrange for execution of baronsands cheque and return to PKF	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	21-Jan-14	0.1	590.00	59.00	Assets	Arrange for execution of baronsands cheque and reach to exer examine the completed 1.7 To togical image and obcumentation, report to Koroa Mentha. Penorm	
		1 1					backup on the logical forensics image of 1.6 TB data, and checking the backup of both logical images	Category 2 -
Patrick Ma	Director	22-Jan-14	2.3	350.00	805.00		to ensure we have an exact copy of data which will be provided to Korda Mentha.	Approved/Paid
								Category 2 -
Renee Lobb	Senior Director	22-Jan-14	0.2	485.00	97.00	Trade-on	Review emails between Kelly-Anne Trenfield and Clayton Utz regarding fee situation.	Approved/Paid Category 2 -
							Call with Clayton Utz to confirm amounts paid against invoices in December.	Approved/Paid
Renee Lobb	Senior Director	22-Jan-14	0.2	485.00	97.00	Administration		

 \square

	anagement Ltd (In Liqui	dation)						
Remuneration to Name:		Date	Hours	Charge Out Rate	3,204,515.29 Charge	Task Desc	Narrative	Classification
		1	1			L	Send update of address to LM Investment Management Ltd for database editing.	Category 2 - Approved/Paid
Renee Lobb	Senior Director	22-Jan-14	0.1	485.00	48.50	Trade-on	Review Director report requirements and note via email to John Corbett and on document what	Category 2 -
Renee Labb	Senior Director	22-Jan-14	0.4	485.00	194.00	Administration	sections i believe we may be able to complete.	Approved/Paid
								Category 2 -
Benjamin Robson	Consultant I	22-Jan-14	0.2	235.00	47.00	Creditors	Payment to Aizer	Approved/Paid
					-		Emain from and response to mark watter restatus or insurance cost payments; RCL re payment or costs and discussion with CUemails in re asic noticesemail in from Ashley tiplady re challenge to	Category 2 -
1/	Re Managine Dis	22 Jan 44	0.4	590.00	236.00	Administration	tucker's invoice; draft emeil in response	Approved/Paid
Keily-Anne Trenfield	Sr Managing Dir	22-Jan-14	0.4	590.00	230.00	Administration	Call from John Denehy of Blue Broking advising that Pl installment has not been received by	Category 2 -
Sally McBryde	Managing Dir	22-Jan-14	0.1	550.00	55.00	Administration	Macquarie, instructions to EBZ to locate and email remittance to Blue	Approved/Paid
outly toolly go		1						Category 2 -
John Corbett	Managing Dir	22-Jan-14	1	550.00	550.00	Administration	General administration matters across the funds including ASIC information and enquiries.	Approved/Paid
							Follow up insurance payment and advise John from Blue Broking	Category 2 - Approved/Paid
Eloa Zuardi	LOA	22-Jan-14	0.5	345.00	172.50	Trade-on	Review the to source information for RFZ re lodged minutes of meeting where motions considering	Category 2 -
Elen Zunali	LOA	22-Jan-14	0.6	345.00	207.00	Administration	fee approval were approved.	Approved/Paid
Eloa Zuardi			0.0		118.00	Administration	Review and sign documentation	Corporate - Liquidation
John Park	Senior Managing Director	22-Jan-14					Email to Peter McLeod regarding Study Group.	Corporate - Liquidation
Brett Cottam	Director	22-jan-14	0.1		48.50	Assets		Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	22-Jan-14	0.1	590.00	59.00	Assets	Review email in from Wayne Robbie re claim to repayment of rent by tenant reviewing paperwork for filing, coding or paperwork, printing emails and documents, archiving.	Corporate + Elquidadon
	Managina Disector	22-Jan-14	2	550.00	1,100.00	Administration	insurance documentation, legal issues, Pl insurance, insurance funds	Corporate - Liquidation
Sally McBryde	Managing Director				109.00	Administration	NRJ instructions regarding updating December WIP schedule	Corporate - Liquidation
Christine Stead	Senior Director	22-Jan-14	0.2	545.00			Follow up MPF Bank A/c open	Corporate - Liquidation
Eloa Zuardi	Manager 1	22-Jan-14	0.2	345.00	69.00	Administration	With John Corbett regarding director report contents and queries. Leave message with sally to call	Category 2 -
	Quelles Disentes	23-Jan-14	0.3	485.00	145 50	Administration	back on disclosures for s300 KMP.	Approved/Paid
Renee Lobb	Senior Director	23-38(1-14	0.3	400.00	140.00	Administration	Review emails regarding LOEs required, discuss with John Park, Ginette Muller and Kelly-Anne	Category 2 -
Renee Lobb	Senior Director	23-Jan-14	0.2	485.00	97.00	Trade-on	Trenfield.	Approved/Paid
								Category 2 -
Renee Lobb	Senior Director	23-Jan-14	0.1	485.00	48.50	Administration	Send Ginette Muller first and second meeting reports and minutes for reporting purposes.	Approved/Paid Category 2 -
							Update Consultant register with Norton Rose payment on 8/01/14. Call to Russells to request invoices outstanding.	Approved/Paid
Benjamin Robson	Consultant	23-Jan-14	0.3	235.00	/0.50	Creditors	Payment - check supporting documentation, review invoices and banking voucher for payment to	Category 2 -
Cally MaDavia	Managing Dir	23-Jan-14	0.1	550.00	55.00	Trade-on	supplier - Alzer Plumbing, approve payment	Approved/Paid
Sally McBryde	Managing Dir	20-0411-14	0.1			//		Category 2 -
John Corbett	Managing Dir	23-Jan-14	1	550.00	550.00	Administration	Structuring of directors statements for audits. General administration across the funds.	Approved/Paid
							Die Auto with Michael from Michael Bone and Obarro Call to Irms at ASIC	Category 2 - Approved/Paid
Christine Stead	Senior Director	23-Jan-14	0.3	545.00	163.50	Administration	Phone Call with Michael from Norton Rose and Phone Call to Irma at ASIC	Category 2 -
				545.00	54.50	Administration	Query from JS regarding bank statement for Mortgagee in Possession	Approved/Paid
Christine Stead	Senior Director	23-Jan-14	0.1	545.00	34.30	Automistration		Category 2 -
Christine Stead	Senior Director	23-Jan-14	0.5	545.00	272.50	Administration	Review December fee schedule and email to KAT	Approved/Paid
		20 0011 11					Follow up Simon re vanous invoices to be paid from funds and controllerships. Lase with John	Outerran D
							Corbett re invoices on hold and approvals requested. Update excel file re invoices. Review bank account for invoices received. Update cash flow/SOP	Category 2 - Approved/Paid
Eioa Zuardi	LOA	23-Jan-14	1.5	345.00	517.50	Administration		Category 2 -
		02 Jan 44	0.5	345.00	172.50	Trade-on	Follow up Cameron re FEG - Deed of Advance	Approved/Paid
Eloa Zuardi		23-Jan-14	0.0	345.00	172.00	11440-011		Category 2 -
Eloa Zuardi	LOA	23-Jan-14	0.5	345.00	172.50	Administration	Handover file memo and meeting with BJR	Approved/Paid
Brett Cottam	Director	23-Jan-14	0.4	485.00	194.00	Assets	Call from Wayne Robbie and subsequent email regarding Deed of Assignment.	Corporate - Liquidation
Brett Cottam	Director	23-Jan-14	0.3	485.00		Assets	Correspondence regarding Study Group.	Corporate - Liquidation
			0.3	345.00		Administration	Attend to fees schedule	Corporate - Liquidation
latasha Jonga	Senior Consultant II	23-Jan-14					Review and sign correspondence	Corporate Liquidation
ohn Park	Senior Managing Director	23-Jan-14	0.2	590.00	118.00	Administration		

LVI Investment Management Li Remuneration to 30 June 2018 Name	nagement Ltd (In Liquidation) 0 June 2018 Title Date		Hours	Hours Charge Out Rate	3,204,515.29 e Charge	Task Desc	Narrative	Classification
Ginette Muller	Senior Managing Director	23-Jan-14	0.1	590.00	59.00	Assets	Bank Rec	
Renee Lobb	Senior Director	24-Jan-14	0.3	485.00	145.50	Trade-on	Ermails with Steve and Shauna from LM investment Management Ltd regarding western union issues and outstanding matters.	Category 2 - Approved/Paid
Reniamin Robson	Consultant 1	24-Jan-14	0.6	235.00	141.00	Administration	File handover with Eloa Zuardi, update on current issues/workload	Category 2 - Approved/Paid
Kolly Anno Toonfold	Consolution Dir Cr Manacoloo Dir		06	200			Review and approve asic nonce to scrietories or intoreview corresponented from Piper aldermanreview pa letter to MPF indemnityemail from and response to Shane roberts re asicreview pa letter to MPF indemnity	Category 2 - Approved/Paid
Joan Springate	Admin II	24-Jan-14	0.3	130	39.00	Administration	Setting up Online payment & positing payment	Category 2 - Approved/Paid
John Corbett	Manaqing Dir	24-Jan-14	0.5	250	275.00	Administration	Emails and administration matters across the funds.	Category 2 - Approved/Paid
Christine Stead	Senior Director	24-Jan-14	0.3	545.00	163.50	Administration	Review and amond letter to ASIC; instructions to CD to tinalise; review payment for repairs and maintenance	Category 2 - Approved/Paid
Christine Stead	Senior Director	24-Jan-14	0.1		54.50	Administration	Review final letter to ASIC and arrange execution and delivery with CD	Category 2 - Approved/Paid
Eloa Zuardi	LOA	24-Jan-14	0.5	345.00	172.50	Administration	Meeting with BJR re LMIM Operational cost invoicing	Category z - Approved/Paid
Brett Cottam	Director	24-Jan-14	0.1	485	48.50		Ernail exchange with Peter McLeod.	Corporate - Liquidation
John Park	Senior Managing Director	24-Jan-14	0.2	069	118.00	Administration	Review and sign approval correspondence	Corporate - Liquidation
Renee Lobb	Senior Director	28-Jan-14	0.1	485.00	48.50	Trade-on	Review and respond to adviser request for client listing.	category z - Approved/Paid
Eloa Zuardi	LOA	28-Jan-14	0.5	345.00	172.50	Trade-on	FOS email re trivestor complaint. Líase with LM staff	
Glenn O'Keamev	Senior Director	28-Jan-14	0.2	545.00	109.00	Assets	Keview correspondence from russelis regarding cost allocaudrimuterimmy issues etc. premi review or renonciation.	
Jahn Corbett	Manaqing Dir	28-Jan-14	0.5	550	275.00	Administration	Desting with Responsible Entity matters across funds including receipt of information from western Union and completion matters for the audits	category z - Approved/Paid
Kellv-Anne Trenfield	Sr Manaoino Dir	28-Jan-14:		590.00	649.00	Administration	Review, allocation and calculation of remuneration for invoicing to individual funds	category z - Approved/Paid
Brittany Newman	Administration 1	28-Jan-14	0.3	130	39.00	Administration	Prepare receipt vouchers in MYOB for 8794inv 15, inv 16 & inv 17	Corporate - Liquidation
Eloa Zuardi	Manager 1	28-Jan-14	0.5		172.50	Trade-On	Update re Lm - U-Own Storage. Cheque received, prepare MYOB voucher	Corporate - Liquidation
Glenn O'Kearnev	Senior Director	28-Jan-14		545	109.00	Administration	Review bank reconciliation. review eloa handover memo.	Corporate - Liquidation
Gtenn O'Keamev	Senior Director	28-Jan-14	0.5		272.50	Assets	Review coro from poortam and peter modula regarding status or agreement and issues surrounding documents to be signed and document clauses/adjustment.	Corporate - Liquidation
Sally McBryde	Manading Director	28-Jan-14	0.2	550	110.00	Administration	Review EBZ handover note and attached documents and consider	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	28-Jan-14	<u>.</u>	230	59.00	Administration	Review and update to do list; query outstanding items	Corporate - Liquidation
Renee Labb	Senior Director	29-Jan-14	0.2	485.00	97.00	Trade-on	Review and respond to adviser request for valuations. advise available through adviser portal.	Approved/Paid
Renee Labb	Senior Director	29-Jan-14	0.1	485.00	48.50	Administration	Review and respond to email from Shauna regarding issues with adviser information exchange.	Approved/Paid
Panae Lohh	Senior Director	29-Jan-14	0,1	485.00	48.50	Administration	Review update on additional information received for audit queries.	Approved/Paid
Christine Steed	Senior Director	29-Jan-14	0.3	545.00	163.50	Administration	Review and amend Nov fee schedule	Category 2 - Approved/Paid
Christing Stood	Sonior Director	29-Jan-14	0.1	545.00	54.50	Administration	respond to ernall in from EBZ re fees	Approved/Paid
Fina Zuandi	DA	29-Jan-14	0.5	345.00	172.50	Trade-on		Lategury ∠ - Approved/Paid
Eloa Zuardi	LOA	29-Jan-14	-	345.00		Trade-on	g	category 2 - Approved/Paid Paterowy -
Eloa Zuardi	LOA	29-jan-14	0.6	345.00	207.00	Administration	Email to CMA re Deconov rees and deta dump. Review ness saved under n. drive: optimes involve summary	Approved/Paid

Ę

(

LM investment Ma Remuneration to 3	nagement Ltd (In Liquid 0 June 2018	lation)			3,204,515.29			
Name		Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Benjamin Robson	Consultant I	29-Jan-14	0.1	235.00	23.50	Administration	Email to FOS requesting future emails to myself	Category 2 - Approved/Paid
						A 114 - 14	Notion Rose involce reconciliation and credit of Involce 1209536. King & Wood Mallesons Involce reconciliation and application of \$1426.15 to 1554216	Category 2 - Approved/Paid
Benjamin Robson	Consultant I	29-Jan-14	0.5	235.00	117.50	Creditors	Dealing with Responsible Entity matters across funds including receipt of information from Western	Category 2 -
John Corbett	Managing Dir	29-Jan-14	0.5	550.00	275.00	Administration	Union and completion matters for the audits	Approved/Paid
Kelly-Anne Trenfield	Sr Managing Dir	29-Jan-14	0.6	590.00	354.00	Administration	Review, calculation and allocation of remuneration re allocation to funds and invoicing	Category 2 - Approved/Paid
Joan Springate	Administration	29-Jan-14	0.1	130.00	13.00	Administration	Receipt voucher & posting receipt	Corporate - Liquidation
Brittany Newman	Administration 1	29-Jan-14	0.1	130.00	13.00	Administration	Mail in from Telstra Bigpond - Bill IN10367391382	Corporate - Liquidation
Brittany Newman	Administration 1	29-Jan-14	0.1	130.00	13.00	Administration	Mail in from Thompson Lawyers - Correspondence & CHQ \$238.88	Corporate - Liquidation
Brittany Newman	Administration 1	29-Jan-14	0.3	130.00	39.00	Administration	Split files + filing	Corporate - Liquidation
Glenn O'Keamey	Senior Director	29-Jan-14	0.2	545.00	109.00	Administration	Discuss status of file and handover issues with BJR ande Eloa	Corporate - Liquidation
Glenn O'Kearney	Senior Director	29-Jan-14	0.2	545.00	109.00	Assets	Discussion with bcottam regarding rental issues/settlement adjustments, review correspondence regarding land tax and notes to bcotatm, notes from bcottam regarding deed of assignment draft.	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	29-Jan-14	0.1	590.00	59.00	Assets	Mail in re request for rental creditor for tenant; review status of sale of interest in JV	Corporate - Liquidation
Brett Cottam	Director	29-Jan-14	0.2	485.00	97.00	Assets	Discussion with GOK on Study Group rent and Land Tax.	Corporate - Liquidation
Brett Cottam	Director	29-Jan-14	0.4	485.00	194.00	Assets	Review of changes to the Deed of Assignment by Hickey Lawyers.	Corporate - Liquidation
	Director	29-Jan-14	0.4	485.00	194.00	Assets	Email to JRP with recommendation relating to rent free period for Study Group.	Corporate - Liquidation
Brett Coltam		29-Jan-14 29-Jan-14	0.4	485.00	97.00	Trade-On	Email from GOK with copies of Garnishee Notices from ATO regarding land tax.	Corporate - Liquidation
Brett Coltam	Director		0.2	485.00	97.00	Assets	Emails to GOK regarding changes to the Deed of Assignment.	Corporate - Liquidation
Brett Coltarn	Director	29-Jan-14					Emails exchanges with Russells and Hickey Lawyers regarding the Deed of Assignment.	Corporate - Liquidation
Brett Cottam	Director	29-Jan-14	0.2	485.00	97.00	Assets	Review and respond to request to move investor to LM Investment Management Ltd license instead	Category 2 -
Renee Lobb	Senior Director	30-Jan-14	0.2	485.00	97.00	Trade-on	of bond portfolio. Advise cannot do this under AFSL restrictions.	Approved/Paid
Brittany Newman	Admin (30-Jan-14	0.1	130.00	13.00	Administration	Mail in from The Trust Company - Tax Invoices PM0006535, PM0006536, PM0006537, PM0006538, PM0006539 & PM0006540	Category 2 - Approved/Paid
Eloa Zuardi	LOA	30-Jan-14	0.5	345.00	172.50	Trade-on	Email out to SAM re Dispute awaiting allocation at Acceptance: Mr Hodge, case number 349764	Category 2 - Approved/Paid Category 2 -
Eloa Zuardi	LOA	30-Jan-14	1.	345.00	345.00	Trade-on	Meeting with GOK re invoices and update Dec/Nov fees going forward. Dealing with Responsible Endly matters across funds including receipt of information from Western	Approved/Paid Category 2 -
		20 I- 11	0.5	550.00	275.00	Administration	Union and completion matters for the audits	Approved/Paid
John Corbett	Managing Dir	30-Jan-14	0.5	130.00		Administration	Receipt voucher & posting receipt	Corporate - Liquidation
Joan Springate	Administration	30-Jan-14		130.00	78.00	Administration	Prepare BAS (1 Oct - 31 Dec 2013)	Corporate - Liquidation
Brittany Newman	Administration 1	30-Jan-14	0.6 0.3	345.00	103.50	Creditors	Reviewed and responded to email from creditors regarding progress of liquidation,	Corporate - Liquidation
Stuart Clancy	Manager 1	30-Jan-14			54,50	Administration	Review Nov wip info and update master sheet with details, note to eloa regarding invoices.	Corporate - Liquidation
Glenn O'Keamey	Senior Director	30-Jan-14	0.1	545.00	54.50	Administration	Review current status of deed of assignment. review records held regarding land tax, fin statements,	· · · · · · · · · · · · · · · · · · ·
							bank statements, review solicitor comments other side, etc. send notes regarding issues with Deed to	Corporate - Liquidation
Glenn O'Kearney	Senior Director	30-Jan-14	0.8	545.00	-	Assets	Brett for discussions with russells.	Corporate - Liquidation
Brett Cottam	Director	30-Jan-14	0.1	485.00	48.50	Assets	Email from GOK regarding Land Tax.	Corporate - Liquidation
John Park	Senior Managing Director	30-Jan-14	0.1	590.00	59.00	Administration	Email in for approval	Corporate - Exquidedon
Eloa Zuardi	LOA	31-Jan-14	0.5	345.00	172.50	Trade-on	Prepare involces Nov re fees	Approved/Paid
	Senior Director	31-Jan-14	0.2	485.00	97.00	Trade-on	Review and respond to query regarding transfer from bond holding to LM Investment Management Ltd. Advise cannot take on responsibility under the AFSL restrictions.	Approved/Paid
Renee Lobb	Senior Director	31-Jan-14	0.2	485.00	97.00	Trade-on	Review and respond to investor enquiry for tax statement,	Category 2 - Approved/Paid
Renee Lobb							Follow up EY regarding audit and director report disclosures.	Category 2 - Approved/Paid
Renee Lobb	Senior Director	31-Jan-14	0.1	485.00	48.50	Administration	r olow up - r regarding addit and an octor report algoridaneos	

Remuneration to 3					3,204,515.29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative Trake call from Sally at EY and discuss KMP and section 300 disclosures. Take notes and discuss	Classification
Renee Lobb	Senior Director	31-Jan-14	0.2	485.00	97.00	Administration	outstanding subsequent event issues.	Approved/Paid
Glenn O'Kearney	Senior Director	31-Jan-14	0.1	545.00	54.50	Administration	Note to Ashley regarding allocation fund work issues, note to Kelly with update.	Category 2 - Approved/Paid
Benjamin Robson	Consultant I	31-Jan-14	0.2	235.00	47.00	Creditors	Scan in save and send multiple invoices from the trust company to S Tickner	Category 2 - Approved/Paid
Benjamin Robson	Consultant i	31-Jan-14	0.5	235.00	117.50	Administration	File handover review with Eloa Zuardi	Category 2 - Approved/Paid
John Corbett	Managing Dir	31-Jan-14	0.5	550.00	275.00	Administration	Dealing with Responsible Entity matters across tunds including receipt of information from Western Union and completion matters for the audits	Category 2 - Approved/Paid
Joan Springate	Administration	31-Jan-14	0.2	130.00	26.00	Administration	Receipt voucher, Posting receipt & getting cheque ready to bank	Corporate - Liquidation
Glenn O'Keamey	Senior Director	31-Jan-14	0.1	545.00	64.50	Administration	Review Dec wip info and update master sheet with details. note to eloa regarding invoices.	Corporate - Liquidation
	Senior Director	31-Jan-14	0.3	545.00	163.50	Assets	Review notes from occuran regarding my comments on theen or assignment cavility, discussions with Brett on deed and next steps, review correspondence Brett regarding advice solicito, note to lucy regarding land tax payments.	Corporate - Liquidation
Glenn O'Keamey			0.3	545.00	109.00	Assets	Discussions with Kelly regarding indem/sop/costs etc. notes regarding TDL SOP etc.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	31-Jan-14	· · · ·	130.00	52.00	Administration	Amend transactions in MYOB & continue to prepare BAS (1 Oct - 31 Dec 2013)	Corporate - Liquidation
Brittany Newman	Administration 1	31-Jan-14	0.4			Administration	Review and update to do list; query outstanding items with GOK	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	31-Jan-14	0.1	590.00	59.00		Email and discussion with GOK on changes to the Deed of Assignment.	Corporate - Liquidation
Brett Coltam	Director	31-Јал-14	0.4	485.00	194.00	Assets	Calls from wayne Robble and Scott McMunne and Subsequent email regarding the Deed of	
Brett Cottam	Director	31-Jan-14	0.6	485.00	291.00	Assels	Assignment.	Corporate - Liquidation
Brett Coltam	Director	31-Jan-14	0.4	485.00	194.00	Assets	Discussion with Peter McLeod regarding changes to the Deed of Assignment.	Corporate - Liquidation
Brett Cottam	Director	31-Jan-14	0.1	485.00	48.50	Assets	Email to Wayne Robbie confirming consent for 3 month rent free period for Study Group.	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	02-Feb-14	0.1	590.00	59.00	Administration	Email in from Sean Russell re option to challenge Tucker and Cowen legal costs re MPF	Corporate - Liquidation
Benjamin Robson	Consultant I	03-Feb-14	1.2	235.00	282.00	Investigations	ASIC lodgement invoice statement reconciliation work for dividing charges amongst funds	Category 2 - Approved/Paid Category 2 -
Benjamin Robson	Consultant !	03-Feb-14	0.2	235.00	47.00	Administration	Email to Fiona Draney regarding ASIC invoice statement and procedure going forward	Approved/Paid Category 2 -
John Corbett	Managing Dir	03-Feb-14	0.5	550.00	275.00	Administration	Follow-up on various fund administration matters (audits)	Approved/Paid
Andrew Weatherley	Managing Director	03-Feb-14	0.1	545.00	54.50	Administration	Check 524 period, email GOKEmail James Court regarding update (s533(2)	Corporate - Liquidation
John Park	Senior Managing Director	03-Feb-14	0.2	590.00	118.00	Administration	Review and sign documents	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	03-Feb-14	0.5	590.00	295.00	Administration	Email from and response to Sean Russell re MPF hearingEmails from/to Ashley Tiplady(Russells) re preparation for trial.Review incoming documentation, consider and send to filing	Corporate - Liquidation
Joan Springate	Administration	03-Feb-14	0.2	130.00	26.00	Administration	Receipt voucher & posting receipt	Corporate - Liquidation
Glenn O'Kearney	Senior Director	03-Feb-14	0.5	545.00	272.50	Administration	Discussion team regarding 524. review previous SOP and prepare notes for update.	Corporate - Liquidation
Renee Lobb	Senior Director	04-Feb-14	0.1	485.00	48.50	Trade-on	Respond to investor enquiry.	Category 2 - Approved/Paid Category 2 -
Benjamin Robson	Consultant I	04-Feb-14	0.5	235.00	117.50	Administration	LM January BAS reporting and review Consultant register reconciliation and enquiries to Russells regarding \$8.5k unallocated and request	Approved/Paid Category 2 -
Benjamin Robson	Consultant I	04-Feb-14	0.7	235.00	164.50	Creditors	invoices not received. Print review and save new Russells invoices	Approved/Paid Category 2 -
Benjarnin Robson	Consultant I	04-Feb-14	0.2	235.00	47.00	Administration		Approved/Paid Category 2
Renee Lobb	Senior Director	04-Feb-14	0.1	485.00	48.50	Trade-on	Review and forward to MHA and AGT custody fees payable.	Approved/Paid Category 2 -
John Corbett	Managing Dir	04-Feb-14	0.5	550.00	275.00		Follow-up on various fund administration matters (audits)	Approved/Paid
John Park	Senior Managing Director	04-Feb-14	0.1	590.00	59.00			Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	04-Feb-14	0.6	590.00	354.00			Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	04-Feb-14	0.2	590.00	118.00	Administration	emails in; legal fees in JRP update re MPF hearing	Corporate - Liquidation

.

1 Milnvestment M	anagement Ltd (In Liqui	dation)			2 104 545 20			
Remuneration to Name:		Date	Hours	Charge Out Rate	3,204,515.29 Charge	Task Desc	Narrative	Classification
						[reconcile pank accounts, review updated Cash nows etc. preparation of LMIM corporate SOP, reconcile register regarding LMIM consultants fees, review russells correspondence regarding	
Glenn O'Kearney	Senior Director	04-Feb-14	2.5	545.00	1,362.50	Assets	allocation of MPF and certain FMIF costs to LMIM.	Corporate - Liquidation
Brett Cottam	Director	04-Feb-14	0.5	485.00	242.50	Assets	Finalisation of the Deed of Assignment.	Corporate - Liquidation
Benjamin Robson	Consultant I	05-Feb-14	0.2	235.00	47.00	Creditors	Verify entries for \$66 k payment to Clayton Utz regarding Legal fees	Category 2 - Approved/Paid
Benjamin Robson	Consultant I	05-Feb-14	0.2	235.00	47.00	Creditors	Inclusion of Rusells invoice B16908 and 16909 in registers	Category 2 - Approved/Paid
Benjamin Robson	Consultant !	05-Feb-14	0.3	235.00	70.50	Creditors	Inclusion of King & Wood Mallensons invoice 1557/53 in register, draft email to S Tickner providing break down of invoice into funds and requesting payment	Cătegory 2 - Approved/Paid Category 2 -
Glenn O'Kearney	Senior Director	05-Feb-14	0.2	545.00	109.00	Administration	Liarse with Kelly regarding russells allocations. note. correspondence to Ashley regarding outstanding matters for discussion.	Approved/Paid Category 2 -
Sally McBryde	Managing Dir	05-Feb-14	0.2	550.00	110.00	Administration	BAS return - ATO GST return - check working papers and sign where appropriate.	Approved/Paid
Sally McBryde	Managing Dir	05-Feb-14	0.5	550.00	275.00	Employees	Letter from KWM re entitlement of kome auministrations to promy to rands received norm 1.05, consider, discuss with KWM and respond to Clouts Letter from KWM re entitlement to promy to funds received from FEG, consider, discuss with KWM	Approved/Paid Category 2 -
Sally McBryde	Managing Dir	05-Feb-14	0.5	550.00	275.00	Employees	and respond to Clouts	Approved/Paid
Brittany Newman	Administration 1	05-Feb-14	0.2	130.00	26.00	Administration	Final BAS (1 Oct - 31 Dec 2013), Mail out to ATO + enter lodgement details in MYOB	Corporate - Liquidation
Tanya Kratz	Administration 2	05-Feb-14	0.1	130.00	13.00	Administration	Update Delivery Register.	Corporate - Liquidation
Benjamin Robson	Associate II	05-Feb-14	0.4	235.00	94.00	Administration	Form 524 work	Corporate - Liquidation
Benjamin Robson	Associate II	05-Feb-14	0.2	235.00	47.00	Administration	Email Peter Drake regarding Telstra account review Russells response to PA letter of 22 January in preparation of nearing for 10 Febreview	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	05-Feb-14	0.4	590.00	236.00	Administration	confidentiality deed re access by KM/Calibre to books and records	Corporate - Liquidation
Stuart Clancy	Manager 1	05-Feb-14	0.1	345.00	34.50	Administration	Reviewed banking voucher	Corporate - Liquidation
Glenn O'Keamey	Senior Director	05-Feb-14	0.2	545.00	109.00	Assets	Note from Brett regarding deed of assign. note to Brett regarding update on adjustments etc.	Corporate - Liquidation
Brett Coltam	Director	05-Feb-14	0.3	485.00	145.50	Assets	Email exchange with GOK regarding Deed of Assignment.	Corporate - Liquidation
Brett Cottam	Director	05-Feb-14	0.2	485.00	97.00	Assets	Discussion with Peter McLeod regarding the Deed of Assignment.	Corporate - Liquidation Category 2 -
Beniamin Robson	Consultant I	06-Feb-14	0.2	235.00	47.00	Creditors	MYOB payment to Macquarie Premium funding insurance	Approved/Paid
Benjamin Robson	Consultant I	06-Feb-14	1.6	235.00	376.00	Administration	Meeting and discussion with Glenn O'Keamey regarding process for processing LM fund, operational cost and Controllership invoices, as well as monthly LM Cashflow	Category 2 - Approved/Paid Category 2 -
Benjamin Robson	Consultant I	06-Feb-14	0.2	235.00	47.00	Administration	Email to Sean Russell requesting written apportionment of Books and Records invoices	Approved/Paid Category 2 -
Renee Lobb	Senior Director	06-Feb-14	1	485.00	485.00	Investigations	Meeting with Keily-Anne Trenfield and Clayton Utz regarding insurance issues.	Approved/Paid Category 2 -
Renee Lobb	Senior Director	06-Feb-14	0.2	485.00	97.00	Trade-on	Speak with Shauna at LM Investment Management Ltd regarding specific investor query.	Approved/Paid Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	06-Feb-14	1	590.00	590.00	Assets	Meeting with Mark Waller and Chris Erfrut from CU re insurance progress historistion with Ashrey regarding allocatori advice, prepare updated allocations war - dec 13 for all	Approved/Paid
Ciert Oller	Saniar Directo-	06-Feb-14		545.00	2,180.00	Trade-on	LMIM general responsible entity work, meeting with BJR to discuss invoicing of general fund work, update schedules regarding removal of investor mtg times.	Calegory 2 - Approved/Paid
Gienn O'Kearney	Senior Director	00-1 00-14			2,100.00		Payment - check supporting documentation, review invoices and banking voucher for payment to	Category 2 -
Sally McBryde	Managing Dir	06-Feb-14	0.1	550.00	55.00	Administration	Macquarie for PI insurance premium, approve payment	Approved/Paid Corporate - Liquidation
Brittany Newman	Administration 1	06-Feb-14	0.3	130.00	39.00	Administration	Filing	Corporate - Liquidation
John Park	Senior Managing Director	06-Feb-14	0.1	590.00	59.00	Administration	Review and sign documentation LMIM emails re Tucker & Cowen costs requestedernail to Russell's re changes to deed of	
				500.00	354 00	Administration	confidentiality and emails re court hearing on 10 Febernails in re costs claim by tucker and cowen;	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	06-Feb-14	0.6	590.00			Discussion ash tiplady regarding status of allocation advice, russells and FTI.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	06-Feb-14	0.2	545.00	109.00	Administration		

 $(\)$

LM Investment Ma Remuneration to 3 Name	inagement Ltd (In Liqui 10 June 2018 Title		Hours	Charge Out Rate	3,204,515.29 Charge	Task Desc	Narrative	Classification
			1 1				Review amended terms to deed to assignment for cavili JV. notes to bootcam and tossells, review	
							proposed amendments to deed, note bcottam comments and PKF comments, note in from russells	
Glenn O'Kearney	Senior Director	06-Feb-14	0.5	545.00	272.50	Asseta	regarding managing adjustments etc.	Corporate - Liquidatio
Brett Cottam	Director	06-Feb-14	1.2	485.00	582.00	Assets	Finalisation of the Deed of Assignment.	Corporate - Liquidatio
Brett Cottarn	Director	06-Feb-14	0.1	485.00	48.50	Assets	Review of email from Russells to Hickeys regarding the Deed of Assignment.	Corporate - Liquidatio
						1		Category 2 -
Renee Lobb	Senior Director	07-Feb-14	0.1	485.00	48.50	Creditors	Respond to advisor query on commission payments.	Approved/Paid Category 2 -
	Senior Director	07-Feb-14	0.2	545.00	109.00	Administration	review LM payment, KAT to sign and see JS re reference	Approved/Paid
Christine Stead	Senior Director	07-F60-14	0.2		105,00			Category 2
Benjamin Robson	Consultant I	07-Feb-14	0.1	235.00	23.50	Creditors	Submit payment to insurance	Approved/Paid
	-							Category 2 -
Benjamin Robson	Consultant I	07-Feb-14	0.2	235.00	47.00	Creditors	Receipt Norton Rose Invoice 1252784 into consultants register	Approved/Paid Category 2 -
				005 00	47.00	0	ASIC invoices reconciliation spreadsheet review and discussion with BN	Approved/Paid
enjamin Robson	Consultant I	07-Feb-14	0.2	235.00	47.00	Creditors		Category 2 -
eo Guthrie	Consultant I	07-Feb-14	0.2	130.00	26.00	Administration	Bank reconciliation of multiple accounts	Approved/Paid
		07-Feb-14	0.8	590.00	472.00	Investigations	Review draft supplementary \$533 report	Corporate - Liquidation
Celly-Anne Trenfield	Senior Managing Director	07-F80-14	0.0		472.00	Investigatoris	meeting with Ashiey ripiday re nearing and instructionscall in from Sean Russell re notice or	
							appearancesearches re parties representedemails in re docs for Monday's hearingCall from Ashley	
elly-Anne Trenfield	Senior Managing Director	07-Feb-14	0.6	590.00	354.00	Administration	Tiplady re hearing and orders	Corporate - Liquidation
					co 00	Out dia an	Reviewing email from KAT regarding creditor query and drafting and sending email to creditor regarding response to queries.	Corporate - Liquidation
Stuart Clancy	Manager 1	07-Feb-14	0.2	345.00	69.00	Creditors	Setting up Online payment & posting payment	Corporate - Liquidation
oan Springate	Administration	07-Feb-14	0.3	130.00	39.00	Administration	Further work On SOP with updated allocation of corporate funds, update consultants register and	Toolbolan Eidenenen
	Senior Director	07-Feb-14	1	545.00	545.00	Assets	up(date consultants register funding information.	Corporate - Liquidation
lenn O'Kearney	Senior Director	07-100-14	'		010.00	1000	Review correspondence from russells regarding cavil deed of assignment and annexure s required.	
							review updated Deed. prepare updated adjustment information and note to boottam, review	Corporate - Liquidation
Slenn O'Kearney	Senior Director	07-Feb-14	0.8	545.00	436.00	Assets	bankstatement and other source documents to confirm adjustments. Email exchanges with Peter McLeod, Scott McMultithe and GOK regarding the Deed of Assignment	Corporate - Eldutoanon
			0.7	485.00	339.50	Assets	and settlement adjustments/financials.	Corporate - Liquidation
Brett Cottam	Director	07-Feb-14	0.7	485.00	335.50	A33613		Category 2
enee Lobb	Senior Director	10-Feb-14	0.3	485.00	145.50	Investigations	Commence review of Clayton Utz insurance memo summarise same and send to John Corbeit.	Approved/Paid
							ASIC involce reconciliation work - assign ACN numbers to missing entries. Email to Fiona Drariey to	Category 2
lenjamin Robson	Consultant (10-Feb-14	0.7	235.00	164.50	Creditors	request further information	Approved/Paid Category 2 -
							Check MYOB and bank account for PI insurance payment	Approved/Paid
ally McBryde	Managing Dir	10-Feb-14	0.1	550.00	55.00	Administration	Meetings with Rüssell re MPP court hearing re books and records, quarantine tunds and indemnity	hpprotoq r ala
elly-Anne Trenfield	Senior Managing Director	10-Feb-14	3.6	590.00	2 124 00	Administration	claimsAttendance at court and preparation for sameTravel to and from court	Corporate - Liquidation
elly-valle menucia	Senior Managing Director	10-100-14	0.0					
							Review documents from agent for adjustments, review bank account statements etc. discussions	Corporate - Liquidation
Slenn O'Kearney	Senior Director	10-Feb-14	1.5	545.00	817.50	Assets	with b cottam and peter moloud, prepare updated adjusted and issue to russells with notes. Discussions with burk regarding completion of form 524, Reviewing and rectifying issues with form	Corporate Elquidation
		40 5-1-44	0.5	345.00	172.50	Administration	524.	Corporate - Liquidation
tuart Clancy	Manager 1	10-Feb-14	0.5	345.00	172.00	Administration	Discussions with Scott McMunne, Peter McLeod and GOK regarding Deed of Assignment and	
rett Cottam	Director	10-Feb-14	0.6	485.00	291.00	Assets	settlement adjustments.	Corporate - Liquidation
rett Cottam	Director	10-Feb-14	0.7	485.00	339.50	Assets	Discussion with Lyn Robbie and reviewing information for settlement adjustments.	Corporate - Liquidation
	Director	10-Feb-14	0,1	485.00	48.50	Assets	Email from Peter McLeod regarding changes to the Deed of Assignment.	Corporate - Liquidation
rett Cottam	Director	10-160-14	0.1	-33.00				Category 2 -
	Senjor Director	11-Feb-14	0.1	485.00	48.50	Trade-ол	Respond to general enquiry.	Approved/Paid
enee Loop							Review EY director report template. Send to Steve Hanna to gather required information for	Category 2 -
enee Lobb								Annual (D-S)
enee Lobb	Senior Director	11-Feb-14	0.2	485.00	97.00	Trade-on	disclosures.	Approved/Paid Category 2 -

 \sim

								C PRODUCT DATA DATA DE LA DESCRIPTION DE LA DESC
LM Investment Mai Remuneration to 30	nagement Ltd (In Liquid D June 2018	dation)			3,204,515.29		에는 사람이 있는 것이 있는 것이 같은 것이 있는 것이 있는 것이 있는 것이 있다. 	
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
			1				Email in re Belipac insurers claimsdraft invoice re MPF settlement tunds and forward to	Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	11-Feb-14	0.5	590.00	295.00	Administration	Russellemails in re books and records accessreview sop with gok	Approved/Paid
						• • · · · · · · · · · · · · · · · · · ·	Review and approve payment of outstanding administration liabilities including review of supporting documentation and signing of transfer or cheque	Category 2 - Approved/Paid
Kelly-Anne Trenfield	Sr Managing Dir	11-Feb-14	0.1	590.00	59.00	Administration		Category 2 -
John Corbett	Managing Dir	11-Feb-14	1	550.00	550.00	AdminIstration	General matters associated with fund wind-ups and queries re ASPF12	Approved/Paid
John Corben	Managing Di		<u> </u>				Collate and update consultants into, SOP, allocation information regarding legal costs. meet with	Category 2 -
Glenn O'Keamey	Senior Director	11-Feb-14	2	545.00	1,090.00	Assets	Kelly regarding SOP, invoicing, allocations etc.	Approved/Paid
	-	1					Prepare payment to Carolyn Hodge	Category 2 - Approved/Paid
Christine Stead	Senior Director	11-Feb-14	0.1	545.00		Administration		Corporate - Liquidation
Brittany Newman	Administration 1	11-Feb-14	0.1	130.00		Administration	Mail in from ATO - BAS (1 Oct - 31 Dec 2013)	Corporate - Liquidation
Brittany Newman	Administration 1	11-Feb-14	0.4	130.00	52.00	Administration	Call to ATO regarding double up of BAS (1 Oct - 31 Dec 2013) + prepare 8974in50	
Joan Springate	Administration	11-Feb-14	0.3	130.00	39.00	Administration	Setting up Online payment & posting payment	Corporate - Liquidation
Glenn O'Keamev	Senior Director	11-Feb-14	0.1	545.00	54.50	Administration	Sign off on BAS amendments.	Corporate - Liquidation
Brett Cottam	Director	11-Feb-14	0.2	485.00	97.00	Assets	Email exchange with Peter McLeod and GOK regarding the Deed of Assignment.	Corporate - Liquidation
Christine Stead	Senior Director	11-Feb-14	0.1	545.00	54.50	Administration	Review payment and attach supporting documents	Corporate - Liquidation
								Category 2 -
Renee Lobb	Senior Director	12-Feb-14	0.1	485.00	48.50	Trade-on	Send transfer of agent request to LM Investment Management Ltd for processing.	Approved/Paid Category 2 -
			-				Respond to investor enquiry, advise cannot provide advice.	Approved/Paid
Renee Lobb	Senior Director	12-Feb-14	0.1	485.00	48.50	Trade-on		Category 2 -
		40.5.1.44		485.00	48.50	Trade-on	Respond to query regarding redemption. Request investor ID to respond appropriately.	Approved/Paid
Renee Lobb	Senior Director	12-Feb-14	0.1	400.00	40.00	THE OF		Category 2 -
Beniamin Robson	Consultant I	12-Feb-14	0.1	235.00	23.50	Administration	Trace origin of payment to Carolyn Hodge	Approved/Paid
Benjamin reoscori								Category 2 - Approved/Paid
Benjamin Robson	Consultant I	12-Feb-14	0.1	235.00	23.50	Creditors	Review file note regarding Telstra account closure	Category 2 -
				235.00	47.00	Administration	Perusal of email and ASIC invoice spreadsheet + comments form Fiona Draney	Approved/Paid
Benjamin Robson	Consultant I	12-Feb-14	0.2	233.00	47.00	Auton		Category 2 -
John Corbett	Managing Dir	12-Feb-14	0.5	550.00	275.00	Administration	Processing of emails across ASPF and CPF.	Approved/Paid
	Managing Di						Mail out to ATO - BAS (1 Uct - 31 Dec 2013) DUC ID 28 /19 88/ 330 + enter lodgement details in	Corporate - Liquidation
Brittany Newman	Administration 1	12-Feb-14	0.1	130.00	13.00	Administration	муов	Corporate - Liquidation
Brittany Newman	Administration 1	12-Feb-14	0.3	130.00	39.00	Administration	Filing	
Brittany Newman	Administration 1	12-Feb-14	0.1	130.00	13.00	Administration	Call to Telstra regarding closure of Account BP03302952. Left message, await call back.	Corporate - Liquidation
Brittany Newman	Administration 1	12-Feb-14	0.2	130.00	26.00	Administration	Call in from Telstra regarding closure of Account BP03302952. Prepare 8974fn51	Corporate - Liquidation
John Park	Senior Managing Director	12-Feb-14	0.2	590.00	118.00	Administration	Review and sign approvals	Corporate - Liquidation
	Senior Managing Director	12-Feb-14	0.6	590.00	354.00	Administration	Review and amend suplementary section533 report	Corporate - Liquidation
Kelly-Anne Trenfield		12-Feb-14	0.0	590.00	59.00	Administration	Emails in re invoicesMail In	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	12-Feb+14	Ų.1				REVIEW INTO DEPO OF ASSIGNMENT JUSCUSSIONS WITH BIEL COLLARD, LEVIEW BAS 10 DEC 13 AND SUPP DOCS	
			1				for JV and approve, amend adjustment for GST position and issue note to Scott seeking guidance on	Corporate - Liquidation
Glenn O'Kearney	Senior Director	12-Feb-14	0.6	545.00	327.00	Assets	Feb 14 BAS estimates. liaise with Scott regarding adjustments etc.	corporate addresses
		10 5 4 44		545.00	109.00	Creditors	Review cred correspondence and note from bn regarding telstra invoices. check payments with CA	Corporate - Liquidation
	Senior Director	12-Feb-14	0.2				Discussion with GOK regarding finalisation of Deed of Assignment.	Corporate - Liquidation
Brett Cottam	Director	12-Feb-14	0.2	485.00	91.00	Assets	Email exchange with Scott McMurithe regarding BAS and financials and emails to Peter McLeod and	
Brett Cotiam	Director	12-Feb-14	0.4	485.00	194.00	Assets	KAT.	Corporate - Liquidation
	Director	12-Feb-14	0.2	485.00	97.00	Assets	Email from Peter McLeod regarding the Deed of Assignment.	Corporate - Liquidation
		12-Feb-14	0.2	485.00	97.00	Assets	Emails from GOK regarding December BAS.	Corporate - Liquidation
Brett Cottam	Director	12-1-80-14	0.2	400.00	37.00			Category 2
Renee Lobb	Senior Director	13-Feb-14	0.1	485.00	48.50	Trade-on	Respond to email from ELY regarding meeting to progress audits.	Approved/Paid
					· · · ·		Emails to BUO and Kordamentha to gauge support for scheme of arrangement and process to	Category 2 - Approved/Paid
Renee Lobb	Senior Director	13-Feb-14	0.3	485.00	145.50	Investigations	analyse and assess claims. Liaise with Kelly-Anne Trenfield on this also.	http://www.cau

 \cap

LM Investment Ma	anagement Ltd (in Liqui	dation)						VIIII
Remuneration to 3 Name	10 June 2018		Hours	Charge Out Rate	3,204,515.29 Charge	Task Desc	Narrative	Classification
Renee Lobb	Senior Director	13-Feb-14	0.1	485.00	48.50	Administration	Organizing meeting auditors.	Category 2 - Approved/Paid
		40 5-1-44		590.00	59.00	Assets	review insurance advice	Category 2 - Approved/Paid
Kelly-Anne Trenfield	Sr Managing Dir	13-Feb-14	0.1	590.00	59.00	Assels		Category 2 -
John Corbett	Managing Dir	13-Feb-14	1	550.00	550.00	Administration	Processing of emails across ASPF and CPF.	Approved/Paid
		10 5-1 44		545.00	109.00	Assets	Liaise with MOP and ABW regarding im invoicing funds, discussions with BJR regarding varios invoicing queries.	Category 2 - Approved/Paid
Glenn O'Kearney	Senior Director	13-Feb-14 13-Feb-14	0.2	545.00 130.00	109.00	Administration	Mail in from ATO - Correspondence; Activity statement details as requested	Corporate - Liquidation
Brittany Newman	Administration 1	13-Feb-14 13-Feb-14	0.1	130.00	13.00		Mail in from Financial Ombudsman Service - Tax Invoice 14168	Corporate - Liquidation
Brittany Newman	Administration 1	13-Feb-14	0.1	130.00	13.00	Administration	Mair in from ASIC - Correspondence, Pay Invoice & Check Company Statement, Company Statement	1
Brittany Newman	Administration 1	13-Feb-14	0.1	130.00	13.00	Administration	+ Invoice Statement 30 Jan 2014	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	13-Feb-14	0.2	590.00	118.00	Assets	Review batance sheet and emails in re settlement of 38 cavillsreview settlement deed	Corporate - Liquidation
Benjamin Robson	Associate II	13-Feb-14	1	235.00	235.00	Investigations	Remuneration report second meeting creditors Liaise boottam and scott regarding mig adjustments, review updated balance sneet partnership.	Corporate - Liquidation
Glean Olivermou	Senior Director	13-Feb-14	0.3	545.00	163.50	Assets	review correspondence regarding exchange of deeds.	Corporate - Liquidation
Glenn O'Kearney Stuart Clency	Manager 1	13-Feb-14	0.2	345.00	69.00	Creditors	Email to creditor providing copy of report and update on liquidation to date.	Corporate - Liquidation
Stuart Clancy	Manager i	10-1 00-14						Concentra timuidation
Brett Cottarn	Director	13-Feb-14	0.3	485.00	145.50	Assets	Email exchange with GOK regarding meeting with Scott McMurtrie and email to KAT with financials.	Corporate - Liquidation Corporate - Liquidation
Brett Cottam	Director	13-Feb-14	0.3	485.00	145.50	Assets	Email exchange with Peter McLeod regarding the Deed of Assignment.	Corporate - Liquidadon Category 2 -
	Case ultrant (14-Feb-14	- 1	130.00	130.00	Assets	Cash flow analysis and data entry	Approved/Paid
Leo Gulhrie	Consultant I	14-1-60-14			100.00	100010	King & Wood Mallensons statement of account received 12/02 reviewed and reconciled against	Category 2 -
Benjamin Robson	Consultant I	14-Feb-14	0.5	235.00	117.50	Creditors	register	Approved/Paid Category 2 -
		44 5-6 44		545.00	54.50	Assets	Discussions with sally regarding LM loan fund form LMA feg.	Approved/Paid
Glenn O'Kearney	Senior Director	14-Feb-14	0.1	545.00	54.50	13960		Category 2 -
Saily McBryde	Managing Dir	14-Feb-14	0.5	550.00	275.00	Trade-ori	Email from Clouts re payment of Deed of Advance funds, consider position and respond to same	Approved/Paid Category 2 -
				550.00	825.00	Trade-on	Review Deed of Advance repayment schedule from LMA liquidator, review employees where not claimed, searches to determine current whereabouts, draft letter to chase up payment	Approved/Paid
Sally McBryde	Managing Dir	14-Feb-14	1.5 0.2	550.00		Administration		Corporate - Liquidation
Brittany Newman	Administration 1	14-Feb-14	0.2	590.00	59.00	Administration	Review incoming documentation, consider and send to filing	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	14-Feb-14	- 0.1	590.00	55.00	Administration	Liscuss amendments to adjustments by buyers with boottam, review correspondence from peter	
Glenn O'Kearney	Senior Director	14-Feb-14	0.3	545.00	163.50	Assets	mcloud on issue.	Corporate - Liquidation
Brett Cottam	Director	14-Feb-14	0.4	485.00	194.00	Assets	Email to Peter McLeod with executed copy of Deed of Assignment. Caus to wayne Robble and GOR regarding amendments to the settlement adjustments and email to	Corporate - Liquidation
		14-Feb-14	0.8	485.00	388.00	Assets	Peter McLeod in response to request from Hickey Lawyers.	Corporate - Liquidation
Brett Cottam	Director	14-Feb-14	0.8	485.00	97.00	Assets	Email to Peter McLeod regarding execution of the Deed of Assignment.	Corporate - Liquidation
Brett Cottam	Director	14-Feb-14	0.2	485.00		Assets	Email exchanges with Robbie & Assoc and Russells regarding bonds.	Corporate - Liquidation
Brett Cottam	Director		0.5	485.00	97.00	Assets	Review of Settlement adjustments and email to Peter McLeod.	Corporate - Liquidation
Brett Cottam	Director	14-Feb-14	0.2	485.00	97.00	Assets	Email to GOK regarding request for louvre door in plant room.	Corporate - Liquidation
Brett Cottam	Director	14-Feb-14		485.00	48.50	Assets	Email to Scott McMurtrie with a copy of the exchanged Deed of Assignment.	Corporate - Liquidation
Brett Cottam	Director	14-Feb-14	0.1		118.00	Administration	Review and sign documents for 38 Cavil	Corporate - Liquidation
John Park	Senior Managing Director	14-Feb-14	0.2	590.00	110.00			Category 2
Renee Lobb	Senior Director	17-Feb-14	0.1	485.00	48.50	Trade-on	Request detail of investors fund to respond to email appropriately.	Approved/Paid Category 2 -
**		47 5-5 44		005 00	70.60	Administration	Email Cor Sean Russell and Catherine from Russells regarding Douglas Savage bill apportionment, and letter confirming fund split for Books and Records invoices	Approved/Paid
Benjamin Robson	Consultant I	17-Feb-14	0.3	235.00	70.50		Review and execute bank rec	Corporate - Liquidation
Ginette Muller	Senior Managing Director	17-Feb-14	0.1	590.00	59.00	Administration	Review and execute bank rec	Corporate - Liquidation
Ginette Muller	Senior Managing Director	17-Feb-14	0.1	590.00	59.00	Administration	Emails in re settlement of Cavill ave	Corporate - Liquidation
Keily-Anne Trenfield	Senior Managing Director	17-Feb-14	0.1	590.00	59.00	Assets	Calls and emails with Scott McMurtrie and Peter McLeod regarding Share Transfer forms.	Corporate - Liquidation
Brett Cottam	Director	17-Feb-14	0.5	485.00	242.50	Assets	Valia and chialia Will ocold Moleculate and Foto Molecul regarding onaro Transier Johns.	

Brett Cottam D		Date			3,204,515.29		그는 것 같은 것 같은 것 같은 것 같은 것 같은 것 같은 것 같이 많이 많이 많이 많이 많이 없다. 것 같은 것 같	
Brett Cottam D	Director	the second second second second	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Brett Cottam D	JII COLUI	17-Feb-14	0.6	485.00	291.00	Assets	Calls from Wayne Robbie and discussion with GOK regarding an air conditioning break down.	Corporate - Liquidation
	Director	17-Feb-14	0.2	485.00	97.00	Assets	Email to GOK regarding request for louvie coor to plant rooth and instruction to raise at meeting with J/V partner.	Corporate - Liquidation
							Review correspondence from russells to Ramsden regarding docs to be signed, update to Kelly, liaise Scott at PKF regarding invoices/ mtg adjustments.	Corporate - Liquidation
Glenn O'Kearney S	Senior Director	17-Feb-14	0.4	545.00	218.00	Assets	Correspondence in from Keny regarding MPF semement cost allocador and advice from russells.	Corporato - Liquidation
	· · · · · ·						update to SOP numbers, prepare numbers for Kelly regarding payments to solicitors mpf matters.	
Glenn O'Kearney Si	Senior Director	17-Feb-14	1.5	545.00	817.50	Assets	reconcile consultants register to MPF settlement numbers.,	Corporate - Liquidation
Brittany Newman Av	Administration 1	17-Feb-14	0.1	130.00	13.00	Administration	Locate Form 505 & scan to SAC received carmon Andrew or ATO regarding queries in relation to loogements of BAS statements.	Corporate - Liquidation
							Memo to BN regarding future tasks to complete. Reviewing previous BAS lodgements and emails to	
Stuart Clancy M	Manager 1	17-Feb-14	0.4	345.00	138.00	Administration	Andrew regarding queries.	Corporate - Liquidation
							Cash flow Analysis and upload entries into spread sheet	Category 2 - Approved/Paid
Leo Guthrie Co	Consultant I	18-Feb-14	0.4	130.00	52.00	Assets		Category 2 -
Brittany Newman Ad	Admin (18-Feb-14	0.1	130.00	13.00	Administration	Mail in from Computershare Investor Services Pty Ltd - Statement as at 11/02/2014	Approved/Paid
							Review of Regulatory Guidance documents in relation to the responsibilities and requirements of	Category 2 -
John Corbett M	Aanaging Dir	18-Feb-14	3	550.00	1,650.00	Administration	AFSL for a managed investment scheme	Approved/Paid Corporate - Liquidation
Ginette Muller Se	Senior Managing Director	18-Feb-14	0.5	590.00	295.00	Administration	Michael West query and response Emails in remedia queriescipulate allocation of tasksreview media response and provide revisions to	Corporate - Liquidadori
Kelly-Anne Trenfield Se	Senior Managing Director	18-Feb-14	0.7	590.00	413.00	Administration	GDM	Corporate - Liquidation
	enior Managing Director	18-Feb-14	0.1	590.00	59.00	Administration	ernail in from Sean Russell re payment due from KM; draft response	Corporate - Liquidation
	Director	18-Feb-14	0.3	485.00	145.50	Assets	Delivery of executed Deed of Assignment to Russells.	Corporate - Liquidation
	Director	18-Feb-14		485.00	485.00	Assets	Drafting a response to media questions regarding 20 Albatross Ave and 38 Cavil Ave.	Corporate - Liquidation
	Seniar Director	18-Feb-14	0.3	545.00	163.50	Assets	Review enquiries regarding albatross, discus with Brett cottam and Kelly and review response.	Corporate - Liquidation
								Category 2 -
Renee Lobb Se	enior Director	19-Feb-14	0.2	485.00	97.00	Administration	Discussions regarding and reschedule of meeting with Steve Hannan.	Approved/Paid Category 2 -
Dunna Labb Q.	ienior Director	19-Feb-14	0.1	485.00	48.50	Administration	Touch base with John Corbett regarding prep for morning meeting.	Approved/Paid
Renee Lobb Se		13-1 60-14					Discussion with staff member and response thereto, regarding current progress of administration;	Category 2 -
Sally McBryde Ma	lanaging Dir	19-Feb-14	0.1	550.00	55.00	Administration	strategy and further action to be taken.	Approved/Paid Category 2 -
_				545.00	109.00	Administration	Prepare cheques to T&C and Skuse & co; contorm payee with Sean Russel/ for second cheque; confirm account drawing with KAT; confirm MYOB entries with GOK	Approved/Paid
Christine Stead Se	enior Director	19-Feb-14	0.2	545.00	109.00	Administration	Review of Regulatory Guidance documents in relation to the responsibilities and requirements of	Category 2 -
John Corbett Ma	lanaging Dir	19-Feb-14	3.5	550.00	1,925.00	Administration	AFSL for a managed investment scheme. Discussion with ASIC.	Approved/Paid
							Review and approve payment of outstanding administration liabilities including review of supporting documentation and signing of transfer or cheque	Category 2 - Approved/Paid
Kelly-Anne Trenfield Sr	r Managing Dir	19-Feb-14	0.1	590.00	59.00	Administration	Review status of fundsing from KMReview assessment of costs and split re coverage of	
Keliy-Anne Trenfield Se	enior Managing Director	19-Feb-14	0.8	590.00	472.00	Administration	disbursements and comparisons re remuneration	Corporate - Liquidation
							Emain in re Michael west and response to GDM; instructions to CMA re payment to tucker and cowen	Corporate - Liquidation
Kelly-Anne Trenfield Se	enior Managing Director	19-Feb-14	0.1	590.00		Administration		Corporate - Liquidation
John Park Se	enior Managing Director	19-Feb-14	0.3	590.00		Administration	Review and sign documents	Corporate - Liquidation
Benjamin Robson As	ssociate II	19-Feb-14	0.2	235.00		Administration	File review with SAM	Corporate - Liquidation
Brett Cottam Dir	irector	19-Feb-14	0.1	485.00		Trade-On	Emails regarding payment of December BAS. Call from Wayne Robbie and email to GOK regarding air-conditioning maintenance.	Corporate - Liquidation
Brett Cottam Dir	irector	19-Feb-14	0.3	485.00	145.50	Assets	Call from Wayne Robble and email to GOR regarding an Conductoring maintenance.	Corporate - Liquidation
	irector 2	19-Feb-14	0.3	545.00	163.50			Corporate - Liquidation
Ryan Zorgdrager Dir	irector 2	19-Feb-14	0.6	545.00	327.00	Administration	Meeting with Hickey Lawyers RE litigation matter concerning defamation pank reconciliations, review 524 and discussions with Stuart Clancy regarding anomalies; reconcile	
							myob against reconciliation/pay. note to Kelly regarding MPF cost allocations on SOP. provide notes	
Glenn O'Kearney Se	enior Director	19-Feb-14	0.7	545.00	381.50		to support numbers.	Corporate - Liquidation
·····							Note tofat Lucy regarding GST. reply: note from bocktam regarding air con maintentatice - reply, can from Scott momuntie regarding drake issues, discussions with peter moloud at russells regarding	1
Glenn O'Kearney Se	anior Director	19-Feb-14	1	545.00	545.00		same, collate info for discussions with buyers tomorrow.	Corporate - Liquidation

	anagement Ltd (In Liqui	dation)						
Remuneration to Name	10 June 2018 Title	Date	Hours	Charge Out Rate	3,204,515.29 Charge	Task Desc	Narrative	Classification
Christine Stead	Senior Director	19-Feb-14	0.1	545.00	54.50	Administration	Finalise cheque payments for Tucker & Cowen and Stuse & co	Corporate - Liquidation
Joan Springate	Administration	19-Feb-14	0.2	130.00	26.00	Administration	Payment voucher & posting payment	Corporate - Liquidation
Joan Springate	Administration	19-Feb-14	0.1	130.00	13.00	Administration	Putting account details in MYOB account Reviewing form 524 and discussion with GOK regarding issues with form 524. Discussion with ATO	Corporate - Liquidation
Stuart Clancy	Manager 1	19-Feb-14	0.5	345.00	172.50	Administration	regarding BAS queries. Forwarding additional information to ATO regarding queries.	Corporate - Liquidation
Tanya Kratz	Administration 2	19-Feb-14	0.1	130.00	13.00	Administration	Courier Booking.	Corporate - Liquidation
Benjamin Robson	Consultant I	20-Feb-14	0.2	235.00	47.00	Administration	Correspondence with John Corbet regarding FOS dispute	Category 2 - Approved/Paid
John Corbett	Managing Dir	20-Feb-14	2	550.00	1,100.00	Administration	Meeting with Steve Hannan to work through where items are at for each the tunds where LM is Responsible Entity	Category 2 - Approved/Paid
Kelly-Anne Trenfield	Senior Managing Director	20-Feb-14	0.1	590.00	59.00	Administration	emails in re costs and indemnity claims	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	20-Feb-14	0.2	590.00	118.00	Administration	emails in re payment from KM	Corporate - Liquidation
Brett Cottam	Director	20-Feb-14	0.4	485.00	194.00	Assets	Email exchange with Scott McMurtrie and discussion with GOK regarding settlement.	Corporate - Liquidation
Brett Cottam	Director	20-Feb-14	0.5	485.00	242.50	Assets	Maintenance issues.	Corporate - Liquidation
Brett Cottam	Director	20-Feb-14	0.8	485.00	388.00	Assets	Review of emails with lawyers and Scott McMurtrie regarding Share Transfers.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	20-Feb-14	3.3	545.00	1,798.50	Assets	materials, discuss share transfers and adjustments and paramaters of the interest preprior meeting contact materials, discussions with peter meloud regarding share transfers, review and draft letter from russells to Ramsden regarding share transfers, discussions with John Ramsden regarding share transfers and assets of LM.	Corporate - Liquidation
Glenn O'Keamey	Senior Director	20-Feb-14	0.1	545.00	54.50	Administration	Discuss 524 issues with BJR	Corporate - Liquidation
Brett Cottam	Director	21-Feb-14	0.2	485.00	97.00	Assets	Call from GOK and email with details regarding sale of 20 Albatross.	Corporate - Liquidation
Brett Cottam	Director	21-Feb-14	0.2	485.00	97.00	Assets	Call from GOK regarding process for sale of properties.	Corporate - Liquidation
!		21-Feb-14		545.00	2,180.00	Acceto	Note from john Ramsden office. discussions with JP. draft email and finalize and send to Ramsden clarifying Liquidators role and duties. discussions DJB and Brett cottam regarding albatross sale and 38 cavill sale. review additional documents source for settlement adjustments, review historical notes regarding cavill rp and albatross sale, discussions Scott momurtine and peter mcloud regarding transfer forms and amendments required, review online bank accounts - reconcile account. discussions with BJR regarding receipt of loan funds, receipt of MPF funds. lisies with CMA and riobb regarding funds. discussion sean Russell regarding MPF funds. review invoice to mpf for receipt details and calc gst adjustment for MYOB, prep note JP regarding sale 20 albatross summary.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	21-F60-14		343.00	2,100.00	A33613	Reconcisation and investigation and without account discrepancies. Discussion with Gienn O Reality	
				235.00	202.00	Administration	and Christine Alterator regarding alteration of account and genera journal entries and receipts and Payments entries for 524 completion	Corporate - Liquidation
Benjamin Robson	Associate II	21-Feb-14	1.2 0.2			Administration	Call to Christine Alterator regarding transfer of funds to Liquidation account	Corporate - Liquidation
Benjamin Robson	Associate II	21-Feb-14		235.00		Administration	Darft 8974/101 for BJR	Corporate - Liquidation
Brittany Newman	Administration 1	21-Feb-14	0.1	130.00	13.00	Administration	Emails regarding receipt of KM funds for Managed Performance Fund settlement and liaise with	
Renee Lobb	Senior Director	21-Feb-14	0.2	485.00	97.00	Trade-On	Glenn O' Keamey and Clayton Utz on their outstanding fee payment.	Corporate - Liquidation
Christine Stead	Senior Director	21-Feb-14	0.1	545.00	54.50	Administration	Review combiz for funds due from KM for MPF and email Ashley at Russels	Corporate - Liquidation
Christine Stead	Senior Director	21-Feb-14	0.2	545.00	109.00	Administration	BJR - issues regarding transfer from VA to CVL accounts	Corporate - Liquidation
loan Springate	Administration	21-Feb-14	D.1	130.00	13.00	Administration	Receiving & coding bank books	Corporate - Liquidation Category 2 -
.eo Guthrie	Consultant I	24-Feb-14	0.5	130.00	65.00	Assets	Cash flow data entry and investigation	Approved/Paid
Benjamin Robson	Consultant I	24-Feb-14	0.3	235.00	70.50	Administration	Transfer of FEG Guarantee monies and creation of MYOB vouchers to reflect	Approved/Paid
Renee Labb	Senior Director	24-Feb-14	0.3	485.00	145.50	Administration	Review lengthy response to West's article in SMH by peter drake.	Corporate - Liquidation
rittany Newman	Administration 1	24-Feb-14	0.1	130.00	13.00	Administration	Mail in from ATO - Correspondence; Proof of Debt	Corporate - Liquidation

LM Investment M Remuneration to	anagement Ltd (In Liqui 20 June 2018	dation)			3.204.515.29			
Name	Title	Date	Hours	Charge Out Rate		Task Desc	Narrative	Classification
			5				Note to JP regarding exec summary of 20 albatross sale, note to DJB regarding exec summary of cavill RP and JV terms, discussions with Lyn robbie regarding adjustment records, email correspondence with b cottam regarding lmim property issues, note to sean Russell regarding MPF payments to PA - invoice, review vouchers regarding Cash receipts into LMIM accounts, notes for discussion with BJR. review amended vouchers and approve for receipt/payments in myob./ discuss 524 status with Stuart Clancy, prepare reconciliation and regarding-calculating adjustments for	
Glenn O'Kearney	Senior Director	24-Feb-14	2	545.00	1,090.00	Assets	discussion - note to RR and associates regarding further documents required to confirm adjustments	Corporate - Liquidation
Brett Cotiam	Director	24-Feb-14	0.4	485.00	194.00	Assets	Email exchange with GOK regarding 20 Albatross Ave.	Corporate - Liquidation
Brett Cottam	Director	24-Feb-14	0.2	485.00	97.00	Assets	Email exchange with GOK regarding CBRE valuation for 38 Cavill.	Corporate - Liquidation
Benjamin Robson	Associate It	24-Feb-14	0.7	235.00	164.50	Administration	Reconcillo CVC accounts and verry zero balances in VA accounts - regarding prepare form 524 correctly and email to Christine Alterator requesting further alterations in entries Receipt and reconcile transfers or funds from LMA Liquidation account to LM IM Liquidation account	Corporate - Liquidation
Benjamin Robson	Associate II	24-Feb-14	0.7	235.00	164.50	Employees	regarding inter account loans for the advance of employee entitlements	Corporate - Liquidation
Benjamin Robson	Associate II	24-Feb-14	0.1	235.00	23.50		Various payment and receipt vouchers reviewed and filed	Corporate - Liquidation
Christine Stead	Senior Director	24-Feb-14	0.1	545.00	54.50	Administration	review and approve payments of legal fees	Corporate - Liquidation
Joan Springale	Administration	24-Feb-14	0.3	130.00	39.00	Administration	Setting up Online payment & posting payment	Corporate - Liquidation
Joan Springate	Administration	24-Feb-14	0.1	130.00	13.00	Administration	Bank Rec	Corporate - Liquidation
Renee Lobb	Senior Director	25-Feb-14	0.1	485.00	48.50	Trade-on	Review and fwd to LM Investment Management Ltd request for removal of advisor. Investigation into FOS membership invoice, Correspondence with Simon Tickner and Shelley	Category 2 - Approved/Paid Category 2 -
Beniamin Robson	Consultant I	25-Feb-14	0.3	235.00	70.50	Administration	Chaimers of LM	Approved/Paid
Brittany Newman	Administration 1	25-Feb-14	0.1	130.00	13.00	Administration	Mail in from ATO - Correspondence; Your GST registration	Corporate - Liquidation
Brittany Newman	Administration 1	25-Feb-14	0.1	130.00	13.00	Administration	Request TR to arrange collection of Books & Records (Boxes 1 - 5) for archiving	Corporate - Liquidation
Brittany Newman	Administration 1	25-Feb-14	0.1	130.00	13.00	Administration	Update ATO POD in MYOB, upload supporting documents	Corporate - Liquidation
John Park	Senior Managing Director	25-Feb-14	0.3	590.00	177.00	Administration	Review and approve payments	Corporate - Liquidation
Glenn O'Kearnev	Senior Director	25-Feb-14	0.1	545.00	54.50	Assets	Update in from peter and Brett regarding transfer forms and PPSR queries, cavill RP.	Corporate - Liquidation
Glenn O'Keamey	Senior Director	25-Feb-14	0.2	545.00	109.00	Administration	review draft 524 discuss amended accounts with Stuart Clancy.	Corporate - Liquidation
Brett Cottam	Director	25-Feb-14	0.4	485.00	194.00	Assets	Email exchange with GOK and Peter McLeod and discussion with Scott McMurthe regarding Share Transfer forms.	Corporate - Liquidation
Benjamin Robson	Associate II	25-Feb-14	0.1	235.00	23.50	Administration	Follow up entry correction for 524 preparation with Christine Alterator	Corporate - Liquidation
Benjamin Robson	Associate II	25-Feb-14	0.6	235.00	141.00	Administration	Reconciliation of bank and MYOB accounts to attempt to find \$5 discrepancy in 524. Draft new 524 File review with Glenn O'Keamey - remaining invoices to be drafted and data accuracy for VVIP and	Corporate - Liquidation
Beniamin Robson	Associate II	25-Feb-14	0.3	235.00	70.50	Administration	OOPS	Corporate - Liquidation
Christine Stead	Senior Director	25-Feb-14	0.2	545.00	109.00	Administration	review MYOB antries incorrectly entered and attempt to delete; email BJR advising unable to delete transaction	Corporate - Liquidation
Joan Springate	Administration	25-Feb-14	0.1	130.00	13.00	Administration	Receipt voucher & posting receipt	Corporate - Liquidation Category 2
Glenn O'Kearney	Senior Director	26-Feb-14	0.1	545.00	54.50	Trade-on	Review and approve payment regarding FOS. note from BJR regarding FOS payment.	Approved/Paid Category 2 -
Beniamin Robson	Consultant J	26-Feb-14	0.2	235.00	47.00	Creditors	MYOB payment, FOS membership	Approved/Paid
Brittany Newman	Administration 1	26-Feb-14	0.1	130.00	13.00	Administration	Amend Form 524 (1/08/2013 to 31/01/2014)	Corporate - Liquidation
Brittany Newman	Administration 1	26-Feb-14	0.1	130.00	13.00	Administration	Amend POD (ATO) and delete double up of POD's in MYOB	Corporate - Liquidation
Brittany Newman	Administration 1	26-Feb-14	0.2	130.00	26.00	Administration	Lodge Form 524 (01/08/2013 to 31/01/2014) online + enter lodgement details in MYOB	Corporate - Liquidation
John Park	Senior Managing Director	26-Feb-14	0.2	590.00	118.00	Administration	Review emits in; Approve payment of accounts	Corporate - Liquidation

 $(\)$

LM Investment N	lanagement Ltd (In Liqui	dation)						
Remuneration to Name		Date	Hours	Charge Out Rate	3,204,515.29 _Charge	Task Desc	Narrative	Classification
							adjustments, draft letter for JRP resignation from Mng committee, review trust account reconciliation. prepare adjustments for settlements based on current info to hand, request addition info from Scott and Brett, note to Scott regarding funds transfer between accounts, finalize letter regarding man omt. note regarding hickeys adjustments, finalize adjustments for hickeys review, issue to hickeys, notes from bcottam regarding adjustments, review final settlement statement from hickeys, correspondence	
Glenn O'Keamey	Senior Director	26-Feb-14	2.5	545.00	1,362.50	Assets	with Russell's regarding resignation letters/caveat withdrawals. note to Brett regarding final figures for settlement	Corporate - Liquidation
Glenn O'Keamey	Senior Director	26-Feb-14	0.5	545.00	272.50	Administration	Draining of 524, review annexure's and request amendments ,review final version and arrange for JRP, review final version fodged, certify asic lodgment	Corporate - Liquidation
Glenn O'Keamey	Senior Director	26-Feb-14	0.1	545.00	54.50	Creditors	ATO correspondence in review update pod	Corporate - Liquidation
Glenn O'Kearney	Senior Director	26-Feb-14	0.5	545.00	272.50	Assets	Drafting of updated SOP for feb EOM. update consultants/MPF settlement etc.	Corporate - Liquidation
Brett Cottam	Director	26-Feb-14	1.2	485.00	582.00	Assets	Reviewing settlement adjustments and emails to GOK with comments.	Corporate - Liquidation
Brett Cottam	Director	26-Feb-14	0.4	485.00	194.00	Assets	Email exchange with Peter McLeod and GOK regarding encumbrances.	Corporate - Liquidation
Brett Cottam	Director	26-Feb-14	0.1	485.00	48.50	Assets	Email to Wayne Robbie regarding registered caveat.	Corporate - Liquidation
Brett Cottam	Director	26-Feb-14	0.5	485.00	242.50	Assets	Review of email exchanges between the lawyers regarding final matters before settlement.	Corporate - Liquidation
Joan Springate	Administration	26-Feb-14	0.3	130.00	39.00	Administration	Setting up Online payment & posting payment Review and respond to investor request for accounts. Advise not audited as yet and cannot be	Corporate - Liquidation Category 2
Renee Lobb	Senior Director	27-Feb-14	0.2	485.00	97.00	Trade-on	provided.	Approved/Paid Category 2 -
Renee Lobb	Senior Director	27-Feb-14	0.1	485.00	48.50	Administration	File all sent emails.	Approved/Paid Category 2 -
Glenn O'Keamey	Seniar Director	27-Feb-14	0.3	545.00	- 163.50	Assets	Review draft allocation advice LMIM fund time, discussions with Ashley.	Approved/Paid Category 2 -
Benjamin Robson	Consultant I	27-Feb-14	0.3	235.00	70.50	Creditors	Cheque payment to Piper alderman regarding cost orders	Approved/Paid Category 2 -
Benjamin Robson	Consultant I	27-Feb-14	0.4	235.00	94.00	Creditors	Consultant fee register update, enter clayton Utz and Hickeys payments in	Approved/Paid
Benjamin Robson	Consultant I	27-Feb-14	0.1	235.00	23.50	Administration	Follow up B&R letter Sean Russell	Category 2 - Approved/Paid
Sally McBryde	Managing Dir	27-Feb-14	0.1	550.00	55.00	Assets	Call from John Denshy of Blue Broking re survey of properties for insurance inspection re retirement village	Category 2 - Approved/Paid
John Park	Senior Managing Director	27-Feb-14	0.6	590.00	354.00	Administration	Review and sign approvals and payments	Corporate - Liquidation
Megan Dopking	Administrative	27-Feb-14	0.5	130.00	65.00	Administration	Bank account closure - preparation of letter to bank, bank reconciliation, MYOB entries	Corporate - Liquidation
			portion of the second se				Peter moloud and Brett. review GST reconciliation and invoices reconciliation pkf. follow up Scott regarding transfer, confirm settlement issues with Peter/Liam at hickeys. review correspondence regarding 20 albatross. consider reply. review bank accounts and reconcile account/MYOB, queries and account closure to BJR revie updated consultants register, reconcile against myob, discussions with BJR regarding consultants register and follow up documents for invoicing, update SOP with CAB and consultant fees, prepare GST reconciliation, discussions with Russell's regarding documents and funds required for settlement Piper alderman and KM. liaise with CAA regarding documents to be signed, review payment request PA, review note form peter mcloud regarding bank signatories -	Coursela Lisuideilas
Glenn O'Kearney	Senior Director	27-Feb-14	3.1	545.00	1,689.50	Assets	reply.	Corporate - Liquidation Corporate - Liquidation
Brett Cottam	Director	27-Feb-14	0.4	485.00	194.00	Assets	Reviewing draft Settlement Statement for sale of 38 Cavill.	Corporate - Liquidation
Brett Cotlam	Director	27-Feb-14	0.1	485.00	48.50	Assets	Call from Wayne Robbie regarding registered caveat.	
Brett Cottam	Director	27-Feb-14	0.6	485.00	291.00	Assets	Finalising matters prior to settlement.	Corporate - Liquidation Written Off/Not claimed
Brett Cottam	Director	27-Feb-14	0.2	485.00	97.00	Assets	Review of letter from ARITA regarding investigation.	
Benjamin Robson	Associate II	27-Feb-14	0.2	235.00	47.00	Administration	Arrange accounts to be closed CBA	Corporate - Liquidation
Christine Stead	Senior Director	27-Feb-14	0.1	545.00	54.50	Administration	review payment and respond to email from GOK	Corporate - Liquidation
Ioan Springate	Administration	27-Feb-14	0.1	130.00	13.00	Administration	Payment voucher & posting payment	Corporate - Liquidation
				345.00	103.50	Creditors	Reviewing and responding to creditor enquiry. Investigation into enquiry ATO	Corporate - Liquidation

 $\widehat{}$

LW investment Ma Remuneration to 3	inagement Ltd (in Liquii 0 June 2018	dation)			3,204,515.29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Glenn O'Kearney	Senior Director	28-Feb-14	0.5	545.00	272.50	Trade∼on	Review allocation advice form Ashley-review FUM figures used, note to ash, discuss allocation numbers with BJR to invoice finalization.	Category 2 - Approved/Paid
Renee Lobb	Senior Director	28-Feb-14	0.2	485.00	97.00	Trade-on	Respond to request for accounts. Explain 2013 hot complete and copy in the assist with prior accounts.	Category 2 - Approved/Paid
Renee Lobb	Senior Director	28-Feb-14	0.1	485.00	48.50	Trade-on	Request update from Steve on progression with director report disclosures.	Category 2 - Approved/Paid
Renee Lobb	Senior Director	28-Feb-14	0.1	485.00	48.50		Review and respond to investor update request.	Category 2 - Approved/Paid
Benjamin Robson	Consultant I	28-Feb-14	0.3	235.00	70.50	Creditors	Update to consultants register with multiple payment confirmations from LMM	Category 2 - Approved/Paid
							correspondence with peter incload regarding settlement insues reales or cavean orms, agree form o release from suncorp, confirm with Brett, raview GDM comments regarding albatross to west, review release letter - liaise with hickeys and Russell regarding release and settlement, attend settlement	
Glenn O'Kearney	Senior Director	28-Feb-14	1.5	545.00	617.50	Assets	note to team regarding settlement.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	28-Feb-14	1	545.00	545.00	Assets	Prepare EOM SOP consolidated taking in MPF settlement/updated consultants register etc.	Corporate - Liquidation
Brett Cottam	Director	28-Feb-14	0.1	485.00	48.50	Assets	Confirmation of settlement completing.	Corporate - Liquidation
Brett Cottam	Director	28-Feb-14	0.4	485.00	194.00	Assets	Finalisation of matters for settlement.	Corporate - Liquidation
Renee Lobb	Senior Director	28-Feb-14	0.2	485.00	97.00	Creditors	Take call from Telstra and send pod after explaining the information	Corporate - Liquidation
John Park	Senior Managing Director	28-Feb-14	0.1	590.00	59.00	Administration	Review and approval of payment	Corporate - Liquidation
Renee Lobb	Senior Director	03-Mar-14	0.1	485.00	48.50	Trade-on	Update from Steve Hannan on audit report director report.	Category 2 - Approved/Paid
Renee Lobb	Senior Director	03-Mar-14	0.2	485.00	97.00	Trade-on	Respond to general query regarding distributions.	Category 2 - Approved/Paid Category 2 -
Benjamin Robson	Consultant I	03-Mar-14	0.2	235.00	47.00	Creditors	Payment to Russells invoice B 16974	Approved/Paid Category 2 -
Benjamin Robson	Consultant I	03-Mar-14	0.2	235.00	47.00	Creditors	Payment to King & Wood Mallesons invoice 1559773	Approved/Paid Category 2 -
Benjamin Robson	Consultant I	03-Mar-14	0.2	235.00	47.00	Creditors	Payment to Norton ROse invoice 1252784 Call to Sean Russell regarding books and records split, spoke with Catherine regarding outstanding	Approved/Paid Category 2 -
Benjamin Robson	Consultant I	03-Mar-14	0.2	235.00	47.00	Administration	payments	Approved/Paid Category 2 -
Benjamin Robson	Consultant I	03-Mar-14	0.1	235.00	23.50	Creditors	Submission of legal invoices in MYOB	Approved/Paid Category 2 -
Benjamin Robson	Consultant I	03-Mar-14	0.2	235.00	47.00	Administration	Review ASIC invoice list from Fiona and request further documents from BN and ASIC not and the second sector of the sector of th	Approved/Paid
-				- 15 - 00	272.50	A + -	BJR, review and approve receipt info, review and sign off on various legal payments, note to ash tiplady following up advices, review correspondence from team regarding cavill settlement, consider issues for response on albatross sale.	Category 2 - Approved/Paid
Glenn O'Kearney	Senior Director	03-Mar-14	0.5	545.00			Sale of Joint Venture at 38 Cavil avenue receipted into MYOB	Corporate - Liquidation
Benjamin Robson	Associate II	03-Mar-14	0.3	235.00		Assets	Email in Russells	Corporate - Liquidation
John Park	Senior Managing Director	03-Mar-14	0.1	590.00	59.00	Administration	Email in Russells Review documentation and notes regarding sale of albatross property, draft letter detailing sale of	· /
Glenn O'Kearney	Senior Director	03-Mar-14	3.5	545.00	1,907.50	Assets	property, issue copy to russels for review	Corporate - Liquidation Category 2
Renee Lobb	Senior Director	04-Mar-14	0.1	485.00	48.50	Trade-on	update to database request to LM Investment Management Ltd.	Approved/Paid Category 2
Renee Lobb	Senior Director	04-Mar-14	0.1	485.00	48.50	Investigations	Review file for eghard resignation. Advise Steve Hannan nothing held.	Approved/Paid Category 2 -
Benjamin Robson	Consultant I	04-Mar-14	0.2	235.00	47.00	Creditors	Update Consultant fee register with payments to LMIM Corporate	Approved/Paid Category 2 -
Benjamin Robson	Consultant I	04-Mar-14	0.2	235.00	47.00	Creditors	Prepare R&P report for February operational cost invoicing	Approved/Paid Category 2 -
Benjamin Robson	Consultant I	04-Mar-14	0.1	235.00	23.50	Creditors	Forward King & Wood Matlesons invoice and apportionment to S Tickner	Approved/Paid

Mini-State Participant Data House of Linking of		nagement Ltd (in Liquid 0 June 2019	dation)			3,204,515.29			
Alter Orderet Maraging Dr 0.4.Mar 4 2.2 80.00 1.7.500 Administration Description and differs in the service with Physic Program and an endinger of the service with Physic Program and an endinger of the service with Physic Program and an endinger of the service with Physic Program and an endinger of the service with Physic Program and an endinger of the service Physic Program and an endinger of the service Physic Program and Physics Program Physics Phys	Name	Title	Date	Hours	Charge Out Rate			Narrative	Classification
Control Control <t< td=""><td>Cardon and a second second</td><td></td><td></td><td></td><td></td><td></td><td>1</td><td></td><td></td></t<>	Cardon and a second						1		
kgdy/nonitymic Bindings Dir De Material By Section Amany Section Approx/Pail Bind Meding Nanging Dir De Material Do 2 De000 1000 Nanistation Nanis Section Nanis Section Decision	John Corbett	Managing Dir	04-Mar-14	2.5	550.00	1,375.00	Administration		
Conversion manual Conversion Conversion <thc< td=""><td>Idalia Anna Transfeld</td><td>Ca Managina Dia</td><td>04 Mar 14</td><td>0.4</td><td>500.00</td><td>00.960</td><td>Administration</td><td></td><td></td></thc<>	Idalia Anna Transfeld	Ca Managina Dia	04 Mar 14	0.4	500.00	00.960	Administration		
Control Control <t< td=""><td>Ketly-Anne Treniteld</td><td>Sr Managing Dir</td><td>04-Mar-14</td><td>0.4</td><td>390.00</td><td>230.00</td><td>Autonistration</td><td></td><td></td></t<>	Ketly-Anne Treniteld	Sr Managing Dir	04-Mar-14	0.4	390.00	230.00	Autonistration		
Claim Orderary Some Desch 04-Mar 0.4 Statu 21600 Tate-or None or address Approximation of address Approxim	Sally McBryde	Managing Dir	04-Mar-14	0.2	550.00	110.00	Administration		
Decking Decking <t< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td></t<>									
And And Standard Default 1 Onl Topol Topol Topol Topol Default 1 Difference Di	Glenn O'Kearney	Senior Director							
Units Springing Definition Definion Definition Defi	Megan Dopking	Administrative	04-Mar-14			•	· · · · · · · · · · · · · · · · · · ·		· · · · · · · · · · · · · · · · · · ·
Bener Labb Senior Director 0.61 0.01 0.460.00 0.600.00 Discussors with CVG with First Engineering Curpton Labbia Set Sin Since Michael Sinc	Joan Springate	Administration	04-Mar-14	0.3	130.00	39.00	Administration	Setting up Online payment & posting payment	
Nome Control C		Denine Dimetter	OF Move 14	0.1	495.00	4B 50	Accote	Uodate Keliv-Anne Trenfield on insurance.	- ·
Minister Labor Operation Operation Operation Operation Comparison operation registering propries on neuralize matters and labely costs Calegory 2 - Alloy 2 - All	Renee Lobb	Senior Director	00-14		400.00	40.00	7.00010		Category 2 -
Rese Lobb Serior Director 05-Mar-14 0.2 485.00 97.00 Assets Continues description spatial exploring in projects on exumine Addres and low yous Continues description spatial explores on exumine Addres and low yous Continues description spatial explores on exumine Addres and low yous Continues description spatial explores on exumine Addres and low yous Continues description spatial explores on exumine Addres and low yous Continues description spatial explores on exumine Addres and low you you you would be addres and low you	Renee Lobb	Senior Director	05-Mar-14	0.3	485.00	145.50	Trade-on		
Charles Couldo Open Decision Open De									
Justine Corbett Managing Dir 06 Mar-14 1 950.00 650.00 Administration Decoussion with audion. Decousin terview with Rym Array audion audion. Decoussion	Renee Lobb	Senior Director	05-Mar-14	0.2	485.00	97.00	Assets		
operation operating prime operating prime<	(-h- Coshall	Managing Dir	05 Mar-14	1	550.00	550.00	Administration	Discussions with auditors. Discussion and file review with Ryan Zorgdrager.	
Kelly-Arme Trenfeld Sr Managing Dir 0.54Mart 4 0.5 56000 356.00 Administration concurrents/pade for or okk rs indermity calm and status of admin (admin (status of admin (John Corbeit	wanaging Dir	00-14				/ carrier to a contract	Emails in terasic review and responsereview advice from Russells re allocation or general rund costs	<u>.</u>
Kelly-Anne Trentield Sf Managerg Dir Oos Jakob Davies Description Description Category 2: Approve party payone payment or outstanding administration Description Approve Pay approve payment or outstanding administration Description Description Description Category 2: Approve Payment or outstanding administration Category 2: Approve Payment or outstanding administration Category 2: Approve Payment or outstanding administration Category 2: Approve Pay approve Payment or outstanding administration Category 2: Approve Pay approve Payment or outstanding administration Category 2: Approver Pay approve Pay approve Pay approve Payment or outstanding administration ApprovePay approve Pay approve Pay approvePay approve Pay ap									
kelly Anne Trantield Sr Managing Dir 0.6 Mark 0.1 950.00 Admisistration documentation and signing of transfer or cheque Approve/Praid Glenn O'Keamey Senior Director 0.5 Mar.14 0.2 5450.0 109.00 Assets Consultant costs braakdown between axpenses and wip. Callegry 2- Approve/Praid Callegry 2- Callegry 2- Callegr	Kelly-Anne Trenfield	Sr Managing Dir	05-Mar-14	0.6	590.00	354.00	Administration		
Key Yung Tutunizi	K-N. Anna Tranfield	Sr Managina Dir	06-Mar-14	0.1	590.00	59.00	Administration	documentation and signing of transfer or cheque	
Gains Origaniany Control Instantion Control Instantinstantion Control Instantinstantion	Kelly-Anne Tremielu		00-14121-14	0.1	000100			issue query to Renee and Christine regarding costs, discussions with Kelly regarding reconcile mpt	÷ ·
Christine Stead Senior Director 0.5 Alar-14 0.0 545.0 Administration review various legal payments - KWM/Norton Rose/Russelis Approve/Pail Approve/Pail Christine Stead Senior Director 0.6 -Mar-14 0.0 130.00 Interstation Review analis in re start comms fees for Aug-Sep 2013 and respond to smail from GCM Approve/Pail Megan Dopking Administrative 0.6 -Mar-14 0.1 130.00 Administration Barking Composite Light Opprover - Light Molecol Molecol Molecol Administration Barking Composite Light Molecol Administration Barking Composite Light Composite Lig	Glenn O'Keamey	Senior Director	05-Mar-14	0.2	545.00	109.00	Assets	consultant costs breakdown between expenses and wip.	
Christine Stead Senior Director US-Mar-14 U.1 O4000 Hour mask of PL-PARA Christine Stead Senior Director OS-Mar-14 OL2 S4500 Hour mask of PL-PARA Review smalls in restar comms fees for Aug-Sep 2013 and respond to email from GOK Approve/Pari Megan Dopking Administrative OS-Mar-14 0.2 545.00 100.0 Administration Review smalls in restar comms fees for Aug-Sep 2013 and respond to email from GOK Approve/Pari Brett Cottam Director 05-Mar-14 0.2 485.00 97.00 Assets Review draft later to ARTA. Written G/INO (40.01 Corporate - Liquida Brett Cottam Director 05-Mar-14 0.1 485.00 Assets Email to GOK with a copy of the final valuation for 20 Abatross Ave. Corporate - Liquida Joan Springate Administration 05-Mar-14 0.1 236.00 Zasto Assets Email to GOK with a copy of the final valuation for 20 Abatross Ave. Corporate - Liquida Joan Springate Consultant I 06-Mar-14 0.1 236.00 Zasto Administration Mali n ATO Consultant Review with Ryan Zargdrage					545.00	54.50	Administration	review various legal navments - KWM/Norton Rose/Russells	
Orientify Statu Osf Mar 14 0.5 Osf Mar 14 0.1 1000 13.00 Administration Banking Comporte - Liquidat Brett Cottam Director 06-Mar-14 0.1 485.00 97.00 Assets Review of drait lieter to ARITA. Written ORITAN to idad Brett Cottam Director 06-Mar-14 0.1 486.00 485.00 Assets Email to GOK with a copy of the final valuation for 20 Albatros Ave. Corporate - Liquidat Jana Springate Administration 06-Mar-14 0.1 486.00 Assets Email to GOK with a copy of the final valuation for 20 Albatros Ave. Corporate - Liquidat Jana Springate Administration 06-Mar-14 0.1 235.00 23.00 Administration Mall in ATO Approve/Paid Category 2: Benjamin Robson Consultant I 06-Mar-14 0.1 560.00 S50.00 Creditors Print LM expense claims and review for RFZ eproval Approve/Paid Approve/Paid Addinistration Sr Managing Dir 06-Mar-14 0.1 580.00 Administration Discussions with auditors. Discussion and file review with Ryen Zorgdrager. Approve/Paid Leo Gu	Christine Stead	Senior Director	05-Mar-14	0.1	545.00	04.00	Administration		
Magan Dopking Administrative 0.5 Mar:14 0.1 1300 1300 Administration Banking Corporate - Liquidat Brett Cottam Director 05-Mar:14 0.2 445.00 97.00 Assets Review of rati teer to ARTA. Oct Math a copy of the final valuation for 20 Abstross Ave. Corporate - Liquidat Jana Springel Administration 05-Mar:14 0.2 430.00 26.00 Administration Review of rati teer to ARTA. Review of rati teer to ARTA. Corporate - Liquidat Jana Springel Administration 06-Mar:14 0.2 130.00 26.00 Administration Receipt voucher, Posting receipt & getting cheque ready to bank Corporate - Liquidat Jans Springel One-Mar:14 0.1 235.00 23.60 Administration Receipt voucher, Posting receipt & getting cheque ready to bank Category 2: John Corbett Managing Dir 06-Mar:14 0.1 550.00 Administration Discussions with auditors. Discussion and file review with Ryan Zorgdrager. Approved/Paid Leo Guthrie Consultant I 06-Mar:14 0.1 550.00 S50.00 Administration Discussion with JDC re staffing and status of funds and audits/	Christine Stead	Senior Director	05-Mar-14	0.2	545.00	109.00	Administration	Review emails in re start comms fees for Aug-Sep 2013 and respond to email from GOK	Approved/Paid
Instruction Director 05-Mar-14 0.2 485.0 97.00 Assets Preview of draft letter to ARITA. Writter OffNoc clair Brett Cottam Director 05-Mar-14 0.1 485.00 48.50 Assets Email to GX with a copy of the final valuation for 20 Albatross Ave. Corporale - Liquidal Joan Springate Administration 06-Mar-14 0.2 130.00 28.00 Administration Receipt voucher, Posting receipt & getting cheque ready to bank Corporale - Liquidal Benjamin Robson Consultant I 06-Mar-14 0.3 235.00 70.60 Creditors Print LM expense claims and review for RFZ approval Category 2: John Corbett Managing Dir 06-Mar-14 1 550.00 S50.00 Administration Discussions with auditors. Discussion and file review with Ryan Zorgdrager. Approved/Paid Kelly-Anne Trenfield Sr Managing Dir 06-Mar-14 0.1 590.00 S90.00 Administration Discussions with auditors. Discussion and file review with Ryan Zorgdrager. Approved/Paid Leo Guthrie Consultant I 06-Mar-14 0.1 190.00					130.00	13.00	Administration	Banking	Corporate - Liquidation
State Discust				_		97.00	Assets	Review of draft letter to ARITA.	Written Off/Not claimed
Brite Column Director Outmannel Oct Procession Receipt voucher, Posting receipt & getting cheque ready to bank Corporate - Liquidat Johan Springate Administration 06-Mar-14 0.2 130.00 260.0 Administration Nane (Eggry 2- Category 2- Approved/Paid Approved/Paid Category 2- Category 2- Category 2- Category 2- Approved/Paid Category 2- Category 2- Approved/Paid Category 2- Category 2- Category 2- Approved/Paid Category 2- Category 2- Category 2- Category 2- Approved/Paid Category 2- Category 2- Category 2- Category 2- Category 2- Category 2- Category 2- Category 2- Category 2- Categ								Email to GOK with a copy of the final valuation for 20 Albatross Ave.	Corporate - Liquidation
John Springate Administration Od-Mar 1 Od. Ode Mar 1 Ode Mar 1 <td></td> <td></td> <td>I</td> <td></td> <td></td> <td></td> <td></td> <td></td> <td>Corporate - Liquidation</td>			I						Corporate - Liquidation
Benjamin Robson Consultant I 06-Mar-14 0.1 236:00 23.60 Administration Hear Mindoc Calegory 2- Approved/Paid Benjamin Robson Consultant I 06-Mar-14 0.3 235:00 70:50 Creditors Print LM expense claims and review for RFZ approval Approved/Paid John Corbett Managing Dir 06-Mar-14 1 550:00 550:00 Administration Discussions with auditors. Discussion and file review with Ryan Zorgdrager. Approved/Paid Kelly-Anne Trenfield Sr Managing Dir 06-Mar-14 0.1 590:00 59:00 Administration Discussion with JDC re staffing and status of funds and audits/accounts Approved/Paid Leo Guthrie Consultant I 06-Mar-14 1 100:00 Administration Discussion with JDC re staffing and status of funds and audits/accounts Approved/Paid Joan Springate Administration 06-Mar-14 1 100:00 Administration Position statement review, file management and handover to RFZ consideration Approved/Paid Joan Springate Administration 06-Mar-14 0.1 130:00 Administration Bank Rec Corporate - Liquidat Corporate - Liquidat <t< td=""><td>Joan Springate</td><td>Administration</td><td>00-11181-14</td><td></td><td>130.00</td><td>20.00</td><td>Addition</td><td></td><td></td></t<>	Joan Springate	Administration	00-11181-14		130.00	20.00	Addition		
Bergiamin Robson Consultant I 06-Mar-14 0.3 235.00 70.50 Creditors Print LM expense claims and review for RFZ approval Approved/Paid John Corbett Managing Dir 06-Mar-14 1 550.00 550.00 Administration Discussions with auditors. Discussion and file review with Ryan Zorgdrager. Approved/Paid Category 2- Kelly-Anne Trenfield Sr Managing Dir 06-Mar-14 0.1 550.00 590.00 Administration Discussions with auditors. Discussion and file review with Ryan Zorgdrager. Approved/Paid Category 2- Kelly-Anne Trenfield Sr Managing Dir 06-Mar-14 0.1 590.00 590.00 Administration Discussion with JDC re staffing and status of funds and audits/accounts Approved/Paid Leo Guthrie Consultant I 06-Mar-14 1 130.00 130.00 Assets Cash flow entries and fixing errors Category 2- Approved/Paid John Springale Administration 06-Mar-14 0.1 130.00 Administration Review into from CMA Regarding stateomin bills, review moriced time and note to CMA discussions Corporate - Liquidat John	Benjamin Robson	Consultant I	06-Mar-14	0.1	235.00	23.50	Administration	Mail In ATO	
Bergiamin Robson Consultant I 06-Mar-14 0.3 235.00 70:30 Credition Interferences Consultant I Category 2- John Corbett Managing Dir 06-Mar-14 1 550.00 Administration Discussions with auditors. Discussion and file review with Ryan Zorgdrager. Approved/Paid Kelly-Anne Trenfield Sr Managing Dir 06-Mar-14 0.1 590.00 590.00 Administration Discussion with JDC re staffing and status of funds and audits/accounts Approved/Paid Leo Gulthrie Consultant I 06-Mar-14 1 130.00 Assets Cash flow entries and fixing errors Approved/Paid Category 2 - Damian Bender CONSULTANT 06-Mar-14 1.1 550.00 Administration Position statement review, file managemnent and handover to RFZ consideration Approved/Paid Joan Springate Administration 06-Mar-14 0.1 130.00 Administration Bank Rec Corporate - Liquidat Glenn O'Kearney Senior Director 06-Mar-14 0.2 545.00 109.00 Trade-On with asly regarding insurance matters/other LM matters. Corporate - Liquidat Glenn O'Kearney Seni								Print LM exercise claims and review for REZ anoroval	
John Orbeit Managing Dir Ob-Mar-14 I Colors Colors Colors Colors Category 2- Kelly-Anne Trenfield Sr Managing Dir 06-Mar-14 0.1 590.00 59.00 Administration Discussion with JDC re staffing and status of funds and audits/accounts Approved/Paid Leo Guthrie Consultant I 06-Mar-14 1 130.00 130.00 Assets Category 2- Approved/Paid Category 2- Damian Bender CONSULTANT 06-Mar-14 1.1 550.00 605.00 Administration Position statement review , file management and handover to RFZ consideration Approved/Paid Joan Springate Administration 06-Mar-14 0.1 130.00 13.00 Administration Bank Rec Corporate - Liquidat Glenn O'Kearney Senior Director 06-Mar-14 0.2 545.00 109.00 Trade-On with sally regarding insurance matters/other LM matters. Corporate - Liquidat Glenn O'Kearney Senior Director 06-Mar-14 1 545.00 Administration Reconcile MPF invoices russelts and KWM regarding oops and rem split, prepare schedules for meeting with russells. Corporate - Liquidat Corpora	Benjamin Robson	Consultant I	06-Mar-14	0.3	235.00	/0,50	Creditors		
Managing Dir Off-Mar-14 O.1 Senior Director Off-Mar-14<	lake Costott	Managing Dir	06-Mar-14	1	550.00	550.00	Administration	Discussions with auditors. Discussion and file review with Ryan Zorgdrager.	
Kelly-Anne Trenfield Sr Managing Dir 06-Mar-14 0.1 59.00 Administration Decession matrix generation generating generation generation generation generation	John Corbett		<u> </u>						
Lee Guthrie One-Mar-14 1 130.00 130.00 Assets Cash flow entries and fixing errors Approved/Paid Category 2- Damian Bender CONSULTANT 06-Mar-14 1.1 550.00 605.00 Administration Position statement review , file management and handover to RFZ consideration Approved/Paid Joan Springate Administration 06-Mar-14 0.1 130.00 13.00 Administration Bank Rec Corporate - Liquidat Glenn O'Kearney Senior Director 06-Mar-14 0.2 545.00 109.00 Trade-On Reconcile MPF invoices russells and KWM regarding oops and rem split. prepare schedules for discussions with consultants. update to SOP, note to Kelly with schedules for meeting with russells. Corporate - Liquidat Tanya Kratz Administration 2 06-Mar-14 0.1 130.00 13.00 Administration Meeting Room Booking. Category 2- with schedules for meeting with russells. Corporate - Liquidat Glenn O'Kearney Senior Director 06-Mar-14 1 545.00 Administration Reconcile MPF invoices russells and KWM regarding oops and rem split. prepare schedules for discussions with consultants. update to SOP, note to Kelly with schedules for meeting with russells. Corporate - Liquidat	Kelly-Anne Trenfield	Sr Managing Dir	06-Mar-14	0.1	590.00	59.00	Administration	Discussion with JDC re statting and status of funds and audits/accounts	
Lee Guthrie Consultant I Oe-Mar-14 I Iso.co Iso.co Resultant I Category 2 - Category 2 - Approved/Paid Damian Bender CONSULTANT 06-Mar-14 1.1 550.00 605.00 Administration Position statement review , file management and handover to RFZ consideration Approved/Paid Joan Springate Administration 06-Mar-14 0.1 130.00 13.00 Administration Bank Rec Corporate - Liquidat Glenn O'Kearney Senior Director 06-Mar-14 0.2 545.00 109.00 Trade-On with sally regarding isurance matters/other LM matters. Corporate - Liquidat Glenn O'Kearney Senior Director 06-Mar-14 1 545.00 Administration Reconcile MPF invoices russells and KWM regarding oops and rem split. prepare schedules for discussions with consultants. update to SOP, note to Kelly with schedules for meeting with russells. Corporate - Liquidat Tanya Kratz Administration 2 06-Mar-14 0.1 130.00 13.00 Administration Meeting Room Booking. Category 2 - Approved/Paid					400.00	430.00	Acreta	Cash flow entries and fixing errors	•••
Daminal Bender Convoir FANT Convoir FANT Convoir FANT Corporate - Liquidat Joan Springate Administration 06-Mar-14 0.1 130.00 13.00 Administration Bank Rec Corporate - Liquidat Glenn O'Kearney Senior Director 06-Mar-14 0.2 545.00 109.00 Trade-On With sally regarding insurance matters/other LM matters. Corporate - Liquidat Glenn O'Kearney Senior Director 06-Mar-14 1 545.00 545.00 Administration Reconcile MPF invoices russells and KWM regarding oops and rem split. prepare schedules for discussions with consultants. update to SOP. note to Kelly with schedules for meeting with russells. Corporate - Liquidat Tanya Kratz Administration 2 06-Mar-14 0.1 130.00 13.00 Administration Meeting Room Booking. Corporate - Liquidat	Leo Guthrie	Consultant I	06-Mar-14	1	130.00	130.00	Assels		
Joan Springate Administration O6-Mar-14 O.1 130.00 13.00 Administration Bank Rec Corporate Corporate Liquidat Joan Springate Administration 06-Mar-14 0.2 545.00 109.00 Trade-On Review Into room CMA regarding stateomm bills. Review Invoiced time and note to CMA. discussions Corporate - Liquidat Glenn O'Kearney Senior Director 06-Mar-14 0.2 545.00 109.00 Trade-On with sally regarding insurance matters/other LM matters. Corporate - Liquidat Glenn O'Kearney Senior Director 06-Mar-14 1 545.00 Administration Reconcile MPF invoices russells and KWM regarding oops and rem split. prepare schedules for discussions with consultants. update to SOP, note to Kelly with schedules for meeting with russells. Corporate - Liquidat Tanya Kratz Administration 2 06-Mar-14 0.1 130.00 13.00 Administration Meeting Room Booking. Carporate - Liquidat Tanya Kratz Administration 2 06-Mar-14 0.1 130.00 13.00 Administration Meeting Room Booking. Carporate - Liquidat Category 2 - Liquidat Category 2 - Liquidat Category 2 - Liquidat Category 2 - Li	Domian Bender	CONSULTANT	06-Mar-14	1.1	550.00	605.00	Administration	Position statement review, file managemnent and handover to RFZ consideration	
Open Purgas Pack and data control Pack and data contro Pack and data control					130.00	13.00	Administration	Bank Rec	Corporate - Liquidation
Glenn O'Kearney Senior Director 06-Mar-14 0.2 545.00 109.00 Trade-On winn any regarding instance matched up and instance up and instance matched up and instance up andin and instance up and instance up and instance	ivan opinigate							Review into from CMA regarding statcomm bills, review invoiced time and note to CMA, discussions	Comprate - Liquidation
Glenn O'Kearney Senior Director 06-Mar-14 1 545.00 545.00 Administration discussions with consultants. update to SOP, note to Kelly with schedules for meeting with russells. Corporate - Liquidate consultants. Tanya Kratz Administration 2 06-Mar-14 0.1 130.00 13.00 Administration Meeting Room Booking. Corporate - Liquidate Corporate	Glenn O'Kearney	Senior Director	06-Mar-14	0.2	545.00	109.00	Trade-On	with saily regarding insurance matters/other LM mailers.	
Glenn O'Kearney Senior Director 06-Mar-14 1 545.00 545.00 Administration discussions with consultants. update to SOP, note to Kelly with schedules for meeting with russells. Corporate - Liquidate consultants. Tanya Kratz Administration 2 06-Mar-14 0.1 130.00 13.00 Administration Meeting Room Booking. Corporate - Liquidate Corporate								Reconcile MPF invoices russells and KWM regarding cops and rem split. prepare schedules for	
Tanya Kratz Administration 2 06-Mar-14 0.1 130.00 13.00 Administration Meeting Room Booking. Corporate - Liquidat	Glenn O'Kearnev	Senior Director	06-Mar-14	1	545.00	545.00	Administration	discussions with consultants. update to SOP, note to Kelly with schedules for meeting with russells.	Corporate - Liquidation
Category 2 - Category 2 - Category 2 -	· · · · · · · · · · · · · · · · · · ·			0.1	130.00	13.00	Administration	Meeting Room Booking.	Corporate - Liquidation
A D L Creditors Further payment approvals received and sent to KHZ for sign off [Approved/Paid	anya mata								
Senjamin Kobson Consultant I Ur-Iviar-14 U.2 233.00 47.00 Cleutions Parameter Providence Provi	Benjamin Robson	Consultant I	07-Mar-14	0.2	235.00	47.00	Creditors	Further payment approvals received and sent to KFZ for sign on	Аррголец/ Рако

LM Investment M Remuneration to	anagement Ltd (n Liqui 30 June 2018	dation)			3.204.515.29			
Name		Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
John Corbett	Managing Dir	07-Mar-14	1	550.00	550.00	Administration	Discussions with auditors. Discussion and file review with Ryan Zorgdrager.	Category 2 - Approved/Paid
Glenn O'Kearney	Senior Director	07-Mar-14	0.3	545.00	163.50	Trade-on	Review updated RE allocation advice. note to Kelly. note to BJR regarding books and records split.	Category 2 - Approved/Paid
Benjamin Robson	Associate II	07-Mar-14	0.6	235.00	141.00	Administration	Preparation of online ASIC forms 505 and 509 D notifying of appointment of Liquidators	Corporate - Liquidation
Stuart Clancy	Manager 1	07-Mar-14	0.2	345.00	69.00	Creditors	Emall to creditors regarding update on liquidation to date.	Corporate - Liquidation
Glenn O'Keamey	Senior Director	07-Mar-14	0.2	545.00	109.00	Assets	Review Jan BAS Information cavil JV: note to Scott currile regarding February figures, review and approve final receipt details for JV cheque. Note to strussen regarding zo abarcoss sais, note to Scott momunitie regarding gist reconciliation.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	07-Mar-14	0.2	545.00	109.00	Assets	review online accounts fo updated balances.	Corporate - Liquidation
Kelly-Anne Trenfield	Sr Managing Dir	10-Mar-14	1.9	590.00	1.121.00	Administration	Review draft response to asic queries and arrange for letter to be finalised indemnity position; review MPF fundingMeeting AJT re legal costs and statement of positionreview letter to FOS, amend and arrange finalisation and signingreview letter to ASIC, amend and arrange finalisation and signing	Category 2 - Approved/Paid
Sally McBryde	Managing Dir	10-Mar-14	0.3	550.00	165.00	Trade-on	Email from employees re PAYG summary, locate PAYG summary, email top LM staft to confirm details, respond to employee	Category 2 - Approved/Paid
Gienn O'Kearney	Senior Director	10-Mar-14	3.5	545.00	1,907.50	Administration	Travel to Brisbane office for meeting with Kerly and Ashtey tiplady regarding consultants fees, meet with Ashley and Kelly, travel time back from Brisbane to GC office.	Category 2 - Approved/Paid
John Park	Senior Managing Director	10-Mar-14	0.1	590.00	59.00	Administration	Review and approve documents	Corporate - Liquidation
Glenn O'Kearney	Senior Director	10-Mar-14	0.3	545.00	163.50	Administration	Collate documents and files for meeting with Russell regarding LM costs.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	10-Mar-14	0.5	545.00	272.50	Assets	Review note Russell regarding letter 20 albatross. Tinalize letter and issue draft to JP, arrange copy of val for letter.	Corporate - Liquidation
Cariy Drew	Administration 2	10-Mar-14	0.5	130.00	65.00	Assets	Prepared Final Letters for GOK & RFZ	Corporate - Liquidation
Carly Drew	Administration 2	10-Mar-14	0.2	130.00	26.00	Administration	Prepared Final Letter	Corporate - Liquidation
	Director	11-Mar-14	0.4	350.00	140.00	Asseis	comerence with Korda menuna team to discuss the togistic and process or transferring Encase images which contain LM Investment server data. Drafting response to Korda Mentha with documentation and document listing requested by Korda Mentha.	Category 2 - Approved/Paid
Patrick Ma		11-Mar-14	0.4	350.00	210.00		Prepare document and document listings of the Encase images per Korda Mentha request.	Category 2 - Approved/Paid
Patrick Ma	Director	1-11/21-14	0.0		210.00	710000	Handover instructions with Alline Teixeira regarding LM payment approvals. Print and reconcile all	Category 2 -
Benjamin Robson	Consultant I	11-Mar-14	3.4	235.00	799.00	Creditors	involces and commence LM involce batch payment approvals.	Approved/Paid Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	11-Mar-14	0.5	590.00	295.00	Administration	cma update re B&RJDC & RFZ re update and status of controllerships	Approved/Paid Category 2 -
Sally McBryde	Managing Dir	11-Mar-14	0.1	550.00	55.00	Trade-on	Email and scan PAYG summary for Fran Mulder	Approved/Paid
John Park	Senior Managing Director	11-Mar-14	0.1	590.00	59.00	Administration	Email in S. Russell	Corporate - Liquidation
Glenn O'Kearney	Senior Director	11-Mar-14	0.5	545.00	272.50	Administration	Review schedules and involces provided by Russell: reconcile with register, note to Reliv regarding query in appeal invoice, discuss allocation of LM work with Sally/BJR, statements in regarding consultants.	Corporate - Liquidation
Joan Springate	Administration	11-Mar-14	0.0	130.00	13.00	Administration	Bank Rec	Corporate - Liquidation
Brittany Newman	Administration 1	11-Mar-14	0.1	130.00	13.00	Administration	Mail in from Norton Rose Fulbright - Statement as at 7/03/2014	Corporate - Liquidation
Brittany Newman	Administration 1	11-Mar-14	0.1	130.00	26.00	Administration	Filing	Corporate - Liquidation
Patrick Ma	Director	12-Mar-14	0.3	350.00	105.00	Assets	Meeting with John Mohairiad of Korda Mentha for transfer of 2 NAS storage containing LM server data. Prepare chain of custody documentations for the media transfer.	Category 2 - Approved/Paid
Benjamin Robson	Consultant i	12-Mar-14	0.8	235.00	188.00	Administration	Payment approval register training with RFZ - walk through of all payments made/approved to date for classification purposes	Category 2 - Approved/Paid Category 2 -
Benjamin Robson	Consultant I	12-Mar-14	0.2	235.00	47.00	Creditors	Norton Rose statement reconciliation with register	Approved/Paid Category 2 -
Benjamin Robson	Consultant !	12-Mar-14	0.2	235.00	47.00	Administration	Update to fund invoice register and circulate to JC and RFZ	Approved/Paid
Glenn O'Keamey	Senior Director	12-Mar-14	0.1	545.00	54.50	Assets	Correspondence with Scott mcmurtire regarding finalizing adjustments on settlement.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	12-Mar-14	0.1	545.00	54.50	Creditors	Review and amend Stuart Clancy draft reply to creditors.	Corporate - Liquidation
Stuart Clancy	Manager 1	12-Mar-14	0.1	345.00	34.50	Creditors	Updating creditors on liquidation and likelihood of dividends	Corporate - Liquidation

Remuneration to 3	anagement Ltd (in Liqui 30 June 2018				3,204,515.29	1941 - 1941 - 1944 - 1944 - 1944 - 1944 - 1944 - 1944 - 1944 - 1944 - 1944 - 1944 - 1944 - 1944 - 1944 - 1944 -		
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
		I					Multiple payment approvals received and reviewed for approval, scan save to file and return items to	Category 2 -
Benjamin Robson	Consultant I	13-Mar-14	1	235.00	235.00	Creditors	Zoran Irene and Leanne of LM	Approved/Paid
							Email in from poter Polymidt as atobus of sale soliof, succes ODMseepenses to Dates Polymidt	Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	13-Mar-14	0.1	590.00	59.00	Administration	Email in from peter Schmidt re status of asic relief - query GDMresponse to Peter Schmidt	Approved/Paid Category 2 -
Glenn O'Kearney	Senior Director	13-Mar-14	0.1	545.00	54.50	Assets	Note from BJR regarding fund invoices/trust coy. reply.	Approved/Paid
		10 100 11		010.00	0 1100		Review updates Russell register. reconcile and adapte LMIM consulats register/ tollow up BJR	Category 2 -
Glenn O'Kearney	Senior Director	13-Mar-14	0.3	545.00	163.50	Administration	regarding apportioning invoices.	Approved/Paid
								Category 2 -
Leo Guthrie	Consultant I	13-Mar-14	1	130.00	130.00	Administration	Cash flow analysais and data entry IFUM calculations and apportionment of Russells Books and Records Invoices B 16379, B16659, B	Approved/Paid Category 2 -
Benjamin Robson	Consultant I	14-Mar-14	0.9	235.00	211 50	Creditors	16589 and draft payment requests to S tickner	Approved/Paid
		1-4-14(6)-1-4	0.0		211.00	oroundro	Deduction of disbursements from Russells invoices B16193 and B 16522 and apportionment to	Category 2
Benjarnin Robson	Consultant I	14-Mar-14	0.4	235.00	94.00	Creditors	B17924, Review of allocation and final invoice and entry in consultants register	Approved/Paid
		11						Category 2 -
Benjamin Robson	Consultant I	14-Mar-14	0.2	235.00	47.00	Creditors	Payment to Russells Invoice B17294	Approved/Paid
	Concentrated a			235.00	417 60	Creditors	Print off and review daily LM Approvals for RFZ approval	Category 2 - Approved/Paid
Benjamin Robson	Consultant I	14-Mar-14	0.5	200.00		Creditors		Category 2 -
Benjamin Robson	Consultant I	14-Mar-14	0.5	235.00	117.50	Creditors	Preparation of remaining Russells books and records invoices for payment request to S Tickner	Approved/Paid
							Liaise with Liam maindon regarding adjustments for final settlement numbers oncavili RP. review	
							cash position/cred approval etc regarding fees. follow up Brisbane for correspondence, discussion	Corporate - Liquidation
Glenn O'Kearney	Senior Director	14-Mar-14	0.5	545.00	272.50	Assets	Kelly regarding file.	
Stuart Clancy	Manager 1	14-Mar-14	0.2	345.00	69.00	Creditors	Responding to various creditor queries and update on liquidation to date.	Corporate - Liquidation
		17.14.14		406.00	07.00	le centinations	Review email from KM regarding Insurance issues. Send to Clayton Utz regarding setup of meeting.	Category 2 - Approved/Paid
Renee Lobb	Senior Director	17-Mar-14	0.2	485.00	97.00	Investigations	темен плосе апосалоть ани иган сонтероповное то смг. терроте, терру на вилон али поте ю вол	Approvedy and
							regarding response, review updated russells numbers , update russ schedules and consultants	
							register. approve payment to russells for disb invoices. note to BJR regarding to do. review and	Category 2 -
Glenn O'Kearney	Senior Director	17-Mar-14	0.7	545.00	381.50	Assets	amend draft reply LM regarding allocations. Opdate consultants ree register with apponionment or Bork Involces as per relative month Folk split."	Approved/Paid
		1					General updates to consultants invoices paid and outstanding amounts, discuss with Glenn	Category 2 -
Beniamin Robson	Consultant	17-Mar-14	1.1	235.00	258.50	Creditors	O'Kearney	Approved/Paid
Dengamin () Deen								Category 2 -
John Corbett	Managing Dir	17-Mar-14	0.5	550.00	275.00	Administration	Dealing with / review of various correspondance	Approved/Paid
				7 47 00	970 F0		Review proposed adjustment reconciliation from hickeys review source documents and calculate. reply to Liam regarding disputed adjustments.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	17-Mar-14	0.5	545.00		Assets	Review paperwork for account closures review WIP position for drawings this month.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	17-Mar-14	0.2	545.00		Administration		
Glenn O'Kearney	Senior Director	17-Mar-14	0.5	545.00	272.50	Administration	Review fite status. filing and general review.	Corporate - Liquidation
Joan Springate	Administration	17-Mar-14	0.3	130.00	39.00	Administration	Setting up Online payment & posting payment	Corporate - Liquidation
Tanya Kratz	Administration 2	17-Mar-14	0.1	130.00	13.00	Administration	Enter outgoing mail into register.	Corporate - Liquidation
Christine Stead	Senior Director	17-Mar-14	0.1	545.00	54.50	Administration	review payment to Russells	Corporate - Liquidation
Ginette Muller	Senior Managing Director	17-Mar-14	0.1	590.00	59.00	Administration	Execute bank rec	Corporate - Liquidation
Ginette Muller	Senior Managing Director	17-Mar-14	0.1	590.00		Administration	Execute bank rec	Corporate - Liquidation
	· · · · · · · · · · · · · · · · · · ·		0.1	590.00			Execute bank rec	Corporate - Liquidation
Ginette Muller	Senior Managing Director	17-Mar-14				Administration	Execute bank rec	Corporate - Liquidation
Ginette Muller	Senior Managing Director	17-Mar-14	0.1	590.00	59.00	Autousuation		Calegory 2
Renee Lobb	Senior Director	18-Mar-14	0.1	485.00	48.50	investigations	Request RFZ assistance in review of director disclosure report.	Approved/Paid
								Category 2 -
lohn Corbett	Managing Dir	18-Mar-14	0.5	550.00	275.00	Administration	Dealing with / review of various correspondance	Approved/Paid
							Meeting with GOK re SOP and payment of costs/indemnity claims	Category 2 - Approved/Paid
							NARRANDI WALLENDALE SANT AND DAVIDENT OF COSTA/HODITING VIOLIDA	AUDIU/CU/FAIU
Kelly-Anne Trenfield	Sr Managing Dir	18-Mar-14	0.7	590.00	413.00	Administration		Category 2 -

LM Investment Ma Remuneration to 3 Name			Hours	Charge Out Rate	3,204,515.29 Charge	Task Desc	Narrative	Classification Category 2 -
Sally McBryde	Managing Dir	18-Mar-14	0.2	550.00	110.00	AdmInistration	Review PI insurance policy, discuss with GOK, email Blue Broking for details of renewal	Approved/Paid
Glenn O'Kearney	Senior Director	18-Mar-14	0.5	545.00	272.50	Assets	Correspondence from hickeys regarding settlement adjustments. review proposal against adjustments and reply regarding proposal, instructions to Hickeys and sign off on chq receipt etc.	Corporate - Liquidation
		40 Mars 44		545.00	1,635.00	d operate	Review updated consultants register, update russells and KWM registers for MPF, reconcile mpf settlement with current invoices, update SOP to 17 March 14, review WIP allocations for meeting with Kelly, meet with Kelly and discuss SOP and WIP allocations, review WIP allocations post discussions/amend SOP and issue note to Kelly. Liaise with Ben regarding reconcile accounts, review wMYOB for info for SOP, note to Stuart Clancy regarding WIP allocation and drawings.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	18-Mar-14	3				Mainn from Hickey Lawyers (Hand Delivered) - Trust Cheque \$5,577 re Baronsand Pty Ltd - 38 Cavil	Corporate - Liquidation
Brittany Newman	Administration 1	18-Mar-14	0.1	130.00	13.00		Avenue, Surfers Paradise Review of email exchange regarding linel adjustments for 38 Cavill Ave.	Corporate - Liquidation
Brett Cottam	Director	18-Mar-14	0.2	485.00	97.00	Assets	neephone conterence with ben minalia and craig macalay to discuss the methopology used to	Corporate - Liquidadon
Patrick Ma	Director	19-Mar-14	0.3	350.00	105.00	Assets	conduct the backup back in March 2013. Discuss the problem Korda Mentha encountered with accessing specific file share virtual machine images.	Category 2 - Approved/Paid
							Response to Koroa menuna request in testing on specific nie server vinuar machine image using multiple mounting software. Provide results to Korda Mentha to confirm file server data are accessible	Category 2 -
Patrick Ma	Director	19-Mar-14	0.5	350.00	175.00	Assets	without error.	Approved/Paid
							Correspondence from Asniey regarding update on legar tees and allocauons issues, review tee approve vs cash held across various entities/funds, discuss fee drawings with Stuart Clancy and	Category 2 -
Class Olicastron	Senior Director	19-Mar-14	0.5	545.00	272.50	Administration	auery on subtasks.	Approved/Paid
Glenn O'Kearney			0,0					Category 2 -
John Corbett	Managing Dir	19-Mar-14	0.5	550.00	275.00	Administration	Dealing with / review of various correspondance	Approved/Paid
Denienie Debeen	Consultant I	19-Mar-14	0.3	235.00	70.50	Creditors	Payment confirmations received from trane and entered into consultants register	Category 2 - Approved/Paid
Benjamin Robson	Consultant I Senior Director	19-Mar-14	0.3	545.00	54.50	Assets	Review and approve receipt of deposit JV sale.	Corporate - Liquidation
Glenn O'Kearney		19-Mar-14	1	130.00	130.00	Administration	Filing	Corporate - Liquidation
Brittany Newman	Administration 1	19-14	'	130.00	100.00	Autoniauauon	Correspondence with Zoran regarding U-own storage BAS for period controlled by FIT. Multiple	
Benjamin Robson	Associate II	19-Mar-14	0.5	235.00	117.50	Administration	emails and calls	Written Off/Not claimed Category 2 -
John Corbett	Managing Dir	20-Mar-14	0.5	550.00	275.00	Administration	Dealing with / review of various correspondance Email nom and message to Asmey uplacy refreesreview involchignees, into to ook remivolcedoc	Approved/Paid
Kelly-Anne Trenfield	Sr Managing Dir	20-Mar-14	1.1	590.00	649.00	Administration	discussion re status fo funds/staffing/MIFGOK re invoicing/indemnity claimsemails in re insurance; meeting times to RCLReview incoming documentation, consider and send to filingReview and update to do list; query outstanding items	Category 2 - Approved/Paid Category 2 -
Leo Guthrie	Consultant I	20-Mar-14	0.2	130.00	26.00	Administration	Banking	Approved/Paid
		20-Mar-14		545.00	.	Administration	Note from Kelly, review LMIM cops and rem breakdown, allocation of intercompany invokes and prep for invoice, instructions to Stuart, discussions with Kelly.	Corporate - Liquidation
Glenn O'Kearney	Senior Director		0.2	130.00		Administration	Receipt voucher, Posting receipt & getting cheque ready to bank	Corporate - Liquidation
Joan Springate	Administration	20-Mar-14	0.2	545.00	109.00		Ben re cash at bank / MYOB entry issues	Corporate - Liquidation
Christine Stead	Senior Director	20-Mar-14	0.2					Category 2 - Approved/Paid
John Corbett	Managing Dir	21-Mar-14	0.5	550.00		- tarrienou delori	Dealing with / review of various correspondance	Corporate - Liquidation
Glenn O'Kearney	Senior Director	21-Mar-14	0.1	545.00			Review bank réconciliations	Corporate - Liquidation
Brittany Newman	Administration 1	21-Mar-14	0.1	130.00	13.00	Administration	Mail in from The Trust Company - Tax Invoice PM0006746 Arranged tor GDM to sign documents regarding Retirement Village Residents Agreements pertaining	
Marushka Flynn	Administration	24-Mar-14	0.3	130.00	39.00		to Unit 85 / Carter & copied signed pages for file	Corporate - Liquidation
	Senior Managing Director	24-Mar-14	0.1	590.00	59.00	Administration	Review and approve request for proforma invoice/draft bill/finalised billing and payment x 3	Corporate - Liquidation
	Administration 1	24-Mar-14	0.1	130.00	13.00	Administration	Split files + filing	Corporate - Liquidation
	Senior Director	24-Mar-14	1	545.00	545.00		Review and reconcile cops and rem for drawings to 30 June. Able to SAC with instructions on drawings, for mpf and Imim corp drawings. Dratting and preparing WIP/ODPS invoice request. Discussions with GOK, Email MP regarding	Corporate - Liquidation
							Dratting and presaring MURALINES INVOICE REQUEST DUSCUSSIONS WITH LAURE FINALINE (20070100	

LM investment M Remuneration to	anagement Ltd (In Liqui 30 June 2018	dation)			3,204,515.29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
							preserved in March 2013. Server data extraction from forensics image, and using VMware mounting utility to mount specific vmdk server files (LM-BRIS-DC-01, LMGCMSSQL01 and LMGCPORTDC01	
Patrick Ma	Director	25-Mar-14	1.4	350.00	490.00	Assets	in questions. Provide successful mounted results with screenshots provided on email response to Korda Mentha.	Category 2 - Approved/Paid
Kelly-Anne Trenfield	Sr Managing Dir	25-Mar-14	1.8	590.00	1,062.00	Assets	Meeting with Clayton Luiz and KM re potential scheme of arrangement to cover insurance claims within all funds and corporate	Category 2 - Approved/Paid
				590.00	354.00	-	Review indemnity claim and update to JRP/DJB re mailesons costs Discuss Sop and funding with IGOK	Category 2 - Approved/Paid
Kelly-Anne Trenfield	Sr Managing Dir	25-Mar-14	0.6	590.00	334.00	Administration		Category 2 -
Sally McBryde	Managing Dir	25-Mar-14	0.1	550.00	55.00	Administration	Letter from Robert Tassell of Pikes & Verekers re Austcorp legal action update Follow up outstanding payments from LM with Irene Caling regarding operational costs and	Approved/Paid Category 2 -
Benjamin Robson	Consultant I	25-Mar-14	0.2	235.00	47.00	Creditors	management fees	Approved/Paid
Renee Lobb	Senior Director	25-Mar-14	1.9	485.00	921.50	Investigations	Meeting with Minter Ellison, Clayton Utz and KordaMentha regarding potential scheme of arrangement.	Category 2 - Approved/Paid
Joan Springate	Administration	25-Mar-14	0.1	130.00	13.00	Administration	Receipt voucher & posting receipt	Corporate - Liquidation
Brittany Newman	Administration 1	25-Mar-14	0.2	130.00	26.00	Administration	Filing	Corporate - Liquidation
Glenn O'Keamey	Senior Director	25-Mar-14	0.5	545.00	272.50	Administration	Review invoice in draft and sign off, discussions with Kelly regarding review and reconcile of russells time to be borne by LMIM corporate entity, review register and initial notes for renonciation.	Corporate - Liquidation
Stuart Clancy	Manager 1	25-Mar-14	0.2	345.00	69.00	Administration	Follow up MF and arranging for finalisation of invoice of fees	Corporate - Liquidation
Stuart Clancy	Manager 1	25-Mar-14	0.2	345.00	69.00	Administration	Amendments and following up WIP/OOPS invoices	Corporate - Liquidation
Glenn O'Keamey	Senior Director	26-Mar-14	0.1	545.00	54.50	Administration	Review status of file and update new master file review sheet.	Corporate - Liquidation
Sally McBryde	Managing Dir	27-Mar-14	0.1		55.00	Trade-on	Email from Blue Broking re insurance for office nsk, review policies, emails to GOK to discuss payment arrangements, respond to AGT	Category 2 - Approved/Paid
Britlany Newman	Administration 1	27-Mar-14	0.1	130.00	13.00	Administration	Prepare receipt voucher in MYOB for BAS Refund (1 Oct - 31 Dec 2013)	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	27-Mar-14	0.1	590.00	59.00	Administration	Review and approve request for proforma invoice/draft bill/finalised billing and payment - x 3 re group	Corporate - Liquidation
Stuart Clancy	Manager 1	27-Mar-14	0.3	345.00	103.50	Administration	Follow up MF regarding WIP/OOPS invoices. Prepared banking vouchers. Discussion with GOK.	Corporate - Liquidation
Joan Springate	Administration	27-Mar-14	0.4	130.00	52.00	Administration	Setting up Online payment & posting payment	Corporate - Liquidation
Glenn O'Kearney	Senior Director	27-Mar-14	1.5	545.00	817.50	Assets	Review accounts/reconcile; update SOP, reconcile Russells invoice across all endies and runos regarding funding to be provided, reconcile payments/funding for further discussions, time split across LMIM and main funds.	Corporate - Liquidation
					447.50	Creditors	Miscellaneous LM payment approval batches - Commbizz distributions not recorded in register but approved and filed in records	Category 2 - Approved/Paid
Benjamin Robson	Consultant i	28-Mar-14	0.5	235.00			Consultant the register update and reconcilation - monthly update and request for payment confirmations	Category 2 - Approved/Paid
Benjamin Robson	Consultant I	28-Mar-14	0.5 0.1	235.00	117.50	Creditors Administration	Mail in from ATO - BAS (1 Jan - 31 Mar 2014) + update GC BAS spreadsheet	Corporate - Liquidation
Brittany Newman	Administration 1	28-Mar-14	0.1	130.00		Creditors	Add creditor to MYOB + enter POD (AECOM Australia Pty Ltd)	Corporate - Liquidation
Brittany Newman	Administration 1	28-Mar-14 28-Mar-14	0.1	130.00	13.00	Administration	Receipt voucher & posting receipt	Corporate - Liquidation
Ioan Springate	Administration	28-Mar-14	0.1	130.00	13.00	Administration	Receipt voucher & posting receipt	Corporate - Liquidation
loan Springate	Administration Senior Director	28-Mar-14	0.1	545.00		Assets	Review and approve receipt voucher. gst refunds	Corporate - Liquidation
Blenn O'Kearney		31-Mar-14	0.1	235.00	23.50		Check accounts for Payments form LM	Category 2 - Approved/Paid
Benjamin Robson		31-Mar-14	0.1	235.00		Creditors	Enter PKF invoice into Consultants fee register	Category 2 - Approved/Paid
Benjamin Robson	Consultant I		0.1	235.00	47.00		Discuss LM payment procedures with RFZ	Category 2 - Approved/Paid
Benjamin Robson	Consultant 1	31-Mar-14	0.2	545.00			Discuss invoicing wip data for LMIM funds with CMA.	Category 2 - Approved/Paid
Blenn O'Kearney	Senior Director	31-Mar-14					emails in re funding/legal costs	Category 2 - Approved/Paid
elly-Anne Trenfield	Sr Managing Dir	31-Mar-14	0.1	590.00	59.00	Norministration		· · · ·

	anagement Ltd (In Liqui	dation)						
Remuneration to 3 Name		Date	Hours	Charge Out Rate	3,204,515,29 Charge	Task Desc	Narrative	Classification
Damian Bender	CONSULTANT	31-Mar-14	1.3	550.00	715.00	Administration	Fee issue / Russells / KWM pro rata discussions	Category 2 - Approved/Paid
Glenn O'Keamev	Senior Director	31-Mar-14	0.1	545.00	54.50		Review and discuss file status with POC - discuss overseas entities shareholdings.	Corporate - Liquidation
Glenn O'Keamey	Senior Director	31-Mar-14	0.1	545.00	54.50		Review pod in.	Corporate - Liquidation
Stuart Clancy	Manager 1	31-Mar-14	0.1	345.00	69.00		File review with GOK regarding tasks completed and future tasks to complete.	Corporate - Liquidation
Stuart Clancy	Manager 1	31-Mar-14	0.2	345.00	69.00	Administration	Reviewed MYOB and bank account regarding payment of WIP/OOPS invoice. Update email to GOK.	Corporate - Liquidation
Brittany Newman	Administration 1	31-Mar-14	0.1	130.00	13.00	Administration	Filing	Corporate - Liquidation
Benjamin Robson	Consultant (01-Apr-14	0.2	270.00	54.00	Creditors	Prepare and send to LM Russells invoice B16909 and supporting FUM split	Category 2 - Approved/Paid
							Correspondence from saily regarding insurance matters. Discussions with john Kennedy regarding insurance for LMA and fund operations, note to John, note in from blur broking confirmation status.	Category 2 - Approved/Paid
Glenn O'Kearney	Senior Director	01-Apr-14	0.3	560.00	168.00	Assets	Payment to create a Webster regarding Yearly fees	Corporate - Liquidation
Benjamin Robson	Associate II	01-Apr-14	0.2	270.00	54.00	Creditors	Prepare costs details; JRP re involcing reany loss	Corporato - Elgaldellos
Kelly-Anne Trenfield	Senior Managing Director	01-Apr-14	1.3	600.00	780.00	Administration	DJB re status of compromise with Mallesons	Corporate - Liquidation
Stuart Clancy	Manager 1	01-Apr-14	0.2	360.00	72.00	Administration	Reviewed outstanding invoice received from TR and memo to BJR to pay.	Corporate - Liquidation
Glenn O'Kearney	Seniar Director	01-Apr-14	0.2	560.00	112.00	Creditors	Review senis note in regarding accounts , hore to SAC regarding cancel, note to kelly regarding allocation of funds for creditors. Receive review and record Russells Invoice B17205 including Books and Records FUM split from	Corporate - Liquidation Category 2 -
Benjamin Robson	Consultant 1	02-Apr-14	0.4	270.00	108.00	Creditors	Feb EOM figures	Approved/Paid
Kelly-Anne Trenfield	Senior Managing Director	02-Apr-14	0.6	600.00	360.00	Administration	Reveiw statement of position and allocation of recovery/costsCall in from GOK re legals and sop	Corporate - Liquidation
							Reconcile Russen scatements, comments to keny and Asmey regarding account a mormation required, discussions with Kelly regarding sop and legal cost reconciliation for discussions on payments to be made, notes, work on schedules, review updated invoices in form russells and have	Comonia Linuidation
Glenn O'Kearney	Senior Director	02-Apr-14	1	560.00	560.00	Administration	BJR add to sch.	Corporate - Liquidation
Stuart Clancy	Manager 1	02-Apr-14	0.2	360.00	72.00	Creditors	Responding to various creditor queries.	Corporate - Liquidation
Carly Drew	Admin #	03-Apr-14	0.3	175.00	52.50	Administration	Witnessed KAT signature on contract docs for RFZ;arranged for express post of originals to Tony Bee @ LM;RFZ requested a chase up on docs, chased up intrays and emailed KAT for whereabouts	Category 2 - Approved/Paid
Benjamin Robson	Associate II	03-Apr-14	0.2	270.00	54.00	Administration	Draft Letter to White Pages requesting cancellation of service	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	03-Apr-14	0.1	600.00	60.00	Administration	review fee position and request changes	Corporate - Liquidation
Stuart Clancy	Manager 1	03-Apr-14	0.4	360.00	144.00	Administration	Meeting with GOK and discussions about tracking tees and consultancy invoices. Creating excel tee tracking spreadsheet.	Corporate - Liquidation
	Senior Director	03-Apr-14	2.3	560.00	1,288.00	Administration	Sit down with Sitian Clancy to discuss Living Structurent acking or drawings, COP Streconclination required, work through examples with Stuart Clancy, note to Stuart Clancy and rlobb regarding same, update SOP to EOM 31 /3 review bank accounts etc and update numbers to reflect current position. consider reconciliation of avail cash LMIM	Corporate - Liquidation
Glenn O'Kearney	Senior Director	03-Api-14	2.3		1,200.00	Administration	Preparation of LM Payment approval batches for signing by RFZ and return batches to Zoran and	Category 2 -
Benjamin Robson	Consultant I	04-Apr-14	0.5	270.00	135.00	Creditors	irene Review emails from Blue Broking re P1 insurance renewal, review proposal forms, discuss with GOK,	Approved/Paid Category 2 -
Sally McBryde	Managing Dir	04-Apr-14	0.2	570.00	114.00	Trade-on	call John Denehy of Blue Broking re same	Approved/Paid
Brittany Newman	Administration 1	04-Apr-14	0.1	135.00	13.50	Administration	Split files + filing	Corporate - Liquidation
Brittany Newman	Administration 1	04-Apr-14	0.1	135.00	13.50	/ summinuu du du du	Amend 89741105 & 89741106	Corporate - Liquidation
elly-Anne Trenfield	Senior Managing Director	04-Apr-14	0.1	600.00	60.00		DJB re discussions with solicitor re split and recovery of costs	Corporate - Liquidation
ndrew Weatherley	Managing Director	04-Apr-14	1.1	560.00	616.00	Administration	Discuss s533(2) report with James Court and KATGo through report in detail Discuss needs for supp report with ABW and areas to complete. Review reasoning behind	Corporate - Liquidation
	Director 1	04-Apr-14	1.5	510.00	765.00	Investigations	recommendations Reviewing email from GUK regarding amendments to timesheets of lan Morton. Prepared reviewed	Corporate - Liquidation
ames Court								
ames Court Stuart Clancy	Manager 1	04-Apr-14	0.3	360.00	108.00	Administration	We transfer form. Email to Brisbane office to get signed. Reviewing email correspondence and email to Snaron Dulty regarding cancellation of Sensis White	Corporate - Liquidation

	anagement Ltd (In Liqui	dation)						
Remuneration to : Name		Date	Hours	Charge Out Rate	3,204,515.29 Charge	Task Desc	Narrative	Classification
Stuart Clancy	Manager 1	04-Apr-14	0.8		288.00	1	Creating excel summary spreadsheet of WIP drawn to date. Email to Tracey regarding consultancy and intercompany invoices.	Corporate - Liquidation
Joan Springate	Administration	04-Apr-14	0.3	175.00	52.50	Administration	Setting up Online payment & posting payment	Corporate - Liquidation
Glenn O'Kearney	Seniar Director	04-Apr-14	4.2	560.00	2,352.00		numbers regarding MPF settlement with update invoices form consultants. recorder prepare updated numbers regarding MPF settlement with update invoices form consultants, recording SOP with MPF settlement and prepare summary of LMIK corporate allocations/settlements .note to Kelly summarizing, review REM tracking sheet Stuart Clancy, review letter and sign off regarding cancellation of cred account.	Corporate - Liquidation
Danag Labb	Service Director	07-Apr-14	0.2	510.00	102.00	Trade-on	Respond to numerous ACI queries for Ginette Muller, provide commentary on appropriate parties to provide answers.	Category 2 - Approved/Paid
Renee Labb	Senior Director	07-Api-14	0.2	510.00	102.00	(1205-011		Category 2 -
Benjamin Robson	Consultant I	07-Apr-14	0.2	270.00	54.00	Creditors	Correspondence with Zoran regarding outstanding LM Payment batches	Approved/Paid
		1					GOK re LM funding and payment to Russell'semail in from Aci and add commentary and request	Category 2 - Approved/Paid
Kelly-Anne Trenfield	Sr Managing Dir	07-Apr-14	0.3	600.00	180.00	Administration	response	Category 2 -
John Park	Sr Managing Dir	07-Apr-14	0.5	600.00	300.00	Administration	Email in from ACI. Review status of queries. Send letter to M7N and Trilogy	Approved/Paid
JUNIFAIN	or wanaging ox	01740714					Contracts witnessed KAT signature; Return docs to Shelley @ LM via Express post; Prepared Final	Category 2 -
Carly Drew	Admin II	07-Apr-14	0.2	175.00	35.00	Assets	Letter for GOK, scan & email to GOK	Approved/Paid
Benjamin Robson	Associate II	07-Apr-14	0.1	270.00	27.00	Creditors	Pay counsel fees portion of Invoice 16380	Corporate - Liquidation
Benjamin Robson	Associate II	07-Apr-14	0.1	270.00	27.00	Creditors	Pay counsel fees portion of Invoice 16657	Corporate - Liquidation
Benjamin Robson	Associate II	07-Apr-14	0.2	270.00	54.00	Creditors	Pay counsel fees portion of Invoice 16527	Corporate - Liquidation
Benjamin Robson	Associate II	07-Apr-14	0.2	270.00	54.00	Creditors	Pay counsel fees portion of Invoice 16845	Corporate - Liquidation
Benjamin Robson	Associate II	07-Apr-14	0.2	270.00	54.00	Creditors	Pay counsel fees portion of Invoice 17264	Corporate - Liquidation
	Administration 1	07-Apr-14	0.1	135.00	13.50	Administration	Mail out to White Pages Directories - 8974/107	Corporate - Liquidation
Brittany Newman		07-Apr-14	0.1	135.00	54.00	Administration	Enter missing transactions in MYOB & reconcite accounts as at 31/03/2014	Corporate - Liquidation
Brittany Newman	Administration 1		0.4	135.00	17.50	Administration	Banking	Corporate - Liquidation
Joan Springate	Administration	07-Apr-14					Supp 533 report	Corporate - Liquidation
James Court	Director 1	07-Apr-14	1	510.00	510.00	Investigations	Email to TR regarding payment of outstanding invoice- Create a Website.	Corporate - Liquidation
Stuart Clancy	Manager 1	07-Apr-14	0.1	360.00	36.00	Administration Assets	Cancer with regranding payment of outstanding immoving and cancer. To the worpoated numbers, analoge payments to Russell for disbursements - reconcile oops/coursel portions, liaise with Ashley regarding payments, review and sign off on payment requests, note from Norton rose - reply to PS and note to BJR regarding payment NR	
Glenn O'Kearney	Senior Director	07-Apr-14	1	00.006		1433613	Do comprehensive response to ACT email and request component regarding calculation of Alf-	<u> </u>
							distribution from John Corbett and RFZ. Follow up both David Whyte and Jarrod Villani regarding their	Category 2
Renee Lobb	Senior Director	08-Apr-14	0.08	510.00	42.57	Trade-on	intentions with regards to a joint approach to claim on the insurance policies.	Approved/Paid
······································] [distribution from John Corbett and RFZ. Follow up both David Whyte and Jarrod Villani regarding their	Category 2 -
Renee Lobb	Senior Director	08-Apr-14	0.42	510.00	212.43	Trade-on	intentions with regards to a joint approach to claim on the insurance policies.	Approved/Unpaid
								Category 2 - Approved/Unpaid
Ryan Zorgdrager	Senior Director	08-Apr-14	0.5	560.00	280.00	Administration	Prepare funds summary for KAT	
Britlany Newman	Administration 1	08-Apr-14	0.2	135.00	27.00	Administration	Filing	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	08-Apr-14	0.4	600.00	240.00	Administration	To do list; review status of funds and approach to finalisation; request fund summary from RFZ	Corporate - Liquidation
Benjamin Robson	Associate II	08-Apr-14	0.5	270.00	135.00	Administration	File update and review, filing of various documents and update to soft copy servers	Corporate - Liquidation
Benjamin Robson	Associate II	08-Apr-14	0.3	270.00	81.00	Employees	Initial review of staff redundancy calculations in response to FEG request	Corporate - Liquidation
Gienn O'Keamey	Senior Director	06-Apr-14	0.6	560.00	336.00		Review payment rvk, discuss with core and amend register, discussions Ashiev ite limiting of payments etc. note to Kelly regarding SOP and avail assets, update to sop and comments to Stuart Clancy regarding overseas entity.	Corporate - Liquidation
Benjamin Robson	Consultant I	09-Apr-14	0.2	270.00	54.00	Creditors	LM IM Operational costs for month of March - R&P lists created. No Op costs Review and approve payment of outstanding administration liabilities including review of supporting	Category 2 - Approved/Unpaid Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	09-Apr-14	0.1	600.00	60.00	Administration	Review and approve payment of outstanding administration reading review of depending documentation and signing of transfer or cheque	Approved/Unpaid

	nagement Ltd (In Liqui 0.1une 2019	dation)			3,204,515.29			
Remuneration to 3 Name	Title	Date	Hours	Charge Out Rate		Task Desc	Narrative	Classification
Carly Drew	Admin II	09-Apr-14	0.3	175.00	52.50	Assets	Contracts witnessed JRP/KAT signatures, sent to Shelley @ LM	Category 2 - Approved/Unpaid
Benjamin Robson	Associate II	09-Apr-14	0.2	270.00	54.00	Administration	Ring and advise create a Webster of payment dates of invoices	Corporate - Liquidation
Benjamin Robson	Associate II	09-Apr-14	0.2	270.00	54.00	Creditors	Update consultants fee register with payent confirmations made form LMIM main account	Corporate - Liquidation
Benjamin Robson	Associate II	09-Apr-14	0.2	270.00	54.00	Creditors	Review and approval of various receipts and payments vouchers for filing	Corporate - Liquidation
Benjamin Robson	Associate II	09-Apr-14	0.2	270.00	54.00	Employees	Perusal email from FEG regarding claim from 3 LM employees for emp. entitlements	Corporate - Liquidation
Joan Springate	Administration	09-Apr-14	0.3	175.00	52,50	Administration	Setting up Online payment & posting payment	Corporate - Liquidation
James Court	Director 1	09-Apr-14	1	510.00	510.00	Investigations	Further preparation of supplementary report to creditors	Corporate - Liquidation
John Park	Senior Managing Director	09-Apr-14	0.2	600.00	120.00	Administration	Review and sign documents for Tall Trees	Written Off/Not claimed
Christine Stead	Senior Director	09-Apr-14	2.5	560.00	1,400.00	Administration	review and approve payment to NRprepare LM feesassist JS with MYOB LM issueLMTRC GOK	Corporate - Liquidation
Stuarl Clancy	Manager 1	09-Apr-14	0.1	360.00	36.00	Administration	Email to Chiman regarding transfer of time entries lan Morton.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	09-Apr-14	0.2	560.00	112.00	Administration	Discuss account reconcillation issues with CMATreview MYOB, query to BJR regarding allen s payments.	Corporate - Liquidation
								Category 2 -
Brittany Newman	Admin I	10-Apr-14	0.1	135.00	13.50	Administration	30 Mar 14	Approved/Unpaid Category 2 -
Ryan Zorgdrager	Senior Director	10-Apr-14	0.5	560.00	280.00	Administration	Review audit position in respect to remaining funds	Approved/Unpaid
							Review PI proposal document, call with John Denehy restatus and income, call to GOK to discuss	Category 2 -
Sally McBryde	Managing Dir	10-Apr-14	0.5	570.00	285.00	Administration	further Review sop and request changespok re sop and payment to solicitors Mail inemail in from David	Approved/Unpaid Category 2 -
Kelly-Anne Trentield	Sr Managing Dir	10-Apr-14	0.4	600.00	240.00	Administration	Whyte; discussion with RCL re next steps	Approved/Unpaid
Christine Stead	Senior Director	10-Apr-14	0.1	560.00	56.00	Administration	review email in from Patrick	Corporate - Liquidation
		1 (<u>)</u>					Discussions with Keny regarding updated numbers with MPF spill, conate registers and reconcile	
Olana Olikaaman	Senior Director	10-Apr-14	3.3	560.00	1,848.00	Accets	numbers - prepare 3 way split of SOP, note to Kelly, note to BJR, reconciliation of funds available to satisfy costs.	Corporate - Liquidation
Glenn O'Keamey	Senior Director	10-9401-14	3.3	300.00	1,040.00	739619		Category 2
Brittany Newman	Admin I	11-Apr-14	0.1	135.00	13.50	Administration	Mail in from ASIC - Invoice Statement 5 April 2014	Approved/Unpaid
Sally McBryde	Managing Director	11-Apr-14	0.2	570.00	114.00	Employees	Email from FEG re employee entitlements, review file and provide details to BJR	Corporate - Liquidation
James Court	Director 1	11-Apr-14	1.2	510.00	612.00	Investigations	Preparation of Supp 533 report Review or FEG ventication spread sneet for Tracey Brant, David Harman and Michael Skeggs -	Corporate - Liquidation
Benjamin Robson	Associate II	11-Apr-14	0.6	270.00	162.00	Employees	Discussion with SAM regarding employment of Brant and Harman - not employed by LMIM.	Corporate - Liquidation
Benjamin Robson	Associate II	11-Apr-14	0.2	270.00	54.00	Employees	Email to FEG regarding employee entitlement claims	Corporate - Liquidation
a fort Batana	A I _ I	44.644	0.5	270.00	135.00	Creditors	Go through all Russells involces for LMIM Corp and list dispursements for each as per Glenn O'Kearney instruction	Corporate - Liquidation
Benjamin Robson	Associate II	11-Apr-14 11-Apr-14	0.5	360.00	108.00	Administration	Emails and phone calls to Tracey regarding inter company invoices etc.	Corporate - Liquidation
Stuart Clancy	Manager 1		0.3	360.00	72.00	Creditors	Email to creditors regarding update on liquidation to date.	Corporate - Liquidation
Stuart Clancy	Manager 1	11-Apr-14	0.2	300.00	12.00	Creditora	correspondence with Keny regarding sop split consider reconciliation and position statement and	
Glenn O'Kearney	Senior Director	11-Apr-14	0.5	560.00	280.00	Assets	amendments to be made, forward release authority to Russell, correspondence with BJR regarding amendments to réconciliation consultants.	Corporate - Liquidation
							Review email regarding ACI response. File same after responding to Kelly-Anne Trenfield.	Category 2 - Approved/Unpaid
Renee Lobb	Senior Director	14-Apr-14	0.1	510.00	51.00	Trade-on	Treasure entrem regention of responses of the entry respectation of the result of the	Category 2 -
Renee Lobb	Senior Director	14-Apr-14	0.1	510.00	51.00	Trade-on	Send database update to LM Investment Management Ltd staff.	Approved/Unpaid Category 2 -
rittany Newman	Admin I	14-Apr-14	0.4	135.00	54.00	Administration	Call to ASIC to request copies of documents listed on Invoice Statement. Prepare 8974fn52.	Approved/Unpaid Category 2 -
enjamin Robson	Consultant !	14-Apr-14	0.3	270.00	81.00		General updates to consultant fee register and LM funds register	Approved/Unpaid
elly-Anne Trenfield	Sr Managing Dir	14-Apr-14	0.2	600.00	120.00	Administration	re legal feescall in from GOK re sop/asic	Category 2 - Approved/Unpaid
	Senior Director	14-Apr-14	0.2	560.00				Category 2 - Approved/Unpaid
viai o isoan (6y		i - Ahi-i -	10. E	000.00	112.00			

ALC: NOT STOLEN AND ALC: AND A	anagement Ltd (In Liquid	dation)						
Remuneration to Name		Date	Hours	Charge Out Rate	3,204,515.29 Charge	Task Desc	Narrative	Classification
					Ounder		Discussion with Grenn Orkeamey and SAM regarding procedure for FEG distributions for employee	
Benjarnin Robson	Associate II	14-Apr-14	0.2	270.00		Employees	claims - no funds	Corporate - Liquidatio
Stuart Clancy	Manager 1	14-Apr-14	0.1	360.00	36.00		File review with GOK.	Corporate - Liquidatio
Stuart Clancy	Manager 1	14-Арг-14	0.2	360.00	72.00		Email to JS regarding TFN on company's bank accounts.	Corporate - Liquidatio
Kelly-Anne Trenfield	Senior Managing Director	14-Apr-14	0.1	600.00	60.00		Review fee position - review status of approval and drawings to date	Corporate - Liquidatio
Christine Stead	Senior Director	14-Apr-14	0.1	560.00	56.00		review emails in/out from KAT and Patrick re new fee invoice	Corporate - Liquidatio
Christine Stead	Senior Director	14-Apr-14	0.5	560.00	280.00	Administration	amend incorrect entries in MYOB and explain to BJR	Corporate - Liquidatio
Glenn O'Kearney	Senior Director	14-Apr-14	0.1	560.00	56.00	Employees	Correspondence with sally and BJR regarding FEG issues can from ASIC regarding alpatross sale, the note, email in from ASIC and update to JRP and GDM.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	14-Apr-14	0.5	560.00	280.00	Assets	consider draft repsonse. Bank reconsing and repsonse. Bank reconsing and review of the construction of the payments bork. Discussions with	Corporate - Liquidatio
Glenn O'Keamey	Senior Director	14-Apr-14	3	560.00	1.680.00	Assets	Kelly regarding updated numbers with MPF split. collate registers etc. and reconcile numbers - prepare 3 way split of SOP, note to Kelly, note to BJR regarding cluts invoices.	Corporate - Liquidation
olonin o hodinoj								Category 2 -
Renee Lobb	Senior Director	15-Apr-14	0.2	510.00	102.00	Administration	Emails to GOK and Ben Robson regarding Clayton Utz and commitment to costs.	Approved/Unpaid Category 2 -
Renee Lobb	Senior Director	15-Apr-14	0.1	510.00	51.00	Assets	Call with Chris Erfurt at Clayton Utz regarding responses from KM on insurance.	Approved/Unpaid Category 2 -
Benjamin Robson	Consultant I	15-Apr-14	0.2	270.00	54.00	Creditors	Receive and review LM Payment batches and maintain funds payment register	Approved/Unpaid
Benjamin Robson	Consultant I	15-Apr-14	0.2	270.00	54.00	Administration	Update to consultants fee register and fund payment register	Category 2 - Approved/Unpaid
Kelly-Anne Trenfield	Sr Managing Dir	15-Apr-14	0.1	600.00	60.00	Administration	Review and approve payment of outstanding administration liabilities including review of supporting documentation and signing of transfer or cheque	Category 2 - Approved/Unpaid
Benjamin Robson	Associate II	15-Apr-14	0.2	270.00	54.00	Creditors	Update and reline consultants fee register	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	15-Apr-14	0.2	600.00	120.00	Administration	Review statement of position	Corporate - Liquidation
Joan Springate	Administration	15-Apr-14	0.3	175.00	52.50	Administration	Setting up Online payment & posting payment	Corporate - Liquidation
Christine Stead	Senior Director	15-Apr-14	0.3	560.00	168.00	Administration	review payment	Corporate - Liquidation
							Drait reply to ASIC regarding zo albatross sale, query know regarding Clayton uz work, review orait SOP form ASIC supp report and consider amendments, review Russell memo regarding costs.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	15-Apr-14	1.7	560.00	952.00	Assets	review schedules to reconcile to scr comments. note to Kelly.	Corporate - Elquidation
Benjamin Robson	Consultant I	16-Apr-14	0.4	270.00	108.00	Creditors	Receive and review various LM Payment batches for RFZ approval New ASIC Involce received summarising charges for document loagements: Reconcile Invoice with	Approved/Unpaid
							previous and create a spreadsheet of document lodgement's that have not been allocated to a fund.	Category 2 -
Benjamin Robson	Consultant I	16-Apr-14	0.7	270.00	189.00	Creditors	Request information on outstanding items from finance team at LM	Approved/Unpaid
Denjaman Kobsan							Consultants tee register complete review and update - ensure all nardcopy involces filed correctly and all copies of invoices paid recorded for all consultants	Corporate - Liquidation
Benjamin Robson	Associate II	16-Apr-14	2	270.00	540.00	Creditors		
James Court	Director 1	16-Apr-14	4.8	510.00		Investigations	Supplementary report to ASIC Peter Drake, review numerous folders and records for further evidence	Corporate - Liquidation Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	16-Apr-14	0.6	600.00	360.00	Administration	review sop and calcs re pays to solicitors and FT!	
Joan Springate	Administration	16-Apr-14	0.3	175.00	52.50	Administration	Setting up Online payment & posting payment Review and Pinause redef to ASIC and email to contact, reply in ASIC, review SOP preakdown to	Corporate - Liquidation
							MPF/legal discussions, amendments, collate information for meeting with JRP and Kelly regarding	
Gienn O'Keamey	Senior Director	16-Apr-14	1.5	560.00	840.00	Assels	cost payments etc. review supp report SOP and consider amendments etc.	Corporate - Liquidation
John Park	Senior Managing Director	17-Apr-14	0.4	600.00	240.00	Assets	Meeting with KAT/GOK on statement of position	Corporate - Liquidation
Brittany Newman	Administration 1	17-Apr-14	0.1	135.00	13.50	Administration	Mail out to Augustine Ochola, Australian Securities & Investments Commission - 8974[_ASIC	Corporate - Liquidation
Brittany Newman	Administration 1	17-Apr-14	0.3	135.00	40.50	Administration	Prepare BAS (1 Jan - 31 Mar 2014)	Corporate - Liquidation
James Court	Director 1	17-Apr-14	3	510.00	1,530.00	Investigations	Supplementary report	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	17-Apr-14	0.3	600.00		Administration	GOK update - review sop and general file reviews	Corporate - Liquidation
	Senior Director	17-Apr-14	1.7	560.00	952.00	Assets	Travel time Brisbane. meeting with Kelly and JRP regarding rnpf cost split and legal costs .	Corporate - Liquidation

(

and a second	anagement Ltd (in Liqui	dation)			3.204.515.29	1990 - C.		
Remuneration to Name		Date	Hours	Charge Out Rate		Task Desc	Narrative	Classification
Glenn O'Keamey	Senior Director	17-Apr-14	l 1	560.00	560.00	Assets	invoices etc. update to Kelly.	Corporate - Liquidation
Renee Lobb	Senior Director	22-Apr-14	0,1	510.00	51.00	Trade-on	Review correspondence and scan and send to LM Investment Management Ltd to update address details in database	Category 2 - Approved/Unpaid
		22-Apr-14	1.1		660,00		Draft response to russells re costs queriesemails re payment of legals; discussions with jrp	Category 2 - Approved/Unpaid
Kelly-Anne Trenfield Kelly-Anne Trenfield	Sr Managing Dir Sr Managing Dir	22-Apr-14	0.1	600.00		Assets	emails re insurance issues	Category 2 - Approved/Unpaid
	Senior Director	22-Apr-14	0.3		168.00		Review and sign off on BAS and supporting worksheets .mar gtr.	Category 2 - Approved/Unpaid
Glenn O'Keamey Stuart Clancy	Manager 1	22-Apr-14	0.2		72.00		Reviewed email from Renee Lobb regarding PODS received. Arranged for PODS to be efficied into MYOB, reviewed PODS.	Corporate - Liquidation
Stuart Clancy	Manager 1	22-Apr-14	0.2		36.00		Follow up JS regarding LM TFN on bank accounts.	Corporate - Liquidation
Stuart Clancy	Manager 1	22-Apr-14	0.1		36.00		Reviewed LMIM BAS.	Corporate - Liquidation
John Park	Senior Managing Director	22-Apr-14	0.1		60.00	Administration	Doxa LM - Review and sign Form 524	Written Off/Not claimed
John Park	Senior Managing Director	22-Apr-14	0.6		360.00	Assets	Review and sign documents for Tall Trees. Review updated statement of position	Written Off/Not claimed
Benjamin Robson	Associate II	22-Apr-14	0.1	270.00	27.00	Creditors	Clayton Utz invoice 3807821 received and hard copy filed in register Mair our to ATO - BAS (1 Jan - 31 Mar 2014) DOC ID 28 751 751 581, enter lodgement details in	Corporate - Liquidation
Brittany Newman	Administration 1	22-Apr-14	0.1	135.00	13.50	Administration	Mini du to ATO - DAG (Total - 31 Mai 2017) DOG IS 25 75 7 07 001, Sing Regenter Comments	Corporate - Liquidation
Brittany Newman	Administration 1	22-Apr-14	0.4	135.00	54.00	Administration	Enter/Update Creditor details in MYOB, enter POD's x3 + scan/save supporting documents to MYOB	
Brittany Newman	Administration 1	22-Apr-14	0.1	135.00	13.50	Administration	Filing Carrirom Scott Michnent regarding cavili settlement, amendment to SOP humbers for KAT	Corporate - Liquidation
			_	570.00	500.00		discussions, follow up Stuart Clancy regarding Im account /tfn. call form DJB and discuss SOP/KWM settlement etc.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	22-Apr-14	1	560.00			Review various pods. MPF creds.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	22-Apr-14	0.1	560.00	56.00	Creditors	Work on supp report ASIC - sop section	Corporate - Liquidation
Glenn O'Kearney	Senior Director	22-Apr-14	1	560.00	560.00	Investigations		
Glenn O'Keamey	Senior Director	22-Apr-14	0.3	560.00	168.00	Assets	Review insurance queries sally, review previous data provided to brokers, correspondence with sally. Completing Pl insurance proposal forms, compiling information, discussion with GOK re income,	Corporate - Liquidation Category 2 -
Sally McBryde	Managing Dir	23-Apr-14	3.5	570.00	1,995.00	Trade-on	review previous proposals, call to John Denehy of Blue Broking GOK is MIF fee/indemnity claim and SOPemails is insurance; query status of KM response and	Approved/Unpaid Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	23-Apr-14	0.3	600.00	180.00	Assets	review timing of B&R request	Approved/Unpaid Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	23-Apr-14	0.2	600.00	120.00	Administration	Review rfz update re fundsemalls re legal fees and compromise of these	Approved/Unpaid Category 2 -
Ryan Zorgdrager	Senior Director	23-Apr-14	0.2	560.00	112.00	Administration	Conference with SAM RE managmeent services agreements for insurance renwal purposes.	Approved/Unpaid Category 2 -
Benjamin Robson	Consultant I	23-Apr-14	0.2	270.00	54.00	Creditors	Follow up LM regarding Operational cost invoice payments Review correspondence from saily, meet with saily to discuss insurance for RE, prepare numbers for	Approved/Unpaid Category 2 -
Glenn O'Keamey	Senior Director	23-Apr-14	1.2	560.00	672.00	Assets	Review correspondence from saily. There was saily to discuss insurance for RC, prepare numbers for insurance forms completed by saily.	Approved/Unpaid
Stuart Clancy	Manager 1	23-Apr-14	0.1	360.00	36.00	Administration	Email to JS regarding TFN on LM accounts.	Corporate - Liquidation
Stuart Clancy	Manager 1	23-Apr-14	0.1	360.00	36.00	Administration	Updating task list and control spreadsheet Review amended hard copy s533(2) supp report for P Drake, make notes, amendments and	Corporate - Liquidation
Andrew Weatherley	Managing Director	23-Apr-14	1.1	560.00	616.00	Administration	comments	Corporate - Liquidation
Carly Drew	Administration 2	23-Apr-14	0.2	175.00	35.00	Administration	2x contract buildies - checked JRP signed all pages, witnessed pages, arranged for express post return to LM	Corporate - Liquidation
Renee Lobb	Senior Director	23-Apr-14	0.2	510.00	102.00	Creditors	Review and respond to creditor enquiry and provide update.	Corporate - Liquidation
James Court	Director 1	23-Apr-14	4.8	510.00	2,448.00	Investigations	Supp report for ASIC section 533 Review incoming documentation, consider and send to filingReview and update to do list; query	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	23-Apr-14	0.1	600.00		Administration	outstanding items	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	23-Apr-14	0.1	600.00	60.00	Assets	Email in re 38 cavil joint venture and sign off of accounts; draft response to Gok re instructions	Corporate - Erquidation

	anagement Ltd (In Liqui	datión)						
Remuneration to Name		Date	Hours	Charge Out Rate	3,204,515.29 Charge	Task Desc	Narrative	Classification
			T				la la fini de la companya de la comp	Corporate - Liquidation
Brittany Newman	Administration 1	23-Apr-14	0.1	135.00	13.50	Administration	to JP and DJB regarding numbers, discussions with Kelly regarding numbers, prepare memo to JAC regarding supp report and commentary regarding assets, review note PKF regarding fin statements and tax return for 38 cavill, note to Kelly with recommendation regarding reply and reply to PKF. review MPF ruseells involces for copies of counsel portions for DJB review. Note to rusells requesting	
Glenn O'Kearney	Senior Director	23-Apr-14	1.6	560.00	896.00	Assets	copies. Review email response to David Whyte from Clayton Utz and on send, Follow up KordaMentha	Corporate - Liquidation Category 2 -
Renee Lobb	Senior Director	24-Apr-14	0.2	510.00	102.00	Investigations	regarding insurance progress.	Approved/Unpaid Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	24-Apr-14	0.1	600.00	60.00		emails in re sop and payment of legal costs	Approved/Unpaid
Andrew Weatherley	Managing Director	24-Apr-14	0.4	560.00	224.00	Administration	Discuss amendments of supp report (P Drake) with James Court	Corporate - Liquidation
Andrew Weatherley	Managing Director	24-Apr-14	0.1	560.00	56.00	Administration	James Court regarding Canadian entity update, and f/up required (for asset and supp report)	Corporate - Liquidation
James Court	Director 1	24-Apr-14	2	510.00	1,020.00	Investigations	Supp 533 report	Corporate - Liquidation
Ryan Zorgdrager	Director 2	24-Apr-14	0.5	560.00	280.00	Investigations	Email in from James Court with supliementary 533 queries. Review server and draft response.	Corporate - Liquidation
Matthew Glennon	Senior Director	24-Apr-14	0.2	510.00	102.00	Assets	Email from JAC, reviewed the last position on the deregistration of the Canadian entity. Email confirmation of the residual funds to JAC.	Corporate - Liquidation
Matthew Glennon	Senior Director	24-Apr-14	0.1	510.00	51.00	Assets	Email to Canadian Solicitor on the residual funds from the Canadian entity	Corporate - Liquidation
Renee Lobb	Senior Director	28-Apr-14	0.3	510.00	153.00	Trade-on	Review email from ACI. Raise with RFZ and provide commentary for response where able.	Category 2 - Approved/Unpaid Category 2 -
Christine Stead	Senior Director	28-Apr-14	0.1	560.00	56.00	Administration	review email in from KAT - Request from KM/PA for extension of time to provide B&R listing request Review appendices for supp -s533(2) report vs list, amend listReview hard copy amended supp	Approved/Unpaid
Andrew Weatherley	Managing Director	28-Apr-14	0.6	560.00	336.00	Administration	report for P DrakeSearch for other docs via LMIM website	Corporate - Liquidation
Andrew Weatherley	Managing Director	28-Apr-14	0.1	560.00	56.00	Administration	Review availability of older/other fin statements, discuss supp report with James Court	Corporate - Liquidation
Britiany Newman	Administration 1	28-Apr-14	0.1	135.00	13.50	Administration	Mail in from Australian Super - Correspondence; Your employee has chosen Australian Super Call and tollow up latter from Robble & Assoc regarding caveat, and subsequent email to Peter	Corporate - Liquidation
Brett Cottam	Director	28-Apr-14	0.4	510.00	204.00	Assets	McLeod.	Corporate - Liquidation Written Off/Not claimed
John Park	Senior Managing Director	28-Apr-14	1	600.00	600.00	Assets		
James Court	Director 1	28-Apr-14	1.9	510.00	969.00	Investigations	Finalise draft report regarding: Peter Drake Supp report	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	28-Apr-14	1.2	600.00	720.00	Administration	Review sop and calculations re payment of legal feesJRp discussion re likely paymentsReview and update to do list; query outstanding ItemsReview incoming documentation, consider and send to filing	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	28-Apr-14	0.3	600.00	180.00	Administration	Email in mom russell re compromise of costs; discuss same with JRPemail in from russells re request from KM re extension for data review/request; draft response	Corporate - Liquidation
Benjamin Robson	Consultant I	29-Apr-14	0.2	270.00	54.00	Creditors	Various LM Payment batches received and sent to RFZ for review	Category 2 - Approved/Unpaid Category 2 -
Brittany Newman	Admin i	29-Apr-14	0.1	135.00	13.50	Administration		Approved/Unpaid Category 2 -
Ryan Zorgdrager	Senior Director	29-Apr-14	1.2	560.00	672.00	Assets	agreements and applicable insurance. Liaise with Fiona surrounding same	Approved/Unpaid Category 2 -
Sally McBryde	Managing Dir	29-Apr-14	0.5	570.00	285.00	Trade-on	complete PI proposal documents	Approved/Unpaid Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	29-Apr-14	1.6	600.00	960.00	Administration	Meetuing with russelis to brankdum of best of a spin of processplaning to design a spin of the second spin o	Approved/Unpaid
Brett Cottam	Director	29-Apr-14	0.2	510.00		710000	caveat.	Corporate - Liquidation
John Park	Senior Managing Director	29-Apr-14	1.5	600.00	900.00			Corporate - Liquidation
Matthew Glennon	Senior Director	29-Apr-14	0.1	510.00	51.00	Assets	take can from ASIC regarding information required regarding an lunds and remuneration. Review	Corporate - Liquidation
Reneo Labb	Senior Director	30-Apr-14	0.3	510.00	153.00	Trade-on	subsequent email and respond to my sections. Copy in RFZ and GOK to assist in comprehensive	Category 2 - Approved/Unpaid

 \cap

	nagement Ltd (in Liqui	dation)			3,204,515.29	<i></i>		
Remuneration to 3 Name		Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Benjamin Robson	Consultant I	30-Apr-14	0.3	270.00	61.00	Creditors	Creditor LM Payment batches vanous actions - tollow up Zoran for supporting documents, Correspondence with Irene regarding FTI invoices and WIP ledgers	Category 2 - Approved/Unpaid
Benjamin Robson	Consultant I	30-Apr-14	0.2	270.00	54.00	Administration	Organizing payment batches and signatures for missing LM Payment batches fro Zoran and Irene Receive consecution in accreation concerning LMIM ress. Drart email to JRP, KAT, GDM	Category 2 - Approved/Unpaid
Ryan Zorgdrager	Director 2	30-Apr-14	0.1	560.00	56.00	Administration	and LDC	Corporate - Liquidation
James Court	Director 1	30-Apr-14	1.2	510.00	612.00	Investigations	Begin Supplementary report for ASIC Edhard Var Der Hoven	Corporate - Liquidation
John Park	Senior Managing Director	30-Apr-14	0.2	600.00	120.00	Assets	Review updated Statement of Position	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	30-Apr-14	1.2	600.00	720.00	Administration	Emails in nom russells re spill of funds from MPF settlementuiscuss approach with JRPmodel scenarios re spill of funds Email from CJM, considered the residual funds from the Cahadian entity, email to CUK and KAT re	Corporate - Liquidation
Matthew Glennon	Senior Director	30-Apr-14	0.2	510.00	102.00	Assets	the Canadian funds.	Corporate - Liquidation
Ryan Zorgdrager	Senior Director	01-May-14	0.4	560.00	224.00	Trade-on	Draft response to ASIC and forward to John COrbett and KAT for consideration	Approved/Unpaid Category 2 -
Ryan Zorgdrager	Senior Director	01-May-14	0.2	560.00	112.00	Trade-on	Draft email to team concerning legal advice on advisor commission payments. for finalisation of audit	Approved/Unpaid
Ryan Zorgdrager	Senior Director	01-May-14	0.3		168.00	Trade-on	Drait email to LM team concerning wind-down costs for each fund required to finalise auydit and prepare investor communications	Category 2 - Approved/Unpaid
Ryan Zorgdrager	Senior Director	01-May-14	0.2	560.00	112.00	Trade-on	Telephone in from Simon Tickner advising staff reductions at LM Correspondence from nz regarding costings required funds/investor updates, general updates on	Category 2 - Approved/Unpaid Category 2 -
Glenn O'Kearney	Senior Director	01-May-14	1.2	560.00	672.00	Assets	Correspondence from nz regarding costings required runds/investor updates, general updates on Investor matters/costs etc RFZ, discussions BJR, review op cost breakup and note to BJR.	Approved/Unpaid
Benjamin Robson	Consultant I	01-May-14	0.3	270.00	81.00	Creditors	Preparation of FUM split and payment request for DH Flinders invoice 14060	Approved/Unpaid Category 2 -
Benjamin Robson	Consultant I	01-May-14	0.2	270.00	54.00	Creditors	Payment of DH Flinders invoice	Approved/Unpaid Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	01-May-14	0.3	600.00	180.00	Administration	CAll in from GOK - discussion re LM indemnity position and settlement of legal costs	Approved/Unpaid
Christine Stead	Senior Director	01-May-14	0.2	560.00	112.00	Administration	discuss ASIC notice with KAT and email ABW and GOK	Category 2 - Approved/Unpaid
Glenn O'Kearney	Senior Director	01-May-14	0.7	560.00	392.00	Assets	Discussions Kelly regarding status of legal cost payments/reconciliation. discuss SOP updates. discuss KWM payment, approve payment KWM, follow up bcottam regarding cavill query. carcutation and payment or kwith invoices according to cost agreement, payment prepared less write	Corporate - Liquidation
Benjamin Robson	Associate II	01-May-14	0.4	270.00	108.00	Creditors	Calculation and payment of RVFW involces according to base difference, portion projecto a set of offs Review asic notice re share registry and discuss with CMA; call into peter schmidt re no assistance	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	01-May-14	0.1	600.00	60.00	Administration	Review and sign letter to Tucker and cowen to AFK article and responseemails in re Canadian	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	01-May-14	0.2	600.00	120.00	Assets	investment and requirement to hold on trust; details of TFNs	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	01-May-14	0.1	600.00	60.00	Administration	Dib re settlement with mallesons	Corporate - Liquidation
		04 May 44		360.00	216.00	Administration	Emails to TR and Lauren Donksy regarding LMIM invoices. Reviewing email from Lauren regarding LM invoices. Forwarding involces to GOK. Reviewed books and records listing as per CH email. email update to CH regarding books and records. Organising records to be returned from storage.	Corporate - Liquidation
Stuart Clancy	Manager 1	01-May-14 01-May-14	0.6	175.00		Administration	Setting up Online payment & posting payment	Corporate - Liquidation
Joan Springate	Administration						Meet with KWM7 infect with Russells re os outlaysreview all spreadsheets and w worksheets re outlays	Corporate - Liquidation
Damian Bender	Managing Director	01-May-14	4.2	600.00		Dividends Accets	Email from GOK re the equity from the shareholdings in the Canadian entity	Corporate - Liquidation
Matthew Glennon	Senior Director	01-May-14	0.1	510.00	51.00	Assets	Review email from KordaMentha regarding insurance process contribution. Send email to Kelly-Anne	Category 2 -
Renee Lobb	Senior Director	02-May-14	0.2	510.00	102.00	Investigations		Approved/Unpaid Category 2 -
Renee Lobb	Senior Director	02-May-14	0.1	510.00	51.00	Investigations	Review email from Mark Waller. Confirm okay to proceed with their suggested course of action.	Approved/Unpaid Category 2 -
Glenn O'Keamey	Senior Director	02-May-14	0.1	560.00	56.00	Assets	Review and sign off on compliance fee payments.	Approved/Unpaid

LM investment Ma Remuneration to	inagement Ltd (In Liqui 10 June 2018	dation)			3,204,515.29		영상(2014년 - 1975년 - 1951년) - 1977년 - 1977년 - 1977년 - 1977년 - 1977년 - 1977년 1987년 - 1975년 - 1977년 - 1977년 1987년 - 1978년 - 1977년 -	
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Kelly-Anne Trenfield	Sr Managing Dir	02-May-14	1.7	600.00	1.020.00	Administration	Review statement of position and available funds; draft proposal re split of funds; review flow of funds re distribution of Indemnity funds from funds	Category 2 - Approved/Unpaid
Renee Lobb	Senior Director	02-May-14	0.2	510.00	102.00		Respond to creditor enquiry regarding likeliness of dividend.	Corporate - Liquidation
Glenn O'Keamey	Seniar Director	02-May-14	0.1	560.00	56.00		Review bank reconciliations.	Corporate - Liquidation
John Park	Senior Managing Director	02-May-14	0.1	600.00	60.00		Email update in KAT	Corporate - Liquidation
Benjamin Robson	Associate II	02-May-14	0.1	270.00	27.00		Submission of receipt vouchers in MYOB	Corporate - Liquidation
Stuart Clancy	Manager 1	02-May-14	0.1	360.00	36.00		Updating file review list regarding outstanding matters and tasks to complete for file review with GOK.	Corporate - Liquidation
Christine Stead	Senior Director	02-May-14	0.1	560.00	56.00	Administration	review payment to KWM	Corporate - Liquidation
			5.1					Category 2 -
Renee Lobb	Senlor Director	05-May-14	0.2	510.00	102.00	Trade-on	Emails with Chris Erfurt regarding distribution of costs for insurance scheme proposal.	Approved/Unpaid
Kelly Anne Treefield	Ca Managing Dir	05-May-14	0.4	600.00	240.00	Administration	Draft proposal to russells re settlement of legal costs	Category 2 - Approved/Unpaid
Kelly-Anne Trenfield	Sr Managing Dir	00-10idy-14	0.4		240.00	Administration	LIVE Fayment information total summary spread sneet by fully completed as per KFZ request.	
							Inclusion of outstanding reimbursements by fund and operational costs by fund. Email to RFZ providing spreadsheet and supporting information. Discussion with RFZ regarding outstanding LM	Category 2 -
Beniamin Robson	Consultant I	05-May-14	2.3	270.00	621.00	Creditors	ASIC invoice charges not included	Approved/Unpaid
Berljamin Rubson		00-10189-14	2.0	210.00	021.00	O) Odito/d		Category 2 -
Ginette Muller	Sr Managing Dir	05-May-14	0.3	600.00	180.00	Administration	Execute LMIM Professional Indemnity Insurance, review and send to Sally McBryde to review.	Approved/Unpaid
John Park	Senior Managing Director	05-May-14	0.5	600.00	300.00	Assets	Review updated Statement of Position. Email in Stephen Russell	Corporate - Liquidation
Ioan Springate	Administration	05-May-14	0.1	175.00	17.50	Administration	Receipt voucher & posting receipt	Corporate - Liquidation
Joan Springate	Administration	05-May-14	0.3	175.00	52.50	Administration	Setting up Online payment & posting payment	Corporate - Liquidalion
Brittany Newman	Administration 1	05-May-14	0.2	135.00	27.00	Administration	Filing	Corporate - Liquidation
				000.00	70.00	ð skurislatur tir s	Email to TR and SAM regarding investigations into overseas and intercompany invoices or F11. Email to Lauren Donksy regarding same.	Corporate - Liquidation
Stuart Clancy	Manager 1	05-May-14	0.2	360.00	72.00	Administration		Category 2 -
Ryan Zorgdrager	Senior Director	06-May-14	0.6	560.00	336.00	Administration	Draft response to ASIC queries	Approved/Unpaid
,							ronow up to ourstanding parance in King a wood mailesons involces to irene, provide update to GOK on Payment on KWM invoice 1559980 and update register to reflect payment cost agreement of King	Category 2 -
		06-May-14	0.4	270.00	105.00	Creditors	& Wood Mallesons \$150 k payment	Approved/Unpaid
Benjamin Robson	Consultant I	00-iviay-14	0.4	210.00	100.00	Oreculors		Category 2 -
Christine Stead	Senior Director	06-May-14	0.2	560.00	112.00	Administration	Review B&R for share registery requested by ASIC	Approved/Unpaid
loan Springate	Administration	06-May-14	0.1	175.00	17.50	Administration	Receipt voucher & posting receipt	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	06-May-14	0.1	600.00	60.00	Administration	CMA re asic information request	Corporate - Liquidation
Stuart Clancy	Manager 1	06-May-14	0.1	360.00	36.00	Administration	Updating and maintaining task list of outstanding and future tasks to complete	Corporate - Liquidation
						A. A A. L P	Email correspondence with Tracey and Christine regarding oversea invoices and forwarding copies of invoices.	Corporate - Liquidation
Stuart Clancy	Manager 1	06-May-14	0.2	360.00		Administration	Investigate TT Mandurah ASIC lodgment query from Fiona Draney	Written Off/Not claimed
Senjamin Robson	Associate II	06-May-14	0.2	270.00	54.00	Administration	King & Wood Mallesons Invoice 1565112 entered into register and payment requested from LM	Corporate - Liquidation
Benjamin Robson	Associate II	06-May-14	0.2	270.00	54.00	Creditors	Update o Consultants tee register with multiple payment contirmations from Irene, primarily Russells	
Benjamin Robson	Associate II	06-May-14	0.4	270.00	108.00	Creditors	books and records invoices and King & Wood Mallesons outstanding payments	Corporate - Liquidation
Damian Bender	Managing Director	06-May-14	2.1	600.00	1,260.00	Assets	Review of asset positionworksheets re russellsreview park correspondence .	Corporate - Liquidation
aman bender	managing proton						receive and provide responses to emails to Grenn o kearney - concerning tond costs and controllership dates 2. Ben Robson - concerning LMIM controller late lodgement asic invoices Discuss .	
]		ł				fund apportionment of expenses with GOK. Review spreadsheet concerning costs of funds and wind-	Calegory 2 -
lyan Zorgdrager	Seniar Director	07-May-14	0.9	560.00	504.00	Trade-on	down costs.	Approved/Unpaid
yen en gandon						·	Review ASIC folders on server for documentation from ASIC, application for relief documentation.	Category 2 -
	Caulas Diseate-	07 14-11 44		560.00	896.00	Administration	Review ASIC folders on server for documentation from ASIC, application for relief documentation. Consider impact on audits. Draft email to FTI team on audit documentation and required ASIC notices	
yan Zorgdrager	Senior Director	07-May-14	1.6	560.00	090.00			Category 2 -
elly-Anne Trenfield	Sr Managing Dir	07-May-14	0.1	600.00	60.00	Administration	Emails in re mit indemnity and provision of information to MPF	Approved/Unpaid

EM investment M Remuneration to	anagement Ltd (In Liqui 20 June 2018	dation)			3,204,515.29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
	O due Director	07.14		560.00	260.00	Administration	Review coy register and mark up for SED to complete; discuss instructions with SED review and amend ASIC letter	Category 2 - Approved/Unpaid
Christine Stead	Senior Director	07-May-14	0.5	135.00	13.50		Bank reconciliation	Corporate - Liquidation
Megan Dopking	Administrative	07-May-14	0.1	135.00	13.50	Administration	Bank reconciliation	Corporate - Liquidation
Megan Dopking	Administrative	07-May-14	0.1	135.00	13.50	Administration	REZ email reg all ASIC honces for fund audits, search for ASIC honces in emails and save to H drive	
Andrew Weatherley	Managing Director	07-May-14	0.4	560.00	224.00	Administration	folders	Corporate - Liquidation
John Park	Senior Managing Director	07-May-14	0.1	600.00	60.00	Administration	Discussion with Stephen Russell	Corporate - Liquidation
Sarah Dwyer	Consultant I	07-May-14	1.1	250.00	275.00	Administration	Preparing documents to send to ASIC in regards to their request of share register information.	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	07-May-14	0.1	600.00	60.00	Administration	Review Incoming documentation, consider and send to tiling Review and update to do list; query outstanding items	Corporate - Liquidation
Stuart Clancy	Manager 1	07-May-14	0.2	360.00	72.00	Administration	Discussion with TR and CMA regarding inter company invoices and oversea invoices and obtaining copies.	Corporate - Liquidation
Christine Stead	Senior Director	07-May-14	0.2	560.00	112.00	Administration	See CH regarding OOPs charges from overseas offices regrew emails and gran regal advice concerning termination of terms of pusiness by advisors, emails	Corporate - Liquidation
							with Steve and Renee. Review advice from Norton Rose on the issue. Corresponde ceiwht John Corbett	Category 2 - Approved/Unpaid
Ryan Zorgdrager	Senior Director	08-May-14	1.3	560.00	/28.00	Trade-on	Review server for TOB agreements from investors / advisors. Emails with Renee Lobb concerning	Category 2 -
Ryan Zorgdrager	Senior Director	08-May-14	1.1	560.00	616.00	Administration	same	Approved/Unpaid
Renee Lobb	Senior Director	08-May-14	0.2	510.00	102.00	Investigations	Review emails in LMIM folder for terminations of adviser agreements and send to RFZ.	Category 2 - Approved/Unpaid
Brittany Newman	Administration 1	08-May-14	0.1	135.00	13,50	Administration	Prepare OOPS report for period 19/03/2014 to 08/05/2014 for SAC	Corporate - Liquidation
Sarah Dwyer	Consultant I	08-May-14	0.3	250.00	75.00	Administration	Returning folder to file and finalizing letter to ASIC regarding share information.	Corporate - Liquidation
Renee Lobb	Senior Director	08-May-14	0.2	510.00	102.00	Trade-On	Discussions with CMA regarding work in progress invoices required for inter office work in progress.	Corporate - Liquidation
Keliy-Anne Trenfield	Senior Managing Director	08-May-14	0.1	600.00	60.00	Administration	review draft correspondence to asic re notice requirements and provision of share registry information	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	08-May-14	0.3	600.00	180.00	Administration	fee/costs/cash summary to jrp	Corporate - Liquidation
	Contex managing Director						Discussion and email with CMA and GOK regarding OOPS intercompany and consultancy invoices. Assisting in creating excel spreadsheet outlining intercompany and consultancy invoices.	Corporate - Liquidation
Stuart Clancy	Manager 1	08-May-14	0.4	360.00		Administration	Email to BN requesting for copy of OOPS info from date of appointment to date	Corporate - Liquidation
Stuart Clancy	Manager 1	08-May-14	0.1	360.00	36.00	Administration	Endu to By requesting for copy of o'or a into nonn date of oppositionent to date	
Glenn O'Keamey	Senior Director	08-May-14	0.2	560.00	112.00	Administration	Note from CMA regarding cops charges, note to Stuart Clancy regarding questing info on charges.	Corporate - Liquidation
Christine Stead	Senior Director	08-May-14	0.9	560.00	504.00	Administration	PC from Stuart re invoices requiredreview ASIC docs and PC RFZ	Corporate - Liquidation
					100.03	A 1-	instructions to the Canadian Solicitor with respect to the payment of the equity from the Canadian entity	Corporate - Liquidation
Matthew Glennon	Senior Director	08-May-14	0.2	510.00	102.00	Assets	Reconcile OOPS charges for inter-company invoices and consumancy rees as converted to	
	Deeler Director	09-May-14	1.7	560.00	952.00	Administration	remuneration across fund codes, correspondence with Rlobb/CMA/patrick ma and SAC, note to Kelly, discussions and updates from CMA.	Category 2 - Approved/Unpaid
Slenn O'Kearney	Senior Director	03-Way-14	1.7				Correspondence with Zoran regarding payment of LM Fund payments and retirement of F11 over	Category 2 -
Benjamin Robson	Consultant I	09-May-14	0.2	270.00	54.00	Creditors	controllership funds	Approved/Unpaid Corporate - Liquidation
Sarah Dwyer	Consultant	09-May-14	0.1	250.00	25.00	Administration	Preparing archive box to be sent back to storage. Manually deliver documents relating to snares of LM Investment Management to the Australian	
Fanya Kratz	Administration 2	09-May-14	0.4	135.00	54.00	Administration	Securities and Investment Commission, and acquire receipt.	Corporate - Liquidation
John Park	Senior Managing Director	09-May-14	0.1	600.00	60.00	Assets	Review Statemetry of Position	Corporate - Liquidation
Glenn O'Kearney	Senior Director	09-May-14	0.2	560.00	112.00	Administration	Review status of file, discussions with PC, update TDL and tracking sheets, discuss file status Kelly.	Corporate - Liquidation
Christine Stead	Senior Director	09-May-14	0.6	560.00	336.00	Administration	emails in from GOK and RCL and respond	Corporate - Liquidation
Christine Stead	Senior Director	09-May-14	1.8	560.00	1,008.00	Administration	Review involces from LD for JC team and match invoices to schedule and provide update to GOK; review further invoices from AP team in HK and update email to GOK	Corporate - Liquidation
		12-May-14	1.8	560.00	·	·······	Compile list of ASIC correspondences, review ASIC correspondences for suitability. Draft email to team to confirm no other documents available	Category 2 - Approved/Unpaid
yan Zorgdrager	Senior Director	14-Widy*14	1.0	00.00	1,000.00			

Remuneration to 3					3,204,515.29			
Name.	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Kelly-Anne Trenfield	Sr Managing Dir	12-May-14	0.1	600.00	60.00	Administration	Discussion with JRP re funding position	Category 2 - Approved/Unpaid
Christine Stead	Senior Director	12-May-14	0.3	560.00	168.00	Administration	review register of ASIC docs from RFZ and respond to email in	Category 2 - Approved/Unpaid
Andrew Weatherlev	Managing Director	12-May-14	0.1		56.00	Administration	Review list of ASIC notices from RFZ, check dont hold others	Corporate - Liquidation
John Park	Senior Managing Director	12-May-14	0.5	600.00	300.00	Administration	Email in / out Stephen Russell. Review statement of position. Sign document for RFZ	Corporate - Liquidation
Glenn O'Keamey	Senior Director	12-May-14	0.2	560.00	112.00	Administration	Correspondence in from one regarding objectivoices, discuss reconculation of cops charges with Stuart Clancy.	Corporate - Liquidation
Stuart Clancy	Manager 1	12-May-14	0.2		72.00		Updating tasks list and file review with GOK.	Corporate - Liquidation
Renee Lobb	Senior Director	13-May-14	0.2	510.00	102,00	Trade-on	Answering queries regarding form 5138's and providing same to Kelly-Anne Trenfield and RFZ.	Category 2 - Approved/Unpaid
	During Director	40 14-14	0.1	510.00	51.00	Trade-on	Review and fwd change of adviser request to LM Investment Management Ltd staff for actioning,	Category 2 - Approved/Linpaid
Renee Lobb	Senior Director	13-May-14					Provide KAT with update on funds	Category 2 - Approved/Unpaid
Ryan Zorgdrager	Senior Director	13-May-14	0.2	560.00	112.00	Trade-on		Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	13-May-14	0.1	600.00	60.00	Administration	emails/update re indemnity claim and costs orders	Approved/Unpaid
John Park	Senior Managing Director	13-May-14	0.1	600.00	60.00	Administration	Review Russells email	Corporate - Liquidation
Glenn O'Kearney	Senior Director	13-May-14	0.3	560.00	168.00	Administration	Discuss OOPS reconciliation with CMA. note from Kelly regarding OOPS charges.	Corporate - Liquidation
Glenn O'Keamey	Senior Director	13-May-14	0.5	560.00	280.00	Administration	Review remultification entries in system-our obes for Linim non-nund chargeable matters. ; prepare renonciation spreadsheet to ensure correct allocation across funds and entities, review OOPS charge invoices and discuss with CMA.	Corporate - Liquidation
Stuart Clancy	Manager 1	13-May-14	0.0	360.00	36.00	Administration	Discussion with GOK and CMA regarding OOPS invoices.	Corporate - Liquidation
Christine Stead	Senior Director	13-May-14	0.1	560.00	56.00	Administration	discuss OOPS schedule and invoices with GOK and confirm if any further info required	Corporate - Liquidation
Sally McBryde	Managing Dir	14-May-14	0.1	570.00		Trade-on	Discussion with John Denehy of Blue Broking re PI insurance & proposals, update on status	Category 2 - Approved/Unpaid
Damian Bender	CONSULTANT	14-May-14	1.5	600.00	900.00	Assets	Review work papers re client costing / preparation for meeting with lawyers	Category 2 - Approved/Unpaid
· _ · · · · · · ·					4 400 00	A 4-1-1-1-1-1-	Review remuneration entries in system- LMIM CURP, prepare renonciation spreadsheet to ensure correct allocation across funds and entities.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	14-May-14	2	560.00		Administration	Review supplementary 533 report on peter drake	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	14-May-14	0.0	600.00	480.00	Investigations	Correspondence with Irene Caling regarding outstanding invoices for all funds on behalt on LMIM as	Category 2
Benjamin Robson	Consultant I	15-May-14	0.4	270.00	108.00	Administration	RE	Approved/Unpaid
	Senior Director	15-Mav-14	0.1	560.00	56.00	Assets	Update in from sally regarding LM insurance funds.	Category 2 - Approved/Unpaid
Glenn O'Kearney	Senior Direciol	10-Way-14	0.1	505.00		A3013	Update master spreadsheet with tees across all fund codes, update LM FTI tech time as regarding	Category 2 -
Glenn O'Keamey	Senior Director	15-May-14	0.7	560.00	392.00	Administration	trustee into sheet.	Approved/Unpaid Category 2 -
john Park	Sr Managing Dir	15-Mav-14	0.5	600.00	300.00	Administration	Work on Global Statement of Position. Email in Tucker & Cowen	Approved/Unpaid
Kelly-Anne Trenßeld	Senior Managing Director	15-May-14	0.1	600.00	60.00	Administration	Discussion with JRP re Russell's/fee position/sop	Corporate - Liquidation
				360.00	360.00	Administration	Reconciling OUPS lifeoices as per GUK instructions. Discussion with GUK regarding reconciliation and future course of action.	Corporate - Liquidation
Stuart Clancy	Manager 1	15-May-14	0.1	360.00	36.00	Administration	Review outstanding matters on file and update task list.	Corporate - Liquidation
Stuart Clancy	Manager 1	15-May-14	0.1					Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	16-May-14	0.1	600.00	60.00		JRp re SOP and satisfaction of fund legal costs/indemnities	Approved/Unpaid Corporate - Liquidation
Benjamin Robson	Associate II	16-May-14	0.4	270.00	108.00	Creditors	Receive and review various invoices form Irene and Zoran relating to LMIM Corporate	Corporate - Liquidation
Benjamin Robson	Associate II	16-May-14	0.3	270.00	81.00	Creditors	Payment of LMIM corporate portion of King & Wood Mallesons Invoice 1559980	•
Brittany Newman	Administration 1	16-May-14	0.7	135.00	94.50	Administration	Split files + filing	Corporate - Liquidation
lohn Park	Senior Managing Director	16-May-14	0.5	600.00	300.00	Administration	Meeting at Russells on strategy Going through OOPS invoices and reconciling against OOPS dump from Carpe Deim as per GOK	Corporate - Liquidation
Stuart Clancy	Manager 1	16-May-14	2.1	360.00	756.00	Administration	instructions. Emails to CMA regarding invoices. Other related matters.	Corporate - Liquidation

 \square

LIV Investment Ma Remuneration to 3	inagement Ltd (In Liqui In lune 2018	dation)			3.204.515.29			
Name		Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Glenn O'Keamey	Senior Director	19-May-14	0.1	560.00	56.00	Assets	Discuss March qtr FUM figures BJR	Category 2 - Approved/Unpaid
D	Coning Director	19-May-14	1.4	560.00	784.00	Trade-on	Review WIP allocations across funds as provided by GOK	Category 2 - Approved/Unpaid
Ryan Zorgdrager	Senior Director	19-Ivtay-14	1.4	360.00	/04.00	11906-01	Review ASIC involce and conference with BJR in relation to allocation of lodgement fees across the	Category 2 -
Ryan Zorgdrager	Senior Director	19-May-14	0.6	560.00	336.00	Trade-on	funds Allocation of all ASIC invoices to a particular fund and loan book - work undertaken related to LMIM	Approved/Unpaid Category 2 -
Benjamin Robson	Consultant I	19-May-14	1.5	270.00	405.00	Creditors	as responsible entity for funds. Work completed with RFZ	Approved/Unpaid
		10 May 44		600.00	1,080.00	Administration	hecontaination or negai and administrator costs; emais re rossens/nin claims, up re im updates; Discussion with Gok re fee allocations; review figures and discuss with gok; jrp update re russell fee position;	Category 2 - Approved/Unpaid
Kelly-Anne Trenfield	Sr Managing Dir	19-May-14 19-May-14	1.8 0.5	600.00	300.00		Review Russells emails and statement of position	Corporate - Liquidation
John Park	Senior Managing Director	19-IVIAY-14	0.0	600.00	300.00	Administration	Reviewing and reconciling inter company and oversea invoices as per GOK instructions. Phone calls	1
Stuart Clancy	Manager 1	19-May-14	0. 9	360.00	324.00	Administration	and emails to CMA regarding invoices. Creating excel reconciliation spreadsheet. Collating invoices. Reviewing invoices charged/drawn. other related matters.	Corporate - Liquidation
Stuart Clancy	Manager 1	19-May-14	0.1	360.00	36.00	Administration	Updating task list and control spreadsheet regarding tasks to complete and tasks completed to date	Corporate - Liquidation
Glenn O'Kearney	Senior Director	19-May-14	0.2	560.00	112.00	Creditors	Review Kelly correspondence regarding russells schedule of fees. reconcile against records - LMIM	Corporate - Liquidation
							Review proposed settlement numbers Kelly regarding MPF russells. update SOP - review bank accounts and MYOB. review and reconcile consultants register. prepare split/summary of available funds prorata across accounts. note to Kelly with update numbers. query Stuart Clancy regarding	
Glenn O'Kearney	Senior Director	19-May-14	2.3	560.00	1,288.00	Assets	oops charges, prepare reconciliation of WIP russells vs our records, call Kelly and discuss numbers.	Corporate - Liquidation
Glenn O'Keamey	Senior Director	19-May-14	0.1	560.00	56.00	Administration	Account reconciliation, review and sign off on pay request to mallesons invoice.	Corporate - Liquidation
Benjamin Robson	Associate II	19-May-14	0.2	270.00	54.00	Creditors	LMIM Corporate payment to King & Wood Mallesons Finalise and submitted	Corporate - Liquidation Category 2
Christine Stead	Senior Director	20-May-14	0.2	560.00	112.00	Investigations	review USB from Kordamentha	Approved/Unpaid Category 2 -
Benjamin Robson	Consultant I	20-May-14	0.2	270.00	54.00	Creditors	Oz Fire invoice - advisement to creditor to Issue to Liquidators of LMA	Approved/Unpaid
Kelly-Anne Trenfield	Sr Managing Dir	20-May-14	0.1	600.00	60.00	Administration	call in from Sean Russell re extension re submission of B&R list from KM and delivery of flash drive for review	Category 2 - Approved/Unpaid
Christine Stead	Senior Director	20-May-14	0.4	560.00	224.00	Administration	Review LM payments and see KAT for approvalsAC to intercompany invoices eview and respond to email from SAC	Corporate - Liquidation
Stuart Clancy	Manager 1	20-May-14	0.3	360.00	108.00	Creditors	Responding to various creditor queries regarding update on inquidation to date and other related matters.	Corporate - Liquidation
·		20-May-14	0.5	360.00		Administration	Reviewing and finalising reconciliation of inter company invoices to OOPS account. Discussion via phone and email to CMA regarding missing invoices and various queries. Other related matters.	Corporate - Liquidation
Stuart Clancy Glenn O'Kearney	Manager 1 Senior Director	20-May-14	0.3	560.00	168.00	Assets	Review report LM UK. note to Stuart Clancy regarding dividend.	Corporate - Liquidation
Glenn O'Keamey	Senior Director	20-May-14	0.1	560.00	56.00	Creditors	Review creditor query PWC. assist Stuart Clancy with response.	Corporate - Liquidation
Joan Springate	Administration	20-May-14	0.5	175.00	87.50	Administration	Setting up Online payment & posting payment	Corporate - Liquidation
John Park	Senior Managing Director	20-May-14	0.1	600.00	60.00	Administration	Email in Russells	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	20-May-14	0.1	600.00	60.00	Administration	Review and approve payment of outstanding administration habilities including review of supporting documentation and signing of transfer or cheque	Corporate - Liquidation
Benjamin Robson	Consultant I	21-May-14	0.2	270.00	54.00	Creditors	Capital distribution payments received, reviewed, approved, recorded and returned to Leanne Troy	Category 2 - Approved/Unpaid
John Park	Senior Managing Director	21-May-14	0.2	600.00	60.00	Administration	Email in Russells	Corporate - Liquidation
Stuart Clancy	Manager 1	21-May-14	0.3	360.00	108.00	Creditors	Drafting and sending emails to creditors regarding update on liquidation to date.	Corporate - Liquidation
Stuart Clancy	Manager 1	21-May-14		360.00	360.00	Administration	Phone can to mait Grennon regarding dividencial Limits DK and nuture course of action. Forwarding loan documents to LMIM UK account and other related matters. Assisting in collating invoices of intercompany and overseas FTI offices for reconciliation with OOPS.	Corporate - Liquidation
Brittany Newman	Administration 1	21-May-14 21-May-14	0.1	135.00			Add creditor in MYOB - PricewaterhouseCooper, Luxembourg + enter POD	Corporate - Liquidation

LM Investment Ma Remuneration to 3	inagement Ltd (In Liquid	dation)			3,204,515,29			
Name	Title	Date	Hours	Charge Out Rate		Task Desc	Narrative	Classification
Kelly-Anne Trenfield	Sr Managing Dir	22-May-14	0.4	600.00	240.00	Administration	CMA re review of B&R request from KMCall in from GOK re administration update	Category 2 - Approved/Unpaid
Glenn O'Keamev	Senior Director	22-May-14	0.3	. 560.00	168.00	Assets	Review Average FUM tigures March Qtr. prepare split of LMIM RE WIP calculations for March qtr Involcing across funds.	Category 2 - Approved/Unpaid
Benjamin Robson	Consultant I	22-May-14	0.5	270.00	135.00	Administration	ECM FUM figures for months of January to April saved and average FUM figures spread sheet created	Category 2 - Approved/Unpaid
Christine Stead	Senior Director	22-May-14	0.6	560.00	336.00	Administration	Review and copy file from KM with B&R requestmeeting with KA1 re KM request and PC to Sean Russell	Category 2 - Approved/Unpaid
Christine Stead	Senior Director	22-May-14	0.1	560.00	56.00	Administration	See KAT regarding Phone Call to Sean Russell	Category 2 - Approved/Unpaid
Brittany Newman	Administration 1	22-May-14	0.1	135.00	13.50	Administration	Filing	Corporate - Liquidation
Glenn O'Kearney	Senior Director	22-May-14	0.2	560.00	112.00	Assets	Correspondence from matt and stu regarding fund Canadian entity. reply with approval.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	22-May-14	0.1		56.00	Creditors	Review PWC pod and claim.	Corporate - Liquidation
							reviewing the LM OK lighteauon and the return from the loan account. Calculating the estimated return and reviewed the recent update form the UK. Reviewed the file for any declaration of dividend or correspondence form the UK. Discussed the matter with GDM	Corporate - Liquidation
Matthew Glennon	Senior Director	22-May-14	0.8			Assets	CMA re review of information request from KM	Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	23-May-14	0.2	600.00	120.00	Administration	Correspondence with Irene Caling and RFZ regarding daily LM Payment batches, print of invoices to	
Benjamin Robson	Consultant 1	23-May-14	0.2	270.00	54.00	Creditors	signing and circulate	Approved/Unpaid
Denjamin Robson	Consultant	20-Willy-14	0.2	210.00	01.00	Citality	Formatting of data for FUM tigures Jan - March 2014 and preparation of remuneration and OOPs	Category 2 -
Benjamin Robson	Consultant I	23-May-14	1	270.00	270.00	Creditors	invoices for same period.	Approved/Unpaid
Christine Stead	Senior Director	23-May-14	0.8	560.00	448.00	Administration	review Deed and doos onlineeinal out to Sean at Russels re extension of time to review KM B&R request	Category 2 - Approved/Unpaid
Christine Stead	Senior Director	23-May-14	0.2	560.00	112.00	Administration	See KAT regarding review of Deed	Category 2 - Approved/Unpaid
James Court	Director 1	23-May-14	1.3	510.00	663.00	investigations	Update supp report	Corporate - Liquidation
Brittany Newman	Administration 1	23-May-14	0.1	135.00	13.50	Administration	Mail in from ASIC - Correspondence; Pay involce and check statement + Involce Statement 13 May 2014	Corporate - Liquidation
Ginette Muller	Senior Managing Director	23-May-14	1	600.00	600.00	Administration	Emails from Matt G and English Liquidator regarding missing but on dividend distribution. Follow up on both.	Corporate - Liquidation
Christine Stead	Senior Director	26-May-14	2.1	560.00	1,176.00	Administration	review back request and prepare is: or approved records and records requiring rurater investigationscontinue review B&R request and prepare list of approved records and records requiring further investigations	Category 2 - Approved/Unpaid
	Administration	26-May-14	0.1	175.00		Administration	Receipt voucher & posting receipt	Corporate - Liquidation
Joan Springate Brittany Newman	Administration 1	26-May-14 26-May-14	0.1	135.00		Administration	Prepare receipt voucher in MYOB - BAS Refund (Jan - Mar 2014)	Corporate - Liquidation
	Administration 1	26-May-14	0.1	135.00	13.50	Administration	Locate POD's for SAC	Corporate - Liquidation
Brittany Newman				560.00		Assets	Update from Stuart Crancy regarding dividend issue us entity, review correspondence from gowings regarding canada entity div, review and approve receipt voucher GST refund, discussions Stuart Clancy regarding funds to be held in term deposit etc.	Corporate - Liquidation
Glenn O'Keamey	Senior Director	26-May-14	0.2		 ,		Review oran correspondence to creator and assist stoart clancy in response: review correspondence regarding sec cred for supp report and note to Stuart Clancy, review	Corporate - Liquidation
Glenn O'Keamey	Senior Director	26-May-14	0.2	560.00		Creditors	correspondence from investor creditor query - no fund mentioned	Corporate - Liquidation
Glenn O'Keamey	Senior Director	26-May-14	0.1	560.00	56.00	Administration	Review and discuss file status with SAC. update TDL	
Iohn Park	Senior Managing Director	26-May-14	0.6	600.00	360.00	Administration	Review and sign Tall Trees documentation	Written Off/Not claimed
Stuart Clancy	Manager 1	26-May-14	0.1	360.00	36.00	Administration	Going through tasks list and updating tasks complete and future tasks to complete.	Corporate - Liquidation
Stuart Clancy	Manager 1	26-May-14	1.3	360.00	468.00	Creditors	Reviewing email from James Court regarding creditors details and other related matters. Reviewing and collating information for supp report to ASIC. Discussion with GOK. Memo to BN to collate info. Review and update to do list; query outstanding itemskeview incoming documentation, consider and	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	26-May-14	0.1	600.00	60.00	Administration	send to filing	Corporate - Liquidation Category 2 -
Brittany Newman	Admin i	27-May-14	0.1	135.00	13.50	Administration	Mali in from AustrálianSuper - Correspondence; Your contributions for payment period 18/4/2014 - 29/05/2014	Approved/Unpaid

Remuneration to 3	anagement Ltd (In Liquid 30 June 2018				3,204,515.29			
Vame	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Brittany Newman	Admin I	27-May-14	0.1	135.00	13.50	Administration	Mail out to David Clout & Associates - Correspondence received 27/05/2014 from AustralianSuper	Category 2 - Approved/Unpaid
enjamin Robson	Consultant I	27-May-14	0.4	270.00	108.00	Creditors	Collating and printing invoices for RFZ approval, cos Simon Tickner, Irene Caling, Leanne Troy of LM Review correspondence Stuart Clancy regarding sec cialm documents form asic report. Note to	Category 2 - Approved/Unpaid
Glenn O'Kearney	Senior Director	27-May-14	0.2	560.00	112.00	Creditors	Stuart Clancy regarding additional documents available.	Corporate - Liquidatio
lohn Park	Senior Managing Director	27-May-14	0.2	600.00	120.00	Administration	Review and sign Tall Trees Documents tounating namer mominator no pames count and popplementary report- usians on secored creditors.	Written Off/Not claim
Stuart Clancy	Manager 1	27-May-14	1.3	360.00	468.00	Investigations	Discussion and update from Matthew Glennon regarding LMIM UK office and dividend. Future course of action.	Corporate - Liquidatio
ituart Clancy	Manager 1	27-May-14	0.3	360.00	108.00	Creditors	of action.	Corporate - Liquidation
Ryan Zorgdrager	Director 2	27-May-14	0.4	560.00	224.00	Investigations	CONTWITH SAC. Sac received into request from James Court concerning DB liability. Source documentation from server for supp533 report	Corporate - Liquidatio
· · · ·	Senior Director	27-May-14	4	510.00	510.00	Assets	Review of the Liquidation of the UK entity. Reviewed the claim in the UK entity. Calculated the dividend due and prepared a correspondence to the UK Liquidator. Email to GDM with comments	Corporate - Liquidatio
Aatthew Glennon Celly-Anne Trenfield	Senior Director	27-Way-14 27-May-14	0.1	600.00	60.00	Assets	review GDM update re lunds due from UK entity	Corporate - Liquidation
			0.1			·	Former review or me and send contespondence to Kevin HT in Landon regarding issue or non-payment of dividend to see if he understood why we had been missed out. Check on the bonafides of the liquidator engaged to do the job etc.	Corporate - Liquidatio
inette Muller	Senior Managing Director	27-May-14	1 0.2	600.00		Administration Administration	GUKURP references with BUCemail from and response to sean Russell restatus of MPF costs orders	Category 2 - Approved/Unpaid
elly-Anne Trenfield	Sr Managing Dir Administration	28-May-14 28-May-14	0.2	175.00	52.50	Administration	Trying to sort out how to organise a Term deposit	Corporate - Liquidati
oan Springate	Manager 1	28-May-14	1.2	360.00		Administration	Prione call with mart Grennon regarding Linux OK onice and dividend from Elquidation. Containing Financials requested by Matt. Follow up email to CMA regarding overseas invoices. Discussion and organising set up of term deposit account from LMIM Canada office. Other related matters.	Corporate - Liquidatio
latthew Glennon	Senior Director	28-May-14	0.3	510.0D	153.00	Assets	Reviewing the claim in the LM UK entity, ernail to GDM to summarise the position. Calls to Stuart Clancy of the Gold Coast to discuss the claims and the March commissions owed to the UK entity.	Corporate - Liquidatio
elly-Anne Trenfield	Senior Managing Director	28-May-14	0.1	600.00	60.00	Administration	Review and update to do list; query outstanding items; follow-up outstanding information	Corporate - Liquidatio
amian Bender	Managing Director	28-May-14	2.2	600.00	1,320.00	Administration	General review discussions lawyers	Corporate - Liquidatio
lenn O'Keamey	Senior Director	29-May-14	0.1	560.00	56.00	Assels	Discuss RE FUM split BJR	Category 2 - Approved/Unpaid Category 2 -
enee Lobb	Senior Director	29-May-14	0.2	510.00	102.00	Trade-on		Approved/Unpaid
eniamin Robson	Consultant I	29-May-14	1.2	270.00	324.00	Creditors	Calla a ribio la modula la Bernaria e la Bernaria e la Calla	Category 2 - Approved/Unpaid
hristine Stead	Senior Director	29-May-14	0.1	560.00		Administration		Category 2 - Approved/Unpaid Category 2 -
hristine Stead	Senior Director	29-May-14	0.1	560.00	56.00	Administration		Approved/Unpaid
hristine Stead	Senior Director	29-May-14	0.1	560.00	56.00	Administration	Email out to Sean at Russells regarding extension request	Category 2 - Approved/Unpaid
elly-Anne Trenfield	Sr Managing Dir	29-May-14	0.1	600.00	60.00	Creditors	Review and add commentary to RCL email to ACI	Category 2 - Approved/Unpaid
aly-Anne Trenfield	Sr Managing Dir	29-May-14	0,1	600.00	60.00	Administration	emails in re B&R access and legal costs	Calegory 2 - Approved/Unpaid
aly-Anne Trenfield	Sr Managing Dir	29-May-14	0.1	600.00			Email from and response to Steve Russell re outstanding costs	Category 2 - Approved/Unpaid
ohamed Almulla	Sr. Consult I	29-May-14	0.1	360.00		Administration	Assist CMA with Excel Sorting of Data	Category 2 - Approved/Unpaid
tuart Clancy	Manager 1	29-May-14	1.3	360.00			Eccating and discussion with FTT overseas onice regarding missing involces from ooPS for Liktim. Emails to RFZ and CMA and RL regarding correspondence received from investor. Providing updates to creditors regarding update on liquidation to date.	Corporate - Liquidatio

 \cap

	magement Ltd (in Liqui	dation)	2		3,204,515.29			
Remuneration to 3 Name	Title	Date	Hours	Charge Out Rate	3,204,515.29 Charge	Task Desc	Narrative	Classification
Stuart Clancy	Manager 1	29-May-14	0.1	360.00	36.00	Administration	Reviewing bank account for outstanding BAS refund.	Corporate - Liquidation
Matthew Glennon	Seniar Directar	29-May-14	0.1	510.00	51.00) Assets	Email to the UK liquidator with respect to the claim in the Liquidation	Corporate - Liquidation
Joan Springate	Administration	29-May-14	0.1	175.00	17.50	Administration	Bank Rec	Corporate - Liquidation
Joan Springate	Administration	29-May-14	0.5	175.00	87.50	Administration	Taking cheque to CBA & sorting out the bank account	Corporate - Liquidation
Ginette Muller	Senior Managing Director	29-May-14	0.5	600.00	300.00	Administration	Emails from Matt G and English Liquidator regarding missing out on dividend distribution. Follow up on both.	Corporate - Liquidation Category 2 -
Benjamin Robson	Consultant I	30-May-14	0.2	270.00	54.00	Creditors	Received, reviewed, approved, recorded and returned transfer requests from Leanne Troy	Approved/Unpaid Category 2 -
Benjamin Robson	Consultant I	30-May-14	0.2	270.00	54.00	Creditors	Russells invoice regarding Books and Records - discuss split with Glenn O'Kearney	Approved/Unpaid Category 2 -
Renee Lobb	Senior Director	30-May-14	0.2	510.00	102.00	Trade-on	Respond in full to ACI queries after revision of RFZ and Kelly-Anne Trenfield emails.	Approved/Unpaid Category 2 -
Christine Stead	Senior Director	30-May-14	0.3	560.00	168.00	Administration	investigate ideas proposed by MHA for sorting data in excel and test on MPF listing	Approved/Unpaid Category 2 -
Christine Stead	Senior Director	30-May-14	0.7	560.00	392.00	Administration	SED - instructions on MPF data review	Approved/Unpaid
		30-May-14	0.2	360.00	72.00	Administration	Reviewed email from JS regarding deposit fund account. Memo to BN regarding future course of action.	Corporate - Liquidation
Stuart Clancy	Manager 1 Manager 1	30-мау-14 30-мау-14	0.2	360.00	36.00		Email to RFZ regarding creditor query and future course of action.	Corporate - Liquidation
Stuart Clancy		30-May-14	0.1	360.00	36.00		Following up CMA regarding overseas invoices and intercompany invoices.	Corporate - Liquidation
Stuart Clancy	Manager 1		0.1	500.00	30.00	Administration	Correspondence from Joe Hayes. Send to KAT and JP. Emails from Matt G and English Liquidator	
Ginette Muller	Senior Managing Director	30-May-14	1	600.00	600.00	Administration	regarding missing out on dividend distribution. Follow up on both.	Corporate - Liquidation
Glenn O'Keamey	Senior Director	31-May-14	0.2	560.00	112.00	Assets	Review correspondence ribob regarding Clayton utz, query to Ketty, review correspondence regarding canada term deposit funds, note to BJR to confirm consultants register split.	Corporate - Liquidation
Renee Lobb	Senior Director	02-Jun-14	0.2	510.00	102.00	Creditors	Call from creditor regarding potential negligence claim by investor. Correspondence norm port regarding op cosis may, review reager and runner involce material: naise	Approved/Unpaid
Glenn O'Kearney	Senior Director	02-Jun-14	0.5	560.00	280.00	Trade-on	with SAC and Kelly regarding unknown investor query, review quarantined funds data from appointment, note to Steve hannan for assistance with information on investor deposits.	Category 2 - Approved/Unpaid
Benjamin Robson	Consultant I	02-Jun-14	0.4	270.00	108.00	Creditors	Time spent preparing LM Payment batches from leanne Troy for signing by RFZ	Category 2 - Approved/Unpaid Category 2 -
John Corbett	Managing Dir	02-Jun-14	1.5	570.00	855.00	Administration	Review of documents for signing and dealing with audit issues across the funds Review and update to do list, query outstanding itemsReview incoming documentation, consider and	Approved/Unpaid Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	02-Jun-14	0.2	600.00	120.00	Administration	send to filingMail in	Approved/Unpaid
taly rand field							emails in re quarantined tunds; review position and schedule of deposits and instructions re	Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	02-Jun-14	0.4	600.00	240.00	Administration	KMemalls in; GOK re LMA indemnityRFZ/GOK emails re legal issues/costs/audits	Approved/Unpaid Category 2 -
)amian Bender	CONSULTANT	02-Jun-14	1.3	600.00	780.00	Administration	Review emails and suggestions re insurance litigation .	Approved/Unpaid
Renee Lobb	Senior Director	02-Jun-14	0.2	510.00			Take call from solicitor and provide update. Send email with creditors report.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	02-Jun-14	0.3	560.00	168.00	Assets	Review correspondence regarding canada deposit. Ilaise with Kelly regarding asset sales, prelim review of piper letter regarding insurance, update regarding clayton utz matter/invoices.	Corporate - Liquidation
Carly Drew	Administration 2	02-Jun-14	0.1	175.00	17.50	Administration	Settlement for RFZ issued	Corporate - Liquidation
Iohn Park	Senior Managing Director	02-Jun-14	0.6	600.00	360.00	Administration	Correspondence in Piper Alderman / Russells	Corporate - Liquidation
Sinetle Muller	Senior Managing Director	02-Jun-14	3	600.00	1,800.00	Administration	Receive response from UK Liquidator. Discuss with MDG, Agree on response. Need to send prior to Friday as time for objecting to the Liquidators fees is running out quickly. Send stern letter advising legal action will be taken. Correspondence from Simon Lister, from McGrath regarding their fees - send to KAT. Correspondence from Amanda Banton - provide my view on this.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	03-Jun-14	0.4	560.00	224.00	Trade-on	Call form david Kennedy Ima regarding server issues/records/move of Im stall etc. discussions with RFZ/	Category 2 - Approved/Unpaid
enjamin Robson	Consultant I	03-Jun-14	0.2	270.00	54.00	Creditors	Forward LM Payment batches to Irene's new address - system down at LM	Category 2 - Approved/Unpaid

Remuneration to 3	nagement Ltd (in Liqui 0 June 2018 Title	dation) Date	Hours	Charge Out Rate	3,204,515.29	Task Desc	Narrative	Classification
Name					i.	Task Dest		Category 2 -
John Corbett	Managing Dir	03-Jun-14	1	570.00	570.00	Administration	Dealing with audit issues across the funds and FX issues	Approved/Unpaid Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	03-Jun-14	0.5	600.00	300.00	Administration	Meeting with RFZ/JDC re audit and accounting function	Approved/Unpaid
Stuart Clancy	Manager 1	03-Jun-14	0.7	360.00	252.00	Creditors	Reviewing Vanous emails from creators regarding update on liquidation and other related matters. email to GOK regarding juture course of action.	Corporate - Liquidation
			0.2	360.00	72.00	Administration	Reviewed email from CMA and discussions regarding missing intercompany involces. Assisting obtaining involces	Corporate - Liquidation
Stuart Clancy	Manager 1	03-Jun-14	0.2	600.00	360.00		Review funding proposals from PA	Corporate - Liquidation
John Park	Senior Managing Director	03-Jun-14		000.00	300.00	Autoniauon	Responding to misc requests for updating of database contact details, divert to appropriate parties	Category 2 -
Renee Lobb	Senior Director	04-Jun-14	0.2	510.00	102.00	Trade-on	where relevant. Eminimisme mpr, main memains in relappeaireview and ameno recence in the conduct or audicemain re	Approved/Unpaid
							audit feed/ fee claim with receivers review letter to EYdetails of indemnity claim; discuss review with	Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	04-Jun-14	1,1	600.00	660.00	Administration	igokemail in from aci; review draft response and request amendments	Approved/Unpaid
,	Senior Director	04-Jun-14	0.1	560.00	56.00	Employees	Note Stuart Clancy regarding employee query.	Corporate - Liquidation
Glenn O'Kearney			0.2	360.00	72.00	Creditors	Received call from creditor regarding update on liquidation	Corporate - Liquidation
Stuart Clancy	Manager 1	04-Jun-14						Corporate - Liquidation
Britlany Newman	Administration 1	04-Jun-14	0.1	135.00	13.50	Administration	Mail inReview incoming documentation, consider and send to filing	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	04-Jun-14	0.1	600.00	60.00	Administration	Reviewed the response from the UK Liquidator in respect to the LMIM loan account to LM UK.	
Matihew Glennon	Senior Director	04-Jun-14	0.4	510.00	204.00	Assets	Emailed notes to GMD and options moving forward.	Corporate - Liquidation
	Senior Director	05-Jun-14	0.1	560.00			Review TDL. discuss status of file with POC, update TDL.	Corporate - Liquidation
Glenn O'Kearney		00-0011-14					Review correspondence from simon lister , review previous data regarding mpt quarantined	
Glenn O'Kearney	Senior Director	05-Jun-14	0.5	560.00	280.00	Administration	investments, prepare draft comments for Kelly réponse. Reviewed email from CMA regarding missing intercompany invoices. Reconciled against control	Corporate - Liquidation
		05 hm d d	0.2	360.00	72.00	Administration	Reviewed email from Clark regarding missing intercompany involces. Neconciled against control spreadsheet.	Corporate - Liquidation
Stuart Clancy	Manager 1	05-Jun-14	0.2		12.00	Automisuzuon	Review and update to do list; query outstanding itemskeview incoming documentation, consider and	
Kelly-Anne Trenfield	Senior Managing Director	05-Jun-14	0.2	600.00	120.00	Administration	send to filing	Corporate - Liquidation
Christine Stead	Senior Director	05-Jun-14	2.8	560.00	1,568.00	Administration	investigating OOPS issuesPC to SAC and email to SAC; review email and fwd to CH	Corporate - Liquidation
							Dratted a letter to the UK liquidator with respect to the Liquidation, email to GDM with points to	Corporate - Liquidation
Matthew Glennon	Senior Director	05-Jun-14	0.4	510.00	204.00	Administration	consider in response.	Category 2 -
Benjamin Robson	Consultant I	06-Jun-14	0.3	270.00	81.00	Creditors	Enquiry from accounting firm regarding Tax return for LMIM for an investors tax return	Approved/Unpaid
		00 km 44	0.1	600.00	60.00	Administration	RFZ re engagement of former employees on hourly rates	Category 2 - Approved/Unpaid
Keily-Anne Trenfield	Sr Managing Dir	06-Jun-14			35.00	Administration	Prepared Final Letter - issued with attachments	Corporate - Liquidation
Carly Drew	Administration 2	06-Jun-14	0.2	175.00			Mail in from Norton Rose Fulbright - Tax Invoice 1269711	Corporate - Liquidation
Brittany Newman	Administration 1	06-Jun-14	0.1	135.00	13.50	Administration	Finalise Letter and insert GDM electronic signature as approved. Scan and email to MDG for	
Fanya Kratz	Administration 2	06-Jun-14	0.2	135.00	27.00	Administration	emailing.	Corporate - Liquidation
John Park	Senior Managing Director	06-Jun-14	0.1	600.00	60.00	Administration	Email in Russells	Corporate - Liquidation
		06-Jun-14	0.2	510.00	102.00	Administration	Final review of letter to UK Liquidator, instructions to TK to finalise and issued. Updated the file	Corporate - Liquidation
Matthew Glennon	Senior Director	00-Jun-14	. 0.2	10.00	102.00	/ Change Calor	Various amendments and inclusions to LMIM payment requests and Correspondence with Leanne	Category 2 -
Benjamin Robson	Consultant I	10-Jun-14	0.4	270.00	108.00	Creditors	Тгоу	Approved/Unpaid Category 2 -
							Respond to generalised email queries.	Approved/Unpaid
Renee Lobb	Senior Director	10-Jun-14	0.2	510.00	102.00	Trade-ол	email in from KM re request re review of source docs re peter drake loan; request into from LM team;	Category 2 -
(elly-Anne Trenfield	Sr Managing Dir	10-Jun-14	0.2	600.00	120.00	Administration	review records held re Drake loan	Approved/Unpaid
	for managing on	10 001114						Category 2 -
ohn Corbett	Managing Dir	10-Jun-14	0.5	570.00	285.00	Administration	Audit issues Correspondence from s hennan regarding quarantined investments, note to Stuart Clancy for	Approved/Unpaid Category 2 -
	Senior Director	10-Jun-14	0.2	560.00	112.00	Creditors	response.	Approved/Unpaid
			0.2	135.00			Format & Final 8974/114	Corporate - Liquidation
nttany Newman	Administration 1	10-Jun-14	0.1	135.00	13.00			
enjamin Robson	Associate II	10-Jun-14	0.3	270.00	81.00	Employees	Correspondence with Stuart Clancy, Glenn O'Kearney and FEG regarding Michael Skeggs claim	Corporate - Liquidation

EM investment Ma	magement Ltd (in Liquid	dation)						
Remuneration to 3 Name	10 June 2018 Title	Date	Hours	Charge Out Rate	3,204,515.29 Charge	Task Desc	Narrative	Classification
							whet wan List regarding the includation to DK subsidiary and sturn up or civicution. So unough an supporting documents with her in the UK. Response to Matt. Update as necessary. Charge some Jime for travel and some for meeting with Lisa but cap out at maximum of 7.5 hours.	Corporate - Liquidation
Ginette Muller	Senior Managing Director	10-Jun-14	7.5	600.00	4,500.00	Administration	Letter in from Piper Alderman repotential claims by RE and litigation lunding opportunity to conduct	Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	11-Jun-14	0.1	600.00	60.00	Administration	examinations and formulate scheme of arrangement	Approved/Unpaid Category 2 -
Saily McBryde	Managing Dir	11-Jun-14	0.1	570.00	57.00	Trade-on	Call from Blue Broking re PI policy renewal	Approved/Unpaid Category 2 -
John Corbett	Managing Dir	11-Jun-14	1	570.00	570.00	Administration	Audit completion issues	Approved/Unpaid Category 2 -
Christine Stead	Senior Director	11-Jun-14	3.9	560.00	2,184.00	Administration	Identify books and records not available for collection by MPF. I rustee from records listing provided by MPF Trustee	Approved/Unpaid
Brittany Newman	Administration 1	11-Jun-14	0.1	135.00	13.50	Administration	Prepare receipt voucher in MYOB - Contributions from FMIF for Russells 4/06/2014	Corporate - Liquidation
Brittany Newman	Administration 1	11-Jun-14	0.1	135.00	13.50	Administration	Prepare payment voucher in MYOB - Russells Law Ref: 20134071	Corporate - Liquidation
Joan Springate	Administration	11-Jun-14	0.1	175.00	17.50	Administration	Receipt voucher & posting receipt	Corporate - Liquidation
Joan Springate	Administration	11-Jun-14	0.3	175.00	52.50	Administration	Setting up Online payment & posting payment	Corporate - Liquidation
John Park	Senior Managing Director	11-Jun-14	0.4	600.00	240.00	Administration	Meeting with Warren Jiear and Andrew Charle to discuss litigation funding for Public Examinations	Corporate - Liquidation
Renee Lobb	Senior Director	11-Jun-14	0.1	510.00	51.00	Creditors	Review creditor enquiry and revert to SAC.	Corporate - Liquidation
Stuart Clancy	Manager 1	11-Jun-14	0,3	360.00	108.00	Creditors	Reviewing emails regarding update on outstanding creditor queries on liquidation. Draffed email regarding advice to creditors and future course of action.	Corporate - Liquidation
		11-Jun-14	0.0	360.00	36.00	Creditors	Update email to MG regarding Canadian dividend.	Corporate - Liquidation
Stuart Clancy	Manager 1	11-Jun-14	0.1	560.00	56.00	Creditors	Review and amend draft email to investor regarding MPF query.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	11-Juli-14	0.1					Category 2 -
Carly Drew	Admin II	12-Jun-14	0.1	175.00	17.50	Administration	Prepared Final Letter for RFZ	Approved/Unpaid
Kelly-Anne Trenfield	Sr Managing Dir	12-Jun-14	0.1	600.00	60.00	Administration	review letter to asic re audit	Category 2 - Approved/Unpaid Category 2 -
John Corbett	Managing Dir	12-Jun-14	2	570.00	1,140.00	Administration	Review of material and discussions re completion of audits	Approved/Unpaid
Glenn O'Kearney	Senior Director	12-jun-14	0.1	560.00	56.00	Trade-on	Review operation cost invoices and allocations to funds.	Category 2 - Approved/Unpaid
		12-Jun-14	0.3	560.00		Assets	Discussions with sally regarding insurance for responsible entity	Category 2 - Approved/Unpaid
Glenn O'Kearney	Senior Director		0.3	135.00	13.50	Administration	Draft 89741115	Corporate - Liquidation
Brittany Newman	Administration 1	12-Jun-14	U.1	133.00	13.00	Administration	Discussion with GON regarding receip: voucher or runus from MilF line main bank account and payment of legal invoices. Memo to BN regarding banking vouchers. Reviewed and amendments to	Corporate - Liquidation
Stuart Clancy	Manager 1	12-Jun-14	0.4	360.00	144.00	Administration	bank vouchers. Phone call to JS regarding same day banking. Temai confespondence with SAM and BJK regarding update on Michael Skegg employee entitiements	Corporate - Liquidadon
Stuart Clancy	Manager 1	12-Jun-14	0.3	360.00	108.00	Employees	and background information. Drafted email to Michael Skegg regarding future course of action with employee entitiements and responding to queries.	Corporate - Liquidation
Stuart Clancy	Manager 1	12-Jun-14	0.3	360.00	108.00	Creditors	Drafting and sending emails to creditors regarding update on liquidation and likelihood of dividend.	Corporate - Liquidation
Stuart Clancy	Manager 1	12-Jun-14	0.2	360.00	72.00	Administration	Reviewing letter prepared by BN regarding opening or a term deposit account. Amendments to letter. Discussion with GOK regarding letter.	Corporate - Liquidation
		12-Jun-14	0.1	360.00	36.00	Assets	Follow up email to Clouts and Associates regarding PPE and update email to GOK.	Corporate - Liquidation
Stuart Clancy	Manager 1	12-Jun-14	0.1	360.00	72.00		Reviewing email from CH regarding missing overseas involces and updating invoice control	Corporate - Liquidation
Stuart Clancy	Manager 1		0.2	560.00	112.00	-	Review letter to CBA regarding presentation of Canadian cnq. discussions with Stuart Clancy regarding process/term deposit etc.	Corporate - Liquidation
Glenn O'Keamey	Senior Director	12-Jun-14			112.00			Category 2 -
Sally McBryde	Managing Dir	13-Jun-14	0.1	570.00	57.00	Trade-on	Call from Blue Broking re PI policy renewal	Approved/Unpaid Category 2 -
John Carbett	Managing Dir	13-Jun-14	1	570.00			Dealing with correspondance re completion fo audits	Approved/Unpaid Corporate - Liquidation
Benjamin Robson	Associate II	13-Jun-14	0.1	270.00	27.00	Administration	Mail out	Corporate - Liquidation

(

Remuneration to 3	nagement Ltd (In Liquid 0 June 2018				3,204,515.29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Joan Springate	Administration	13-Jun-14	0.1	175.00	17.50	Administration	Bank Rec	Corporate - Liquidation
Sally McBryde	Managing Dir	16-Jun-14	0.2	570.00	114.00	Trade-on	Email from John Denehy of Blue Broking re P1 insurance, email to RF2 & GOK re same, discuss and respond to Blue Broking	Approved/Unpaid
Kelly-Anne Trenfield	Sr Managing Dir	16-Jun-14	0.2	600.00	120.00	Administration	Emails in re transfer of Bellpec files; RFZ re issuance of letters re audit/DG funding; cma re B&R	Category 2 - Approved/Unpaid
							issues. note to john Kennedy to discuss insurance for RE and LMA. prepare allocation split and provide to John Kennedy at c louts requesting funding. call form John to discuss. discuss trading	Category 2 -
Glenn O'Kearney	Senior Director	16-Jun-14	1.5	560.00	840.00	Assets	issues with John and update team.	Approved/Unpaid
Joan Springate	Administration	16-Jun-14	0.2	175.00	35.00	Administration	Receipt voucher & posting receipt	Corporate - Liquidation
Stuart Clancy	Manager 1	16-Jun-14	0.2	360.00	72.00	Administration	Memo to BN regarding Canadian Chqs and term deposit account set up.	Corporate - Liquidation
Stuart Clancy	Manager 1	16-Jun-14	0.4	360.00	144.00	Employees	Email correspondence with Michael Skegg regarding employee enutiements. Received call from FEG regarding employee entitlements. Follow up call to Vinh of Clout and Associates regarding realisation of LMA assets for dividend.	Corporate - Liquidation
Stuart Clancy	Manager 1	16-Jun-14	0.3	360.00	108.00	Creditors	purposes. Memo to GOK.	Corporate - Liquidation
Glenn O'Keamey	Senior Director	16-Jun-14	0.1	560.00	56.00	Assets	Review account reconciliation. update SOP.	Corporate - Liquidation
Kelly-Anne Trenfield	Sr Managing Dir	17-Jun-14	0.1	600.00	120.00	Administration	CMA re review of B&R	Category 2 - Approved/Unpaid
Really Fame Treamon							Email inform Ausbeck re claim by client against LM for loss in fund; instructions to RCI re	Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	17-Jun-14	0.2	600.00	120.00	Administration	responsecall in from Chris efurt re response to gadens on insurance issues Cali from cMA regarding books and records issues regarding fund records, discussion with RFZ	Approved/Unpaid Category 2 -
ou ou		47 1	0.5	560.00	280.00	Assets	regarding management of LM fund issues.	Approved/Unpaid
Glenn O'Keamey	Senior Director	17-Jun-14	0.8	300.00	200.00	A35613		Category 2 -
Christine Stead	Senior Director	17-Jun-14	0.2	560.00	112.00	Administration	Phone Call with Sean Russell regarding new B&Review listing	Approved/Unpaid
							Identity books and records not available for collection by MPF. Trustee from records listing provided by MPF Trustee	Category 2 - Approved/Unpaid
Christine Stead	Senior Director	17-Jun-14	3.9	560.00	2,184.00	Administration	Bank Rec	Corporate - Liquidation
Joan Springate	Administration	17-Jun-14	0.1	175.00	17.50	Administration	Mail in from Norton Rose Fulbright - Statement as at 06/06/2014	Corporate - Liquidation
Brittany Newman	Administration 1	17-Jun-14	0.1	135.00	13.50	Administration		Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	17-Jun-14	0.1	600.00	60.00	Administration	Review and update to do list; query outstanding items Review Kelly-Anne Trentield email and Atkinson Vinden Lawyers correspondence, draft response to	Category 2 -
Renee Lobb	Senior Director	18-Jun-14	0.3	510.00	153.00	Creditors	same and send to KAT for review.	Approved/Unpaid Category 2 -
Renee Lobb	Senior Director	18-Jun-14	0.2	510.00	102.00	Trade-on	Amendments to letter to Atkinson vinden lawyers. Send to Kelly-Anne Trenfield. Review correspondence Thiogy régarding insurance action and funding etc. consider insurance	Approved/Unpaid Category 2 -
Gienn O'Keamey	Senior Director	18-Jun-14	0,5	560.00	280.00	Assets	position for SOP.	Approved/Unpaid
Glenn O'Kearney	Senior Director	18-Jun-14	0.2	560.00	112.00	Assets	regarding blue broking position	Category 2 - Approved/Unpaid
Glenn O'Kearney	Senior Director	18-Jun-14	0.8	560.00	448.00	Creditors	on issue, discussions RFZ, brief review NR advices.	Category 2 - Approved/Unpaid Category 2 -
Glenn O'Keamey	Senior Director	18-Jun-14	0.5	560.00	280.00	Creditors	Reconcile myob accounts - funds owing LMA va service costs, review historical involces etc. review loan account position etc. Identify books and records not available for collection by MPF. Trustee from records listing provided	Approved/Unpaid Category 2 -
Christine Stead	Senior Director	18-Jun-14	9	560.00			by MPF Trustee	Approved/Unpaid Corporate - Liquidation
John Park	Senior Managing Director	18-Jun-14	0.3	600.00	180.00	Administration	Correspondence in Russells Review enguiny regarding Egnard and debts owed by LM investment Management Ltd return email	
Renee Lobb	Senior Director	18-Jun-14	0.2	510.00	102.00	Creditors	with amount of creditors and note that we cannot comment on his personal affairs.	Corporate - Liquidation
Stuart Clancy	Manager 1	18-Jun-14	0.3	360.00	108.00	Employees	Vanous emails to Michael Skegg regarding payment of employee entitlements, memos and discussions with GOK regarding future course of action.	Corporate - Liquidation
	Manager 1	18-Jun-14	0.3	360.00	108.00	Creditors	Discussion with Clouts and Associates regarding realisation of LMA assets and possible dividends. Review email employee. Michael skeggs, review draft reply Stuart Clancy and provide comments to	Corporate - Liquidation
Glenn O'Kearney	Senior Director	18-Jun-14	0.2	560.00		Employees	Kelly.	Corporate - Liquidation
Carly Drew	Administration 2	18-Jun-14	0.2	175.00	35.00	Administration	Prepared Final Letter	Corporate - Liquidation

	nagement Ltd (In Liqui	dation)						
Remuneration to 3 Name	Title	Date	Hours	Charge Out Rate	3,204,515.29 Charge	Task Desc	Narrative	Classification
John Park	Sr Managing Dir	19-Jun-14	0.3	600.00	180.00	Administration	Review and sign various ASIC lodgements	Category 2 - Approved/Unpaid
		1				1		Category 2 -
Renee Lobb	Senior Director	19-Jun-14	0.1	510.00	51.00	Creditors	Send return correspondence to Atkinson Vinden lawyers.	Approved/Unpaid Category 2 -
Benjamin Robson	Consultant I	19-Jun-14	0.4	270.00	108.00	Administration	Resource allocation fee transfers as per Glenn O'Kearney instruction	Approved/Unpaid
Beniamin Robson	Consultant I	19-Jun-14	0.5	270.00	135.00	Creditors	Category 2 AIF/CPF resource funds allocation payments to LMA from funds received from LM/M for June 2013	Category 2 - Approved/Unpaid
		19-001-14	0.0	210.00	133.00	Cieditora	Reconcile service lees que to LMA TOTT LIMM RE. Thanse involces to LMM RE. Instito to Keny	
Glenn O'Kearney	Senior Director	19-Jun-14	1.5	560.00	640.00	Administration	regarding Ima drawings. update SOP regarding payments to LMA. prepare split of Fund time charged to funds across Ima and LMIM.	Approved/Unpaid
Christine Stead	Senior Director	19-Jun-14	7.5	560.00	4,200.00	Administration	Identity books and records not available for collection by MPF. Trustee from records listing provided by MPF Trustee	Category 2 - Approved/Unpaid
Joan Springate	Administration	19-Jun-14	0.3	175.00	52.50	Administration	Setting up Online payment & posting payment	Corporate - Liquidation
Benjamin Robson	Associate II	19-Jun-14	0.2	270.00	54.00	Administration	Various receipt and payment approvals	Corporate - Liquidation
Brittany Newman	Administration 1	19-Jun-14	0.1	135.00	13.50	Administration	Call to Fu, Commonwealth Bank regarding	Corporate - Liquidation
Stuart Clancy	Manager 1	19-Jun-14	0.1	360.00	36.00	Administration	Reviewed banking voucher.	Corporate - Liquidation
Stuart Clancy	Manager 1	19-Jun-14	0.1	360.00	36.00	Administration	Amendments and reviewed opening bank account letter.	Corporate - Liquidation
			0.11				Draning and preparing wir/OUPS request as per email from GUK. Preparing and collating	
Stuart Clancy	Manager 1	19-Jun-14	0.5	360.00		Administration	supporting documents. Uptained additional invoices from CMA and Paviewed and reconciled against control spreadsneet for	Corporate - Liquidation
Stuart Clancy	Manager 1	19-Jun-14	0.2	360.00	72.00	Administration	Obarres additional inforces from Own and revenue and reconciled against control spreadsheet for OOPS payments made to date. Review roan accounts will Live, arrange transfer or runtoS/update to INTOB, review correspondence	Corporate - Liquidation
		[regarding Canadian term deposit, review correspondence creditor, updates to SOP	
Glenn O'Keamey	Senior Director	19-Jun-14	1.7	560.00	952.00	Assets	template/corporate entity, reconcile accounts and source updated creditor info.	Corporate - Liquidation
Christine Stead	Senior Director	19-Jun-14	0.1	560.00	56.00	Administration	Review Electronic Funds Transfer payment	Corporate - Liquidation
Renee Lobb	Senior Director	20-Jun-14	0.2	510.00	102.00	Trade-on	Call with Erghard, Answer queries on our response to management associated application queries.	Category 2 - Approved/Unpaid
Gienn O'Kearney	Senior Director	20-jun-14	0.1	560.00	56.00	Assets	Update in from john k at clouts regarding insurance payments.	Category 2 - Approved/Unpaid
	·····						Correspondence with RFZ and LM regarding ASIC charges, issue ASIC charges to LM for payment	Category 2 - Approved/Unpaid
Benjamin Robson	Consultant I	20-Jun-14		270.00	270.00	Creditors	Reveiw and approve email responses/correspondence replying to creditor/investor queries; review	Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	20-Jun-14	0.2	600.00	120.00	Administration	payment of costs from MPF funds	Approved/Unpaid
Christine Stead	Senior Director	20-Jun-14	2.1	560.00	1,176.00	Administration	Review and categorise MPF books and records listing from KM	Category 2 - Approved/Unpaid
	Seniar Director	20-Jun-14	0.5	560.00		Administration	Finalise review of B&Review Phone Call with Sean regarding delivery of listing and discuss response to Piper Alderman letter (regarding notice from ASIC to produce Maddison feasibility emails)	Category 2 - Approved/Unpaid
							Denvide instructions to D ID DE jacua of ASIC stagges invasion to Evide	Category 2 -
	Senior Director	20-Jun-14	0.1	560.00		Trade-on	Provide instructions to BJR RE issue of ASIC charge invocies to Funds Setting up Online payment & posting payment	Approved/Unpaid Corporate - Liquidation
	Administration	20-Jun-14	0.3	175.00		Administration	Email to CD and JS regarding bank letter and future course of action.	Corporate - Liquidation
Stuart Clancy	Manager 1	20-Jun-14	0.1	360.00	36.00	Administration		Corporate - Liquidation
Stuart Clancy	Manager 1	20-Jun-14	0.1	360.00	36.00	Administration	File review. Work on updated SOP.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	20-Jun-14	1	560.00	560.00	Assets	Work on updated SOP. Further OOPS Invoicing issues and potential pre-appt expense charged to OOPS; review AP invoices	
Christine Stead	Senior Director	20-Jun-14	1.7	560.00	952.00	Administration	and resolve invg with CH Correspondence from the UK Liquidator with respect to the claim in the UK entity. Considered the	Corporate - Liquidation
latthew Glennon	Senior Director	20-Jun-14	0.2	510.00	102.00	Assets	response and email to the UK Liquidator will respect to the claim in the OK citity. Considered the response and email to the UK Liquidator seeking further details.	Corporate - Liquidation
	Consultant I	23-Jun-14	0.2	270.00	54.00	Creditors	Consultants fee register updated	Category 2 - Approved/Unpaid
Blenn O'Kearney	Senior Director	23-Jun-14	0.2	560.00	112.00	Assets	Review russells invoice - RE work records, review FUM split and draft email to LM, note to BJR	Category 2 - Approved/Unpaid

	inagement Ltd (In Liqui	dation)			3 394 545 39			
Remuneration to 3 Name		Date	Hours	Charge Out Rate	3,204,515.29 Charge	Task Desc	Narrative	Classification
Brittany Newman	Administration 1	23-Jun-14	0.2	135.00	27.00	Administration	Prepare WIP for period 19/03/2013 to 23/06/2014 for SAC	Corporate - Liquidation
							Review and update to do list; duery outstanding items keview and approve payment of outstanding administration liabilities including review of supporting documentation and signing of transfer or	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	23-Jun-14	0.1	600.00	60.00	Administration	cheque Review File note CMA regarding cops charge amendments/errors, note from Lucy B regarding	Corporate - Liquidation
Glenn O'Keamey	Senior Director	23-Jun-14	0.5	560.00	280.00		seal/records. reply. discussions CMA and SAC regarding OOPS reconciliation and charges.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	23-Jun-14	1.5	560.00	840.00	Assets	Work on consolidated SOP/cash avail etc. review RTC and creditors listing for info.	Corporate - Liquidation
Christine Stead	Senior Director	23-Jun-14	0.2	560.00	112.00	Administration	file note OOPS error	Corporate - Liquidation
Christine Stead	Senior Director	23-Jun-14	0.3	560.00	168.00	Administration	catch up with GOK/SAC re LM charges	Corporate - Liquidation
Stuart Clancy	Manager 1	23-Jun-14	0.1	360.00	36.00	Administration	File review with GOK.	Corporate - Liquidation
Stuart Clancy	Manager 1	23-Jun-14	0.1	360.00	36.00	Creditors	Discussion with Matt regarding dividend for LMIM UK office and future course of action.	Corporate - Liquidation
		20-001(-14	5.1			0100,010		Category 2 -
Benjamin Robson	Consultant I	24-Jun-14	0.2	270.00	54.00	Creditors	Enquiry to Irene regarding split of EY invoice and fund amounts outstanding as per RFZ request Reveiw CMA assessment of books and records from KM information request; review mail injout re	Approved/Unpaid Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	24-Jun-14	0.2	600.00	120.00	Administration	contact with Piper Alderman re response to ASIC information request	Approved/Unpaid
Kelly-Anne Trenfield	Sr Managing Dir	24-Jun-14	0.1	600.00	60.00	Administration	Review and update to do list; query outstanding items re AIF/MPF	Category 2 - Approved/Unpaid Category 2 -
							Emails in re ASIC information request, review details of review of KM information request re confidentiality deed	Approved/Unpaid
Kelly-Anne Trenheld	Sr Managing Dir	24-Jun-14	0.1	600.00	60.00	Administration		Category 2 -
Christine Stead	Senior Director	24-Jun-14	1.5	560.00	640.00	Administration	review records and collate listing of records not available for release to trustee of MPF	Approved/Linpaid
Joan Springate	Administration	24-Jun-14	0.8	175.00	140.00	Administration	Taking letter & Canadian cheque to bank for a Term deposit	Corporate - Liquidation
John Park	Senior Managing Director	24-Jun-14	0.1	600.00	60.00	Administration	Review correspondence out	Corporate - Liquidation
Brittany Newman	Administration 1	24-Jun-14	0.2	135.00	27.00	Administration	Split files + Allng	Corporate - Liquidation
· · · · · · · · · · · · · · · · · · ·	Administration	24-Jun-14	0.1	175.00	17.50	Administration	Finalised letter to ARITA	Written Off/Not claimed
Marushka Flynn	Administration	24-30(1-14		110.00	11.00	, tarining a direct	Amendments and review WIP/OOPS fee request. Reviewed drait invoice and reviewed email from	
Stuart Clancy	Manager 1	24-Jun-14	0.3	360.00	108.00	Administration	GOK. Review correspondence draft from Clayton Utz to Gadens and email Kelly-Anne Treniled seeking	Corporate - Liquidation Category 2 -
				540.00	4122.00	Tuesda en	confirmation to instruct Clayton Utz to issue. Confirm same with Clayton Utz.	Approved/Unpaid
Renee Lobb	Senior Director	25-Jun-14	0.3	510.00	153.00	Trade-on		Category 2 -
John Park	Sr Managing Dir	25-Jun-14	0.3	600.00	180.00	Administration	Review and settle updates from Ryan Zorgdrager	Approved/Unpaid Category 2 -
Drittomy Mourton	Admin I	25-Jun-14	0.1	135.00	13.50	Administration	Mail out to David Clout & Associates - Correspondence received from AustralianSuper	Approved/Unpaid
Brittany Newman		20-00()-14		100.00			Review email in from Clayton utz re insurance issues and draft response; provide instructions to RCI	Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	25-Jun-14	0.1	600.00	60.00	Administration	re release of corro	Approved/Unpaid
	· · · · ·	11					Discussions with John at clouts regarding funding insurance/amendments to service arrangement/agreement . update sally regarding insurance.	Category 2 - Approved/Unpaid
Glenn O'Keamey	Seniar Director	25-Jun-14	0.2	560.00	112.00	Trade-on	analigementagrachtent : update aany regenang insertence.	Category 2 -
Christine Stead	Senior Director	25-Jun-14	3.7	560.00	2,072.00	Administration	review records and collate listing of quarantined records not available for release to MPF trustee	Approved/Unpaid
Brittany Newman	Administration 1	25-Jun-14	0.1	135.00	13.50	Administration	PM0007164 Mail in from The Trust Company (PTAL) Limited - Tax Invoices PM000/191, PM000/194,	Corporate - Liquidation
Brittany Newman	Administration 1	25⊶Jun-14	0.1	135.00	13.50	Administration	PM0007196, PM0007189, PM0007187 & PM007185	Corporate - Liquidation
Brittany Newman	Administration 1	25-Jun-14	0.1	135.00	13.50	Administration	Mail in from LMIM - Company Seal Stamp	Corporate - Liquidation
Matthew Glennon	Senior Director	25-Jun-14	0.3	510.00	153.00	Administration	Drafting an email to GDM re the Liquidation of the UK entity	Corporate - Liquidation
			2.5					Category 2 -
Renee Lobb	Senior Director	26-Jun-14	0.1	510.00	51.00	Trade-on	Review and fwd to LM Investment Management Ltd to action - transfer request.	Approved/Unpaid Category 2 -
Benjamin Robson	Consultant I	26-Jun-14	0.4	270.00	108.00	Creditors	LM IM capital distribution payments received, reviewed, approved, recorded and returned Correspondence with LM regarding ASIC charges and apportuonment of charges, advise S Tickner to	Approved/Unpaid
Benjamin Robson	Consultant I	26-Jun-14	0.2	270.00	54.00	Creditors	pay ASPF and ICPAIF sections	Approved/Unpaid Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	26-Jun-14	0.3	600.00	180.00	Administration	review response from McGrath Nicol re controllership indemnity; instructions to RF2Letter in from Piper alderman re funding of PE/litigationFLE	Category 2 - Approved/Unpaid

(

LM investment Ma Remuneration to	anagement Ltd (In Liqui 30 June 2018	dation)			3,204,515.29			
Name	THE PLANE THE ALL AND	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Glenn O'Kearney	Senior Director	26-Jun-14	0.5	560.00	280.00	Administration	Update SOP and cash avail Imim corp - KAT discussion JRP regarding fee settlements.	Corporate - Liquidation
Kelly-Anne Trenfield	Sr Managing Dir	27-Jun-14	0.1	600.00	60.00	Administration	emails re correspondence with auditors; claim against trilogy Review draft HOA clouts regarding fund contributions service costs, consider issues and prelim note	Category 2 - Approved/Unpaid Category 2 -
Glenn O'Keamey	Senior Director	27-Jun-14	0.6	560.00	336.00	Trade-on	to Kelly, update in regarding insurance payments clouts.	Approved/Unpaid
Benja min Ro bson	Consultant I	27-Jun-14	0.3	270.00	81.00	Creditors	LMIM Cap distribution payments received from Leanne Troy, printed and collated for signing	Category 2 - Approved/Unpaid
Kelly-Anne Trenfield	Senior Managing Director	27-Jun-14	0.2	600.00	120.00	Administration	heview and approvenequest for protorma involcement onimitalised onining and payment eview and approve payment of outstanding administration liabilities including review of supporting documentation and signing of transfer or chequeReview and update to do list; query outstanding items	Corporate - Liquidation
Joan Springate	Administration	27-Jun-14	0.3	175.00	52.50	Administration	Setting up Online payment & posting payment	Corporate - Liquidation
Joan Springate	Administration	27-Jun-14	0.3	175.00	52,50	Administration	Setting up Online payment & positing payment	Corporate - Liquidation
John Park	Senior Managing Director	27-Jun-14	0.1	600.00	60.00	Administration	Emails in Russells	Corporate - Liquidation
Stuart Clancy	Manager 1	27-Jun-14	0.1	360.00	36.00	Administration	Follow up WIP invoice and payment.	Corporate - Liquidation
Christine Stead	Seniar Director	30-Jun-14	1	560.00	560.00		Identity books and records not available for collection by MPF. Trustee from records listing provided by MPF. Trustee	Category 2 - Approved/Unpaid
Glenn O'Kearney	Senior Director	30-Jun-14	0.5	560.00	280.00	Trade-on	Correspondence with Simon Tickner regarding fund payables/register, review service agreement clouts, note to Kelly regarding issues.	Category 2 - Approved/Unpaid
Kelly-Anne Trenfield	Sr Managing Dir	30-Jun-14	0.4	600.00	240.00	Administration	Review costs/service agreement proposed by DLC remands management business, Review sop to JRP re BDO fee discuss and Russelis claims; Review fee position/approval and drawingsreview RFZ Itr to asic re update	Approved/Unpaid
Stuart Clancy	Manager 1	30-Јил-14	0.1	360.00	36.00	Administration	Follow up BN regarding WIP invoices.	Corporate - Liquidation
Sally McBryde	Managing Director	30-Jun-14	0.1	570.00	57.00	Administration	Email from Robert Tassell of Pikes & Verekers re Auscorp update	Corporate - Liquidation
Brittany Newman	Administration 1	30-Jun-14	0.1	135.00	13.50	Administration	Mail in from ATO - BAS (1 Apr - 30 Jun 2014)	Corporate - Liquidation
Christine Stead	Senior Director	01-Jul-14	0.4	560.00	224.00	Administration	Identity books and records not available for collection by MPF Trustee from records listing provided by MPF Trustee oppose with to-appointee or polistanding makers: Emails from pro-relision and his position with	Category 2 - Approved/Unpaid
Ginette Muller	Senior Managing Director	01-Jul-14	1.5	600.00	900.00	Administration	outstanding matters. discuss next steps. Note correspondence from DTucker and advise thoughts on same. Note emails from Clout and Associate and fwd to KAT and others regarding the services	Corporate - Liquidation
Benjamin Robson	Associate II	01-Jul-14	0.2	270.00	54.00	Creditors	Correspondence with Ian Bisson at Russells - requesting invoices to be amended prior to payment Review updated statement of position; Prepare nemo of outstanding items for Russells; Prepare for	Corporate - Liquidation
John Park	Senior Managing Director	01-Jul-14	1.1	600.00	660.00	Administration	and attend meeting with David Whyte	Corporate - Liquidation
Tanya Kratz	Administration 2	01-Jul-14	0.5	175.00	87.50	Administration	2x Insert electronic signature in reports as approved, and Finalise.	Corporate - Liquidation
Keliy-Anne Trenfield	Senior Managing Director	01-Jul-14	0,1	600.00	60.00	Administration	Emails in re fee position; jrp re response to pipers	Corporate - Liquidation
Brittany Newman	Administration 1	01-Jul-14	0.1	135.00	13.50	Administration	Filing	Corporate - Liquidation
Kelly-Anne Trenfield	Sr Managing Dir	02-Jul-14	0.2	600.00	120.00	Administration	Draft letter to Piper Alderman re offer re litigation/fundingreview fund update from RFZ	Category 2 - Approved/Unpaid
Christine Stead	Senior Director	02-Jul-14	3.7	560.00	2,072.00	Administration	Identity books and records not available for collection by MPF. Instee from records listing provided by MPF. Trustee	Category 2 - Approved/Unpaid Category 2 -
Glenn O'Kearney	Senior Director	02-Jul-14	0.2	560.00	112.00	Trade-on	Draft and issue note to LMA regarding HOA service agreement for fund/operation costs.	Approved/Unpaid
Ginette Muller	Senior Managing Director	02-Jul-14	0.5	600.00	300.00	Administration	Review UK situation with Matt Glennon. Agree on letter to be sent to Lisa at the UK office. Meeting with GDM re the UK entity liquidation. Prepared a drait small to GDM to issue to the UK re	Corporate - Liquidation
Matthew Glennon	Senior Director	02-Jul-14	0.6	510.00	306.00	Administration	the finalisation of the UK Liquidation	Corporate - Liquidation
Damian Bender	Managing Director	02-Jui-14	2	600.00	1,200.00	Administration		Corporate - Liquidation
Damian Bender	Managing Director	02-Jul-14	1	600.00	600.00	Creditors	LM appeal costs issue consider, review correspondence russells	Corporate - Liquidation
Benjamin Robson	Consultant I	03-Jul-14	0.3	270.00	81.00	Creditors	Obitespondence with Eccurice troy regulating family in the	Category 2 - Approved/Unpaid

	anagement Ltd (In Liqui	dation)						
Remuneration to Name	Title	Date	Hours	Charge Out Rate	3,204,515.29 Charge	Task Desc	Narrative	Classification
Benjamin Robson	Consultant I	03-Jul-14	0.8	270.00	216.00	Creditors	Correspondence with I Caling from LM in regards to reconciliation of payroll liabilities for LMA - retrieve and send multiple payment vouchers from filing and work with Irene to reconcile payments	Category 2 - Approved/Unpaid
Renee Lobb	Seniar Director	03-Jul-14	0.2	510.00	102.00	Trade-on	Review and respond and forward on admin queries regarding investment transfers etc.	Category 2 - Approved/Unpaid
Christine Stead	Senior Director	03-Jui-14	3.5	560.00	1,960.00	Administration	Identity books and records not available for collection by MPF Trustee from records listing provided by MPF Trustee	Category 2 - Approved/Unpaid
Carly Drew	Administration 2	03-Jul-14	0.1	175.00	17.50	Administration	Scanned in 524s to RFZ, requested previous documents to be provided for KAT to review	Corporate - Liquidation
John Park	Senior Managing Director	03-Jul-14	0.1	600.00	60.00	Administration	Settle letter to Piper Alderman	Corporate - Liquidation
Brittany Newman	Administration 1	03-Jul-14	0.1	135.00	13.50	Administration	Request final invoice	Corporate - Liquidation
Brittany Newman	Administration 1	03-Jul-14	0.1	135.00	13.50	Administration	Mail in from Norton Rose Fulbright - Tax Invoice 1274602	Corporate - Liquidation
Brittany Newman	Administration 1	03-Jul-14	0.1	135.00	13.50	Administration	Received final invoice, enter in MYOB + prepare payment voucher - FTI Invoice 7352576	Corporate - Liquidation
Stuart Clancy	Manager 1	03-Jul-14	0.1	360.00	36.00	Administration	Follow up BN regarding LM invoice.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	03-Jul-14	0.3	560.00	168.00		Review order regarding leave app/bellpac.	Corporate - Liquidation
Gienn O Keanley		00-00-14	0.0		100.00	Ordanoro	Email from the UK re the finalisation of the UK entity Liquidation. Email to FIK re an update on the HK	
Matthew Glennon	Senior Director	03-Jui-14	0.2	510.00	102.00	Administration	entity Liquidation	Corporate - Liquidation
Damian Bender	Managing Director	03-Jul-14	1	600.00	600.00	Administration	Discussions KWM re orders , review of orders	Corporate - Liquidation
							Correspondence with Zoran M, Leanne Troy and I Caling from LM and arranging LM Payment	Category 2 -
Benjamin Robson	Consultant I	04-Jul-14	0.4	270.00	108.00	Creditors	batches. General updates to LM payment schedule register - ensure spreadsheets correctly correlating and	Approved/Unpaid Category 2 -
	0	D4 5444	0.7	270.00	180.00	Creditors	amending various allocations and amounts	Approved/Unpaid
Benjamin Robson	Consultant I	04-Jul-14	0.7	270.00	109.00	Creditors	Review email requesting clarification on fund investment. Try searching by name. When unsuccessful	Category 2 -
Renee Lobb	Senior Director	04-Jul-14	0.2	510.00	102.00	Trade-on	request investor number to assist.	Approved/Unpaid
Nelice Lobb							Finalise draft correspondence; email to Amanda banton re PE/litigation fundingReview incoming	Cătegory 2 -
Kelly-Anne Trenfield	Sr Managing Dir	04-Jul-14	0.2	600.00	120.00	Administration	documentation, consider and send to filing	Approved/Unpaid Category 2 -
				con 00	440.00	Trada an	Review email BJR regarding reconciliation operational costs June 2014, review reconciliation of accounts, reply to BJR	Approved/Unpaid
Glenn O'Kearney	Senior Director	04-Jul-14	0.2	560.00		Trade-on	Formatted electronic letterhead document for KAT	Corporate - Liquidation
Carly Drew	Administration 2	04-Jul-14	0.1	175.00		Administration		Corporate - Liquidation
John Park	Senior Managing Director	04-Jul-14	0.4	600.00	240.00	Administration	File raview meeting GDM /DJB; Letter out McGrath Nicol	Corporate - Elquidation
						.	same. Need to get costs of the first hearing sorted with Trilogy. Consider other topics for our meeting including what they are currently doing and how we can resolve matters to best meet investors expectations. How to get investors some of their money is an ongoing and difficult question which needs to be discussed with Trilogy.	Corporate - Liquidation
Ginette Muller	Senior Managing Director	04-Jul-14	0.5	600.00	300.00	Administration	Review email from investor. Look up in investor list by name and respond advising in Managed	Category 2
Renee Lobb	Senior Director	07-Juí-14	0.2	510.00	102.00	Trade-on	Performance Fund and to contact trustees.	Approved/Unpaid
Renee Lobb	Senior Director	07-Jul-14	0.2	510.00		Investigations	Review Relig-Anne Trentield enquiry regarding estimated costs of insurance policy claims process. Provide letter with estimated costs.	Corporate - Liquidation
Renee Lobb	Senior Director	07-Jul-14	0.1	510.00		Investigations	Review correspondence to managed Penormance Fund solicitors regarding proposed insurance scheme. Confirm okay to send.	Corporate - Liquidation
	Consultant I	07-Jul-14	0.2	135.00		Administration	Submitting statuary documents at ASIC	Corporate - Liquidation
Leo Guthrie		07-Jul-14	0.2	175.00		Administration	524s scanned and emailed to RFZ	Corporate - Liquidation
Carly Drew	Administration 2	U7-JUI-14	0.3		52,00		Review cost into from mprimatter, discuss cred correspondence Stuart Clancy, discuss 524 and AGM	
Glenn O'Kearney	Senior Director	07-Jul-14	0.5	560.00	280.00	Creditors	Stuart Clancy. Emails in re settlement of MPP costs; instructions to GOK, response to Sean	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	07-Jul-14	0.5	600.00	300.00	Administration	Russellfiling/emailsreview letter to minter Ellison from Clayton Utz; query to RCL re costs	Corporate - Liquidation
tony same richaide	Person managing provide						Find judgment and appeal documents and sent to I anya for printing for gdm. discuss updates on	Category 2 -
Renee Lobb	Senior Director	08-Jul-14	0.3	510.00	153.00	Trade-on	funds and insurance with Ginette Muller also. Reply to query and seek copy of book records agreement . review agreement and application to	Approved/Unpaid Category 2 -
Glenn O'Kearney	Senior Director	08-Jul-14	0.5	560.00	280.00	Trade-on	service agreement, update Kelly status of service agreement with LMA.	Approved/Unpaid Category 2 -
Christine Stead	Senior Director	08-Jul-14	1	560.00	560.00	Administration	Identity books and records not available for collection by MPF Trustee from records listing provided by MPF Trustee	Approved/Unpaid

 \square

285

	anagement Ltd (In Liqui	dation)						
Remuneration to Name		Date	Hours	Charge Out Rate	3,204,515.29 Charge	Task Desc	Narrative	Classification
							review emain nom nom nowaru or Arkinson vincen Lawyers. Send email to Keny-Anne mentelu regarding getting Clayton Utz to draft insurer notification. Attached previous correspondence to same	
Renee Lobb	Senior Director	08-Jul-14	0.2	510.00	102.00	Investigations	and respond to email from Tom Howard advising we will notify insurer.	Corporate - Liquidation
Renee Lobb	Senior Director	08-Jul-14	0.1	510.00	51.00		Review request for copy of Insurance policy. Sent to Chris Erfurt at Clayton Utz to advise.	Corporate - Liquidation
Tanva Kratz	Administration 2	08-Jul-14	0.2	175.00	35.00	Administration	Compile LM Supreme Court Judgements 2013 - 2014 folder for GDM as requested.	Corporate - Liquidation
John Park	Senior Managing Director	08-Jul-14	0.7	600.00	420.00	Administration	Attend meeting with Trilogy in Sydney	Corporate - Liquidation
Brittany Newman	Administration 1	08-Jul-14	0.1	135.00	13.50	Administration	Mail in from Financial Ombudsman Service - Tax Invoice 15478	Corporate - Liquidation
Brittany Newman	Administration 1	08-Jul-14	0.3	135.00	40.50	Administration	Enter missing transactions for June 2014 in MYOB + reconcile accounts as at 30/06/2014	Corporate - Liquidation
							Review file regarding tucker costs, note to Kelly to confirm and instruct BJR to pay, note to Stuart	Corporate - Liquidation
Glenn O'Kearney	Senior Director	08-Jui-14	0.2	560.00	112.00		Clancy regarding bank account/interest etc.	Corporate - Liquidation
Christine Stead	Senior Director	08-Jul-14	0.1	560.00		Administration	review EFT payment Review supplementary 533report for Peter drake	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	08-Jul-14	0.4	600.00	240.00		emails in re notification; RCI re use of CU	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	08-Jul-14	0.1	600.00	60.00	Administration	remails in renouncation, RCI reliase of CO Review and update to do list; query outstanding items review incoming documentation, consider and	Corporate - Equidation
Kelly-Anne Trenfield	Senior Managing Director	08-Jut-14	0.1	600.00	60.00	Administration	send to filing	Corporate - Liquidation
Ginette Muller	Senior Managing Director	08-Jul-14	ŧ	600.00	600.00	Administration	resolve matters to best meet investors expectations. How to get investors owner of their money is an ongoing and difficult question which needs to be discussed with Trilogy. Agreed to use Mallesons and set out a course of action which may need court approval. Update DJB regarding same. Agree to speak with Mallesons. Send email to GOK re costs. Trilogy think \$30k is fair but want to understand whether we have to go through any other hoops.	Corporate - Liquidation
							This time relates to reviewing mes, submissions and appear information Please ensure this time is w/off and not billed to the client as this time is for internal recording purposes only and as agreed	
Ginette Muller	Senior Managing Director	08-Jul-14	2	600.00	1,200.00	Administration	cannot be claimed against the client file.	Written Off/Not claimed Category 2 -
 Benjamin Robsoл	Consultant I	09-Jul-14	0.2	270.00	54.00	Creditors	Payment of FOS invoice regarding Alec hodge	Approved/Unpaid
Benjamin Kobaon	Conducant						Identify books and records not available for collection by MPF. I rustee from records listing provided	Category 2
Christine Stead	Senior Director	09-Jul-14	2.6	560.00		Administration	by MPF Trustee	Approved/Unpaid Corporate - Liquidation
Ann Clark	Administration II	09-Jui-14	0.1	175.00	17.50	Administration	Paying in slip	Corporate - Liquidation
Stuart Clancy	Manager 1	09-Jul-14	0.1	360.00	36.00	Administration	Memo to BN regarding obtaining TFN for company	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	09-Jul-14	0.1	600.00	60.00	Administration	JRP re administration update	Corporate - Liquidation
Renee Lobb	Senior Director	10-Jul-14	0.1	510.00	51.00	Investigations	Review insurance email from Clayton UIz and respond to Atkinson vinden lawyers.	Corporate - Elduroadour
Renee Lobb	Senior Director	10-Jul-14	0.1	510.00	51.00	investigations	Review response from Atkinson vinden lawyers regarding policy documents. Fwd to Clayton Utz.	Corporate - Liquidation
Brittany Newman	Administration 1	10-Jul-14	0.4	135.00	54.00	Administration	Call to ATO to obtain tax file number for LMIM	Corporate - Liquidation
Brittany Newman	Administration 1	10-Jul-14	0.4	135.00	54.00	Administration	Reconcile accounts as at 30/06/2014 & prepare BAS (1 Apr - 30 Jun 2014)	Corporate - Liquidation
Brittany Newman	Administration 1	10-Jul-14	0.1	135.00	13.50	Administration	Call to Commonwealth Bank to advise TFN for LMIM	Corporate - Liquidation
							reaview issues insuscine aid pre meeting, review status or matters pre meeting, update ionin JAC regarding sup report etc, tele meeting with Kelly to discuss outstanding LMIM issues list, notes for	Comporte Liquidation
Glenn O'Kearney	Senior Director	10-Jul-14	1.7	560.00	952.00	Administration	proparation of memory post modeling that support	Corporate - Liquidation Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	10-Jul-14	0.7	600.00	420.00	Administration	Meeting with GOK re LM issues memo and review Emails from investors, updates and requests to stall regarding progress of various matters. Email re	Corporate - Elquidation
							SCR. Review issues and arrange for folders to be setup on orders of Dalton etc. Revisit the orders.	
Ginette Muller	Senior Managing Director	10-Jul-14	2	600.00	1,200.00	Administration	Discuss with D.IB and JRP regulariy.	Corporate - Liquidation
							regarding claims on foot, progress with KM and BDO and status of funds claims. discuss articulation	
			ļ	1		1	of claims for other fund where we remain acting RE. Emails to FTI LM Investment Management Ltd	Category 2 -
Renee Lobb	Senior Director	11-Jul-14	0.6	510.00	306.00	Investigations		Approved/Unpaid Category 2 -
Christine Stead	Senjar Director	11-Jul-14	2.4	560.00	1.344.00	Administration	Identify books and records not available for collection by MPF. I rustee from records listing provided by MPF Trustee	Category 2 - Approved/Unpaid
	Associate II	11-Jul-14	0.3	270.00		Administration	LMIM WIP dump for June Qir 2014	Corporate - Liquidation
Benjamin Robson		11-Jul-14	0.3	600.00		Administration		Corporate - Liquidation
ohn Park	Senior Managing Director	11-Jul-14	0.1	00.000	00.00			

Remuneration to	(1) Charles and South and the state of th				3,204,515.29			C I
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative пустем status of mersour negarissues, reconcise myop and account and prepare updated sorr-	Classification
							prepare memo for discussion with team on all outstanding issues on file. discussions with Renee regarding insurance matters and avail asset recovery. note to RFZ regarding advisor position.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	11-Jul-14	3.5	560.00	1,960.00		Prepare memo and send draft to Kelly.	
Stuart Clancy	Manager 1	11- J ul-14	0.1	360.00	36.00		Reviewed remittance advice	Corporate - Liquidation Corporate - Liquidation
Stuart Clancy	Manager 1	11-Jul-14	0.1	360.00	36.00		Reviewed BAS prepared by BN and memo regarding amendments	
Stuart Clancy	Manager 1	11-Jul-14	0.1	360.00	36.00	-	Email correspondence with GOK regarding TFN and interest.	Corporate - Liquidation
Stuart Clancy	Manager 1	11-J⊔l-14	0.2	360.00	72.00	Administration	Reviewed OOPS dump and sent through to GOK as per instructions.	Corporate - Liquidation
John Corbett	Managing Director	11-Jul-14	0.5	570.00	285.00	Trade-On	Review of correspondance.	Corporate - Liquidation Category 2 -
Renee Lobb	Senior Director	14-Jui-14	0.1	510.00	51.00	Administration	Send database update requests to LM Investment Management Ltd staff for actioning.	Approved/Unpaid
Benjamin Robson	Consultant I	14-Jul-14	0.2	270.00	54.00	Administration	Formatting of June Qtr data and final collated spreadsheet for review Identity books and records not available for collection by MPF Trustee from records listing provided	Approved/Unpaid Category 2 -
Christine Stead	Senior Director	14-Jul-14	1.3	560.00	728.00	Administration	by MPF Trustee	Approved/Unpaid
Christine Stead	Senior Director	14-Jul-14	2.5	560.00	-	Administration	Identity books and records not available for collection by MPF Trustee from records listing provided by MPF Trustee	Category 2 - Approved/Unpaid
				540.00	400.00		Review correspondence from Gadens and proposed response to them dratted by Clayton Utz. Confirm with Kelly-Anne Trenfield okay to send.	Corporate - Liquidation
Renee Lobb	Senior Director	14-Jul-14	0.2	510.00		Investigations	Review response to Atkinson Vinden from Clayton Utz. Send same.	Corporate Liquidation
Renee Lobb	Senior Director	14-Jul-14	0.1	510.00	51.00	Investigations	Amend BAS (1 Apr - 30 Jun 2014)	Corporate Liquidation
Brittany Newman	Administration 1	14-Jul-14	0.1	135.00	13.50	Administration	Filing	Corporate - Liquidation
Brittany Newman	Administration 1	14-Jul-14	0.1	135.00	13.50	Administration	Reviewed BAS and memo to BN regarding amendments.	Corporate - Liquidation
Stuart Clancy	Manager 1	14-Jul-14	0.1	360.00	36.00	Administration	Update from CMA regarding books and records issues, review status file/amendment - as provided to	
Glenn O'Kearney	Senior Director	14-Jul-14	0.2	560.00	112.00	Administration	Kelly.	Corporate - Liquidation
							Identity books and records not available for collection by MPF Trustee from records listing provided	Category 2 - Approved/Unpaid
Christine Stead	Senior Director	15-Jul-14	7.2	560.00	4,032.00	Administration	by MPF Trustee Review of June of tee summary, allocations of responsible entity time, update tracking sheet with all	Category 2 -
Glenn O'Keamey	Senior Director	15-Jul-14	1.5	560.00	840.00	Administration	fund wip allocations, note to Kelly regarding allocation review.	Approved/Unpaid
Brittany Newman	Administration 1	15-Jul-14	0.2	135.00	27.00	Administration	Call to Commonwealth Bank to find out interest rates applied to LM accounts.	Corporate - Liquidation
	Associate II	15-Jul-14	0.2	270.00		Administration	Une EOM FUM figures requested from Steve Hannan	Corporate - Liquidation
Benjamin Robson	Associate II		0,2	210.00	04.00	/ tarimino quelot,	Email to BN regarding interest and update on TFN. Memo to GOK regarding update. Memo to BN to	
Stuart Clancy	Manager 1	15-Jul-14	0.3	360.00	108.00	Administration	arrange for high interest account to be open. Review of June of tee summary, allocations of corporate entity time, update tracking sheet with	Corporate - Liquidation
Glenn O'Keamey	Senior Director	15-Jul-14	1	560.00	560.00	Administration	corporate allocations.	Corporate - Liquidation
Renee Lobb	Senior Director	16-Jul-14	0.1	510.00		Trade-on	Review email and respond. Fwd to LMIM for investigation into website issue.	Category 2 - Approved/Unpaid
,			0.1	510.00	51.00	Trade-on	Respond to email from RFZ with details of claims submitted to insurer to date.	Category 2 - Approved/Unpaid
Renee Lobb	Senior Director	16-Jul-14		510.00	51.00	Tiade-on		Category 2 -
Renee Lobb	Senior Director	16-Jul-14	0.2	510.00	102.00	Investigations	Review email from RFZ regarding potential claims. Commentary to Kelly-Anne Trenfield on same.	Approved/Unpaid Category 2 -
Renee Lobb	Senior Director	16-Jul-14	0.2	510.00	102.00	Administration	Update from LM Investment Management Ltd stalf on enquiry levels and timing for reply. Discuss issues with website also.	Approved/Unpaid
							Review invoices and fee allocations for fundsemails in insurance and details of potential claimsreview	Category 2 -
Kally Appe Trepfic!-	Sr Managing Dir	16-Jui-14	0.3	600.00	180.00	Administration	correspondence in from Clayton Utz re request for provision of insurance policy from BDO	Approved/Unpaid
Kelly-Anne Trenfield		10-000-14	0.0	000,00			Identify books and records not available for collection by MPF. Trustee from records listing provided	Category 2 -
Christine Stead	Senior Director	16-Jul-14	7.6	560.00	4,256.00	Administration	by MPF Trustee Discussions ref=z regarding insurance matters, review prev contespondence regarding insurance.	Approved/Unpaid
							review comments Ryan zorgdrager on WIP review. reply regarding fund related charges.	Category 2 -
Glenn O'Keamev	Senior Director	16-Jul-14	1	560.00	560.00	Administration	amendments to spreadsheet regarding allocations and toe to Kelly regarding cat 2 fund costs .	Approved/Unpaid
Gierin O Reamey		10-00-14		00000			Call back Chris Enurit at Clayton Utz. Discuss Atkinson Vinden claim and likely claims able to be	Corporate - Liquidation
Renee Lobb	Senior Director	16-Jul-14	0.3	510.00	153.00	Investigations	brought by ICPAIF and CPAIF. Email to RFZ and team regarding required information.	

LM Investment M Remuneration to	anagement Ltd (In Liqui 30 June 2018	dation}			3,204,515.29	- -		
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Megan Dopking	Administrative	16-Jul-14	0.3	135.00	40.50	Administration	Bank reconciliation	Corporate - Liquidation
Damian Bender	Managing Director	16-Jul-14	1	600.00	600.00	Administration	Review of position with JRP /GDM - gold tower	Corporate - Liquidation
Renee Lobb	Senior Director	17-Jul-14	0.1	510.00	51.00	Investigations	Review email from RFZ regarding insurance matters. Raise issues with Kelly-Anne Trenfield.	Category 2 - Approved/Unpaid
Benjamin Robson	Consultant I	17-Jul-14	0.3	270.00	81.00	Creditors	Scan and send PTAL invoices to LM for payment from their respective funds, notify LM that no register of funds kept by Liquidators (not expressly incurred)	Category 2 - Approved/Unpaid
Glenn O'Keamey	Senior Director	17-Jul-14	0.5	560.00	280.00	Trade-on	Contraint and issue Follow up Crout and associates an lowing detain on operating cost contributions for our funds, review custody fees all funds, instruct BJR to issue to LM, call from DLC to discuss, discuss fund allocations/negotiations with LMA/MN with RFZ Mail in from The Trust Company (PTAL) Limited - Tax Invoices PMU00/190, PM000/198,	Category 2 - Approved/Unpaid Category 2 -
Brittany Newman	Admin L	17-Jul-14	0,1	135.00	13.50	Administration	PM0007186, PM0007192, PM0007198 & PM0007195	Approved/Unpaid
Renee Lobb	Senior Director	17-Jul-14	0.3	510.00	153.00		Meeting with Kelly-Anne Trenfield to discuss insurance claims and way forward.	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	17-Jul-14	0.2	600.00	120.00	Assets	Meeting with RCL re insurance	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	17-Jul-14	0.1	600.00	60.00	Administration	Review and approve payment of outstanding administration liabilities including review of supporting documentation and signing of transfer or cheque	Corporate - Liquidation
Kelly-Anne Trenfield	Sr Managing Dir	18-Jul-14	0.1	600.00	60.00	Administration	Emails in fee disputes; cma re books and records review	Category 2 - Approved/Unpaid
Renee Lobb	Senior Director	18-Jul-14	0.2	510.00	102.00	Investigations	Email to Chris setting out claims following meeting with Kelly-Anne Trenfield yesterday. Review and update to do list; query outstanding items keview incoming documentation, consider and	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	18-Jul-14	0.1	600.00	60.00	Administration	send to filing	Corporate - Liquidation
Glenn O'Kearney	Senior Director	21-Jui-14	0.1	560.00	56.00	Trade-on	Note from Clouts, repl regarding continnation of additional info we required to assess service aggreement on behalf of funds.	Category 2 - Approved/Unpaid
Kellv-Anne Trenfield	Senior Managing Director	21-Jul-14	0.8	600.00	480-00	Administration	Review o/s issues - review como re BUU fee application - review position re Fill tees - review issues memo	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	21-Jul-14	0.3			Administration	Review outstanding administrative issues and legal issues	Corporate - Liquidation
Stuart Clancy	Manager 1	21-Jul-14	0.2	360.00	72.00	Administration	Follow up bank account regarding Canadian funds	Written Off/Not claimed
Glenn O'Kearney	Senior Director	21-Jul-14i	1.7	560.00	952.00	Administration	review comments from WAT on status memo all matters, prepare amendments to memo as per WAT instructions, updates to SOP for annexure, discussions with Kelly regarding update LMIM matters, discuss rlobb regarding insurance matters LMIM corporate.	Written Off/Not claimed
Brittany Newman	Administration 1	21-Jul-14	0.1	135.00	13.50	Administration	Mail out to ATO - BAS (1 Apr - 30 Jun 2014) DOC ID 30 408 676 730 + update GC BAS register	Corporate - Liquidation
	· · · · · · · · · · · · · · · · · · ·						Identity books and records not available for collection by MPF' I rustee from records listing provided by MPF Trustee	Category 2 - Approved/Unpaid
Christine Stead	Senior Director	22-Jul-14	1.1	560.00	616.00	Administration		Category 2 -
Glenn O'Keamey	Senior Director	22-Jul-14	0.2	560.00	112.00	Administration	Reconcile consultant register with BJR\$R regarding allocations and invoices to Funds. Discussion with GOK regarding progress and information received on likely claims. Discuss advice to	Approved/Unpaid
Renee Lobb	Senior Director	22-Jul-14	0.2	510.00	102.00	Investigations	come from Clayton Utz.	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	22-Jul-14	0.2	600.00	120.00	Administration	Emails in re updates/fee approvalsfinalise summary memo	Corporate - Liquidation
John Park	Senior Managing Director	22-Jul-14	0.7	600.00	420.00	Administration	Review updated memo on all outstanding matters	Corporate - Liquidation
Renee Lobb	Senior Director	23-Jul-14	0.3	510.00	153.00	Trade-on	Call from adviser seeking update on numerous lunds which he has clients in. Provide updates and answer queries.	Category 2 - Approved/Unpaid Category 2 -
Ryan Zorgdrager	Senior Director	23-Jul-14	0.2	560.00	112.00	Trade-on	Conference with GOK provide summary of outstanding fund issues	Approved/Unpaid
Renee Lobb	Senior Director	23-Jul-14	0.1	510.00	51.00	Administration	Review email regarding fees for Clayton Uz, file same after responding. Review status memo and summary of outstanding legal matters; review and sign correspondence	Corporate - Liquidation
John Park	Senior Managing Director	23-Jul-14	0.6	600.00	360.00	Administration	Review status memo and summary of outstanding legal marters, review and sign correspondence for Ryan Zorgdrager Carl from Clayton Utz régarding payment of invoices, note to nobb regarding tund contributions to	Corporate - Liquidation
Glenn O'Kearney	Senior Director	23-Jul-14	0.2	560.00	112.00	Administration	costs.	Written Off/Not claimed
Glenn O'Kearney	Senior Director	23-Jul-14	1.5	560.00	840.00	Administration	Update LMIM status memo to include current SUP annexure and legal matters annexure. discuss amendments to memo with RFZ - amend and recirculate	Corporate - Liquidation
Ryan Zorgdrager	Director 2	29-Jul-14	0.6	560.00	336.00	Trade-On	Review of issues list for GOK to provide to JRP / KAT	Corporate - Liquidation
Brittany Newman	Administration 1	23-Jul-14	0.1	135.00	13.50	Administration	Mair in from LM investment Management Limited - Correspondence from Norton Rose Fulbright - Solicitors representation letter	Corporate - Liquidation

IN Investment M Remuneration to	anagement Ltd (in Liqui 30 June 2018	dation)			3,204,515.29			
Name	Title	Date	Hours	Charge Out Rate		Task Desc	Narrative	Classification
		erin direction in the second second	1				This time relates to reviewing menore from KAT to timin matters, considering appear mormation,	•
					000.00	0 starlate for the se	Please ensure this time is w/off and not billed to the client as this time is for internal recording purposes only and as agreed cannot be claimed against the client file.	Written Off/Not claimed
Ginette Muller	Senior Managing Director	23-Jul-14	1	600.00	600.00	Administration	Honory and as agreed cannot be clamed against the origin inc.	Category 2 -
Christine Stead	Senior Director	24-Jul-14	1.8	560.00	1,008.00	Administration	by MPF Trustee	Approved/Unpaid
Deviewie Reheen	Associate II	24-Jul-14	2	270.00	540.00	Creditors	Consultants tee register reconciliation - ensure all invoices saved in hard and soft copy, follow up outstanding payments, review of entire register data	Corporate - Liquidation
Benjamin Robson Glenn O'Kearnev	Senior Director	24-Jul-14	0.3		168.00		Prepare agenda for meeting on LMIM matters with legal advisors	Corporate - Liquidation
James Court	Director 1	24-Jul-14	1	510.00	510.00		Supp s 553 report for Peter Drake	Corporate - Liquidation
ddines Obdit	Director 1	24 001 14		01000			This time relates to reviewing the note from KAT te Livit matters, considering appear mormation.	
	B			600.00	600.00	Administration	Please ensure this time is w/off and not billed to the client as this time is for internal recording purposes only and as agreed cannot be claimed against the client file.	Written Off/Not claimed
Ginette Muller	Senior Managing Director	24-Jul-14	1	600.00	600.00	Administration		Category 2 -
Benjamin Robson	Consultant I	25-Jul-14	0.2	270.00	54.00	Creditors	June 2014 Qtr FUM figures averaged out	Approved/Unpaid
		1					Review LMA service agreement clouts, amenuments, review considentially regime acoments, review consultant register and advise Kelly regarding Clayton utz bills, review FUM average June Qtr. note	Category 2 -
Glenn O'Keamey	Senior Director	25-Jul-14	1	560.00	560.00	Trade-on	RFZ query on fund values and discuss with RFZ 1	Approved/Unpaid
Carly Drew	Administration 2	25-Jul-14	0.2	175.00	35.00	Assets	Witnessed JRP signature on contracts, checked all stickers had been signed	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	25-Jul-14	0.1	600.00	60.00	Administration	review draft agenda and update memo	Corporate - Liquidation
Renee Lobb	Senior Director	25-Jul-14	0.1	510.00	51.00	Trade-On	Review emails regarding Clayton Utz invoices and ageing.	Corporate - Liquidation
							update consultants register with days payment continuations, conversation with I calling providing lis of outstanding payments as per fee register for FTI remuneration	t Corporate - Liquidation
Benjamin Robson	Associate It	25-Jul-14	0.4	270.00	108.00	Creditors	Filing	Corporate - Liquidation
Brittany Newman	Administration 1	25-Jul-14	0.1	135.00	13.50	Administration	This time relates to reviewing hierone nom KAT re Livitiw matters; considering appear information:	
						5	Please ensure this time is w/off and not billed to the client as this time is for internal recording	Mailter Official states
Ginette Muller	Senior Managing Director	25-Jul-14	1	600.00	600.00	Administration	purposes only and as agreed cannot be claimed against the client file. Review email regarding change of address, respond with process to be follow and where to send	Written Off/Not claimed Category 2 -
Renee Lobb	Senior Director	28-Jul-14	0.2	510.00	102.00	Trade-on	same.	Approved/Unpaid
Renee LODD		20-04-14	0.2	0,0.00	102.00	11200 011	Discussions CMA regarding books an records agreement regarding fund records/LMA service	
							agreement etc. review letter from Clayton Utz regarding insurance advice summary regarding LMIM	
						ļ	as RE. Review FUM average. prepare calculations of allocation of RE remuneration by FUM June	Category 2 -
Gienn O'Keamey	Senior Director	28-Jui-14	1	560.00	560.00	Assets	Qtr. update master tracking sheet, follow up Kelly regarding response regarding cat fees.	Approved/Unpaid Category 2 -
				500.00	4 729 00	6 desinintention	Identity books and records not available for collection by MPF Trustee from records listing provided by MPF Trustee	Approved/Unpaid
Christine Stead	Senior Director	28-Jul-14	3.1	560.00	1,730.00	Administration	Review 6 page contespondence or advice from Clayton Otz. white comments for Kelly-Africe Trenileio	
							and send for review. Review also and make comments on draft notification for the Ausbec matter.	Corporate - Liquidation
Renee Lobb	Senior Director	28-Jul-14	0.6	510.00		Investigations	Send to Kelly-Anne Trenfield also. Discussions with Kelly-Anne Trenfield regarding insurance issues and notes/spec costs etc.	Corporate - Liquidation
Renee Lobb	Senior Director	28-Jul-14	0.2	510.00	102.00	Investigations	Discussions with Keily-Anne Tremelo regarding insufance issues and holesispec costs are.	
Brittany Newman	Administration 1	28-Jul-14	0.1	135.00	13.50	Administration	June 2014	Corporate - Liquidation
Glenn O'Kearney	Senior Director	28-Jul-14	0.2	560.00	112.00	Administration	Finalsie agenda for Thursday meeting. note Ben Robson regarding Clayton Utz payments.	Corporate - Liquidation
Glenn O'Keamey	Senior Director	28-Jul-14	0.2	560.00	112.00	Administration	Call form john hendersen regarding eghard and update on administration	Corporate - Liquidation
John Park	Senior Managing Director	28-Jul-14	0.3	600.00	180.00	Administration	Email Russells with settled agenda for meeting	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	28-Jul-14	0.1	600.00	60.00	Administration	emails in; JRp/GOK re meeting with Russells; review position re outstanding legal costs	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	28-Ju}-14	0.1	600.00	60.00	Investigations	review final draft of Peter Drake's supplementary 533 report	Corporate - Liquidation
Damian Bender	Managing Director	28-Jul-14	1.5	600.00	900.00	Administration	Review status memo	Corporate - Liquidation
Renec Lobb	Senior Director	29-Jul-14	0.1	510.00	51.00	Administration	Review, scan and send to LM Investment Management Ltd database address update request.	Category 2 - Approved/Unpaid
						Administration	review email from Sean Russell and correspondence from Piper Alderman	Category 2 - Approved/Unpaid
Christine Stead	Senior Director	29-Jul-14	0.1	560.00			call to Fusurin Yu, Commonweatin Bank seeing information on opening accounts with higher interest -	Corporate - Liquidation
Brittany Newman	Administration 1	29-Jul-14	0.1	135.00	13.50	Administration	no answer, await call back	Corporato - Liquidadon

 $\widehat{}$

	anagement Ltd (ln Liqui	dation)			3,204,515.29			
Remuneration to 3 Name	Title	Date	Hours	Charge Out Rate	3,204,515.29 Charge	Task Desc	Narrative	Classification
Stuart Clancy	Manager 1	29-Jul-14	0.1	360.00	36.00	Administration	Reviewed bank account regarding Canadian lunds.	Corporate - Liquidation
Stuart Clancy	Manager 1	29-Jul-14	0.1	360.00	36.00	Administration	Reviewing bank account for BAS refunds	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	29-Jul-14	0.3	600.00	180.00	Administration	Review incoming documentation, consider and send to filing; Review and update to do list; query outstanding items	Corporate - Liquidation Category 2 -
Renee Labb	Senior Director	30-Jul-14	0.3	510.00	153.00	Trade-on	Call from investor regarding change of address. print form and mail after providing fund update.	Approved/Unpaid Category 2 -
Benjamin Robson	Consultant I	30-Jul-14	0.4	270.00	108.00	Creditors	LM Payment batches - arrange payments to be signed, reconciliation of fee register	Approved/Unpaid Category 2 -
Glenn O'Kearney	Senior Director	30-Jul-14	0.2	560.00	112.00	Administration	Review June Qtr LMIM RE time split, note to Kelly to confirm instructions to invoices. Review blue Broking invoices overque, Correspondence with RF2 regarding split or invoice between	Approved/Unpaid
Benjamin Robsoл	Associate II	30-Jul-14	0.2	270.00	54.00	Creditors	LMA and LMIM Discussion with BN regarding interest bearing bank accounts. Discussion with Fusuri of CBA	Corporate - Liquidation
Stuart Clancy	Manager 1	30-Jul-14	0.5	360.00	180.00	Administration	regarding same. Update email to GOK and future course of action. Imail in from Russen's - correspondence; Deed of Indemnity to FTI regarding realisations of	Corporate - Liquidation
Brittany Newman	Administration 1	30-Jul-14	0.1	135.00	13.50	Administration	Retirement Assets Proposal in Stuart Clancy regarding termospositisavings accounts., note to KAT regarding transfer	Corporate - Liquidation
Glenn O'Kearney	Senior Director	30-Jul-14	0.2	560.00	112.00	Assets	portion funds interest account. Review Russells tee proposal as sent JRP/KAT. review against current numbers and prepare	Corporate - Liquidation
Glenn O'Kearney	Senior Director	30-Jul-14	1.2	560.00	672.00	Administration	position asat 30/7. note to Kelly regarding review for meeting with Russells Friday.	Corporate - Liquidation
John Park	Senior Managing Director	30-Jul-14	0.3	600.00	180.00	Administration	Emails in Russells	Corporate - Liquidation
Damian Bender	Managing Director	30-Jui-14	3	600.00	1,800.00	Administration	Review of both Judgements daltoncourt of appeal	Corporate - Liquidation Category 2 -
Benjamin Robson	Consultant I	31-Jul-14	0.3	270.00	81.00	Administration	linvestigate FOS issue with Glenn O'Kearney אימנפירעפוויזי וווויק במרב בואוואי אב זפופא. ווטופ עו ארב מוול באר ופקמונטווען ווואסוכוווען אווויסטווע ען ייזיט אימנפירעפון איז	Approved/Unpaid
			i				clout regarding LMA costs. follow up MN regarding loan reconciliation costs. reply in MN. review memo to LM regarding fund fees and add in note tre cat 2 fees. review legal invoice in books and records - request split and issue Ben Robson.	Category 2 - Approved/Unpaid
Glenn O'Keamey	Senior Director	31-Jul-14	0.7	560.00		Administration Administration	Identity books and records not available for collection by MPF. Inustee from records listing provided by MPF. Trustee	Category 2 Approved/Unpaid
Christine Stead	Senior Director	31-Jul-14	2.7 0.1	135.00	1,512.00	Administration	Filing	Corporate - Liquidation
Brittany Newman	Administration 1	31-Jul-14	0.2	270.00	54.00	Creditors	Payment of Clayton Utz invoice 3802440, to be recovered by MPF/FMIF	Corporate - Liquidation
Benjamin Robson	Associate II	31-Jul-14	0.2	270.00	54.00	Creditors	Payment of Clayton Utz invoice 3807821, to be recovered by MPF/FMIF	Corporate - Liquidation
Benjamin Robson	Associate II	31-Jul-14 31-Jul-14	0.2	270.00	54.00	Creditors	Russells invoice B18613 recorded into register	Corporate - Liquidation
Benjamin Robson	Associate II	31-Jui-14 31-Jui-14	0.2	270.00	27.00	Creditors	Submission of various payment batches	Corporate - Liquidation
Benjamin Robson	Associate II	31-Jul-14		560.00		Administration	revent correspondence regarding in OS charmple apprint in discussion container and note an reiny regarding MPF creditors, reconcile consultants register/Russells position, collate SOP/Russells costs for meeting tomorrow, update flow of funds to Russells/LMIM, DJB discussion regarding status memo and other matters, review legal involces in Russells LMIM, note Kelly regarding MPF creditors/.	Corporate - Liquidation
Glenn O'Keamey	Senior Director	31-Jul-14	1.5 0.2	360.00		Administration	Reviewing bank account for Canadian tunds. Email correspondence with GOK regarding interest bearing account. Memo to BN regarding future course of action.	Corporate - Liquidation
Stuart Clancy	Manager 1	31-Jul-14 31-Jul-14	0.2	600.00		Administration	Preparations re strategy meeting with Russells	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director Senior Managing Director	31-Jul-14 31-Jul-14	0.1	600.00		Administration	Telephone in Ashley Tiplady	Corporate - Liquidation
John Park		31-Jul-14	2	600.00		Administration	This ume relates to reviewing memore from KAT re Living matters; considering appear information Please ensure this time is w/off and not billed to the client as this time is for internal recording purposes only and as agreed cannot be claimed against the client file.	Written Off/Not claimed
Ginette Muller	Senior Managing Director Senior Director	01-Aug-14	0.1	510.00		Administration	Return call and leave message for Mamie McLarin of BT.	Category 2 - Approved/Unpaid
Benjamin Robson	Consultant i	01-Aug-14	0.2	270.00	54.00	Creditors	Issue LM invoices for June Qtr to LM	Category 2 Approved/Unpaid
Renee Lobb	Senior Director	01-Aug-14	0.2	510.00	102.00	Creditors	Receive call back from Manie at BT. Discuss very broadly the insurance issues.	Corporate - Liquidation

	anagement Ltd (In Liquid	dation)			3 204 545 20			
Remuneration to 3 Name		Date	Hours	Charge Out Rate	3,204,515.29 Charge	Task Desc	Narrative	Classification
Mane							Discuss russells costs Kelly - reconcile SOP under dinerent scenario's, pontion of travel time to	
Glenn O'Kearney	Senior Director	01-Aug-14	1.5	560.00		Administration	Brisbane allocated for meetings, notes for updated agenda meetings.	Corporate - Liquidation
John Park	Senior Managing Director	01-Aug-14	0.6	600.00	360.00	Administration	Review memo - meeting with Ashley Tiplady Review or consultants fee register LMM Corp invoices awaiting payment, discuss with Gienn	Corporate - Liquidation
Benjamin Robson	Associate II	01-Aug-14	0.5	270.00	135.00	Creditors	O'Keamey	Corporate - Liquidation
	D. J. Marchine Director	01 0	1.5	600,00	900.00	Administration	Meeting with Russells Lawyers re status of outstanding legal issues and remuneration claims; post meeting discussion with GOK re outstanding legal costs	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	01-Aug-14	1.0	000,00	300.00	Administration	Review and approve payment of outstanding administration liabilities including review or supporting	•
	During Managing Disaster	01 Aug 14	0.1	600.00	60.00	Administration	documentation and signing of transfer or chequeReview and update to do list; query outstanding items	Corporate - Liquidation
Kelly-Anne Trentield	Senior Managing Director	01-Aug-14	0.1	000.00		Administration	Reviewed and amendments to letter to CBA regarding opening high interest bearing account.	
Stuart Clancy	Manager 1	01-Aug-14	0.2	360.00	72.00	Administration	Discussion with BN regarding future course of actions.	Corporate - Liquidation
Stuart Clancy	Manager 1	01-Aug-14	0.1	360.00	36.00	Administration	Update task list	Corporate - Liquidation Corporate - Liquidation
Brittany Newman	Administration 1	01-Aug-14	0.1	135.00	13.50	Administration	Draft 8974/125 - Business Online Saver account opening letter mis time relates to reviewing menote from KA Fire LMIM matters; considering appear miormation	Corporate - Liquidation
							Please ensure this time is woff and not billed to the client as this time is for internal recording	Mathews Official alaberta
Ginette Muller	Senior Managing Director	01-Aug-14	1	600.00	600.00	Administration	purposes only and as agreed cannot be claimed against the client file.	Written Off/Not claimed Category 2 -
Carly Drew	Admin II	04-Aug-14	0.3	175.00	52.50	Administration	Fiona from LM called in RE 524 previous lodgement - emailed RFZ for copy of Form 104 from July	Approved/Unpaid
							Discussion with Keity-Annie Trenieta regarding proposed insufficients on insurance matters. Discuss Bellpac action and likely takeover to be at minimal cost. Review correspondence from Clayton Utz	
Denselabb	Senior Director	04-Aug-14	0.3	510.00	153.00	Investigations	and draft response for Kelly-Anne Trenfield's review addressing action points.	Corporate - Liquidation
Renee Lobb Megan Dopking	Administrative	04-Aug-14	0.0 D.1	135.00	13.50	Administration	Banking	Corporate - Liquidation
Stuart Clancy	Manager 1	04-Aug-14	0.2	360.00	72.00	Administration	Further amendments and review bank letter draft. Finalise letter.	Corporate - Liquidation
Brittany Newman	Administration 1	04-Aug-14	0.1	135.00	13,50	Administration	Amend 89741125	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	04-Aug-14	0,2	600.00	120.00	Assets	review insurance update from CU and discuss with RCL	Corporate - Liquidation
· · · · · ·			0.0	560.00	336.00	Administration	Review letter CBA account, amendments to meeting agenda at Russell, reviews notes from Fridays meeting and amend recirculate agenda.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	04-Ацд-14 04-Ацд-14	0.6 0.3	560.00	168.00	Administration	copy company B&R listing for RFZ	Corporate - Liquidation
Christine Stead	Senior Director	04-AU9-14	0.3		100.00			Category 2 -
Renee Lobb	Seniar Director	05-Aug-14	0.2	510.00	102.00	Trade-on	Review and respond to queries regarding address details and transfers awaited, fwd to Im.	Approved/Unpaid Category 2 -
Renee Lobb	Senior Director	05-Aug-14	0.1	510.00	51.00	Trade-on	Review further update from LM investment Management Ltd regarding enquiry timing etc.	Approved/Unpaid
Reliee LODD		oo nag i i					Meeting with Russells re tegal strategy re funds management issues	Category 2 - Approved/Unpaid
Kelly-Anne Trenfield	Sr Managing Dir	05-Aug-14	1.4	600.00	840.00	Administration	Identity books and records not available for collection by MPF. Trustee from records listing provided	Category 2 -
Christine Stead	Senior Director	05-Aug-14	2.6	560.00	1,456.00	Administration	by MPF Trustee	Approved/Unpaid
					102.00	Investigations	Review Kelly-Anne Trenfield's edits for insurance response and reread before sending to Clayton Utz.	Corporate - Liquidation
Renee Lobb	Senior Director	05-Aug-14	0.2 1.9	510.00 600.00	1,140.00	Administration	Prepare for a meeting at Russells to review all outstanding legal issues and finalise strategy	Corporate - Liquidation
John Park	Senior Managing Director	05-Aug-14 05-Aug-14	0.1	360.00	36.00	Administration	Review email from RFZ regarding insurance renewal and payment update.	Corporate - Liquidation
Stuart Clancy	Manager 1 Senior Managing Director	05-Aug-14 05-Aug-14	0.1	600.00	60.00	Administration	Review and approve RCL email re insurance to Clayton utz	Corporate - Liquidation
Kelly-Anne Trenfield Glenn O'Kearney	Senior Director	05-Aug-14	2.5	560.00		Administration	Travel time to and from Brisbane for meetings with Russells and JRP/KAT on status/strategy.	Corporate - Liquidation
Cicilit C Realiney							Prepare updated action items in the post weeting at Russells. Circulate to JP/Relity, review how of funds under different scenarios regarding Russells cost proposal, note to Kelly regarding funds, note	
Class O'Kaamau	Senior Director	05-Aug-14	1.1	560,00	616.00	Administration	from egard regarding resignation, note to ABW regarding update/status.	Corporate - Liquidation
Glenn O'Kearney Renee Lobb	Senior Director	05-Aug-14	0.1	510.00		Administration	Review and respond to real estate agent query.	Corporate - Liquidation
Brittany Newman	Administration 1	06-Aug-14	0.1	135.00	13.50	Administration	Amend & Final 89741125	Corporate - Liquidation
Brittany Newman	Administration 1	06-Aug-14	0.1	135.00	13.50	Administration	Filing	Corporate - Liquidation
				F00.00	50.00	Aspain	Review letter CBA regarding open account/mansier of funds to high interest. discuss with Stuart Clancy.	Corporate - Liquidation
Glenn O'Keamey	Senior Director	06-Aug-14	0.1	560.00	56.00	10000	Reviewed finalised opening bank letter	Corporate - Liquidation
Stuart Clancy	Manager 1	07-Aug-14	0.1	360.00	36.00	Administration	I I TI	L

LM Investment Ma Remuneration to	anagement Ltd (In Liquid 30 June 2018	dation)			3,204,515.29			
Name		Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
	his second	07 Aug 14	0.2	360.00	72.00	Assets	Reviewed correspondence received from CBA regarding Canadian funds. Reviewed bank account and memo to BN regarding future course of action.	Corporate - Liquidation
Stuart Clancy	Manager 1	07-Aug-14	0.2	510.00			Review and respond to progress email from Clayton Utz.	Corporate - Liquidation
Renee Lobb	Senior Director	07-Aug-14					Review email Russells	Corporate - Liquidation
John Park	Senior Managing Director	07-Aug-14	0.1	600.00	60.00	Administration	Temail from GUK enci Egnard van der Hoven email regarding resignation, review prev emails and two	1 · · · · · · · · · · · · · · · · · · ·
Andrew Weatherley	Managing Director	07-Aug-14	0.1	560.00	56.00	Administration	to GOK	Corporate - Liquidation
Glenn O'Keamey	Senior Director	07-Aug-14	0.3	560.00	168.00	Administration	Laise with abw regarding director resignations LM board, reply to egnard, review im code write of forms, discuss with Stuart Clancy.	Corporate - Liquidation Category 2 -
Renee Lobb	Senior Director	08-Aug-14	0.1	510.00	51.00	Trade-on	Review and respond to general enquiry from advisor regarding commissions owed and progress.	Approved/Unpaid Category 2 -
Benjamin Robson	Consultant I	08-Aug-14	0.6	270.00	162.00	Creditors	LM Fee summary update with June qtr invoices with respect to LM as RE	Approved/Unpaid Category 2 -
Glenn O'Kearnev	Senior Director	08-Aug-14	0.2	560.00	112.00	Administration	Review memo to simon ticker regarding submission of fee claims for funds. finalize with BJR.	Approved/Unpaid
John Park	Senior Managing Director	08-Aug-14	0.2	600.00	120.00	Administration	Email in Russells	Corporate - Liquidation
					107.00	0 1/1	Update fee summary register with payments of FTI remuneration invoices - various	Category 2 - Approved/Unpaid
Benjamin Robson	Consultant I	11-Aug-14	0.5	270.00	135.00	Creditors	Identify books and records not available for collection by MPP- Trustee from records listing provided	Category 2 -
Christine Stead	Senior Director	11-Aug-14	2.9	560.00	1,624.00	Administration	by MPF Trustee	Approved/Unpaid
John Park	Senior Managing Director	11-Aug-14	2		1,200.00	Administration	Prepare for and attend meeting at Russells with BDO / T&C	Corporate - Liquidation
	Comor Managing Spearer							Category 2 -
Christine Stead	Senior Director	12-Aug-14	0.1	560.00		Administration	forward correspondence to Steve Hannan as per RFZ	Approved/Unpaid Corporate - Liquidation
Brittany Newman	Administration 1	12-Aug-14	0.1	135.00	13.50	Administration	Scan/Save/Email 89741125 + Mall out to Fusun Yu, Commonwealth Bank	Corporate - Liquidation
Brittany Newman	Administration 1	12-Aug-14	0.1	135.00	13.50	Administration	Prepare receipt voucher in MYOB - LM Investment Management Canada Ltd CHQ \$14,733.27	
Benjamin Robson	Associate II	12⊹Aug-14	0.5	270.00	135.00	Creditors	LM invoices reconciliation - outstanding King & Wood Mallesons portions	Corporate - Liquidation
John Park	Senior Managing Director	12-Aug-14	0.4	600.00	240.00	Administration	Email in Russells; File review o/s matters	Corporate - Liquidation
Stuart Clancy	Manager 1	12-Aug-14	0.1	360.00	36.00	Administration	Discussion with BN regarding opening bank account letter and future course of action.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	12-Aug-14	0.1	560.00	56.00	Assets	Review and approve receipt voucher LMIM Canadian share funds.	Corporate - Liquidation Category 2 -
Christine Stead	Senior Director	13-Aug-14	0.5	560.00	280.00	Administration	Identify books and records not available for collection by MPF Trustee from records listing provided by MPF Trustee Create worksheet for apportionment, payment and outstanding amounts for King & Wood Mailesons	Category 2 - Approved/Unpaid
Designin Reham	Associate II	13-Aug-14	0.4	270.00	108.00	Creditors	invoices 1573029, 1557753, 1534216, 1534174, 1567790	Corporate - Liquidation
Benjamin Robson Brittany Newman	Administration 1	13-Aug-14	0.4	135.00	13.50	Administration	Format & Final 8974i116	Corporate - Liquidation
	Administration 1	13-Aug-14	0.1	135.00	13.50	Administration	Draft term deposit account opening letter - 8974/126	Corporate - Liquidation
Brittany Newman	Administration	107 ag 14					Enter missing transactions for July 2014, reconcile accounts as at 31/07/2014 & draft Form 524 for	Corporate - Liquidation
Brittany Newman	Administration 1	13-Aug-14	0.3	135.00	40.50	Administration	period 1/02/2014 to 31/07/2014. Temail Involt with GOK re June Citr OOPS and SAC re with transferJune 2013 With Issues and	Corporate - Exquidation
Christine Stead	Senior Director	13-Aug-14	0.6	560.00	336.00	Administration	download correct billing entriesassist RFZ with pivot tables for fees	Corporate - Liquidation
Stuart Clancy	Manager 1	13-Aug-14	0.1	360.00		Administration	Memo to BN regarding opening term deposit account and drafting letter.	Corporate - Liquidation
Stuart Clancy	Manager 1	13-Aug-14	0.1	360.00	36.00	Administration	Memo to BN to draft form 524	Corporate - Liquidation
	Manager 1	13-Aug-14	0.5	360.00	180.00	Administration	Email correspondence with Kim Perry regarding invoice information regarding OOPS invoice for Sydney Strategic Communication. Reviewed invoice. Discussion with GOK and Christine regarding allocation of invoice. Amendments and reviewed WIP transfer form. Other related matters.	Corporate - Liquidation
Stuart Clancy Glenn O'Keamey	Senior Director	13-Aug-14	4.3	560.00			reconcise we emission due to the inconsistency in data. Discussions will clink and the X regarding July 13 fee dump, seek new fee data from 1-14 July and prepare reconciliation and allocation review fo that period, update all fee claims and tracking sheets to reflect new matters. review CMR for check, not charged to funds.	Corporate - Liquidation
Benjamin Robson	Consultant I	14-Aug-14	0.5	270.00	135.00	Creditors	Meeting with Glenn O'Kearney regarding supporting documents for LMIM invoices from period of appointment	Category 2 - Approved/Unpaid Category 2 -
Glenn O'Keamey	Senior Director	14-Aug-14	0.1	560.00	56.00	Trade-on	Update in from Clouts regarding service agreement data from timesheets	Approved/Unpaid

	nagement Ltd (in Liqui 0 June 2018	dation)		an a	3,204,515.29			
Remuneration to 3 Name	Title	Date	Hours	Charge Out Rate		Task Desc	Narrative	Classification
John Park	Senior Managing Director	14-Aug-14	0.1	600.00	60.00	Administration	Settle correspondence to BDO	Written Off/Not claimed
Ann Clark	Administration II	14-Aug-14	0.1	175.00	17.50	Administration	Payment slip	Corporate - Liquidation
Brittany Newman	Administration 1	14-Aug-14	0.1	135.00	13.50	Administration	Format & Final updated 89741116	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	14-Aug-14	0.1	600.00	60.00	Administration	Call in from GOK re outstanding matters and review of remuneration costing	Corporate - Liquidation
Stuart Clancy	Manager 1	14-Aug-14	0.7	360.00	252.00	Administration	Reviewed and amendments to form 524, engagement review form and checklist.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	14-Aug-14	0.1	560.00	56.00	Assets	Review letter opening account/term deposit for cAD funds, review and approve OOPS transfer forms Review enal re Ban dispute with Kordawentha; its re costing into to Steve re allocation of fund	Corporate - Liquidation
Kelly-Anne Trenfield	Sr Managing Dir	15-Aug-14	0.1	600.00	60.00	Administration	costs; email to JV re B&R review	Approved/Unpaid Category 2 -
Christine Stead	Senior Director	15-Aug-14	0.1	560.00	56.00	Administration	email out to Sean re meeting with KM	Approved/Unpaid
Marushka Flynn	Administration	15-Aug-14	0,1	175.00	17.50	Administration	Finalised letter to Commonwealth Bank of Australia regarding Term Deposit	Corporate - Liquidation
Brittany Newman	Administration 1	15-Aug-14	0.1	135.00	13.50	Administration	Mail in from Australian Bureau of Statistics - Economic Activity Survey 2013-14	Corporate - Liquidation
Brittany Newman	Administration 1	15-Aug-14	0.1	135.00	13.50	1	Email 89741126 to Fusun Yu, Commonwealth Bank	Corporate - Liquidation
Stuart Clancy	Manager 1	15-Aug-14	0.1	360.00	36.00		Reviewed remittance advice.	Corporate - Liquidation
Stuart Clancy	Manager 1	15-Aug-14	0.2	360.00	72.00	Administration	Review email and discussion with Fusun of CBA regarding opening of new bank account.	Corporate - Liquidation
· · · ·	Senior Director	15-Aug-14	0.5	560.00	280.00	Administration	Review 524/r&P.	Corporate - Liquidation
Glenn O'Kearney	Section Director	13-Aug-14	0.0				Review incoming documentation, consider and send to filing; Review and update to do list; query	
Kelly-Anne Trenfield	Senior Managing Director	16-Aug-14	0.1	600.00	60.00	Administration	outstanding items	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	16-Aug-14	0.1	600.00	60.00	Administration	Review costs transfers; emails in	Corporate - Liquidation
Christine Stead	Senior Director	18-Aug-14	0.1	560.00	56.00	Administration	email in from KAT re meeting with KM re B&R Car to Fusur ru, commonweath Bank touswing up status or interest account being opened for	Category 2 - Approved/Unpaid
Brittany Newman	Administration 1	18-Aug-14	0.1	135.00	13.50	Administration	LMIM. Review statement of position re-disbursement of funds and settlement of costs with Russells re legal	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	18-Aug-14	1.2	600.00	720.00	Administration	expenses re split of fund related legal costs where not met by funds recoveries	Corporate - Liquidation
Celly-Anne Trenfield	Senior Managing Director	18-Aug-14	0.3	600.00	180.00	Administration	Review and update to do list; query outstanding items; Review incoming documentation, consider and send to filingReview memo re outstanding issues	Corporate - Liquidation
Ryan Zorgdrager	Director 2	18-Aug-14	0.1	560.00	56.00	Trade-On	Update time entries in excel at GOK request	Corporate - Liquidation
Glenn O'Kearney	Senior Director	18-Aug-14	0.1	560.00	56.00	Creditors	Review senis req. note for Ben Robson.	Corporate - Liquidation
Gienn O'Kearney	Senior Director	18-Aug-14	0.3	560.00	168.00	Administration	Discuss file status with SAC. discuss timing content of next report/asic/creditors. udpate TDL	Corporate - Liquidation
Stuart Clancy	Manager 1	18-Aug-14	0.1	360.00	36.00	Administration	Follow up setting up of bank account for LMIM- term deposit and high interest bearing.	Corporate - Liquidation
Stuart Clancy	Manager 1	18-Aug-14	0.1	360.00	36.00	Administration	File review with GOK and future tasks to complete Identity books and records not available for collection by MPF (rustee from records listing provided	Corporate - Liquidation Category 2 -
Christine Stead	Senior Director	19-Aug-14	2.7	560.00	1,512.00	Administration	by MPF Trusteeupdate from KAT re meeting with JV	Approved/Unpaid
Keliy-Anne Trenfield	Senior Managing Director	19-Aug-14	1.5	600.00	900.00	Administration	Review statement of position re dispursement of funds and settlement of costs with Russells re legal expenses re split of fund related legal costs where not met by funds recoveries	Corporate - Liquidation
	Senior Managing Director	19-Aug-14	0.1	600.00	60.00	Administration	email in from Clayton Utz re additional information re insurance claim; respond to GOK queries	Corporate - Liquidation
	Senior Director	19-Aug-14	0.6	560.00	336.00	Administration	Review 524 and annexure's, finalsie for Kelly review, discuss with Kelly, review letter to bank regarding change name of accounts.	Corporate - Liquidation
	=		0.6	560.00	336.00	Assets	Review Clayton uz correspondence regarding cols incurred on investor matters and outstanding accounts discussions with BJR and RFZ - review registers, note to Kelly regarding information requested etc.	Corporate - Liquidation
Slenn O'Keamey	Senior Director	19-Aug-14 19-Aug-14	0.0	360.00	108.00	Administration	Urating reviewing and amendments to change of bank account name letters. Arranging for letters to be signed by JRP and mailed from Brisbane office.	Corporate - Liquidation
ituart Clancy	Manager 1		0.5	360.00	180.00	Administration	Resolving transfer fees request issues with Chiman from LM investment Pty Ltd.	Corporate - Liquidation
	Manager 1	19-Aug-14	0.5	360.00	72.00	Assets	Follow up ATO regarding outstanding BAS refund.	Corporate - Liquidation
	Manager 1	19-Aug-14		600.00	60.00	Administration	draft email to piper alderman re meeting to discuss litigation funding re RE/fund claims	Category 2 - Approved/Unpaid
	Sr Managing Dir	20-Aug-14 20-Aug-14	0.1 0.3	600.00			JRp/GAK re review of outstanding issues and review current issues	Category 2 - Approved/Unpaid
elly-Anne Trenfield	Sr Managing Dir	20-Aug-14	0.3	000.00	100.001	a son annou a u on		· · · · · · · · · · · · · · · · · · ·

LM Investment M Remuneration to	anagement Ltd (In Liqu 30 June 2018	idation)			3,204,515.29	· · · · · · · · · · · · · · · · · · ·		
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Christine Stead	Senior Director	20-Aug-14	1.6	560.00	.896.00	Administration	Identify books and records not available for collection by MPF. I rustee from records listing provided by MPF Trustee	Category 2 - Approved/Unpaid
John Park	Senior Managing Director	20-Aug-14	0.5	600.00	300.00	Administration	File review meeting Kelly Trenfield / GOK; Emails in Russells	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	20-Aug-14	1.1	600.00	660.00	Administration	Review statement or position re disbursement of runds and settlement of costs with Russells re legar expenses re split of fund related legal costs where not met by funds recoveries	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	20-Aug-14	0.1	600.00	60.00		Finalise email to russells re fee recovery given shortfall from fund recoveries	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	20-Aug-14	0.1	600.00	60.00		Review F524 and supporting docs; review updated work programme and half annual review	Corporate - Liquidation
Glenn O'Kearney	Senior Director	20-Aug-14	2.7	560.00	1,512.00	Administration	Prepare for uppare meeting with JRP/Keily. meeting, note to SAC regarding acts and dealings. update notes TDL post meeting .review all LMIM materials at desk/ililing etc.	Corporate - Liquidation
Stuart Clancy	Manager 1	20-Aug-14	1.5	360.00	540.00	Creditors	Discussion with GOK regarding commencement or AGM documents and preparation of Acts and Dealings report. Commenced drafting Liquidator's Act's and Dealings Report.	Corporate - Liquidation
Stuart Clancy	Manager 1	20-Aug-14	0.1	360.00	36.00	Administration	Email to Fusun of CBA regarding changing name of LMIM bank accounts.	Corporate - Liquidation
Stuart Clancy	Manager 1	20-Aug-14	0.1	360.00	36.00	Administration	Reviewed email from CD regarding letters to CBA- opening bank account. Email to Fusuh of CBA regarding guenes in relation to high interest accounts. Resolved issues and	Corporate - Liquidation
Stuart Clancy	Manager 1	20-Aug-14	0.2	360.00	72.00	Administration		Corporate - Liquidation
		20-74g-14	0.2		72.00		Reconcile MYOD With DJK - regarding trading/operational costs/lund invoicing, update invoices.	0.1
				500.00	6 40.00	T-uda an	approve split of books and records invoices, udpate to LMA cat 2 invoicing invoices for LMIM records update registers/allocations.	Category 2 - Approved/Unpaid
Glenn O'Kearney	Senior Director	21-Aug-14	1.5	560.00	840.00 52.50	Trade-on Administration	Payment slip	Corporate - Liquidation
Ann Clark	Administration II	21-Aug-14	0.3	175.00	120.00	Administration	Correspondence out settle	Corporate - Liquidation
Iohn Park	Senior Managing Director	21-Aug-14	0.2	270.00	120.00	Administration	Meeting with Glenn O'Kearney regarding MYOB entries	Corporate - Liquidation
Benjamin Robson	Associate II	21-Aug-14	0.4	210.00	105.00	Authinistation		
Benjamin Robson	Associate II	21-Aug-14	0.3	270.00	81.00	Administration	Entries for periods 19/03/13 to 30/06/13 in regards to LMA and LMIM resources fees owed to LMA Continued draming AGM- Acts and Dealing report. Collating and reviewing information to include in	Corporate - Liquidation
Stuart Clancy	Manager 1	21-Aug-14	1.5	360.00	540.00	Creditors	report. Other related matters.	Corporate - Liquidation
Stuart Clancy	Manager 1	21-Aug-14	0.1	360.00	36.00	Administration	Reviewing tasks checklist and updating with completed tasks and future tasks to complete.	Corporate - Liquidation
Benjamin Robson	Consultant I	22-Aug-14	0.3	270.00	81.00	Creditors	FEE register summary reconciliation work - altocation of LM funds to controllership invoices	Category 2 - Approved/Unpaid Category 2 -
	Senior Director	22-Aug-14	0,5	560.00	280.00	Administration	Review udpate cat 2 involce data update allocations.	Approved/Unpaid
Slenn O'Kearney Ann Clark	Administration If	22-Aug-14	0.5	175.00	35.00	Administration	EFT and MYOB processing	Corporate - Liquidation
Keliy-Anne Trenfield	Senior Managing Director	22-Aug-14	0.1	600.00	60.00	Administration	emails in and arrangement payment to russells re any outstanding costs	Corporate - Liquidation
teny-rune riterineit	Contor managing provide						Reviewed bank account for set up of high interest account and term deposit. Phone call to CBA	Corporate - Liquidation
Stuart Clancy	Manager 1	22-Aug-14	0.2	360.00	72.00	Assets	regarding progress. Reconcile Rusself account and an ange payment: correspondence with Rusself regarding allocation of	Corporate - Elquidation
		1 1	j				funds, reconcile master wip spreadsheet with data records to ensure accuracy, updates to SOP to	
		1					reflect payments o Russell and updated wip numbers, review WIP schedule and reconcile with BJR. review draft report to asic/acts and dealings.	Corporate - Liquidation
enn O'Keamey	Senior Director	22-Aug-14	2.5	560.00	1,400.00	Administration	Review and approve payment or outstanding administration flabilities including review of supporting	
Celly-Anne Trenfield	Senior Managing Director	22-Aug-14	0.1	600.00	60.00	Administration	documentation and signing of transfer or cheque	Corporate - Liquidation
ritionu Nouman	Administration 1	25-Aug-14	0.1	135.00	13.50	Administration	Lodge ASIC Form 524 for period 01/02/2014 to 31/07/2014 online, enter lodgement details in MYOB + update GC 524 spreadsheet.	Corporate - Liquidation
iritiany Newman ohn Park	Senior Managing Director	25-Aug-14	0.3	600.00		Administration	Emails in/out Russells	Corporate - Liquidation
	Control Managing Director						Call to APC recording Economic current request file note on reason why we ware to be evolution	Corporate - Liquidation
lenjamin Robson	Associate II	25-Aug-14	0.4	270.00	108.00	Administration	Call to ABS regarding Economic survey request, file note on reason why we were to be excluded Discuss file with Kelly regarding 1DD/insurance/creditors/cost allocation report etc respond to	Sol porate - Eigendation
ilenn O'Keamey	Senior Director	25-Aug-14	1	560.00	560.00	Administration	journalist queries. notes regarding follow items from meeting.	Corporate - Liquidation
lenn O'Kearney	Senior Director	25-Aug-14	0.1	560.00	56.00	Administration		Corporate - Liquidation
yan Zorgdrager	Director 2	25-Aug-14	0.3	560.00	168.00	Trade-On	receive dinariation entron metaler ne entropenation to renter entropy	Corporate - Liquidation
tuart Clancy	Manager 1	25-Aug-14	0.3	360.00	108.00	Administration		Corporate - Liquidation
elly-Anne Trenfield	Senior Managing Director	25-Aug-14	0.3	600.00	180.00	Administration	File review with GOK re trustee issues and indemnity	Corporate - Liquidation

Remuneration to 30	1979년 1월 18일 - 1일				3,204,515.29	2. 2.		
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Brittany Newman	Administration 1	26-Aug-14	D.2	135.00	27.00	Administration	Filing	Corporate - Liquidation
Brittany Newman	Administration 1	26-Aug-14	0.1	135.00	13.50	Administration	Mail in from ASIC - Correspondence; Pay Invoice & check scheme statement + Invoice Statement 1 Aug 2014 Cean more crime at Clayton diz regarding insorance matter details or costs incomed by civilivi hase wid	Corporate - Liquidation
Glenn O'Kearney	Senior Director	26-Aug-14	1	560.00	560.00	Assels	BJR regarding costs collated review advice from waller, draft note to Keily regarding matter, call form mark waller at Clayton utz regarding insurance matters, discuss liability concerns RFZ regarding fund shortfalls feeder funds.	Corporate - Liquidation
	Senior Director	07	0.1	510.00	51.00	Trade-on	Review email from Wholesale First Mortgage Income Fund Investor and respond to make enquiry with trilogy as to distribution amounts.	Category 2 - Approved/Unpaid
Renee Lobb	Senior Director	27-Aug-14	0.1	510.00	51.00			Category 2 -
Glenn O'Kearney	Senior Director	27-Aug-14	0.2	560.00	112.00	Trade-on	Correspondence from FOS. laise with BJR and RFZ regarding membership etc	Approved/Unpaid
Ann Clark	Administration II	27-Aug-14	0.1	175.00	17.50	Administration	Payment slips	Corporate - Liquidation
Brittany Newman	Administration 1	27-Aug-14	0.1	135.00	13.50	Administration	Prepare receipt voucher in MYOB - BAS Refund (1 Apr - 30 Jun 2014)	Corporate - Liquidation
-							Review correspondence from Clayton Utz regarding acting for proceedings involving other parties inc	Corporate - Liquidation
Renee Lobb	Senior Director	27-Aug-14	0.2	510.00	102.00	Investigations	ausbec and bellpac .	
Glenn O'Kearney	Senior Director	27-Aug-14	0.1	560.00	56.00	Assets	Review and approve receipt voucher gst refunds.	Corporate - Liquidation
Stuart Clancy	Manager 1	27-Aug-14	0.1	360.00	36.00	Administration	Reviewing receipt voucher.	Corporate - Liquidation
Stuart Clancy	Manager 1	27-Aug-14	0.1	360.00	36.00	Administration	Updating and reviewing tasks control spreadsheet	Corporate - Liquidation
					180.00	A anala	Emails in the insufance; query RCL to payment of coststeview insufance emails in from Clayton utz; draft email with instructions to send letter to moray & agnew	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	27-Aug-14	0.3	600.00	180.00	Assets	bian email with instructions to solid letter to morely a signer	Corporato Elquidadon
Glenn O'Kearney	Senior Director	28-Aug-14	1	560.00	560.00	Trade-on	Correspondence LMA, review service agreement and provide reply to LMA. discuss data req uk investors with RFZ, draft reply, discussion RFZ and BJR regarding status of FOS queries/payments.	Category 2 - Approved/Unpaid
plack / c / land								Category 2 -
Benjamin Robson	Consultant I	28-Aug-14	0.2	270.00	54.00	Administration	Follow up calls and messages left at FOS regarding notice to expel	Approved/Unpaid Category 2 -
	Couries Director	20 Aug 14	0.3	560.00	168.00	Trade-on	Conterence with GOK RE FOS membership strike-off notification. Draft email out to Peter Schmidt of NRF	Approved/Unpaid
Ryan Zorgdrager	Senior Director	28-Aug-14	0.3		100.00	11208-011		Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	28-Aug-14	0.1	600.00	60.00	Administration	Review letter to asic re status of account lodgement	Approved/Unpaid
							Review draft correspondence to moray and Agnew regarding indemnity and proposed scheme of	Corporate - Liquidation
Renee Lobb	Seniar Director	28-Aug-14	0.2	510.00	102.00	Investigations	arrangement. Review or insurance document requesting instructions and information. Make comments and send to	Corporate - Exquidation
Renee Lobb	Senior Director	28-Aug-14	0.3	510.00	153.00	Investigations	Kelly-Anne Trenfield.	Corporate - Liquidation
	Associate II	28-Aug-14	0.5	270.00	135.00	Creditors	Fee summary register reconciliation from Master fee summary spreadsheet	Corporate - Liquidation
	Manager 1	28-Aug-14	0.1	360.00	36.00	Administration	Reviewed remittance advice	Corporate - Liquidation
Stuart Clancy	Wanayer i	20-Aug-14	0.1		50.00	raminoration	Follow up and discussion with BN regarding setting up of bank accounts- High interest and term	
Stuart Clancy	Manager 1	28-Aug-14	0.1	360.00	36.00	Administration	deposit	Corporate - Liquidation
John Park	Senior Managing Director	28-Aug-14	0.2	600.00	120.00	Administration	Settle update to ASIC on audit of funds	Corporate - Liquidation
	Managing Director	28-Aug-14	0.1	560.00	56.00	Investigations	GOK email seeking info on possible offences, consider and resp	Corporate - Liquidation
	Senior Managing Director	29-Aug-14	0.1	600.00	60.00	Assets	review information in re progression of insurance claim; query funding comments from CU	Corporale - Liquidation
	Senior Director	01-Sep-14	0.2	560.00	112.00	Trade-on	Review note regarding fos membership/liaise Ben Robson and Ryan and Instruct payments.	Category 2 - Approved/Unpaid
	Senior Director	01-Sep-14	0.1	510.00	51.00	nvestigations	Review and respond to Steve Hannan query regarding ausbec proceeding information.	Corporate - Liquidation
	Seniar Director	01-Sep-14	0.1	510.00	51.00	Investigations	Provide fuither information to steve hannan regarding ausbec claim to find required information for claylon utz.	Corporate - Liquidation
		01.0 11		600.00	1.030.00	Administration	Prepare for and attend meeting with BDO / 3 & C to discuss remuneration claims, residual powers of the RE, controllership strategy	Written Off/Not claimed
	Senior Managing Director	01-Sep-14	1.7	600.00			Clayton Utz invoice 3825099 scanned into hard drive and recorded	Corporate - Liquidation
tenjamin Robson	Associate II	01-Sep-14	0.2	270.00	54.00	Creditors	Clayton of 2 invoice 3625055 scanned into hard drive and recorded Review correspondence regarding funding agreement insurance, review consultants reg/invoice and	
ilenn O'Kearney	Senior Director	01-Sep-14	0.2	560.00	112.00	Assets	liaise with kat regarding cluts invoices.	Corporate - Liquidation
North Official North Official Networks	Senior Director	01-Sep-14	0.2	560.00			Discuss TDL/file status with POC and update TDL. discuss report/cred.	Corporate - Liquidation
itenn O'Kearney								

LM Investment Ma Remuneration to 3	nagement Ltd (in Liquid 0 June 2018	lation)			3,204,515.29			
Name		Date	Hours	Charge Out Rate		Task Desc	Narrative	Classification
Renee Lobb	Senior Director	02-Sep-14	0.1	510.00	51.00	Administration	Send to LM investment Management Ltd staff change of details information received for investors.	Category 2 - Approved/Unpaid
Beniamin Robson	Consultant I	02-Sep-14	0.4	270.00	106.00	Creditors	Payment of FOS membership invoices on behalt of funds, discussion with Nicolas Wurst at FOS and Glenn O'Kearney regarding exclusion from FOS	Category 2 - Approved/Unpaid
Glenn O'Keamev	Senior Director	02-36p-14	0.3	560.00	168.00		Discussions RFZ regarding status of fund work, review FOS payment and discuss with BJR	Category 2 - Approved/Unpaid
Christine Stead	Senior Director	02-Sep-14	1.6	560.00	896.00	Investigations	Finalise investigations of MPF/KM data request and draft response to Ronald	Category 2 - Approved/Unpaid
Christine Stead	Senior Director	02-Sep-14	0.2	560.00	112.00	Investigations	amend email to Ronald at KM re review of B&R	Category 2 - Approved/Unpaid
Renee Lobb	Senior Director	02-Sep-14	0.2	510.00	102.00	Investigations	Review table sent from Clayton Utz last week. Address each enquiry individually in email to Chris Erfurt.	Corporate - Liquidation
Ann Clark	Administration II	02-Sep-14	0.2	175.00	35.00	Administration	EFT voucher including MYOB processing	Corporate - Liquidation
John Park	Senior Managing Director	02-Sep-14	0.2	600.00	120.00		Email in Russells	Corporate - Liquidation
Christine Slead	Senior Director	03-Sep-14	1.1	560.00	616.00	Investigations	teleconference with KM re books and records Issues; update KAT and finalise file note of meeting	Category 2 - Approved/Unpaid
Glenn O'Kearney	Senior Director	03-Sep-14	0.2	560.00	112.00	Assets	Memo to Keliy and Renee regarding insurance matters.	Corporate - Liquidation
					400.00	Care dilarra	Correspondence with frene Caling, Shelly Chaimers and Fiona Draney of LM regarding LMIM invoices outstanding as RE for funds. Request update from frene	Category 2 - Approved/Unpaid
Benjamin Robson	Consultant I	04-Sep-14	0.4 0.1	270.00	108.00	Creditors Investigations	Respond to GOK email on insurance issue.	Corporate - Liquidation
Renee Lobb	Senior Director	04-Sep-14 04-Sep-14	0.1	510.00	51.00	Administration	File all sent emails last 2 days.	Corporate - Liquidation
Renee Lobb	Senior Director	04-56p-14	0.1	510.00	01.00		Discuss reportriming/meeting/approvals Kelly, note from Stuart Clancy regarding tunos in term	
Glenn O'Kearney	Senior Director	04-Sep-14	0.2	560.00	112.00	Administration	deposit and interest account .reply. Email correspondence with GOK regarding transfer of tunds between general and high interest	Corporate - Liquidation
Stuart Clancy	Manager 1	04-Sep-14	0.1	360.00	36.00	Administration	bearing accounts.	Corporate - Liquidation
Stuart Clancy	Manager 1	04-Sep-14	0.1	360.00	36.00	Administration	Reviewed update email from Fusun regarding setting up of bank accounts.	Corporate - Liquidation
Damian Bender	Managing Director	04-Sep-14	2.5	600.00	1,500.00	Administration	RE review of legal actions	Corporate - Liquidation
Renee Lobb	Senior Director	05-Sep-14	0.1	510.00	51.00	Administration	Review and fixed to LM Investment Management Ltd staff platform transfer query. Review emain from Reny-Anne Tremeno regarding spinung or unre for insurance matters. Seek	Category 2 - Approved/Unpaid
Renee Lobb	Senior Director	05-Sep-14	0.2	510.00	102.00	investigations	cervice email from Relry-Ambrid Themend regarding spatial spatial spatial contractions occur clarification in email to Clayton Utz regarding how they are splitting their time going forward and seeking update on First Mortgage Income Fund matters.	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	05-Sep-14	0.3	600.00	180.00	Administration	Review GOK email re insurance; RCL/GOK re progression of insurance matter and costs	Corporate - Liquidation
John Park	Senior Managing Director	05-Sep-14	0.1	600.00	60.00	Administration	Email in Russells	Corporate - Liquidation
Benjamin Robson	Associate II	05-Sep-14	0.3	270.00	61.00	Creditors	LM Investment consultants register update with payments to NR and Russells	Corporate - Liquidation
Brittany Newman	Administration 1	05-Sep-14	0.1	135.00	13.50	- Carriellou de Carriello	Filing Add account in MYCH + prepare payment voluciner - Transfer of funds to Figh Interest beaming	Corporate - Liquidation
Brittany Newman	Administration 1	05-Sep-14	0.1	135.00	13.50	Administration	account Review pank reconciliation x3: update from Relig regarding insurance costs etc. oiscuss pank	Corporate - Liquidation
Glenn O'Keamey	Senior Director	05-Sep-14	0.3	560.00	168.00	Administration	account issues Stuart Clancy, correspondence with Kelly and Stuart Clancy regarding task code insurance, update Kelly regarding UK investor query. Temar and phone call with CH regarding creating the account for insurance, discussions with BN	Corporate - Liquidation
Stuart Clancy	Manager 1	05-Sep-14	0.3	360.00	108.00	Administration	regarding transfer of funds voucher and memo. Reviewed banking voucher. Adjusting payment voucher and memo to BN.	Corporate - Liquidation
John Park	Senior Managing Director	06-Sep-14	0.1	600.00	60.00	Administration	Emait in Russells	Corporate - Liquidation
Renee Lobb	Senior Director	08-Sep-14	0.2	510.00	102.00		Review email from adviser regarding lack of updates on funds. Provide explanation and refer to website for recent CPF, AIF and ASPF updates issued.	Category 2 - Approved/Unpaid
Kelly-Anne Trenfield	Sr Managing Dir	08-Sep-14	0.2	600.00	120.00		Jrp update re discussions with Amanda BantonReview incoming documentation, consider and send to liling	Category 2 - Approved/Unpaid
ohn Park	Senior Managing Director	08-Sep-14	1	600.00	600.00		Prepare for and attend meeting at Piper Alderman to discuss PE options with Amanda Banton; Email In Russells Review correspondence regarding insurance matters hobb and notes from Kelly, review latest	Corporate - Liquidation
ilenn O'Keamey	Senior Director	08-Sep-14	0.2	560.00	112.00		Review correspondence regarding insurance matters hobb and holes from Keny, review latest invoice.	Corporate - Liquidation

and the second	anagement Ltd (In Liquid	dation)			3,204,515.29	· · · ·		
Remuneration to 3 Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Stuart Clancy	Manager 1	08-Sep-14	0.2	360.00	72.00	Administration	Follow up BN and CBA regarding opening of term deposit account and high interest bearing.	Corporate - Liquidation
Stuart Clancy	Manager 1	08-Sep-14	0.2	360.00	72.00	Administration	Phone call and email with Fusun of CBA regarding update on accounts.	Corporate - Liquidation
Kelly-Anne Trenfield	Sr Managing Dir	09-Sep-14	0.1	600.00	60.00	Administration	Email in from David Clout and discussion with GDM/JRp	Category 2 - Approved/Unpaid
Ann Clark	Administration II	09-Sep-14	0.1	175.00	52.50		Cheque and EFT vouchers including MYOB processing	Corporate - Liquidation
	Administration II	09-Sep-14	0.3	175.00	35.00		ASIC lodgement of 524	Corporate - Liquidation
Ann Clark John Park	Senior Managing Director	09-Sep-14	0.2	600.00	180.00	Administration	Emails in Russells	Corporate - Liquidation
		09-Sep-14	0.1	560.00	56.00		Review and approve voucher transfer to highbinder.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	09-Sep-14	0.1	360.00	36.00		Update task list and adding future tasks to complete.	Corporate - Liquidation
Stuart Clancy	Manager 1	09-36p-14	0.1	300.00		Administration		Category 2 -
Renee Lobb	Senior Director	10-Sep-14	0.2	510.00	102.00	Trade-on	Review and respond to investor claims.	Approved/Unpaid
Brittany Newman	Administration 1	10-Sep-14	0.3	135.00	40.50	Administration	Filing	Corporate - Liquidation
John Park	Senior Managing Director	10-Sep-14	0.1	600.00	60.00	Administration	Email in from Investor	Corporate - Liquidation
					00.00		Review and approve payment of outstanding administration liabilities including review or supporting documentation and signing of transfer or cheque	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	10-Sep-14	0.1	600.00	60.00		Check bank accounts and receipt funds into myob for reconciliation purposes	Corporate - Liquidation
Benjamin Robson	Associate II	10-Sep-14	0.5	270.00	135.00		Email to CH regarding update on creating addition charge out code.	Corporate - Liquidation
Stuart Clancy	Manager 1	10-Sep-14	0.1	360.00	36.00	Administration	Printing for BJR RE payment requests for JDC to approve and sign;scan back to BJR	Corporate - Liquidation
Carly Drew	Administration 2	10-Sep-14	1.2	175.00	210.00	Administration	Review and forward on to LM investment Management Ltd where required and respond to other	Category 2 -
Renee Lobb	Senior Director	11-Sep-14	0.2	510.00	102.00	Trade-on	investor enquiries.	Approved/Unpaid
John Park	Senior Managing Director	11-Sep-14	0.2	600.00	120.00	Administration	Email in Russells	Corporate - Liquidation
		11-dop-t4	512				Review incoming documentation, consider and send to filing Review and update to do list; query	Corporate - Liquidation
Keily-Anne Trenfield	Senior Managing Director	11-Sep-14	0.2	600.00	120.00	Administration	outstanding items	Corporate - Liquidation
Glenn O'Keamey	Senior Director	11-Sep-14	0.1	560.00	56.00	Creditors	Review copy of LMA report, from liq.	Corporate - Liquidation
James Court	Director 1	11-Sep-14	1.4	510.00	714.00	Investigations	Supplementary s 533 reports for Eghard Van Der Hoven, Katie Phillips, and Francene Mulder	Corporate - Liquidation
Carly Drew	Administration 2	11-Sep-14	0.2	175.00	35.00	Administration	Prepared Final Letters and issued	Category 2
Renee Lobb	Senior Director	12-Sep-14	0.1	510.00	51.00	Administration	Fwd transfer form to LM Investment Management Ltd for action.	Approved/Unpaid Category 2 -
	O. J. Diserter	12-Sep-14	0,1	510.00	51.00	Investigations	Review update on PE possibility with piper alderman on insurance claims.	Approved/Unpaid
Renee Lobb	Senior Director	12-5ep-14			01.00	in bouganono	Review proposal from DLA re publication examination/junding agreementemals in re requests for	Ostarion, D
							meeting from That investor group; JRP re meeting timesernail to Clayton Utz re insurance scheme	Category 2 - Approved/Unpaid
Kelly-Anne Trenfield	Sr Managing Dir	12-Sep-14	0.8	600.00	480.00	Investigations	and involvement to PA	Category 2 -
Olaan Olikaamau	Senior Director	12-Sep-14	0.1	560.00	56.00	Trade-on	Update Kelly regarding services agrément etc.	Approved/Unpaid
Glenn O'Keamey	Administration 1	12-Sep-14	0.1	135.00	13.50	Administration	Mail in from Hickey Lawyers - Trust Statement for year ended 30 June 2014	Corporate - Liquidation
Brittany Newman	Administration II	12-Sep-14	0.3	175.00	52.50	Administration	Bank Reconciliations x 3	Corporate - Liquidation
Ann Clark	Administration II	12-36p-14	0.0	110.00	02.00		Review incoming occumentation, consider and send to filing; Review and Update to do list; query	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	12-Sep-14	0.1	600.00	60.00	Administration	outstanding items	Corporate - Liquidation
Glenn O'Kearney	Senior Director	12-Sep-14	0.2	560.00	112.00	Creditors	Call form investor regarding update LMIM and meeting, update JRP, review LMA annual report.	Corporate - Liquidation
John Park	Senior Managing Director	12-Sep-14	0.1	600.00	60.00	Administration	Email in Russells	Corporate - Liquidation
Stuart Clancy	Manager 1	12-Sep-14	0.1	360.00	36.00	Administration	Reviewed remittance advice. Email to Clouts requesting copy of LMA creators report. Received email from Clouts attaching report.	Corporare - Endongrou
Stuart Clancy	Manager 1	12-Sep-14	0.2	360.00	72.00	Creditors	Reviewing report and brief memo to GOK.	Corporate - Liquidation
Carly Drew	Administration 2	12-Sep-14	0.1	175.00	17.50	Trade-On	Printed, scanned emailed payment requests from BJR for JDC/KAT to sign	Corporate - Liquidation
John Park	Senior Managing Director	13-Sep-14	0.1	600.00	60.00	Administration	Email in Russells	Corporate - Liquidation
				510.00		Investigations	Teleconterence with Clayton Utz régarding insurance funding proposal by piper aldernian. Pre and post discussions with Kelly-Anne Trenfield on same.	Category 2 - Approved/Unpaid
Renee Lobb	Senior Director	15-Sep-14	0.7			Investigations	Review and respond to emails regarding insurance catch up.	Corporate - Liquidation
Renee Lobb	Senior Director	15-Sep-14	0.2	510.00	102.00	INVESTIGATIONS		f

	anagement Ltd (in Liqui	dation)	Ug () ()					
Remuneration to					3,204,515.29			Classifiantian
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative Treview reconcilions regarding KWM time and BJK hole, discussions with BJK regarding	Classification
							reconciliation of accounts KWM, review receipt vouchers fees, review fee tracking sheet and discuss	
Glenn O'Kearney	Senior Director	15-Sep-14	0.5	560.00	280.00	Administration	with BJR	Corporate - Liquidation
John Park	Senior Managing Director	15-Sep-14	0.8	600.00	480.00	Administration	Review proposal funding agreement from Piper Alderman; Discussion with Ashley Tiplady	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	15-Sep-14	0.4	600.00	240.00	Administration	Call with clayton utz re proposal from piper alderman; email to jrp re update	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	15-Sep-14	0.2	600.00	120.00	Assets	Emails in re insuranceemail from and response to mark waller re meeting	Corporate - Liquidation
	Control Analizing Director	10 000 11						Category 2 -
Renee Lobb	Senior Director	16-Sep-14	0.1	510.00	51.00	Administration	Fwd transfer form to investor.	Approved/Unpaid Category 2 -
Renee Lobb	Senior Director	16-Sep-14	0.1	510.00	51.00	Administration	File all sent emails on insurance issues and general enquiries from investors.	Approved/Unpaid
Renee Lobo		10-36p-14	0.1	.010.00	01.00			Category 2 ~
Ginette Muller	Sr Managing Dir	16-Sep-14	1.5	600.00	900.00	Administration	Meeting with DLC regarding cloud etc. See filenote regarding same. Consider further issues	Approved/Unpaid
		10.0	0.3	510.00	153.00	Investigations	Review insurfance policy exclusion clauses. Send Kelly-Anne Trenfield exact clause wording discussed in teleconference vesterday with commentary on asset risk if to participate.	Corporate - Liquidation
Renee Lobb	Senior Director	16-Sep-14	0.3	560.00	56.00	Administration	Review draft email KWM re account reconciliation amendments and note Ben Robson	Corporate Liquidation
Glenn O'Kearney	Senior Director	16-Sep-14	0.1	560.00	50.00	Administration	Correspondence war Deoran Chan, Philip Pan and Glenn O Keamey regarding King & wood	· · · · · · · · · · · · · · · · · · ·
							Mallesons outstanding invoice reconciliation - email to King & Wood Mallesons regarding writing off	Onen anata di invidation
Benjamin Robson	Associate II	16-Sep-14	0.4	270.00	108.00	Creditors	MPF time (Call with investor. Answer general questions on pricing and some on First Mortgage Income Fund.	Corporate - Liquidation Category 2 -
D I h	Camies Disector	17 Bap 14	0.3	510.00	153.00	Trade-on	provide BDO's detaits and brief update.	Approved/Unpaid
Renee Lobb	Senior Director	17-Sep-14	0.5	510.00	100.00	11800-011		Category 2 -
Renee Lobb	Senior Director	17-Sep-14	0.3	510.00	153.00	Creditors	Call from adviser provide general update on funds.	Approved/Unpaid
					50.00		MPF - review of denied records titled credit synopsis and prepare summary for KM	Category 2 - Approved/Unpaid
Christine Stead	Senior Director	17-Sep-14	0.1	560.00	56.00	Investigations		Category 2
Christine Stead	Senior Director	17-Sep-14	-0.1	560.00	- 56.00	Investigations	MPF - review of denied records titled credit synopsis and prepare summary for KM	Approved/Unpaid
							LIDE of deviced exactly lifted exactly superprise and propage summary for KM	Category 2 - Approved/Unpaid
Christine Stead	Senior Director	17-Sep-14	1.9	560.00		Investigations	MPF - review of denied records titled credit synopsis and prepare summary for KM	Corporate - Liquidation
Brittany Newman	Administration 1	17-Sep-14	0.1	135.00		Administration	Prepare WIP for period 01/07/2014 to 31/08/2014 for GOK	Corporate - Liquidation
Glenn O'Kearney	Senior Director	17-Sep-14	0.1	560.00	56.00	Creditors	Call from Chris erfrurt regarding insurance disclosures investors etc.	Corporate - Liquidation
John Park	Senior Managing Director	17-Sep-14	0.2	600.00	120.00	Administration	Email in Russells Consider giving the investigation of the actions against the Directors to JWS and for them to tind	Corporate - Equidation
O'n site bbelles	Contine Managine Director	17-Sep-14	1.5	600.00	900.00	Administration	funding accordingly. Discuss issues with DJB and KAT and David Proudman.	Corporate - Liquidation
Ginette Muller	Senior Managing Director	17-Sep-14	2.2	600.00	1.320.00	Administration	Discussion CU /class action lawyers defense issues review	Corporate - Liquidation
Damian Bender	Managing Director	17-3ep-14	2.2		1,020.00			Category 2 -
Renee Lobb	Senior Director	18-Sep-14	0.2	510.00	102.00	Trade-on	Review and respond to investor queries. Car with Crins Enum or Clayton or regaroing insurance matters and time cost charging separation	Approved/Unpaid
							between funds. Provide update on information from LMIM staff. Follow up LMIM staff on timing of	Category 2 -
Renee Lobb	Senior Director	18-Sep-14	0.3	510.00	153.00	Administration	same.	Approved/Unpaid
Renee Loop		10-060-14		010100				Category 2 -
Renee Lobb	Senior Director	18-Sep-14	0.3	510.00	153.00	Investigations	Review piper alderman funding agreement.	Approved/Unpaid Category 2 -
		10.0		600.00	80.00	Administration	Email to clayton utz re piper alderman correspondence	Approved/Unpaid
Kelly-Anne Trenfield	Sr Managing Dir	18-Sep-14	0.1	00.00	00.00		Respond to email from Kelly-Anne Trentield regarding charging time and Clayton Utz involcing of	
Renee Lobb	Senior Director	18-Sep-14	0.2	510.00	102.00	Administration	insurance matters. Send email follow up to Clutz	Corporate - Liquidation
Glenn O'Keamey	Senior Director	18-Sep-14	2	560.00	1,120.00	Administration	Travel to surfer s and meet with Peter Kells. investor, relates to MPF.	Corporate - Liquidation
John Park	Senior Managing Director	18-Sep-14	0.2	600.00	120.00	Administration	Correspondence in Russells	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	18-Sep-14	0.1	600.00	60.00	Administration	Review and update to do list; query outstanding items	Corporate - Liquidation
							Call in from mark waller re correspondence from Piper aldermandratt email to piper alderman re	Category 2 - Approved/Unpaid
Kelly-Anne Trenfield	Sr Managing Dir	19-Sep-14	0.3	600.00	180.00	Administration	Instructions; review email from mark waller and additional comments Review email from Clayton ouz regarding costs separation and spirt between Livnivi and Wanaged	reproted orthain
				ļ			Performance Fund. Send email to Kelly-Anne Trenfield and GOK regarding information updating and	Category 2 -
Renee Lobb	Senior Director	19-Sep-14	0.2	510.00	102.00		awaiting timing on same.	Approved/Unpaid

LM Investment M Remuneration to	anagement Ltd (In Liqui 30 June 2018	dation)	· · ·		3,204,515,29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Renee Lobb	Senior Director	19-Sep-14	0.1	510.00	51.00	Trade-On	Review GOK views on charging of time and invoice split.	Corporate - Liquidation
James Court	Director 1	19-Sep-14	2.1	510.00	1.071.00	+	Sup 533 report for former directors, John O'Sullivan, Grant Fischer, Simon Tickner, Lisa Darcy	Corporale - Liquidation
John Park	Senior Managing Director	19-Sep-14	0.4	600.00	240.00		Emails in Russells	Corporate - Liquidation
John Park	Seriiot Wanaging Director	13-36p-14	0.4	000.001	240.00	Administration	Review note many watter regarding costs, review register . hote to BJR regarding allocation to HMIF	
Glenn O'Kearney	Senior Director	19-Sep-14	0.5	560.00	280.00	Assets	and LMIM. note to Renee and Kelly regarding proposed allocations.	Corporate - Liquidation
Ginette Muller	Senior Managing Director	19-Sep-14	0.2	600.00	120.00	Administration	Review and approve finalised filenote and attachments assembled by MDG.	Corporate - Liquidation
John Park	Senior Managing Director	20-Sep-14	0.5	600.00	300.00	Administration	Review Russells advice on residual powers	Written Off/Not claimed
								Category 2 -
Renee Lobb	Senior Director	22-Sep-14	0.1	510.00	51.00	Administration	Review and respond to email regarding change of address enquiries. Review and respond to email from investor. Fwd tasks for actioning to LM investment Management	Approved/Unpaid Category 2 -
Renee Lobb	Senior Director	22-Sep-14	0.2	510.00	102.00	Administration	Ltd staff.	Approved/Unpaid
		22-06p-14	0.1	010.00	102.00		Mail in from Mcgarth Nicol re claim for reimbursement of costs borne by LMA and paid by MIP re	Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	22-Sep-14	0.1	600.00	60.00	Administration	funds management business	Approved/Unpaid
							emails in re cost aflocations; review responses	Category 2 - Approved/Unpaid
Keliy-Anne Trenfield	Sr Managing Dir	22-Sep-14	0.1	600.00	60.00	Assets		Category 2 -
Christine Stead	Senior Director	22-Sep-14	0.1	560.00	56.00	Administration	email out to Ronald at KM regarding review of credit synopsis denied records	Approved/Unpaid
Childente Otead			•				Review correspondence Mcgrath nicol regarding operational costs reimbursements, review	Category 2 -
Glenn O'Kearney	Senior Director	22-Sep-14	1	560.00	560.00	Assets	annexure's, compare with estimates across funds, note to jcorbett for discussion. Review hie for report showing potential director action. Send emain to Ginette Multier with query on	Approved/Unpaid
				510.00	153.00	Administration	Review me for report showing potential director action. Send entail to Griette Muner wan query on same.	Corporate - Liquidation
Renee Lobb	Seniar Director	22-Sep-14	0.3				Send required information to Ginette Muller on investigations.	Corporate - Liquidation
Renee Lobb	Senior Director	22-Sep-14	0.1	510.00	51.00	Administration	Review Russells advice on residual powers	Written Off/Not claimed
John Park	Senior Managing Director	22-Sep-14	0.4	600.00	240.00	Administration		Corporate - Liquidation
Brittany Newman	Administration 1	22-Sep-14	0.2	135.00	27.00	Administration	Split files + filing Review correspondence creditors and reply with POD, Update TDL, discussions with Kelly regarding	Curporate - Elquidation
01	Senior Director	22-Sep-14	0.2	560.00	112.00	Creditors	current status of file, notes.	Corporate - Liquidation
Glenn O'Keamey		22-Sep-14	0.2	560.00	56.00	Assets	Review insurance emails regarding allocations etc.	Corporate - Liquidation
Glenn O'Keamey	Senior Director	22-Sep-14	U.1		30.00	153613	Arrange for reports regardign offences pertaining to the directors to be opened to commence work on	
Ginetle Muller	Senior Managing Director	22-Sep-14	1	600.00	600.00	Administration	recoveries. Review actions.	Corporate - Liquidation
							Contirm with Ben after review of Kelly-Anne Trentield email that no turther information on member	Category 2 - Approved/Unpaid
Renee Lobb	Senior Director	23-Sep-14	0.1	510.00	51.00	Administration	numbers is required for Russell's.	Category 2 -
Kallu Anna Trasfield	Er Monoging Dir	23-Sep-14	0.2	600.00	120.00	Administration	GOK re status of fee claim and LMA position; mail in; emails in	Approved/Unpaid
Kelty-Anne Trenfield	Sr Managing Dir	23-36p-14	0.2		120.00			Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	23-Sep-14	0.1	600.00	60.00	Administration	review RFZ email to WMS and discuss with GOK	Approved/Unpaid
· · · · · · · · · · · · · · · · · · ·							teleconference with John corbett regarding funds ability to contribute, review supporting docs to Mon	
							claims, prepare memo and strategy for dealing with matter - issue to Kelly and John, reply in Kelly.	Category 2 -
Glenn O'Keamev	Senior Director	23-Sep-14	1.8	560.00	1,008.00	Trade-on	note to Kelly reparding offset issues/FMIE.	Approved/Unpaid
							The analysis of the second second Summarising investigations and actions to Ginette Muller. Send email to David also per gdm's	
		[request. Email to Kelly-Anne Trenfield regarding posting of information on website following investor	
Renee Lobb	Senior Director	23-Sep-14	0.6	510.00	306.00	Administration	mail out.	Corporate - Liquidation
		20-00p-14		010100			Review and respond to email from Ben Robson regarding Russells information required. Check with	Companyin Liquidation
Renee Lobb	Senior Director	23-Sep-14	0.1	510.00	51.00	Administration	Kelly-Anne Trenfield. Review email from Steve Hannian and forward to Clayton Utz seeking clarification on information	Corporate - Liquidation
					100.00	8 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 -	requested.	Corporate - Liquidation
Renee Lobb	Senior Director	23-Sep-14	0.2	510.00		Administration Administration	RCL regarding the further and better information required for JWS	Corporate - Liquidation
Ginette Muller	Senior Managing Director	23-Sep-14	0.5	600.00	300.00	Authinistration		Category 2
Benjamin Robson	Consultant I	24-Sep-14	4	270.00	270.00	Creditors	Various LM Payment batches filed, reconciliation of payments register	Approved/Unpaid
Kelly-Anne Trenfield	Senior Managing Director	24-Sep-14	0.1	600.00		Administration	Review and update to do list; query outstanding items	Corporate - Liquidation
1		24-Sep-14	0.1	510.00	51.00		Review and revert to SAC creditor enquiry.	Corporate - Liquidation
Renee Lobb	Senior Director	<u> </u>				orodicoro	Provide details to insert in notice.	Corporate - Liquidation
Renee Lobb	Seniar Director	24-Sep-14	0.1	510.00	51.00	Automisiration		

Remuneration to	anagement Ltd (in Liqui 30 June 2018	99.1911)			3,204,515.29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Renee Lobb	Senior Director	24-Sep-14	0.1	510.00	51.00	Administration	Filing all sent emails in public folders.	Corporate - Liquidation
James Court	Director 1	24-Sep-14	0.5	510.00	255.00	Investigations	Finalise drafts of all 8 supp reports for all 6 directors and former directors	Corporate - Liquidation
John Park	Senior Managing Director	25-Sep-14	0.3	600.00	180.00	Administration	Email in from Investor; Discussion with Stephen Russell	Corporate - Liquidation
							Review email from Mark Waller with further information required from LM Investment Management	
							Ltd staff to assist in insurance matters. Send on to Steve.Review further email from Mark to GOK	
Renee Lobb	Senior Director	25-Sep-14	0.3	510.00	153.00	Investigations	regarding level of information able to be disclosed regarding insurance policies. File same.	Corporate - Liquidation
Benjamin Robson	Associate II	25-Sep-14	0.2	270.00	54.00	Assets	Receipt funds in from FEG	Corporate - Liquidation
Benjamin Robson	Associate II	25-Sep-14	0.2	270.00	54.00	Assets	Payment voucher to LMA regarding FEG distribution funds transfer	Corporate - Liquidation
Glenn O'Keamey	Senior Director	25-Sep-14	1	560.00	560.00	Administration	Draft updated status memo/issues list.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	25-Sep-14	0.1	560.00	56.00	Assets	Note waller regarding disclosure insurance matters.	Corporate - Liquidation
				F40.00	E4 00	luu oo din ati ama	Review email from Steve Hannan. Advise to send all lawyer required information in one lot.	Category 2 - Approved/Unpaid
Renee Lobb	Senior Director	26-Sep-14	0.1	510.00	51.00			Corporate - Liquidation
Ann Clark	Administration II	26-Sep-14	0.1	175.00	17.50	Administration	Payment slips Mail in from ATO - BAS (1 Jul - 30 Sep 2014)	Corporate - Liquidation
Brittany Newman	Administration 1	26-Sep-14	0.1	135.00	13.50	Administration	Emails in re status of enquiries re insurance claim; mail in; mail in re LMA fee claim	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	26-Sep-14	0.1	600.00	60.00	Administration	Emails in restaus of enquires remainde claim, mainin, mainin to Envir see claim	Corporate - Liquidation
John Park	Senior Managing Director	26-Sep-14	0.3	600.00	180.00	Administration	Filing emails.	Corporate - Liquidation
Renee Lobb	Senior Director	26-Sep-14	0.1	510.00	51.00	Administration	Various payment and receipt voucher in MYOB	Corporate - Liquidation
Benjamin Robson	Associate II	26-Sep-14	0.4	270.00	108.00	Creditors	Review and approve transfer \$2k lma funds	Corporate - Liquidation
Glenn O'Kearney	Senior Director	26-Sep-14	0.1	560.00	56.00	Administration	Review and approve dansies \$2k and kinds	Category 2 -
Glenn O'Keamey	Senior Director	29-Sep-14	0.2	560.00	112.00	Trade-on	Liaise lan nicol r regarding op cost contributions/discussion. note RFZ regarding op cost budgets.	Approved/Unpaid
Renee Lobb	Senior Director	29-Sep-14	0.1	510.00	51.00	Administration	Fwd enquiry regarding adviser login to LM Investment Management Ltd staff.	Category 2 - Approved/Unpaid
Glenn O'Kearney	Senior Director	29-Sep-14	1	560.00	560.00	Assets	Draft/update SOP inclusion status memo.	Corporate - Liquidation
Benjamin Robson	Associate II	29-Sep-14	0.2	270.00	54.00	Administration	Perusal email form Leanne Troy regarding Capital distribution payments	Corporate - Liquidation
Benjamin Robson	Associate II	29-Sep-14	0.2	270.00	54.00	Administration	Correspondence with ACC regarding transfer of funds form LMIM to LMA	Corporate - Liquidation
Benjamin Robson	Associate II	29-Sep-14	0.3	270.00	81.00	Creditors	Review and update consultants fee register	Corporate - Liquidation
Ann Clark	Administration II	29-Sep-14	0.3	175.00	52.50	Administration	Cheque and EFT voucher including MYOB processing	Corporate - Liquidation
Ann Clark	Administration II	29-Sep-14	0.1	175.00	17.50	Administration	Banking	Corporate - Liquidation
Megan Dopking	Administrative	29-Sep-14	0.1	135.00	13.50	Administration	Banking	Corporate - Liquidation
Brittany Newman	Administration 1	29-Sep-14	0.1	135.00		Administration	Format & Final 89741130	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	29-Sep-14	0.3	600.00		Administration	Review incoming documentation, consider and send to filing Review and update to do list; query outstanding items	Corporate - Liquidation
elly-Anne Trenfield	Senior Managing Director	29-Sep-14	0.1	600.00	60.00	Administration	Review and approve payment of outstanding administration liabilities including review of supporting documentation and signing of transfer or cheque	Corporate - Liquidation
							votes notin the z regarding op cost issues and tepy, to the z, review have statement regarding charge across funds windup fees etc. teleconference with Ian Nicol regarding op contributions to FMIF	
							regarding funding requested, prepare and issue note to John c and Ryan regarding discussion and	Category 2 -
ienn O'Keamey	Senior Director	30-Sep-14	1.3	560.00	728.00	Trade-on	next steps to resolve.	Approved/Unpaid
ilenn O'Keamey	Senior Director	30-Sep-14	0.1	560.00	56.00	Administration	Review legal invoice russells. memo to Ben Robson regarding register.	Corporate - Liquidation
irittany Newman	Administration 1	30-Sep-14	0.1	135.00	13.50	Administration	Mail in from ASIC - Invoice Statement 21 Sep 2014	Corporate - Liquidation
								Category 2 -
ariy Drew	Admin II	01-Oct-14	0.2	175.00	35.00	Administration	8978 - MIF - saved 505s and sent to filing section 2	Approved/Unpaid Category 2 -
elly-Anne Trenfield	Sr Managing Dir	01-Oct-14	0.1	600.00	60.00	Administration	Gok re status of LMA management fee recovery and BDO position	Approved/Unpaid Category 2 -
lenn O'Keamey	Senior Director	01-Oct-14	0.5	560.00	280.00	Trade-on	Review breakdown of timesheet data McGrath Nicol regarding operation cost allocations and general allocations vs FUM method.	Approved/Unpaid

Damian Bender	Title	Date	Ling		3,204,515.29			
		i de la compansión de la c	neurs	Charge Out Rate	Charge	Task Desc	Narrative	Classification
	CONSULTANT	01-Oct-14	2.2	600.00	1,320.00	Administration	Review funding issues re class action discussions clayton utzJWS email PA issues	Category 2 - Approved/Unpaid
MARING LUUU	Senior Director	01-Oct-14	0.1	510,00	51.00	Investigations	Respond to email from Ginette Muller regarding investigations.	Corporate - Liquidatio
Brittany Newman	Administration 1	01-Oct-14	0.1	135.00	13.50	Administration	Mail in from Hickey Lawyers - Statement of Outstanding Accounts	Corporate - Liquidatio
Glenn O'Kearney	Senior Director	01-Oct-14	2	560.00	1,120.00	Administration	Update SOP/LMIM status memo/. review MYOB and registers for updates. issue to Kelly with memo.	Corporate - Liquidation
Renee Lobb	Senior Director	02-Oct-14	0.1	510.00	51.00	Investigations	PDF investigation document and send to Ginette Muller.	Corporate - Liquidatio
Brittany Newman	Administration 1	02-Oct-14	0.1	135.00	13.50	Administration	Filing	Corporate - Liquidatio
Kelly-Anne Trenfield	Senior Managing Director	02-Oct-14	0.1	600.00	60.00	Administration	Review incoming documentation, consider and send to filing; Review and update to do list; query outstanding items	Corporate - Liquidation
	Consultant I	03-Oct-14	0.3	270.00	81.00	Creditors	Perusal email and invoice from ASIC relating to outstanding logements. Issue to LM	Category 2 - Approved/Unpaid
senjamin Robson	Consultant	03-001-14	0.0	210.00	01.00	OfBallors	Update Consultants register with Matter number format for Russells invoices across various funds as	
Benjamin Robson	Consultant I	03-Oct-14	0.5	270.00	135.00	Creditors	RE	Approved/Unpaid
								Category 2 -
Glenn O'Kearney	Senior Director	03-Oct-14	0.3	560.00	168.00	Trade-on	Call from john K regarding operations/documents for op cost support reimbursements FMIF. Review incoming documentation, consider and send to fluing Review and update to do list; query	Approved/Unpaid
Kelly-Anne Trenfield	Senior Managing Director	03-Oct-14	0.1	600.00	60.00	Administration	outstanding items	Corporate - Liquidation
	Senior Director	03-Oct-14	0.2	560.00	112.00	Creditors	Discuss consultants register with BJR	Corporate - Liquidation
Glenn O'Kearney	Serior Director	03-00-14	Ų.2	500.00	112.00	Cicaliois		Category 2 -
Iohn Park 3	Sr Managing Dir	07-Oct-14	0.1	600.00	60.00	Administration	Email In from investor	Approved/Unpaid
Kelly-Anne Trenfield	Senior Managing Director	07-Oct-14	0.3	600.00	180.00	Administration	review and update task listing; comments to GOK	Corporate - Liquidation
						i	Review comment was regarding in Distatus memory discussion Ben Rooson regarding rem craim preparation, note from Ashley regarding offer from tucker regarding LMIM cost order, draft updated to	
				560.00	448.00	Administration	status memo per KAT amendments.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	07-Oct-14	0.8	560.00	446.00	Administration	Furner review of class action issuestunding requirements insolvency reports actions against	
Damian Bender	Managing Director	07-Oct-14	2.2	600.00	1,320.00	Administration	directorsprocessreview emails	Corporate - Liquidation
							update status memoGOK re update; mail in re costs order claimsreview email from RF2 re	Category 2 -
Celly-Anne Trenfield	Sr Managing Dir	08-Oct-14	0.3	600.00	180.00	Administration	accounting function of funds	Approved/Unpaid
lohn Park S	Senior Managing Director	08-Oct-14	1	600.00	600.00	Administration	Review GOK memo and review action items Mail in from ASIC - Correspondence; Pay Invoice & Check Company Statement + Invoice Statement	Corporate - Liquidation
		00.0-144		135.00	13.50	Administration	128 Sep 2014	Corporate - Liquidation
Brittany Newman A	Administration 1	08-Oct-14	0.1	135.00	13.50	Auminisuauon	Finalsie im status memo and circulate. JP comments in, revise - repare annexures per JP	·
Sienn O'Kearney	Senior Director	08-Oct-14	1.3	560.00	728.00	Administration	instructions, discuss MPF/AIF matter KAT, final and circulate, call from JRP to discuss.	Corporate - Liquidation
Brittany Newman A	Administration 1	09-Oct-14	0.1	135.00	13.50	Administration	Enter missing transactions in MYOB for September 2014 + reconcile accounts as at 30/09/2014	Corporate - Liquidation
ituart Clancy	Manager 1	09-Oct-14	0.1	360.00	36.00	Administration	Reviewing and responding to various emails	Corporate - Liquidation
	Manager 1	09-Oct-14	0,1	360.00	36.00	Administration	Updating task list and reviewing file.	Corporate - Liquidation
	Manager 1	09-Oct-14	0.5	360.00	180.00	Creditors	Responding to various creditors regarding update on liquidation to date. Memo to GUK regarding update on AGM.	Corporate - Liquidation
		09-Oct-14	1.8	600.00		Administration	Review structure memo updates review russell letter on powersreview action items	Corporate - Liquidation
Damian Bender N	Managing Director	09-061-14	1.0	000.00	1,000.00			Category 2 -
lenee Lobb S	Senior Director	10-Oct-14	0.1	510.00	51.00	Administration	Send transfer form to LMIM for processing.	Approved/Unpaid Category 2 -
tenee Lobb S	Senior Director	10-Oct-14	0.1	510.00	51.00	Trade-on	Review email from investor. Fwd to LMIM staff to action transfer.	Approved/Unpaid
		1					Review emails if the GOK and Kelly-Anne Tremelo regarding insurance issues and payment of portions of liability for insurance action costs. Review email regarding new code for liability issues	
enee Lobb S	Senior Director	10-Oct-14	0.2	510.00	102.00		also.	Corporate - Liquidation
		10-Oct-14	0.2	360.00	72.00	Creditors	Reviewed further emails from creditors regarding liquidation progress and responded accordingly.	Corporate - Liquidation
	Manager 1		0.2	360.00				Corporate - Liquidation
	Vanager 1 Vanager 1	10-Oct-14 10-Oct-14	0.2	360.00		Administration		Corporate - Liquidation

(

LM investment Ma Remuneration to 3	nagement Ltd (In Liquid O lupe 2018	dation)			3.204.515.29			
Name		Date	Hours	Charge Out Rate			Narrative	Classification
							Review insurance bill in Clayton utz, note to Clayton utzre allocation FMIF, note BJR regarding	Querrate Lincidation
Glenn O'Kearney	Senior Director	10-Oci-14	0.5	560.00	280.00	Assets	register allocation to FMIF./	Corporate - Liquidation
Glenn O'Kearney	Senior Director	10-Oct-14	1	560.00	560.00	Creditors	Drafting of annual report to ASIC 508.	Corporate - Liquidation
				540.00	400.00		Review tund update request from Steve Hannan and RFZ response regarding items required for ASPF and CPF audits.	Category 2 - Approved/Unpaid
Renee Lobb	Senior Director	13-Oct-14	0.2	510.00	102.00	Administration		Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	13-Oct-14	0.1	. 600.00	60.00	Administration	emails from and to lan Bisson re co-ordination of Russells/Fti meeting	Approved/Unpaid
								Category 2 -
Glenn O'Kearney	Senior Director	13-Oct-14	0.1	560.00	56.00		Discuss op cost invoice status BJR	Approved/Unpaid Corporate - Liquidation
Megan Dopking	Administrative	13-Oct-14	0.1	135.00	13.50	Administration	Bank reconciliations	
Stuart Clancy	Manager 1	13-Oci-14	0.1	360.00	36.00	Creditors	Revlewing and responding to various creditor queries regarding update on liquidation to date.	Corporate - Liquidation
0	Manage 1	13-Oct-14	0.4	360.00	144.00	Creditors	payments summary.	Corporate - Liquidation
Stuart Clancy	Manager 1	13-061-14	0.4	300.00	144.00	Cicultura	work back through Russells legal invoices and assign a matter number to all invoices since date of	
Benjamin Robson	Associate II	13-Oct-14	1.4	270.00	378.00	Creditors	appointment	Corporate - Liquidation
Benjamin Robson	Associate II	13-Oct-14	0.2	270.00	54.00	Administration	Submission of various receipt and payment vouchers in MYOB	Corporate - Liquidation
Benjamin Robson	Associate II	13-Oct-14	0.1	270.00	27.00	Administration	File review with Glenn O'Kearney	Corporate - Liquidation
							Discussion with SAC regarding file status: review R& P. Italse Jp and russells regarding meting/follow up matters, bank reconciliation	Corporate - Liquidation
Glenn O'Kearney	Senior Director	13-Oct-14	0.3	560.00	168.00	Administration		Corporate - Liquidation
Glenn O'Kearney	Senior Director	13-Oct-14	2	560.00	1,120.00	Creditors	Drafting of report/acts and dealings for ASIC logement/creditors.	Corporate - Elduidadon
							Review letter from Clayton Utz with insurance update on litigation funding and the required additional	
Renee Lobb	Senior Director	14-Oct-14	0.3	510.00	153.00	Investigations	notification suggested for the insurer. Provide commentary to KAT and save document to file.	Corporate - Liquidation
							Meeting with John Park, Kelly-Anne Trentield and Mark Waller. Provide instructions on insurance	Corporate - Liquidation
Renee Lobb	Senior Director	14-Oct-14	0.3	510.00		Investigations	matters. Review information requested from Clayton Utz sent by Steve Hannan, fwd same to Clayton Utz.	Corporate - Liquidation
Renee Lobb	Senior Director	14-Oct-14	0.2	510.00	102.00	Investigations		Corporate - Liquidation
John Park	Senior Managing Director	14-Oct-14	0.8	600.00	480.00	Administration	Ernail in Clayton Utz; Attend meeting with Mark Waller Review insurance advice from Clayton Utz; meeting with mark walleremain from and to mark waller re	Corporate - Exquidadon
Kalla dana Taraƙald	Casies Mongains Director	14-Oct-14	0.8	600.00	480.00	Administration	insurance advice	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	14-Oct-14	0.0	600.00	60.00	Administration	Review email in from steve hannan re insurance queries; emails re insurance advice	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	14-Oct-14	0.1	600.00	60.00	Administration	review email in from steve hannan re insurance queries; emails re insurance advice	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	· · ·	0.1	270.00	81.00	Administration	Receipt various payments into LM accounts	Corporate - Liquidation
Benjamin Robson	Associate II	14-Oct-14			81.00		Check LM Accounts for deposits	Corporate - Liquidation
Benjamin Robson	Associate II	14-Oct-14	0.3	270.00	01.00	Creditors	Dratting of annual report 508, review ofections listing for breakup of creds's in report, review other	
Glenn O'Kearney	Senior Director	14-Oct-14	4	560.00	2,240.00	Creditors	material for inclusions in report (ASIC supp report etc.)	Corporate - Liquidation
diam o riodinay							unalle is a funding Duraselle to de list	Category 2 - Approved/Unpaid
Kelly-Anne Trenfield	Sr Managing Dir	15-Oct-14	0.3	600.00		Administration	emails in re fundingRussells to do list	Corporate - Liquidation
John Park	Senior Managing Director	15-Oct-14	0.1	600.00	60.00	Administration	File review	Category 2 -
	2. Hannin El	10.0.1.1	0.2	600.00	100 001	Administration	Review and update to do list; query outstanding itemsmessage re aif; gok re funding	Approved/Unpaid
Kelly-Anne Trenfield	Sr Managing Dir	16-Oct-14	U.2.	800.00	120.00	Administration	Note to Ryan regarding Fund accounting generally. Initial review REm data prepared BJR across	Category 2 -
Glenn O'Kearney	Senior Director	16-Oct-14	0.3	560.00	168.00	Administration	funds.	Approved/Unpaid
Kelly-Anne Trenfield	Senior Managing Director	16-Oct-14	0.1	600.00	60.00	Administration	Review and amend letter from CU to piper alderman Review conectability. Review conespondence RRTP intance team regarding accounting with review	Corporate - Liquidation
							LM data regarding rememoration review data formed by PArmend, teleconference with PArmend to discuss status on asset availability issues across LM files. review parmend note on file review and	
Glenn O'Keamey	Senior Director	16-Oct-14	2.5	560.00	1,400.00	Administration	amend.	Corporate - Liquidation
	Senior Director	16-Oct-14	0.5	560.00	280.00	Administration	Review and work on receipt and payments for AGM report.	Corporate - Liquidation
	Administration 1	16-Oct-14	0.1	135.00			Mail in from Hickey Lawyers - Statement of Outstanding Accounts as at 29/09/2014	Corporate - Liquidation
Districting in Constitution		10 QUE 14						Category 2 -
Benjamin Robson	Consultant I	17-Oct-14	0.3	270.00	81.00	Administration	Check LM Accounts - AIF, CPF and FMIF for funds received into Liquidation account	Approved/Unpaid

LM Investment Ma Remuneration to	inagement Ltd (In Liqui 10 June 2018	dation)			3,204,515.29	· · · ·		
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Carly Draw	Admin II	17-Oct-14	0.1	175.00	17.50	Administration	Prepared Final Letter and issued to Piper Alderman & Clayton utz cc KAT/JRP	Category 2 - Approved/Unpaid
Carly Drew		17-0ct-14	0.1	135.00	27.00	Administration	Filing	Corporate - Liquidation
Brittany Newman	Administration 1	17-06-14	0.2	135.00	27.00	Administration	, ни д	Category 2 -
Renee Lobb	Senior Director	20-Oct-14	0.2	510.00	102.00	Trade-on	Sending to LM Investment Management Ltd transfer and holding requests for action.	Approved/Unpaid
								Category 2 -
Renee Lobb	Senior Director	20-Oct-14	0.2	510.00	102.00	Administration	Review and file Lm emails and responses.	Approved/Unpaid
Brittany Newman	Administration 1	20-Oci-14	0.4	135.00	54.00	Administration	Filing (received from Brisbane Office)	Corporate - Liquitation
Renee Lobb	Senior Director	21-Oct-14	0.2	510.00	102.00	Trade-on	Respond to email seeking JV.	Approved/Unpaid
	Corner Director					[Category 2 -
Renee Lobb	Senior Director	21-Oct-14	0.2	510.00	102.00	Trade-on	Call with ASIC regarding 77 CA notice.	Approved/Unpaid Category 2 -
D (Realize Diseator	21-Oct-14	0.1	510.00	51.00	Administration	Filing all sent emails.	Approved/Unpaid
Renee Lobb	Senior Director	21-00-14	0.1	510.00	51.00	Administration		Category 2 -
Renee Lobb	Senior Director	21-Oct-14	0.1	510.00	51.00	Creditors	Call from adviser regarding commissions.	Approved/Unpaid
							Review ASIC notice of production and send to Kelly-Anne Trenfield with comments.	Category 2 - Approved/Unpaid
Renee Lobb	Senior Director	22-Oct-14	0.1	510.00	51.00	Investigations		Category 2 -
Renee Lobb	Senior Director	22-Oct-14	0.1	510.00	51.00	Administration	Email to Steve Hannan requesting production of records for ASIC notice.	Approved/Unpaid
								Category 2 -
Renee Lobb	Senior Director	22-Oct-14	0.1	510.00	51.00	Investigations	Answer Steve Hannan's queries regarding cashbook. Follow up trene on multiple issues relating to LM as RE for funds - invoices to be paid, aged payable	Approved/Unpaid Category 2 -
 i D-k++	Consultant (22-Oct-14	_	270.00	270.00	Administration	reports, remuneration to be paid	Approved/Unpaid
Benjamin Robson		22-Oct-14 22-Oct-14	0.2	600.00	120.00	Administration	File review with GOK	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	22-0ct-14 22-0ct-14	0.2	600.00	240.00	Creditors	Review AGm report	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	22-Oct-14 22-Oct-14	0.4	600.00	60.00	Administration	mail in re asic notice re production of documents	Corporate - Liquidation
Keliy-Anne Trenfield	Senior Managing Director		0.1	360.00	36.00	Creditors	Email to creditor regarding update on liquidation to date and future course of action.	Corporate - Liquidation
Stuart Clancy	Manager 1	22-Oct-14	<u> </u>	300.00	30.00	CIBUIDIS		
Glenn O'Kearney	Senior Director	22-Oct-14	0.3	560.00	168.00	Creditors	Discuss AGM report Kelly .prelim review of market up changes, discuss file status generally Kelly.	Corporate - Liquidation
					100.00		Review email from Steve Hanna. Request from Kelly-Anne Trentield information to access data room. After unable to access data room request USB from Steve.	Approved/Unpaid
Renee Lobb	Senior Director	23-Oct-14	0.2	510.00	102.00	Administration	Call with GUK regarding annual report, draw paragraph to insert with regard to ASIC holices complied	I depicted an point
Renee Lobb	Senior Director	23-Oct-14	0.2	510.00	102.00	Greditors	with.	Corporate - Liquidation
Brittany Newman	Administration 1	23-Oct-14	0.1	135.00	13.50	Administration	Insert & update contents page 8974r29	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	23-Oct-14	1.1	600.00	660.00	Investigations	Review 10 x supplementary reports	Corporate - Liquidation
John Park	Senior Managing Director	23-Oct-14	0.2	600.00	120.00	Administration	Email in Russells	Corporate - Liquidation
Stuart Clancy	Manager 1	23-Oct-14	0.1	360.00	36.00	Administration	Updating task list regarding tasks completed and future tasks to complete.	Corporate - Liquidation
Sudar Olanoj	incharger :						Review Kelly comments regarding report to creditors, drafting of report. Italse with Riobb regarding	Corporate - Liquidation
Glenn O'Kearney	Senior Director	23-Oct-14	1.8	560.00	· · · · · · · · · · · · · · · · · · ·	Creditors	report insertions. note to Kelly regarding status.	Corporate - Liquidation
Aohamed Almulla	Senior Consultant I	23-Oct-14	0.2	360.00	72.00	Administration	Prepare creditor listing for Glenn	Category 2
	0	24-Oct-14	0.1	270.00	27.00	Administration	Email to Steve Hannan regarding September FUM figures	Approved/Unpaid
Benjamin Robson	Consultant I	24-00-14	0.1	270.00	21.00	, anni Iou ation		Category 2 -
Renee Lobb	Senior Director	24-Oct-14	0.1	510.00	51.00	Administration	Review and respond to email from ASIC.	Approved/Unpaid Category 2 -
				F 40.00	E4 00	A deministration	Further email to ASIC.	Approved/Unpaid
Renee Lobb	Senior Director	24-Oct-14	0.1	510.00			Prepare payment/receipt voucher in MYOB - Transfer to Term Deposit	Corporate - Liquidation
irittany Newman	Administration 1	24-Oct-14	0.1	135.00		Administration	Prepare BAS (1 Jul - 30 Sep 2014)	Corporate - Liquidation
Brittany Newman	Administration 1	24-Oct-14	0.2	135.00		Administration	Mail in from ASIC - Correspondence; Notice issued under s30 of the ASIC Act 2001	Corporate - Liquidation
nittany Newman	Administration 1	24-Oct-14	0.1	135.00		Administration		Corporate - Liquidation
elly-Anne Trenfield	Senior Managing Director	24-Oct-14	0.5	600.00	300.00	Investigations	Review supplementary section 533 reports x 10	

1M investment Ma Remuneration to 3	nagement Ltd (In Liquid 0 June 2018	dation)			3,204,515.29	<u> </u>		
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Stuart Clancy	Manager 1	24-Oct-14	0.1	360.00	36.00	Administration	Resolving issues with term deposit account set up	Corporate - Liquidation
	·					1		Category 2 -
Renee Lobb	Senior Director	27-Oct-14	0.1	510.00	51.00	Administration	Email investor requesting transfer document to be resent. Review after downloading, documents from LM Investment Management Ltd for ASIC notice	Approved/Unpaid Category 2 -
19 I - b .b	Senior Director	27-Oct-14	0.2	510.00	102.00	Investigations	response, raise email queries with Steve Hannan	Approved/Unpaid
Renee Lobb	Settior Director	27-002-14	0.2	010.00	102.00	introdugations	Further email to Steve Hannan regarding clarification on requirements of notice vs information	Category 2 -
Renee Lobb	Senior Director	27-Oct-14	0.1	510.00	51.00	Investigations	provided.	Approved/Unpaid
							Review Steve's response to email regarding LMIM information. Request additional information and	Category 2 -
Renee Lobb	Senior Director	27-Oct-14	0.2	510.00	102.00	Investigations	email Kelly-Anne Trenfield regarding interim ASIC response and extension request.	Approved/Unpaid Category 2 -
Dawaa Labb	Senior Director	27-Oct-14	0.1	510.00	51.00	Administration	Email to Steve Hannan regarding data room issues in CMA absence.	Approved/Unpaid
Renee Lobb	Senior Director	27-00-14	0.1	510.00	01.00	Administration	Review further information from Steve and download from dropbox to client file, email ASIC	Category 2 -
Renee Lobb	Senior Director	27-Oct-14	0.3	510.00	153.00	Investigations	confirming documents to hand and requesting confirmation of medium to send.	Approved/Unpaid
							PRACT COVER LETTER TO ACCOMPANY DOCUMENTS FOR ASIC NOTICE	Category 2 -
Renee Lobb	Senior Director	27-Oct-14	0.2	510.00	102.00	Investigations	DRAFT COVER LETTER TO ACCOMPANY DOCUMENTS FOR ASIC NOTICE.	Approved/Unpaid Category 2 -
	Barrian Dianatan	27-Oct-14	0.1	510.00	51.00	Administration	Response to email from GOK regarding ASIC notice.	Approved/Unpaid
Renee Lobb	Senior Director	27-001-14		510.00	31.00	Administration		Category 2 -
Renee Labb	Senior Director	27-Oct-14	0.1	510.00	51.00	Administration	Finalise letter and send to Kelly-Anne Trenfield for ASIC.	Approved/Unpaid
							Emails re asic notice and supply of info; jrp re status of russelis responses; review letter to asic	Category 2 - Approved/Unpaid
Kelly-Anne Trenfield	Sr Managing Dir	27-Oct-14	0.4	600.00	240.00	Administration	Review email from Mark waller regarding peregian matter and responses, review letter to ask	Approved/ Onpain
Renee Lobb	Senior Director	27-Oct-14	0.2	510.00	102.00	Investigations	file same.	Corporate - Liquidation
Reliee Loop		27-000-14	0	010.00	102.00		Email in from mark waller and draft response re status of insurance claim and interaction with the	
Kelly-Anne Trenfield	Senior Managing Director	27-Oct-14	0.1	600.00	60.00	Administration	peregian matter	Corporate - Liquidation
				500 OQ	500.00	Overditerre	Review amendment annual report tinalize receipts and payments as annexure, send to bris for signoff, disucs with Stuart Clancy.	Corporate - Liquidation
Glenn O'Keamey	Senior Director	27-Oct-14		560.00	560.00	Creditors	Review aSIC notice note to Rlobb. review and sign off on Quarterly BAS and worksheets.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	27-Oct-14	0.3	560.00	168.00	Administration	Various payment vouchers for approval and signing issued	Corporate - Liquidation
Benjamin Robson	Associate II	27-Oct-14	0.3	270.00	81.00	Creditors		Category 2 -
Renee Lobb	Senior Director	28-Oct-14	0.1	510.00	51.00	Investigations	Arrange mailing of USB and email ASIC to confirm response to ASIC notice in today's mail.	Approved/Unpaid
Reflee Lobo		20 001 14						Category 2 -
Renee Lobb	Senior Director	28-Oct-14	0.1	510.00	51.00	Administration	File all emails.	Approved/Unpaid Category 2 -
					400.00	.	Emails with Steve Hannan regarding leave and documents to go out whilst away.	Approved/Unpaid
Renee Lobb	Senior Director	28-Oct-14	0.2	510.00	102.00	Administration	Review LMIM time recorded sept qtr, allocation review, note to Kelly regarding LMIM insurance time	Category 2 -
Glenn O'Keamey	Senior Director	28-Oct-14	1.1	560.00	616.00	Administration	allocation.	Approved/Unpaid
Glenin O Reality					······································		Mail out to ATO - BAS (1 Jul - 30 Sep 2014) DOC 10 30 470 406 768, enter lodgement details in	Corporate - Liquidation
Brittany Newman	Administration 1	28-Oct-14	0.1	135.00		Administration	MYOB + update GC BAS spreadsheet.	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	28-Oct-14	0.3	600.00	180.00	Creditors	Review, amend and sign RTC	
Kelly-Anne Trenfield	Senior Managing Director	28-Oct-14	0.1	600.00	60.00	Administration	Review and update to do list; query outstanding items - review action point listing Review statt timesheets into provided by McN regarding operation cost allocation to tunds .reply	Corporate - Liquidation Category 2 -
				F00 55	000.00	Trade-on	requesting additional info. note to RFZ regarding staffing and fund accounting.	Approved/Unpaid
Glenn O'Kearney	Senior Director	29-Oct-14	0.5	560.00	280.00	Trade-on	reconciliation of Sept rem data and allocations, update master summary spreadsheet .conlim	Category 2 -
Glenn O'Keamey	Senior Director	29-Oct-14	1	560.00	560.00	Administration	invoices/allocation to BJR/Kelly. Prepare FUM% split Category 2 time.	Approved/Unpaid
Carly Drew	Administration 2	29-Oct-14	0.3	175.00	52.50	Creditors	Report. inserted JRP signature - email approval	Corporate - Liquidation
	Senior Managing Director	29-Oct-14	0.1	600.00		Administration	Review incoming documentation, consider and send to filing	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	29-Oct-14	0.1	600.00		Administration	Finalise Agm report; gok re fee allocations re insurance	Corporate - Liquidation
		29-Oct-14	0.1	360.00		Administration	Email to BN regarding lodgement of form 1500	Corporate - Liquidation
Stuart Clancy	Manager 1	29-001-14	- u.1	380.00	30.00	CIGATION OF OTHER		
				ŀ			Correspondence Kelly confirmation allocation regarding LMIM time, further reconciliation of Sept data	Corporate - Liquidation
Glenn O'Kearney	Senior Director	29-Oct-14	1	560.00	560.00	Administration	and allocations. update master summary spreadsheet .confirm invoices/allocation to BJR/Kelly. Correspondence from blue broking regarding profindemn insurance. correspondence to and from	Corporate - Equidation
					440.00	Acceta	Sally regarding matter.	Approved/Unpaid
lenn O'Keamey	Senior Director	30-Oct-14	0.2	560.00	112.00	ASSEIS		

LM Investment M Remuneration to	anagement Ltd (In Liqui 30 June 2018	dation)			3,204,515,29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
				570.00	F7 00	Tenda an	Email from Blue Broking re Pl policy, consider and email GOK, review old emails & respond to GOK query re same	Category 2 - Approved/Unpaid
Sally McBryde	Managing Dir	30-Oct-14	0.1	570.00	57.00 27.00		Submit AS/C Form 1500 - Annual Report to Creditors online + enter lodgement details in MYOB	Corporate - Liquidation
Brittany Newman	Administration 1	30-Oct-14	0.2	135.00	21.00	Auministration	Arranging for lodgement or form 1500. Discussion with GOK regarding lodgment and mail out or	
Stuart Clancy	Manager 1	30-Oct-14	0.2	360.00	72.00	Administration	creditors list	Corporate - Liquidation
Glenn O'Kearney	Senior Director	30-Oct-14	0.3	560.00	168.00	Administration	Arrange annual report finalization/lodgment, discussions Stuart Clancy regarding issue or report .certify asic lodgments. call from ASIC regarding notice s 30 act. Review and update to on ist; query outstanding items; review incoming documentation, consider an	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	30-Oct-14	0.1	600.00	60.00	Administration	send to filing	Corporate - Liquidation
							Review ASIC notice, call Steven hannan regarding required documents ASIC, note to Steve	Category 2 -
Glenn O'Keamey	Senior Director	31-Oct-14	0.4	560.00	224.00	Investigations	confirming same, note from JAC regarding emp records, note sally regarding same. Review LMIM PI renewal documents for RE position and LMA kg position draft reply to Blue Broking	Approved/Unpaid Category 2 -
Glenn O'Kearney	Senior Director	31-Oct-14	0.5	560.00	280.00	Assets	regarding update on income details etc.	Approved/Unpaid Category 2 -
John Corbelt	Managing Dir	31-Oct-14	0.5	570.00	285.00	Administration	Review and processing of payments	Approved/Unpaid
Brittany Newman	Administration 1	31-Oct-14	0.0	135.00	13.50		Filing	Corporate - Liquidation
		31-00214	- 0.1	100.00	10.00		Amendments to Supp reports and review advice given by Monagnan lawyers and investigate whethe	r
James Court	Director 1	31-Oct-14	1.4	510.00	714.00	Investigations	employed at the time by the Company	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	31-Oct-14	0.1	600.00	60.00	Investigations	Jac re finalisation of LM supp 533 reports	Corporate - Liquidation
Sally McBryde	Managing Director	31-Oct-14	0.2	570.00	114.00	Employees	Review file for employee documents and respond to GOK re employee query	Corporate - Liquidation
Glenn O'Kearney	Senior Director	31-Oct-14	0.1	560.00	56.00	Administration	Note to BJR regarding various annexure for fee claims.	Corporate - Liquidation
Benjamin Robson	Associate II	31-Oct-14	0.1	270.00	27.00	Administration	File update and review	Corporate - Liquidation
Kelly-Anne Trenfield	Sr Managing Dir	03-Nov-14	0.1	600.00	60.00	Administration	review advice to ASIC re status of smaller funds/audit	Category 2 - Approved/Unpaid
Glenn O'Keamey	Senior Director	03-Nov-14	0.3	560.00	168.00	Trade-on	Update in DLC regarding office closure. liaise RFZ regarding management funds, .	Category 2 - Approved/Unpaid
Kelly-Anne Trenfield	Senior Managing Director	03-Nov-14	0.4	600.00	240.00	Administration	review outstanding matters; review and update tasks lists	Corporate - Liquidation
Benjamin Robson	Associate II	03-Nov-14	0.2	270.00	54.00	Employees	Call and email to Irene Caling regarding Employment of Michael Donaghue	Corporate - Liquidation
Carly Drew	Administration 2	03-Nov-14	0.2	175.00	35.00	Trade-On	Payments scanned and returned to BJR	Corporate - Liquidation
Renee Lobb	Senior Director	04-Nov-14	0.2	510.00	102.00	Administration	Review emails regarding time costing provide input.	Category 2 - Approved/Unpaid
Renee Lobb	Senlor Director	04-Nov-14	0.2	510.00	102.00	Administration	Review further ASIC notice and subsequent emails. respond to GOK regarding where to obtain info.	Category 2 - Approved/Unpaid
				070.00	ad 60	8	Check LM Bank Accounts for funds received	Category 2 - Approved/Unpaid
Benjamin Robson	Consultant I	04-Nov-14	0.3	270.00		Administration	Note RCL regarding ASIC notices.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	04-Nov-14	0.1	560.00	56.00	Administration	Prepared Final Letter for KAT and issued via email;	Corporate - Liquidation
Carly Drew	Administration 2	04-Nov-14	0.5	175.00	87.50	Administration		Category 2
Renee Lobb	Senior Director	05-Nov-14	0.2	510.00	102.00	Administration	Email ASIC to confirm receipt of second notice.	Approved/Unpaid
Renee Lobb	Senior Director	05-Nov-14	0.1	510.00	51.00	Administration	Send updates for database to Im staff.	Category 2 - Approved/Unpaid Category 2 -
Renee Labb	Senior Director	05-Nov-14	0.1	510.00	51.00	Administration	Review and respond to emails regarding ASIC request for documents.	Approved/Unpaid Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	05-Nov-14	0.1	600.00	60.00	Administration	GOK re recovery of costs and update on claims against BDO	Approved/Unpaid
Glenn O'Keamey	Senior Director	05-Nov-14	0.1	560.00	56.00	Trade-on	Discussion BJR closure of office. review msg DLC.	Approved/Unpaid
lenjamin Robson	Associate II	05-Nov-14	0.3	270.00	81.00	Assets	Check LM accounts for new deposits	Corporate - Liquidation
Siuart Clancy	Manager 1	05-Nov-14	0.1	360.00	36.00	Administration	Reviewing and updating task list- tasks completed and future tasks to complete. Meet with BJR discussions regarding supporting documents required for rem claims, italise with	Corporate - Liquidation
Blenn O'Kearney	Senior Director	05-Nov-14	0.6	560.00	336.00	Administration	RCL regarding asic docs.	Corporate - Liquidation
Iohamed Almulia	Senior Consultant I	05-Nov-14	0.1	360.00	36.00	Administration	Response to SAC email	Corporate - Liquidation

LM Investment Ma Remuneration to 3	anagement Ltd (In Liqui 80 June 2018	dation)			3,204,515,29		이 같은 것이 있는 것이 있다. 같은 것이 있는 가 같은 것이 같은 것이 있는 것이 없는 것이 없는 것이 없다.	
Name		Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Kelly-Anne Trenfield	Senior Managing Director	06-Nov-14	0.2	600.00	120.00	Administration	Review and update to do list; SAC re details for distribution of AGM report	Corporate - Liquidation
Stuart Clancy	Manager 1	06-Nov-14	0.5	360.00	180.00	Creditors	reviewing creations list. Discussions with MHA regarding mail out of creations AGM. Email to KA I regarding mail out. Responding to KAT queries. Other related matters.	Corporate - Liquidation
Vohamed Almulia	Senior Consultant I	06-Nov-14	0.5	360.00	180.00	Creditors	Prepare creditor list for SAC from GC Office for RTC mail out	Corporate - Liquidation
Mohamed Almulla	Senior Consultant I	06-Nov-14	0.1	360.00	36.00		Emails from SAC regarding: RTC	Corporate - Liquidation
							Review of records left by Ginette Muller for listing. List same and request labels from Tracey	Category 2 -
Renee Lobb	Senior Director	07-Nov-14	0.3	510.00	153.00	Investigations	Rumbold.	Approved/Unpaid
Renee Lobb	Senior Director	07-Nov-14	0.1	510.00	51.00	Administration	Request Steve Hannan assistance in responding to inquiry on committee members etc.	Category 2 - Approved/Unpaid
John Park	Sr Managing Dir	07-Nov-14	0.1	600.00	60.00	Administration	Email in from investor	Category 2 - Approved/Unpaid
John Corbett	Managing Dir	07-Nov-14	0.5	570.00	285.00	Administration	Discussion with EY regarding audit status across the funds	Category 2 - Approved/Unpaid
					400.00		Review email requesting information on compliance committee. Contact LM Investment Managemen Ltd staff to assist with same.	t Category 2 - Approved/Unpaid
Renee Lobb	Senior Director	07-Nov-14	0,2	510.00	102.00	Creditors	Review can back and speak to Chris at Clayton UIZ, Discuss correspondence to come through and	Approved/onpain
Renee Lobb	Seniar Director	07-Nov-14	0.2	510.00	102.00	Administration	availability for Monday meeting.	Corporate - Liquidation
							Email correspondence with MHA and KAT regarding mail out of AGM report and other related	
Stuart Clancy	Manager 1	07-Nov-14	0.3	360.00	108.00	Creditors	matters.	Corporate - Liquidation
							Respond to investor query regarding committee of compliance members etc.	Category 2 - Approved/Unpaid
Renee Lobb	Senior Director	10-Nov-14	0.2	510.00	102.00	Trade-on	Respond to investor query regarding committee of complitance members etc.	Category 2 -
celly-Anne Trenfield	Sr Managing Dir	10-Nov-14	0.1	600.00	60.00	Administration	Emails re status of o/s issues; email to Steve Russell re update on im issues	Approved/Unpaid
		10-107 14					Reviewing lengthy email from Clayton Utz on outstanding issues. make notes on same, amange and	
Renee Lobb	Senior Director	10-Nov-14	0,5	510.00	255.00	Investigations	confirm meeting time.	Corporate - Liquidation
Renee Lobb	Senior Director	10-Nov-14	0.7	510.00	357.00	Investigations	Insurance matters. Meeting with Clayton Utz.	Corporate - Liquidation
		1	1				Request information from CMA and GOK regarding redemptions to assist in response to Clayton Dtz.	Corporate - Liquidation
Renee Lobb	Senior Director	10-Nov-14	0.2	510.00		Investigations	Locate and send to Clayton Utz most recent receivership update.	<u> </u>
Ann Clark	Administration II	10-Nav-14	0.1	175.00	17.50	Administration	Payment slips	Corporate - Liquidation
John Park	Senior Managing Director	10-Nov-14	0.2	600.00	120.00	Administration	File review Kelly Trenfield; Email in Warren Jiear	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	10-Nov-14	1.1	600.00	660.00	Assets	Email in re insurance; response to CU re maeung itemsemalis in re insurance meetingreview insurance update and requests for informationMeeting with Chris erfurt re insurance	Corporate - Liquidation
lames Court	Director 1	10-Nov-14	2.3	510.00	1,173.00	Investigations	Finalise draft supp reports for all 10 directors	Corporate - Liquidation
							ronow up MFA regarding email of creations report. Resolving issues with MFA, email to BN regarding mail out of creditors. Adjusting excel mail out spreadsheet. Discussions with GOK regarding KAT	
the set Classes	Managar 1	10-Nov-14	1.2	360.00	432.00	Creditors	queries.	Corporate - Liquidation
Stuart Clancy	Manager 1	10-1404-14	1.2	300.00	402.00	OfEctions		
lienn O'Kearney	Senior Director	10-Nov-14	0.2	560.00	112.00	Administration	Note regarding insurance payments. note meetings. discuss creditors report/listing with Stuart Clancy	
enjamin Robson	Associate II	10-Nov-14	0.3	270.00	81.00	Administration	Check Bank accounts for deposits	Corporate - Liquidation
Renee Lobb	Senior Director	11-Nov-14	0.2	510.00	102.00	Investigations	Email to RFZ requesting CPA, ASPF and AIF fund balances and likely returns.	Category 2 - Approved/Unpaid
							Review and respond to email from RFZ. Provide information table to be completed and provide	Category 2 - Approved/Unpaid
Renee Lobb	Senior Director	11-Nov-14	0.2	510.00	102.00	Investigations	background on fund information required. Discussion regarding issues and process of taking the fund management in-house with LMA to be	Approved/Unpaid Category 2 -
				570.00	570.00	Administration	shut down by 23 December.	Approved/Unpaid
ohn Corbett	Managing Dir	11-Nov-14		570.00	570.00	Administration	Review emails in reconversion to computersharereview riz email re fund returns for insurance	Category 2 -
elly-Anne Trenfield	Sr Managing Dir	11-Nov-14	0.3	600.00	180.00	Administration	purpose; email from Chris Erfurt and query to russells re outstanding costs	Approved/Unpaid
	an alamaging an							Category 2 -
lenn O'Kearney	Senior Director	11-Nov-14	0.3	560.00	168.00	Trade-on	Discussions with David Clout regarding LM RE requirements LMA staff etc. note RFZ, note insurer.	Approved/Unpaid
enee Lobb	Senior Director	11-Nov-14	0.1	510.00	51.00	Administration	Call back Chris regarding information request on Rüsseir's tees. Advise Keily-Anne Trentield handling.	Corporate - Liquidation
amian Bender	Managing Director	11-Nov-14	1.3	600.00	780.00	Administration	Fees issue review	Corporate - Liquidation
	Senior Managing Director	11-Nov-14	1.8	600.00	1,080.00	Investigations	Review/amend supplementary s533 reports	Corporate - Liquidation

Remuneration to	anagement Ltd (In Liqui 30 June 2018	uation)			3,204,515.29			
Name,	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Kelly-Anne Trenfield	Senior Managing Director	11-Nov-14	0.1	600.00	60.00	Administration	call in from Chris Erfurst; review and draft email to	Corporate - Liquidation
Stuart Clancy	Manager 1	11-Nov-14	0.3	360.00	108.00	Creditors	Following up an regarding mail out of creditors report. Assisting in mail out process. Resolving various queries from BN.	Corporate - Liquidation
Stuart Clancy	Manager 1	11-Nov-14	0.1	360.00	36.00	Creditors	Email to creditor regarding update on liquidation to date and updated report to creditors.	Corporate - Liquidation
Britiany Newman	Administration 1	11-Nov-14	0.1	135.00	13.50	Administration	Mail in from ASIC - Invoice Statement 2 Nov 2014	Corporate - Liquidation
Brittany Newman	Administration 1	11-Nov-14	0.7	135.00	94.50	Administration	Copy 8974r29 x 75, prepare mailing labels + Mail out to all creditors as listed	Corporate - Liquidation
Mohamed Almulia	Senior Consultant I	11-Nov-14	D.3	360.00	108.00	Administration	Review Stuart email and email WWP for mass mail out	Corporate - Liquidation
Mohamed Almulia	Senior Consultant 1	11-Nov-14	0.2	360.00	72.00	Administration	Speak with Stuart Clancy regarding: issue	Corporate - Liquidation
Carly Drew	Administration 2	11-Nov-14	5		875.00	Creditors	Report	Corporate - Liquidation
Renee Lobb	Senior Director	12-Nov-14	0.2	510.00	102.00		Review small regarding western union issue from Kelly-Anne Trentield, respond with into provided by Ryan.	/ Category 2 Approved/Unpaid
John Corbett	Managing Dir	12-Nov-14	0.5	570.00	285.00	Administration	Review emails re Western Union	Category 2 - Approved/Unpaid
	Senior Director	12-Nov-14	0.2	560.00	112 00	Assets	Update in regarding insurance, review correspondence regarding fund creditor claims.	Category 2 - Approved/Unpaid
Glenn O'Kearney		12-Nov-14	0.2	510.00	153.00	Trade-On	Review 6 emils regarding litigation information.	Corporate - Liquidation
Renee Lobb	Senior Director		0.3	600.00	180.00	Investigations	Review amended supp 533 reports	Corporate - Liquidation
Kelly-Anne Trentield	Senior Managing Director	12-Nov-14	0.3 2.5	175.00	437.50	Creditors	Report	Corporate - Liquidation
Carly Drew	Administration 2	12-Nov-14	2.0	175.00	437.50	CIBULLOIS	Property and a second se	Category 2
Renee Labb	Senior Director	13-Nov-14	0.1	510.00	51.00	Administration	Respond to email from GOK regarding timing of Steve Hannan's return.	Approved/Unpaid Category 2 -
Renee Lobb	Senior Director	13-Nov-14	0.1	510.00	51.00	Administration	Follow up Tracey regarding records listings and box labels. Review amended Cat 2 invoices, notes for discussion with BJR, recordile REM approval/REM	Approved/Unpaid Category 2 -
Glenn O'Kearnev	Senior Director	13-Nov-14	1	560.00	560.00	Administration	tracking sheets regarding fund allocations	Approved/Unpaid
Renee Lobb	Senior Director	13-Nov-14	0.1	510.00	51.00	Administration	Review email from Chris. Flag for action.	Corporate - Liquidation
Carly Drew	Administration 2	13-Nov-14	1	175.00	175.00	Creditors	Report	Corporate - Liquidation
John Park	Senior Managing Director	13-Nov-14	0.5	600.00	300.00	Administration	Emails in Russells with update on various matters	Corporate - Liquidation
			· · · · i				Call from John at blur broking regarding PI insurance, review proposal and reply will beeking updated info, note to DLC regarding LMA PI.	Category 2 - Approved/Unpaid
Glenn O'Kearney	Senior Director	14-Nov-14	0.3	560.00	168.00	Assets	Updating task list and file review with GOK regarding future tasks to complete.	Corporate - Liquidation
Stuart Clancy	Manager 1	14-Nov-14	0.1	360.00	36.00	Administration		Corporate - Liquidation
Brittany Newman	Administration 1	14-Nov-14	0.2	135.00	27.00	Administration	Filing	Category 2 -
Renee Lobb	Senior Director	17-Nov-14	0.2	510.00	102.00	Investigations	Review print for file and save to file supplementary insurer notification around aubec claims.	Approved/Unpaid
Glenn O'Kearney	Senior Director	17-Nov-14	0.5	560.00	280.00	Assets	Call John Kennedy regarding Plinsurance LMA and LMIM as KE, call John at Blue and discuss Insurance terms for LMIM RE, note. Review engagement of computer share and agree to appointment; co-ordination and execution of	Category 2 - Approved/Unpaid Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	17-Nov-14	0.2	600.00	120.00	Administration	appointment documents	Approved/Unpaid
Renee Lobb	Senior Director	17-Nov-14	0.1	510.00	51.00	Administration	Send Russell charge out rates to Clayton Utz.	Corporate - Liquidation
Renee Lobb	Senior Director	17-Nov-14	0.1	510.00	51.00	Administration	Further jemat to Clayton Utz regarding disbursement agreement with Russell. Send full agreement	Corporate - Liquidation
Nohamed Almulia	Senior Consultant I	17-Nov-14	0.1	360.00	36.00	Administration	Email to SA regarding; costs of WWP	Corporate - Liquidation
Glenn O'Keamey	Senior Director	17-Nov-14	0.2	560.00	112.00	Investigations	Correspondence in from gadens regarding PE summonses, note to team.	Corporate - Liquidation
John Park	Senior Managing Director	17-Nov-14	0.2	600.00		Administration	Email in Russells	Corporate - Liquidation
							Review enquiry regarding skandia and royal London investors, respond requesting investor ID to	Category 2 - Approved/Unpaid
Renee Lobb	Senior Director	18-Nov-14	0.1	510.00	51.00	Creditors	provide appropriate update. Car wirr Crins är Glavion Ciz. Discuss bulstanding issues and indefninky requesition undervalue	Approved/o/(palo
Renee Lobb	Senior Director	18-Nov-14	0.5	510.00	255.00	Investigations	bellpac action. Follow up RFZ on progress regarding capital loss fund figures and GOK regarding remuneration update.	Category 2 - Approved/Unpaid
Renee Lobb	Senior Director	18-Nov-14	0.1	510.00	<u></u>	· · · · ·	Review update on invoicing.	Category 2 - Approved/Unpaid

Prime Title Date Hours Charge On Rate Narabus Narabus Classified Classified Rene Loob Beind Director 18-Nort4 0. 50.00 61.00 Association Revise Contraction Revise Control Revise Control Revise Control Revise Control Revise Revi	Remuneration to	anagement Ltd (In Liqu 30 June 2018				3,204,515,29			
Banker Directory Behrevord 6, Hevord 6, How Strate Poole words and prody documents. controls. How Release Marker sign: Mar			Date	Hours	Charge Out Rate			Narrative	Classification
Serie Oricanoy Garied Clinctor 119 Nov-14 11 66000 Protein Procession Procession Procession Procession Procession Procession Calagory 2 - space strain	Renee Lobb	Senior Director	18-Nov-14	0.1	510.00	51.00	Assets		Category 2 - Approved/Unpaid
Status Decoder 18-Nov-14 0.1 690.00 590.00 Administration Review and approve payment Workshole priming involues Composets - Lit Status Newmann Administration 1 18-Nov-14 0.1 133.00 Marinistration Project Status Novemann Composets - Lit Novemann Administration Composets - Lit Novemann Administration Project Status Novemann Composets - Lit Novemann Administration Project Status Novemann Composets - Lit Novemann Administration Project Status Novemann Composets - Lit Status Novemann Composets - Lit Novemann Composets - Lit Status Novemann Composets - Lit Composets - Lit Composets - Lit Status Novemann Composets - Lit Composet - Lit Composet - Lit	Glenn O'Keamey	Senior Director	18-Nov-14	1.1	560.00	616.00	Assets	note to RFZ FYI. call from Andrea and discuss insurance requirements, further advice in from Blue - confirm cover. discus with DLC office, note rlobb regarding signing GDM polices, note to RFZ	, Category 2 - Approved/Unpaid
Data Unidence Data Unidence Distance Distance <td>Ann Clark</td> <td>Administration II</td> <td>18-Nov-14</td> <td>0.2</td> <td>175.00</td> <td>35.00</td> <td>Administration</td> <td>EFT requisitions and MYOB processing</td> <td>Corporate - Liquidation</td>	Ann Clark	Administration II	18-Nov-14	0.2	175.00	35.00	Administration	EFT requisitions and MYOB processing	Corporate - Liquidation
International Control	Glenn O'Keamey	Senior Director	18-Nov-14	0.1	560.00	56.00	Administration	Review and approve payment Worldwide printing invoice.	Corporate - Liquidation
Administration 1 19-Nov-14 0.1 135.0 Administration 1 19-Nov-14 Carports - Lic Administration 1 Particle Director Carports - Lic Administration 1 Particle Director 1 <td>Brittany Newman</td> <td>Administration 1</td> <td>18-Nov-14</td> <td>0.1</td> <td>135.00</td> <td>13.50</td> <td>Administration</td> <td></td> <td>Corporate - Líquidation</td>	Brittany Newman	Administration 1	18-Nov-14	0.1	135.00	13.50	Administration		Corporate - Líquidation
Sames Lobb Samic Director 19.Nor14 0.2 670.00 112.00 Administration RFZ progress regarding funds capital loss figures. Approve/funds (approve/funds (approve/fund (approve/funds (approve/fund (appprove/fund (appprove/fund (appprove/fund (approve/fund (approve/	Brittany Newman	Administration 1	18-Nov-14	0.1	135.00	13.50	Administration	entity for LM FMIF	Corporate - Liquidation
Construction Construction<	5	O-mine Dimenter	dD New dd		540.00	102.00	Administration		
Same Obs Senior Director 19-Nov-14 0.2 550.00 112.00 Trade-on Note in RFZ regarding operation cost cont. And/starvices issues, reply Approved/Uppa Jean O'Keamey Samido Director 19-Nov-14 0.2 550.00 116.00 Annonicia Citylon utz accounts and bit request. discuss with UR Corporate-Lip Jean O'Keamey Samido Director 19-Nov-14 0.2 550.00 Trade-on Node in RFZ regarding operation cost cont. And/starvices with UR Corporate-Lip Samido Director 19-Nov-14 0.2 550.00 Trade-on Node in RFZ regarding operation cost cont. And/starvices may reliable to Annonications. Corporate-Lip Samido Director 20-Nov-14 0.1 510.00 102.00 Annihistration Review and megnoto 10 costs fulletin and review costs to telletin enquiry. Corporate-Lip Samido Director 20-Nov-14 0.1 510.00 102.00 Administration Review and sagonto 10 costs fulletin and review and sagonto 10 costo fulletin and review and sagonte 10 costs fulletin and	Kenee Lobo		19-1400-14	0.2	310.00	102.00	Administration		Category 2 -
Binn O'Kearrey Social Director 19-Nov-14 0.2 66000 112.00 Trade-on Note in R22 regarding operation cost continuidasevices issues, reply Approve/Upper A	Renee Lobb	Senior Director	19-Nov-14	0.1	510.00	51.00	Assets	Review and print insurance renewal documents. Send to Ginette Muller with requirements for signing.	
Senior Declary Senior Declary Hystory+4 0.3 560.00 198.00 American Clayon Ltz accutate and Bir request, and Kolm report. Corporate - Ltg Baurt Clancy/ Manager 1 198-Nor-14 0.2 380.00 72.00 Creatings Reviewing and responding to credit requery in reliation A Kolm report. Corporate - Ltg Barne Lobb Senior Director 20 Nor-14 0.1 510.00 150.00 Administration Review and responding to credit requery in reliation A Kolm report. Corporate - Ltg Barne Lobb Senior Director 20 Nor-14 0.1 510.00 150.00 Administration Review and respond to enait from Andrew Elokes regarding add coast builtin enquity. Corporate - Ltg Categorie 2-Ltg Senior Director 20 Nor-14 0.1 550.00 Administration Review and responds to enait from Andrew Elokes regarding add coast builtin enquity. Corporate - Ltg Rene Lobb Senior Director 21 Nor-14 0.1 550.00 Administration Review and responds to tabulation and respond totabulation and respond totabulation and respond to	Glenn O'Keamey	Senior Director	19-Nov-14	0.2	560.00	112.00	Trade-on	Note in RFZ regarding operation cost cont funds/services issues. reply	Category 2 - Approved/Unpaid
Istant Clancy Manager 1 19 Avor.4 0.2 360.00 72:00 Reviewing and responding to cindler query in relation to AGM report. Corporate-Lig Corporate-Lig Corporate-Lig Lingiame Robion Associate II 20-Nov.14 0.7 270.00 168.00 Creditors Collaction and payment of LMM report. Corporate-Lig Corporate-Lig Corporate-Lig		Senior Director	19-Nov-14	0.3	560.00	168.00	Administration	Reconcile Clayton utz accounts and bill request. discuss with BJR	Corporate - Liquidation
Ionjamin Robuston Associate II 20-Nov-14 0.7 270.00 16800 Circulation and payment of LMM Corp portion of Clayton Utic involces outstanding Corporate - Lig Ramee Lobb Senior Director 20-Nov-14 0.1 510.00 510.00 Administration Review email message from gald coast builetin and revert enguly to Strategic Commonitoritism. Corporate - Lig Senior Director 20-Nov-14 0.1 660.00 560.00 Administration email to Roview email message from gald coast builetin anguly. Corporate - Lig Ramee Lobb Senior Director 21-Nov-14 0.1 660.00 4dministration email to Roview email message and call receiption regarding which tawyers ASU sant documents to. Senior Senior Director 21-Nov-14 0.2 610.00 102.00 Administration email to Clayton Ut avhieting they should receive documents. Agroeved Utage and an and part call receiption regarding which tawyers ASU sant documents to. Senior Director 21-Nov-14 0.2 610.00 410.00 Administration email to Clayton Ut avhieting they should receive documents. Agroeved Utage and an and part call receiption of pa costs to various tunks - periodic MD (Vaccom Vaccom Utage and Part call and Administration Agroeved Utage and an and part call and admine respoiles.		Manager 1	19-Nov-14	0.2	360.00	72.00	Creditors	Reviewing and responding to creditor query in relation to AGM report.	Corporate - Liquidation
Senior Director 20-Nov-14 0.1 610.00 610.00 610.00 610.00 600.00 <t< td=""><td></td><td>Associate II</td><td>20-Nov-14</td><td>0.7</td><td>270.00</td><td>189.00</td><td>Creditors</td><td>Calculation and payment of LMIM Corp portion of Clayton Utz invoices outstanding</td><td>Corporate - Liquidation</td></t<>		Associate II	20-Nov-14	0.7	270.00	189.00	Creditors	Calculation and payment of LMIM Corp portion of Clayton Utz invoices outstanding	Corporate - Liquidation
Senior Director 20 Nov-14 0.2 610.00 1122.00 Administration Review and respond to small from Andrew Stokes regarding gold costs builtelin equity. Comporate - Lig. Invisities Staad Senior Director 20 Nov-14 0.1 560.00 560.00 Administration amail to Ronald re MPF issues Comportate - Lig.	•	Senior Director	20-Nov-14	0.1	510.00	51.00	Administration	Review email message from gold coast bulletin and revert enquiry to Strategic Communications.	Corporate - Liquidation
Straiten Senior Director 20-Nov-14 0.1 560.00 Administration email to Ronald re MPF lasues Comportal-Lip category - Lip expected Lobb Senior Director 21-Nov-14 0.1 510.00 510.00 Administration Senior Director 21-Nov-14 0.2 510.00 102.00 Administration Senior Director 21-Nov-14 0.2 510.00 102.00 Administration Review email on Clayton UIz advising they should receive documents. Approved/Unpa email to Clayton UIz advising they should receive documents. Approved/Unpa email to Clayton UIz advising they should receive documents. Approved/Unpa email to Clayton UIz advising they should receive documents. Approved/Unpa email to Clayton UIz advising they should receive documents. Approved/Unpa email to Clayton UIz advising they should receive documents. Approved/Unpa email to Clayton UIz advising they should receive documents. Approved/Unpa email to Clayton UIZ advising they should receive documents. Approved/Unpa email to Clayton UIZ advising they should receive and appearation of Invoice from LM IM Corp Approved/Unpa email to Clayton UIZ advising they should receive and appearation of Invoice from LM IM Corp Approved/Unpa email to Clayton UIZ advising they should receive and appearation of Invoice from LM IM Corp Approved/Unpa email to Clayton UIZ advising they should receive and appearatinton Invoice from LM IM Corp Corporate		Senior Director	20-Nov-14	0.2	510.00	102.00	Administration	Review and respond to email from Andrew Stokes regarding gold coast bulletin enquiry.	Corporate - Liquidation
Index Lobb Senior Director 21-Nov-14 0.1 510.00 51.00 Administration Send records to storage. Approved Unparticipation regarding which lawyers ASIC sent documents. Approved Unparticipation regarding integration of the cost of	Christine Stead	Senior Director		0.1	560.00	56.00	Administration	email to Ronald re MPF issues	Corporate - Liquidation
Name Non-thick Non-thick Non-thick Non-thick Non-thick Approx/Ling Approx/Lin			21-Nov-14	Ω 1	510.00	51.00	Administration	Send records to storage.	Category 2 - Approved/Unpaid
Renee Lobb Senior Director 21-Nov-14 0.1 510.00 510.00 Administration Review email enquiry regarding general status of funds and in response. file both. Approve/Umpa Jeinn O'Kearney Senior Director 21-Nov-14 0.8 560.00 448.00 Trade-on Niccl. Incles summarizing areas for review and sample checking of coasts to various funds - provided by MoUse MA (2000) Approved/Umpa Jeinn O'Kearney Senior Director 21-Nov-14 0.8 560.00 448.00 Trade-on Niccl. Intels summarizing areas for review and sample checking of coasts to various funds - provided by MoUse MA (2000) Carporate - Liq Variance Lobb Senior Director 21-Nov-14 0.4 17500 70.00 Administration Bank reconciliations x 4 Carporate - Liq Carporat									Approved/Unpaid
Senior Director 21-Nov-14 0.8 560.00 448.00 Trade-on Noticit nets summarizing areas for review and sample checking of costing 4.9 McGran Category 2. Approved/Unparticipares for review and sample checking of costing 4.9 mcGran Category 2. Approved/Unparticipares for review and sample checking of costing 4.9 mcGran Category 2. Approved/Unparticipares for review and sample checking of costing 4.9 mcGran Category 2. Approved/Unparticipares for review and sample checking of costing 4.9 mcGran Category 2. Approved/Unparticipares for review and sample checking of costing 4.9 mcGran Category 2. Approved/Unparticipares for review and sample checking of costing 4.9 mcGran Category 2. Approved/Unparticipares for review and sample checking of costing 4.9 mcGran Category 2. Approved/Unparticipares for review and preparation of invoice from LM IM Corp Corporate - Liq Itemes Lobb Senior Director 21-Nov-14 0.5 510.00 255.00 Investigations Call with Ryan Rowre of ASIC regarding claim and statement of claim copies. Corporate - Liq Itemes Lobb Senior Director 21-Nov-14 0.1 610.00 51.00 Administration Updato Chris at Clayton Uz regarding claim and statement of claim copies. Corporate - Liq Itemes Lobb Senior Director 21-Nov-14 0.1 510.00 71.00 Administration Payles and	Renee Lobb	Senior Director	21-Nov-14	0.1	510.00	51.00	Administration		Approved/Unpaid
International Robson Associate II 21-Nov-14 0.3 270.00 81.00 Creditors Clayton Uz outstanding payments calculations and preparation of invoice from LM IM Corp Corporate - Lig um Clark Administration II 21-Nov-14 0.4 175.00 70.00 Administration Bank recorditations x 4 Carporate - Lig Corporate - Lig Directors 21-Nov-14 0.5 510.00 255.00 Investigations regarding impacts on directors and officers policy. Corporate - Lig Corporate - Lig tenee Lobb Senior Director 21-Nov-14 0.2 510.00 102.00 Administration Call with Ryan Roure of ASIC regarding claim and statement of claim copies. Corporate - Lig tenee Lobb Senior Director 21-Nov-14 0.1 510.00 510.00 Administration Review amainespontses from Randal and Oliver Schweizer regarding break up or untrue fees. Lig Corporate - Lig tenee Lobb Senior Director 21-Nov-14 0.1 510.00 51.00 Trade-On same. Review and approve payment reguest LMIM Clayton uz pais, review correspondence russells Corporate - Lig tenee Lobb Senior Director 21-Nov-14 0.1 135.00 13.50			21-Nov-14	0.8	560.00	448.00	Trade-on		Category 2 - Approved/Unpaid
Administration II 21-Nov-14 0.4 175.00 70.00 Administration Bank reconciliations x 4 Corporate - Liq tenee Lobb Senior Director 21-Nov-14 0.5 510.00 255.00 Investigations regarding impacts on directors and officers policy. Corporate - Liq tenee Lobb Senior Director 21-Nov-14 0.2 510.00 102.00 Administration Call with Ryan Rowre of ASIC regarding claim and statement of claim copies. Corporate - Liq tenee Lobb Senior Director 21-Nov-14 0.1 610.00 51.00 Value Corporate - Liq Corporate - Liq tenee Lobb Senior Director 21-Nov-14 0.1 510.00 51.00 Trade-On same. Same. Corporate - Liq tenee Lobb Senior Director 21-Nov-14 0.1 510.00 51.00 Trade-On same. Corporate - Liq Corporate - Liq tenee Lobb Senior Director 21-Nov-14 0.2 660.00 112.00 Administration Udata Chris at Clayon Uz regarding indexits main and statement of claim copies. Corporate - Liq tenee Lobb Senior Director 21-Nov-14		· · · · · · · · · · · · · · · · · · ·	21-Nov-14	0.3	270.00	81.00	Creditors	Clayton Utz outstanding payments calculations and preparation of invoice from LM IM Corp	Corporate - Liquidation
Renea Lobb Senior Director 21-Nov-14 0.5 510.00 255.00 Investigations regarding impact on directors and officers on directors and officers on directors and officers on directors and officers and direct on directors and officers on directors andirectors ond directors		Administration II	21-Nov-14	0.4	175.00	70.00	Administration		Corporate - Liquidation
Interest Lobb Senior Director 21-Nov-14 0.2 510.00 102.00 Administration Call with Ryan Rouvre of ASIC regarding claim and statement of claim copies. Corporate - Liquitation tenee Lobb Senior Director 21-Nov-14 0.1 610.00 51.00 Administration Update Chris at Clayton Utz regarding ASIC contact. Corporate - Liquitation Corporate - Liquitation Corporate - Liquitation Corporate - Liquitation New we main responses from Randal and Oliver Schweizer regarding break up of unitrue flees. The same. Corporate - Liquitation Corporate - Liquitation New we main responses from Randal and Oliver Schweizer regarding break up of unitrue flees. The same. Corporate - Liquitation Corporate - Liquitation Corporate - Liquitation Review and approve payment request LMIM Clayton uz buils. review correspondence russells Corporate - Liquitation Corporate - Liquitation Review and approve payment request LMIM Clayton uz buils. review correspondence russells Corporate - Liquitation Corporate - Liquitation Review and approve payment request LMIM Clayton uz buils. review correspondence russells Corporate - Liquitation Corporate - Liquitation Corporate - Liquitation Review and approve payment request LMIM Clayton uz buils. review correspondence russells Corporate - Liquitation Corporate - Liquitation Corporate - Liquitation Corporate - Liquitation Corporate - Liqu		Senior Director	21-Nov-14	0.5	510.00	255.00	Investigations		Corporate - Liquidation
Lene Lobb Senior Director 21-Nov-14 0.1 610.00 51.00 Administration Update Chris at Clayton Utz regarding ASIC Contact. Corporate - Lique Review email responses from Randa and Oliver Schweizer régarding break up of untrué fées. Ille Corporate - Lique Review email responses from Randa and Oliver Schweizer régarding break up of untrué fées. Ille Corporate - Lique Review email responses from Randa and Oliver Schweizer régarding break up of untrué fées. Ille Corporate - Lique Review email responses from Randa and Oliver Schweizer régarding break up of untrué fées. Ille tenn O'Kearney Senior Director 21-Nov-14 0.2 560.00 112.00 Administration Returned Post - 8974/28 to Mawson Securities Piy Ltd Corporate - Lique Returned Post - 8974/28 to Mawson Securities Piy Ltd Corporate - Lique Returned Post - 8974/28 to Mawson Securities Piy Ltd Corporate - Lique Returned Post - 8974/28 to Mawson Securities Piy Ltd Corporate - Lique Returned Post - 8974/28 to Mawson Securities Piy Ltd Corporate - Lique Returned Post - 8974/28 to Mawson Securities Piy Ltd Corporate - Lique Returned Post - 8974/28 to Mawson Securities Piy Ltd Corporate - Lique Returned Post - 8974/28 to Mawson Securities Piy Ltd Corporate - Lique Returned Post - 8974/28 to Mawson Securities Piy Ltd Corporate - Lique Returned Post - 8974/28 to Mawson Securities Piy Ltd Corporate - Lique Returned Post - 8974/28 to Mawson Securities Piy Ltd Corporate - Lique Returned Post - 8974/28 to Mawson Securities Piy Ltd Corporate - Lique Returned Post - 8974/28 to Mawson			21-Nov-14	0.2	510.00	102.00	Administration	Call with Ryan Rouvre of ASIC regarding claim and statement of claim copies.	Corporate - Liquidation
enee Lobb Senior Director 21-Nov-14 0.1 510.00 51.00 Trade-On Review and approve payment request LMIM Clayton uz buils, review correspondence russells Corporate - Liquit tenn O'Kearney Senior Director 21-Nov-14 0.2 560.00 112.00 Administration regarding hearing on pub examinations. Corporate - Liquit Corporate - Liquit rittany Newman Administration 1 21-Nov-14 0.1 135.00 13.50 Administration Returned Post - 8974r29 to Mawson Securities Pty Ltd Corporate - Liquit rittany Newman Administration 1 21-Nov-14 0.1 135.00 13.60 Administration Returned Post - 8974r29 to Mawson Securities Pty Ltd Corporate - Liquit rittany Newman Administration 1 21-Nov-14 0.1 136.00 1,120.00 Trade-on contributions. note to B77 regarging equilable Corporate - Liquit returney Senior Director 24-Nov-14 2 560.00 1,120.00 Trade-on contributions by funds. Approved/Unpai returney Senior Director 24-Nov-14 0.2 560.00			21-Nov-14	0.1	510.00	51.00	Administration		Corporate - Liquidation
Senior Director 21-Nov-14 0.2 560.00 112.00 Administration regarding hearing on pub examinations. Corporate - Lique rittany Newman Administration 1 21-Nov-14 0.1 135.00 13.50 Administration Retured Post - 8974r29 to Mawson Securities Pig Ltd Corporate - Lique rittany Newman Administration 1 21-Nov-14 0.1 135.00 13.60 Administration Retured Post - 8974r29 to Mawson Securities Pig Ltd Corporate - Lique regarding LM site visit - staff/equipment issues. continue sample review of LMA time costing from FMIF/McN operation cost relimbursement, prepare and issue memo to lan requesting further information to support requested contributions, note to RFZ and John C regarding equitable Category 2 - Category 2 - Corporate - Lique lenn O'Kearney Senior Director 24-Nov-14 0.2 560.00 1,120.00 Trade-on contributions by funds. Review action directors, review note SCR> Corporate - Lique enee Lobb Senior Director 24-Nov-14 0.2 560.00 112.00 Investigations Review action regarding non recept of ASIC docs, continn via email to Russell's as to whether they hold documents. Corporate - Lique			21-Nov-14	0.1	510.00	51.00	Trade-On	same.	Corporate - Liquidation
Administration 1 21-Nov-14 0.1 135.00 13.50 Administration Returned Post - 8974r29 to Mawson Securities Pty Ltd Corporate - Liqu Transment of superstances regarding using op costs metric to Dark regarding costs can not part op costs can not p		Senior Director	21-Nov-14	0.2	560.00	112.00	Administration		Corporate - Liquidation
Interview model Senior Director 24-Nov-14 2 560.00 1,120.00 Trade-on Contributions Review and a process and response review of LMA time costing from regarding equitable Category 2 - Approved/Unpair enne O'Kearney Senior Director 24-Nov-14 2 560.00 1,120.00 Trade-on contributions by funds. Note to RFZ and John C regarding equitable Category 2 - Approved/Unpair enne O'Kearney Senior Director 24-Nov-14 0.2 560.00 112.00 Investigations Review asia application regarding action directors, review note SCR> Corporate - Liqu ennee Lobb Senior Director 24-Nov-14 0.2 510.00 102.00 Investigations Review asia application regarding action directors, review note SCR> Corporate - Liqu ennee Lobb Senior Director 24-Nov-14 0.2 510.00 102.00 Investigations whether they hold documents. Corporate - Liqu Review amair from corput or discore pressore and contraventions Review and a from corput or discore pressore and contraventions Corporate - Liqu				0.1	135.00	13.50	Administration	Returned Post - 8974r29 to Mawson Securities Pty Ltd	Corporate - Liquidation
Item O'Keamey Senior Director 24-Nov-14 0.2 560.00 112.00 Investigations Review asic application regarding action directors, review note SCR> Corporate - Liquidation enee Lobb Senior Director 24-Nov-14 0.2 510.00 102.00 Investigations Review asic application regarding non receipt of ASIC docs, contirm via email to Russett's as to whether they hold documents. Corporate - Liquidations Corporate								regarding LM site visit - staff/equipment issues. continue sample review of LMA time costing from FMIF/McN operation cost relmbursement, prepare and issue memo to lan requesting further information to support requested contributions, note to RFZ and John C regarding equitable	Category 2 - Approved/Unpaid
enee Lobb Senior Director 24-Nov-14 0.2 510.00 102.00 Investigations whether they hold documents. Corporate - Lique Reviewing organizing process and statement of claim for director preaches and contraventions Corporate - Lique Reviewing organizing process and statement of claim for director preaches and contraventions Corporate - Lique Reviewing organizing process and statement of claim for director preaches and contraventions Corporate - Lique Reviewing organizing process and statement of claim for director preaches and contraventions Corporate - Lique Reviewing organizing process and statement of claim for director preaches and contraventions Corporate - Lique Reviewing organizing process and statement of claim for director preaches and contraventions contrav				0.2		· · · · · · · · · · · · · · · · · · ·			Corporate - Liquidation
Réviewing onginating process and statement of claim for director breaches and contraventions								Review amail from Crins regarding non receipt of ASIC docs. Confirm via email to Russell's as to whether they hold documents.	Corporate - Liquidation
	enee Lobb	Senior Director	24-Nov-14	0.8	510.00	408.00			Corporate - Liquidation

 \sim

Remuneration to					3,204,515.29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative State St	Classification
Brittany Newman	Administration 1	24-Nov-14	0.2	135.00	27.00	Administration	Search alternate address for Mawson Securities Pty Ltd + prepare 8974fn	Corporate - Liquidation
		1					Note to insurers and lobb regarding signed dec's, review custody tees, note to Stuart Clancy and Ben	
Glenn O'Keamey	Senior Director	25-Nov-14	0.2	560.00	112.00	Administration	Robson regarding custody fees. Review emails from perpetual regarding outstanding custody payments. Send to Gold coast office for	Approved/Unpaid
	Coulou Director	25-Nov-14	0.2	510.00	102.00	Administration	response.	Approved/Unpaid
Renee Lobb	Senior Director	20-1100-14	0.2	510.00	102.00	AUTINISUAUOT		Category 2 -
Renee Lobb	Senior Director	25-Nov-14	0.1	510.00	51.00	Administration	Emails to GOK to confirm will forward insurance documentation when received.	Approved/Unpaid
		1					Email to S Tickner regarding Clayton Utz invoices putstanding balances. Update consultants fee	Category 2 -
Benjamin Robson	Consultant I	25-Nov-14	0.5	270.00	135.00	Creditors	register with payments processed	Approved/Unpaid
Gienn O'Keamey	Senior Director	25-Nov-14	0.1	560.00	56.00	Creditors	Review creditor query and assist Stuart Clancy in response.	Corporate - Liquidation
		1					Review update regarding invoicing and unpaid invoices from First Mongage income Fund and	Corporate - Liquidation
Renee Lobb	Senior Director	25-Nov-14	0.1	510.00	51.00	Administration	request for payment from LMIM for Clayton Utz.	
Ann Clark	Administration II	25-Nov-14	0.3	175.00	52.50	Administration	EFT requisitions. MYOB processing and printing	Corporate - Liquidation Category 2 -
					405.00	0	Update consultants register payments and send outstanding schedules to I Caling	Approved/Unpaid
Benjamin Robson	Consultant i	26-Nov-14	0.5	270.00	135.00	Creditors		Category 2 -
Basiania Bahaan	Consultant I	26-Nov-14	0.5	270.00	135.00	Creditors	LM Payment batches received, reviewed, approved, recorded and returned	Approved/Unpaid
Benjamin Robson		20-1100-14	0.0	210.00		Of Ballora		Category 2 -
Benjamin Robson	Consultant I	26-Nov-14	0.5	270.00	135.00	Administration	Check LM Bank accounts for receitps and update Fee summary and consultants register	Approved/Unpaid
								Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	26-Nov-14	0.1	600.00	60.00	Administration	Review proposal re engagement of dropbox re data; email to RFZ re approval	Approved/Unpaid
Brittany Newman	Administration 1	26-Nov-14	0.2	135.00	27.00	Administration	Call to ATO following up outstanding BAS refund (1 Jul - 30 Sep 2014) + prepare 8974fn57	Corporate - Liquidation
							Email correspondence with Renee Loop regarding creditor issues. Memo to GOK regarding future	Corporate - Liquidation
Stuart Clancy	Manager 1	26-Nov-14	0.2	360.00	72.00	Creditors	course of action. Consultant tee work, Correspondence with Clayton Uiz regarding FMIF and MPF Payments,	Corporate - Elgeldation
Devised Debes	Annasiata II	26-Nov-14	0.8	270.00	216.00	Creditors	calculation of outstanding amounts	Corporate - Liquidation
Benjamin Robson	Associate II	20-1404-14	0.0	270.00	210.00	Ciccatoro		Category 2 -
Renee Lobb	Senior Director	27-Nov-14	0.2	510.00	102.00	Administration	Call with John Denehy regarding PI documents. Email Ginette Muller following up same.	Approved/Unpaid
								Category 2 -
Renee Lobb	Senior Director	27-Nov-14	0.1	510.00	51.00	Assets	Get insurance policy signed. Send to John Denehy.	Approved/Unpaid Category 2 -
							Review letter from Gerry Smith. Do investor search and respond via email.	Approved/Unpaid
Renee Lobb	Senior Director	27-Nov-14	0.2	510.00	102.00	Trade-on		Corporate - Liquidation
John Park	Senior Managing Director	27-Nov-14	0.1	600.00	60.00	Administration	Email in Ashley Tiplady	
Stuart Clancy	Manager 1	27-Nov-14	0.2	360.00	72.00	Creditors	Responding to creditor queries via email.	Corporate - Liquidation
Ann Clark	Administration II	27-Nov-14	0.1	175.00	17.50	Administration	Banking/push payments	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	27-Nov-14	0.1	600.00	60.00	Assets	emaits in re outstanding costs to CU; fund return info in from RFZ	Corporate - Liquidation
really ranke fromasia								Category 2 -
Renee Lobb	Senior Director	28-Nov-14	0.1	510.00	51.00	Administration	Filing all sent and received emails.	Approved/Unpaid Category 2 -
							Check LM accounts and receipt funds into various fund accounts incl supporting documents	Approved/Unpaid
Benjamin Robson	Consultant I	28-Nov-14	1	270.00	270.00	Assets	Review and approve payment of outstanding administration flabilities including review of supporting	Category 2 -
		00.11-14	0.4	600.00	60.00	Administration	documentation and signing of transfer or cheque	Approved/Unpaid
Kelly-Anne Trenfield	Sr Managing Dir	28-Nov-14	0.1	000.00	00.00	Administration		Category 2 -
Mohamed Almulia	Sr. Consult I	28-Nov-14	0.3	360.00	108.00	Administration	Discussions with AGT regarding: next week meeting and tasks required for LM	Approved/Unpaid
Stuart Clancy	Manager 1	28-Nov-14	0.1	360.00	36.00	Creditors	Dealing with creditor queries.	Corporate - Liquidation
otuan oranoy	Miciteder i	20,101-14	V , 1	000.00			Finalise cover pages for report and annexures pages. Phone call to ASIC regarding: submission of	
James Court	Director 1	28-Nov-14	0.6	510.00	306.00	Administration	reports and arrange scanning	Corporate - Liquidation
John Park	Senior Managing Director	28-Nov-14	0.1	600.0D	60.00	Administration	Email in Tiplady	Corporate - Liquidation
								Category 2 -
John Park	Sr Managing Dir	29-Nov-14	0.1	600.00	60.00	Administration	Email in Francene Mulder	Approved/Unpaid Category 2 -
	1					A double (Arranging access to LM Suncorp accounts - Correspondence with Donna and Chris at LM. Correspondence with Fiona and Bree regarding procedure and request of letter of authority	Approved/Unpaid
Benjamin Robson	Consultant I	01-Dec-14	1.1	270.00	297.00	Administration	correspondence with rithing and presidenting procedure and reducer or restored and extremy	h where of a contract

309

Remuneration to 3	特別を読み 建築 しんしょう 特徴者 しいかいし				3,204,515.29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Kelly-Anne Trenfield	Sr Managing Dir	01-Dec-14	0.8	600.00	480.00	Administration	Review correspondence re legal issues; update status ; preparation for legal update meeting re statu of various fund related legal issues	Category 2 - Approved/Unpaid Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	01-Dec-14	0.1	600.00	60.00	Administration	approval for costs re engagement of WMS and use of MYOB	Approved/Unpaid
Christine Stead	Senior Director	01-Dec-14	2.2	560.00	1,232.00	Administration	Review MPF books and records schedule from KM and finalise categorization of allowable items and PC from Ron at KM	Approved/Unpaid
Christine Stead	Senior Director	01-Dec-14	1.1	560.00	616.00	Administration	Review MPF schedule regarding books and request from KM and finalise categorization of allowable/denied items	Category 2 - Approved/Unpaid
Ann Clark	Administration II	01-Dec-14	0.2	175.00	35.00	Administration	EFT requisitions. MYOB processing	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	01-Dec-14	0,2	600.00	120.00	Administration	Email to francene mulder re access to Im books and records	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	01-Dec-14	0.1	600.00	60.00		Review incoming documentation, consider and send to filing; Review and Update to do list; query outstanding items	Corporate - Liquidation
							Preparing for taking over or tasks when two mices close. Correspondence with Floha Draney, frene Caling and Bree Howe as well as RFZ in designing procedures for LM fund payments, BAS	Category 2 - Approved/Unpaid
Benjamin Robson	Consultant I	02-Dec-14	2.5	270.00	675.00	Administration	lodgments and 524 schedules https://www.commonster.or.alundnity.and.gaining.access.com/accounts.due.to.om/ce.cosore, priorie	Approved/Unpaid
Beniamin Robson	Consultant I	02-Dec-14	1.1	270.00	297.00	Administration	Correspondence with Fiona Draney and Irene Caling to understand process involved, emails to Bree Howe and RFZ	Category 2 - Approved/Unpaid
		1					Emails to russells requesting update on information re court proceedings and general updatereview	Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	02-Dec-14	0.2	600.00	120.00	Administration	financial position of administrations	Approved/Unpaid
Britlany Newman	Administration 1	02-Dec-14	0.1	135.00	13.50	Administration	Mail in from I.M Investments - Tall Trees Mandurah BAS (1 - 30 November 2014)	Corporate - Liquidation
Benjamin Robson	Consultant I	03-Dec-14	0.7	270.00	189.00	Administration	issues relating to transfer of authority to view and transact the Suncorp online accounts.	Category 2 - Approved/Unpaid Category 2 -
- Christine Stead	Senior Director	03-Dec-14	0.1	560.00	56.00	Administration	voicemail in from Ron at KM and draft email out	Approved/Unpaid
Benjamin Robson	Associate II	03-Dec-14	0.5	270.00	135.00	Creditors	Received, reviewed, approved, recorded King & Wood Mallesons rivolce 10010496 in regards to Barley Wood costs. Follow up on Clayton Utz invoices relating to Peregian beach Agenda meeting with Russells re outstanding legal issuesemalis in re asic proceedings and	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	03-Dec-14	0.8	600.00	480.00	Administration	involvement of clayton utz re insurance advice	Corporate - Liquidation Category 2 -
Renee Lobb	Senior Director	04-Dec-14	0.1	510.00	51.00	Administration	Scan and send to LM Investment Management Ltd account details for investor to update records. Insverwing Act from Enspane to GC nave consecutive meetings with Aline and Computer Snare,	Approved/Unpaid
Mohamed Almulia	Sr. Consult (04-Dec-14	5.5	360.00	1,980.00	Trade-on		Category 2 - Approved/Unpaid
Christine Stead	Senior Director	04-Dec-14	0.4	560.00	224.00	Administration	teleconference with LM	Category 2 - Approved/Unpaid
	Senior Managing Director	04-Dec-14	0.2	600.00	120.00	Administration	Review draft agenda for meeting with Russells	Corporate - Liquidation
	Senior Managing Director	04-Dec-14	0.8	600.00		Investigations	meeting with Russells and Clayton Utz re intervention in ASIC proceedings and affect on insurance claim	Corporate - Liquidation
Brittany Newman	Administration 1	04-Dec-14	0.2	135.00	27.00	Administration	Filing	Corporate - Liquidation
	Administration 2	04-Dec-14	3	175.00		Creditors	ASIC report annexures copied	Corporate - Liquidation
Carly Drew	Senior Director	05-Dec-14	0.1	510.00		Creditors	Respond and forward advisor login issues to LM Investment Management Ltd staff for action.	Category 2 - Approved/Unpaid
Renee Lobb	Senior Director	05-Dec-14	0.2	510.00	102.00	Creditors	Review and on forward after response query about website login.	Category 2 - Approved/Unpaid
	Consultant I	05-Dec-14	0.6	270.00	162.00	Creditors	Discussion with staff RFZ on summary of outstanding Fees and costs for all funds, including FTF remuneration and expenses and consultant costs. Send summary and detail reports	Category 2 - Approved/Unpaid
	Sr Managing Dir	05-Dec-14	0.7	600.00	420.00	Assets	travel to and attendance re meeting at russells to discuss progress of legal matters	Category 2 - Approved/Unpaid
	Sr Managing Dir	05-Dec-14	0,1	600.00	60.00	Administration	review and sign letter to asic re status of accounts/audit	Category 2 - Approved/Unpaid
	Senior Managing Director	05-Dec-14	0.6	600.00		Administration	Attending meeting with Ashley Tiplady to review file status of various matters	Corporate - Liquidation
		05-Dec-14	0.0	360.00		Administration	Review bank reconciliation.	Corporate - Liquidation
Stuart Clancy	Manager 1							

 $\bigcap_{i=1}^{n}$

LM Investment M Remuneration to	anagement Ltd (In Liqui 20 June 2018	dation)			3,204,515.29			
Kemuneration to Name	Title	Date	Hours	Charge Out Rate	5,204,515.25 Charge	Task Desc	Narrative	Classification
Nohamed Almulla	Sr. Consult {	06-Dec-14	0.3	360.00	108.00	Administration	Review emails from RZ and AGT regarding: transfer of files and respond.	Category 2 - Approved/Unpaid
John Park	Sr Managing Dir	07-Dec-14	0.1	600.00	60.00	Administration	Email In David Clout	Category 2 - Approved/Unpaid
Renee Lobb	Senior Director	08-Dec-14	0.1	510.00	51.00	Administration	Review email with POA for PTAI and fwd to Im.	Category 2 - Approved/Unpaid
(elly-Anne Trenfield	Sr Managing Dir	08-Dec-14	0.1	. 600.00	60.00	Administration	Mail in re LM auditor and details on website	Category 2 - Approved/Unpaid
Nohamed Almulia	Sr. Consult I	08-Dec-14	1	360.00	360.00	Administration	Meeting with AGT and Computer share regarding: hand over etc.	Category 2 - Approved/Unpaid
Iohamed Almulla	Sr. Consult I	08-Dec-14	1.5	360.00	540.00	Administration	Discuss with AGT and Ryan and discussions on data servers etc. review ftp servers	Category 2 - Approved/Unpaid
hristine Stead	Senior Director	08-Dec-14	0.1	560.00	56.00	Administration	Review file re email address for Steve Hannan and resend email re remote access	Category 2 - Approved/Unpaid
legan Dopking	Administrative	08-Dec-14	0.1	135.00	13.50	Administration	Bank reconciliation	Corporate - Liquidatio
Wegan Dopking	Administrative	08-Dec-14	0.1	135.00	13.50	Administration	Bank reconciliation	Corporate - Liquidatio
legan Dopking	Administrative	08-Dec-14	0.1	135.00	13.50	Administration	Bank reconciliation	Corporate - Liquidatio
legan Dopking	Administrative	08-Dec-14	0.1	135.00	13.50	Administration	Bank reconciliation	Corporate - Liquidatio
ohn Park	Senior Managing Director	08-Dec-14	0.1	600.00	60.00	Administration	Email in Russells	Corporate - Liquidatio
tuart Clancy	Manager 1	08-Dec-14	0.2	360.00	72.00	Creditors	Reviewing email from creditor regarding update. Resolving queries.	Corporate - Liquidatio
arly Drew	Administration 2	08-Dec-14	0.2	175.00	35.00	Administration	Prepared Final Letter and issued via email	Corporate - Liquidatio
inette Muller	Senior Managing Director	08-Dec-14	0.1	600.00	60.00	Administration	Review and approve bank reconciliation.	Corporate - Liquidatio
Renee Lobb	Senior Director	09-Dec-14	0.2	510.00	102.00	Administration	Email to Steve Hannan regarding changes to website required after review of russells letter on same.	Category 2 - Approved/Unpaid
Renee Lobb	Senior Director	09-Dec-14	0.1	510.00	51.00	Administration	Review response from LM Investment Management Ltd. Advise Russells items on Im website now attended to.	Category 2 - Approved/Unpaid
ohn Corbett	Managing Dir	09-Dec-14	0.5	570.00	285.00	Administration	Responding to emails on changeover of RE management menuer emails in re Livia onnee crostine and data transiter, can to david clout re organisation; drait email	Category 2 - Approved/Unpaid
(elly-Anne Trenfield	Sr Managing Dir	09-Dec-14	0.6	600.00	360.00	Administration	re next stepsemails in re engagement of accountants/share registry services; draft email to RFZ re transfer of data and requirement for strategy before approval	Category 2 - Approved/Unpaid Category 2 -
elly-Anne Trenfield	Sr Managing Dir	09-Dec-14	0.1	600.00	60.00	Administration	Review email in from russells re inclusion of MPF accounts on website; refer to RCI and provide instructions	Approved/Unpaid Category 2 -
Benjamin Robson	Consultant I	09-Dec-14	0.2	270.00	54.00	Administration	Email to 1 Calinf regarding Clayton Utz payments, email to Irene regarding financial statements preparations	Approved/Unpaid
							Discussion with AGT on records required atc. Attempt to contact Scott to discss costs of back up etc. Discuss with Patrick Ma from sydney office regarding: quotes etc. Email to Patrick Ma regarding: quote for costs etc. Access data rooms and create subfolders for back upEmail to Steve Hannan regarding: query look for documents and update list of documents found arrange for copy of all data files to serversdiscuss with Brittany from the Gold Coast regarding: tasks et.c Emails to team	Category 2 -
Iohamed Almulla	Sr. Consult 1	09-Dec-14	4.9	360.00	1,764.00	Administration	regarding: updates. Email from Simon Tickner regarding: tasks	Approved/Unpaid Category 2 -
Iohamed Almulia	Sr. Consult (09-Dec-14	0.2	360.00	72.00		Discussion with AGT and Steve regarding: access and tomorrow's visit	Approved/Unpaid Category 2 -
Iohamed Almulla	Sr. Consult I	09-Dec-14	0.1	360.00	36.00		Email to Patrick Ma regarding: Back Up process	Approved/Unpaid Category 2 -
Iohamed Almulla	Sr. Consult !	09-Dec-14	0.2	360.00	72.00	Administration	Correspondences with Ryan and Aline	Approved/Unpaid Category 2 -
ohamed Almulia	Sr. Consuit I	09-Dec-14	0.1	360.00	36.00	Administration	Emails with Ryan regarding: WMS etc.	Approved/Unpaid Category 2 -
hristine Stead	Senior Director	09-Dec-14	0.1	560.00			Discussion with MHA regarding B&Review	Approved/Unpaid Corporate - Liquidatio
ohn Park	Senior Managing Director	09-Dec-14	0.1	600.00	60.00	Administration	Email in Russells	porporate - Liquidatio

311

LM Investment M Remuneration to	anagement Ltd (In Liqui 20 June 2018	idation)			3.204.515.29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Renee Lobb	Senior Director	10-Dec-14	0.5	510.00	255.00	Trade-on	Review section 96 application of trusts act. Review investor data tile and add numbers of all those no included in Managed Performance Fund.	Approved/Unpaid
Kally Anno Tronfield	Pr Managing Dir	10-Dec-14	0.5	600.00	300.00	Administration	AGT re planning re closure of LMA officeAGT update re registryreview email in from john Kennedy re LMA costs: query info from with GOK	Category 2 - Approved/Unpaid
Kelly-Anne Trenfield	Sr Managing Dir	10-Dec-14	0.5	000.00	300.00	Administration	Review correspondence crouts regarding agreement to share costs/records etc. note from Keily	
							regarding same and operational costs, review LMIM/LMA resp entity insurance, note to clouts, memo to Kelly regarding LM op costs reimbursement/FMIF claim status.	
Glenn O'Keamey	Senior Director	10-Dec-14	0.7	560.00	392.00	Assets	to Keny regarding LM op costs reinibursementer Mar claim status.	Approved/Unpaid Category 2 -
Benjamin Robson	Consultant I	10-Dec-14	0.6	270.00	162.00	Administration	Travel o and from Suncorp Bank to be ID'd for access to accounts	Approved/Unpaid
								Category 2 -
Mohamed Almulla	Sr. Consult I	10-Dec-14	0.2	360.00	72.00	Administration	Discuss with AGT etc. regarding: update and information	Approved/Unpaid Category 2 -
Mohamed Almulia	Sr. Consult I	10-Dec-14	0.2	360.00	72.00	Administration	Call Boardroom Registry and discuss opportunities	Approved/Unpaid
							review JRP attidavit queries from KAT/Russells and query out to Patrick Mareview and update JRP	Category 2 -
Christine Stead	Senior Director	10-Dec-14	0.3	560.00	168.00	Administration	affidavit as per conversation with KAT and email to RCL to complete;	Approved/Unpaid Category 2 -
Christine Stead	Senior Director	10-Dec-14	0.1	560.00	56.00	Administration	review email in from RCL and email in from Patrick and Ma and respond to KAT	Approved/Unpaid
Brittany Newman	Administration 1	10-Dec-14	0.5	135.00		Administration	Suncorp Bank, Ashmore City	Corporate - Liquidation
Britany Newman	Administration	10-000-14			01.00		Review emainin from joint Kennedy (LWA) and drait detailed response, review into from GOK re	
					000.00	A destalation Para	responseemails with john Kennedy re teleconference to discuss Ima issuesreview JRP affidavit and arrange swearing and collection	Category 2 - Approved/Unpaid
Kelly-Anne Trenfield	Sr Managing Dir	11-Dec-14	0.5	600.00	300.00	Administration		Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	11-Dec-14	0.2	600.00	120.00	Administration	GOK re office closure and arrangements/call with john Kennedy	Approved/Unpaid
							Discussions with John Kenneuy Tegaraing insurance and service agreementrocoxis records agreement, review correspondence from Clouts and Kelly regarding proposal, correspondence with	
							RFZ regarding funding of insurance invoices for responsible entity, review correspondence issued	Category 2 -
Glenn O'Kearney	Senior Director	11-Dec-14	1	560.00	560.00	Assets	regarding funds.	Approved/Unpaid
							Review and sign Russells affidavit; Email in Piper Alderman	Category 2 - Approved/Unpaid
John Park	Sr Managing Dir	11-Dec-14	0.5	600.00	300.00	Administration		Category 2 -
Christine Stead	Senior Director	11-Dec-14	0.1	560.00	56.00	Administration	Email in from KAT and respond	Approved/Unpaid
Glenn O'Keamey	Senior Director	11-Dec-14	0.1	560.00	56.00	Administration	Review and sign off on bank reconciliation.	Corporate - Liquidation
Brittany Newman	Administration 1	11-Dec-14	0.1	135.00	13.50	Administration	Mail in from ATO - BAS (1 Oct - 31 Dec 2014)	Corporate - Liquidation
Carly Drew	Administration 2	11-Dec-14	0.1	175.00	17.50	Administration	JP - Witnessed JRP signature on affidavit. Arranged for Russells to collect from reception	Corporate - Liquidation
								Category 2 -
Renee Lobb	Senior Director	12-Dec-14	0.1	510.00	51.00	Administration	Respond to enquiry regarding transfer of units.	Approved/Unpaid Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	12-Dec-14	1.1	600.00	660.00	Administration	Update/debrief with GOKTeleconference with john Kennedy re closure of LMA office	Approved/Unpaid
		12 000 11					priscussions with Keny regarding Livin testionside entity role update: relecontenence with clocks regarding ongoing records agreement for LMIM funds, follow up lan nicol regarding LM op costs	
	1	1 1					contributions, review LMIM insurance polices and correspondence from DLC office regarding	Category 2 -
Glenn O'Keamey	Senior Director	12-Dec-14	2	560.00	1,120.00	Trade-on	insurance issues. arrange meetings with McN regarding op cost discussions.	Approved/Unpaid
John o Houndy								Category 2 - Approved/Unpaid
iohn Park	Sr Managing Dir	12-Dec-14	0.2	600.00	120.00	Administration	Review with Kelly Trenfield books & records application	Cätegory 2 -
Iohamed Almulia	Sr. Consult I	12-Dec-14	0.2	360.00	72.00	Administration	Correspondences with Ryan and ALine regarding: registry transfer	Approved/Unpaid
							Discus Bar position LM regarding issues Kelly. Consider insurance issues and note to Kennedy, can	Category 2 -
				560.00	220 00	Trade-on	form blue broking regarding insurance premium issues, note from BJR regarding legal invoice allocations.	Approved/Unpaid
Blenn O'Kearney	Senior Director	15-Dec-14	0.6	00.00	330.00			Category 2 -
Renee Lobb	Senior Director	15-Dec-14	0.1	510.00	51.00	Administration		Approved/Unpaid
		1 · · · · î					GOR TE Status of BOR application can to lan bisson te status of application eview court docs from lan Bissoncall in from Ian Bisson re alternative approaches re costsCalls in - tan Bisson and John Peden	Category 2 -
elly-Anne Trenfield	Sr Managing Dir	15-Dec-14	1.4	600.00	840.00	Administration	x3	Approved/Unpaid
ony and remove	er manding en	10 000 14	,,,,		2.3.00		citalis into bar application, Entro otatica di Salorantiang timene di Salorantiang	Category 2 -
elly-Anne Trenfield	Sr Managing Dir	15-Dec-14	0.2	600.00	120.00	Administration	re ownership of records; file note re B&R issues	Approved/Unpaid

LM Investment M Remuneration to :	anagement Ltd (In Liqui 30 June 2018				3,204,515.29			
Name.	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
John Park	Senior Managing Director	15-Dec-14	0.2	600.00	120.00	Administration	Discussion with Ashley Tiplady	Corporate - Liquidation
Stuart Clancy	Manager 1	15-Dec-14	0.1	360.00	36.00	Employees	Reviewed file note regarding Michael Skegg correspondence.	Corporate - Liquidation
Brittany Newman	Administration 1	15-Dec-14	0.2	135.00	27.00	Administration	Returned Post - 6974729 to Michael Skeggs, search alternate address, prepare 89741158 + Mail Out to alternate address	Corporate - Liquidation
Brittany Newman	Administration 1	15-Dec-14	0.3	135.00	40.50	Administration	Filing	Corporate - Liquidation
Benjamin Robson	Associate II	15-Dec-14	0.5	270.00	135.00	Creditors	lopdate consultants tee register and tee summary register with payments - check LM accounts for deposits	Corporate - Liquidation
Renee Lobb	Seniar Director	15-Dec-14	0.5	510.00	255.00	Administration	Insurance matters. Can with Chris Errur regarding involcing Managed Performance Fund for 50% insurance recoveries for legal costs. Email to GC staff regarding invoicing through myob to enable collection.	Corporate - Liquidation
Renee Lobb	Senior Director	15-Dec-14	0.2	510.00	102.00	Administration	Review email from Ben regarding invoicing KM. Email Chris Erfurt confirming procedure.	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	15-Dec-14	0.5	600.00	300.00	Administration	review and update issue list; update issues list anead of discuss with JRPReview incoming documentation, consider and send to filing	Corporate - Liquidation
Mohamed Almulla	Sr. Consult I	16-Dec-14	0.4	360.00	144.00	Administration	Discussions with Ametrong Registry regarding: LM HandoverDiscussions with RyanRespond to Maryanne	Category 2 - Approved/Unpaid
Glenn O'Keamey	Senior Director	16-Dec-14	1.2	560.00	672.00	Trade-on	Conscuss Re the cust contributions. Mich supporting obcuments and with RFZ. teleconterence with Mich on matter, note to Kelly with update, call from John Kennedy regarding update on LMA service agreement/insurance matters etc.	Category 2 - Approved/Unpaid
Benjamin Robson	Consultant I	16-Dec-14	1.2	270.00	324.00	Administration	1 me spent drafting letter to PTAL regarding Suncorp account clearance, issue signed authority to LM/ PTAL for view access	Category 2 - Approved/Unpaid
John Park	Senior Managing Director	16-Dec-14	0.4	600.00	240.00	Administration	File review meeting Kelly Trenfield; Send email to Russells	Corporate - Liquidation
Renee Lobb	Senior Director	16-Dec-14	0.2	510.00	102.00	Administration	Email review from Clayton Uz regarding involcing of Managed Performance Fund legal fees. Send to Ben at the gold coast for actioning through myob.	Corporate - Liquidation
Keliy-Anne Trenfield	Senior Managing Director	16-Dec-14	0.2	600.00	120.00	Administration	update to jrp re o/s issues; JRP re status	Corporate - Liquidation
Glenn O'Keamey	Senior Director	17-Dec-14	0.2	560.00	112.00	Trade-on	Note to kat regarding insurance costs/payments,/ allocation to funds, further note Kelly regarding insurance matters,	Category 2 - Approved/Unpaid Category 2 -
Benjamin Robson	Consultant I	17-Dec-14	0.3	270.00	81.00	Administration	Phone call from Donna at SC - register for Banking	Approved/Unpaid Category 2 -
Benjamin Robson	Consultant I	17-Dec-14	0.5	270.00	135.00	Administration	Additional Suncorp accounts added to login, review of November account balances attempts to contact Russells; messages and emailsreview draft order from pancall in from ian Bisson	Approved/Unpaid Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	17-Dec-14	0.3	600.00	180.00	Administration	re draft consent orders re B&R application	Approved/Unpaid Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	17-Dec-14	0.2	600.00	120.00	Administration	review insurance proposal from Blue; query to GOK	Approved/Unpaid
Brittany Newman	Administration 1	17-Dec-14	0.3	135.00	40.50	Administration	Prepare W/P & OOPs for period 19/03/2013 to 30/11/2014 for GOK	Corporate - Liquidation
Benjamin Robson	Associate II	17-Dec-14	0.5	270.00	135.00	Creditors	Update LM consultants tee register in parucular Clayton Dtz Invoices for payment byKM. Update register with payments received Update inform regin registrang books and records matter NE issues, review invoices regarding	Corporate - Liquidation
Glenn O'Keamey	Senior Director	18-Dec-14	0.7	560.00	392.00	Investigations	insurance contribution recovery, discuss insurance payments with BJR, sign off insurance payment, call from John and discuss insurance RE issues.	Category 2 - Approved/Unpaid
John Park	Sr Managing Dir	18-Dec-14	0.2	600.00	120.00	Administration	Review and sign Deed of Settlement	Category 2 - Approved/Unpaid Category 2 -
Benjamin Robson	Consultant I	18-Dec-14	0.3	270.00	81.00	Creditors	Blue Broking insurance payment for LMIM and MLA	Approved/Unpaid Category 2 -
Celly-Anne Trenfield	Sr Managing Dir	18-Dec-14	0.4	6 00.00			Email in re application and charges to orderscall with peden and ian bisson re changes to orders	Approved/Unpaid
anitany Newman	Administration 1	19-Dec-14	0.2	135.00			Filing	Corporate - Liquidation
Renee Lobb	Senior Director	19-Dec-14	0.2	510.00		Administration	Assist Ben Robson with Managed Performance Fund invoice and account setup.	Corporate - Liquidation
ohn Park	Senior Managing Director	19-Dec-14	0.1	600.00	60.00	Administration	Review KAT update	Corporate - Liquidation Category 2 -
eliy-Anne Trenfield	Sr Managing Dir	22-Dec-14	0.1	600.00	60.00	Administration	Emails in and instructions re payment of books and records costs	Approved/Unpaid Category 2 -
amian Bender	CONSULTANT	22-Dec-14	4	600.00	2,400.00	Administration	Numerous discussions and meetings with Russels re access to books and records issue	Approved/Unpaid

 $\langle \$

	anagement Ltd (In Liqui	dation)			2:204 545 20			
Remuneration to Name		Date	Hours	Charge Out Rate	3,204,515.29 Charge	Task Desc	Narrative	Classification
Benjamin Robson	Consultant !	22-Dec-14	0.6	270.00	216.00	Creditors	Organise and arrange payment to Receivers of B&R pursuant to Order of Supreme Court	Category 2 - Approved/Unpaid
John Pank	Senior Managing Director	22-Dec-14	0.3	600.00	180.00	Administration	Emails in / out Russells. Review and payment of account	Corporate - Liquidation
Caroline Halcoop	Administration 2	22-Dec-14	0.3	175.00	52.50	Administration	for review; scan email documents and transfer; JRP okayed. Set up cheque book details in MYOB Insol for printing of chqs; JRP to approved	Corporate - Liquidation
Caroline Halcoop	Administration 2	22-Dec-14	0.1	175.00	17.50	Administration	Post PV and print 1 cheque	Corporate - Liquidation
John Park	Sr Managing Dir	24-Dec-14	0.1	600.00	60.00	Administration	Email in David Clout	Category 2 - Approved/Unpaid Category 2 -
Renee Lobb	Senior Director	30-Dec-14	0.2	510.00	102.00	Creditors	Respond to creditor query regarding 2014 unpaid invoice. Revert to RFZ.	Approved/Unpaid
John Park	Sr Managing Dir	05-Jan-15	0.4	600.00	240.00	Administration	Review status of all outstanding matters	Category 2 - Approved/Unpaid
Kelly-Anne Trenfield	Sr Managing Dir	05-Jan-15	0.3	600.00	180.00	Administration	Email to JRp to status or legar advice; canali to russells to planning meetingemails in to LiviA drice closure and clout proceedingsadvice in from Russells re involvement in asic proceedings against directors	Category 2 - Approved/Unpaid
Andrew Weatherley	Managing Director	05-Jan-15	0.1	560.00	56.00	Investigations	Save items from James Court USB to H drive	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	05-Jan-15	0.3	600.00	180.00	Administration	Review and update to do list; query outstanding items; Review incoming documentation, consider and send to filing	Corporate - Liquidation
Stuart Clancy	Manager 1	05-Jan-15	0.3	360.00	108.00	Creditors	Email to creditors regarding update on liquidation to date.	Corporate - Liquidation
Stuart Clancy	Manager 1	05-Jan-15	0.1	360.00	36.00	Administration	Email to CMA regarding payment of invoices.	Corporate - Liquidation
Glenn O'Keamey	Senior Director	05-Jan-15	0.7	560.00	392.00	Administration	Review star comminimutes. review sneets regarding allocation and reply to CMA, review an egal invoices in, note to ash and BJR regarding allocations, review service of claim and SOC regarding belipac matters, note to Kelly.	Corporate - Liquidation
John Park	Sr Managing Dir	06-jan-15	0.2	600.00	120.00	Administration	Email in Russells	Category 2 - Approved/Unpaid
Renee Lobb	Senior Director	06-Jan-15	0.1	510.00	51.00	Administration	Review and respond to email from RFZ regarding workload.	Category 2 - Approved/Unpaid
Glenn O'Kearney	Seniar Director	06-Jan-15	0.5	560.00	280.00	Trade-on	Discuss FUM and ongoing trading issues for funds with BJR, review correspondence from dic regarding fund records group, review orders, notes.	Category 2 - Approved/Unpaid Category 2 -
Benjamin Robson	Consultant l	06-Jan-15	0.2	270.00	54.00	Assets	Call to Steve Hanna regarding FUM access	Approved/Unpaid
Benjamin Robson	Consultant I	06-Jan-15	0.5	270,00	135.00	Creditors	Russells invoice 820198 regarding books and records reviewed and recorded, discuss with Glenn O'Kearney strategy to obtain FUM figures. Email to Steve Hanan War in nom gadens, lorward to asmey rupiady at Russellisterior carno crims Endin, discuss daminiby	Category 2 - Approved/Unpaid
Kelly-Anne Trenfield	Senior Managing Director	06-Jan-15.	0.6	600.00	360.00	Assets	MIF re Bellpac; draft email forwarding claim and statement of claim to chriscall in from Chris Erfurt re claim by MIF; email to Jarrod Villani re status of insurance claimscall in from Mark waller and Chris Erfurtemail in from clayton utz; draft response providing instructions	Corporate - Liquidation
John Park	Sr Managing Dir	07-Jan-15	1.1	600.00	660.00	Administration	Prepare for and attend meeting with David Clout, BDO and KM to resolve access to records issue	Category 2 - Approved/Unpaid Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	07-Jan-15	1.1	600.00	660.00	Administration	meeting with david clout and MIF/MPF re books and records; update to CmA re review	Approved/Unpaid
Kelly-Anne Trenfield	Sr Managing Dir	07-Jan-15	0.7	600.00	420.00	Administration	Review main in from David Cidut & Assoc re appointment over books and records; book meeting room; notes on discussion pointsemails re meeting with russellsupdate jrp re status of books and recordsarrangements re meeting with russells	Category 2 - Approved/Unpaid
Christine Stead	Senior Director	07-Jan-15	D.1	560.00	56.00	Administration	review email in from KAT and letter outlining B&R issues	Category 2 - Approved/Unpaid
Christine Stead	Senior Director	07-Jan-15	0.2	560.00	112.00	Administration	catch up with KAT re LM B&R moving forward	Category 2 - Approved/Unpaid
Glenn O'Kearney	Senior Director	07-Jan-15	0.5	560.00	280.00	Administration	Meet with BJR and discuss consultants register. review various entries and unknown allocations.	Category 2 - Approved/Unpaid
Kelly-Anne Trenfield	Senior Managing Director	07-Jan-15	0.4	600.00	240.00	Administration	email in from mark waller to belipac illigationcall with mark waller to insurance locus on belipac breach of trust litigation	Corporate - Liquidation
Renee Lobb	Senior Director	07-Jan-15	0.2	510.00	102.00	Administration	Review email from Pater Drake regarding information requested. Respond to Ginette Muller, John Park etc with information likely available.	Corporate - Liquidation

EM Investment M Remuneration to	anagement Ltd (In Liqui 30 June 2018	dation)			3,204,515.29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Ginette Muller	Senior Managing Director	07-Jan-15	0.5	600.00	300.00	Administration	Email from Peter Drake regarding receipts and payments, send holding response. Consult with stati and get information.	Corporate - Liquidation
John Park	Sr Managing Dir	08-Jan-15	0.1	600.00	60.00	Administration	Email in David Clout / David Whyte	Category 2 - Approved/Unpaid
Renee Lobb	Senior Director	08-Jan-15	0.2	510.00	102.00	Investigations	Review further email with respect to stay t previous proceedings pending provision of guarantees for costs, bring ups for critical dates.	Category 2 - Approved/Unpaid
Benjamin Robson	Consultant I	08-Jan-15	0.3	270.00	81.00	Administration	FUM figures request - contact with Steve Hannan	Category 2 - Approved/Unpaid
Glenn O'Kearney	Senior Director	08-Jan-15	0.1	560.00	56.00	Administration	Liaise with BJR regarding required info for cost allocation between funds.	Category 2 - Approved/Unpaid
Ann Clark	Administration (J	08-Jan-15	0.1	175.00	17.50	Administration	Payment slips	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	08-Jan-15	0.1	600.00	60.00	Administration	Email in from peter drake; review RCL draft emails and discuss docs to enclose	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	08-Jan-15	0.1	600.00	60.00	Administration	emaits in from mark walter re documents for bellpac claim	Corporate - Liquidation
	Gener Managing Director						Read contents and save 15 page statement of claim from Mr wryte regarding belipad an inprinti belipad loans. Review commentary on rightrs as receiver from Clayton Utz and instructions from Kelly	Corporate - Liquidation
Renee Lobb	Senior Director	08-Jan-15	0.5	510.00	255.00	Investigations	Anne Trenfield.	
Renee Labb	Senior Director	08-Jan-15	0.2	510.00	102.00	Investigations	Review file for reports requested by Peter Drake. Send email with proposed items to send.	Corporate - Liquidation
Renee Lobb	Senior Director	08-Jan-15	0.2	510.00	102.00	Trade-On	Review email from Mark waller of yesterday, review website and confirm receivers most recent update, discuss with Kelly-Anne Trenfield.	Corporate - Liquidation
Ginette Muller	Senior Managing Director	08-Jan-15	0.5	600.00	300.00	Administration	Review reports sent from staff for Peter Drake. Agree that 524's are best. Consult with staff.	Corporate - Liquidation
Renee Lobb	Senior Director	09-Jan-15	0.2	510.00	102.00	Administration	Review Ginette Muller amail to drake with information. Also review and respond to email with Information for investor to update contact details.	Category 2 - Approved/Unpaid Category 2 -
John Park	Sr Managing Dir	09-Jan-15	0.1	600.00	60.00	Administration	Emall in Russells	Approved/Unpaid Category 2 -
Benjamin Robson	Consultant I	09-Jan-15	0.1	270.00	27.00	Administration	Mail Out	Approved/Unpaid Category 2 -
Benjamin Robson	Consultant I	09-Jan-15	0.5	270.00	135.00	Creditors	Update consultants fee register Update consultants fee register Updates payments from turtosprocesses/chécks etc:RF2 and BJR. Note to Keily regarding allocauton	Approved/Unpaid
Glenn O'Kearney	Senior Director	09-Jan-15	1	560.00	560.00	Administration	matters to funds/costs fund offset etc. review insurance allocations across funds/discuss FMIF reimbursements op costs allocations to funds with RFZ. and re update to roo and emain from david whyte re insurance claim and remuneration claimGOK re-	Category 2 - Approved/Unpaid
Kelly-Anne Trenfield	Senior Managing Director	09-Jan-15	0.3	600.00	180.00	Administration	outstanding issues and prep of fee claimupdate from Gok re loan management fees and outstanding advice from russells RCL re insurance and AIF claimcair to mark waiter re entail from david whyte and allegations or	Corporate - Liquidation
		50 I 4F	0.4	600.00	240.00	Administration	conflict	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	09-Jan-15				Creditors	LM Remuneration split - WIP and OOPS data dump for December 2014 Qtr LMIM Portion	Corporate - Liquidation
Benjamin Robson	Associate II	09-Jan-15	0.5	270.00	135.00	Creditors	Email from RCL with drant response to Peter Drake. Review and send regarding receipts and	
Ginette <u>Mulier</u>	Senior Managing Director	09-Jan-15	0.5	600.00	300.00	Administration	payments.	Corporate - Liquidation Category 2 -
John Park	Sr Managing Dir	10-Jan-15	0.1	600.00	60.00	Administration	Email in Ashley Tiplady	Approved/Unpaid Category 2 -
John Park	Sr Managing Dir	11-Jan-15	0.1	600.00	60.00	Administration	Email in Ashtey Tiplady	Approved/Unpaid Category 2 -
Renee Lobb	Senior Director	12-Jan-15	0.1	510.00	51.00	Administration	Review email from RFZ regarding required fund circulars. Confirm will attend to same.	Approved/Unpaid Category 2 -
lohn Park	Sr Managing Dir	12-Jan-15	0.5	600.00	. 300.00		Prep agenda and update from notes; prepare for meeting with Russellsmeeting with russells re status	Approved/Unpaid Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	12-Jan-15	8.0	600.00	480.00	Administration		Approved/Unpaid Category 2 -
Blenn O'Keamey	Senior Director	12-Jan-15	1	560.00	560.00	Administration	Initial review and Prepare WIP information for review and allocation across funding areas.	Approved/Unpaid
Renee Lobb	Senior Director	12-Jan-15	0.1	510.00	51.00	Administration	Review and respond to Kelly-Anne Trenfield's email. Confirm information sent to Drake.	Corporate - Liquidation
Renee Lobb	Senior Director	12-Jan-15	0.2	510.00	102.00	Investigations	Review and save to tile correspondence from Gadens and draft response to Gadens from Clayton Utz regarding leave to proceed and alleged conflict.	Corporate - Liquidation

 $\sum_{i=1}^{n}$

	magement Ltd (In Liqui	dation)						
Remuneration to 3 Name	10 June 2018 Title	Date	Hours	Charge Out Rate	3,204,515.29 Charge	Task Desc	Narrative	Classification
Brittany Newman	Administration 1	12-Jan-15	0.2	135.00	27.00	Administration	Call to ATO following up outstanding BAS refund for period 1 Jul - 30 Sep 2014 + prepare 8974fn59.	Corporate - Liquidation
Stuart Clancy	Manager 1	12-Jan-15	0.1	360.00	36.00	Administration	Reviewed memo from BN regarding BAS follow up.	Corporate - Liquidation
Renee Lobb	Seniar Director	13- J an-15	0.1	510.00	51.00	Administration	Email report to RFZ.	Category 2 - Approved/Unpaid Category 2 -
Renee Lobb	Senior Director	13-Jan-15	0.1	510.00	51.00	Administration	Review email from CBA regarding distributions. Ask KAT contact for response.	Approved/Unpaid Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	13-Jan-15	0.1	600.00	60.00	Creditors	emails in re notice to members; review and amend draft notice Rtz re B&R regime; review emails re Simon Tickner need for informationemails in re issuing notices	Approved/Unpaid Category 2 -
Kelly-Anne Trentield	Sr Managing Dir	13-Jan-15	0.2	600.00	120.00	Administration	to members; various emails re register details	Approved/Unpaid
Benjamin Robson	Consultant I	13-Jan-15	1	270.00	270.00	Administration	Suncorp account access - Token ID activation and review of Nov and Dec statements for BAS lodgement's	Category 2 - Approved/Unpaid
Kelly-Anne Trenfield	Senior Managing Director	13-Jan-15	0.1	600.00	60.00	Administration	Emails in re tickner request for information and insurance notification Can from Simon regarding insurance queries, action brought by PMIF, note to Kelly and RCL	Corporate - Liquidation
Glenn O'Kearney	Senior Director	13-Jan-15	0.5	560.00	280.00	Creditors	regarding action and responses etc.	Corporate - Liquidation
Glean O Reamey		10 00.1110					Review and prepare allocations/summary of WIP data December 2014 qtr. update control sheets and	Corporate - Liquidation
Glenn O'Keamey	Senior Director	13-Jan-15	0.5	560.00	280.00	Administration	note to kelly regarding allocations, time allocated across corporate code and funds.	Category 2 -
Renee Lobb	Senior Director	14-Jan-15	0.2	510.00	102.00	Administration	Review email regarding member registers and insurance from Glenn and Ryan. Respond to same. Review email from Ben Robson regarding transfer to templates, suggest efficient procedure to Kelly-	Approved/Unpaid Category 2 -
Renee Lobb	Senior Director	14-Jan-15	0.2	510.00	102.00	Administration	Anne Trenfield.	Approved/Unpaid Category 2 -
Glenn O'Kearney	Senior Director	14-Jan-15	0.2	560.00	112.00	Trade-on	Discuss records/info requests LM funds with BJR.	Approved/Unpaid Category 2 -
Christine Stead	Senior Director	14-Jan-15	0.1	560.00	56.00	Administration	query to Patrick re set up of database	Approved/Unpaid
Ann Clark	Administration II	14-Jan-15	0.1	175.00	17.50	Administration	Payment slips	Corporate - Liquidation
Renee Lobb	Senior Director	14-Jan-15	0.6	510.00	306.00	Investigations	Summansing of insurance information for Simon Tickner after phone call regarding required notifications against him personally resulting from the Bellpac file.	Corporate - Liquidation
Renee Lobb	Senior Director	14-Jan-15	0.0	510.00		Administration	Email to Kelly-Anne Trenfield regarding Simon insurance query.	Corporate - Liquidation
Renee Lobb	Senior Director	14-Jan-15	0.2	510.00	· · · · · · · ·	Investigations	Nevrew email and letter drait regarding stay of proceedings and Gadens First Mortgage Income Fund matter.Confirm to KAT will issue instructions on confirmation.	Written Off/Not claimed
Renee Lobb	Senior Director	14-Jan-15	0.2	510.00	102.00	Administration	Emails to Kelly-Anne Trenfield regarding query process and insurance details for Simon.	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	14-Jan-15	0.1	600.00	60.00	Assets	RCI re insurance and books and records queries	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	14-Jan-15	0.2	600.00	120.00	Administration	Emails re books and records access and insurance details requested by simon tickner	Corporate - Liquidation
Glenn O'Kearney	Seniar Director	14-Jan-15	0.1	560.00	56.00	Assets	Review wMPF portion invoice regarding cluts insurance bills.	Corporate - Liquidation
Glenn O'Keamey	Senior Director	14-Jan-15	0.1	560.00	56.00	Assets	Review and approve. receipt voucher gst refunds.	Corporate - Liquidation
Brittany Newman	Administration 1	14-Jan-15	0.1	135.00	13.50	Administration	Prepare receipt voucher in MYOB - BAS Refund (1 Jul - 30 Sep 2014)	Corporate - Liquidation
Stuart Clancy	Manager 1	14-Jan-15	0.1	360.00	36.00	Administration	Reviewed BAS banking voucher prepared by BN.	Corporate - Liquidation
Renee Lobb	Senior Director	15-Jan-15	0.3	510.00	153.00	Trade-on	Explain to adviser reasoning behind why investors aren't creditors and do not receive creditor reports.	Category 2 - Approved/Unpaid Category 2 -
Iohn Park	Sr Managing Dir	15-Jan-15	0.1	600.00	60.00	Administration	Email in Russells	Approved/Unpaid Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	15-Jan-15	0.2	600.00	120.00	Administration	Update to GOk re legal proceedings actions with Russells	Approved/Unpaid Category 2 -
Glenn O'Keamey	Senior Director	15-Jan-15	0.2	560.00	112.00	Administration	Discuss funds management etc KAT/BJR/RFZ Discussion ash tiplady regarding allocation of various costs/fund invoices etc. note to BJR regarding	Approved/Unpaid Category 2 -
Slenn O'Keamey	Senior Director	15-Jan-15	0.2	560.00	112.00	Hade on	instructions to allocate/invoice to funds.	Approved/Unpaid
Renee Lobb	Seniar Director	15-Jan-15	0.3	510.00	153.00	Investigations	Review email from Simon and further file review. Email Chris for details.	Corporate - Liquidation
Renee Lobb	Senior Director	15-Jan-15	0.3	510.00	153.00	Assets	Cali with Chris Enturt regarding reservations and reasoning benind not providing policy details to Simon Tickner	Corporate - Liquidation

LM Investment Mar Remuneration to 30	nagement Ltd (In Liqui) June 2018	dation)			3,204,515.29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Megan Dopking	Administrative	15-Jan-15	0.4	135.00	54.00	Administration	Bank reconciliations	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	15-Jan-15	0.1	600.00	60.00	Assets	Review letter to gadens re conflict and defence	Corporate - Liquidation
John Park	Sr Managing Dir	16-Jan-15	0.2	600.00	120.00	Administration	Emails in Russell	Category 2 - Approved/Unpaid
Renee Lobb	Senior Director	16-Jan-15	0.2	510.00	102.00	Investigations	Review email from Kelly-Anne Trenfield approving instructions for Clayton Utz. provide same.	Corporate - Liquidation
Renee Lobb	Senior Director	16-Jan-15	0.2	510.00	102.00	Administration	Clarification to BR regarding management of registers for CPAIF and ICPAIF,	Corporate - Liquidation
Renee Lobb	Senior Director	19-Jan-15	0.1	510.00	51.00	Administration	Response to KAT on responding to investor procedure and forwarding Steve Hannan information.	Category 2 - Approved/Unpaid
		19-Jan-15	0.1	510.00	51.00	Trade-on	Review email from investor. Try to locate which fund invested in by na.e. Respond requesting further information.	Category 2 - Approved/Unpaid
Renee Lobb	Senior Director	19-Jan-15	0.1	510.00	51.00			Category 2 -
Glenn O'Keamey	Senior Director	19-Jan-15	0.3	560.00	168.00	Trade-on	Discussions with BJR regarding fund allocations/payments/processes/info requests.	Approved/Unpaid
Kelly-Anne Trenfield	Sr Managing Dir	19-Jan-15	0.3	600.00	180.00	Administration	Call in from john kennedy re dealing with hardcopy books and recordsemails in re simon tickner and insurance; emails re fund updates re registry servicesreview BJR email re books and records access	Category 2 - Approved/Unpaid
Reny-Mine Treament	on wanaging Dir	13-081-10	0.0	000.00	100.00		Working through backlog of emails on LM matters - backlogged whilst focused on Elrose & Hall	Category 2 -
John Corbett	Managing Dir	19-Jan-15	1.5	570.00	855.00	Administration	through December and early January. Identifying issues to follow up and progress.	Approved/Unpaid
Renee Lobb	Senior Director	19-Jan-15	0.2	510.00	102.00	Investigations	Review insurance email from Mark regarding director claims to insurance records.	Corporate - Liquidation
Renee Lobb	Senior Director	19-Jan-15	0.2	510.00	102.00	Investigations	Review email from Simon and suggested response from Clayton Utz. Send response to simon.	Corporate - Liquidation
Renee Lobb	Seniar Director	19-Jan- 1 5	0.2	510.00	102.00	Investigations	Review response from simón ticker regarding insurance information. Send to Clayton Utz for review.	Corporate - Liquidation
Ann Clark	Administration II	19-Jan-15	0.3	175.00	52.50	Administration	Payment slips - reconcile accountLiaison with bank on term deposit	Corporate - Liquidation
Brittany Newman	Administration 1	19-Jan-15	0.2	135.00	27.00	Administration	Reconcile account as at 31/12/2014 + prepare BAS (1 Oct - 31 Dec 2014)	Corporate - Liquidation
Renee Lobb	Senior Director	20-Jan-15	0.3	510.00	153.00	Administration	Call back Sharon at Armstrong. Discuss circulars to be sent for AIF, CPF, ASPF and scope of their role. Obtain direct email contact for Sharon for circular distribution. Review of all funds with Ryan Zorgdrager to ascertain actions and required information to wirld up	Category 2 - Approved/Unpaid Category 2 -
		00 1 45	4 6	570.00	955 00	Administration	funds.	Approved/Unpaid
John Corbett Benjamin Robson	Managing Dir Consultant I	20-Jan-15 20-Jan-15	1.5	270.00		Administration	Teleconference with RFZ to go through fund payment procedures and general strategic overview of LM Fund future	Category 2 - Approved/Unpaid
							LM Investor gneral enquiries. Suncorp fund payments requests	Category 2 - Approved/Unpaid
Benjamin Robson	Consultant I	20-Jan-15	1	270.00	270.00	Trade-on		Category 2 -
Benjamin Robson	Consultant 1	20-Jan-15	0.7	270.00	189.00	Trade-on	FTI fee narration updates Review summary instructions suggested by Clayton OL2 and letters to insurers regarding First	Approved/Unpaid
Renee Lobb	Senior Director	20-Jan-15	0.3	510.00	153.00	Investigations	Mortgage income Fund claim and possible indemnitles available form First Mortgage Income Fund and Managed Performance Fund assets.	Corporate - Liquidation
	Senior Managing Director	20-Jan-15	0.4	600.00	240.00	Assets	Review advice form Clayton utz; review draft letter from Cu to KM and notification to insurers	Corporate - Liquidation
	Senior Managing Director	20-Jan-15	0.1	600.00	60.00	Administration	Review and update to do list; query outstanding items; Review incoming documentation, consider and send to filing	Corporate - Liquidation
	Administration 1	20-Jan-15	0.2	135.00	27.00	Administration	Continue to prepare BAS (1 Oct - 31 Dec 2014)	Corporate - Liquidation
	Administration 1	20-Jan-15	0.2	135.00	27.00	Administration	Filing	Corporate - Liquidation
		04 100 45	0.2	510.00	102.00	Administration	General updates to I_M Investment Management Ltd website to remove references to emails no longer monitored.	Category 2 - Approved/Unpaid
Renee Lobb	Senior Director	21-Jan-15	0.2	510.00	102.00			Category 2 -
Renee Lobb	Senior Director	21-Jan-15	0.1	510.00	51.00	Administration	Review email with asset mortgage discharge request, fwd to John Corbett to confirm if FMIF asset. Review and update to do listreview correspondance from Clouts re books and records; forward	Approved/Unpaid Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	21-Jan-15	0.4	600.00	240.00	Administration	emails to Russelis; review draft undertakings and forward to Russelis	Approved/Unpaid
	Sr Managing Dir	21-Jan-15	0.4	600.00	240.00	Administration	To do list form russells listingprepare file notes re legal actionsemails in; RF2 re renewal of AFSL licenceemail in from ptal re request re release of mortgage	Category 2 - Approved/Unpaid
-	Sr Managing Dir	21-Jan-15	0.1	600.00	60.00	Administration	Emails in re LM website and legal invoices	Category 2 - Approved/Unpaid Category 2 -
John Corbett	Managing Dir	21-Jan-15	1	570.00	570.00	Administration	Working through a backlog of queries and requests from various fund investors.	Approved/Unpaid

B 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5	nagement Ltd (In Liquid 9 June 2018	lation)			3,204,515.29			
Remuneration to 3 Name	Title	Date	Hours	Charge Out Rate	5,204,515.29 Charge	Task Desc	Narrative	Classification
Renee Lobb	Senior Director	21-Jan-15	0.1	510.00	51.00	Investigations	Review Kelly-Anne Trenfield response on insurance matters.	Corporate - Liquidation
Renee Lobb	Senior Director	21-Jan-15	0.3	510.00	153.00	Investigations	Review extensive email from Mark waller regarding right or simon tickner to request policy documents etc. respond to email to Simon in proposed manner.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	21-Jan-15	0.3	560.00	168.00	Administration	Review Bas and worksheets DEC qtr. discuss queries with BN. review all réconciliations and sign off.	
Stuart Clancy	Manager 1	21-Jan-15	0.2	360.00	72.00	Administration	Reviewing BAS prepared by BN, Discussion with GOK regarding BAS.	Corporate - Liquidation
Brittany Newman	Administration 1	21-Jan-15	0.1	135.00	13.50	Administration	Prepare payment voucher in MYOB - GST owing on BAS (1 Oct - 31 Dec 2014)	Corporate - Liquidation
Keliy-Anne Trenfield	Senior Managing Director	21-Jan-15	0.4	600.00	240.00	Administration	Call with mark waller and chris erfurt;email in; email to clayton utz re instruction on letter and info from russellsemail in from mark waller re issues of letters and instructions on proceedings; draft response Review email from John Corbett regarding asset to be identified. Respond to email from perpetual	Corporate - Liquidation Category 2 -
Renee Lobb	Senior Director	22-Jan-15	0.2	510.00	102.00	Trade-on	regarding same and copy in Ben Robson to make enquiries with Steve Hannan.	Approved/Unpaid
Renee Lobb	Senior Director	22-Jan-15	0.1	510.00	51.00	Trade-on	Respond to email queries on assets from BR. Emain in inom AJT, provide ciral undertakings; emair in re changes; emair out re request for minimat	Category 2 - Approved/Unpaid
Keliy-Anne Trenfield	Sr Managing Dir	22-Jan-15	0.4	600.00	240.00	Administration	changescall in from david clout re undertaking; call to sean russell re timing of responseReview Incoming documentation, consider and send to filing	Category 2 - Approved/Unpaid Category 2 -
Benjamin Robson	Consultant i	22-Jan-15	0.2	270.00	54.00	Administration	Email to RFZ raising concerns with import of member registers into MYOB	Approved/Unpaid Category 2 -
Benjamin Robson	Consultant I	22-Jan-15	0.3	270.00	81.00	Creditors	Draft letter to PWC Singapore in response to audit request letter Dealing with emails and queries regarding the wrap up of funds, renewal of AFSL, processing of	Approved/Unpaid Category 2 -
John Corbett	Managing Dir	22-Jan-15	2.5	570.00	1,425.00	Administration	Desing with emails and queries regarding the wrap of or billion, renewal of Ar or, processing of transfers. Review email from Simon Trokner regarding access to insurance policy information and alleged	Approved/Unpaid
Renee Lobb	Seniar Director	22-Jan-15	0.3	510.00	153.00	Investigations	grounds for granting access. Send to Mark and Chris at Clayton Utz for review and advice.	Corporate - Liquidation
Renee Lobb	Senior Director	22-Jan-15	0.1	510.00	51.00	Administration	Return call from Chris at Clayton Utz. Leave message.	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	22-Jan-15	0.1	600.00	60.00	Administration	Rcl re insurance update	Corporate - Liquidation
Benjamin Robson	Associate II	22-Jan-15	0.2	270.00	54.00	Creditors	LMIM Corp - Russells invoice B20404	Corporate - Liquidation Category 2 -
Renee Lobb	Senior Director	23-Jan-15	0.2	510.00	102.00	Trade-on	Respond to query with update on each fund as fund not identified when requesting information on distributions.	Approved/Unpaid Category 2 -
Renee Lobb	Senior Director	23-Jan-15	0.2	510.00	102.00	Administration	Emails regarding mail issue and send email to ben advising to complete mail redirection. Email correspondence on job description of Steve Hannan as to whether he facilitates transfers or	Approved/Unpaid Category 2 -
Renee Lobb	Senior Director	23-Jan-15	0.2	510.00	102.00	Administration	not.	Approved/Unpaid Category 2 -
Renee Labb	Senior Director	23-Jan-15	0.1	510.00	51.00	Administration	Review email update from Ben Robson of failures of mail direction procedure.	Approved/Unpaid Category 2 -
Renee Lobb	Senior Director	23-Jan-15	0.1	510.00	51.00	Administration	Return email from Armstrong.	Approved/Unpaid Category 2 -
Glenn O'Keamey	Senior Director	23-Jan-15	0.2	560.00	112.00	Administration	Discuss cat 2 Fund invoice BJR Call in from Ashley Tiplady re review of orders/undertaking.email in from david whyte re orders and	Approved/Unpaid Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	23-Jan-15	0.3	600.00	180.00	Administration	undertaking re B&R application; draft response re LMIM consent	Approved/Unpaid Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	23-Jan-15	0.4	600.00	240.00	Administration	send to filingre funds issues	Approved/Unpaid Category 2 -
Keily-Anne Trenfield	Sr Managing Dir	23-Jan-15	0.3	600.00	180.00	Administration	Review deadline for aflet; email to ryan re timingwrite up file notes Field Investor quenes; Correspondence with Steve Hannan regarding various information requests,	Approved/Uripaid Category 2 -
Benjamin Robson	Consultant I	23-Jan-15	2	270.00	540.00	Trade-on	Mail reduction etc. Dealing with emails and quenes regarding the wrap up of funds, fenewal of AFSL, processing of	Approved/Unpaid Category 2 -
John Corbett	Managing Dir	23-Jan-15	1.5	570.00	855.00	Administration		Approved/Unpaid Category 2 -
John Park	Sr Managing Dir	23-Jan-15	0.3	600.00	180.00	Administration	Emails in Russells / David Clout Can with Chns at Clayton Utz regarding update on insurance matters and factic for director requests	Approved/Unpaid
Renee Lobb	Senior Director	23-Jan-15	0.3	510.00	153.00	Investigations	for insurance information.	Corporate - Liquidation

LM investment Ma Remuneration to	anagement Ltd (In Liqui 30 June 2018	dation)	-) - ₂₀ 3		3,204,515.29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Brittany Newman	Administration 1	23-Jan-15	0.1	135.00	13.50	Administration	Format & Final 89741135	Corporate - Liquidation
Renee Lobb	Senior Director	27-Jan-15	0.1	510.00	51.00	Administration	Send requested LMIM details to registry as requested.	Category 2 - Approved/Unpaid
Renee Labb	Senior Director	27-Jan-15	0.1	510.00	51.00	Administration	Review and respond to email from Kelly-Anne Trentield regarding registry and Armstrong role if any for ICPAIF and CPAIF,	Category 2 - Approved/Unpaid Category 2 -
Christine Stead	Senior Director	27-Jan-15	0.1	560.00	56.00	Administration	email out to Patrick re hosting of database and request to catch up via teleconference	Approved/Unpaid Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	27-Jan-15	0.1	600.00	60.00	Administration	Review incoming documentation, consider and send to filing	Approved/Unpaid
							and progression of receivershipreview and sign letter to PWC re audit query on client re fund holdingsemalis inemails re processing of transfersemalis in re books and records application; call to john kennedy re redaction of recordscall in from sean russeli re books and records applicationdiscussion with Ashley Tiplady and John Peden re progression of matter and relisting of 29	
Kelly-Anne Trenfield	Sr Managing Dir	27-Jan-15	1.3		780.00	Administration	Janemails in re consent orders re B&R application; forward emails to Russells	Approved/Unpaid
Brittany Newman	Administration 1	27-Jan-15	0.4	135.00	54.00	Administration	Filing Locating tee information spreadsneet. Amending table to be sent through to Russells. Forwarded	Corporate - Liquidation
Stuart Clancy	Manager 1	27-Jan-15	0.2	360.00	72.00	Administration	information to BJR.	Corporate - Liquidation
Stuart Clancy	Manager 1	27-Jan-15	0.1	360.00	36.00	Administration	Update task list.	Corporate - Liquidation
Renee Lobb	Senior Director	28-Jan-15	0.1	510.00	51.00	Investigations	Follow up Ctayton Utz regarding response to Simon Tickner's insurance information request.	Category 2 - Approved/Unpaid Category 2 -
Benjamin Robson	Consultant I	28-Jan-15	0.5	270.00	135.00	Creditors	update consultants fee register Sean russen te response, cma re reciniciogy review or records/ricosingemails in re status of consent	Approved/Unpaid
							ordersRCI re update to funds; queries from investorsemails in re books and records proceedings and	Category 2 - Approved/Unpaid
Kelly-Anne Trenfield	Sr Managing Dir	28-Jan-15	0.5	600.00		Administration	changes to orders	Corporate - Liquidation
Renee Lobb	Senior Director	28-Jan-15	0.2	510.00	102.00	Investigations	Review response for Simon from Clayton Utz. Thank for same and send to Simon.	
Renee Lobb	Senior Director	28-Jan-15	0.3	510.00	153.00	Investigations	Call with simón Tickner on insurance matters.	Corporate - Liquidation
Brittany Newman	Administration 1	28-Jan-15	0.1	135.00	13.50	Administration	Mail out to PricewatehouseCoopers LLP - 89741135	Corporate - Liquidation
Brittany Newman	Administration 1	28-Jan-15	1.5	135.00	202.50	Administration	Split files + Filing (from SAM's office)	Corporate - Liquidation Category 2 -
Renee Lobb	Senior Director	29-Jan-15	0.1	510.00	51.00	Administration	Email domain providers regarding renewal. Discussions with Joanne Dunn and emails with Joanne Dunn and KAT and Caroline Halcoop	Approved/Unpaid Category 2
Renee Lobb	Senior Director	29-Jan-15	0.2	510.00	102.00	Administration	regarding domain name renewal and contacts and references for same.	Approved/Unpaid Category 2 -
Benjamin Robson	Consultant I	29-Jan-15	0.5	270.00	135.00	Trade-on	Review mail received from Steve HAnnon for all funds -backlog forwarded from LM Mail in from Steve Hannan, LM Investment (Express Post SV5989922) - Various mail for LM received	Approved/Unpaid
Brittany Newman	Admin 1	29-Jan-15	0.1	135.00	13.50	Administration	at PO Box 932, PO Box 485 & Level 4/9 Beach Road, Surfers Paradise	Approved/Unpaid Category 2 -
Britlany Newman	Admin I	29-Jan-15	0.4	135.00	54.00	Administration	Create Mail Inwards spreadsheet and list various mail received in from Steve Hannan, LM Call to Aut re emails on B&R access; call to philip pan re issues with access; follow-on call to Aut re	Approved/Unpaid Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	29-Jan-15	0.4	600.00	240.00	Administration	can be all regimans on part access, can be print part to assess with access, but work on our other to conversation with PP; update to JRP Emails in re b&r applicationsupdate to Jrp re B&K applicatoinAJ1 update re court proceedingsKCI re	Approved/Unpaid Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	29-Jan-15	0.8	600.00	480.00	Administration	transfer of investor holdingsRCL/BJR re transfer of investor interests	Approved/Unpaid Category 2 -
Celly-Anne Trenfield	Sr Managing Dir	29-Jan-15	0.1	600.00	60.00	Administration	Rc) re renewal of domain; review melbourne it	Approved/Unpaid Category 2 -
John Park	Sr Managing Dir	29-Jan-15	1.2	600.00	720.00	Administration	Numerous emails dealing with consent orders for books and records. Discussions with Ashley Tiplady	Approved/Unpaid
Renee Lobb	Senior Director	29~Jan-15	0.2	510.00	102.00	Investigations		Corporate - Liquidation
Brittany Newman	Administration 1	29-Jan-15	0.5	135.00	67 .50	Administration		Corporate - Liquidation Category 2 -
Renee Lobb	Senior Director	30-Jan-15	0.1	510.00	51.00	Administration		Category 2 - Approved/Unpaid

 $(\$

Remuneration to 3					3,204,515.29			Classification
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Ciassification
							to David Whyte's email re queries leveled at MfGrath+ Nicols involvement in books and records	Category 2 -
K-lls A-se Tree Fald	R-Manada Dia	30-Jan-15	1.3	600.00	790.00	Administration	application	Approved/Unpaid
Kelly-Anne Trenfield	Sr Managing Dir			135.00	54.00		Filing - Section 17 (from SAM's Office)	Corporate - Liquidation
Brittany Newman	Administration 1	30-Jan-15	0.4				Filing - Section 5 (from SAM's Office)	Corporate - Liquidation
Brittany Newman	Administration 1	30-Jan-15	0.5	135.00	67.50			Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	30-Jan-15	0.1	600.00	60.00	Administration	Review incoming documentation, consider and send to filing	Category 2 -
John Park	Sr Managing Dir	01-Feb-15	0.2	600.00	120.00	Administration	Correspondence in Russells	Approved/Unpaid
Julii Faik		01-4 60-10	0.2		120.00		Respond to non descript email request about transfers, advise CPAIF and ICPAIF on hold and	Category 2 -
Renee Lobb	Senior Director	02-Feb-15	0.1	510.00	51.00	Trade-on	Armstrong regarding AIF ASPF and CPF.	Approved/Unpaid
		1					Review email and attached letter regarding records access. Contirm use of Steve Hannan with KA1	Category 2 - Approved/Unpaid
Renee Lobb	Senior Director	02-Feb-15	0.2	510.00	102.00	Investigations	and save to file.	Approved/ Unpaid
							Email to team re access to records; email from john kennedy re new regime; instructions to BJR re	
						1	payment and recovery; email to john kennedy re access to books and records receipt of final orders;	Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	02-Feb-15	0.5	600.00	300.00	Administration	forward email from Clouts to Russells; distribute orders; clarify access regime with RCL	Approved/Unpaid
							Review and email to KAT approving letter for FTI letternead on austcorp proceedings and FTI's position on same. Email to Chris regarding call back.	Corporate - Liquidation
Renee Lobb	Senior Director	02-Feb-15	0.3	510.00	153.00	Administration	Review letter from pixes verekes regarding austcorp proceedings, save to tile and print and sand to	
Renee Lobb	Senior Director	02-Feb-15	0.2	510.00	102.00	Investigations	file.	Corporate - Liquidation
		02-Feb-15	0.2	135.00		Administration	Split files + filing (from SAM's Office)	Corporate - Liquidation
Brittany Newman	Administration 1	02-F60-15	U.7	133.00		Administration		Category 2 -
Renee Lobb	Senior Director	03-Feb-15	0.2	510.00	102.00	Administration	Review final orders regarding records.	Approved/Unpaid
	001101 010000							Category 2 -
Renee Lobb	Senior Director	03-Feb-15	0.1	510.00	51.00	Administration	Respond to Armstrong. Advise permitting transfers to related parties only.	Approved/Unpaid Category 2 -
							Answer BR's queries and provide blurb on fund value and unit price.	Approved/Unpaid
Renee Lobb	Senior Director	03-Feb-15	0.2	510.00	102.00	Administration	Review email regarding approval for domain, seek approval from Kelly-Anne Trentield and instruct Br	Category 2 -
0!+bb	Senior Director	03-Feb-15	0.1	510.00	51.00	Administration	to pay.	Approved/Unpaid
Renee Lobb		004 00-10	0.1		01100		Prepare payment voucher in MYOB - Domain name renewal for	Category 2 -
Brittany Newman	Admin I	03-Feb-15	0.1	135.00	13.50	Administration	www.iminvestmentadministration.com + upload supporting documents	Approved/Unpaid Category 2 -
		1					Review final orders from court hearing in regards to LM Books and Records. Prepare payment of LMIM as RE share of OOP for receiver of B&R	Approved/Unpaid
Benjamin Robson	Consultant I	03-Feb-15	0.6	270.00	162.00	Trade-on	Phone call to Metbourne IT and Domain Registration Services, arrange renewal of	Category 2 -
	Commuther to	03-Feb-15	0.5	270.00	135.00	Trade-on	Iminvestmentariministantion domain name	Approved/Unpaid
Benjamin Robson	Consultant I	03-FED-10	0.5	210,00	100,00	1100 011		
							MYOB Insol, various email Correspondence with RCL, KAT and RFZ. Further Correspondence regarding the process for member transfer requests, including ID confirmation and tasks to be	Category 2 -
					070.00		regarding the process for memoer transfer requests, including to committation and tasks to be	Approved/Unpaid
Benjamin Robson	Consultant I	03-Feb-15	1	270.00	270.00	Trade-on		Category 2 -
(. W. A T	Sr Managing Dir	03-Feb-15	0.1	600.00	60.00	Administration	review checklist re transfer of investor accounts	Approved/Unpaid
Kelly-Anne Trenfield	Sr Managing Die	03-1-80-10	- 0.1	000.00			Review undernalungs/doiout correspondence regarding tunos/records altrangement/order regarding	Caladam O
							records, sign off on payment clout expenses, discuss fund payables register with BJR, discuss status	Category 2 - Approved/Unpaid
Glenn O'Kearney	Senior Director	03-Feb-15	0.6	560.00	336.00	Trade-on	of fund invoices BJR. Review advise regarding insurance notification as a result or KM being granted leave to proceed for	Аррголеал опрата
			0.3	510.00	153.00	Investigations	Alf monies. Respond to Kelly-Anne Trenfield regarding instructions and update for website.	Corporate - Liquidation
Renee Lobb	Senior Director	03-Feb-15	0.3	510.00	100.00	Investigations	Review email from David Whyte.Forward to Clayton Utz to contirm if okay to disclose policy existence	
Renee Lobb	Senior Director	03-Feb-15	0.1	510.00	51.00	Investigations	in affidavit material for leave to proceed.	Corporate - Liquidation
							Email to lan bisson to seek confirmation of russells future costs for First Montgage Income Fund feave	Written Off/Not claimed
Renee Labb	Senior Director	03-Feb-15	0.2	510.00	102.00	Investigations	to proceed action. Review tetter regarding consent for application for leave to proceed to be neard next week and	
	Onelan Diseater	02 Eak de	0.3	510.00	153.00	Investigations	Clayton Utz proposed response.	Corporate - Liquidation
Renee Lobb	Seniar Director	03-Feb-15				Administration	EFT requisition and MYOB processing	Corporate - Liquidation
nn Clark	Administration II	03-Feb-15	0.2	175.00			Enter missing transactions for January 2015, reconcile accounts as at 31/01/2015	Corporate - Liquidation
rittany Newman	Administration 1	03-Feb-15	0.2	135.00		Administration		Corporate - Liquidation
rittany Newman	Administration 1	03-Feb-15	0.3	135.00	40.50	Administration	Filing - Sections 10, 15, 19, 20 & 21	Lighter Eliquidation

Supprint Reham Consultant Orieston	Remuneration to 3	anagement Ltd (In Liqui 30 June 2018				3,204,515.29				
data data <th< th=""><th>Nāme</th><th>Title</th><th>Date</th><th>Hours</th><th>Charge Out Rate</th><th>Charge</th><th>Task Desc</th><th></th><th></th></th<>	Nāme	Title	Date	Hours	Charge Out Rate	Charge	Task Desc			
opp-Anne Transition Service Managery Disord 0.7 0.600000 <t< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td>1</td></t<>									1	
Singuine Richard Ownskill 0.444-0-5 0.5 270.00 0.8100 Consequence substrate Consequence substrate Seguence (Lapsilla) cold Aren Transfeld 81 Maraging Dir 0.644-0-5 0.5 0.6000 Administration Cold approx Approxed (Lapsilla) Cold approxed (Lapsilla	Kelly-Anne Trenfield	Senior Managing Director	03-Feb-15	0.4	600.00	240.00	Assets		Corporate - Liquidatio	
Grip-Area Trenelled Gri-Gendre Gri-Gendre Gri-Gendre Grip-Area Trenelled Approved (trenell of trenelle	Benjamin Robson	Consultant I	04-Feb-15	0.3	270.00	81.00	Trade-on	Correspondence with Steve Hannan regarding Investor enquiries, primarily ID for transfer requests	Approved/Unpaid	
Same Orsewitz Senior Diversity Of-Failed Solution Solution Solution Approxed Linear Lin	Keily-Anne Trenfield	Sr Managing Dir	04-Feb-15	0.1	600.00	60.00	Administration	Emails in re extension of gaffs; changes to investor registry, archiving records	Approved/Unpaid	
Galance Managering Unereal Out-Paralise Composition Compositin Compositin Composit	Glenn O'Keamey	Senior Director	04-Feb-15	0.1	560.00	56.00	Trade-on	Review approve payment treading costs.	+ -	
Very Clask Advantisation 0 4-Frà-its 0.1 17.00 17.00 Profest National Standard Profest National Nateterio Nateteresting National National Nateterional National Nati	John Park	Senior Managing Director	04-Feb-15	0.2	600.00	120.00	Administration	Correspondence in Clayton Utz	Corporate - Liquidatio	
Sample Halteroop Anthresterion Operate - Laplaced Composition Composit		· · · · · · · · · · · · · · · · · · ·	04-Feb-15	0.1	175.00	17.50	Administration	Payment slips	Corporate - Liquidatio	
Name Memogen 1 0.4-8-bit 1 0.2 390.00 72.00 Cradier Reviewed anal from creditors assaing update. Provided update accordray/s. Compose - Lipulate Casagory Jergiarmi Robinon Constituit 1 0.6-8-bit 5 0.3 270.00 81.00 Administration Performanting and the second and the second and the procedures Approximation of the second and the procedures Approximation of the second and the processing Composed - Lipulate Casagory International Administration 0.6-8-bit 5 0.0 91.00 Manistration Performation fields in administration Composed - Lipulate Casagory <				0.1	175.00	17.50	Administration	Process NAB Transfer online	Corporate - Liquidatio	
Instant Constitunt 0.5 Feb-15 0.3 270.00 81.00 Administration Update transfer request: the dubit with now proceedures Approximate transfer requesting leave to proceed. Approximate transfer requesting leave to proceed. Approximate transfer requesting leave to proceed. Comparise - Lapidate transe Lobb Senior Director 06-Feb-15 0.2 510.00 102.00 Availabilitation Hereining programme and MYOB processing Comparise - Lapidate Comparise - Lapidate transe Lobb Senior Director 06-Feb-15 0.2 510.00 102.00 Availabilitation Hereining programme and mYOB processing Comparise - Lapidate transe Lobb Senior Director 06-Feb-15 0.4 610.00 204.00 Investigation Review proposed softwart Transfer and provide senior MYOB, transferrad to house in world doc senior MYOB, tr			-			72.00	Credilors	Reviewed email from creditors seeking update. Provided update accordingly.	Corporate - Liquidation	
Instruction Administration III 0.6 Feb-15 0.2 175 (D) 35 (D) Administration PET requisition and MYOB processing Comprete Lupidation Grant Lobb Seried Director 0.6 Feb-15 0.2 610.00 160.00 Provider Processing amon 105/47 registrome You MY Myrds. Seried Director Organital - Lupidations Mark MYGB processing Seried Director 0.6 Feb-15 0.2 610.00 102.00 Newsing amon 105/47 registrome You Seried Processing Comprete - Lupidation Rene Lobb Seried Director 0.6 Feb-15 0.2 610.00 102.00 Investigations Advising my proference is option 2.04 series/processing mon 105/47 registrome You Series/Processing Comprete - Lupidation Rene Lobb Seried Director 0.6 Feb-15 0.4 610.00 200.00 Investigations Renew Interfaces and the Interface Comprete - Lupidation Screental Director 2.0 comprete - Lupidation Comp			1					Update transfer request checklist with new procedures		
Banks Senior Director 05-Feb-15 0.1 0.100 metallipations Mathemations to Mark Waller to send lefter to Gasenare regarding loave to proceed. Corporate - Liquidate Reme Lobb Senior Director 05-Feb-15 0.2 \$10.00 100.00 Newsity genome to micro sequence to micro micro sequence to micro micro sequence to micro se					175.00	35.00	Administration	EFT requisition and MYOB processing	Corporate - Liquidation	
Name Senior Director 0.5 Feb-15 0.2 510.00 109200 Assets Proview reports dragmant memory reports and seniors and memory reports and memor								Instructions to Mark Waller to send letter to Gadens regarding leave to proceed.	Corporate - Liquidation	
Cardin Coold Control Coold Control Coold Composition of the sector Corporate - Liquidati Corporate - Liquidati Corporate - Liquidati Name Lobb Senior Director 065-Feb-15 0.4 510.00 1/vestigations Review interfocutory application by David Whyte for leave to proceed against LMIM. Corporate - Liquidati Administration 065-Feb-15 0.4 175.00 70.00 Administration Review interfocutory application by David Whyte for leave to proceed against LMIM. Corporate - Liquidati Administration 065-Feb-15 0.4 175.00 70.00 Administration Review interfocutory application by David Whyte for leave to proceed against LMIM. Corporate - Liquidati elly-Anne Treenfield Senior Managing Director 06-Feb-15 0.5 600.00 360.00 Administration Interformate or proceed Corporate - Liquidati Corporate - Liquidati elly-Anne Treenfield Senior Managing Director 06-Feb-15 0.2 600.00 120.00 Administration Review to proceed Interformate or proceed Corporate - Liquidati entranted RE Senior Director 06-Feb-15 0.2								Review proposed response from Clayton Utz to David Whyte. Send to John Park to respond.	Corporate - Liquidation	
Bance Lobb Senior Director 06-Feb-15 0.2 510.00 100000 Investigation Raves manual control Corporate - Liquidati Ramee Lobb Senior Director 06-Feb-15 0.4 175.00 70.00 Administration Corporate - Liquidati Corporate - Liquidati Raves Name Administration 06-Feb-15 0.4 175.00 70.00 Administration Corporate - Liquidati elaby-Anne Tranfield Senior Managing Director 05-Feb-15 0.5 600.00 300.00 Associa Corporate - Liquidati Corporate - Liquidati rititary Newman Administration 06-Feb-15 0.5 600.00 400.00 Administration Draft Form S24 for pariod 10/8/2014 to 31/01/2015 Corporate - Liquidati elaby-Anne Tranfield Sr Managing Dir 06-Feb-15 0.2 600.00 400.00 Administration Draft Form S24 for pariod 10/8/2014 to 31/01/2015 Corporate - Liquidati rease Lobb Senior Director 06-Feb-15 0.2 510.00 142.00 Administration Review Clargon zor and Sam Smon Turker and smos smon manos smon manou contiling									0 (), (4), (6)	
Senior Director UB-Ref 10 UA Structure Comparison Comparison </td <td>Renee Lobb</td> <td>Senior Director</td> <td>05-Feb-15</td> <td>0.2</td> <td>510.00</td> <td>102.00</td> <td>Investigations</td> <td></td> <td><u> </u></td>	Renee Lobb	Senior Director	05-Feb-15	0.2	510.00	102.00	Investigations		<u> </u>	
karushka Fyrm Administration 0.6 0.4 175.00 70.00 Administration listod boxes in WYOB; trainsferred both boxes into Graze boxes & arranged to be sent to storage Corporate - Liguidation Administration 0.65 Feb-15 0.5 0.50 0.000 3600.00 3600.00 Assets for large to proceed we draft response to simon lickneromal in from Claylon utz re approach we application Corporate - Liguidation ally-Anne Trenfield Semin Managing Dire 0.65 Feb-15 0.0 0.00 Assets for large to proceed Corporate - Liguidation Corporate - Liguidation ally-Anne Trenfield Sr Managing Dir 0.65 Feb-15 0.0 0.0 0.00.0 Administration Draft Form 524 for peniod 1/08/2014 to 31/01/2015 Corporate - Liguidation ally-Anne Trenfield Sr Managing Dire 0.66 Feb-15 0.1 0.00 0.00.0 Administration Proceed/ministration fabring administration fabring admini	Renee Lobb	Senior Director	05-Feb-15	0.4	510.00	204.00	Investigations	Review interlocutory application by David Whyte for leave to proceed against LMIM.	Corporate - Liquidation	
elly-Anne TrenfieldSenior Managing Director05-Fab-150.5600.00300.00Assolaupdate jproview draft response to simon tickneromal in from Clayton utz re approach re applicatorCorporate - LiquidatiInterny NewmanAdministration 105-Fab-150.3135.0040.050AdministrationDraft Form 524 for parted 1/08/2014 to 31/01/2015Corporate - LiquidatiGely-Anne TrenfieldSr Managing Dir06-Fab-150.2600.00120.00AdministrationReview asic extension letterReview and approve payment or outstanding administration habitities much of tappore/updateCategory 2-adiy-Anne TrenfieldSr Managing Dir06-Fab-150.1600.0060.00AdministrationReview and approve payment or outstanding administration habitities much of tappore/updateCategory 2-adiy-Anne TrenfieldSr Managing Dir06-Fab-150.2510.00102.00InvestigationsReview and approve payment or outstanding administration habitities much of tappore/updateCategory 2-adiy-Anne TrenfieldSenior Director06-Fab-150.2510.00102.00InvestigationsReview response from Simon Tickner on insurance policy datals. send seme to SimonCorporate - Liquidaticanee LobbSenior Director06-Fab-150.1510.00102.00InvestigationsReview response from Simon Tickner on insurance policy datals. send seme to SimonCorporate - Liquidaticanee LobbSenior Director06-Fab-150.1510.00102.00InvestigationsReview Clayou Uz response to Simon Tickner on insur	Marushka Flynn	Administration	05-Feb-15	0.4	175.00	70.00	Administration	listed boxes in MYOB; transferred both boxes into Grace boxes & arranged to be sent to storage	Corporate - Liquidation	
align-Ministration Section Section Administration Oracle Logical Corporate - Lignidation Internet Neurona Administration 1 06-Feb-15 0.2 6000.0 128.00 Administration Draft Form 524 for period 1/08/2014 to 31/01/2015 Corporate - Lignidation Internet Neurona Administration 06-Feb-15 0.2 6000.0 120.00 Administration Review asic extension letter Approved/Unpaid Catagory 2. Administration 06-Feb-15 0.1 6000.0 60.00 Administration Review asic extension letter Approved/Unpaid Catagory 2. Approved/Unpaid C				0.5	00.003	200.000	Accots	update inpreview draft response to simon tickneremail in from Clayton utz re approach re application	Corporate - Liquidation	
Mathy Maxima Administration 1 Out-Period 0.0 House Additional framework Category 2	-								Corporate - Liquidation	
elly-Anne Trenfield Sr Managing Dir UB-Feb-15 0.2 etotolo 1.2000 Administration Review and approve payment of outstanding administration liabilities including review of supporting Calegory 2:- Approved/Unpaid adly-Anne Trenfield Sr Managing Dir 06-Feb-15 0.1 600.00 60.00 Administration documentation and signing of transfer or cheque documentation and signing of transfer or cheque Approved/Unpaid tenes Lobb Senior Director 06-Feb-15 0.2 510.00 102.00 Investigations accordance with instructions and conditions for agreement before releasing information. Corporate - Liquidatic tenes Lobb Senior Director 06-Feb-15 0.2 510.00 102.00 Investigations Review response from Simon Tickner and fwd to Clayton Utz to respond with insurance information. Corporate - Liquidatic tenes Lobb Senior Director 06-Feb-15 0.1 510.00 102.00 Investigations Review response from Simon Tickner and fwd to Clayton Utz to respond with insurance information. Corporate - Liquidatic tenes Lobb Senior Director 06-Feb-15 0.1 510.00 Administration Confirm with Clayton	Brittany Newman	Administration 1	00-FeD-15	0.3	133.00	40.00	Administration		Category 2 -	
Anne Tranfield Sr Managing Dir 06-Feb-15 0.1 600.00 Administration documentation communities and approve payment of outstanding doministration and signing of transfer or cheque Approved/Unpaid tenee Lobb Senior Director 06-Feb-15 0.2 510.00 102.00 Investigations accordance with instructions and conditions for agreement before releasing information. Corporate - Liquidation convention and signing for transfer or cheque Approved/Unpaid tenee Lobb Senior Director 06-Feb-15 0.2 510.00 102.00 Investigations Review response from Simon Tickner and fixed to Clayton Utz to respond with insurance information. Corporate - Liquidation corporate - Liquidation corporate - Liquidation accordance with instructions and conditions for agreement before releasing information. Corporate - Liquidation corporate - Liquidation corporate - Liquidation corporate - Liquidation accordance with instructions and opting of document. Corporate - Liquidation corporate - Liquidation corporate - Liquidation corporate - Liquidation and interaction tenee Lobb Senior Director 06-Feb-15 0.1 50.00 175.00 Administration Confirmation into missing funds from transfer of R&P Corporate - Liquidation corporate - Liquidation corporate - Liquidation corporate - Liquidation corporate - Liquidation and in from ASIC - Correspondence; Pay Invoice and check company statement enalone Maio Mainistration<	Kelly-Anne Trenfield	Sr Managing Dir	06-Feb-15	0.2	600.00	120.00	Administration			
Anne Trenfield Sr Managing Dir 06-Feb-15 0.1 00000 00000 Addition Converting and the consultant Conve			1							
tenese LobbSenior Director 06 -Fab-15 0.2 510.00 102.00 Investigationsaccordance with instructions and conditions for agreement before releasing information.Corporate - Liquidational conditional conditi	Kelly-Anne Trenfield	Sr Managing Dir	06-Feb-15	0.1	600.00	60.00	Administration	Review email from Clavion Utz and KAT's agreement to my strategy. Send emails to Simon in	Арргонску опрыв	
Carlies Lobb Senior Director 06-Feb-15 0.2 510.00 102.00 Investigations Review response from Simon Tickner and fwd to Clayton Utz to respond with insurance information. Corporate - Liquidatic tenee Lobb Senior Director 06-Feb-15 0.2 510.00 102.00 Investigations Review response from Simon Tickner and fwd to Clayton Utz to respond with insurance information. Corporate - Liquidatic tenee Lobb Senior Director 06-Feb-15 0.1 510.00 510.00 Administration Confirm with Clayton Utz response to Simon Tickner and fwd to Clayton Utz to respond with insurance information. Corporate - Liquidatic enjamin Robson Associate II 06-Feb-15 0.1 270.00 270.00 Administration Process CBA Transfer online Corporate - Liquidatic Corporate - Liquidatic aroline Halccoop Administration 2 06-Feb-15 0.1 175.00 17.50 Administration Process CBA Transfer online Corporate - Liquidatic Category 2- rittary Newman Admin I 09-Feb-15 0.1 135.00 135.00 Administration Mail in from ASIC - Correspondence; Pay involce and check company statem	Panaa Labb	Senior Director	06-Feb-15	0.2	510.00	102.00	Investigations	accordance with instructions and conditions for agreement before releasing information.	Corporate - Liquidation	
Lenee LobbSenior Director06-Feb-150.2510.00102.00InvestigationsReview Clayton Utz response to Simon Tickner on insurance policy details. send same to Simon.Corporate - Liquidatictanee LobbSenior Director06-Feb-150.1510.00510.00AdministrationConfirm with Clayton Utz sending of document.Corporate - Liquidaticenjamin RobsonAssociate II06-Feb-151270.00270.00AdministrationLM 524 investigations into missing funds from transfer of R&PCorporate - Liquidaticaroline HalcoopAdministration 206-Feb-150.1175.0017.50AdministrationProcess CBA Transfer onlineCorporate - Liquidaticaroline N'KeameySenior Director06-Feb-150.5560.00280.00AdministrationReconcile MYOB and LM general account regarding funds held and owing. discuss 524 issues BJRCorporate - Liquidaticenjamin RobsonConsultant I09-Feb-150.2270.0054.00Trade-onDomain name renewal remittance issuedApproved/Unpaidenjamin RobsonConsultant I09-Feb-150.5270.00135.00Trade-onDomain name renewal remittance issuedApproved/Unpaidenjamin RobsonConsultant I09-Feb-150.5270.00135.00Trade-onMeet with BJR to discuss receipt tunds operational cost controbutions costs and transfers. review asicCategory 2-enjamin RobsonConsultant I09-Feb-150.5560.00280.00Trade-onMeet with BJR to discuss receipt tunds operati								Review response from Simon Tickner and fwd to Clayton Utz to respond with insurance information.	Corporate - Liquidation	
Kondo useSenior Director06-Feb-150.1510.00510.0AdministrationConfirm with Clayton Utz sending of document.Comporter Liquidationenjamin RobsonAssociate II06-Feb-151270.00270.00AdministrationLM 524 Investigations into missing funds from transfer of R&PCorporate - Liquidationaroline HalcoopAdministration 206-Feb-150.1175.0017.50AdministrationProcess CBA Transfer onlineCorporate - LiquidationItem O'KeameySenior Director06-Feb-150.5660.00280.00AdministrationReconcile MYOB and LM general account regarding funds held and owing, discuss 524 issues BJRCorporate - Liquidationnittany NewmanAdmin I09-Feb-150.1135.0013.50AdministrationMain infrom ASIC - Correspondence; Pay invoice and check company statementApproved/Unpaidenjamin RobsonConsultant I09-Feb-150.2270.0054.00Trade-onDomain name renewal remittance issuedCategory 2-enjamin RobsonConsultant I09-Feb-150.5270.00135.00Trade-onUpdate consultants fee registerApproved/Unpaidenjamin RobsonConsultant I09-Feb-150.5270.00135.00Trade-onUpdate consultants fee registerApproved/Unpaidenjamin RobsonConsultant I09-Feb-150.5270.00135.00Trade-onUpdate consultants fee registerApproved/Unpaidenjamin RobsonConsultant I09-Feb-150.5580.00 <td></td> <td>Senior Director</td> <td>06-Feb-15</td> <td>0.2</td> <td>510.00</td> <td>102.00</td> <td>Investigations</td> <td>Review Clayton Utz response to Simon Tickner on insurance policy details. send same to Simon.</td> <td>Corporate - Liquidation</td>		Senior Director	06-Feb-15	0.2	510.00	102.00	Investigations	Review Clayton Utz response to Simon Tickner on insurance policy details. send same to Simon.	Corporate - Liquidation	
Instruction Associate II 06-Feb-15 1 270.00 270.00 Administration LM 524 investigations into missing funds from transfer of R&P Corporate - Liquidation corporate - Liq				0.1	510.00	51.00	Administration	Confirm with Claylon Utz sending of document.	Corporate - Liquidation	
arainal Housing rescansion rescansion <th rescansi<="" td=""><td></td><td>-</td><td></td><td>1</td><td></td><td>270.00</td><td>Administration</td><td>LM 524 investigations into missing funds from transfer of R&P</td><td>Corporate - Liquidation</td></th>	<td></td> <td>-</td> <td></td> <td>1</td> <td></td> <td>270.00</td> <td>Administration</td> <td>LM 524 investigations into missing funds from transfer of R&P</td> <td>Corporate - Liquidation</td>		-		1		270.00	Administration	LM 524 investigations into missing funds from transfer of R&P	Corporate - Liquidation
Animise and in Practody Administration Practody Administration Practody Administration Practody Administration Practody Reconcile MYOB and LM general account regarding funds held and owing, discuss 524 issues BJR Corporate - Liquidation Category 2 - Approved/Unpaid rittany Newman Admin I 09-Feb-15 0.1 135.00 135.00 Administration Mail in from ASIC - Correspondence; Pay invoice and check company statement Approved/Unpaid Category 2 - Approved/Unpaid enjamin Robson Consultant I 09-Feb-15 0.2 270.00 54.00 Trade-on Domain name renewal remittance issued Approved/Unpaid Category 2 - Approved/Unpaid enjamin Robson Consultant I 09-Feb-15 0.5 270.00 135.00 Trade-on Update consultants fee register Approved/Unpaid Category 2 - Approved/Unpaid enjamin Robson Consultant I 09-Feb-15 0.5 270.00 135.00 Trade-on Update consultants fee register Approved/Unpaid Approved/Unpaid Category 2 - Approved/Unpaid Approved/				0.1					Corporate - Liquidation	
Initial Charge (1) Op-Feb-15 0.1 135.00 13.50 Administration Mail in from ASIC - Correspondence; Pay invoice and check company statement Category 2 - Categ		1						Reconcile MYOB and LM general account regarding funds held and owing, discuss 524 issues BJR	Corporate - Liquidation	
Initial Y New Yield Addition Consultant Consultant I Consultant I <t< td=""><td></td><td></td><td>· · · · · · · · · · · · · · · · · · ·</td><td></td><td></td><td></td><td>Administration</td><td>Mail in from ASIC - Correspondence; Pay invoice and check company statement</td><td>Approved/Unpaid</td></t<>			· · · · · · · · · · · · · · · · · · ·				Administration	Mail in from ASIC - Correspondence; Pay invoice and check company statement	Approved/Unpaid	
enjamin Robson Consultant I 09-Feb-15 0.5 270.00 135.00 Trade-on Update consultants fee register Approved/Unpaid lenn O'Kearney Senior Director 09-Feb-15 0.5 560.00 280.00 Trade-on Meet with BJR to discuss receipt funds operational cost contributions costs and transfers. review asis: Category 2 - Meet with BJR to discuss receipt funds operational cost contributions costs and transfers. review asis: Category 2 - Meet with BJR to discuss receipt funds operational cost contributions costs and transfers. review asis: Category 2 - Meet with BJR to discuss receipt funds operational cost contributions costs and transfers. review asis: Category 2 - Meet with BJR to discuss receipt funds operational cost contributions costs and transfers. review asis: Category 2 - Meet with BJR to discuss receipt funds operational cost contributions costs and transfers. review asis: Category 2 - Meet with BJR to discuss receipt funds operational cost contributions costs and transfers. review asis: Category 2 - Meet with BJR to discuss receipt funds operational cost control to the discuss receipt funds operational cost cost cost cost funds operational cost control to the discuss receipt funds operational cost cost cost funds operating fund charges for all accounts during 524 p		······································					Trade-on	Domain name renewal remittance issued	Approved/Unpaid	
enjamin Robson Consultant I 09-Feb-15 0.5 270.00 139.00 Hade-on Page of with BJR to discuss receipt funds operational cost contributions costs and transfers, review asic Category 2 - lenn O'Kearney Senior Director 09-Feb-15 0.5 560.00 280.00 Trade-on statement regarding fund charges, note for BJR to consult R B transactions for all accounts during 524 period Consortal - Liquidatio						405.00	Trada or	Undale consultants fee register		
lenn O'Kearney Senior Director US-F60-15 U.5 300.00 200.00 Hattern Grand Barbard B	enjamin Robson							Meet with BJR to discuss receipt funds operational cost contributions costs and transfers, review asic	Category 2 -	
	ilenn O'Kearney	Senior Director								

 \frown

	anagement Ltd (In Liqui)	dation)		an a	3,204,515.29			
Remuneration to Name		Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Renee Lobb	Senior Director	10-Feb-15	0.3	510.00	153.00	Trade-on	Neview email string and respond requesting clarification on which fund the inquiry is for as three noted through emails, advise situation for registry enquiries across each fund mentioned.	Category 2 - Approved/Unpaid
Benjamin Robson	Consultant I	10-Feb-15	0.2	270.00	54.00	Trade-on	Follow up change of address letter for LM closure	Category 2 - Approved/Unpaid
Benjamin Robson	Consultant i	10-Feb-15	1	270.00	270.00		Correspondence with Steve Hanrian and WMS arranging AX excel extractions for the LM funds - various. Information requests to Steve Hannan	Category 2 - Approved/Unpaid
Keliy-Anne Trenfield	Sr Managing Dir	10-Feb-15	0.6	600.00	360.00	Administration	Email to john kennedy re access to books and recordspays re reimbursement of fund costsreview fetter in from Clouts re books and records regime - update re outstanding informationcall to philip pan re need to extend afsl and requirements; email update to PP and request advice reverse emails and transmission of the conseptionence concerning consenting for Prischlorgage	Category 2 - Approved/Unpaid
Renee Lobb	Senior Director	10-Feb-15	0.2	510.00	102.00	investigations	Income Fund to be granted leave to proceed against LMIM on specific conditions, print for file and isave to same.	Corporate - Liquidation
Ann Clark	Administration II	10-Feb-15	0.1	175.00	17.50		Payment slips	Corporate - Liquidation
	Administration II	10-Feb-15	0.4	175.00	70.00	Administration	EFT x 3 requisitions and MYOB processing	Corporate - Liquidation
Ann Clark							review advice in from Clayton Uiz re debrief with Counsel; review letter to Gadens; email to CU re instructions to send letter.	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	10-Feb-15	0.2	600.00	120.00	+ <u> </u>	Review 524 annexure's/bank reconciliation/cred lists.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	10-Feb-15	0.5	560.00	280.00		Review and amendments to form 524 prepared by BJR.	Corporate - Liquidation
Stuart Clancy	Manager 1	10-Feb-15	0.2	360.00	72.00		Reviewed form 524 prepared by BJR.	Corporate - Liquidation
Stuart Clancy	Manager 1	10-Feb-15	0.1	360.00	36.00	Administration	Reviewed form 524 prepared by 551. Review emails regarding Po box cancellation, post on website notice of address details update and	Category 2 -
Renee Lobb	Senior Director	11-Feb-15	0.2	510.00	102.00	Administration	Information on forwarding of future correspondence.	Approved/Unpaid Category 2 -
Benjamin Robson	Consultant t	11-Feb-15	0.3	270.00	81.00	Trade-on	Update consultants register with Suncorp fund payments	Approved/Unpaid
Megan Dopking	Administrative	11-Feb-15	0.1	135.00	13.50	Administration	Bank reconciliation	Corporate - Liquidation
Megan Dopking	Administrative	11-Feb-15	0.1	135.00	13.50	Administration	Bank reconciliation	Corporate - Liquidation
Renee Lobb	Senior Director	11-Feb-15	0.1	510.00	51.00	Administration	Return Chris Erfurt call.	Corporate - Liquidation
Brittany Newman	Administration 1	11-Feb-15	0.5	135.00	67.50	Administration	Filing	Corporate - Liquidation
Renee Lobb	Senior Director	12-Feb-15	0.2	510.00	102.00	Trade-on	Review and respond to email from ben Robson, confirm off market transfers should only require changing to details and request him to sure up transfer process with Steve Hannan.	Category 2 - Approved/Unpaid
John Park	Sr Managing Dir	12-Feb-15	0.4	600.00	240.00	Administration	Emails in Ryan Zorgdrager on file position; Email in Philip Pan regarding AFSL Licence	Category 2 - Approved/Unpaid
Benjamin Robson	Consultant I	12-Feb-15	0.5	270.00	135.00	Trade-on	Investor Enquiry - specifically regarding transfer if holdings into personal names	Category 2 - Approved/Unpaid Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	12-Feb-15	0.2	600.00	120.00	Administration	email in from Philip Pan re approach re AFSL	Approved/Unpaid
Brittany Newman	Administration 1	12-Feb-15	0.2	135.00	27.00	Administration	Formet & Final 8974138, 89741141 - 89741148	Corporate - Liquidation
Renee Loob	Senior Director	12-Feb-15	0.1	510.00	51.00	Investigations	Review update on leave to proceed FMIF application and appearance to be had today.	Written Off/Not claimed
Renee Lobb	Senior Director	12-Feb-15	0.1	510.00	51.00	Administration	Review and send to Clayton Utz required cost estimate in perseguian matter from Russell.	Corporate - Liquidation
Renee Lobb	Senior Director	12-Feb-15	0.1	510.00	51.00	Investigations	Review update on cost estimate from Clayton Utz for claims analysis.	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	12-Feb-15	0.1	600.00	60.00	Administration	Review F524 and supporting docs; review updated work programme and half annual review	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	12-Feb-15	0.2	600.00	120.00	Asseis	Emails to clayton utz to status; instructions to RCL to tup russells costs; emails in; email in to status of consent re bell pac breach of trust claim	Corporate - Liquidation
Tanya Kratz	Admin II	13-Feb-15	0.1	175.00		Administration	Print, scan and email Settlement Deed executed by GDM to BJR as requested.	Category 2 - Approved/Unpaid
Benjamin Robson	Consultant I	13-Feb-15	0.5	270.00	135.00	Trade-on	January 2015 Operational costs review - R&P data from Jan	Category 2 - Approved/Unpaid
•							Extended relephone discussion with Steve mannan in regards to previous procedure in place at Livi for recording changes in registry details, file not eon conversation and planning out process for future in regards to transfers, requesting documents, navigating LM files etc	Category 2 - Approved/Unpaid
Benjamin Robson	Consultant f	13-Feb-15	2	270.00		Trade-on	emails in; call to AJT re status update	Category 2 - Approved/Unpaid
Kelly-Anne Trenfield	Sr Managing Dir	13-Feb-15	0.1	600.00	60.00	Administration		hele and a subara

LM Investment Ma Remuneration to 3	inagement Ltd (in Liqui 10 June 2018	dation)			3,204,515,29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Glenn O'Keamey	Senior Director	13-Feb-15	0.5	560.00	280.00	Trade-on	Review fund mail direction tetters, memo to BJR regarding process for fund mail, discussions with BJR regarding ongoing fund record/management issues, discuss same with RFZ	Category 2 - Approved/Unpaid
Keliy-Anne Trenfield	Senior Managing Director	13-Feb-15	0.2	600.00	120.00	Assets	Emails re costs of proceedingsmail in from Pikes and Verekers re austcorp liligation	Corporate - Liquidation
Gienn O'Keamey	Seniar Director	13-Feb-15	0.1		56.00	Administration	Review file status, notes for job management/file/records management.	Corporate - Liquidation
Giorni o Realingy				'			Review email from adviser, provide details of which funds handled by Armstrong and us direct.	Category 2 -
Renee Lobb	Senior Director	16-Feb-15	0.2	510.00	102.00	Trade-on	Provide update n ability to make transfers.	Approved/Unpaid
Benjamin Robson	Consultant I	16-Feb-15	0.3	. 270.00	81.00	Creditors	Payment of Barrister fee invoice	Category 2 - Approved/Unpaid Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	16-Feb-15	0.1	600.00	60.00	Administration	Review and sign letters re closure of Ima office and redirection of mail	Approved/Unpaid
Renee Lobb	Senior Director	16-Feb-15	0.2	510.00	102.00	Investigations	Review and file pikes verekes correspondence regarding proceedings.	Corporate - Liquidation
Benjamin Robson	Associate il	16-Feb-15	0.3	270.00	81.00	Administration	524 updates and amendments	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	16-Feb-15	0.1	600.00	60.00	Administration	emails in re bank signatories; BJR re changes to f524	Corporate - Liquidation
Glenn O'Keamey	Senior Director	16-Feb-15	0.1	560.00		Administration	Review payment request counsel Clayton utz matter, note amendments BJR	Corporate - Liquidation
Glenn O'Kearney	Senior Director	16-Feb-15	0.2		112.00	Trade-On	Meet with BJR and discuss file status and handover issues.	Corporate - Liquidation
Gienn O Reamey		10-100-10	0.2	000.00				Category 2 -
Renee Lobb	Senior Director	17-Feb-15	0.1	510.00	51.00	Trade-on	Review update in preparation of Thursday meeting.	Approved/Unpaid
Benjamin Robson	Consultant I	17-Feb-15	0.5	270.00	135.00	Trade-on	Update to authorized signatory list and Correspondence with KAT and Trust Company to effect same	Category 2 - Approved/Unpaid Category 2 -
Benjamin Robson	Consultant I	17-Feb-15	0.3	270.00	61.00	Creditors	Payment to Clayton Utz regarding barristers fees	Approved/Unpaid
		17-Feb-15	0.4	135.00	54.00	Administration	Mail out to CtearStream Banking - 89741146 + scan/email, CimbBank - 89741148, Aegis Investment Administration - 89741138 & 89741141+ scan/email, David King - 89741142 + scan/email, Suncorp- Metway Ltd - 89741143, Commissioner of State Revenue - 89741144 & ATO - 89741142	Category 2 - Approved/Unpaid
Brittany Newman	Admin I	17-FED-10	0.4	155.00	04.00		Review emails re payment signatories; instruction to BJR re changesreview Philip pan email re atsl;	Category 2 -
Keliy-Anne Trenfield	Sr Managing Dir	17-Feb-15	0.2	600.00	120.00	Administration	consider position re extension	Approved/Unpaid
Glenn O'Kearney	Senior Director	17-Feb-15	0.2	560.00	112.00	Trade-on	Llaise Ben Robson regarding signatory Issues on fund payments .	Category 2 - Approved/Unpaid
Glenn O'Kearney	Senior Director	17-Feb-15	0.1	560.00	56.00	Trade-on	Sign off on fund account register.	Category 2 - Approved/Unpaid
Benjamin Robson	Associate II	17-Feb-15	0.3	270.00	81.00	Trade-On	Correspondence with Ann Clarke regarding negative payment entering in MYOB	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	17-Feb-15	0.1	600.00	60.00	Administration	GOK re timing of catch-up and issues re timing/staffing	Corporate - Liquidation
	Centor Menaging Director						Review matters lists/TDL/SOP/previous status memo update. Prepare agenda for team	Comparete Liquidotian
Glenn O'Kearney	Seniar Director	17-Feb-15	1.5	560.00	840.00	Administration	teleconference, note to im team.	Corporate - Liquidation Category 2 -
John Park	Sr Managing Dir	18-Feb-15	0.1	600.00	60.00	Administration	Email in Ashley Tiplady	Approved/Unpaid Category 2 -
Benjamin Robson	Consultant I	18-Feb-15	1	270.00	270.00	Trade-on	Update and reconcite LM Fund payables register at request of RFZ	Approved/Unpaid Category 2
Glenn O'Keamey	Senior Director	18-Feb-15	0.2	560.00	112.00	Trade-on	Discuss fund management Issues BJR	Approved/Unpaid
Glenn O'Keamey	Senior Director	18-Feb-15	0.1	560.00	56.00	Administration	Update regarding Im fees.	Corporate - Liquidation
		· · · · · ·					Updates to LM Investment Management Ltd website to remove further references to the mail@im	Category 2 - Approved/Unpaid
Renee Lobb	Senior Director	19-Feb-15	0.3	510.00	153.00	Administration	email address. Also update FAQ's for current events. General tuno and Ro-rever update on insurance issues, imgation, impact on tunos or ingation, audit	
						-	progress, maintaining of registries whilst Ben away, impact of John Corbett consulting role on fund	Category 2 -
Renee Lobb	Senior Director	19-Feb-15	0.4	510.00	204.00	Administration	level responsibilities.	Approved/Unpaid
								Category 2 -
Benjamin Robson	Consultant I	19-Feb-15	0.3	270.00	81.00	Trade-on	Update to fund payables register and consultant fees register	Approved/Unpaid Category 2 -
Benjamin Robson	Consultant I	19-Feb-15	0.7	270.00	189.00	Trade-on	Meeting with Staff to discuss file progression	Approved/Unpaid Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	19-Feb-15	0.1	600.00	60.00	Creditors	Belgian claim against fund; claim against LMIM	Approved/Unpaid
	1							

LM investment Ma Remuneration to 3	nagement Ltd (In Liqui 0 June 2018	dation)			3,204,515.29	· · · · · · · · · · · · · · · · · · ·		
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Kelly-Anne Trenfield	Sr Managing Dir	19-Feb-15	0.1	600.00	60.00	Assets	review and sign notification re change to account access	Category 2 - Approved/Unpaid
Christine Stead	Senior Director	19-Feb-15	1	560.00	560.00	Administration	teleconference with KAT/GOK	Category 2 - Approved/Unpaid
Ryan Zorgdrager	Senior Director	19-Feb-15	0.6	560.00	448.00	Trade-on	Team Teleconference	Category 2 - Approved/Unpaid
Ann Clark	Administration II	19-Feb-15	0.2	175.00	35.00	Administration	EFT requisitions and MYOB processing	Corporate - Liquidation
Ann Clark	Administration II	19-Feb-15	0.2	175.00	35.00	Administration	BPay requisitions and MYOB processing	Corporate - Liquidation
Renee Lobb	Senior Director	19-Feb-15	0.1	510.00	51.00	Administration	Review update on instructions for austcorp proceeding currently stayed.	Corporate - Liquidation
Brittany Newman	Administration 1	19-Feb-15	0.1	135.00	13.50	Administration	Main in from Judicial Officers Marc Beerlen, Marune Vergauwen, Willy Mertens-Roger Vandennende & Alain Van der Steichel - Writ of Summons	Corporate - Liquidation
Keliy-Anne Trenfield	Senior Managing Director	19-Feb-15	0.7	600.00	420.00	Administration	Team administration/review meeting	Corporate - Liquidation
Gienn O'Kearney	Senior Director	19-Feb-15	0.4	560.00	224.00	Administration	Review and approve BAS and worksheets/payment.	Corporate - Liquidation
Glenn O'Keamey	Senior Director	19-Feb-15	1	560.00	560.00	Administration	Team meeting, prep and notes pre and post.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	19-Feb-15	0.3	560.00	168.00	Creditors	Review summons from Belgium, prelim discussion Kelly. Review email regarding asset in port Douglas, raise enquiry with John Corbett and RF2, after seeing	Corporate - Liquidation Category 2 -
Renee Lobb	Senior Director	20-Feb-15	0.3	510.00	153.00	Administration	John Corbett response send email advising to contact BDO.	Approved/Unpaid
Renee Lobb	Senior Director	20-Feb-15	0.2	510.00	102.00	Trade-on	Review investor enquiry, request which fund the inquiry relates to and inform the contact of the office closure.	Category 2 - Approved/Unpaid
Benjamin Robson	Consultant I	20-Feb-15	0.3	270.00	61.00	Trade-on	Chang of address notice prepared	Category 2 - Approved/Unpaid
Kelly-Anne Trenfield	Sr Managing Dir	20-Feb-15	0.2	600.00	120.00	Administration	Jrp re suspension of afslrussells to do list to jrp	Category 2 - Approved/Unpaid
,							Review and approve payment of outstanding administration liabilities including review of supporting	Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	20-Feb-15	0.1	600.00	60.00	Administration	documentation and signing of transfer or cheque	Approved/Unpaid
Glenn O'Keamey	Senior Director	20-Feb-15	0.5	560.00	280.00	Trade-on	Discuss letter to investors regarding change of address. check draft. review fund payables procedure note BJR. call Kate at clouts regarding records storage costs. update to RFZ for fund cash flow.	Category 2 - Approved/Unpaid
Brittany Newman	Administration 1	20-Feb-15	0.5	135.00		Administration	Filing	Corporate - Liquidation
Caroline Hatcoop	Administration 2	20-Feb-15	0.0	175.00		Administration	Authorise 2 x Commbiz Transfer online	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	20-Feb-15	0,1	600.00	60.00	Assets	Review email in from mark waller re austcorp matter; provide instructions re draiting response re security for costs	Corporate - Liquidation
Glenn O'Keamey	Senior Director	20-Feb-15	1	560.00	560.00	Creditors	Review correspondence from Belgium investors/claimants. summary of matter for Kelly	Corporate - Liquidation
	Manager 1	20-Feb-15	0.1	360.00	36.00	Administration	Updating task list	Corporate - Liquidation
Renee Lobb	Senior Director	23-Feb-15	0.2	510.00	102.00	Trade-on	Review email from investor, note trilody is the RE of the Wholesale First Mongage Income Fund and query must be redirected.	Category 2 - Approved/Unpaid
John Park	Sr Managing Dir	23-Feb-15	0.2	600.00	120.00	Administration	Review file note on AFSL licence	Category 2 - Approved/Unpaid
							Review incoming accurientation, consider and send to ningreview advice from Finity Farrie suspension of AFSL; draft file note re intended actionemail in and response to B&R image; request meeting with Russeliscall in from Ian Bisson, russells re status of undertakingsreview change of	Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	23-Feb-15	0.7	600.00	420.00	Administration	address nolice	Approved/Unpaid Category 2 -
Glenn O'Kearney	Senior Director	23-Feb-15	0.2	560.00	112.00		Note from Kate regarding records costs, note gdm regarding reports across funds .	Approved/Unpaid
Benjamin Robson	Associate II	23-Feb-15	0.4	270.00	108.00	Administration	Adjustment to manual receipts and payments for 524 lodgement purposes	Corporate - Liquidation
	Senior Managing Director	23-Feb-15	0.1	600.00	60.00	Assets	call in from Chris Entrurt re détails in claim analysis re LMIM insurance claim; forward CE Peregian beach statement of claim	Corporate - Liquidation
Brittany Newman	Administration 1	23-Feb-15	0.2	135.00	27.00	Administration	Mall out to ATU - BAS (1 Oct - 1 Dec 2014) DOC ID 30 524 343 353, enter loagement details in MYOB + update GC BAS spreadsheet	Corporate - Liquidation
Benjamin Robson	Consultant I	24-Feb-15	0.3	270.00	81.00	Trade-on	LM receipts and payements for 524 period - advise Ann Clarke on procedure for amending K&P in previous period	Category 2 - Approved/Unpaid
Kelly-Anne Trenfield	Sr Managing Dir	24-Feb-15	0.6	600.00	360.00	Administration	review and amend update to asic re status of funds	Category 2 - Approved/Unpaid

 \square

LM Investment Ma Remuneration to 3	magement Ltd (in Liqui 80. june 2018	dation)			3,204,515.29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
		T				1	Arrange meeting with Russells; agenda to AJI finalise update to asic; instructions to finalise and	Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	24-Feb-15	i 0.2	600.00	120.00	Administration	request re insertion of electronic signature Note to BJR regarding books and records cost allocation, note to Ryan zorgdrager regarding	Approved/Unpaid
Gienn O'Keamey	Senior Director	24-Feb-15	0.2	560.00	112.00	Trade-on	Allocation.	Category 2 - Approved/Unpaid
Gierin O Reality		24-100-10	. 0.2		112.00		Review statement of claim against LMIM as former trustee of Manageo Performance Fund: print for	
Renee Labb	Senior Director	24-Feb-15	0.2	510.00	102.00	investigations	file and save.	Corporate - Liquidation
Designin Debage	Associate II	24-Feb-15	0.5	270.00	135.00	Creditors	Clayton Utz invoices 3848708 and 3848745 recorded in register, apportioned, LMIM portion paid form main account	Corporate - Liquidation
Benjamin Robson		24-Feu-13	0.5	270.00	135.00	Cieditors	Emails inv review list or duitstanding matters; update to GOKKeview F524 and supporting docs;	Conportato Enquination
Kelly-Anne Trenfield	Senior Managing Director	24-Feb-15	0.2	600.00	120.00	Administration	review updated work programme and half annual review	Corporate - Liquidation
•		1					Review claim by MPF investors re beigium proceedingsemail to clayton utz re receipt or claimcall to	Comercite Listuidation
Kelly-Anne Trenfield	Senior Managing Director	24-Feb-15	0.6	600.00	360.00	Assets	mark waller re peregian beach settlement and impact on insurance claim Mail in from Judicial Officers Marc Beenen, Marine Vergauwen, Willy Mertens-Roger Vandenhende	Corporate - Liquidation
Britlany Newman	Administration 1	24-Feb-15	0.1	135.00	13.50	Administration	& Alain Van der Steiche - Write of Summons	Corporate - Liquidation
britany Newman	Administration	2710210		100.00				Category 2 -
John Park	Sr Managing Dir	25-Feb-15	0.4	600.00	240.00	Administration	Settle letter to ASIC with update on various funds	Approved/Unpaid
					070.00		Provide update to Glenn O'Keamey in regards to tasks completed day to day and ad hoc for RFZ	Category 2 - Approved/Unpaid
Benjamin Robson	Consultant I	25-Feb-15	1	270.00	270.00	Trade-on	rovide update to dienin o Reariney in regards to tasks completed day to day and ad not for RT2	Approved/ Onpaid
							outstanding itemsAJT update re peregian and other LM mattersamend, finalise and send update to	Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	25-Feb-15	0.5	600.00	300.00	Administration	asic re winding up of funds	Approved/Unpaid
-							Phone Call with Patrick from Sydney Tech and update to KAT	Category 2 -
Christine Stead	Senior Director	25-Feb-15	0.2	560.00	112.00	Administration		Approved/Unpaid Category 2 -
Renee Lobb	Senior Director	26-Feb-15	0.1	510.00	51.00	Trade-on	to the receiver.	Approved/Unpaid
		20100-10	<u></u>	010100				Category 2 -
Renee Lobb	Senior Director	26-Feb-15	0.2	510.00	102.00	Trade-on	Review email from Kelly regarding ASIC info. send updated contact information to ASIC.	Approved/Unpaid
							emair m re legal lees and update re temuneration from kusseliscall in from asic re contact detailsemail in re books and records; query delivery; email instructions re receipt and refundsreview	Category 2 -
Kalla Anna TuanSala	Sa Managing Dis	26-Feb-15	0.4	600.00	240.00	Administration	and file incoming correspondence Review and update to do list	Approved/Unpaid
Kelly-Anne Trenfield	Sr Managing Dir		0.4	510.00		Investigations	Review email regarding Belgian claim and preliminary advice from Clutz.	Corporate - Liquidation
Renee Lobb	Senior Director	26-Feb-15					Review background on Belgian claimants.	Corporate - Liquidation
Renea Lobb	Senior Director	26-Feb-15	0.1	510.00	51.00	Investigations	Review Background on begian claimants. Review email regarding independence of Liederke acting for us in relation to begilan claim, send note	
Renee Lobb	Senior Director	26-Feb-15	0.1	510.00	51.00	Investigations	to Kelly-Anne Trenfield.	Corporate - Liquidation
Ann Clark	Administration II	26-Feb-15	0.2	175.00	35.00	Administration	EFT/ cheque requisitions and MYOB processing	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	26-Feb-15	0.1	600.00	60.00	Assets	Emall in from clayton utz re Belgian matter; review and provide instructions	Corporate - Liquidation
Nelly-Parite Trefficia	Center Managing Director		0.1				Scanysave signed Form 524 for period 1/08/2014 to 31/01/2015, Lodge Form 524 Online, enter	
Brittany Newman	Administration 1	26-Feb-15	0.3	135.00	40.50	1 tattin load abort	lodgement details in MYOB + update GC 524 spreadsheet	Corporate - Liquidation
Glenn O'Keamey	Senior Director	26-Feb-15	0.1	560.00	56.00	Trade-On	Followup Ben Robson regarding payments insurance.	Corporate - Liquidation
				500.00	400.00	A ducto la fan hin a	Centry casts docs, approve transfer corporate tunds,, review consult to regarding Russell query counsel bill, note to kat.	Corporate - Liquidation
Glenn O'Keamey	Senior Director	26-Feb-15	0.3	560.00	168.00	Administration	Take call from Jeremy at ASIC and contirm incorrect details to be removed and information to be	Category 2 -
Renee Lobb	Senior Director	27-Feb-15	0.2	510.00	102.00	Investigations	added to media website in ASIC.	Approved/Unpaid
KONDO LODD							Review email from CMA on update of database copy, respond and advise files I will need access to	Category 2 -
Renee Lobb	Senior Director	27-Feb-15	0.1	510.00	51.00	Investigations	maintain the registry.	Approved/Unpaid Category 2 -
					F4 65	A	Further response to CMA regarding storing of registry files. request BR's assistance.	Approved/Unpaid
Renee Lobb	Senior Director	27-Feb-15	0.1	510.00	51.00		Received Iron 1 C. Alterator a 1983 unvel 2019 200 unvel culterns, vermes une Structure and	
						ļ	setup.Connected and tested network connectivity.Calculated breakdown of contents and type of files,	
	1	1	1					Category 2 -
ladhu Menon	Sr. Consult I	27-Feb-15	1	360.00	360.00	Administration	work on case, and worked on recommendations moving forward. CMA re access to books and records and quenes from technology re access to dataairrangement re	Approved/Unpaid Category 2 -
				800.00	120.00		CMA reaccess to books and records and queries from technology reaccess to dataan angement re access to LM records	Approved/Unpaid
elly-Anne Trenfield	Sr Managing Dir	27-Feb-15	0.2	600.00	120.00	Administration		Category 2 -
	Sr Managing Dir	27-Feb-15	0.5	600.00	300.00	Administration	Review and sign affidavit material for directions hearing	Approved/Unpaid

Remuneration to					3,204,515.29		No	Glassifienting
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Benjamin Robson	Consultant I	27-Feb-15	0.6	270.00	162.00	Trade-on	Hand over file notes and training to BN regarding payment registers	Category 2 - Approved/Unpaid
Christine Stead	Senior Director	27-Feb-15	1	560.00	560.00	Administration	Meet with Madhu regarding set up of LM system and meet with Scott Gillard	Category 2 - Approved/Unpaid
Christine Stead	Senior Director	27-Feb-15	0.2	560.00	112.00	Administration	Phone Call update with KAT and email team regarding use of LM server	Category 2 - Approved/Unpaid Category 2 -
Christine Stead	Senior Director	27-Feb-15	0.3	560.00	168.00	Administration	Discussion with MM regarding electronic records and respond tot email from RCL	Approved/Unpaid Category 2 -
Christine Stead	Senior Director	27-Feb-15	0.1	560.00	56.00	Administration	Further queries regarding electronic records Review email from tech regarding methods and costings; further discussion with MM and email out to	Approved/Unpaid
Christine Stead	Senior Director	27-Feb-15	0.5	560.00		Administration	RFZ	Approved/Unpaid Corporate - Liquidation
Ann Clark	Administration II	27-Feb-15	0.1	175.00	17.50	Administration	Payment slips	· · · · · · · · · · · · · · · · · · ·
Renee Lobb	Senior Director	27-Feb-15	0.2	510.00	102.00	Investigations	Instructions to Clayton Utz to engage liebekerke to deal with Belgian claim. 1. Jogge Final Form 524 for period 3/12/2014 to 24/02/2015 + Form 505 online, enter loggement details	Corporate - Liquidation
Brittany Newman	Administration 1	27-Feb-15	0.2	135.00	27.00	Administration	in MYOB + update GC Form 524 spreadsheet Coll with 5UK regarding registry details and transfer process to "ICPAIP and CPAIP. Confirm possible	Corporate - Liquidation
Renee Lobb	Senior Director	02-Mar-15	0.3	510.00	153.00	Trade-on	process and set time for review. Discuss LM B&R status with Christine Alterator, email to R Lobb regarding transfer request	Approved/Unpaid Category 2 -
Benjamin Robson	Consultant I	02-Mar-15	0.6	270.00	162.00	Trade-on	processing forward and status of B&R copy for FTI	Approved/Unpaid Category 2 -
Benjamin Robson	Consultant I	02-Mar-15	0.3	270.00	81.00	Trade-on	LM Investor Enquiry to Steve Hannan	Approved/Unpaid Category 2 -
Christine Stead	Senior Director	02-Mar-15	0.2	560.00	112.00	Administration	Im B&R - discuss with BJR	Approved/Unpaid Category 2 -
Glenn O'Kearney	Senior Director	02-Mar-15	0.1	560.00	56.00	Administration	Correspondence eghart regarding Im asic accounts. note BJR.	Approved/Unpaid
Benjamin Robson	Associate II	02-Mar-15	0.3	270.00	81.00	Creditors	Pay Russells counsel tegal bill	Corporate - Liquidation
John Park	Senior Managing Director	02-Mar-15	0.1	600.00	60.00	Administration	Review and sign correspondence	Corporate - Liquidation
							Discuss status on lief with BJR, update TDL etc. (Wiew current version on the stimmary and consultant register sheets, review and sign off on payment counsel bills, review op cost status etc.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	02-Mar-15	0.7	560.00	392.00	Administration	review LM account and reconcile registers etc.	Category 2 -
Christine Stead	Senior Director	03-Mar-15	0.1	560.00	56.00	Administration	Review email in from Ben and respond to email from KAT	Approved/Unpaid Category 2 -
enjamin Robson	Consultant I	03-Mar-15	0.6	270.00	162.00	Administration	Handover tasks memo completed	Approved/Unpaid Category 2 -
lohn Park	Sr Managing Dir	03-Mar-15	0.5	600.00	300.00	Administration	Attend update meeting with Ashley Tiplady	Approved/Unpaid Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	03-Mar-15	0.3	600.00	180.00	Assets	Preparation for meeting with russells re outstanding issuesupdate meeting with Ashley Tiplady	Approved/Unpaid Category 2 -
Glenn O'Kearney	Senior Director	03-Mar-15	0.1	560.00	56.00	Administration	Review handover memo regarding LMIM fund work, review notes on fund tasks BJR Review claims analysis and imormation required from our office (52 pages) and send email to Kelly-	Approved/Unpaid
lenee Lobb	Senior Director	03-Mar-15	0.6	510.00	306.00	an congrations	Review correspondence regarding austcorp proceeding stay or proceedings and instruction party	Corporate - Liquidation
tenee Lobb	Senior Director	03-Mar-15	0.2	510.00	102.00	Investigations	including indemnity requested for LMIM in proceedings. email Kelly-Anne Trenfield regarding finalisation and edits.	Corporate - Liquidation
lenee Lobb	Senior Director	03-Mar-15	0.3	510.00	153.00	Investigations	Review letters to and from gadens regarding security for costs, save and print for file.	Corporate - Liquidation
							claims analysisreview email in from mark waller re bellpac matter, review innearauvice nom co on claims analysisreview email in from mark waller re bellpac matter, review letter in from gadens re security for costs and defences; review letter to counsel re response and request for amended statement of claim re deficienciesreview letter from insurers solicitor re notification; review draft	Corporate - Liquidation
elly-Anne Trenfield	Senior Managing Director	03-Mar-15	0.6	600.00		Assets		
lenn O'Kearney	Senior Director	03-Mar-15	0.5	560.00	280.00	Administration	Review SOP/reconcile consultants BJR regarding payments up to date.	Corporate - Liquidatio

LM Investment M Remuneration to	anagement Ltd (in Liqu) 30 June 2018	dation)			3,204,515.29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
							Review email regarding CDA facilities. Advise not aware or any facilities and reven to GOK. Review Kelly-Anne Trenfield's comments regarding letter about security for costs and edits to same. request	Category 2 -
Renee Lobb	Senior Director	04-Mar-15	0.3	510.00	153.00	Administration	confirmation of date of original letter to enable redrafting.	Approved/Unpaid
	Senior Director	04-Mai-10	0.0	518.00	100.00	Additional actions	CMA re resolution of B&R accessemalls in re outstanding legals; RFZ re lygon st	Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	04-Mar-15	0.4	600.00	240.00	Administration	correspondence/position re refinancereview outstanding issues and update to do list	Approved/Unpaid
							Review and approve payment of outstanding administration liabilities including review of supporting	Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	04-Mar-15	0.1	600.00	60.00	Administration	documentation and signing of transfer or cheque	Approved/Unpaid Category 2 -
Christine Stead	Senior Director	04-Mar-15	0.6	560.00	336.00	Administration	meet with MM	Approved/Unpaid Category 2 -
Christine Stead	Senior Director	04-Mar-15	0.4	560.00	224.00	Administration	Meeting update with KAT regarding books and records	Approved/Unpaid
Juinstille Steau	Senior Director	04-14181-15	0.4	300.00	224.00	Administration	Cal Michel at CBA regarding fund facilities, discussions with BJR regarding invest CBA facilities.	Category 2 -
Glenn O'Kearney	Seniar Director	04-Mar-15	0.2	560.00	112.00	Trade-on	review Russell fun legal invoices. note to BJR regarding split and pay.	Approved/Unpaid
							Review letter from insurer regarding no claim coverage and exclusion reasoning, review also Clayton	Corporate - Liquidation
Renee Lobb	Senior Director	04-Mar-15	0.3	510.00	153.00		Utz response.	
Renee Lobb	Senior Director	04-Mar-15	0.2	510.00	102.00	Investigations	Draft letter to First Mortgage income Fund and send to Kelly-Anne Trenfield for review.	Corporate - Liquidation
Renee Lobb	Senior Director	04-Mar-15	0.1	510.00	51.00	Investigations	Finalise letter to david Whyte and KordaMentha, send to JRP to sign.	Corporate - Liquidation
John Park	Senior Managing Director	04-Mar-15	0.2	600.00	120.00	Administration	Settle correspondence out	Corporate - Liquidation
				000.00	400.00	A	emails in reinsurance; RCC: reiresponse on austcorp matterneview and amend letter to Whyte/KM re austcorp matter	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	04-Mar-15	0.2	600.00	120.00	Assets	MYOB processing RV key in only x 4	Corporate - Liquidation
Caroline Halcoop	Administration 2	04-Mar-15	0.1	175.00	17.50	Administration		Corporate - Liquidation
Caroline Haicoop	Administration 2	04-Mar-15	0.1	175.00	17.50	Administration	MYOB processing of EFT and Internet banking set up	
Caroline Halcoop	Administration 2	04-Mar-15	0.1	175.00	17.50	Administration	MYOB processing of EFT and internet banking set up	Corporate - Liquidation Category 2 -
	O union Discostor	05-Mar-15	0.2	510.00	102.00	Trade-on	Response to BJR regarding distribution documentation, advise to contact RFZ.	Approved/Unpaid
Renee Lobb	Senior Director	00-Mai-10	0.2	510.00	102.00	11906-01	Handover file in relation to Fund tasks - specific and ad hoc tasks, sit down with GOK to discuss	Category 2 -
Benjamin Robson	Consultant I	05-Mar-15	0.5	270.00	135.00	Trade-on	progression of fund issues	Approved/Unpaid
							Mail in from Steve Hannah, LM investment (Express Post SV5989920) - Various mail för LM receiver	
Brittany Newman	Admin I	05-Mar-15	0.1	135.00	13.50	Administration	at PO Box 932, PO Box 485 & Level 4/9 Beach Road, Surfers Paradise	Approved/Unpaid Category 2 -
(all) a Anna Tara Galai	O- Managine Die	05-Mar-15	0.5	600.00	300.00	Administration	review o/s issues and update to do list and review staffing and outstanding tasks re fund issues	Approved/Unpaid
Kelly-Anne Trenfield	Sr Managing Dir	00-14181-10	0.0	000.00	000.00	- serim non addre	Meet with HJR regarding LM fund tasks, review note and examples, memo to Kelly regarding same.	Category 2 -
Glenn O'Kearney	Seniar Director	05-Mar-15	2	560.00	1,120.00	Trade-on	teleconference with RFZ regarding management of fund tasks /audit requests etc	Approved/Unpaid
Renee Lobb	Senior Director	05-Mar-15	0.1	510.00	51.00	Investigations	Revise email regarding Russell and settlement negotiations.	Corporate - Liquidation
Renee Lobb	Senior Director	05-Mar-15	0.1	510.00	51.00	Investigations	Schedule insurance update for tomorrow.	Corporate - Liquidation
Brittany Newman	Administration 1	05-Mar-15	0.4	135.00	54.00	Administration	Enter missing transaction for February 2015 in MYOB + reconcile accounts as at 28/02/2015	Corporate - Liquidation
	Administration 1	05-Mar-15	0.3	135.00		Administration	Filing	Corporate - Liquidation
Brittany Newman		05-Mar-15	1.2	600.00		Assets	review insurance claims analysis	Corporate - Liquidation
Celly-Anne Trenfield	Senior Managing Director		0.2	175.00	35.00	Administration	Prepared Final Letter	Corporate - Liquidation
Carly Drew	Administration 2	05-Mar-15					Review correspondence worrells and note from Ben Robson - reply.	Corporate - Liquidation
ilenn O'Keamey	Senior Director	05-Mar-15	0.1	560.00	56.00	Investigations		Category 2
Celly-Anne Trenfield	Sr Managing Dir	06-Mar-15	0.1	600.00	60.00	Administration	CMA re access to records/ information control/staffing re operation of funds	Approved/Unpaid
any-sume menneid	er managing on	<u></u>						Category 2 -
Christine Stead	Senior Director	06-Mar-15	0.4	560.00	224.00	Administration	review email from Ben re accounts audit and respond to RFZ	Approved/Unpaid Category 2 -
					70/ 00	A .d	Discuss information required from BJR and RCL and review online data for requested documents	Approved/Unpaid
hristine Stead	Seniar Director	06-Mar-15	1.4	560.00	784.00	Administration		Category 2 -
hristine Stead	Seniar Director	06-Mar-15	1.8	560.00	1,008.00	Administration	Review records for document requested by Clayton Utz	Approved/Unpaid
								Category 2 -

Description Description <thdescription< th=""> <thdescription< th=""></thdescription<></thdescription<>	Remuneration to					3,204,515.29			
Addres National Consult	Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Instruction Binstor Director 0.6 Alter 15 0.3 910.00 150.00 Investigation Binstor Director Comported - Lipida Attract 0.6 Alter 15 0.5 910.00 225.00 Investigation Reserver Transmose advantation or numerous provides or requiring advantations or reserver provides or requiring advantations or requiring advantation or requiring advantations or requiring advantation or requiring advantatio requiring advantation or requiring advantadvantation or requiri								restrictions to consider, etc. Walk to Officeworks and back, procure USB hard-drives to make local copies- Update FTI technology consultants on the plan for NAS data currently- Test file transfer and	
Instruction Online instruction Online instruction Online instruction Online instruction Operation Compared and the second	Madhu Menon	Sr. Consult I	06-Mar-15						
America America <t< td=""><td>Renee Lobb</td><td>Senior Director</td><td>06-Mar-15</td><td>0.3</td><td>510.00</td><td>153.00</td><td>Investigations</td><td></td><td>Corporate - Liquidatio</td></t<>	Renee Lobb	Senior Director	06-Mar-15	0.3	510.00	153.00	Investigations		Corporate - Liquidatio
Beneric Diameter One-Marcets Outs Of 10000 20000 Meessage learning							ļ		
Banke Lobb Senior Director 06-Mar-15 0.3 510.00 153.00 Instag Senior Director Optional - Liquidi Innee Lobb Senior Director 06-Mar-15 0.1 510.00 510.00 Final Biblio and Lobb Convoluti- Liquidi Convoluti- Liquidi Innee Lobb Senior Director 06-Mar-15 0.1 510.00 Final Biblio and Kine Regarding Sonth Fina	Renee Lohh	Senior Director	06-Mar-15	0.5	510.00	255.00	Investigations		Corporate - Liquidatio
Same Lobb Same Deck Object O			1						
Series Duroclar 06-Mar-16 0.1 51000 61.00 meetaglation Final is IDD bind paragina satisment registrations. Final is IDD bind paragina satismenter registrations. Final is IDD bind paraginte final is IDD bin	Renee Lobb	Senior Director	06-Mar-15	0.3	510.00	153.00	Investigations		Corporate - Liquidatio
Database Description Control Control Description Control Contro Control Control					540.00	54.00			Corporate - Liquidation
Canade Local Online O									
Banker Olector 06-Mar-16 0.2 510.00 120.00 <th< td=""><td>Renee Lobb</td><td>Senior Director</td><td>06-Mar-15</td><td>0.1</td><td>510.00</td><td>51.00</td><td>Investigations</td><td></td><td>Corporate - Liquidatio</td></th<>	Renee Lobb	Senior Director	06-Mar-15	0.1	510.00	51.00	Investigations		Corporate - Liquidatio
Cambe Lobb Senior Managing Director Ob-Mar-15 0.2 Office of the senior management of the senior management of the senior									
Serier Managing Director 06-Mar-15 0.5 600.00 180.00 Assets Information registration and using white reprogression of Maraland's addisationation on Maraland's addisatine Maraland's	Renee Lohb	Senior Director	06-Mar-15	0.2	510.00	102.00	Investigations		Corporate - Liquidation
Value Consult Op/Mart 10 0.0 Outcome Foundary order running in genes to be made to be set of the set								RCL re response to Clayton UZ on Information needed for insurance assessmentreview emails re	
tasks to copy data vie NAS web indeface itael-Set a few folders at a fire and monitored through out copy data vie NAS web indeface itael-Set a few folders at a fire and monitored through out copy data vie NAS web indeface itael-Set a few folders at a fire and monitored through out copy data vie NAS web indeface itael-Set a few folders at a fire and monitored through out copy data vie NAS web indeface itael-Set a few folders at a fire and monitored through out copy data vie NAS web indeface itael-Set a few folders at a fire and monitored through out copy data vie NAS web indeface itael-Set a few folders at a fire and monitored through out copy data vie NAS web indeface itael-Set a few folders at a fire and monitored through out copy data vie NAS web indeface itael-Set a few folders at a fire and monitored through out copy data vie NAS web indeface itael-Set a few folders at a fire and monitored through out copy data vie NAS web indeface itael-Set a few folders at a fire and monitored through out copy data vie NAS web indeface itael-Set a few folders at a fire and monitored through out copy data vie NAS web indeface itael-Set a few folders at a fire and monitored through out copy data vie NAS web indeface itael-Set a few folders at a fire and monitored through out copy data vie NAS web indeface itael-Set a few folders at a fire and monitored to depose of through out copy data vie NAS web indeface itael-Set a few folders at a fire and monitor data vie and web indeface itael-Set a few folders at a fire and monitor data vie and web indeface itael-Set a few folders at a fire and monitor data vie and web indeface itael-Set a few folders at a fire and monitor data vie and web indeface itael-Set a few folders at a fire and monitor data vie and web indeface itael-Set a few folders at a fire and monitor data vie and web indeface itael-Set and few folders at a fire and monitor data vie and web	Kelly-Anne Trenfield	Senior Managing Director	06-Mar-15	0.3	600.00	160.00	Assets	information requests draft email to mark waller re progression on AIP settlement discussions	
isadha Menon Sr. Consult I 09-44rr-15 0.7 390.00 252.00 Advinishation (Avvinishation Parametal, Colorability) her day (Avvinishation Parametal, Colorability)(Avvinishation Parametal, Colorability)							ł	tasks to convidate via NAS web interface itself. Set a few folders at a time and monitored throughout	Category 2 -
Manual method Decision	Madhu Manan	St. Consult I	00-Mar-15	0.7	360.00	252.00	Administration		
Cancel Lobb Senior Unitabler Operating Community of Control Senior Director Operating Company Component Director Operating Company Senior Director Operating Company Component Director Operating Company Copropany <	Madnu Menon		03-Wai-15			202.00	Plantin field dealer	Review Kelly-Anne Trentield's response regarding commission payments, respond to email regarding	Category 2 -
Benic Director 09-Mar-15 0.1 510.00 Creditors regarding forministance payable upon audi completion for funds, contain Approver/Unpaid Category 2- Approver/Unpaid elly-Anne Trenfield Sr Managing Dir 09-Mar-15 0.1 600.00 600.00 600.00 Administration (approxed) Category 2- Approver/Unpaid Categ	Renee Lobh	Senior Director	09-Mar-15	0.2	510.00	102.00	Creditors		
Value Control							1		1 * *
elly-Anne Tranfield Sr Managing Dir 09-Mar-15 0.1 600.00 60.00 Administration query cutstanding items query cutstanding items Approve/Unpaid intelte Muler CONSULTANT 09-Mar-15 0.3 600.00 180.00 Administration Construction Approve/Unpaid Category 2- anee Lobb Senior Director 09-Mar-15 0.1 600.00 60.00 Assets Email In from targin type respondence to KM te claims analysis Corporate - Lupidat enee Lobb Senior Director 10-Mar-15 0.2 510.00 102.00 Administration Review analt In from targin type respondence to KM te claims analysis Corporate - Lupidat enee Lobb Senior Director 10-Mar-15 0.2 510.00 102.00 Administration Respond to further advisor query regarding commission payment cettigators and respond to request regarding commission payment cettigators and respond to request regarding commissions. Approve/Unpaid astrue Menon Sr. Consult I 10-Mar-15 0.5 360.00 180.00 Administration Respond to further advisor query regarding commissions. Approve/Unpaid <	Renee Lobb	Senior Director	09-Mar-15	0.1	510.00	51.00	Creditors		
aligr April Consult Tant Op-March O Octool Outcool									1
inelte Muller CONSULTANT 09-Mar-15 0.3 600.00 180.00 Administration (Administration Appointed) - Asset Register Reports - February 2015 Approved/Unpaid ence Lobb Senior Director 09-Mar-15 0.1 510.00 5100 Investigation Participants to Explore Tetra regarding meannaty for proceedings costs to Manuged elly-Anne Trenfield Senior Managing Director 10-Mar-15 0.2 610.00 102.00 Administration (Administration Tetra Carbon Device) to KM re claims analysis ence Lobb Senior Director 10-Mar-15 0.2 610.00 102.00 Assets Email in from claylon uitz re correspondence to KM re claims analysis ence Lobb Senior Director 10-Mar-15 0.2 610.00 102.00 Administration Assets Register Reports - February 2015 Approved/Unpaid category 2- assetance with remuneration disclosure for KMPs. ence Lobb Senior Director 10-Mar-15 0.2 510.00 102.00 Creations Respond to further advisor query regarding commissions. Ence Senior Director 10-Mar-15 0.5 360.00 180.00 Administration Retry field MAS copy jobs. advised commissions and respond to request (or current of the senior of the sen	Kelly-Anne Trenfield	Sr Managing Dir	09-Mar-15	0.1	600.00	60.00	Administration		
Minuscuit Outcode Link Outcode Link <td>0'</td> <td>CONCLUTANT.</td> <td>00 Mor 45</td> <td></td> <td>600.00</td> <td>180.00</td> <td>Administration</td> <td></td> <td></td>	0'	CONCLUTANT.	00 Mor 45		600.00	180.00	Administration		
Genere Lobb Service Director UP-Mark15 0.1 Structure Formation of the service		CONSULTANT	03-1021-13	0.5		100.00		Instructions to Clayton Utz to issue letter regarding indemnity for proceedings costs to Managed	
elly-Anne Trenfield Senior Managing Director 09-Mar-15 0.1 600.00 60.00 Assels Email in from clay/on uit /re correspondence to KM re claims analysis Corporate - Liquidate cenee Lobb Senior Director 10-Mar-15 0.2 510.00 102.00 Administration Review email trom rule: re correspondence to KM re claims analysis Corporate - Liquidate enee Lobb Senior Director 10-Mar-15 0.2 510.00 102.00 Creditors Respond to further advisor query regarding commissions. Approved/Unpaid adhu Menon Sr. Consult I 10-Mar-15 0.5 360.00 180.00 Administration Restry failed NAS copy jobs. Approved/Unpaid adhu Menon Sr. Consult I 10-Mar-15 0.6 600.00 360.00 Administration Restry failed NAS copy jobs. Approved/Unpaid adhu Menon Sr. Consult I 10-Mar-15 0.6 600.00 360.00 Administration Restry failed NAS copy jobs. Approved/Unpaid Category 2- apaid Corporate - Liquidat Consult I 10-Mar-15 0.1 600.00 60.00	Renee Lobb	Senior Director	09-Mar-15	0.1	510.00	51.00	Investigations	Performance Fund.	Corporate - Liquidation
Series mask Series mask Series Director 10-Mar-15 0.2 510.00 1002.00 Administration Respond to further advisor query regarding commission payment obligations and respond to frequest for assistance with remureration disclosure for KMPs. Approved/Unpaid Category 2- Approved/Unpaid anno 1 Senior Director 10-Mar-15 0.2 510.00 102.00 Creditors Respond to further advisor query regarding commissions. Approved/Unpaid Category 2- Approved/Unpaid adhu Menon Sr. Consult I 10-Mar-15 0.5 360.00 180.00 Administration Resty failed NAS copy jobs. Approved/Unpaid elly-Anne Trenfield Sr Managing Dir 10-Mar-15 0.6 600.00 360.00 Administration Resty failed NAS copy jobs. Approved/Unpaid yan Zorgdrager Senior Director 10-Mar-15 0.1 660.00 56.00 Trade-on Email Perpetual seeking asset registers to be emailed to myself and Kelly Trenfield Approved/Unpaid yan Zorgdrager Senior Director 10-Mar-15 0.1 600.00 60.00 Frade-on Email In Russells Nord age year asset registers to be emailed to myself and Kelly Trenfield			09-Mar-15	0.1	600.00	60.00	Assets		Corporate - Liquidation
and Ling Shind Director 10-Mar-15 0.2 510.00 1002.00 Creditors Respond to further advisor query regarding commissions. Approved/Upaid Ladhu Menon Sr. Consult I 10-Mar-15 0.5 360.00 180.00 Administration Retry failed NAS copy jobs. Approved/Upaid elly-Anne Trenfield Sr Managing Dir 10-Mar-15 0.6 600.00 360.00 Administration Retry failed NAS copy jobs. Category 2- yan Zorgdrager Senior Director 10-Mar-15 0.6 600.00 360.00 Administration Email Propertual seeking asset registers to be emailed to myself and Kelly Trenfield Approved/Upaid yan Zorgdrager Senior Director 10-Mar-15 0.1 560.00 600.00 Email Propetual seeking asset registers to be emailed to myself and Kelly Trenfield Approved/Upaid yanz Crydrager Senior Director 10-Mar-15 0.1 600.00 60.00 Email Propetual seeking asset registers to be emailed to myself and Kelly Trenfield Approved/Upaid inette Muller CONSULTANT 10-Mar-15 0.2 600.00 120.00 Administration Email In Russells Approved/Upaid Approved/Upaid C	telly raile tremad	Borner managing Encount							
enee Lobb Senior Director 10-Mar-15 0.2 510.00 1002.00 Creditors Respond to further advisor query regarding commissions. Approved/Unpaid adhu Menon Sr. Consult I 10-Mar-15 0.5 360.00 180.00 Administration Retry failed NAS copy jobs. Category 2- adhu Menon Sr. Consult I 10-Mar-15 0.6 600.00 360.00 Administration Retry failed NAS copy jobs. Category 2- Approved/Unpaid advice/correspondenceReview and update to do list, query outstanding items Review incoming Category 2- Approved/Unpaid Category 2- yan Zorgdrager Senior Director 10-Mar-15 0.1 560.00 560.00 Trade-on Email Perpetual seeking asset registers to be emailed to myself and Kelly Trenfield Approved/Unpaid ohn Park Sr Managing Dir 10-Mar-15 0.1 600.00 60.00 Administration & bankruptcy & bankruptcy Approved/Unpaid Category 2- inette Muller CONSULTANT 10-Mar-15 0.2 600.00 120.00 Administration & bankruptcy & bankruptcy Approved/Unpaid Corporate - Liquidat enee Lobb	Renee Lobb	Senior Director	10-Mar-15	0.2	510.00	102.00	Administration	assistance with remuneration disclosure for KMP's.	
enel Lobb Serier Difector 10-Mar-15 0.2 310.00 102.00 Leadure Performance 10-0 Category 2- Approved/Unpaid adhu Menon Sr. Consult I 10-Mar-15 0.5 360.00 180.00 Administration Retry failed NAS copy jobs. Approved/Unpaid Approved/Unpaid elly-Anne Trenfield Sr Managing Dir 10-Mar-15 0.6 600.00 360.00 Administration documentation, consider and search togitsers registers with on the preduct re asset registers and to filing Category 2- Approved/Unpaid yan Zorgdrager Senior Director 10-Mar-15 0.1 560.00 600.00 Administration Email Perpetual sealer registers to be emailed to myself and Kelly Trenfield Approved/Unpaid yan Zorgdrager Senior Director 10-Mar-15 0.1 600.00 60.00 Administration Email in Russells Approved/Unpaid Category 2- hette Muller CONSULTANT 10-Mar-15 0.2 600.00 120.00 Administration Fwd email for Russells Approved/Unpaid Approved/Unpaid enee Lobb Senior Director 10-Mar-15 0.2 510.00 120.00 Administration <td< td=""><td></td><td></td><td></td><td></td><td></td><td>100.00</td><td></td><td>Respond to further advicer query regarding commissions</td><td></td></td<>						100.00		Respond to further advicer query regarding commissions	
Identified Sr. Consult 1 10-Mar-15 0.3 360.00 180.00 Reference Email in the method in the	Renee Lobb	Senior Director	10-Mar-15	0.2	510.00	102.00	Creditors		
addit Mericit St. Consult 1 Totelan 15 Coll Bodice Restance of the second seco		Concernated	10 Mar 15	0.5	360.00	180.00	Administration	Retry failed NAS copy jobs.	Approved/Unpaid
elly-Anne Trenfield Sr Managing Dir 10-Mar-15 0.6 600.00 360.00 Administration documentation, consider and send to filing Approved/Unpaid Category 2- yan Zorgdrager Senior Director 10-Mar-15 0.1 560.00 560.00 Trade-on Email Perpetual seeking asset registers to be emailed to myself and Kelly Trenfield Approved/Unpaid Category 2- ohn Park Sr Managing Dir 10-Mar-15 0.1 600.00 600.00 Administration Email in Russells Approved/Unpaid Category 2- inette Muller CONSULTANT 10-Mar-15 0.2 600.00 120.00 Administration Review email from RFz regarding information required for Clayton Utz Instirance response. Email Corporate - Liquidati enee Lobb Senior Director 10-Mar-15 0.2 510.00 102.00 Investigations GOK and CMA for assistance as RFZ unable to assist. Corporate - Liquidati enee Lobb Senior Director 10-Mar-15 0.8 510.00 How are trained and request additional Corporate - Liquidati Kelly-Anne Trenfield. Respond to Clayton Utz with information on file and request additional Kelly-Anne Trenfield. Respond to Clayton Utz with information on file and request addit	Magnu Menon		10-10121-10	0.3				Email in from perpetual relasser registersemail to ashiey tiplacy relataus or outstanding regai	
elly-Anne Trenfield Sr Managing Dir 10-Mar-15 0.6 600.00 300.00 Administration Email Perpetual seeking asset registers to be emailed to myself and Kelly Trenfield Approved/Unpaid yan Zorgdrager Senior Director 10-Mar-15 0.1 560.00 60.00 60.00 Administration Email Perpetual seeking asset registers to be emailed to myself and Kelly Trenfield Approved/Unpaid ohn Park Sr Managing Dir 10-Mar-15 0.1 600.00 60.00 Administration Email in Russells Category 2- inette Muller CONSULTANT 10-Mar-15 0.2 600.00 120.00 Administration Review email from KHz registing information required for Clayton Uz Insurance response. Email Category 2- enee Lobb Senior Director 10-Mar-15 0.2 510.00 102.00 Investigations GOK and CMa for assistance as RFZ unable to assist. Corporate - Liquidat enee Lobb Senior Director 10-Mar-15 0.8 510.00 408.00 Investigations GOK and CMa for assistance as RFZ unable to assist. Corporate - Liquidat enee Lobb Senior Director 10-Mar-15 0.8 510.00 408.00 Investigations									
yan Zorgdrager Senior Director 10-Mar-15 0.1 560.00 560.00 Trade-on Email Perpetual seeking asset registers to be emailed to myself and Kelly Trenfield Approved/Unpaid ohn Park Sr Managing Dir 10-Mar-15 0.1 600.00 60.00 Administration Email Russells Category 2- k Dankruptoy inette Muller CONSULTANT 10-Mar-15 0.2 600.00 120.00 Administration Fwd email to KAT to call Autistralian; receive update regarding latest media statements regarding thuid Review email from RFZ regarding information required for Clayton UZ Insurance response. Email Review email from RFZ regarding information required for clayton UZ Insurance response. Email Review email from RFZ regarding information required for relevant records and discuss with Kelly-Anne Trenfield. Respond to Clayton UZ with information of line and request additional document preview email from BDO as plaintiff. Corporate - Liquidation Review email from BDO as plaintiff. enee Lobb Senior Director 10-Mar-15 0.8 510.00 408.00 Investigations GOK and CMA for assistance as RFZ unable to assist. Corporate - Liquidation Review email from BDO as plaintiff. Corporate - Liquidation documents be sought from BDO as plaintiff. Corporate - Cliquidational Review email register and request confirmation of Review email register and request confirmation to the review email register and request confirmation to response. Email to KAT confirming i am happy with	Celly-Anne Trenfield	Sr Managing Dir	10-Mar-15	0.6	600.00	360.00	Administration	documentation, consider and send to tiling	
Value Open Network Open Network Open Network Open Network Open Network Category 2 - (ategory					500.00	50.00	T	Email Remetual seeking asset registers to be emailed to myself and Kelly Trenfield	
Share Str Managing Dir 10-Mar-15 0.1 600.00 Administration Linka with resource Linka with response	Ryan Zorgdrager	Senior Director	10-Mar-15	0.1	560.00	00.00	i rade-on		
Annumber Consultance Consofe Consofe C		Co Managina Dia	10 Mar 15	0.1	600.00	60.00	Administration	Email in Russells	
inette Muller CONSULTANT 10-Mar-15 0.2 500.00 120.00 Administration a contractory regarding information required for Clayton Uz Insurance response. Email Corporate - Liquidat enee Lobb Senior Director 10-Mar-15 0.2 510.00 102.00 Investigations GOK and CMA for assistance as RFZ unable to assist. Corporate - Liquidat Mortgage Income Fund, Bellpac proceedings. Search folders for relevant records and discuss with Kelly-Anne Trenfield. Respond to Clayton Uz with information on LW Investigational Corporate - Liquidat Mortgage Income Fund, Bellpac proceedings. Search folders for relevant records and discuss with Kelly-Anne Trenfield. Respond to Clayton Uz with information on lie and request additional corporate - Liquidat Mortgage Income Fund, Bellpac proceedings. Search folders for relevant records and discuss with Kelly-Anne Trenfield. Respond to Clayton Uz with information on lie and request additional Corporate - Liquidat Mortgage Income Fund, Bellpac proceedings. Search folders for relevant records and discuss with Kelly-Anne Trenfield. Respond to Clayton Uz with information on lie and request additional Corporate - Liquidat Mortgage Income Fund, Bellpac proceedings. Search folders for relevant records and discuss with Kelly-Anne Trenfield. Respond to Clayton Uz with information on lie and request additional Corporate - Liquidat Mortgage Income Fund, Bellpac proceeding and the clayton use of the commercial active and proposed response. Email to KAT confirming i am happy with response drafted and request confirmation to Written Off/Not claim		Srivanaging Di	(0-Mai*10	0.1	000.00	00.00		Hwd errial to KAT to call Autstralian; receive update regarding latest media statements regarding fund	
enee Lobb Senior Director 10-Mar-15 0.2 510.00 102.00 Investigations GOK and CMA for assistance as RFZ unable to assist. Corporate - Liquidation of Corporat	Binette Muller	CONSULTANT	10-Mar-15	0.2	600.00	120.00	Administration	& bankruptcy	Approved/Unpaid
enee Lobb Senior Director 10-Mar-15 0.2 510.00 102.00 investigations Correcting Carlos Corrections Cor									Corporate - Liquidation
enee Lobb Senior Director 10-Mar-15 0.8 510.00 408.00 Investigations Constraint of the sought from BDO as plaintiff. Confirming i am happy with response drafted and request confirmation on file and request confirmation on the sought from BDO as plaintiff. Reported to Carbon the confirmation on the sought from BDO as plaintiff. Reported to Carbon the confirmation on the sought from BDO as plaintiff. Reported to Carbon the confirmation on the sought from BDO as plaintiff. Reported to Carbon the confirmation on the sought from BDO as plaintiff. Reported to Carbon the confirmation on the sought from BDO as plaintiff. Reported to the	Renee Lobb	Senior Director	10-Mar-15	0.2	510.00	102.00	Investigations	IGOX and CMA for assistance as KPZ unable to assist. Review emaintrom Clavion Clavion Clavion request roll information for Environment metallagement clu, Prist	Corporate - Expandation
enee Lobb Senior Director 10-Mar-15 0.8 510.00 408.00 Investigations New Years Participations Respond to Clayton Utz with information on file and request additional documents be sought from BDO as plaintiff.								Mortgage income Fund, Bellpac proceedings. Search folders for relevant records and discuss with	1
enee Lobb Senior Director 10-Mar-15 U.8 510.00 400.00 Investigations declarations because this provide the senior commercianascov prior Mongage income Fulful and proposed response. Email to KAT confirming i am happy with response drafted and request confirmation to Written Off/Not claim income function of the senior commercianascov prior commercianascov printenascov prior commercianascov prior commercianascov prior								Kelly-Anne Trenfield. Respond to Clayton Utz with information on file and request additional	
response. Email to KAT confirming i am happy with response drafted and request confirmation to Written Off/Not claim	lenee Lobb	Senior Director	10-Mar-15	0.8	510.00	408.00	Investigations		Corporate - Liquidation
1Written Off/Not claim		1						Review email regarding application for commercianist by First Mongage income Fund and proposed	
									Written Off/Not claimed

 $\int_{-\infty}^{\infty}$

LM investment Ma Remuneration to 3	nagement Ltd (in Liqui O lune 2018	dation)			3,204,515,29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Renee Lobb	Senior Director	10-Mar-15	0.2	510.00	102.00	Investigations	Review email from Grenn regarding prepaid management lees, send email to Clayton Utz providing same in response to insurance analysis summary request dated 27/02/15	Corporate - Liquidation
Renee Lobb	Senior Director	10-Mar-15	0.1	510.00	51.00	Investigations	Issue instructions to Clayton Utz to issue draft correspondence following confirmation from Kelly- Anne Trenfield.	Corporate - Liquidation
Renee Lobb	Senior Director	10-Mar-15	0.1	510.00	51.00		Filing in public folders and emails sent pertaining to insurance matters.	Corporate - Liquidation
Carly Drew	Administration 2	10-Mar-15	0.1	175.00	17.50	Administration	Email corr received & fwd to KAT for distribution;	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	10-Mar-15	0.1		60.00		review media article re bankruptcy of Peter Drake	Corporate - Liquidation
	 	10-Mar-15	0.4	600.00	240.00	Assets	Discussion with NCC to information request from Capiton Capiton and the vehicle determinis in the review of records re belipac claim; mail in from gadens re application for commercial list and review response; instructions to RCL re approval to releaseemail in re insurance claims and progression of analysis	.Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director Senior Director	10-Mar-15	0.4	560.00	260.00		Review into request regarding insurance matters hous, review prepaid historical records. Note to Riobb regarding prepaid management fee information all funds.	Corporate - Liquidation
Glenn O'Kearney Glenn O'Kearney	Senior Director	10-Mar-15	0.3	560.00		Investigations	Call from sv regarding LMIM drake relationship. email in from SV - issue copy of reports.	Corporate - Liquidation
Gienn O Keamey	Senior Director	10-10121-10	0.0	000.00	100.00	Intesuguation		Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	11-Mar-15	0.6	600.00	360.00	Administration	review and update to do list - update summary of outstanding tasks	Approved/Unpaid Category 2 -
John Park	Sr Managing Dir	11-Mar-15	0.2	600.00	120.00	Administration	Emails in Kelly Trenfield regarding affidavit material Email from Daniel D. Steiner mailto:tds@capitallawyers.com.au regarding law sut against C Hodge.	Approved/Unpaid Category 2 -
Ginette Muller	CONSULTANT	11-Mar-15	0.3	600.00	180.00	Administration	Email KAT/ RCL	Approved/Unpaid
Renee Lobb	Senior Director	11-Mar-15	0.7	510.00	357.00	investigations	Meeting with Clayton Utz regarding insurance matters and post discussion with Kate.	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	11-Mar-15	0.8	600.00	480.00	Assets	meeting with Mark Walter and Chris Erfurt re belipac proceedings and insurance scheme Call to sarah dankert, australian, re media commentmail in from sarah danket re review of story on	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	11-Mar-15	0.4	600.00	240.00	Administration	peter drake	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	11-Mar-15	0.1	600.00	60.00	Administration	Jrp re position with mcgrath nicol re conflict position of clayton utz	Corporate - Liquidation
Glenn O'Kearney	Seniar Director	11-Mar-15	0.1	560.00	56.00	Creditors	Call form macquarie telecom regarding debt.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	11-Mar-15	2	560.00	1,120.00	Investigations	LMIM - work on SOP per Kelly request, review consultants register/MYOB balances etc. notes for further updating, revisit previous updates on legals etc.	Corporate - Liquidation
Madhu Menon	Sr. Consult I	12-Mar-15	1	360.00		Administration	Lenrine server copies out for now as it has raised again. Regardless follocopy or one copy will attempt built in NAS filecopy later. Today it had successfully copied VM's overnight, 4 Terabytes of data copied to powered portable USB. Verified contents copied and will attempt VM load tests later this week.	Category 2 - Approved/Unpaid Category 2 -
	Se Managing Dir	12-Mar-15	0.3	600.00	180.00	Administration	Email in ASIC; Review Kelly Tranfield	Approved/Unpaid
John Park	Sr Managing Dir Senior Director	12-Mar-15	0.3	560.00		Creditors	Note to Caroline regarding LMIM regarding invoice grace, review online accounts regarding fund payments, review BJR email enquires investors and forward rlobb.	Category 2 ~ Approved/Unpaid
Glenn O'Kearney		17-IAIGI-10					Keview email from solicitors for Carolyn Hodges requesting insurance information, send to Clayton	Corporate - Liquidation
Renee Lobb	Senior Director	12-Mar-15	0.2	510 .00	102.00	Investigations	Utz requesting guidance on appropriate response to same. Can to asniey uplacy re ur of me; can and email to mark wattercan from chris enturt; update to AJ (can	· · · · · · · · · · · · · · · · · · ·
Kelly-Anne Trenfield	Senior Managing Director	12-Mar-15	0.4	600.00	240.00	Assets	from sean russell re status of file transfer	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	12-Mar-15	0.1	600.00	60.00	Administration	Review statement of position	Corporate - Liquidation
Glenn O'Kearney	Senior Director	12-Mar-15	2	560.00	1,120.00	Assets	Finalise SOP for Kelly, review all registers etc and MYOB to reconcile numbers for SOP.	Corporate - Liquidation
Glenn O'Keamey	Senior Director	12-Mar-15	0.2	560.00	112.00	Administration	Review Clayton utz LMIM corp invoices in - update registers, notes for discussion kat.	Corporate - Liquidation Category 2 -
John Park	Sr Managing Dir	13-Mar-15	0.2	600.00	120.00	Administration	Emails in Russells	Approved/Unpaid Category 2 -
Glenn O'Keamey	Senior Director	13-Mar-15	0.1	560.00	56.00	Creditors	Invoice in grace for fund records request payment.	Approved/Unpaid
Renee Lobb	Senior Director	13-Mar-15	0.1	510.00	51.00	Investigations	Review response email from Whyle on security for costs. send to Clayton Utz.	Corporate - Liquidation
	Administration 1	13-Mar-15	0.3	135.00	40.50	Administration	Prepare receipt volucners in MYOB - Invoices 8982/nv10, 8982/nv10,2, 8982/nv11, 8982/nv11,2, 8978inv5.5C, 8976inv16.4C, 8978inv16.5C & 8976inv16.6C	Corporate - Liquidation
	Administrative	13-Mar-15	0.1	135.00	13.50	Administration	Bank reconciliation	Corporate - Liquidation
	Administration 2	13-Mar-15	0.1	175.00	17.50	Administration	MYOB processing of EFT and internet banking set up x 1 - 8N	Corporate - Liquidation

Remuneration to 3					3,204,515.29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Madhu Menon	Sr. Consult I	14-Mar-15	1	360.00	360.00	Administration	provide the copy (built of service) has raneu.status completed but on vehiging like directory, has supped a tot of folders. Unable to ascertain why.Researched online and apparently this model they have used has known problems with sustained file transfers of large amounts. Today attempting copy a few folders at a time. About 50% done now.	Category 2 - Approved/Unpaid
John Park	Sr Managing Dir	16-Mar-15	0.1	600.00	60.00	Administration	Email in Ashley Tiplady	Category 2 - Approved/Unpaid
Madhu Menon	Sr. Consult I	16-Mar-15,	1	360.00	360.00	Administration	EXT4 file backup successful.NAS file transfer is Linux based and it copied perfectly issue is then reading this properly on WIN system. Second USB failed again on certain folders. Discussed with Patrick Ma. and Kenny Chu.Looked at possible options for VM loading as well.Advised Christine of what's happening and she advised she will discuss with other recipients of NAS unit. Will consult with P. Ma next week.After Christine advises urgency or need.	Category 2 - Approved/Unpaid
Kelly-Anne Trenfield	Sr Managing Dir	16-Mar-15	0.1	600.00	60.00	Administration	Email from and response to ashiev tiplady re meeting between russells and fu re legal update and progressing belipac claim Note to BN regarding payment grace storage costs: note to Kate at clouts regarding relund receivers.	Category 2 - Approved/Unpaid
Glenn O'Kearney	Senior Director	16-Mar-15	0.2	560.00	112.00	Trade-on	costs records.	Approved/Unpaid
Renee Lobb	Senior Director	16-Mar-15	0.1	510.00	51.00	Investigations	Review response from Chris on indemnity for costs from David Whyte. File same following response.	Corporate - Liquidation
Renee Lobb	Senior Director	16-Mar-15	0.1	510.00	51.00	Investigations	Review update on Belgium litigation.	Corporate - Liquidation
Glenn O'Keamey	Senior Director	16-Mar-15	0.1	560.00	56.00	Administration	Review bank reconciliation's on file	Corporate - Liquidation
Glenn O'Kearney	Senior Director	16-Mar-15	0.1	560.00	56.00	Assets	Review MPF invoice Clayton utz bill, issue to Chris erfert.	Corporate - Liquidation
Glenn O'Keamey	Senior Director	16-Mar-15	0.2	560.00	112.00	Administration	Discuss insurance costs/involces KAT	Corporate - Liquidation
		10-telai-10	2,0		1 14.00			Category 2 -
John Park	Sr Managing Dir	17-Mar-15	0.2	600.00	120.00	Administration	Review and sign audit letters	Approved/Unpaid
Varushka Flynn	Admin II	17-Mar-15	0.1	175.00	17.50	Administration	Arranged 5x Solicitor Representation Letters to be signed, emailed copy to Ryan Zorgdrager & arranged for originals to be mailed	Category 2 - Approved/Unpaid
Fanya Kratz	Admin II	18-Mar-15	0.1	175.00	17.50	Administration	Print and prepare document to be signed by GDM.	Category 2 - Approved/Unpaid
· · · · ·		18-Mar-15	4	600.00	600.00	Administration	Draft request to asic re extension to als) suspension	Category 2 - Approved/Unpaid
Kelly-Anne Trenfield	Sr Managing Dir	10-Mai-10	'	000.00	000.00	Auminadation		Category 2
Kelly-Anne Trenfield	Sr Managing Dir	18-Mar-15	0.1	600.00	60.00	Administration	Revlew outstanding emails; mtrc to david whyte	Approved/Unpaid
Christine Stead	Senior Director	18-Mar-15	0.2	560.00	112.00	Administration	meeting with MM regarding Books and Records	Category 2 - Approved/Unpaid
vlegan Dopking	Administrative	18-Mar-15	0.3	135.00	40.50	Administration	Bank reconciliations	Corporate - Liquidation
Iohn Park	Senior Managing Director	18-Mar-15	0.1	600.00	60.00	Administration	Email update in Kelly Trenfield	Corporate - Liquidation
Slenn O'Keamey	Senior Director	18-Mar-15	0.2	560.00	112.00	Administration	Review bank statement error, amende MYOB entries for rec.	Corporate - Liquidation
Sienin O Realiney		10-101-10	V.*	000.00				Category 2 -
lohn Park	Sr Managing Dir	19-Mar-15	0.5	600.00	300.00	Administration	Review correspondence to ASIC regarding AFSL	Approved/Unpaid Category 2 -
anya Kratz	Admin II	19-Mar-15	0.1	175.00	17.50	Administration	Scan signed document; email to RFZ and mail original to GC office as requested.	Approved/Unpaid
Celly-Anne Trenfield	Sr Managing Dir	19-Mar-15	0.9	600.00	540.00	Administration		Category 2 - Approved/Unpaid
Jenn O'Kearney	Senior Director	19-Mar-15	0.2	560.00	112.00	Trade-on	Review and approve payment voucher grace storage costs, note to clouts regarding accounts for refunds.	Category 2 - Approved/Unpaid
	Senior Director	19-Mar-15	0.2	560.00	112.00	Administration	issue instructions to KR re LM payment request from KAT	Category 2 - Approved/Unpaid
Christine Stead	Senior Director	19-Mar-15	0.2	560.00		Administration		Category 2 - Approved/Unpaid
hristine Stead		19-Mar-15	0.1	135.00			Prepare payment voucher in MYOB - Grace Records Management (QLD) Pty Ltd Invoice	Category 2 - Approved/Unpald
nitany Newman						, anni i badabii		Category 2 - Approved/Unpaid
inette Muller	CONSULTANT	19-Mar-15	0.3	600.00	180,00	Auministration	Review email from Keily-Annel Trenfield . Confirm via email to confirm instructions with Liedekerke on	

Characteristics Phates Charge Charge <t< th=""><th>LM Investment M Remuneration to</th><th>anagement Ltd (In Liqui 30 June 2018</th><th>dation)</th><th></th><th></th><th>3,204,515.29</th><th></th><th></th><th></th></t<>	LM Investment M Remuneration to	anagement Ltd (In Liqui 30 June 2018	dation)			3,204,515.29			
Subsychem Sinus Hungging Drevary 19 March 12 0.0 0.000 0.000 Find in the subsames and belging metating Option Option Sinus O'Conservy			Date	Hours	Charge Out Rate			Narrative	Classification
Select Deschr 19-Mer 15 0.1 90.00 One Construct More and space or poynent Object u20/politin u2002 Oppose Oppose Bierr O'Koarmy Select Deschr 19-Mer 15 0.5 135.00 132.00 Admisistation Oppose Oppos	Caroline Halcoop	Administration 2	19-Mar-15	0.1	175.00	17.50	Administration	MYOB processing RV key in only x 6 - BN	Corporate - Liquidation
Starts Director 19-March 5 0.1 69:00 40000 40000 Administration Despination D	Kelly-Anne Trenfield	Senior Managing Director	19-Mar-15	0.1	600.00	60.00	Assets	Emails in re insurance and belgium matter	Corporate - Liquidation
Diffusy Network Administration 1 19 Harris 0 0.5 135.00 132.00 Administration Proper payment vocabur in MORE - Dayloc UT2 - Invoice 3882091 Ocepaministration Kally-Arine Tranfield St Managing Dir 23 Mar-15 0.5 600.00 Administration Releging and update to bits transmitting terms Administration Kally-Arine Tranfield St Managing Dir 23 Mar-15 0.5 600.00 Administration Releging and update to bits transmittion and signing of material on statistica intructing review of support of 25 material on statistica intructing review of support of 25 material on statistica intructing review of support of 25 material on statistica intructing review of support of 25 material on statistica intructing review of support of 25 material on statistica intructing review of support of 25 material on statistica intructing review of support of 25 material on statistica intructing review of support of 25 material on statistica intructing review of support of 25 material and support of 25	Glenn O'Kearney	Senior Director	19-Mar-15	0.1	560.00	56.00	Creditors	Review and approve payment Clayton utz/legal/insurance.	Corporate - Liquidation
Binary Newman Administration 19-base 15 0.1 133.00 133.00 40.00 Proprese prymetrix outher in MPG- Eligition UT2 - twoke ab3282011 Composition Kally Anna Trenfield Sr Managing Dr. 23-Mar-15 0.5 600.00 60.00 Administration Proprese prymetrix outher in MPG- Eligition UT2 - twoke ab3282011 Composition Kally Anna Trenfield Sr Managing Dr. 23-Mar-15 0.5 600.00 60.00 Administration Proprese prymetrix outher in MPG-Eligition UT2 - twoke ab3282011 Composition Composition <t< td=""><td></td><td></td><td>19-Mar-15</td><td>0.1</td><td>560.00</td><td>56.00</td><td>Administration</td><td>Review bank reconciliation</td><td>Corporate - Liquidation</td></t<>			19-Mar-15	0.1	560.00	56.00	Administration	Review bank reconciliation	Corporate - Liquidation
Kelly-Anne Tranfold Sr Managing Dir 20.Mar-15 0.1 000.00 0.0.0 Administration Review and update to de let: query outstanding term Catagory (2)						13.50		Prepare payment voucher in MYOB - Clayton UTZ - Invoice 3852691	Corporate - Liquidation
And the second of the									Category 2 -
Self-yone Trenfield Sf Managing Dr 29.44r-15 0.5 660.00 680.00 680.00 680.00 680.00 680.00 680.00 680.00 680.00 680.00 680.00 680.00 680.00 680.00 680.00 680.00 680.00 680.00 680.00 680.00 780.00 680.00 780.00 680.00 780.00 680.00 780.00 680.00 780.00 680.00 780.00 680.00 780.00 <td>Kelly-Anne Trenfield</td> <td>Sr Managing Dir</td> <td>20-Mar-15</td> <td>0.1</td> <td>600,00</td> <td>60.00</td> <td>Administration</td> <td></td> <td>Approved/Unpaid</td>	Kelly-Anne Trenfield	Sr Managing Dir	20-Mar-15	0.1	600,00	60.00	Administration		Approved/Unpaid
Construction Section 2 Description Description <thdescription< th=""> <thdescription< th=""></thdescription<></thdescription<>		Ou Managing Dia	00 14 45		600.00	80.00	8 desinformation		Category 2 - Approved/Unpaid
John ParkPrivate <td>Kelly-Anne Trennela</td> <td>Sr Managing Dir</td> <td>20-Mar-15</td> <td>0,1</td> <td>000.00</td> <td>00.00</td> <td>Administration</td> <td></td> <td>Category 2 -</td>	Kelly-Anne Trennela	Sr Managing Dir	20-Mar-15	0,1	000.00	00.00	Administration		Category 2 -
Glem O'Keamey Series Director 29-Mar-15 0.2 56000 11200 Trade-on Discuss 484 address for Lunds. BN review and sign off on latter to A10. Reagong a datagong a da	John Park	Sr Managing Dir	20-Mar-15	0.1	600.00	60.00	Administration	Email in Stephen Russell	Approved/Unpaid
Decision Anticology Decision Anticology <thdecision anticology<="" th=""> Decision Anticology</thdecision>			1				1		Category 2 -
Greeks Mufar CONSULTANT 29.Mar-15 1 000.00 Administration Rease a bab Senier Director 20.Mar-15 0.1 51.00 Administration Proceeds Composite Composite <t< td=""><td>Glenn O'Kearney</td><td>Senior Director</td><td>20-Mar-15</td><td>0.2</td><td>560.00</td><td>112.00</td><td>Trade-on</td><td></td><td>Approved/Unpaid</td></t<>	Glenn O'Kearney	Senior Director	20-Mar-15	0.2	560.00	112.00	Trade-on		Approved/Unpaid
Control Device United Device United Device United Strike Device United Strike Device United Composite Reinel LObb Service Director 23 Mar-15 0.1 51.00 113.00 File work worth of eart emails. Composite Reine Lobb Service Director 23 Mar-15 0.1 51.000 Trade-on Resues 16 if Aud update from John Corbett and RFZ. Approved/ Reines Lobb Service Director 23 Mar-15 0.2 51.000 102.00 Administration File work worth of eart emails. Composite Camposite Reines Lobb Service Director 23 Mar-15 0.2 50.000 120.00 Administration File Worth Name	Cinallo Mullot	CONCULTANT	30 Mor 15		600.00	600.00	Administration		Approved/Unpaid
Name Construction									Corporate - Liquidation
Christing Read Service Director 23-Mar-16 0.1 F1000 F10000 F100000 F1000000 F			+						Corporate - Liquidation
Nonser Lobol Lobol <t< td=""><td>Brittany Newman</td><td>Administration 1</td><td>20-Mar-15</td><td>0.1</td><td>135.00</td><td>13.50</td><td>Administration</td><td></td><td>Category 2 -</td></t<>	Brittany Newman	Administration 1	20-Mar-15	0.1	135.00	13.50	Administration		Category 2 -
Reve Lob Senior Director 23-Mar-15 0.2 510.0 102.00 Administration appropriate regramment. Approve/1 Approve/1 Kely-Arne Trenfield Sr Managing Dir 23-Mar-15 0.2 600.00 120.00 Administration regramment. Approve/1 Approve/1 Approve/1 Category 2 Christine Stead Senior Director 23-Mar-15 0.2 600.00 120.00 Administration regramment. Mapprove/1 Category 2 Glenn O'Keamey Senior Director 23-Mar-15 0.2 550.00 112.00 Tred-e-or review or records, further review of GC records Approve/1 Glenn O'Keamey Senior Director 23-Mar-15 0.2 550.00 112.00 Tred-e-or review corcespondence with epitant regarding paired. Category 2 Glene Muller CONSULTANT 23-Mar-15 0.3 660.00 180.00 Administration Review correspondence with epitant regarding paired. Sch 2 Category 2 Greete Muller CONSULTANT 23-Mar-15 0.3 660.00 Administr	Renee Lobb	Senior Director	23-Mar-15	0.1	510.00	51.00	Trade-on	Request full fund update from John Corbett and RFZ.	Approved/Unpaid
Name Database Database <th< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td>Category 2 -</td></th<>									Category 2 -
Kelly-Anne Trenfield Sr Managing Dir 23-Mar-15 0.2 600.00 120.00 Administration re install of LM records from line server Approve/47 Chrisaline Stead Senior Director 23-Mar-15 0.3 560.00 148.00 Administration enail Induct from IRT e review of records, further review of GC records Approve/47 Glaun O'Kearney Senior Director 23-Mar-15 0.3 600.00 112.00 Trade-on review reconciliation and payments. Composition Approve/47 Glaun O'Kearney CONSULTANT 23-Mar-15 0.3 600.00 180.00 Administration Review correspondence from Trent Franklin; forward to KAT and others for further action. Approve/47 Gardine Halcoop Administration Review correspondence from Trent Franklin; forward to KAT and others for further action. Approve/47 Carcline Halcoop Administration Review oursepondence from Trent Franklin; forward to KAT and others for further action. Approve/47 Carcline Halcoop Administration Review wersit from aspector and WOB; set up Commbite transfer - KAT for approval - BN Corporates Carcline Halcoop Za-Mane15 0.3	Renee Lobb	Senior Director	23-Mar-15	0.2	510.00	102.00	Administration		Approved/Unpaid
Network Construction		O. M In Dis	02 14 15	0.0	600.00	100.00	Administration		Approved/Unpaid
Christian Beladid Oran Of Keamey Senior Director 23-Mar-15 0.2 560.00 112.00 Trade-on review reconciliation and payments. Approved/1 Glann Of Keamey Senior Director 23-Mar-15 0.2 560.00 112.00 Trade-on review reconciliation and payments. Approved/1 Glanet Muller CONSULTANT 23-Mar-15 0.3 600.00 180.00 Administration Review correspondence from Trent Franklin; forward to KAT and others for further action. Approved/1 Ginete Muller CONSULTANT 23-Mar-15 1 600.00 Administration Wenstex – review situation of McGrath with JED; consider lasses etc. 1.0 Approved/1 Carcina Halcoxid Senior Managing Director 23-Mar-15 0.3 600.00 180.00 Administration Post and print voculer on MrOS; set up Commbit; transfer - KAT for approval - BN Corporate Carcina Halcoxid Senior Director 24-Mar-15 0.2 510.00 102.00 Creditors Respond to request for full fund update. Approved/1 Kely-Anne Trenfield Sr Managing Dir 24-Mar-15 0.1 600.00 66.00 Administration meeting with AJT re updato on Im matters	Kelly-Anne Trentiela	Sr Managing Dir	23-14/21-10	0.2	000.00	120.00	Auminisuauon		Category 2 -
Glam O'Keamey Senior Director 23-Mar-15 0.2 560.00 112.00 Correspondence with eghart regrang asic fund charges, correspondence in redever of fund records Category 2 Gine Muler CONSULTANT 23-Mar-15 0.3 600.00 180.00 Administration Review correspondence from Trent Franklin; forward to KAT and others for further action. Values of the second and payments. Values of	Christine Stead	Senior Director	23-Mar-15	0.3	560.00	168.00	Administration		Approved/Unpaid
Galant Or Beening? Sellin Director Constraints			1 1						
Gameter Muller CONSULTANT 23-Mar-15 0.3 600.00 180.00 Administration Review correspondence from Trent Franklin; forward to KAT and others for further action. Approved/L Gineter Muller CONSULTANT 23-Mar-15 1 600.00 600.00 Administration Post and print voucher on MYOB; set up Commbit transfer - KAT for approval - BN Corporate Caroline Halcoop Administration 2 23-Mar-15 0.3 600.00 180.00 Administration Post and print voucher on MYOB; set up Commbit transfer - KAT for approval - BN Corporate Caroline Halcoop Administration 2 23-Mar-15 0.3 600.00 180.00 Administration Review anal in from stephen nusseli; draft response for JRP re remuneration/cost position Category 2 Review Trent Finaldi Sr Managing Dir 24-Mar-15 0.9 600.00 600.00 Administration meeting with AJT re update on Im matters Approved/L Category 2 Administration Feview and amend F484 re change of registered office Approved/L Category 2 Category 2 Administration Administration review and amend F484 re change of registered office	Glenn O'Keamey	Senior Director	23-Mar-15	0.2	560.00	112.00	Trade-on	review reconciliation and payments.	
Same Public Construct Public Constand Public Construct Public	Cincilla Mullen		22 Mar 15	0.9	600.00	180.00	Administration	Review correspondence from Trent Franklin; forward to KAT and others for further action.	Approved/Unpaid
Contract multiple Co			20-10/01-10	0.3	000.00	100.00	Auton		Category 2 -
Catching Hallcoop Continuity of the construction of the constructi	Ginette Muller	CONSULTANT	23-Mar-15	1	600.00	600.00	Administration		Approved/Unpaid
Renee Lobb Senior Director 24-Mar-15 0.2 510.00 102.00 Creditors Respond to request for full fund update. Category 2 Kelly-Anne Trenfield Sr Managing Dir 24-Mar-15 0.9 600.00 540.00 Administration meeting with AJT re update on Im matters Approved/L Kelly-Anne Trenfield Sr Managing Dir 24-Mar-15 0.1 600.00 60.00 Administration review and amend F484 re change of registered office Approved/L Kelly-Anne Trenfield Sr Managing Dir 24-Mar-15 0.1 600.00 60.00 Administration review and amend F484 re change of registered office Approved/L Christine Stead Senior Director 24-Mar-15 0.1 600.00 60.00 Administration category 2 Sinette Muller CONSULTANT 24-Mar-15 0.2 560.00 112.00 Administration See KR regarding review of records Approved/L Category 2 Sinette Muller CONSULTANT 24-Mar-15 0.5 600.00 300.00 Administration Review main tront Claydon Uz regarding the leasues carefully after reading their letter. Approved/L Renee Lobb	Caroline Halcoop	Administration 2	23-Mar-15	0.1	175.00	17.50	Administration	Post and print voucher on MYOB; set up Commbiz transfer - KAT for approval - BN	Corporate - Liquidation
Renee Lobb Senior Director 24-Mar-15 0.2 510.00 102.00 Creditors Respond to request for full fund update. Approved/L Kelly-Anne Trenfield Sr Managing Dir 24-Mar-15 0.9 600.00 540.00 Administration meeting with AJT re update on Im matters Approved/L Kelly-Anne Trenfield Sr Managing Dir 24-Mar-15 0.1 600.00 60.00 Administration review and amend F484 re change of registered office Approved/L Kelly-Anne Trenfield Sr Managing Dir 24-Mar-15 0.1 600.00 60.00 Administration review and amend F484 re change of registered office Approved/L Category Z Kelly-Anne Trenfield Sr Managing Dir 24-Mar-15 0.1 600.00 60.00 Administration call with AJT re LM status; email in from ASIC re waiver f privilege Approved/L Christine Stead Senior Director 24-Mar-15 0.2 560.00 112.00 Administration See KR regarding review of records Category Z Approved/L Sincete Muller CONSULTANT 24-Mar-15 0.5 600.00 300.00 Administration Review man mont Cidyan Uz regaraning Carony reage	Kelly-Anne Trenfield	Senior Managing Director	23-Mar-15	0.3	600.00	180.00	Administration	Review email in from stephen russell; draft response for JRP re remuneration/cost position	Corporate - Liquidation
Vertice (100) Settion Director 24-Wain-15 0.2 0.1000 102-00 Orbitation Performance Category 2 Approved/L Category 2 Kelly-Anne Trenfield Sr Managing Dir 24-Mar-15 0.9 600.00 540.00 Administration meeting with AJT re update on Im matters Approved/L Category 2 Kelly-Anne Trenfield Sr Managing Dir 24-Mar-15 0.1 600.00 60.00 Administration review and amend F484 re change of registered office Approved/L Kelly-Anne Trenfield Sr Managing Dir 24-Mar-15 0.1 600.00 60.00 Administration call with AJT re LM status; ernail in from ASIC re waiver f privilege Approved/L Christine Stead Senior Director 24-Mar-15 0.2 560.00 112.00 Administration See KR regarding review of records Approved/L Category 2 Christine Stead Senior Director 24-Mar-15 0.5 600.00 300.00 Administration call with AJT re LM status; ernail in from ASIC regarding the necessity to renew or show reasons why the Category 2 corporata-company's AFSL ought not be cancelled. Consider the issues caref			1						
Kelly-Anne Trenfield Sr Managing Dir 24-Mar-15 0.9 600.00 540.00 Administration meeting with AJT re update on Im matters Approved/L Kelly-Anne Trenfield Sr Managing Dir 24-Mar-15 0.1 600.00 60.00 Administration review and amend F484 re change of registered office Approved/L Kelly-Anne Trenfield Sr Managing Dir 24-Mar-15 0.1 600.00 60.00 Administration review and amend F484 re change of registered office Approved/L Kelly-Anne Trenfield Sr Managing Dir 24-Mar-15 0.1 600.00 60.00 Administration call with AJT re update on Im matters Approved/L Christine Stead Senior Director 24-Mar-15 0.2 560.00 112.00 Administration call with AJT re update on Im matters Conserved /L Category 2- Ginette Muller CONSULTANT 24-Mar-15 0.2 560.00 102.00 Administration carregory 2- company's AFSL ought not be cancelled. Consider the Issues carefully after reading thei letter. Approved/L Renee Lobb Senior Director 24-Mar-15 0.2 510.00 102.00 Investigations accordance wi	Renee Lobb	Senior Director	24-Mar-15	0.2	510.00	102.00	Creditors	Respond to request for full fund update.	
Kelly-Anne Trenfield Sr Managing Dir 24-Mar-15 0.1 600.00 60.00 Administration review and amend F484 re change of registered office Approved/L Kelly-Anne Trenfield Sr Managing Dir 24-Mar-15 0.1 600.00 60.00 Administration review and amend F484 re change of registered office Approved/L Kelly-Anne Trenfield Sr Managing Dir 24-Mar-15 0.1 600.00 60.00 Administration call with AJT re LM status; ernail in from ASIC re waiver f privilege Approved/L Christine Stead Senior Director 24-Mar-15 0.2 560.00 112.00 Administration See KR regarding review of records Approved/L Ginette Muller CONSULTANT 24-Mar-15 0.5 600.00 300.00 Administration company's AFSL ought not be cancelled. Consider the Issues carefully after reading their letter. Approved/L Renee Lobb Senior Director 24-Mar-15 0.3 600.00 102.00 Investigations accordance with lawyer instructions. Corporate - John Park Senior Managing Director 24-Mar-15 0.3 600.00 Administration Review and sign various ASIC lodgements Corporate -<	Kallu Anna Tranfiald	Pr Manasina Dir	74 Mor 15	0.01	800.00	540.00	Administration	meeting with AJT re update on im matters	Approved/Unpaid
Kelly-Anne Treffield Sr Managing Dir 24-Mar-15 0.1 600.00 60.00 Administration call with AJT re LM status; email in from ASIC re waiver f privilege Approved/L Kelly-Anne Trenfield Sr Managing Dir 24-Mar-15 0.1 600.00 60.00 Administration call with AJT re LM status; email in from ASIC re waiver f privilege Approved/L Christine Stead Senior Director 24-Mar-15 0.2 560.00 112.00 Administration See KR regarding review of records Approved/L Sinette Muller CONSULTANT 24-Mar-15 0.5 600.00 300.00 Administration Review email for origination to be cancelled. Consider the Issues carefully after reading their letter. Approved/L Sinette Muller CONSULTANT 24-Mar-15 0.2 510.00 102.00 Investigations accordance with lawyer instructions. Corporate Corporate Renee Lobb Senior Director 24-Mar-15 0.3 600.00 24.00.00 Assets Review and sign various ASIC lodgements Corporate John Park Senior Managing Director 24-Mar-15 0.1 600.00 Administration Review AIF situation RZ overseas issue finalisation	Keny-Anne Trenneid		24-14101-13	0.3	000.00	040.00	Autorioucuon		Category 2 -
Kelly-Anne Trenfield Sr Managing Dir 24-Mar-15 0.1 600.00 60.00 Administration call with AJT re LM status; email in from ASIC re waiver f privilege Approved/L Christine Stead Senior Director 24-Mar-15 0.2 560.00 112.00 Administration See KR regarding review of records Approved/L Approved/L Ginette Muller CONSULTANT 24-Mar-15 0.5 600.00 300.00 Administration See KR regarding review of records Approved/L Approved/L Renee Lobb Senior Director 24-Mar-15 0.5 600.00 300.00 Administration company's AFSL ought not be cancelled. Consider the Issues carefully after reading their letter. Approved/L Renee Lobb Senior Director 24-Mar-15 0.2 510.00 102.00 Investigations accordance with lawyer instructions. Corporate Corporate John Park Senior Managing Director 24-Mar-15 0.3 600.00 2400.00 Assets Review All situation RZ overseas issue finalisation and wind back fund issue Written Off John Park Sr Managing Dir 25-Mar-15 0.1 600.00 60.00 Administration	Kelly-Anne Trenfield	Sr Managing Dir	24-Mar-15	0.1	600.00	60.00	Administration	review and amend F484 re change of registered office	Approved/Unpaid
Keing-Anne Hermiend Sin Managing Dire 24-Mar-15 0.1 Genome Concernment Administration See KR regarding review of records Category 2 Christine Stead Senior Director 24-Mar-15 0.2 560.00 112.00 Administration See KR regarding review of records Christine Stead Approved/L Ginette Muller CONSULTANT 24-Mar-15 0.5 6600.00 300.00 Administration Company's AFSL ought not be cancelled. Consider the Issues carefully after reading their letter. Approved/L Renee Lobb Senior Director 24-Mar-15 0.2 510.00 102.00 Investigations accordance with lawyer instructions. Corporate Renee Lobb Senior Managing Director 24-Mar-15 0.3 600.00 180.00 Administration Review and sign various ASIC lodgements Corporate John Park Senior Managing Director 24-Mar-15 0.1 600.00 2,400.00 Assets Review and sign various ASIC lodgements Corporate John Park Senior Managing Dir 25-Mar-15 0.1 600.00 60.00 Administration Review All Situation RZ overseas issue finalisation and wind back fund issue								entl with A (T to 1 M status; amail in from ASIC re waiver f articilege	Approved/Unpaid
Christine Stead Senior Director 24-Mar-15 0.2 560.00 112.00 Administration See KR regarding review of records Approved/L Approved/L Ginette Muller CONSULTANT 24-Mar-15 0.5 600.00 300.00 Administration Company's AFSL ought not be cancelled. Consider the Issues carefully after reading their letter. Approved/L Renee Lobb Senior Director 24-Mar-15 0.2 510.00 102.00 Investigations accordance with lawyer instructions. Corporate Corporate John Park Senior Managing Director 24-Mar-15 0.3 600.00 2,400.00 Assets Review AIF situation Review and sign various ASIC lodgements Corporate Category 2 John Park Sr Managing Director 25-Mar-15 0.1 600.00 60.00 Administration Review AIF situation Review and sign various ASIC request Approved/L Category 2 John Park Sr Managing Director 25-Mar-15 0.1 600.00 60.00 Administration Review Kelly Trenfield update on ASIC request Approved/L Keiver wasic act re power for disclosure of LM Information provided to asic during investigations; dratt Category 2 Category 2 </td <td>Kelly-Anne Trenfield</td> <td>Sr Managing Dir</td> <td>24-Mar-15</td> <td>0.1</td> <td>600.00</td> <td>60.00</td> <td>Administration</td> <td></td> <td>Category 2 -</td>	Kelly-Anne Trenfield	Sr Managing Dir	24-Mar-15	0.1	600.00	60.00	Administration		Category 2 -
Annual Conduct Consistence Construction Construction Construction Category 2 Ginetic Muller CONSULTANT 24-Mar-15 0.5 600.00 300.00 Administration company's AFSL ought not be cancelled. Consider the Issues carefully after reading their letter. Approved/L Renee Lobb Senior Director 24-Mar-15 0.2 510.00 102.00 Investigations accordance with lawyer instructions. Corporate John Park Senior Managing Director 24-Mar-15 0.3 600.00 180.00 Administration Review and sign various ASIC lodgements Corporate John Park Senior Managing Director 24-Mar-15 0.1 600.00 2,400.00 Assets Review AIF situation R2 overseas issue finalisation and wind back fund issue Written Offic John Park Sr Managing Dir 25-Mar-15 0.1 600.00 60.00 Administration Review Kelly Trenfield update on ASIC request Approved/L John Park Sr Managing Dir 25-Mar-15 0.1 600.00 60.00 Administration Review Kelly Trenfield update on ASIC request Approved/U John Park Sr Managing Dir 25-Mar-15	Christing Stead	Senior Director	24-Mar-15	0.2	560.00	112.00	Administration	See KR regarding review of records	Approved/Unpaid
Sandar Bender Managing Director 24-Mar-15 0.0 510.00 102.00 Investigations Review emain from Clayton Utz regarding Carolyn Hodge and Beigium claim. Tespond to same in accordance with lawyer instructions. Corporate John Park Senior Managing Director 24-Mar-15 0.3 600.00 180.00 Administration Review emain from Clayton Utz regarding Carolyn Hodge and Beigium claim. Tespond to same in accordance with lawyer instructions. Corporate John Park Senior Managing Director 24-Mar-15 0.3 600.00 180.00 Administration Review emails gin various ASIC lodgements Corporate John Park Senior Managing Director 24-Mar-15 4 600.00 2,400.00 Assets Review All F situation RZ overseas issue finalisation and wind back fund issue Written Off John Park Sr Managing Dir 25-Mar-15 0.1 600.00 60.00 Administration Review Kelly Trenfield update on ASIC request Approved/U Review asic act re power for disclosure of LM information provided to asic during investigations; drait Category 2			24 Mar 10	0.2	000.00			LM correspondence from ASIC regarding the necessity to renew or show reasons why the	Category 2 -
Renee Lobb Senior Director 24-Mar-15 0.2 510.00 102.00 Investigations accordance with lawyer instructions. Corporate John Park Senior Managing Director 24-Mar-15 0.3 600.00 180.00 Administration Review and sign various ASIC lodgements Corporate Damian Bender Managing Director 24-Mar-15 4 600.00 2,400.00 Assets Review AIF situation RZ overseas issue finalisation and wind back fund issue Writen Off, Cargory 2- ohn Park Fr Managing Director 25-Mar-15 0.1 600.00 600.00 Administration Review Kelly Trenfield update on ASIC request Agreeover for disclosure of LM information provided to asic during investigations; drait Cargory 2- ohn Park Fr Managing Director 25-Mar-15 0.1 600.00 600.00 Review Kelly Trenfield update on ASIC request Agreeover for disclosure of LM information provided to asic during investigations; drait Cargory 2-	Sinette Muller	CONSULTANT	24-Mar-15	0.5	600.00	300.00	Administration	company's AFSL ought not be cancelled. Consider the Issues carefully after reading their letter.	Approved/Unpaid
Value Composition 24-Wain 15 0.2 0.1000 100.00 100.00 100.00 100.00 Administration Review and sign various ASIC lodgements Corporate Iohn Park Senior Managing Director 24-Mar-15 0.3 600.00 180.00 Administration Review and sign various ASIC lodgements Corporate Damian Bender Managing Director 24-Mar-15 4 600.00 2,400.00 Assets Review AIF situation RZ overseas issue finalisation and wind back fund issue Written Offic Iohn Park Sr Managing Dir 25-Mar-15 0.1 600.00 60.00 Administration Review Kelly Trenfield update on ASIC request Approved/U Iohn Park Sr Managing Dir 25-Mar-15 0.1 600.00 60.00 Review asic act re power for disclosure of LM information provided to asic during investigations; draft Category 2			04.44		E40.00	403.00	Investigations		Corporate - Liquidation
Open Park Ser Managing Director 24-Mar-15 0.1 600.00 2,400.00 Assets Review AIF situation RZ overseas issue finalisation and wind back fund issue Written Official operation of the provided to asic during investigations; drait Category 2- Approved/U ohn Park Sr Managing Dir 25-Mar-15 0.1 600.00 600.00 Administration Review AIF situation RZ overseas issue finalisation and wind back fund issue Written Official oppoved/U ohn Park Sr Managing Dir 25-Mar-15 0.1 600.00 600.00 Review Kelly Trenfield update on ASIC request Approved/U Review asic act re power for disclosure of LM information provided to asic during investigations; drait Category 2- Category 2- Category 2-									Corporate - Liquidation
variant bender warraging Director 24-war-rs 4 600.00 2,400.00 Assets catalant accurate accur				0.3					Written Off/Not claimed
ohn Park Sr Managing Dir 25-Mar-15 0.1 600.00 60.00 Administration Review Kelly Trenfield update on ASIC request Approved/U Review asic act re power for disclosure of LM information provided to asic during investigations; drait Category 2	Jamian Bender	Managing Director	24-Mar-15	4	600.00	2,400.00	Assels		Category 2 -
Review asic act re power for disclosure of LM information provided to asic during investigations; draft Category 2-	obn Park	Sr Managing Dir	25-Mar-15	0.1	600.00	60.00	Administration	Review Kelly Trenfield update on ASIC request	Approved/Unpaid
Celly Apar Transfold Sc Managing Dire 25 Mar 15 0.5 sol and 200.00 Administration Jernal to Rvan Rourke at ASIC re source of information Approved/U	STATE SIN	ist managing on	10 - 10 MIGH-10	U . 1	000.00	00.00	, idini ila delori	Review asic act re power for disclosure of LM information provided to asic during investigations; draft	
eliy-Anna Traineid Si Managing Dii 25-Mar-15 0.5 000,00 300,00 Jahimisdation Character State	Kelly-Anne Trenfield	Sr Managing Dir	25-Mar-15	0.5	600.00	300.00	Administration	email to Ryan Rourke at ASIC re source of information	Approved/Unpaid

 \bigcirc

LM investment Ma Remuneration to	anagement Ltd (in Liqu 30 June 2018	idation)			3,204,515.29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Kelly-Anne Trenfield	Sr Managing Dir	25-Mar-15	0.2	600.00	120.00	Administration	Update to gdm re asic request for waiver of privilegeReview incoming documentation, consider and send to filing	Category 2 - Approved/Unpaid
Glenn O'Keamey	Senior Director	25-Mar-15	0.1	560.00	56.00	Assets	Review account regarding receipt of refund receivers cost.	Category 2 - Approved/Unpaid
Ginette Muller	CONSULTANT	25-Mar-15	0.2	600.00	120.00	Administration	Email to KAT about the ASIC correspondence and next steps.	Category 2 - Approved/Unpaid
Caroline Halcoop	Administration 2	25-Mar-15	0.1	175.00	17.50	Administration	Authorise commbiz payment x 1	Corporate - Liquidation
Renee Lobb	Senior Director	25-Mar-15	0.3	510.00	153.00	Investigations	Insurance update with Christ Erlurt. Discuss progress on information required for insurance analysis and follow up with RFZ, CMA, and Kelly-Anne Trenfield.	Corporate - Liquidation
John Park	Sr Managing Dir	26-Mar-15	0.1	600.00	60.00	Administration	Email in Russells	Category 2 - Approved/Unpaid
Kelly-Anne Trenfield	Sr Managing Dir	26-Mar-15	0.2	600.00	120.00	Administration	Email in and draft response re audit queries; Review incoming documentation, consider and send to filling	Category 2 - Approved/Unpaid
Christine Stead	Senior Director	26-Mar-15	0.7	560.00	392.00	Administration	Review USB of Credit committee minutes and email out to RCL; save data on H:/	Category 2 - Approved/Unpaid
Glenn O'Keamey	Senior Director	26-Mar-15	0.1	560.00	56.00	Creditors	Note to BN regarding armstrong account payment fund costs.	Category 2 - Approved/Unpaid
	Queine Director	26-Mar-15	0.2	510.00	102.00	Investigations	Review email from CMA and update Kelly on movement with minters. send information to Clayton Ut for insurance analysis.	Corporate - Liquidation
Renee Lobb	Senior Director Senior Director	26-Mar-15	0.2	510.00	51.00	Investigations	Review article from Clayton Utz on fitigation matters.	Corporate - Liquidation
Renee Lobb							consult wan reveal non-recent consult on participation of the version of the matching and found that failed as well. Provided CA with proposal of how to move forward: NAS access via network, and	Category 2 - Approved/Unpaid
Madhu Menon	Sr. Consult I	27-Mar-15	1.5	360.00	540.00	Administration	contact vendor for another copy of VM's.	Category 2 -
John Park	Sr Managing Dir	27-Mar-15	0.2	600.00	120.00	Administration	Correspondence in Russells	Approved/Unpaid Category 2 -
Christine Stead	Senior Director	27-Mar-15	0.2	560.00	112.00	Administration	Meeting with MM regarding books and records and discussions with Patrick Ma	Approved/Unpaid
Brittany Newman	Administration 1	27-Mar-15	0.1	135.00	13.50	Administration	Mail in from ATO - BAS (1 Jan - 31 Mar 2015)	Corporate - Liquidation
Christine Stead	Seniar Director	30-Mar-15	0.1	560.00	56.00	Administration	Review update from Madhu re books and records	Category 2 - Approved/Unpaid
Kelly-Anne Tranfield	Sr Managing Dir	30-Mar-15	0.1	600.00	60.00	Administration	Review and approve payment of outstanding administration liabilities including review of supporting documentation and signing of transfer or cheque	Category 2 - Approved/Unpaid
Renee Lobb	Senior Director	31-Mar-15	0.2	510.00	102.00	Creditors	Respond to creditor query an commissions.	Category 2 - Approved/Unpaid
Kelly-Anne Trenfield	Sr Managing Dir	31-Mar-15	0.3	600.00	180.00	Administration	Call to peter Schmidt re asic request to waive privilege; email to GDM/JRP re responseReview and update to do list; query outstanding items	Category 2 - Approved/Unpaid
Glenn O'Kearney	Senior Director	31-Mar-15	0.1	560.00	56.00	Administration	Update wip drawings sheet with transactions	Corporate - Liquidation
Kelly-Anne Trenfield	Sr Managing Dir	01-Apr-15	0.5	600.00	300.00	Administration	Review advice from asic re details of notices and waiving of privilege; finalise letter and email to asis	Category 2 - Approved/Unpaid Category 2 -
john Park	Sr Managing Dir	01-Apr-15	0.2	600.00	120.00	Administration	Settle letter to ASIC regarding privilege Review email from KAT and JRP regarding ASIC privilege issues. Agree with Norton Rose and others	Approved/Unpaid Category 2 -
Ginette Muller	CONSULTANT	01-Apr-15	0.3	600.00	180.00	Administration	that privlege shouldn't be waived. Review update on potential peregian settlement. Review draft mento for Liedérkerke, send email to	Approved/Unpaid
Renee Lobb	Senior Director	01-Apr-15	0.2	510.00	102.00	Investigations	Kennew update on potential pergian actienter. Kennew draft mente for Electricities control on the Kennew Control of the Contro	Written Off/Not claimed
Renee Lobb	Senior Director	01-Apr-15	0.2	510.00	102.00	investigations	Review russells correspondence regarding potential peregian settlement, save to and print for file. Review email in and memo to begin in thim re initial adviceraview letter to insurer re indemnity costs	Written Off/Not claimed
(elly-Anne Trenfield	Senior Managing Director	01-Apr-15	0.4	600.00	240.00	Assets	and response re director claims	Corporate - Liquidation Category 2 -
ohn Park	Sr Managing Dir	02-Apr-15	0.1	600.00	60.00	Administration		Approved/Unpaid
lenee Lobb	Senior Director	02-Apr-15	0.2	510.00	102.00	Investigations	from Clayton Utz after review of Kelly-Anne Trenfield's response.	Corporate - Liquidation

LM Investment Mai Remuneration to 30	nagement Ltd (In Liquid) June 2018	dation)			3,204,515.29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative Alexandre and a second s	Classification
		07.0-045		600.00	040.00	Administration	Emails in ASIC / Russells, Discussion with Leanne Damary	Category 2 - Approved/Unpaid
John Park	Sr Managing Dir	07-Apr-15	i 0.4	600.00	240.00	Administration		Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	07-Apr-15	0.1	600.00	60.00	Administration	Review incoming documentation, consider and send to filing	Approved/Unpaid
								Category 2 -
Ginette Muller	CONSULTANT	07-Apr-15	0.5	600.00	300.00	Administration	ASIC correspondence - AFSL cancelled.	Approved/Unpaid
Kelly-Anne Trenfield	Senior Managing Director	07-Apr-15	0.3	600.00	180.00	Assets	Call in from Ashley Tiplady, Stephanie Willians and John Peden re application re belipac proceedings	Corporate - Liquidatio
	Contor Managing Enteres	1					Review email from Ryan regarding AFSL changes, Check with Kelly-Anne Trentield as to whether to	
Renee Lobb	Senior Director	08-Apr-15	0.1	510.00	51.00	Administration	update with a website note.	Approved/Unpaid Category 2 -
Sension Bandes	CONSULTANT	08-Apr-15	1.7	600.00	1.020.00	Accets	issue re license suspension / asic issues advise on powers ramifivations	Approved/Unpaid
)amian Bender	CONSULTANT	00-Api-15	<u> </u>	000.00	1,020.00	A33013		Category 2 -
Brittany Newman	Admin I	08-Apr-15	D.1	135.00	13.50	Administration	Mail in from ASIC - Invoice Statement 22 March 2015	Approved/Unpaid
······					(0.50		Mail in from Allens Linkaters - Correspondence; Audit of LMIM & the Managed Investment Schemes - vear ended 30 June 2013	Approved/Unpaid
Brittany Newman	Admin I	08-Apr-15	0.1	135.00	13.50	Administration		Category 2 -
Kellv-Anne Trenfield	Sr Managing Dir	08-Apr-15	0.1	600.00	60.00	Administration	Update to jrp re various issues	Approved/Unpaid
		0074710						Category 2 -
Celly-Anne Trenfield	Sr Managing Dir	08-Apr-15	0.1	600.00	60.00	Administration	pay; Review incoming documentation, consider and send to filing	Approved/Unpaid
ohn Park	Senior Managing Director	08-Apr-15	0.1	600.00	60.00	Administration	File Review KAT	Corporate - Liquidation
aroline Hałcoop	Administration 2	08-Apr-15	0.1	175.00	17.50	Administration	MYOB processing of PV and printing of cheque - CD	Corporate - Liquidation
Initiany Newman	Administration 1	08-Apr-15	0.3	135.00	40.50	Administration	Filing	Corporate - Liquidation
elly-Anne Trenfieid	Senior Managing Director	08-Apr-15	0.4	600.00	240.00	Administration	Meeting with AJT/Stephanie Williams re Mif hearing/peregian	Corporate - Liquidation
							Update website for extension in AFSL extension provided by ASIC on 2 April 2015.	Category 2 - Approved/Unpaid
Renee Lobb	Senior Director	09-Apr-15		510.00	102.00			Corporate - Liquidation
Celly-Anne Trenfield	Senior Managing Director	09-Apr-15		600.00	60.00	Administration	Review russells letter to gadens re discontinuance	Corporate - Liquidation
Celly-Anne Trenfield	Senior Managing Director	09-Apr-15	0.2	600.00	120.00	Administration	Emails in from russells re bellpac breach of trust claimupdate to Rod re mif claim	Category 2 -
	Senior Director	10-Apr-15	0.1	560.00	56.00	Trade-on	Discuss management funds Kelly	Approved/Unpaid
Blenn O'Kearney	Senior Director	10-Api-13	0.1	000.00	00.00			Category 2 -
Sinette Muller	CONSULTANT	10-Apr-15	0.5	600.00	300.00	Administration	Application material filed by Russells for May hearing; review and note same	Approved/Unpaid
elly-Anne Trenfield	Senior Managing Director	10-Apr-15	0.1	600.00	60.00	Administration	Review and update to do list; query outstanding items; review resource allocation	Corporate - Liquidation Category 2
							Review incoming documentation, consider and send to filing	Approved/Unpaid
elly-Anne Trenfield	Sr Managing Dir	13-Apr-15	0.1	600.00	60.00	Administration	Review incoming documentation, consider and some to many review email advice regarding tund imitation to tund insurance actions. Provide suggested action to	rippi of clay of ipara
lenee Lobb	Senior Director	13-Apr-15	0.2	510.00	102.00	Investigations	Kelly-Anne Trenfield and query funds allocation at this time for proceedings costs.	Corporate - Liquidation
								Category 2 - Approved/Unpaid
tenee Lobb	Senior Director	14-Apr-15	0.1	510.00	51.00	Investigations	Seek update from CMA on database reconstruction. Discuss insurance email and instructions to clayion Oiz with Keny-Anne Trenileio, Cali Chris and	Approved/ Unpaid
							discuss costs of engaging junior counsel and instruct to issue letter to inserters regarding limited	
tenee Lobb	Senior Director	14-Apr-15	0.3	510.00	153.00	Investigations	funds to continue defending insurance action.	Corporate - Liquidation
							Mail in front Russells re correspondence with Gadens and miniter ellison re proceedings and	Corporate - Liquidation
elly-Anne Trenfield	Senior Managing Director	14-Apr-15	0.4	600.00	240.00	Creditors	indemnity вепрас слатит - Нучем телентној (Прозвелско gadens не овсонци дансе, темем and спосиате - секте	
							engagement of russellsemail in from russells and jarrod villanireview emails re monaghan	
							adviceemail in from Russells re review of strategy; instruction re only to commence with books and	Corporate - Liquidation
eliy-Anne Trenfield	Senior Managing Director	14-Apr-15	0.7	600.00	420.00	Administration	records directions	Corporate - Liquidation
eliy-Anne Trenfield	Senior Managing Director	14-Apr-15	0.2	600.00	120.00	Assets	Advice from Clayton utz re meeting costs to defend; instruction to RCL response	Corporate - Liquidation Category 2 -
	Ocular Disader	45 4 45		E40.00	102.00	Administration	Emails with CMA regarding registry and ability to access database.	Approved/Unpaid
enee Lobb	Senior Director	15-Apr-15	0.2	510.00	102.00		Review and update to do list; query outstanding items Review incoming documentation, consider and	Category 2 -
elly-Anne Trenfield	Sr Managing Dir	15-Apr-15	0.2	600.00	120.00	Administration		Approved/Unpaid

 \frown

LM Investment Ma Remuneration to 3	nagement Ltd (In Liqui 0 June 2018	dation)			3,204,515.29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Christine Stead	Senior Director	15-Apr-15	0.4	560.00	224.00	Administration	See MM regarding books and records Review links from CMA regarding point 10 in schedule 10 for insurance information, note I cannot see	Category 2 - Approved/Unpaid
Renee Lobb	Senior Director	15-Apr-15	0.2	510.00	102.00	Investigations	suspension of redemption information in the documents.	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	15-Apr-15	0.4	600.00	240.00	Assets	Cair from mark waiter and chris re peregrammedia anticleemails in; quenes from releview email in from insurers solicitor and Clayton utz's recommendation; instructions to rel	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	15-Apr-15	0.4	600.00		Assets	Review emails re status of insurance and providing instructions to clayton utz	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	15-Apr-15	0.2	600.00	120.00	Administration	emails in/planing re realiocation of works	Corporate - Liquidation
Christine Stead	Senior Director	16-Apr-15	0.3	560.00	168.00	Administration	Phone Call to david Clout & Associates and Point of Contact to surety IT	Category 2 - Approved/Unpaid Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	16-Apr-15	0.1	600.00	60.00	Administration	RCL re update to website; emails in; CMA re status of books and records and update	Approved/Unpaid
		1					Review emails from Clayton Utz and Kelly-Anne Trenheid's responses. Provide instructions to Clayton Utz to issue correspondence as recommended.	Corporate - Liquidation
Renee Lobb	Senior Director	16-Apr-15	0.2	510.00	102.00	Investigations	Mail in from ASIC - Correspondence; Pay invoice and check company statement	Corporate - Liquidation
Brittany Newman	Administration 1	16-Apr-15	0.1	135.00	13.50	Administration		Category 2
Christine Stead	Senior Director	17-Apr-15	0.2	560.00	112.00	Administration	Phone Call in from surety IT and see MM	Approved/Unpaid Category 2 -
Christine Stead	Senior Director	17-Apr-15	0.6	560.00	336.00	Administration	Review books and records	Approved/Unpaid
Madhu Menon	Sr. Consult I	17-Apr-15	0.5	360.00	160.00	Administration	Advise CA on what the options are with Live data and vives provided spoke to som shiftin non- SurelyIT. Discussed contents of VM, and enquired on quotes to get them hosting it so we can access AX data.Jon advised there are upto 7 servers needed to be running for AX to work, as well as LM's domain controller.We are unable to provide hosting solution internally. Review and update to do list; query outstanding items Review incoming documentation, consider and	Category 2 - Approved/Unpaid
Kelly-Anne Trenfield	Sr Managing Dir	17-Apr-15	0.2	600.00	120.00	Administration	isend to filing	Approved/Unpaid
James Cook	Consultant I	17-Apr-15	0.7	270.00	189.00	Administration	Reviewing tax involces received from Russells. Preparing payment for EFF today. Correspondence with Finance re: same.	Corporate - Liquidation
	Administration 2	17-Apr-15	0.2	175.00	35.00	Administration	Post and print payment volicher and set up transfer on Commbiz - send back to JHC for checking and approval - returned and delivered to KAT for approval	Corporate - Liquidation
Caroline Halcoop	Administration 2						Review involces in Linim insurance matters/inigation matters, update registers, reconcile bank	Corporate - Liquidation
Glenn O'Kearney	Senior Director	20-Apr-15	0.5	560.00	280.00	Creditors	account etc.	Category 2 -
Renee Lobb	Senior Director	21-Apr-15	0.2	510.00	102.00	Trade-on	Emails regarding asset query for PTAL mortgage releases, fwd to GOK and RFZ.	Approved/Unpaid Category 2 -
James Cook	Consultant I	21-Apr-15	0.2	270.00	54.00	Administration	Attending to payments with BN.	Approved/Unpaid
·		1 1	0.2	560.00	413.00	Administration	Follow up KR regarding review records for capital distribution	Category 2 - Approved/Unpaid
Christine Stead	Senior Director	21-Apr-15	0.2	560.00	112.00	Administration		Cātegory 2 -
John Park	Sr Managing Dir	22-Apr-15	0.1	600.00	60.00	Assets	Review and payment of account Review records to assist GV lawyers, provide as much information as possible to establish ownership	Approved/Unpaid Category 2 -
Renee Lobb	Senior Director	22-Apr-15	0.3	510.00	153.00	Investigations	of issue.	Approved/Unpaid
		22-Apr-15	0.1	560.00	56.00	Administration	update from MM re quote from surety it	Category 2 - Approved/Unpaid
Christine Stead	Senior Director	22-Apr-15	0.1	135.00	13.50	Administration	Bank reconciliation	Corporate - Liquidation
Megan Dopking Glenn O'Keamey	Senior Director	22-Apr-15	0.2	560.00	112.00	Assets	Call from Chris at clayton utz to discuss funding arrangements.	Corporate - Liquidation
						8 desinioimile e	Emails in Russells. Discussion with Ashley Tiplady	Category 2 - Approved/Unpaid
	Sr Managing Dir	23-Apr-15	0.3	600.00 560.00	180.00	Administration Administration		Corporate - Liquidation
Glenn O'Kearney	Senior Director	23-Apr-15	0.1	560.00				Category 2 -
Christine Stead	Senior Director	24-Apr-15	0.9	560.00	504.00	Administration	RFZ review request	Approved/Unpaid Category 2 -
Carly Drew	Admin II	24-Apr-15	0.1	175.00	17.50	Administration	Scanned and emailed document signed by JRP to Stephani Williamson of Russells	Approved/Unpaid
Brittany Newman	Administration 1	24-Apr-15	0.1	135.00	13.50	Administration		Corporate - Liquidation
Britlany Newman	Administration 1	24-Apr-15	0.2	135.00	27.00	Administration	Prepare BAS (1 Jan - 31 Mar 2015)	Corporate - Liquidation

	nagement Ltd (in Liqui	dation)						
Remuneration to 3					3,204,515.29		Narrative	Classification
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	(varrative	Classification Category 2 -
Renee Lobb	Senior Director	27-Apr-15	0.1	510.00	51.00	Trade-on	Review email. respond requesting investor to identify fund in order to deal with query.	Approved/Unpaid
							Review and update to do list; query outstanding items; Review incoming documentation, consider and	
Kelly-Anne Trenfield	Sr Managing Dir	27-Apr-15	0.2	600.00	120.00	Administration	send to filing	Approved/Unpaid Category 2 -
Volly Anno Tronfield	Sr Managing Dir	27-Apr-15	0.17;	600.00	102.43	Creditors	Mail in from query to gadensemails in re B&R application; responses from gadens	Approved/Unpaid
Kelly-Anne Trenfield		27-541-13	0.17	000.00	102,40	Creditors		Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	27-Apr-15	0.1	600.00	60.00	Administration	Review and sign consultancy agreement with tickner	Approved/Unpaid
				000.00	77 67	Constituent	Mail in from query to gadensemails in re B&R application; responses from gadens	Category 2 - Approved/Unpaid
Kelly-Anne Trenfield	Sr Managing Dir	27-Apr-15	0.13	600.00	77.57	Creditors	Email out to KA1 regarding update and querying level of hosting required; further email in from MM	Category 2 -
Christine Stead	Senior Director	28-Apr-15	0.4	560.00	224.00	Administration	and issue query regarding licencing to KAT	Approved/Unpaid
					·			Category 2
Damian Bender	CONSULTANT	28-Apr-15	1	600.00	600.00	Administration	general fund administration	Approved/Unpaid Category 2 -
Dania Dandar	CONSULTANT	28-Apr-15	2	600.00	1,200.00	Administration	litigation discussions and review	Approved/Unpaid
Damian Bender	CONSULTANT	20-Api-15		000.00	1,200.00	Administration	Review and update to do list; query outstanding itemsReview incoming documentation, consider and	Category 2 -
Keliy-Anne Trenfield	Sr Managing Dir	28-Apr-15	0.4	600.00	240.00	Administration	send to filingCMA re access to B&R review position re access/info needed	Approved/Unpaid
Tracey Rumbold	Administration	28-Apr-15	0.2	175.00	35.00	Administration	Payment made on behalf of client and preparing AP voucher	Corporate - Liquidation
Caroline Halcoop	Administration 2	28-Apr-15	0.1	175.00	17.50	Administration	MYOB processing RV key in only - BJR	Corporate - Liquidation
							Post and print payment voucher and set up transfer on Commoiz - \$10,640.00 - ATC - 53R; send back to BJR for checking and approval; take to KAT for authorisation - authorise payment; send	
			0.01	175.00	E2 E0	Administration	remittance to BJR; put in overnight bag for GC.	Corporate - Liquidation
Caroline Halcoop	Administration 2	28-Apr-15	0.3	175.00	02.00	Administration	Record entries into MYOB from Clayton Utz funding and Clout & Ass retunds. Prepare updated BAS	
Benjamin Robson	Associate II	28-Apr-15	0.5	300.00	150.00	Trade-On	supporting documents with new entries included	Corporate - Liquidation
Benjamin Robson	Associate II	28-Apr-15	0.6	300.00	180.00	Trade-On	Prepare BAS lodgement and ATO direct credit payment for March 2015 Qtr	Corporate - Liquidation
							Processing and payment of BAS payment by EFT, Correspondence with CH regarding payment	Corporate - Liquidation
Benjamin Robson	Associate II	28-Apr-15	0.4	300.00	120.00	Administration	confirmation. Issue mail out to ATO Discuss LM bas and receipts etc BJK, review and sign off on receipts, review and sign off on BAS	corporate ·· Eigardation
Glenn O'Keamey	Senior Director	28-Apr-15	0.5	560.00	260.00	Administration	and worksheet.	Corporate - Liquidation
Glenin Orteanley		2074110					Review insurance update, cost indemnity on detence costs, revised rates and jurner discussions to	
Renee Lobb	Senior Director	29-Apr-15	0.3	510.00	153.00	Investigations		Corporate - Liquidation
Megan Dopking	Administrative	29-Apr-15	0.3	135.00	40.50	Administration	Bank reconciliations	Corporate - Liquidation
				560.00	56.00	Administration	See MM regarding books and records query from surety IT - licensing issues and hosting of emails	Approved/Unpaid
Christine Stead	Senior Director	30-Apr-15	0.1	560.00		Aumansuador		Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	30-Apr-15	0.2	600.00	120.00	Administration	update tom Ashley Teiplady re court hearing	Approved/Unpaid
Glenn O'Kearney	Senior Director	30-Apr-15	0.1	560.00	56.00	Assets	Review vouchers regarding funds MPF insurance matters .note to BJR regarding payments.	Corporate - Liquidation
Glenn O'Keamey	Senior Director	30-Apr-15	0.2	560.00	112.00	Creditors	Call from DJB regarding matter. review Russell invoice liq matters. forward BJR	Corporate - Liquidation
Glenn O'Keamey	Senior Director	01-May-15	0.1	560.00	56.00	Administration	Review legal invoice .note BJR regarding register. 2	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	01-May-15	0.1	600.00	60.00	Assets	Review email in from waller	Corporate - Liquidation
	Managing Director	02-May-15	0.5	600.00		Administration	30mins on Bellpac Litigation.	Corporate - Liquidation
Ginette Muller	Managing Director	02-Way-10		000.00	200.00			Category 2 -
Renee Lobb	Senior Director	04-May-15	0.1	510.00	51.00	Administration	Upload to websile 9th receiver update. Reconcillation of Consultants tee register, update with new invoices across all lunds, save invoices to	Approved/Unpaid
						Tanda an		Approved/Unpaid
Benjamin Robson	Consultant I	04-May-15	1	300.00	300.00	Trade-on		Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	04-May-15	0.1	600.00	60.00	Administration	Review email in from Russells; draft response to Stephen Russell re oulstanding costs	Approved/Unpaid
and a state of the								Category 2 -
Christine Stead	Senior Director	04-May-15	0.2	560.00	112.00	Administration	Review detailed quote from Surety IT and issue meeting request to KAT	Approved/Unpaid Category 2 -
	a 1 m .			580.00	EE 00	Administration	Discuss status of op cost invoices and fund payments.	Approved/Unpaid
	Senior Director	04-May-15	0.1	560.00	- +			Corporate - Liquidation
Benjamin Robson	Associate II	04-May-15	0.3	300.00	90.00	Creditors		

Remuneration to :					3,204,515.29		에는 사람이 있는 것은 것을 가지 않는 것을 것을 것을 것을 수요. 같이 않는 것을	
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Benjamin Robson	Associate II	04-May-15	0.2	300.00	60.00	Creditors	Preparation and payment of Russells invoice B21244	Corporate - Liquidation
Benjamin Robson	Associate II	04-May-15	0.2	300.00	60.00	Creditors	Payment of Clayton utz invoice 3856568	Corporate - Liquidation
Benjamin Robson	Associate II	04-May-15	0.3	300.00	90.00	Creditors	Payment of Russells invoice B21244	Corporate - Liquidation
Benjamin Robson	Associate il	04-May-15	0.4	300.00	120.00	Creditors	Payment of Clayton Utz invoices 3853248 and 3856500	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	04-May-15	0.2	600.00	120.00	Assets	Bellpac matter - email in from russells; emails from/to JRP re update	Corporate - Liquidation
Benjamin Robson	Consultant I	05-May-15	0.3	300.00	90.00	Trade-on	Transaction statements for fund accounts received and reviewed, issue to AGT	Category 2 - Approved/Unpaid
Kelly-Anne Trenfield	Sr Managing Dir	05-May-15	D.1,	600.00	60.00	Administration	Review and update to do list; query outstanding items; Review incoming documentation, consider an send to filing	d Category 2 - Approved/Unpaid
Kelly-Anne Trenfield	Sr Managing Dir	05-May-15	0.1	600.00	60.00	Administration	Call in from GOK to discuss outstanding issues Meeting with KAT regarding quote from surety IT and instruction from KAT to discuss with BJR/RCL.	Category 2 - Approved/Unpaid Category 2 -
Christine Stead	Senior Director	05-May-15	0.2	560.00	112.00	Administration	and RFZ	Approved/Unpaid
Glenn O'Kearney	Senior Director	05-May-15	0.2	560.00	112.00	Creditors	Correspondence BJR Clayton utz regarding insurance.	Corporate - Liquidation Category 2 -
Benjamin Robson	Consultant)	06-May-15	0.3	300.00	90.00	Creditors	Payment of storage invoice and update to registers MYOB processing of PV and printing of cheque x 1 - chq 22 Dept of Justice & Attorney General -	Approved/Unpaid
Caroline Halcoop	Admin II	06-May-15	0.1	175.00	17.50	Administration	\$1690.65 - CD	Approved/Unpaid
Kelly-Anne Trenfield	Sr Managing Dir	06-May-15	0.2	600.00	120.00	Administration	Emails in re application and funding Review incoming documentation, consider and send to filing Review and update to do list; query outstanding items	Category 2 - Approved/Unpaid
								Category 2 - Approved/Unpaid
Keliy-Anne Trenfield	Sr Managing Dir	06-May-15	0.1	600.00	60.00	Administration	emails in re meeting/status Review and approve payment of outstanding administration liabilities including review of supporting	Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	06-May-15	0.1	600.00	60.00	Administration	documentation and signing of transfer or cheque	Approved/Unpaid
	Administrative	06-May-15	0.5	135.00	67.50	Administration	Bank reconciliation(s)	Corporate - Liquidation
Megan Dopking	Administrative	OG-May-13		100100			Check ming for earlier transfer set up on commons - unable to idcate - redo transfer and rebate voucherSet up 2nd transfer on commons MYOB processing of PV and printing of cheque x 1 Scan	
Caroline Halcoop	Administration 2	06-May-15	0.4	175.00	70.00	Administration	and send transfers to BJR for checking and approval.	Corporate - Liquidation
Gienn O'Keamey	Senior Director	06-May-15	0.5	560.00	260.00	Creditors	Reconcile consultants fee register. LMIM	Corporate - Liquidation
Carly Drew	Administration 2	06-May-15	0.1	175.00	17.50	Assets	Banking Request	Corporate - Liquidation
lohn Park	Sr Managing Dir	07-May-15	0.3	600.00	180.00	Administration	Ernaits in Russelis;	Category 2 - Approved/Unpaid Category 2 -
		07.14-1.45		560.00	56.00	Trade-on	Sign of payment request storage.	Approved/Unpaid
Blenn O'Kearney	Senior Director	07-May-15	0.1			Administration	Bellpac - review update and note significant dates	Corporale - Liquidation
Ceily-Anne Trenfield	Senior Managing Director	07-May-15	0.1	600.00	60.00		File all sent emails for past 4 days.	Corporate - Liquidation
Renee Lobb	Senior Director	07-May-15	0.1	510.00	51.00	Administration		Category 2 -
Celly-Anne Trenfield	Sr Managing Dir	08-May-15	0.4	600.00	240.00	Administration	Meeiting with Ashley Tiplady re LM	Approved/Unpaid Category 2 -
Iohn Park	Sr Managing Dir	08-May-15	0.4	600.00	240.00	Administration	Meeting with Ashley Tiplady;	Approved/Unpaid
Benjamin Robson	Associate II	08-May-15	0.4	300.00	120.00	Credilors	Review and approve various payment vouchers and receipts vouchers	Corporate - Liquidation
elly-Anne Trenfield	Senior Managing Director	08-May-15	0.1	600.00	60.00	Assets	email from/to GOK re legal costs re insurance scheme	Corporate - Liquidation
ilenn O'Keamey	Senior Director	08-May-15	0.5	560.00	280.00	Creditors	Review current bills on FMIF claim matter .note to Keily regarding lunding/insurance recover .responses in - instructions on payments etc.	Corporate - Liquidation
Ryan Zorgdrager	Senior Director	11-May-15	0.9	560.00	504.00	Trade-on	Telephone out to ATO concerning ABN registrations, TFNs, preparation of fax information summary for edistribution to WMS	Approved/Unpaid
celly-Anne Trenfield	Sr Managing Dir	11-May-15	0.2	600.00	120.00	Administration	Review and approve payment or outstanding administration lizonities including review of supporting documentation and signing of transfer or chequeReview incoming documentation, consider and send to filing	Category 2 - Approved/Unpaid
ilenn O'Keamev	Senior Director	11-May-15	0.5	560.00			Discuss LM records/AX issues with RFZ and CMA.	Category 2 - Approved/Unpaid

 \frown

LM Investment M Remuneration to	ianagement Ltd (In Liqui 30 June 2018	dation)			3,204,515.29		에는 것은 가장에 가장 가장에 있는 것은 것이 가지 않는 것이 있는 것은 것이 있는 것이 있다. 같은 것은	
Name		Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Christine Stead	Senior Director	11-May-15	0.2	560.00	112.00	Administration	Discuss AX requirements with RFZ	Category 2 - Approved/Unpaid
Christine Stead	Senior Director	11-May-15	0.2	560.00	112.00	Administration	Further discussion with RFZ and GOK regarding books and records	Category 2 - Approved/Unpaid
Benjamin Robson	Consultant I	11-May-15	0.2	300.00	60.00	Creditors	Review and sign off payments to Grace and Armstrong	Category 2 - Approved/Unpaid
James Cook	Consultant t	11-May-15	0.1	270.00	27.00	Administration	Outgoing mail.	Corporate - Liquidation
Renee Lobb	Senior Director	11-May-15	0.3	510.00	153.00	Investigations	Review insurance learn to worky And Agnew. Send email to Kelly-Anne Tremled regarding funding/documents needed and CMA access/ and agreement to reduced rates. Seek clarification before providing instructions.	Corporate - Liquidation
Renee Lobb	Senior Director	11-May-15	0.2	510.00	102.00	Investigations	Review Kony-Arme Transiers comments per my earlier affiair of forage send official to Crayton OLZ requesting clarification on one point and providing information and instructions on sending of correspondence to insurer and Russells. Review update on insurance postion mon Clayton OLZ; review correspondence from woray & Agnew	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	11-May-15	0.5	600.00	300.00	Assets	review update on instrance position non clayed bit, review consoportation for woray & Agrew re position of insurer; review response to Moray & Agrew and review re peregian and FMIF proceedings; instructions to RCL re drafting a response	Corporate - Liquidation
Benjamin Robson	Associate II	11-May-15 12-May-15	0.4 0.1	300.00	120.00	Creditors Administration	Amend and finalise various payments to russells, clayton utz Review and approve payment of outstanding administration liabilities including review of supporting documentation and signing of transfer or cheque	Corporate - Liquidation Category 2 - Approved/Unpaid
Kelly-Anne Trenfield	Sr Managing Dir Senior Director	12-May-15	0.1	560.00	56.00		Arrange NAS device to be activated and ermail out to MM regarding request for reduced quote trom surety IT	Category 2 - Approved/Unpaid
Christine Stead	Senior Director	12-May-15	0.1	560.00	56.00	Administration	Review email form Gadens and query request with KAT; email query to MM	Category 2 - Approved/Unpaid Category 2 -
Benjamin Robson	Consultant I	12-May-15	0.6	300.00	180.00	Creditors	Phone call from Leah Diprose, reconciliation of Russells bills owed by FMIF	Approved/Unpaid Category 2 -
Benjamin Robson	Consultant i	12-May-15	0.5	300.00	150.00	Trade-ол	Investor enquiries	Approved/Unpaid
Renee Labb	Senior Director	12-May-15	0.2	510.00	102.00	Investigations	Review letters issued to insurers and russells from Clayton Utz. save to file.	Corporate - Liquidation
Caroline Halcoop	Administration 2	12-May-15	0.1	175.00	17.50	Administration	Process commbiz payments x 2 - JHC reeview annuavit and correspondence from Gedens re textre application and access to information; call	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	12-May-15	0.4	600.00	240.00	Administration	review antibavit and correspondence nonin Gaddine to Date application and access to minimum, can to Sean Russell; CMA re access to recordsCMA re access to books and records re director access; email to sean russell re update	Corporate - Liquidation
Benjamin Robson	Associate I	12-May-15	0.3	300.00	90.00	Creditors	Review and approve various invoices	Corporate - Liquidation
Renee Lobb	Senior Director	13-May-15	0.2	510.00	102.00	Administration	Review email with DD questionnaire from transfer agent Armstrong, respond and note it is for their completion.	Category 2 - Approved/Unpaid Category 2 -
ohn Park	Sr Managing Dir	13-May-15	0.3	600.00	180.00		l Review and sign affidavit for records matter; Treeprone out to beputy commissioner or taxalion. Discuss ousanding loogements; committation or	Approved/Unpaid
							ABNs where more than one registered. Confirm tax file numbers. Preparation of Key Tax Information summary file summarising tax file numbers and outstanding lodgement information.Review of outstanding lodgements (commenced)Telephone out to WMS to confirm reconciliation of audit	Category 2 -
Ryan Zorgdrager	Senior Director	13-May-15	3.1	560.00	1,736.00	Administration		Approved/Unpaid Category 2 -
lyan Zorgdrager	Senior Director	13-May-15	0.7	560.00	392.00	Trade-on	extractions Review and update to do list; query outstanding items; Review incoming documentation, consider and	Approved/Unpaid Category 2 -
elly-Anne Trenfield	Sr Managing Dir	13-May-15	0.1	600.00	60.00	Administration	send to filing	Approved/Unpaid Category 2 -
arly Drew	Admin II	13-May-15	0.2	175.00	35.00		Forwarded scanned letter to RFZ	Approved/Unpaid
							Review advice from Liedekerke regarding Belgium claim and recommendations from Clayton Utz to share costs on jurisdiction advice from counsel, discuss with Kelly-Anne Trenfield and confirm with Clayton Utz our agreement to their proposal, summarise verbally advice for Kelly and save and print	
enee Lobb	Senior Director	13-May-15	0.5	510.00	255.00	Investigations	for file. Review and save final letters on insurance claims and indemnity issue also.	Corporate - Liquidation

Remuneration to				un porte de la composición de la compos La composición de la c	3,204,515.29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Renee Lobb	Senior Director	13-May-15	0.4	510.00	204.00	Investigations	Call with Chris Erfurt regarding overseas offices. Sean with BAJAN regarding initial work and locate office location list. discuss authorised resellers and revert to Kelly-Anne Trenfield for any other information to hand before responding. discuss with Chris IC implications when paying legal fees.	Corporate - Liquidation
Renee Lobb	Seniar Director	13-May-15	0.2	510.00	102.00	Investigations	Query to GOK and Matthew Lennon regarding overseas offices after response from Keily-Anne Trenfield, after receipt of Information, email same to Clayton Utz Lemail in from sean russell re 11 access; into from CMA; draft response to sean russell call to Sean	Corporate - Liquidatior
Kelly-Anne Trenfield	Senior Managing Director	13-May-15	0.3	600.00	180.00	Assets	Russell re amendment to affidavit, arrange swearing of affidavit RUCL re details of Beigrum onless; emails re UK/European onlices; email from and response to	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	13-May-15	0.1	600.00	60.00	Assets	Stephanie Williams	Corporate - Liquidation
Glenn O'Kearney	Senior Director	13-May-15	0.3	560.00	168.00	Creditors	Review cred list regarding Belgium base advisor - for insurance defence - clayton utz.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	13-May-15	0.1	560.00	56.00	Administration	Note BJR regarding drake bankruptcy.	Corporate - Liquidation Category 2 -
John Park	Sr Managing Dir	14-May-15	0.1	600.00	60.00	Administration	Discussion with Jim Conomos;	Approved/Unpaid
Renee Lobb	Senior Director	14-May-15	0.6	510.00	306.00	Administration	General fund catch up with RFZ on audits, ETA of distributions, future tackling of registry issues and indemnity agreed to for legal costs. cuss website updates to be provided and website updates also.	Category 2 - Approved/Unpaid
Ryan Zorgdrager	Senior Director	14-May-15	0.6	560.00	336.00	Trade-on	Review server and copy fund finance information pertaining to non-externally administered funds preparemon nor, addinate or and post meeting emails concerning cross-rund updates and	Category 2 - Approved/Unpaid
							reconciliation of outstanding items. Telephon eout to RCL and KAT concerning same. COnf with GOM	Category 2 -
Ryan Zorgdrager	Senior Director	14-May-15	2.7	560.00	1,512.00	Trade-on	concerning same	Approved/Unpaid
Kelly-Anne Trenfield	Sr Managing Dir	14-May-15	0.1	600.00	60.00	Administration	update from RFZ	Category 2 - Approved/Unpaid
Renee Lobb	Senior Director	14-May-15	1	510.00	510.00	Investigations	Review counsel advice on julisdiction, review email with recommendation and reler to Kelly-Anne Trenfield on same, provide instructions to Clayton Utz to appear.	Corporate - Liquidation
Renee Lobb	Senior Director	14-May-15	0.2	510.00	102.00	Investigations	Review emails from Chris on timing of update with Liedekerke. Respond to same.	Corporate - Liquidation
		14-18(dy-10			102.00	Introduiganorio	email in Iron Clayton OI2 including information 30in beigian counterpan, review and provide	
Kelly-Anne Trenfield	Senior Managing Director	14-May-15	0.3	600.00	180.00	Assets	instructions re RCL response; review responseReview incoming documentation, consider and send to filing	Corporate - Liquidation
Glenn O'Keamey	Senior Director	14-May-15	0.0	560.00		Creditors	Review account sin Clayton utz. discuss allocations etc Ben Robson/.	Corporate - Liquidation
Glenn O'Keamey	Senior Director	14-May-15	0.1	560.00	112.00	Administration	update file list. Discuss file status with Kelly .	Corporate - Liquidation
Glenn O'Keamey	Senior Director	14-May-15	0.1	560.00	56.00	Assets	Discuss insurance matter Kelly and RFZ	Corporate - Liquidation
Benjamin Robson	Associate II	14-May-15	0.3	300.00	90.00	Trade-On	Correspondence with Worrells regarding Banrupt estate of Peter Drake	Corporate - Liquidation
Renjamin Robson	Associate II	In any IO	0.0	000.00				Category 2 -
lohn Park	Sr Managing Dir	15-May-15	0.3	600.00	180.00	Administration	Emails in Russells;	Approved/Unpaid Category 2 -
Christine Stead	Senior Director	15-May-15	0.1	560.00	56.00	Administration	Review email in from KAT and review response from MM	Approved/Unpaid Category 2 -
Christine Stead	Senior Director	15-May-15	0.1	560.00	56.00	Administration	Review email and order and clarify with KAT; issue email to MM	Approved/Unpaid Category 2 -
leniamin Robson	Consultant I	15-May-15	2	300.00	600.00	Trade-on	ASIC invoice and cultistanding charges reconciliation and summary prepared fro RFZ on outstanding charges across each fund	Approved/Unpaid
Britlany Newman	Administration 1	15-May-15	0.6	135.00	81.00	Administration	Filing	Corporate - Liquidation
elly-Anne Trenfield	Senior Managing Director	15-Mav-15	0.3	600.00	180.00	Administration	call in from sean russell X 2 re access to B&R by directorsemall in re access to books and records; discuss logistics with CMA	Corporate - Liquidation
elly-Anne Trenfield	Senior Managing Director	15-May-15	0.1	600.00	60.00	Administration	review and update to do list	Corporate - Liquidation
lenn O'Keamey	Senior Director	15-May-15	0.5	560.00			Review WIP data March qtr. commence reconciliation regarding allocation of time across codes in prep for invoices etc.	Corporate - Liquidation
amian Bender	Managing Director	15-May-15	2.5	600.00	1,500.00	Creditors	Belgium Legal action	Corporate - Liquidation
							Phone Call from Steven Muller - Rogers Barnes Green - (Lisa Darcy) - regarding inspection of	Category 2 -
hristine Stead	Senior Director	18-May-15	0.2	560.00			electronic records	Approved/Unpaid Corporate - Liquidation
ames Cook	Consultant i	18-May-15	0.1	270.00	27.00	Administration	Posting mail in respect of file note. Review multiple emails regarding advice from Liedekerke and Clayton Utz for hearing today, print and	Corporate - Liquiuation

 \square

	nagement Ltd (In Liquid	dation)			3,204,515.29	······································		
Remuneration to 3 Name	Title	Date	Hours	Charge Out Rate		Task Desc	Narrative	Classification
Caroline Halcoop	Administration 2	18-May-15	0.2	175.00	35.00	Administration	Post and print payment voucher and set up transfer on Commitiz x 2 - Russells Solicitors & Clayton Utz - Sent to BJR for checking and approval before sending to KAT for authorisation.	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	18-May-15	0.1	600.00	60.00		update to GOK re Indemnity strategy re insurance	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	18-May-15	0.2	600.00	120.00	Assets	Belipac - review email in from AJT re strategy and pending advice from Russellsemails in re books and records access; review orders	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	18-May-15	0.1	600.00	60.00	Administration	Review and update to do list; query outstanding items Review Incoming documentation, consider and send to filing	Corporate - Liquidation
Glenn O'Kearney	Senior Director	18-May-15	0.2	560.00	112.00	Administration	Discuss status of file POC and update TDL.	Corporate - Liquidation
Ryan Zorgdrager	Senior Director	19-May-15	0.1	560.00	56.00	Trade-on	Telephon could to Ryu of WMS - schedule infancial statements reconciliatio meeting Thursday 21 May 2015 Telephon could to CH - request details for CBA internet banking to add to correspondence to CBA for	Approved/Unpaid Category 2 -
Ryan Zorgdrager	Senior Director	19-May-15	0.1	560.00	56.00	Trade-on	each fund. Telephone out to Custodian (Trent Franklin) concerning procedures for amending postal address and	Approved/Unpaid
Ryan Zorgdrager	Senior Director	19-May-15	0.2	560.00	112.00	Trade-on	internet banking access	Approved/Unpaid Category 2 -
Ryan Zorgdrager	Senior Director	19-May-15	0.6	560.00	336.00	Administration	Review of ASIC invoice and allocation across funds. Reconciliation of outstanding amounts	Approved/Unpaid Category 2 -
Ryan Zorgdrager	Senior Director	19-May-15	0.2	560.00	112.00	Trade-on	Review ASIC invoice sent by BJR to RFZ for comment / instruction. Draft notation in response	Approved/Unpaid Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	19-May-15	0.1	600.00	60.00	Administration	review and sign letters to perpetual re change of bank account details address details redview email regarding beignum claim. Confirm with Keny-Anne Trenned Twill do reminders for	Approved/Unpaid
Renee Lobb	Senior Director	19-May-15	0.2	510.00	102.00	Investigations	critical dates when timeline received. Email m from cadens/Rüssells re provision of legal files for belipac matterreview emails updates in re	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	19-May-15	0.3	600.00	180.00	Administration	Belgian claims	Corporate - Liquidation
Glenn O'Kearnev	Senior Director	19-May-15	0.1	560.00	56.00	Creditors	Review bellpac client agreement russells. note CD regarding print/return.	Corporate - Liquidation
Renee Lobb	Senior Director	20-May-15	0.1	510.00	51.00	Creditors	Respond to creditor enquiry regarding trail fees.	Category 2 - Approved/Unpaid Category 2 -
John Park	Sr Managing Dir	20-May-15	0.3	600.00	180.00	Administration	Correspondence in Russells.	Approved/Unpaid Category 2 -
Benjamin Robson	Consultant I	20-May-15	0.3	300.00	90.00	Creditors	Approve CLUTZ and Russells payments, print and have KAT approve and sign. send back to CH	Approved/Unpaid Category 2 -
Benjamin Robson	Consultant i	20-May-15	0.6	300.00	180.00	Trade-on	Search LM Records for transfer of fund form. Alter form in PDF and distribute to investors	Approved/Unpaid Category 2 -
Benjamin Robson	Consultant I	20-May-15	0.5	300.00	150.00	Trade-on	Update funds payable register, consultants fee register and LM payment schedule	Approved/Unpaid Category 2 -
Ryan Zorgdrager	Senior Director	20-May-15	0.1	560.00	56.00	Trade-on	Discuss transfer form with BJR.	Approved/Unpaid Category 2 -
Ryan Zorgdrager	Senior Director	20-May-15	0.1	560.00	56.00	Trade-on	TABOBITO Balleloi fonti non esta o onatori ano presenta ana	Approved/Unpaid Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	20-May-15	0.7	600.00	420.00	Administration	letter to ato re lodgement of fax returns	Approved/Unpaid Category 2 -
Christine Stead	Senior Director	20-May-15	0.1	560.00	56.00	Administration		Approved/Unpaid Corporate - Liquidation
lames Cook	Consultant I	20-May-15	0.1	270.00		Administration	Receiving inbound mail, scanning onto server, updating mail register.	Corporate - Liquidation
Benjamin Robson	Associate II	20-May-15	0.4	300.00	120.00	Creditors	Chase up on payment approvais; processed on commoiz; advised BJK payments processed - send	
Caroline Halcoop	Administration 2	20-May-15	0.1	175.00		Administration	paperwork to GCO.	Corporate - Liquidation
Caroline Halcoop	Administration 2	20-May-15	0.1	175.00		Administration		Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	20-May-15	0.1	600.00	60.00	Administration	Review incoming documentation, consider and send to filing Discuss matter with Keny - discuss status or various court action/cost proposals/strategy: discuss	aspendes Equidanon
Blenn O'Kearney	Senior Director	20-May-15	0.5	560.00	280.00	Administration	payments into LM account BJR. review and approve receipt voucher for funds in. review and approve receipt voucher funds out.	Corporate - Liquidation
						Administration	Review questioninane sont by 20 borroot, energy and a first of the fir	Category 2 - Approved/Unpaid

 $\overline{}$

LM Investment M Remuneration to	anagement Ltd (In Liqui 30 June 2018	dation)			3,204,515,29			
Name	Title	Date	Hours	Charge Out Rate		Task Desc	Narrative	Classification
Benjamin Robson	Consultant I	21-May-15	0.6	300.00	180.00	Trade-on	Creation of fund payables folder and include outstanding invoices Review auour posisions and positions in respect to infanctar statiment preparation in preparation for	Approved/Unpaid
							meeting with WMS. Travel to and from WMS. Attend WMS premises to discuss and reconcile go	Category 2 -
Ryan Zorgdrager	Senior Director	21-May-15	4.6	560.00	2,576.00	Trade-on	forward position	Approved/Unpaid Category 2 -
Victoria Liddell	Consultant II	21-May-15	0.3	300.00	90.00	Administration	Draft letter to Sureity IT. Discuss with CMA and send CMA draft for review. Amend and re-finalise. Check in on JCL regarding records review and discuss progress; meet with JCL prior to finalising	Approved/Unpaid Category 2 -
Christine Stead	Senior Director	21-May-15	0.3	560.00	168.00	Administration	review and shut-down computer/access to records	Approved/Unpaid
Gienn O'Kearney	Senior Director	21-May-15	0.6	560.00	336.00	Administration	Review exported WIP data, commence reconciliation and allocation of WIP march 2015 gtr.	Corporate - Liquidatio
John Park	Sr Managing Dir	22-May-15	0.4	600.00	240.00	Administration	Review Russells correspondence to Gadens and Minters.	Category 2 - Approved/Unpaid
Christine Stead	Senior Director	22-May-15	0.1	560.00	56.00	Administration	Review amended quote from surety IT and update KAT and RFZ	Category 2 - Approved/Unpaid
							cuery non-rock regarding status of records, review emain in from Stephanie at Rossells and respond to email from KAT regarding unit pricing calculations; scan documents and email RFZ; Phone Call	Category 2 -
Christine Stead	Senior Director	22-May-15	0.7	560.00	392.00	Administration	with RFZ to discuss and forward information received to KAT	Approved/Unpaid
Tanya Kratz	Administration 2	22-May-15	0.2	175.00	35.00	Administration	Finalise Letter as requested. Amend, Finalise and issue Letter as requested.	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	22-May-15	0.5	600.00	300.00	Assets	Belipac - review correspondence from Russells to Minter Ellison and Gadens; Discuss with AJ I; prepare file note and update JRP	Corporate - Liquidation
Ryan Zorgdrager	Senior Director	25-May-15	0.1	560.00	56.00	Trade-on	Note from BJR seeking instructions of ALIF. Draft notation and return	Category 2 - Approved/Unpaid
/ictoria Liddell	Consultant II	25-May-15	0.1	300.00	30.00	Administration	Scan, save and email correspondence to Sureity IT.	Category 2 - Approved/Unpaid
							Review and approve payment or dustanding administration inabilities including review or supporting documentation and signing of transfer or chequeReview and update to do list; query outstanding	Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	25-May-15,	0.1	600.00	60.00	Administration	items	Approved/Unpaid
		OE May 45	0.3	600.00		Administration	Review and sign BAS return for period; sign any associated payments; lipidate schedule of outstanding returns/refunds - réconciliation of lodgements and receipt of refunds	Corporate - Liquidation
Keliy-Anne Trenfield	Senior Managing Director	25-May-15	0.3	000.00	100.00	Addition	email in from, Jarrou Villahi re cost claim against MPF; email to Ashiey Tiplady to query re costs;	
Kelly-Anne Trenfield	Senior Managing Director	25-May-15	0.1	600.00		Assets	review response and reply; draft email to JV	Corporate - Liquidation Corporate - Liquidation
Glenn O'Kearney	Senior Director	25-May-15	0.1	560.00	56.00	Administration	Review signed prof agreement regarding bellpac .note russells.	Corporate - Liquidation
Kelly-Anne Trenfield	Sr Managing Dir	26-May-15	0.1	600.00	60.00	Administration	mail in re ASIC request re discovery and privilege	Approved/Unpaid
Renee Lobb	Senior Director	26-May-15	0.3	510.00	153.00	Investigations	Review email letter from ASIC regarding legal professional privilege for LM Investment Management Ltd matter. Sond to Kelly-Anne Trenfield after review of ASIC media release to collate a response.	Corporate - Liquidation
				540.00	54.00	Investigations	reeview Liederkerke summary or proposed unreinance for submissions and detences for Bergian claim confirm with Kelly-Anne Trenfield that shorter timeframe appears best and seek confirmation to provide instructions.	Corporate - Liquidation
Renee Lobb	Senior Director	26-May-15	0.1 0.1	510.00 600.00		Administration	File Update KAT;	Corporate - Liquidation
ohn Park	Senior Managing Director	26-May-15 26-May-15	0.4	600.00		Assets	Meeting with Jarrod Villiani, KM re Bellpac Matter	Corporate - Liquidation
elly-Anne Trenfield	Senior Managing Director	26-May-15 27-May-15	0.4	600.00	2.0.00	Administration	Correspondence in ASIC;	Category 2 - Approved/Unpaid
ohn Park	Sr Managing Dir	27-May-15	0.2	560.00		Trade-on	Telephone call in from Errina Costello concerning Western Onion Funds field for various lunos. Telephone out to Jarrod Villani at KordaMentha concerning same. Left message. Telephone out to Emma Costello.	Category 2 - Approved/Unpaid
lyan Zorgdrager			0.4	600.00			Review and update to do list; query outstanding items	Category 2 - Approved/Unpaid
elly-Anne Trenfield	Sr Managing Dir	27-May-15 27-May-15	0.1	600.00			Email in from ASIC re waiving privilege; review previous correspondence; draft email to russells re position with asic; draft email to JRP re Intended response	Category 2 - Approved/Unpaid
elly-Anne Trenfield	Sr Managing Dir Senior Director	27-May-15	0.1	560.00			Review email in from Stephanie at Russells	Category 2 - Approved/Unpaid

LM investment Ma Remuneration to	anagement Ltd (in Liqui 10 June 2018	dation)			3.204.515.29	······································		
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
							Phone Call and email in from Steven Multer; Phone Call out to Steph - left message to return call; Phone Call with Steven further regarding set up of inspection; Phone Call from Wiebke - JCL; emails	
Christine Stead	Senior Director	27-May-15	0.4	560.00	224.00	Administration	in/out with Madhu regarding setup and Phone Call to Katis requesting meeting room	Approved/Unpaid Category 2 -
Christine Stead	Senior Director	27-May-15	0.2	560.00	112.00	Administration	Follow up call from Stephanie regarding undertakings to be filed	Approved/Unpaid
Keliy-Anne Trenfield	Senior Managing Director	27-May-15	0.2	600.00	120.00	Assets	belgian claim; reviewing timeline and provide instructions to RCL	Corporate - Liquidation
Glenn O'Kearney	Senjor Director	27-May-15	0.1	560.00	56.00	Assets	Review correspondence cba regarding term deposit maturity. review indemnity info gelnnon.	Corporate - Liquidation
John Park	Sr Managing Dir	28-May-15	0.2	600.00	120.00	Administration	Correspondence in Allens;	Category 2 - Approved/Unpaid
			0.7	560.00	1 510 00	Trade-on	completemployee record momman mom christerver for completion or regimenter ensume table for fund financial statements. Review payrooll reports and for 2013 and compare with PAYG summaries issued for period pre administration. Note Drake and O'Connor missing. Review accounting standards for KMP disclosure requirements	Category 2 - Approved/Unpaid
Ryan Zorgdrager	Senior Director	28-May-15	2.7	500.00	1,312.00	11200-011		Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	28-May-15	0.2	600.00	120.00	Administration	email from RFZ re resignation of director re fund accountsreview legislation re resignation of director Set up records with MM; Meet Wiebke from JCL and discuss review; updates with Stephanie from	Approved/Unpaid Category 2 -
Christine Stead	Senior Director	28-May-15	0.3	560.00	168.00	Administration	Russells regarding inspection	Approved/Unpaid
Benjamin Robson	Consultant I	28-May-15	0.4	.300.00	120.00	Investigations	Searches pertaining to ALIF fund as requested by RFZ	Category 2 - Approved/Unpaid Category 2 -
Dusiania Bahasa	Consultant I	28-May-15	0.8	300.00	240.00	Trade-on	ASIC invoices charse allocationa and research, discuss with RFZ	Approved/Unpaid
Benjamin Robson	Senior Director	28-May-15	0.2	510.00		Investigations	Review Keiny-Antite Tremiero's response on ET's proposal for finning of pleadings and defence's for Belgian claim. Provide instructions to accept proposal and review Kelly-Anne Trenfield's response on ASIC notice.	Corporate - Liquidation
Renee Lobb	Senior Director	28-May-15	0.1	510.00	51.00	Investigations	Review email from ben regarding payment process of Russells Invoice in line with insurer funding. raise query to Kelly-Anne Trenfield.	Corporate - Liquidation
Renee Lobb	Senior Director	28-May-15	0.2	510.00		Investigations	Carrwin Chills Errurt norm Clayton Diz regarding Beigian claim and commit we will seek a quote to translate the Belgian proceedings from Dutch to English. Confirm regarding process for payment of legal bills and indemnity from insurer.	Corporate - Liquidation
Renee Lobb	Senior Director	28-May-15	0.2	510.00	102.00	Administration	Filing weeks worth of emails so far.	Corporate - Liquidation
Brittany Newman	Administration 1	28-May-15	0.2	135.00	27.00	Administration	Filing	Corporate - Liquidation
Caroline Halcoop	Administration 2	28-May-15	0.1	175.00	17.50	Administration	Post and print payment volicher and set up transfer on Commolz X T - BJR - Scarveman to BJR for checking and approval Belipac - CMA re review of records and access to directors legal representatives)emails in re costs	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	28-May-15	0.2	600.00	120.00	Assets	and movement in claim Review LM server to O'Sullivan and Drake payment information. Tel out to CMA seeking assistance.	Corporate - Liquidation
Ryan Zorgdrager	Senior Director	29-May-15	0.4	560.00	224.00	Trade-on	Draft email to KAT requesting assistance Email to KAT requesting assistance Email mont Krz requesting assistance	Approved/Unpaid
Kelly-Anne Trentield	Sr Managing Dir	29-May-15	0.3	600.00	180.00	Administration	RFZ re no action needed re asic lodgementsemails in - re lodgement of funds accountsemail in from Gadens to Russells requesting review of forensic image of servers on appoint; email response to nussells advising comfortable to provide on the basis of costs being covered Review and approve payment of outstanding administration liabilities including review of supporting	Calegory 2 - Approved/Unpaid Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	29-May-15	0.1	600.00	60.00	Administration	documentation and signing of transfer or cheque	Approved/Unpaid
Brittany Newman	Administration 1	29-May-15	0.1	135.00	13.50	Administration	Mail in from ASIC - Correspondence; ASIC v Peter Charles Drake & Ors	Corporate - Liquidation
Caroline Halcoop	Administration 2	29-May-15	0.2	175.00	35.00	Administration		Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	29-May-15	0.2	600.00	120.00	Assets	Email in from russells re claims by km - provide notification to clayton utz re insurance	Corporate - Liquidation
Carly Drew	Administration 2	29-May-15	0.2	175.00	35.00	Administration	Prepared Final Letter for KAT to sign;	Corporate - Liquidation
Indrew Weatherley	Managing Dir	01-Jun-15	0.1	560.00	56.00	Administration	Call from RFZ regarding trans with Director, review H drive	Category 2 - Approved/Unpaid Category 2 -
lohn Park	Sr Managing Dir	01-Jun-15	0.3	600.00	180.00	Administration	Correspondence in Russells / Gadens;	Approved/Unpaid

 \cap

LM Investment Ma Remuneration to 3	magement Ltd (In Liquid 0 June 2018	dation)			3.204.515.29	· · · · · · · · · · · · · · · · · · ·		
Name	Title	Date	Hours	Charge Out Rate		Task Desc	Narrative	Classification
Kelly-Anne Trenfield	Sr Managing Dir	01-Jun-15	0.1	600.00	60.00	Administration	email from/to RFZ re directors and payroll costs	Category 2 - Approved/Unpaid
Benjamin Robson	Consultant I	01-Jun-15	0.4	300.00	120.00	Creditors	Prepare fund transfer form High interest account and payment of Russells Invoices B21834 and B21863	Category 2 - Approved/Unpaid
Christine Stead	Senior Director	01-Jun-15	0.1	560.00	56.00	Administration	Review update from RFZ regarding LM	Category 2 - Approved/Unpaid
Ryan Zorgdrager	Senior Director	01-Jun-15	0.2	560.00	112.00	Trade-on	Log on to Suncorp Banking and extract bank balances for end of month	Category 2 - Approved/Unpaid
Ryan Zorgdrager	Senior Director	01-Jun-15	0.1	560.00	56.00	Trade-on	Telephone out to Caroline Halcoop. Discuss Commitiz situation and request assistance to add LM Fund CBA accounts to view only access to FTI commitiz	Category 2 - Approved/Unpaid
Ryan Zorgdrager	Senior Director	01-Jun-15	1.4	560.00	784.00	Trade-on	Review server for Drake payment information and discussion with GOK. Tel out to ABW concerning same. Review LMA server information and review of investigations memorandum	Category 2 - Approved/Unpaid
Glenn O'Keamey	Senior Director	01-Jun-15	0.2	560.00	112.00	Trade-on	Discuss fund involcing/op costs etc with BJR. note McN regarding fund operation cost reimbursements. review grace invoice and forward for payment.	Category 2 - Approved/Unpaid
Renee Lobb	Senior Director	01-Jun-15	0.3	510.00	153.00	investigations	Review insurance claim and STATEMENT of claim by KM/Calibre capital against LM Investment Management Ltd. Review comments from russells and Kelly-Anne Trenfield on proceedings.	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	01-Jun-15	0.3	_600.00	180.00	Assets	Review emans in nom russens re MPF actions; response to AJI re insurance notification; providing additional information to clayton utz and requesting update on funding emans in nom Russens re MPF proceedings; review emans and creat response re insurctions to	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	01-Jun-15	0.3	600.00	180.00	Assets	Entraits in non roussens to the processings, terrer entrais and other response to instructions to accept serviceballpace - review mail in from minter ellison in response to queries to km re SOP of MPFemail in from Clayton utz re Belgian matter; draft email with instructions to RCL	Corporate - Liquidation
Benjamin Robson	Associate II	01-Jun-15	0.3	300.00	90.00	Trade-On	Month of May account rec and enter payments/receipts missing	Corporate - Liquidation
Glenn O'Keamey	Senior Director	01-Jun-15	0.2	560.00	112.00	Creditors	Review russeris invoices. Italise BJR regarding payment, review payment drait regarding FMIF claim matters, note to BJR regarding payments/register.	Corporate - Liquidation
Glenn O'Keamey	Seniar Director	01-Jun-15	0.2	560.00	112.00	Administration	Review docs in form astc regarding disclosure/privilege .note to noob, review and approve fund transfer between Imim account.	Corporate - Liquidation
Renee Lobb	Senior Director	02-Jun-15	0.1	510.00	51.00	Trade-on	Respond to GOK regarding ASIC notice, confirm being handled.	Category 2 - Approved/Unpaid
Renee Lobb	Senior Director	02-Jun-15	0.1	510.00	51.00	Administration	Ernail to Chris regarding ITC's' on legal fees. Call to AJT re filtrc; respond to GOK re legal involcecall in from KFZ re status of discussions/review	Category 2 - Approved/Unpaid Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	02-Jun-15	0.4	600.00	240.00	Administration	with western unionreview RFZ update on re-establishing AX server; emails in	Approved/Unpaid Category 2 -
Benjamin Robson	Consultant I	02-Jun-15	1.3	300.00	390.00	Trade-on	Consultants fee register, fund payables register and LM Payment schedule update	Approved/Unpaid Category 2 -
Christine Stead	Senior Director	02-Jun-15	0.1	560.00	56.00	Administration	Review update from Stephanie at Russells regarding further filings and inspections comparison of the source of the	Approved/Unpaid
Slenn O'Keamey	Senior Director	02-Jun-15	0.6	560.00	336.00	Trade-on	regarding operational costs incurred FMIF and allocations/recoveries from other funds, reply regarding queries on data.	Category 2 - Approved/Unpaid
Slenn O'Kearney	Senior Director	02-Jun-15	0.5	560.00	280.00	Creditors	Reconcile consultants regarding payments to be made from LMIM account. note to BJR	Category 2 - Approved/Unpaid
Renee Lobb	Senior Director	02-Jun-15	0.3	510.00	153.00		Review emails from RFZ regarding fund updates. Confirm with Kelly-Anne Trenfield blurb to include on litigation funding by insurer. Also review email from Clayton Utz on Liedekerke translation cost estimate and provide response confirming we are agreeable to the estimated cost.	Corporate - Liquidation
	Senior Director	02-Jun-15	0.0	510.00			Send update to KFZ to assist in upcoming lunds update regarding legal tee reimbursement and insurance deductible.	Corporate - Liquidation
Renee Lobb	Consultant I	02-Jun-15	0.1	270.00			Attending to outgoing mail for LMIM.	Corporate - Liquidation
elly-Anne Trenfield	Sr Managing Dir	03-Jun-15	0.1	600.00			Review and approve payment of outstanding administration liabilities including review of supporting documentation and signing of transfer or cheque	Category 2 - Approved/Unpaid
	Sr Managing Dir	03-Jun-15	0.1	600.00	60.00	Administration	Emails in re legal costs - responde to GOK and AJT re split of costs	Category 2 - Approved/Unpaid
lyan Zorgdrager	Senior Director	03-Jun-15	2.8	560.00	1,568.00	Administration	Search of LM server for custodial agreements and amendments.	Category 2 - Approved/Unpaid
	Senior Director	03-Jun-15	1.3	560.00	728.00	Trade-on	Review of Custodian Deeds and subsequent amendments	Category 2 - Approved/Unpaid

(

LM Investment Ma Remuneration to 3 Name	inagement Ltd (In Liqui 60 June 2018 Title	dation) Date	Hours	Charge Out Rate	3,204,515.29 Charge	Task Desc	Narrative	Classification
Glenn O'Keamey	Senior Director	03-Jun-15	0.2	560.00	112.00	1	Review books records invoices, note BJR, discuss operational costs FUM split with BJR.	Category 2 - Approved/Unpaid
	Admin II	03-Jun-15	0.2	175.00	35.00	Administration	Final letters printed, scanned, saved and emailed back to RFZ;	Category 2 - Approved/Unpaid
Carly Drew	Aamin II	03-Jun-15	0.2	175.00	35.00	Administration	Contact Con regarding access to high interest account and it okay to set up transfer, advised okay	Approved/ onpaid
Caroline Halcoop	Administration 2	03-Jun-15	0.2	175.00	35.00	Administration	but only way to transact on account is by internet transferMYOB processing of EFT and internet banking set up; transfer \$100k; scan and email to BJR for checking and approval	Corporate - Liquidation
Kelly-Anne Trenfield	Sr Managing Dir	04-Jun-15	1.2	600.00	720.00	Administration	preparation for/travel to and attendance at meeting with Ashley Tiplady re LM issues	Category 2 - Approved/Unpaid
Kelly-Anne Trenfield	Sr Managing Dir	04-Jun-15	0.3	600.00	180.00	Administration	Draft letter to asic re Drake matter and request for waiver of privilege	Category 2 - Approved/Unpaid Category 2 -
Glenn O'Keamey	Senior Director	04-Jun-15	0.3	560.00	168.00	Trade-on	Review and sign off on payment to grace, note to RFZ regarding update on operation cost reimbursement matter MCN, discuss RFZ	Approved/Unpaid
Glenn O'Kearney	Senior Director	04-Jun-15	0.2	560.00	112.00	Creditors	Review mpt share Clayton utz invoice régarding insurance claim analysis, approve. réview and approve FMIF split insurance claims	Corporate - Liquidation
Caroline Halcoop	Admin II	05-Jun-15	0.1	175.00	. 17.50	Administration	Post and print payment voucher and set up transfer on Commbiz - Grace Records - \$301.16; scan to BJR for checking and approval	Approved/Unpaid
Benjamin Robson	Consultant I	05-Jun-15	0.4	300.00		Creditors	Sign and approve various Correspondence with payments for CH	Category 2 - Approved/Unpaid
Benjamin Robson	Consultant i	05-Jun-15	0.3	300.00	90.00	Creditors	Record and split Russells invoice B21713 and update registers	Category 2 - Approved/Unpaid
Kelly-Anne Trenfield	Senior Managing Director	05-Jun-15	0.1	600.00	60.00	Administration	emails in from russells re new matters and client service agreements	Corporate - Liquidation
John Park	Sr Managing Dir	09-Jun-15	0.3	600.00	180.00	Administration	Correspondence out ASIC. Email in Russells;	Category 2 - Approved/Unpaid
Renee Lobb	Senior Director	09-Jun-15	0.2	510.00	102.00	Administration	Review media query from journalist, find to Kelly-Anne Trentield and John Park for if we want to comment.	Category 2 - Approved/Unpaid
Renee Lobb	Senior Director	09-Jun-15	0.2	510.00	102.00	Creditors	Review email and PDF attachments. Look up name and address to attempt to locate fund, respond requesting further details to allow a tailored response.	Category 2 - Approved/Unpaid
Keliy-Anne Trenfield	Sr Managing Dir	09-Jun-15	0.6	600.00	360.00	Administration	Email to david monagnam re asid request re privilegeemails incain in rom david monagnam re response to asicrespond to asic re request for waiverraview letter to Allens from Russells re asic discoveryrespond to asic re request for waiver	Category 2 - Approved/Unpaid Category 2 -
Benjamin Robson	Consultant (09-Jun-15	0.3	300.00	90.00	Trade-on	Email to Stephanie Williamson regarding split of cheque to department of justice between all funds	Approved/Unpaid Category 2 -
Ginette Muller	CONSULTANT	09-Jun-15	0.2	600.00	120.00	Administration	Receive, review and consider external correspondence relevant to the administration.	Approved/Unpaid
Glenn O'Kearney	Senior Director	09-Jun-15	0.2	560.00	112.00	Administration	Review and approve payments to Clayton utz and russells. Preparation of all outstanding Russells involces for payment from LIMIM, preparation of all outstanding	Corporate - Liquidation
Benjamin Robson	Associate II	09-Jun-15	1.1	300.00	330.00	Creditors	Clayton Litz payments from LMIM, update consultants fee registers	Corporate - Liquidation
Kelly-Anne Trenfield	Sr Managing Dir	10-Jun-15	0.2	600.00	120.00	Administration	email in from Russells re response to asic; email to AJT re instructionsReview and update to do list; query outstanding itemsReview incoming documentation, consider and send to filing	Category 2 - Approved/Unpaid Category 2 -
Glenn O'Keamey	Senior Director	10-Jun-15	0,5	560.00	280.00	Trade-on	Review rt order regarding split of cost records application. lialse with BJR regarding costs splitting.	Approved/Unpaid
James Cook	Consultant (10-Jun-15.	0.1	270.00	27.00	Administration	Attending to mail received from BNE in respect of Clayton Utz fees. Main nemail in from Russells of Update to insurers of belipac proceedingsemail from and response to	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	10-Jun-15	0.3	600.00	180.00	Assets	GOK re defence cost funding	Corporate - Liquidation
Glenn O'Kearney	Senior Director	10-Jun-15	0.2	560.00	112.00	Creditors	Review brief insurers russells, note to Kelly, review insurance bills claytonutz.	Corporate - Liquidation Category 2 -
John Park	Sr Managing Dir	11-Jun-15	0.2	600.00	120.00	Administration	Review and sign affidavit. Review KAT; reeview incoming occurremation, consider and senior orning; review and approve payment of	Approved/Unpaid
Kelly-Anne Trenfield	Sr Managing Dir	11-Jun-15	0.2	600.00	120.00	Administration		Category 2 - Approved/Unpaid Category 2 -
Ryan Zorgdrager	Senior Director	, 11-Jun-15	0.4	560.00	224.00	Trade-on	Receive claim by Perpetual with copies of involces for accrued liabilities Receive email from Caroline Halcoop concerning completion of Combiz forms. Review emails and	Approved/Unpaid Category 2 -
Ryan Zorgdrager	Senior Director	11-Jun-15	0.2	560.00	112.00	Trade-on		Approved/Unpaid

 \square

Remuneration to					3,204,515.29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Glenn O'Kearney	Senior Director	11-Jun-15	0.3	560.00	168.00	Trade-on	Note to BJR regarding letter allocation of records costs . discuss net asset value/allocation methods with BN.	Category 2 - Approved/Unpaid
Benjamin Robson	Consultant I	11-Jun-15	0.3	300.00	90.00	Creditors	Review sign and approve various payment vouchers for CH	Category 2 - Approved/Unpaid
Benjamin Robson	Consultant I	11-Jun-15	0.5	300.00	150.00	Creditors	Collate all PTAI involces across all funds	Category 2 - Approved/Unpaid
Caroline Halcoop	Administration 2	11-Jun-15	0.3	175.00	52.50	Administration	approvalCancel commbiz transfer and re do - incorrect account details advised - amend myob voucher details - resent to BJR for checking and approval - returned - collate with supporting docs - send to KAT for approval.	Corporate - Liquidation
Renee Lobb	Senior Director	11-Jun-15	0.1	510.00	51.00	Investigations	Review Kelly-Anne Trenilisia commentary and email regarding trestyle and KPG toan claims and David Whyle involvement.	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	11-Jun-15	0.4	600.00	240.00	Assets	Emails from and response to russells to russells refegal services on MPF mattersemain to mark waller re update on approval of defence costs; review email in and response to russells re MPF matters and position re upcoming application re s96 and leave to proceed; call in from Chris Erfurt	Corporate - Liquidation
Kelly-Anne Trenfield	Sr Managing Dir	12-Jun-15	0.1	600.00	60.00	Administration	Update from RFZ re review of custodian position	Category 2 - Approved/Unpaid
Ryan Zorgdrager	Senior Director	12-Jun-15	0.1	560.00	280.00		COnf with CH concerning forms to access combiz for fund cba accounts. Post review of forms	Category 2 - Approved/Unpaid
Renee Lobb	Seniar Director	12-Jun-15	0.3	510.00	153.00		Review insurer email regarding peregian, lifestyle and KPG loans and Clayton Utz comments on same. Print for file and save to file.	Corporate - Liquidation
Renee Lobb	Senior Director	12-Jun-15	0.4	510.00	204.00	Investigations	Review further emails from Clayton Utz regarding Liedekerke and translated claimants brief.	Corporate - Liquidation
Glenn O'Keamey	Senior Director	12-Jun-15	1.5	560.00	840.00	Creditors	Reconcile payables register/consultants etc.	Corporate - Liquidation
Benjamin Robson	Consultant I	15-Jun-15	0.1	300.00	30.00	Administration	File review	Category 2 - Approved/Unpaid
Ryan Zorgdrager	Senior Director	15-Jun-15	0.2	560.00	112.00	Trade-on	Telephone out to CH RE COmmbiz application forms	Category 2 - Approved/Unpaid
Ryan Zongdrager	Senior Director	15-Jun-15	0.2	560.00	112.00	Creditors	Email John Newby of Trust Co reconciliation of oustanding custodian invoices and request invoices	Category 2 - Approved/Unpaid
Glenn O'Kearney	Senior Director	15-Jun-15	0.2	560.00	112.00	Administration	Meet with POC and discuss current status of file. discus status of tee summary sheets/lund allocations, reply RFZ regarding status of allocations.	Category 2 - Approved/Unpaid
Christine Stead	Senior Director	15-Jun-15	0.1	560.00	56.00	Administration	request updated quote from surety IT emain mom russens re more claims; review correspondence and provide instructionsemail in from	Category 2 - Approved/Unpaid
Kelly-Anne Trenfield	Senior Managing Director	15-Jun-15	0.2	600.00	120.00	Assets	Chris Erfurt re notification re MPF matter; draft email in response noting delay in hearing	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	15-Jun-15	0.3	600.00	180.00	Administration	Review and update to do list; query outstanding items; Review incoming documentation, consider and send to filingJRP update	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	15-Jun-15	0.1	600.00	60.00	Administration	Review email from russells to Gadens in respect to access to the forensic image of the servers taken on appointment; instructions for email to be sent	Corporate - Liquidation Category 2 -
John Park	Sr Managing Dir	16-Jun-15	0.1	600.00	60.00	Administration	Email in Ashley Tiplady.	Approved/Unpaid
Renee Lobb	Seniar Director	16-Jun-15	0.2	510.00	102.00	Administration	Review email regarding hosting and go through previous emails for payment earlier in the year. Query whether domain and hosting are different and request invoice.	Category 2 - Approved/Unpaid
Renee Lobb	Senior Director	16-Jun-15	0.1	510.00	51.00	Trade-on	Review email with Liederkerke's' invoice. Request BJR to pay.	Category 2 - Approved/Unpaid
Renee Lobb	Senior Director	16-Jun-15	0.1	510.00	51.00	Administration	Review hosting information and request 1 year renewal invoice.	Category 2 - Approved/Unpaid
Renee Lobb	Senior Director	16-Jun-15	0.1	510.00	51.00	Trade-on	Review hosting invoice email. Request BJR to pay same.	Category 2 - Approved/Unpaid
Kelly-Anne Trenfield	Sr Managing Dir	16-Jun-15	0.1	600.00			emails in from/to Russells re update meetings and court dates	Category 2 - Approved/Unpaid
Alegan Dopking	Administrative	16-Jun-15	0.2	135.00	27.00	Administration	Bank reconciliations	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	16-Jun-15	0.5	600.00	300.00		Emails memain mom Russells te belipad and position to whyte - oralit response to russells querying instructionscall in from AJT re MPF actions; update re AIF insurance positionemail in from clayton utz re status of legal mattes	Corporate - Liquidation

LM investment Ma Remuneration to					3,204,515.29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Renee Lobb	Senior Director	17-Jun-15	0.2	510.00	102.00	Administration	Catch up with CMA on hosting of AX costing and data access progress.	Category 2 - Approved/Unpaid
							Correspondence with Chins Enfurt regarding update of Clayton Utz amounts owed by MIM, FMIF and	Category 2 -
Benjamin Robson	Consultant I	17-Jun-15	0.5	300.00	150.00	Trade-on	MPF. Work through outstanding invoice list	Approved/Unpaid
Designin Robert	Consultant I	17-Jun-15	0.4	300.00	120.00	Trade-on	Update consultant register	Category 2 - Approved/Unpaid
Benjamin Robson		87-001-10	0.4		120.00	Tada-bii	Review incoming documentation, consider and send to filingupdate with GOK re funds and file	Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	17-Jun-15	0.3	600.00	180.00	Administration	handover	Approved/Unpaid
Glenn O'Keamey	Senior Director	17-Jun-15	0.1	560.00	56.00	Trade-on	Discussions with Kelly regarding RE allocation basis/methods.	Category 2 - Approved/Unpaid
olonin o hodinoy								Category 2 -
Christine Stead	Senior Director	17-Jun-15	0.1	560.00	56.00	Administration	review email in and issue to RFZ and KAT	Approved/Unpaid Category 2 -
Christine Stead	Senior Director	17-Jun-15	0.2	560.00	112.00	Administration	PC with Steph re LM	Approved/Unpaid
Fanya Kratz	Administration 2	17-jun-15	0.3	175.00	52.50	Administration	Scan, save and mail letters x5 as requested.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	17-Jun-15	0.1	560.00	56.00	Assets	Correspondence in regarding cba term deposito - instructions BJR	Corporate - Liquidation
Glenn O'Kearney	Senior Director	17-Jun-15	1	560.00	560.00	Trade-On	Update of SOP, review all registers, comments to discuss with BJR.	Corporate - Liquidation
Benjamin Robson	Consultant I	18-Jun-15	0.3	300.00	90.00	Trade-on	Update funds payable register, and LM payment schedule	Category 2 - Approved/Unpaid
	Consultant	10-0011-10	0.0	000.00	00.00			Category 2 -
Brittany Newman	Admin I	18-Jun-15	0.1	135.00	13.50	Administration	Mail in from ATO - Correspondence re outstanding lodgements for various funds	Approved/Unpaid
Glenn O'Keamey	Senior Director	18-Jun-15	0.3	560.00	168.00	Trade-on	Discussions RFZ regerding allocations funds/basis, brief updates, review draft letter to funds regarding records recover per crt corde trust app.	Category 2 - Approved/Unpaid
Sichin o Roundy							Review proposed response to Liedekerke request for liability insurer details of 2012/2013 policy.	Comercia Limitation
Renee Lobb	Senior Director	18-Jun-15	0.2	510.00	102.00	Investigations	Confirm to respond advising we will not provide.	Corporate - Liquidation
Benjamin Robson	Associate II	18-Jun-15	0.1	300.00	30.00	Trade-On	Email C Erfurt regarding remittance of funds	Corporate - Liquidation
Benjarnin Robson	Associate II	18-Jun-15	0.3	300.00	90.00	Trade-On	Record and file Clayton Utz invoices 3863384	Corporate - Liquidation
Benjamin Robson	Associate II	18-Jun-15	0.3	300.00	90.00	Creditors	Download and pay create a website invoice	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	18-Jun-15	0.1	600.00	60.00	Administration	Review incoming documentation, consider and send to filing	Corporate - Liquidation
Glenn O'Kearney	Seniar Director	18-Jun-15	1	560.00	560.00	Trade-On	Update SOP.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	18-Jun-15	0.3	560.00	168.00	Creditors	Review and approve MPF invoice and FMIF claim email regarding insurance costs.	Corporate - Liquidation
/ictoria Liddell	Consultant II	19-Jun-15	0.2	300.00	60.00	Administration	Discuss Directors lawyers coming to review records and Company database with CMA.	Category 2 - Approved/Unpaid
								Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	19-Jun-15	0.1	600.00	60.00	Administration	RFZ re dealings with custodians	Approved/Unpaid Cätegory 2 -
····	Courter Dimenton	19-Jun-15	0.4	560.00	224.00	Administration	computer set up and deal with lawyers; set up room;	Approved/Unpaid
Christine Stead	Senior Director	19-301-15	0.4	500.00	224.00	Hompsterion		Category 2 -
ilenn O'Keamey	Senior Director	19-Jun-15	0.1	560.00	56.00	Trade-on	Review and sign off payment website.	Approved/Unpaid
tenee Lobb	Senior Director	19-Jun-15	0.1	510.00	51.00	Administration	Respond to email from BJR regarding Liedekerke invoice.	Corporate - Liquidation
rittany Newman	Administration 1	19-Jun-15	0.2	135.00	27.00	Administration	Generate Unbilled OOP's report for GOK	Corporate - Liquidation
rittany Newman	Administration 1	19-Jun-15	0.2	135.00	27.00	Administration	Filing	Corporate - Liquidation
lenn O'Keamey	Senior Director	19-Jun-15	0.5	560.00	280.00	Administration	Finalize sop numbers and send to Kelly.	Corporate - Liquidation
lenn O'Keamey	Senior Director	19-Jun-15	0.1	560.00	56.00	Creditors	Review and sign off on Legal payment Belgium claim.	Corporate - Liquidation
enjamin Robson	Associate II	19-Jun-15	0.5	300.00	150.00	Creditors	Arrange payment of international TT to Belgium law firm. Correspondence with CH and RL	Corporate - Liquidation
anjuniin navaon								Category 2 -
enjamin Robson	Consultant I	22-Jun-15	0.3	300.00	90.00	Creditors	Approval of payment vouchers as requested by CH Review liedekerke/clayton utz advice on first brief, send to KAt with my comments on proposed	Approved/Unpaid
enee Lobb	Senior Director	22-Jun-15	0.3	510.00	153.00	Investigations	instructions and allocating additional information tasks.	Corporate - Liquidation
							Review email regarding liability insurer claim analysis submission, send note to Kelly-Anne Trenfield	
enee Lobb	Senior Director	22-Jun-15	0.2	510.00	102.00	Investigations	regarding other claims which have been articulated in addition to Managed Performance Fund's.	Corporate - Liquidation

LIVI Investment M Remuneration to	anagement Ltd (In Liqui	dation)			3.204,515.29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Beniamin Robson	Associate II	22-Jun-15	0.3	300.00	90.00	Trade-On	Update MYOB with receipts and payments	Corporate - Liquidation
Benjamin Robson	Associate li	22-Jun-15	0.5	300.00	150.00	Creditors	Correspondence with CH and KAT regarding international transfer set up - Belgium claim matter	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	22-Jun-15	0.1	600.00	60.00	Assets	email in from Clayton Utz re insurance analysis and update to RCL re additional claims	Corporate - Liquidation
Victoria Liddell	Consultant I	23-Jun-15	0.3	300.00	90.00	Administration	Meet with Ashleigh Poole re: inspection of LM records. Discuss records and what is possible/not possible with same. Call in from Stephanle from Russells re: review of LM Server. Discuss with CMA	
John Park	Sr Managing Dir	23-Jun-15	1.5	600.00	900.00	Administration	File Review meeting with Russells;	Category 2 - Approved/Unpaid Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	23-Jun-15	1	600.00	600.00	Administration	meeting with Russells to discuss ongoing legal matters	Approved/Unpaid
Kelly-Anne Trenfield	Sr Managing Dir	23-Jun-15	0.6	600.00	360.00	Administration	lemails in/agenda re meeting with Russells re legal issuesreview outstanding legal matters and prepare agenda re meeting with Russells	Category 2 - Approved/Unpaid
Rense Lobb	Senior Director	23-jun-15	0.2	510.00	102.00	Investigations	Review Kelly-Anne Trenfield's comments on potential claims. respond to email from Clayton Utz and confirm only Bellpac and Whyte claim. Advise instructions are givent o send to KM for review.	Corporate - Liquidation
Renee Lobb	Senior Director	23-Jun-15	0.1	510.00	51.00	Investigations	Review Kelly-Anne Trenfield email. Request update on timing for KM review from Clayton Utz. Set up international payment - LMIM, amend cashbook entry to reliect exchange rate; scan and email	Corporate - Liquidation
Caroline Halcoop	Administration 2	23-Jun-15	0.3	175.00	52.50	Administration	to BJR for approval Meeting with Jarried Villahr reinsurance analysis, scheme set-up and proposed meeting with David	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	23-Jun-15	0.4	600.00	240.00	Assets	Whyte	Corporate - Liquidation
Renee Lobb	Senior Director	24-Jun-15	0.1	510.00	51.00	Administration	Follow up BJR on payment of website Invoice.	Category 2 - Approved/Unpaid
John Park	Sr Managing Dir	24-Jun-15	0.1	600.00	60.00	Administration	Email in RFZ with update; JRp re payment of tech costs; draft response re requirement for approval and outline required	Category 2 - Approved/Unpaid
Kelly-Anne Trenfield	Senior Managing Director	24-Jun-15	0.1	600.00	60.00	Administration	JRp re payment of tech costs; orait response re requirement for approval and obline required treatment	Corporate - Liquidation Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	25-Jun-15	0.2	600.00	120.00	Administration	arrangements re regular meeting to discuss path and strategyreallocation of tasks review Reity-Anne Trenneid's response to my comments on instructions to Clayton Utz and access	Approved/Unpaid
Renee Labb	Senior Director	25-Jun-15	0.2	510.00	102.00	Investigations	of information needed for Liedekerke action. Email instructions to Chris at Clayton Utz.	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	25-Jun-15	0.1	600.00	60.00	Assets	review correspondence in from Clayton Utz re Belgain claim; review/confirm/query RCI comments Review email from adviser regarding likely returns, advise to clarify which fund to enable correct	Corporate - Liquidation Category 2 -
Renee Lobb	Senior Director	26-Jun-15	0.2	510.00	102.00	Trade-on	response.	Approved/Unpaid
Kelly-Anne Trenfield	Sr Managing Dir	26-Jun-15	0.1	600.00	60.00	Administration	Review and approve payment of outstanding administration liabitities including review of supporting documentation and signing of transfer or cheque	Category 2 - Approved/Unpaid Category 2 -
Glenn O'Kearney	Senior Director	26-Јил-15	0.1	560.00	56.00	Trade-on	Correspondence Kelly/BJR regarding LM fund management.	Approved/Unpaid Category 2 -
Christine Stead	Senior Director	26-Jun-15	0.1	560.00	56.00	Administration	respond to email from RCL and quick update with KAT re various emails in from Russells	Approved/Unpaid Category 2 -
Carly Drew	Admin II	26-Jun-15	0.2	175.00	35.00	Administration	Prepared Final Letter, scanned, saved and issued via email; No post so issued to RFZ for filing;	Approved/Unpaid
Caroline Halcoop	Administration 2	26-Jun-15	0.1	175.00	17.50	Administration	Release commbiz transfer - BJR	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	26-Jun-15	0.1	600.00	60.00	Assets	Bellpac - call in from Stephanie Williamson re timing on defence	Corporate - Liquidation
Stenn O'Keamey	Senior Director	26-Jun-15	0.1	560.00	56.00	Administration	Correspondence Kelly regarding LM tech invoice. Review note Kelly regarding im oops/intercompany invoices, review OOPS register .note to Kelly.	Corporate - Liquidation
Blenn O'Kearney	Senior Director	26-Jun-15	0.3	560.00	168.00	Administration	discuss with CMA	Corporate - Liquidation
Brittany Newman	Administration 1	26-Јил-15	0.1	135.00	13.50	Administration	Mail in from ATO - BAS (1 Apr - 30 Jun 2015) DOC ID 30 631 096 947	Corporate - Liquidation
Frittany Newman	Administration 1	26-Jun-15	0.3	135.00	40.50	Administration	Filing	Corporate - Liquidation Category 2 -
ladhu Menon	Sr. Consult I	29-Jun-15	0.3	360.00	108.00	Administration	(Work done 23rd June / last week)Assist with setting up NAS, and a guest use leptop. Create guest access and enable. Set up laptop on network for access by external party	Category 2 - Approved/Unpaid Category 2 -
enee Lobb	Senior Director	29-Jun-15	0.1	510.00	51.00	Investigations	Request Madhu's assistance in gaining access to LM Investment Management Ltd server.	Approved/Unpaid

LM Investment Ma Remuneration to 3	anagement Ltd (In Liqui 30 June 2018	dation)			3.204.515.29				
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification	
Christine Stead	Senior Director	29-Jun-15	0.1	560.00	56.00	Administration	Return PC to Clayton Utz	Category 2 - Approved/Unpaid	
Renee Lobb	Senior Director	29-Jun-15	0.1	510.00	51.00	Administration	Neview email from create a website regarding unpaid invoice, confirm with NJK to liaise regarding payment and advise them afready paid.	Corporate - Liquidatio	
Renee Lobb	Senior Director	29-Jun-15	0.2	510.00			Call with Clayton Utz regarding information required for response to liedekerke.	Corporate - Liquidatio	
Benjamin Robson	Consultant I	30-Jun-15	0.5	300.00	150.00	Creditors	Follow up with CH various payments - Clayton Utz and create a Webster	Category 2 - Approved/Unpaid	
Glenn O'Kearney	Senior Director	30-Jun-15	0.2	560.00	112.00	Trade-on	Discuss ongoing management of funds BJR/KAT. Discuss allocation records invoices BJR, review various invoices in fund/allocations note to BJR	Category 2 - Approved/Unpaid Category 2 -	
Glenn O'Kearney	Senior Director	01-Jul-15	0.2	560.00	112.00	Trade-on	regarding same.	Approved/Unpaid	
Benjamin Robson	Consultant I	01-Jul-15	1.3	300.00	390.00	Trade-on	Review record and apportion invoices relating the books and record application as per court broad dated 14 may 2015, prepare letter and supporting documents to Korda Mentha requesting MPF portion of total costs	Category 2 - Approved/Unpaid	
Christine Stead	Senior Director	01-Jul-15	0.2	560.00	112.00	Administration	review emails in re B&R and respond	Category 2 - Approved/Unpaid	
Renee Lobb	Senior Director	01-Jui-15	1	510.00	510.00	investigations	Review Liedekerke information required in accordance with Clayton Utz correspondence. Save files of relevance and do details email addressing each point in correspondence.	Corporate - Liquidation	
Renee Lobb	Senior Director	01-Jul-15	0.3	510.00	153.00	Investigations	Review draft letter to moray and Agnew regarding insurance, provide instructions to issue.	Corporate - Liquidation	
Keliy-Anne Trenfield	Senior Managing Director	01-Jul-15	1.3	600.00	780.00	Assets	Call in from Stephanie Williamson, Russells, re review of defence re bellpac proceedings Review sections of corps act regarding investor rights to other investor details. Raise query with Kelly	Corporate - Liquidation	
Renee Lobb	Senior Director	02-Jul-15	0.3	510.00	153.00	Trade-on	Anne Trenfield. Call and leave message for ASIC legal department regarding requests by investors for investor lists	Approved/Unpaid Category 2 -	
Renee Lobb	Senior Director	02-Jul-15	0.1	510.00	51.00	Investigations	and ASIC position on same.	Approved/Unpaid Category 2 -	
Glenn O'Keamey	Senior Director	02-Jul-15	0.5	560.00	260.00	Trade-on	Discuss general handover of fund issues RFZ, review various email updates. Mail out to David Gaudiosi, The Trust Company Ltd - Statements re the Trust Company (PTAL) Ltd	Approved/Unpaid	
Brittany Newman	Admin I	02-Jul-15	0.1	135.00	13.50	Administration	ATF Bedrock Property Trust No 1	Approved/Unpaid	
Renee Lobb	Senior Director	02-Jul-15	0.7	510.00	357.00	Investigations	Funder review of accuments of clayton uz, go prougn investoraaviser list and into investors in Belgium and adviser locations, provide same to clayton uz, Calls with Clayton Uz to further narrow information required.	Corporate - Liquidation	
John Park	Senior Managing Director	02-Jul-15	0.1	600.00	60.00	Administration	Email in Jarrod Villani;	Corporate - Liquidation	
Benjamin Robson	Associate II	02-Jul-15	0.3	300.00	90.00	Creditors	Review and record Russells invoice B22072	Corporate - Liquidation	
enjamin Robson	Associate II	02-Jul-15	0.3	300.00	90.00	Trade-On	Arrange transfer of term deposit funds	Corporate - Liquidation	
elly-Anne Trenfield	Senior Managing Director	02-Jul-15	0.2	600.00	120.00	Assets	Emails in reinformation to clayton utz re review of belgian claim	Corporate - Liquidation	
legan Dopking	Administrative	02-Jul-15	0.2	135.00	27.00	Investigations	Delivery of USB to Clayton Utz	Corporate - Liquidation Category 2 -	
Renee Lobb	Senior Director	03-Jul-15	0.1	510.00	51.00	Administration	Review confirmation of receipt of hosting payt, send to BJR for records.	Approved/Unpaid	
elly-Anne Trenfield	Sr Managing Dir	03-Jul-15	0.1	600.00	60.00	Administration	emails in re fund operations	Approved/Unpaid	
lenee Lobb	Senior Director	03-Jul-15	0.2	510.00	102.00	Administration	Review Liedekerke approach to E & Y consultative argument. advise Kelly-Anne Trenfield i believe we should only agree once we have the full fee estimate previously requested. Discuss audit engagement letters (general), discuss fund management hendover RFZ and BJR.	Corporate - Liquidation Category 2 -	
Benn O'Kearney	Senior Director	06-Jul-15	0.4	560.00	224.00	Trade-on	review draft letter regarding allocation to books and records application.	Approved/Unpald	
enee Lobb	Senior Director	06-Jul-15	0.2	510.00.	102.00	Investigations	Review response from Kelly-Anne Trenfield regarding insurance issues (Belgium claim). Communicate instructions to Clayton Utz and request confirmation of cost estimate prior.	Corporate - Liquidation	
ohn Park	Senior Managing Director	06-Jul-15	0.2	600.00	120.00	Administration	Email out to KM Re AIF defence;	Written Off/Not claimed	
enjamin Robson	Associate (I	06-Jul-15	0.5	300.00	150.00	Trade-On	Receive and review invoices from Russells solicitors, discuss allocation with Glenn O'Kearney	Corporate - Liquidation	
ohn Park	Sr Managing Dir	07-Jul-15	0.1	600.00	60.00	Administration	Review and sign engagement letter for Ernst & Young;	Category 2 - Approved/Unpaid	
elly-Anne Trenfield	Sr Managing Dir	07-Jul-15	0.1	600.00	60.00	Creditors	email in from Russells re correspondence from ASIC re discovery of documents re proceedings	Category 2 - Approved/Unpaid	

LIM Investment Ma Remuneration to 3	anagement Ltd (in Liquid 30 June 2018	ation)			3,204,515.29		에는 것은 것을 가지 않는다. 전문 전문 전문 전문 것은	
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Glenn O'Keamey	Senior Director	07-Jul-15	0.1	560.00	56.00	Trade-on	Review correspondence regarding change of address info/CBA funds.	Category 2 - Approved/Unpaid
Glenn O'Kearney	Senior Director	07-Jul-15	0.5	560.00	280.00	Trade-on	Review lund records (non specific) regarding advisor commissions/updates on website. discussions with BJR ongoing fund management Issues.	Category 2 - Approved/Unpaid
Ginette Muller	CONSULTANT	07-Jui-15	0.2	600.00	120.00	Administration	Asset register reports from the custodian	Category 2 - Approved/Unpaid
Katie Swain	Senior Marketing Coordinator	07-Jui-15	0.1	135.00	13.50	Administration	Entering cheque into cheque register	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	07-Jul-15	0.2	600.00	120.00	Assets	email in from Russells to correspondence from Tucker & Cowen re MPF mattesemails in re adjournment of MPF matters	Corporate - Liquidation
Benjamin Robson	Associate II	07-Jul-15	0.6	300.00	180.00	Trade-On	Perusat email from Russells attaching latest invoices, query charges with RA i, record and log invoices in registers and note funds recoverable under insurance claim	Corporate - Liquidation
Brittany Newman	Administration 1	07-Jul-15	0.1	135.00	13.50	Administration	Final 89741155 & 89741156 + copy supporting documents	Corporate - Liquidation
Brittany Newman	Administration 1	07-Jul-15	0.3	135.00	40.50	Administration	Enter missing transactions for June 2015 for all accounts + reconcile accounts as at 30/06/2015	Corporate - Liquidation
Brittany Newman	Administration 1	07-Jul-15	0.1	135.00	13.50	Administration	Re-final 89741155 & 89741156	Corporate - Liquidation
Renee Lobb	Senior Director	08-Jul-15	0.1	510.00	51.00	Investigations	Review hearing for costs update from BDO.	Corporate - Liquidation
Kelly-Anne Trenfield	Sr Managing Dir	09-Jul-15	0.1	600.00	60.00	Administration	Review and update to do list; query outstanding itemsReview incoming documentation, consider and send to filingim	Approved/Unpaid
Kelly-Anne Trenfield	Sr Managing Dir	09-Jul-15	0.1	600.00	60.00	Administration	review and sign letters to KM/McGriah Nicol re payment of books and records costs	Category 2 - Approved/Unpaid Category 2 -
John Park	Sr Managing Dir	09-Jul-15	0.2	600.00	120.00	Administration	Emails in Russells;	Approved/Unpaid
Katie Swain	Senior Marketing Coordinato	09-Jul-15	0.4	135.00	54.00	Administration	Bank Reconciliation	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	09-Jul-15	0.3	600.00	180.00	Assets	email in from Stephanie Williams re subpoena on MPF matters and request for insurance details; draft email for JRP/GDM to sendReview incoming documentation, consider and send to filing	Corporate - Liquidation
	Administration 1	09-Jul-15	0.5	135.00		Administration	Filing	Corporate - Liquidation
Brittany Newman Ginette Muller	Managing Director	09-Jul-15	0.3	600.00		Administration	Lifestyle Investment Company Pty Ltd and KPG 13th Beach Stage 1 Pty Ltd	Corporate - Liquidation
	Internating Director	00-001-10		000.00				Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	10-Jul-15	0.3	600.00	180.00	Administration	review asic correspondence and provide instructions for response Correspondence with BJR regarding fund matters/meetings with auditors, review of fund update	Approved/Unpaid Category 2 -
Gienn O'Keamey	Senior Director	10-Jul-15	0.3	560.00	168.00	Trade-ол	materials.	Approved/Unpaid
Julie Ross	Administration	10-Jul-15	0.3	175.00	52.50	Administration	Closing file letter to close term deposit accouth	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	10-Jul-15	0.2	600.00	120.00	Administration	Review update from russells re bellpac proceedings Review bank reconciliations and unknown transactions, note BJR, review Clayton utz invoices LMIM	Corporate - Liquidation
Glenn O'Kearnev	Senior Director	10-Jul-15	0.2	560.00	112.00	Administration	allocation.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	10-Jul-15	0.1	560.00	56.00	Assets	Review LMIM 38 cavil partnership returns.	Corporate - Liquidation
Brittany Newman	Administration 1	10-Jul-15	0.4	135.00	54.00	Administration	Filing	Corporate - Liquidation
Benjamin Robson	Consultant I	13-Jul-15	0.3	300.00	90.00	Trade-on	Correspondence with Eric Dickler at EY with respect to setting up audit meeting	Category 2 - Approved/Unpaid Category 2 -
Benjamin Robson	Consultant I	13-Jul-15	0.4	300.00	120.00	Trade-on	LM Fee Data June Half 2015 and formatting of summary table	Approved/Unpaid Category 2 -
Benjamin Robson	Consultant I	13-Jul-15	0.3	300.00	90.00	Trade-on	Update constants fee registers	Approved/Unpaid Category 2 -
Blenn O'Keamey	Senior Director	13-Jul-15	0.1	560.00	56.00	Trade-on	Liaise with BJR regarding timing discussion audits Discuss fund management issues/outstanding BJR. review correspondence Audits/accountants	Approved/Unpaid Category 2 -
Glenn O'Keamey	Senior Director	13-Jul-15	0.8	560.00	448.00	Trade-on	regarding progress meetings, discuss general strategy thoughts,	Approved/Unpaid
Benjamin Robson	Associate II	19-Jul-15	0.3	300.00	90.00	Trade-On	Clayton Utz Invoice 3867869 - to be paid by LM IM	Corporate - Liquidation
Sienn O'Keamey	Senior Director	13-Jul-15	0.2	560.00	112.00	ordanoro	Review and sign off on payment Clayton utz, review and approve trivoice MPF allocations, review and sign off on receipt of funds/MPF allocations.	Corporate - Liquidation
Blenn O'Kearney	Senior Director	13-Jul-15	0.5	560.00	280.00	Administration	Work on model for June 2015 WIP allocations.	Corporate - Liquidation

	nagement Ltd (In Liquid	dation)			2 204 515 20			
Remuneration to 3 Name	Title	Date	Hours	Charge Out Rate	3,204,515.29 Charge	Task Desc	Narrative	Classification
John Park	Sr Managing Dir	14-Jul-15	0.1	600.00	60.00	Administration	Email in Russells;	Category 2 - Approved/Unpaid
Kelly-Anne Trenfield	Sr Managing Dir	14-Jul-15	0.2	600.00	120.00	Administration	Review letter from russells to asic re privilegeemails in re asic discovery; provide input re correspondence with ASIC	Category 2 - Approved/Unpaid
Christine Stead	Senior Director	14-Jul-15	0.3	560.00	168.00	Administration	PC with GOK re IT system	Category 2 - Approved/Unpaid
Glenn O'Kearney	Senior Director	14-Jul-15	1	560.00	560.00		Teleconference with BJR and Steve hannan regarding fund management issues. discussions with CMA regarding IT/fund records updates. review Custody reports all funds. review crt order regarding allocation % fund costs and discuss method with BJR. consider fund management strategies.	Approved/Unpaid
Brittany Newman	Admin (14-Jul-15	0.1	135.00	13.50	Administration	Mail out to David Gaudrosi, The Trust Company Ltd - Statement re The Trust Company (PTAL) Ltd ATF Bedrock Property Trust No 1	Category 2 - Approved/Unpaid
Glenn O'Kearney	Senior Director	14-Jul-15	0.5	560.00		Administration	Review Jan to June 2015 WIP data and perform allocation across funds and corporate. Time allocated across funds and LMIM corporate.	Corporate - Liquidation
Caroline Halcoop	Administration 2	14-Jul-15	0.1	175.00	17.50	Administration	RVKIO - LM Managed Performance Fund - \$12,638.29 - BJR	Corporate - Liquidation
Glenn O'Kearney	Senior Director	15-Jul-15	3.5	560.00	1,960.00	Trade-on	AX/SH. discussions with BJR - Rlobb. research new allocation methods fund splitting costs. review Clouts HOA and other court docs. preparation of fund allocation methods and send proposal to Kelly for approval. Prepare memo on fund management strategy and proposal AX and Steve hannan - issue to Kelly.	Category 2 - Approved/Unpaid Category 2 -
Glenn O'Keamey	Senior Director	15-Jul-15	0.8	560.00	448.00	Trade-on	Further allocation of FUND WIP jan-jun data. confirm updated numbers to Kelly .	Approved/Unpaid
Kelly-Anne Trenfield	Senior Managing Director	15-Jul-15	0.4	600.00	240.00	Administration	Review remuneration allocations/calculations	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	15-Jul-15	0.2	600.00	120.00	Assets	Review email in from stephanie wilkamson re MK matters and subpoena; call in from Stephanie Williamson re MPF matters	Corporate - Liquidation
Glenn O'Keamey	Senior Director	15-Jul-15	0.1	560.00	56.00	Assets	Review correspondence in CBA regarding Term deposit.	Corporate - Liquidation
Gtenn O'Kearney	Senior Director	15-Jul-15	1	560.00	560.00	Creditors	Review Jan to June WIP data for insurance allocations.	Corporate - Liquidation
Christine Stead	Senior Director	16-Jul-15	0.1	560.00	56.00	Administration	review email in from GOK	Category 2 - Approved/Unpaid
Christine Stead	Seniar Director	16-Jul-15	0.1	560.00	56.00	Administration	send email out to Surety IT following discussion with GOK	Category 2 - Approved/Unpaid Category 2 -
Glenn O'Keamey	Senior Director	16-Jui-15	0.3	560.00	168.00	Trade-on	Discuss fund management strategy/timing AX etc with BJR CMA .correspondence Kelly SH mtg. Wrain through GST réporting issue with respect to accounts receivable accounts vs negative expense	Approved/Unpaid
Benjamin Robson	Associate II	16-Jul-15	1.1	300.00	330.00	Administration	accounts, assist with preparation of June BAS	Corporate - Liquidation
Renee Labb	Senior Director	16-Jul-15	0.3	510.00	153.00	Investigations	Review email from Ginette Muller and assist TK in finding IPA and a documents required	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	16-Jul-15	0.2	600.00	120.00	Assets	Email in from Russells re mpf matters; request insurance update; cma update; response to russells	Corporate - Liquidation
Glenn O'Kearney	Senior Director	16-Jul-15	0.3	560.00	168.00	Administration	Discuss BAS queries BJR. review BAS - further queries BJR	Corporate - Liquidation
Brittany Newman	Administration 1	16-ปน-15	0.4	135.00	54.00	Administration	Continue to prepare BAS (1 Apr - 30 Jun 2015)	Corporate - Liquidation
Brittany Newman	Administration 1	16-Jul-15	0.1	135.00	13.50	Administration	Amend BAS (1 Apr - 30 Jun 2015)	Corporate - Liquidation
Brittany Newman	Administration 1	16-Jul-15	0.3	135.00	40,50	Administration	Filing	Corporate - Liquidation
Benjamin Robson	Consultant I	17-Jul-15	1.2	300.00	360.00	Trade-on	Meeting with Steve Hannah and Glenn O'Keamey regarding Wind up of lunds, engaging Steve to assist	Category 2 - Approved/Unpaid
Kelly-Anne Trenfield	Sr Managing Dir	17-Jul-15	0.5	600.00	300.00	Administration	Review GOK email re engaging Steve Hannan; review past correspondence re tickiner and respond to GOK re his engagement.review altocation calculation and methodology re fund costs	Category 2 - Approved/Unpaid
kohn Park	Sr Managing Dir	17-Jul-15	0.3	600.00	180.00	Administration	Review and sign affidavit material;	Category 2 - Approved/Unpaid
Christine Stead	Senior Director	17-J⊔i-15	0.1	560.00	56.00	Administration	review email from GOK and update GOK re different terms available	Category 2 - Approved/Unpaid
Christine Stead	Senior Director	17-Jul-15	0.1	560.00	56.00	Administration	locate copies of all quotations and email to GOK	Category 2 - Approved/Unpaid
	Senior Director	17-Jul-15	1.1	560.00	616.00	Administration	undertake review of LM server and email results to KAT	Category 2 - Approved/Unpaid

 \frown

LM investment M Rémunération to Name		dation) Date	Hours	Charge Out Rate	3,204,515.29 Charge	Task Desc	Narrative	Classification
Nellie	1.08			Charge Out Nate	Charge		Discussions with bur regarding rund management strategy. meet with Steve nannan to discuss	Classification
		1					updates across funds - facilitating further work to assist in windup. send additional proposal Kelly.	Category 2 -
Gienn O'Keamey	Senior Director	17-Jul-15	2.2	560.00	1,232.00	Trade-on	review AX quotes. updates in approvals allocations/strategy etc.	Approved/Unpaid Category 2 -
Carly Drew	Admin II	17-Jul-15	0.1	175.00	17.50	Administration	Prepared Final Letter	Approved/Unpaid
Renee Lobb	Senior Director	17-Jul-15	0.2	510.00	102.00	Investigations	Request update from Chris Erfurt on insurance matters and their response to our claims advice.	Corporate - Liquidation
Renee Lobb	Senior Director	17-Jul-15	0.2	510.00	102.00	Investigations	Can with Chris regarding insurance update and response from insurers. Update Kelly-Anne Trenfield on same.	Corporate - Liquidation
Tanya Kratz	Administration 2	17-Jul-15	0.2	175.00	35.00		Draft letter as requested by GDM.	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	17-Jul-15	0.2	600.00	120.00	Administration	review LMIM fee allocations and request invoicing to be completed	Corporate - Liquidation
Glenn O'Kearney	Senior Director	17-Jul-15	0.1	560.00	56.00	Creditors	Query in from creditor regarding UTIS C fund debt. research regarding identify fund and reply.	Corporate - Liquidation
		00.1.1.45		475.00	47.50	•	Scanned, saved and emailed correspondence;	Category 2 - Approved/Unpaid
Carly Drew	Admin II	20-Jul-15	0.1	175.00	17.50	Administration	Continue, saved and emailed conspondence,	
Gienn O'Keamey	Senior Director	20-Jul-15	0.5	560.00	260.00	Trade-on	regarding meeting WMS/auditors.	Approved/Unpaid
				F00.00	Fa 00	A	email in from GOK and email out to MM re AX restoration	Category 2 - Approved/Unpaid
Christine Stead	Senior Director	20-Jul-15	D.1	560.00	56.00	Administration		Category 2 -
Christine Stead	Senior Director	20-Jul-15	0.1	560.00	56.00	Administration	review emails in from MM and respond	Approved/Unpaid
Kelly-Anne Trenfield	Senior Managing Director	20-Jul-15	0.4	600.00	240.00	Administration	Meeting with Counsel and solicitors re lega; proceedings - MPF claims and Bellpac	Corporate - Liquidation
Glenn O'Keamey	Senior Director	20-Jul-15	0.3	560.00	168.00	Creditors	Review tiles KM pods and copy to KAt, review tile ATO pod, note BJR regarding us fund creditor - discuss with BJR	Corporate - Liquidation
Glenn O'Keamey	Senior Director	20-Jul-15	0.2	560.00	112.00	Administration	Update mater WIP spreadsheet with LMIM corporate WIP allocations.	Corporate - Liquidation
Christine Stead	Senior Director	20-Jul-15	0.1	560.00		Administration	Email Stephanie re search results for Bellpac	Corporate - Liquidation
	Control Children						Review email from New Zealand serious fraud office and respond to same on appropriate contacts	Category 2 -
Renee Lobb	Senior Director	21-Jul-15	0.2	510.00	102.00	Investigations	for each of the funds to Investigate the SPG and Andrew Robinson fraud matter. Invieer war park and discuss rand allocationscredoncile consoliants registernees op cost register, dait-	Approved/Unpaid
			Ì				Blue broking and discuss insurance PI renewal issues, discuss AX quotes etc CMA, review	
						L.	undertakings from crt order and allocations basis, source contract templates SH. discuss Mya/Jun op cost invoices BJR, review further AX updates/approve quotes etc.	
Glenn O'Kearney	Senior Director	21-Jul-15	1.5	560.00	840.00	Trade-on	COSE INVOICES BUR, FOVIEW KINDER AX OPUBLES/APPIOVE QUOIES Etc.	Approved/Unpaid Category 2 -
Christine Stead	Senior Director	21-Jul-15	0.4	560.00	224.00	Administration	Email in re costs, PC with GOK and see MM; email out to Geoff	Approved/Unpaid
							Evenilia from Coeff any and coord amail undets to COV	Category 2 - Approved/Unpaid
Christine Stead	Senior Director	21-Jui-15	0.1	560.00	56.00	Administration	Email in from Geoff, review and send email update to GOK	Category 2 -
Christine Stead	Senior Director	21-Jul-15	0.3	560.00	168.00	Administration	deal with quotes	Approved/Unpaid
							Call with Chris Erfurt. Discuss Lifestyle action, litigation funding available and claims analysis. set out	
							position in detailed email to Kelly-Anne Trenfield after discussions with Chris Erfurt on same. Email to	
Renee Lobb	Senior Director	21-Jul-15	1	510.00	510.00	Investigations	Kelly-Anne Trenfield regarding teleconference coordination. emails to Chris regarding funding etc.	Corporate - Liquidation
Renee Lobb	Senior Director	21-Jul-15	0.2	510.00	102.00	Administration	Attempts to schedule teleconference for tomorrow. Email to NZ fraud department.	Corporate - Liquidation
							respondemails in re insurance and teleconference with Clayton Utz/Russellsreview update on bellpac	
							litigation matter; email in re reply to defenceemails re meeting/costsemails in re meeting/costs; emails	
Kelly-Anne Trenfield	Senior Managing Director	21-Jul-15	0.7	600.00	420.00	Administration	in response to RCL Update meeting with Glenn O'Kearney & Ben Robson re status of funds and plan to progress; travel	Corporate - Liquidation
	Sr Managing Dir	22-Jul-15	3.8	600.00	2,280.00	Administration	Update meeting with Gienn O'Kearney & Ben Robson ta status of funds and plan to progress, daver to/from meeting	Approved/Unpaid
Kelly-Anne Trenfield		22-30F10	0.0	000.00		- Tarrin Inversion	Update to GOK re legal actions/Insuranceapprove emails; Review incoming documentation, consider	
Kelly-Anne Trenfield	Sr Managing Dir	22-Ju -15	0.3	600.00	180.00	Administration	and send to filing Review and approve involce for recovery b&r application, review ASIC statement in regarding fund	Approved/Unpaid Category 2 -
Glenn O'Kearney	Senior Director	22-Jui-15	0.2	560.00	112.00	Trade-on	charges, discuss WMS meeting BJR	Approved/Unpaid
лони о першеу		22-00-13	0.2	000.00	112.00			Category 2 -
Genn O'Kearney	Senior Director	22-Jul-15	1.1	560 .00	616.00	Trade-on	Meeting with Kelly and BJR to discuss status of fund work.	Approved/Unpaid
rittany Newman	Administration 1	22-Jul-15	0.1	135.00	13.50	Administration	Mail in from ASIC - Invoice Statement 12 July 2015	Corporate - Liquidation

Other Other Orange Ora		anagement Ltd (In Liqui 20 June 2019	dation)			3,204,515.29			
Instrum Data in the constraint of the constr		이 집 것 같은 것 같아요. 바라는 것 같아요. 이 것 같아요. 이 것 같아요. 이 것	Date	Hours	Charge Out Rate			Narrative	Classification
Bare 1.40 Sinb Diest Participant Control and Barbary Result Proceedings of the second and the special of the spe	Brittany Newman	Administration 1	22-Jul-15	0.4	135.00	54.00	Administration	Filing	Corporate - Liquidation
Self-Area Self-Area <t< td=""><td></td><td>Senior Director</td><td></td><td></td><td>510.00</td><td>816.00</td><td>Investigations</td><td>strategy. Return call from Mark Waller post teleconference. Emails to mark and Chris on insurer information on costs and Belgium proceeding. Review also Russells email regarding KM's opposition to an adjournment. Email GOK and BJR with details of Information we need to send to the insurers regarding funding, email Russells requesting anticipated costs not yet paid to finalise each proceeding. Review letter to miniters and subsequent emails regarding furnorrow's proceedings and</td><td>Corporate - Liquidation</td></t<>		Senior Director			510.00	816.00	Investigations	strategy. Return call from Mark Waller post teleconference. Emails to mark and Chris on insurer information on costs and Belgium proceeding. Review also Russells email regarding KM's opposition to an adjournment. Email GOK and BJR with details of Information we need to send to the insurers regarding funding, email Russells requesting anticipated costs not yet paid to finalise each proceeding. Review letter to miniters and subsequent emails regarding furnorrow's proceedings and	Corporate - Liquidation
Clam O'Kearney Senior Director 22-Jul-15 0.7 660.00 300.00 Creations Mail Model Compare and the senior of the senior the senior of the senior of the senior the senior of the senio	Kelly-Anne Trenfield	Senior Managing Director	22-jul-15	1.9	600.00	1,140.00	Administration	of draft; discuss contents and provide instructions re not consenting or objecting to leave and s96 application but seeking ability to return in change of circumstancesJRP re call from steve russellAJT re email from walter and teave applicationupdate to imperials in re update from clayton utz and russells re MPF proceedings	Corporate - Liquidation
Centre V Outries V <th< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td>LMIM corp consultant fee position - defense of insurance matters, note to KAT regarding payment. note in form Renee regarding information required for submissions to insurer, discuss submission</td><td></td></th<>								LMIM corp consultant fee position - defense of insurance matters, note to KAT regarding payment. note in form Renee regarding information required for submissions to insurer, discuss submission	
Ketly-Arme Translad St Amaging Dir 23.44-15 0.05 0.000 0.000 Creditors Meeding with Share Roberts re LM and his copresentation of various investors Approx/1 Kolly-Armo Trenifed Sinkor Director 23.44-15 0.0 0.000 10000 Administration Review orders re AX instructions intermation, request dubling information, review with cma Approx/2 Glein O'Kearney Sinkor Director 23.44-15 0.4 55000 124.000 Pailing Sitew hannan contractor agreement for services to LM Mis SRE Approx/2 Approx/	Glenn O'Kearney	Senior Director	22-Jul-15	0.7	560.00	392.00	Creditors	with Kelly.	
Kully-Anne Trenfield Sr Amaeging Dir 23-Jul-15 0.2 0.000 120.00 Administration Review orders re AX-reinstatement - request dddlional information; review with cma Approved/Unpaid Glenn O'Kearney Senior Director 23-Jul-15 1 560.00 700e-00 Drafting Slove hannan contractor agreement for services to LM IM as RE Approved/Unpaid Christine Sload Senior Director 23-Jul-15 0.4 560.00 700e-00 Trade-on Drafting Slove hannan contractor agreement for services to LM IM as RE Approved/Unpaid Approv	Kelly-Anne Trenfield	Sr Managing Dir	23-Jul-15	0.5	600.00	300.00	Creditors	Meeting with Shane Roberts re LM and his representation of various investors	Approved/Unpaid
Number Sender Director 23-Jul-15 0	Martin America Theory Colleg	O-14	00 Jul 15		800.00	120.00	Administration	Review orders re AX reinstatement - request additional information; review with cma	
Christine Stead Sector 233-04-15 0.4 560.00 224.00 Administration Email in Yom AVIT; and COR (blowing up the statics of the Server Restor, pink all quotisition is sen shared and the other for approval Call good Approval/Unpaid Christine Stead Senior Director 23-Jul-15 0.4 560.00 224.00 Administration Review, save and print for file 6 more emails regarding protony respectant and reversing or approvement. Approval/Unpaid Review, save and print for file 6 more emails regarding proton 23-Jul-15 0.6 600.00 180.00 Administration Review, save and print for file 6 more emails regarding proton Corporate - Liquidalit Kolly-Anne Trenfield Senior Managing Director 23-Jul-15 0.3 600.00 180.00 Administration Review (restor proton or restarched and for the file of file file opported - Liquidalit Corporate - Liquidalit Kolly-Anne Trenfield Senior Managing Director 23-Jul-15 0.2 600.00 120.00 Administration Review restor proton or restarched and restor proton or restarched and restor or restarched and restor restor or restarched and restor restor or restarched and restor proton or restarched and restor proton or restarched and restor restor or restarched and restor restor or restarched and restor restor or restarc	Kelly-Anne Trennela	Sr Managing Dir	23-JUI-15	0.2	000.00	120.00	Auton		
Christine Stead Samir Director 23-Jul-15 0.4 660.00 224.00 Administration work work many many to caption to the strate for approval work work many many to caption to the strate for approval work work many many to caption to the strate for approval work work many many to caption to the strate for approval work work many many to caption to the strate for approval work work many many to caption to the strate for approval work work many many to caption to the strate for approval work work many many to caption to the strate for approval work work many many to caption to the strate for approval work work many to caption to the strate for the strate for approval work work many to caption to the strate for approval work work many to caption to the strate for the strate for approval to	Glenn O'Kearnev	Senior Director	23-Jui-15	1	560.00	560.00	Trade-on		
Christine dialu Service / Link Concern frequency parker process many response in sources to solve and response of constraint of the solution with kelly-hand Trended to is solve and the solution with kelly-hand Trended to is solve and the solution with kelly-hand Trended to is solve and the solution with kelly-hand Trended to is solve and the solution with kelly-hand Trended to is solve and the solution with kelly-hand Trended to is solve and the solution with kelly-hand Trended to is solve and the solution with kelly-hand Trended to is solve and the solution with kelly-hand Trended to is solve and the solution with kelly-hand Trended to is solve and the solution with kelly-hand Trended to is solve and the solution with kelly-hand Trended to kelly the solution of the solution and trend trend to be under the solution of the solution with kelly-hand Trended to kelly the solution of the solutis the solve the solution of the solution of the solution of the			j						
Rence Lobb Senior Director 23-Jul-15 0.8 610.00 306.00 Investigations Review proposed response and confirm with Kelly-Anne Trenfield to issue instructions to send same service and points for life do meanais regarding ubpone and letter in KM regarding ubpone and regarding ubpone and letter in KM regarding ubpone and regarding ubpone and letter in KM regarding ubpone and regarding	Christine Stead	Senior Director	23-Jul-15	0.4	560.00	224.00	Administration		Approved/Unpaid
Number of the strength	Parao Labb	Senior Director	23-Jul-15	06	510.00	306.00	Investigations	Review proposed response and confirm with Kelly-Anne Trenfield to issue instructions to send same. Review, save and print for file 6 more emails regarding letters to KM regarding subpoena and letter	Corporate - Liquidation
Notify the Harling of Director 20-00-11 Construct free manual formation managing of decides Corporate - Liquidatic manual from Jamod Villan re-Response from Uavid Whyte; forward wah query for Kelly-Anne Trenfield Senior Managing Director 23-Jul-15 0.2 600.00 180.00 Administration Russells Russells Russells Russells Corporate - Liquidatic email from Jamod Villan re-Response from Uavid Whyte; forward wah query for Russells Corporate - Liquidatic email from Jamod Villan re-RMP- proceedings; response from Uavid Whyte; forward wah query for Russells Corporate - Liquidatic email from Jamod Villan re-RMP- proceedings; response from Uavid Whyte; forward wah query for Russells Corporate - Liquidatic email from Jamod Villan re-RMP- proceedings; response from Uavid Whyte; forward wah query for Russells Corporate - Liquidatic email from Jamod Villan re-RMP- proceedings; response from Uavid Whyte; forward wah query for Russells Corporate - Liquidatic Russells Kelly-Anne Trenfield Senior Managing Director 23-Jul-15 2.3 560.00 1,286.00 Creditors Claylouutz, update SOP. Corporate - Liquidatic Russells Corporate - Liquidatic Russells Glenn O'Kearney Senior Director 24-Jul-15 0.3 600.00 Frade-on Issue invoice for payables portion of Russells bills to MPF Approved/Unpaid Russells Glenn O'Kearney Senior Director									Corporate - Liquidation
Kelly-Anne Trenfield Senior Managing Director 23-Jul-15 0.3 600.00 120.00 Administration Frintam Trom Jamod Villian ré MP+ proceedings, response from David Whyte, forward with query to Kally-Anne Trenfield Corporate - Liquidatio Kelly-Anne Trenfield Senior Managing Director 23-Jul-15 0.4 600.00 120.00 Administration Russells Russells Corporate - Liquidatio Corporate - Liquidatio Kelly-Anne Trenfield Senior Managing Director 23-Jul-15 0.4 600.00 240.00 Administration Tiplady re outcome of hearing Corporate - Liquidatio Corporat	Keny-Anne Tremieru	Settion Managing Director	20-04-10				r latina nou ottori	Review Ciyton utz letter re insurance cover to count; receive/read and forward moray agree letter to	
Kelly-Anne TrentlieldSenior Managing Director 23 -Jul-15 0.2 600.00 120.00 AdministrationRusselisRusselisCorporate - LiquidationKelly-Anne TrentlieldSenior Managing Director 23 -Jul-15 0.4 600.00 240.00 AdministrationTplacey re outcome of hearingTplacy re outcome of hearingCorporate - LiquidationGlenn O'KearneySenior Director 23 -Jul-15 2.3 560.00 $1,288.00$ CreditorsCreditorsClayoutz: update SOP.Corporate - LiquidationReliy-Anne TrentlieldSr Managing Dire 24 -Jul-15 0.2 300.00 60.00 Trade-onIssue invoice for payables portion of Russelis bills to MPFCorporate - LiquidationKelly-Anne TrentlieldSr Managing Dire 24 -Jul-15 0.1 600.00 60.00 AdministrationDiscussion with orme re reinstatament of AXCargory 2 -Glenn O'KearneySenior Director 24 -Jul-15 0.3 560.00 168.00 Trade-onSH regarding contractor agreements. call from SH to discuss.Approved/UnpaidGlenn O'KearneySenior Director 24 -Jul-15 0.3 560.00 168.00 Trade-onSH regarding contractor agreements. call from SH to discuss.Approved/UnpaidChristine SteadSenior Director 24 -Jul-15 0.3 560.00 148.00 AdministrationPrepare cost comparison and summaryApproved/UnpaidChristine SteadSenior Director 24 -Jul-15 0.3 560.00 112.00 AdministrationPrepar	Kelly-Anne Trenfield	Senior Managing Director	23-Jul-15	0.3	600.00	180.00	Administration		Corporate - Liquidation
Kelly-Anne TrentieldSenior Managing Director 23 -Jul-15 0.4 600.00 240.00 AdministrationTiplady re outcome of hearingCorporate - LiquidaticGlenn O'KearneySenior Director 23 -Jul-15 2.3 500.00 $1,266.00$ CreditorsClayloutz. updata SOP.Corporate - LiquidaticBenjamin RobsonConsultant I 24 -Jul-15 0.2 300.00 60.00 $7rade-on$ Issue invoice for payables portion of Russells bills to MPFApproved/UnpaidKelly-Anne TrentieldSr Managing Dir 24 -Jul-15 0.1 600.00 60.00 $7rade-on$ Issue invoice for payables portion of Russells bills to MPFApproved/UnpaidGlenn O'KearneySenior Director 24 -Jul-15 0.3 600.00 60.00 $7rade-on$ Discussion with cmare reinstatement of AX 600.00 $7rade-on$ Senior Director 24 -Jul-15 0.3 560.00 166.00 $7rade-on$ SH regarding contractor agreements. call from SH to discuss. $Approved/UnpaidChristine SteadSenior Director24-Jul-150.3560.00112.00Administrationprepare cost comparison and summaryApproved/UnpaidRenee LobbSenior Director24-Jul-150.3560.00112.00AdministrationPrepare cost comparison and summaryApproved/UnpaidRenee LobbSenior Director24-Jul-150.3560.00112.00AdministrationRenals involut with MM regarding USBs purchased for IT work to be undertakenApproved/Unpaid<$	Kelly-Anne Trenfield	Senior Managing Director	23-Jul-15	0.2	600.00	120.00	Administration	Russells	Corporate - Liquidation
Relight Prime Section Descent Section Program summary of LM cash position and cost position on insurance defense matters for Remie - Corporate - Liquidation Glenn O'Kearney Senior Director 23-Jul-15 2.3 560.00 1,288.00 Creditors Clayloutiz. update SOP. Clayloutiz. update SOP. Corporate - Liquidation Benjamin Robson Consultant I 24-Jul-15 0.2 300.00 60.00 Trade-on Issue invoice for payables portion of Russelts bills to MPF Approved/Unpaid Kelly-Anne Trenfield Sr Managing Dir 24-Jul-15 0.1 600.00 60.00 Administration Discussion with cma re reinstatement of AX Approved/Unpaid Category 2 - Glenn O'Kearney Senior Director 24-Jul-15 0.3 560.00 168.00 Trade-on SH regarding contractor agreements. call from SH to discuss. Approved/Unpaid Christine Stead Senior Director 24-Jul-15 0.8 560.00 448.00 Administration prepare cost comparison and summary Approved/Unpaid Category 2 - Christine Stead Senior Director 24-Jul-15 0.2 <t< td=""><td>Kelly Anna Trapfield</td><td>Senior Managina Director</td><td>23. Jul-15</td><td>n 4</td><td>00.008</td><td>240.00</td><td>Administration</td><td>Tiplady re outcome of hearing</td><td>Corporate - Liquidation</td></t<>	Kelly Anna Trapfield	Senior Managina Director	23. Jul-15	n 4	00.008	240.00	Administration	Tiplady re outcome of hearing	Corporate - Liquidation
Benjamin Robson Consultant I 24-Jul-15 0.2 300.00 60.00 Trade-on Issue invoice for payables portion of Russells bills to MPF Approved/Unpaid Kelly-Anne Trenfield Sr Managing Dir 24-Jul-15 0.1 600.00 60.00 60.00 Bisue invoice for payables portion of Russells bills to MPF Approved/Unpaid Glenn O'Kearney Senior Director 24-Jul-15 0.3 560.00 188.00 Trade-on SH regarding contractor agroements. call from SH to discuss. Approved/Unpaid Christine Stead Senior Director 24-Jul-15 0.3 560.00 148.00 Administration prepare cost comparison and summary Approved/Unpaid Category 2- Christine Stead Senior Director 24-Jul-15 0.3 560.00 148.00 Administration prepare cost comparison and summary Approved/Unpaid Category 2- Christine Stead Senior Director 24-Jul-15 0.3 560.00 112.00 Administration prepare cost comparison and summary Category 2- Approved/Unpaid Category 2- Christine Stead Senior Director 24-Jul-15 0.3 560.00 112.00 Administration									Corporate - Liquidation
Characterization Control Category 2 -							Trade-on	Issue invoice for payables portion of Russells bills to MPF	Approved/Unpaid
Kelly-Anne Trenfield Sr Managing Dir 24-Jul-15 0.1 Bould	Borgamer rabaon							Discussion with arms to exist at among of AX	
Glenn O'Kearney Senior Director 24-Jul-15 0.3 560.00 168.00 Trade-on SH regarding contractor agreements. call from SH to discuss. Approved/Unpaid Christine Stead Senior Director 24-Jul-15 0.8 560.00 448.00 Administration prepare cost comparison and summary Category 2- Christine Stead Senior Director 24-Jul-15 0.8 560.00 112.00 Administration prepare cost comparison and summary Category 2- Christine Stead Senior Director 24-Jul-15 0.2 560.00 112.00 Administration Emails in/out with MM regarding USBs purchased for IT work to be undertaken Approved/Unpaid Benjarmin Robson Associate II 0.3 300.00 90.00 Trade-On Various payment/Receipt vouchers approved Corporate - Liquidation Renee Lobb Senior Director 24-Jul-15 0.3 510.00 153.00 Investigations Stephanie's update on orders made in court yesterday on the KPG/Lifestyle hearings. Corporate - Liquidation Renee Lobb Senior Director 24-Jul-15 0.2 510.00 102.00 Investigations Discussion with GOK regarding purces or immuneration and legal cost esti	Kelly-Anne Trenfield	Sr Managing Dir	24-Jul-15	0.1	600.00	60.00	Administration	Discussion with one re-consident of AA Discuss AX requirements CMA, pretim review western union correspondence regarding claims, note	
Christine Stead Senior Director 24-Jul-15 0.6 Senior Director 24-Jul-15 0.2 560.00 112.00 Administration France Stead Emails in/out with MM regarding USBs purchased for IT work to be undertaken Category 2- Approved/Unpaid Christine Stead Senior Director 24-Jul-15 0.2 560.00 112.00 Administration Emails in/out with MM regarding USBs purchased for IT work to be undertaken Approved/Unpaid Benjarmin Robson Associate II 24-Jul-15 0.3 300.00 90.00 Trade-On Various payment/Receipt vouchers approved Corporate - Liquidation Renee Lobb Senior Director 24-Jul-15 0.3 510.00 153.00 Investigations Stephanie's update on orders made in court yesterday on the KPG/Lifestyle hearings. Corporate - Liquidation Renee Lobb Senior Director 24-Jul-15 0.2 510.00 102.00 Investigations Discussion with GOK regarding purpose of ramuneration and legal cost estimate. Corporate - Liquidation Kelly-Anne Trenfield Senior Managing Director 24-Jul-15 0.3 600.00 180.00 Administration review Ashley Tiplady draft email to KM; amend and send Corporate - Liquidation	Glenn O'Kearney	Senior Director	24-Jul-15	0.3	560.00	168.00	Trade-on	SH regarding contractor agreements. call from SH to discuss.	
Christine SteadSenior Director24-Jul-150.2560.00112.00AdministrationEmails in/out with MM regarding USBs purchased for IT work to be undertakenApprove/UnpaidBenjarnin RobsonAssociate II24-Jul-150.3300.0090.00Trade-OnVarious payment/Receipt vouchers approvedCorporate - LiquidationRenee LobbSenior Director24-Jul-150.3510.00153.00InvestigationsStephanie's update on orders made in court yesterday on the KPG/Lifestyle hearings.Corporate - LiquidationRenee LobbSenior Director24-Jul-150.2510.00102.00InvestigationsDiscussion with GOK regarding purces or famuneration and legal cost estimate.Corporate - LiquidationKelly-Anne TrenfieldSenior Managing Director24-Jul-150.3600.00180.00Administrationreview Ashley Tiplady draft email to KM; smend and sendCorporate - LiquidationKelly-Anne TrenfieldSenior Managing Director24-Jul-150.3600.00180.00Administrationreview Ashley Tiplady draft email to KM; smend and sendCorporate - Liquidation	Christine Stead	Senior Director	24-Jul-15	0.8	560.00	448.00	Administration	prepare cost comparison and summary	
Benjarmin Robson Associate II 24-Jul-15 0.3 300.00 90.00 Trade-On Various payment/Receipt vouchers approved Corporate - Liquidation Renee Lobb Senior Director 24-Jul-15 0.3 510.00 153.00 Investigations Stephanie's update on orders made in court yesterday on the KPG/Lifestyle hearings. Corporate - Liquidation Renee Lobb Senior Director 24-Jul-15 0.2 510.00 102.00 Investigations Discussion with GOK regarding purpose of remuneration and legal costs estimate. Corporate - Liquidation Kelly-Anne Trenfield Senior Managing Director 24-Jul-15 0.3 600.00 180.00 Administration review Ashley Tiplady draft email to KM; amend and send Corporate - Liquidation	Christine Stead	Senior Director	24-Jul-15	0.2	560.00	112.00	Administration	Emails in/out with MM regarding USBs purchased for IT work to be undertaken	Approved/Unpaid
Renee Lobb Senior Director 24-Jul-15 0.3 510.00 153.00 Investigations Stephanie's update on order and respond to GUX. Email details to clayton UZ. Review Corporate - Liquidatio Renee Lobb Senior Director 24-Jul-15 0.2 510.00 102.00 Investigations Discussion with GOK regarding purpose of remuneration and legal costs to date and respond to GUX. Email details to clayton UZ. Neview Corporate - Liquidatio Renee Lobb Senior Director 24-Jul-15 0.2 510.00 102.00 Investigations Discussion with GOK regarding purpose of remuneration and legal costs estimate. Corporate - Liquidatio Kelly-Anne Trenfield Senior Managing Director 24-Jul-15 0.3 600.00 180.00 Administration review Ashley Tiplady draft email to KM; remed and send Corporate - Liquidatio	Benjamin Robson			0.3	300.00	90.00	Trade-On	Various payment/Receipt vouchers approved	Corporate - Liquidation
Renee Lobb Senior Director 24-Jul-15 0.2 510.00 102.00 Investigations Discussion with GOK regarding purpose of remuneration and legal cost estimate. Corporate - Liquidation Kelly-Anne Trenfield Senior Managing Director 24-Jul-15 0.3 600.00 180.00 Administration review Ashley Tiplady draft email to KM; amend and send Corporate - Liquidation	Renee Lobb			0.3	510.00	153.00	Investigations	Stephanie's update on orders made in court yesterday on the KPG/Lifestyle hearings.	Corporate - Liquidation
Kelly-Anne Trenfield Senior Managing Director 24-Jul-15 0.3 600.00 180.00 Administration review Ashlay Tiplady draft email to KM; amend and send Corporate - Liquidatio	Renee Lobb			0.2	510.00	102.00	Investigations	Discussion with GOK regarding purpose of remuneration and legal cost estimate.	Corporate - Liquidation
Comprate - Liguidatio								review Ashley Tiplady draft email to KM; amend and send	Corporate - Liquidation
	Glenn O'Keamey	Senior Director	24-Jul-15	0.2	560.00			Discuss insurance funding position paper with Rlobb.	Corporate - Liquidation

LM Investment Ma Remuneration to 3	nagement Ltd (In Liqui 0 June 2018	dation)			3.204.515.29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Renee Lobb	Senior Director	27-Jul-15	0.1	510.00	51.00	Creditors	Enquiry about holdings by dealer group, forward to BJR for response.	Category 2 - Approved/Unpaid
Benjamin Robson	Consultant I	27-Jul-15	0.3	300.00	90.00	Creditors	Review and record Russells invoice B22299, update consultants register	Category 2 - Approved/Unpaid
Benjamin Kobaon							Review russells letter to asic re discoveryReview incoming documentation, consider and send to	Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	27-Jul-15	0.4	600.00	240.00	Administration	filingreview steve hannan contractor agreement	Approved/Unpaid Category 2 -
Sienn O'Keamey	Senior Director	27-Jul-15	0.2	560.00	112.00	Trade-on	Disucss AX update CMA.	Approved/Unpaid
Carly Drew	Admiri II	27-Jul-15	0.1	175.00	17.50	Administration	Prepared Final Letter and issued signed doc via email;	Category 2 - Approved/Unpaid
Deniemie Debeen	Associate II	27-Jul-15	0.4	300.00	120.00	Administration	Uncleared transactions reconcliation - emails to CH to request closure on outstanding emounts and reasons for remaining transactions	Corporate - Liquidatio
Benjamin Robson	Associate II	27-Jul-15	0.4	300.00	120.00	Administration	Work worth CH to reconcile LM payments in accounts	Corporate - Liquidatio
Benjamin Robson	Associate II Senior Director	27-Jul-15	0.3	560.00	112.00	Administration	Discuss bas update BJR/reconciliation/payment update.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	21-10	0,2	500.00	112.00	Additionan anoth		Category 2 -
Christine Stead	Senior Director	28-Jul-15	0.2	560.00	112.00	Administration	issue email to surety IT with scanned orders	Approved/Unpaid
							note side proking regarding insurance meeting regarding fund man Pr. disucss opdates BSR. update TDL regarding op costs/fund payables position .disucss monthly task list/NAV etc BJR. update Kelly	Category 2 -
Gienn O'Keamev	Senior Director	28-Jul-15	0.5	560.00	280.00	Trade-on	regarding EOM fund reporting and signed agreement SH.	Approved/Unpaid
aloriti o radantoy								Category 2 -
Caroline Halcoop	Admin II	28-Jul-15	0.1	175.00	17.50	Administration	Release Commbiz transaction - Grace Records - BJR	Approved/Unpaid Corporate - Liquidation
Benjamin Robson	Associate II	28-Jul-15	0.3	300.00	90.00	Trade-On	Discussions with CH regarding LMIM payments outstanding	Corporate - Liquidation
(elly-Anne Trenfield	Senior Managing Director	28-Jul-15	0.2	600.00	120.00	Administration	Review and approve payment of outstanding administration liabilities including review of supporting documentation and signing of transfer or chequeCall in from Chris Erfurt re belgian matter	Corporate - Liquidation
,	<u>.</u>						Print approval pages and collate with payment supporting documents x 3; serid to KAT for approval - BJR	Corporate - Liquidation
Caroline Halcoop	Administration 2	28-Jul-15	0.1	175.00	17.50	Administration		Category 2 -
Renee Lobb	Senior Director	29-Jul-15	0.1	510.00	51.00	Trade-on	Review and respond to email from Armstrong.	Approved/Unpaid
101100 2000								Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	29-Jul-15	0.1	600.00	60.00	Creditors	Call in from callum from holman webb re member claims	Approved/Unpaid Category 2 -
Christine Stead	Senlor Director	29-Jul-15	0.2	560.00	112.00	Administration	Review email in from Stephanie and email Madhuemail further MYOB issues to Madhu	Approved/Unpaid
							Search and copy documents from LM server as requested by Stephanie from Russells and arrange	Category 2 -
Christine Stead	Senior Director	29-Jul-15	0.1	560.00	56.00	Administration	for NAS to be sent to surety IT; update KAT and email invoices to GOK for payment Review and approve payments of AX accounts, collate SH agreements, arrange insurance meeting	Approved/Unpaid Category 2 -
	Senior Director	29-Jul-15	0.2	560.00	112.00	Trade-on	regarding fund Pl.	Approved/Unpaid
Slenn O'Kearney	Senior Director	25-00-10	0.2		112.00			Category 2 -
alenn O'Keamey	Senior Director	29-Jul-15	1	560.00	560.00	Trade-on	Review advices from NR regarding windup process and advisor commissions. Review renguny correspondence or oner ransiated to English and Clayton Orz memo on proceedings.	Approved/Unpaid
							Respond to email from Chris Erfurt regarding access to registry and undertakings provided to KM in	
Renee Lobb	Senior Director	29-Jul-15	0.7	510.00	357.00		terms of access and usage of records.	Corporate - Liquidation
	Senior Managing Director	29-Jul-15	0.3	600.00	180.00	Administration	emails in; query re publication of referralEmails in and discussion with RCL re Belgian claim	Corporate - Liquidation
	Senior Director	29-Jul-15	0.2	560.00	112.00	Creditors	Review creditor query and reply. review previous updates/creditors etc.	Corporate - Liquidation
	Administration 1	29-Jul-15	0.4	135.00	54.00	Administration	Filing	Corporate - Liquidation
	Senior Managing Director	30-Jul-15	0,2	600.00	120.00	Assets	Review email/brief re belgian claim; email to clayton utz	Corporate - Liquidation
	Senior Director	30-Jul-15	0.3	510.00	153.00	Investigations	Call with Chris Erfurt regarding records on Managed Performance Fund investor profiles.	Corporate - Liquidation
lenn O'Keamey	Senior Director	30-Jul-15	1	560.00		Assets	Review bas history LMIM and reconcile with MYOB GST holding account.	Corporate - Liquidation
active resultery			i					Category 2 -
enjamin Robson	Consultant I	31-Jul-15	0.2	300.00	60.00		Surety IT payment review and submission Review incoming documentation, consider and send to filingreceipt and review of legal invoice from	Approved/Unpaid Category 2 -
elly-Anne Trenfield	Sr Managing Dir	31-Jul-15	0.2	600.00	120.00		Review incoming documentation, consider and send to himglecelpt and review or regar involce itom russells	Approved/Unpaid Category 2 -
		1 1						

	anagement Ltd (In Liqui	dation)			3 304 515 30			
Remuneration to Name	30 June 2018 Title	Date	Hours	Charge Out Rate	3,204,515.29 Charge	Task Desc	Narrative	Classification
Glenn O'Kearney	Senior Director	31-Jui-15	0.1	560.00	56.00	Creditors	Review legal invoices in. forward BJR for register.	Corporate - Liquidation
							Make NAS online. Finalize data needed internally from LM NAS. Unmount NAS drive. Pack up securel	
Madhu Menon	Sr. Consult I	03-Aug-15	0.5	360.00	180.00	Administration	and provide to reception for courier to SuretyIT.	Approved/Unpaid Category 2 -
Benjamin Robson	Consultant i	03-Aug-15	0.5	300.00	150.00	Administration	Receipt in monthly receipts (and Payments) into LM accounts - reconciliation from bank statement	Approved/Unpald Category 2 -
Benjamin Robson	Consultant I	03-Aug-15	0.5	300.00	150.00	Trade-on	General update of consultants fee register	Approved/Unpaid
Benjamin Robson	Consultant I	03-Aug-15	0.3	300.00	90.00	Trade-on	Record and apportion Russells invoices B 22409, B22410, B22425, B22433 and general update to register	Category 2 - Approved/Unpaid
Kelly-Anne Trenfield	Sr Managing Dir	03-Aug-15	0.8	600.00	480.00	Administration	Update meeting with Russells (A Tiplady & S Russell). Draft agenda for meeting	Category 2 - Approved/Unpaid
		1					opdate in regarding op costs .repty. review and sign on on payment cooks and fectors app invoices. review and sign off on cat 2 invoices. request update AX. review and approve allocation basis'	Category 2 -
Glenn O'Keamev	Senior Director	03-Aug-15	0.6	560.00	336.00	Trade-on	records invoices, note TDL for discussions with Kelly.	Approved/Unpaid
Glenin O Reamey		00-Hug-10				1100000		Category 2 -
Christine Stead	Senior Director	03-Aug-15	0.2	560.00	112.00	Administration	Review email in from Steph and issue email to KAT detailing location of files found on server	Approved/Unpaid
							Carroack Crinis Errort and aiscuss inigation and Managed Penormance Fund claims analysis issue." Discuss queries for GOK and Kelly-Anne Trenfield on SOP sent through. Follow up Russells	
Renee Lobb	Senior Director	03-Aug-15	0.7	510.00	357.00	Investigations	regarding remuneration estimates and email and cal Kelly-Anne Trenfield and GOK.	Corporate - Liquidation
Benjamin Robson	Associate II	03-Aug-15	0.2	300.00	60.00	Administration	Approve MYOB vouchers for payment	Corporate - Liquidation
Benjamin Kobson	Associate II	03-Aug-13		000.00	00.00		RVKIC x 2 - \$8452.38 & \$1012.84; PV & Commolz transfer - Surelly 11 - \$12585.10; scan and email	
Caroline Halcoop	Administration 2	03-Aug-15	0.3	175.00	52.50	Administration	to BJR for approval	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	03-Aug-15	0.6	600.00	360.00	Creditors	Review emails in from shane roberts and callum burton; draft response including review of insurance policy Note in from nood - response regarding turner queries son position for insurer, update BJR regarding	Corporate - Liquidation
Glenn O'Kearney	Senior Director	03-Aug-15	0.2	560.00	112.00	Creditors	Note in from hopo - response regarding for their queries son position for instaler, update bark regarding bitls/holding pending funding	Corporate - Liquidation
Glenn O'Keamey	Senior Director	03-Aug-15	0.2	560.00	112.00	Administration	Review file status. update TDL for meeting with Appointee.	Corporate - Liquidation
								Category 2 - Approved/Unpaid
John Park	Sr Managing Dir	04-Aug-15	0.1	600.00	60.00	Administration	Review and sign correspondence PTAL;	Category 2 -
Carly Drew	Admin II	04-Aug-15	0.1	175.00	17.50	Administration	Prepared Final Letter	Approved/Unpaid
				_			Review asic docs re privilege from group 1 & 2 - 12000 in total	Category 2 - Approved/Unpaid
Kelly-Anne Trenfield	Sr Managing Dir	04-Aug-15	2.8	600.00	1,680.00	Administration	neview asic docs to privilege non group t of 2 - 12000 in total Discuss document review with CMA; cell to Stephanie Williamson tenssue With review Review and	Approved/onpaid
						ſ	approve payment of outstanding administration liabilities including review of supporting	Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	04-Aug-15	0.3	600.00	180.00	Administration	documentation and signing of transfer or cheque	Approved/Unpaid
Glenn O'Kearney	Senior Director	04-Aug-15	0.3	560.00	168.00	Administration	Arrange ASIC privileged records loaded onto server KAT .	Category 2 - Approved/Unpaid
Cient o Acarley							Discuss fund management status KAT. discuss Fund accounting WMS.	Category 2 - Approved/Unpaid
Glenn O'Keamey	Senior Director	04-Aug-15	0.2	560.00	112.00	Trade-on	See Madhu re NAS and Scott Gillard (out of the office) PC with Stephanie and review of documents	Category 2 -
Christine Stead	Senior Director	04-Aug-15	0.6	560.00	336.00	Administration	heid, issue email to Stephanie with attached documents	Approved/Unpaid Category 2 -
Christine Stead	Senior Director	04-Aug-15	0.3	560.00	168.00	Administration	See Scott Gillard re ringtail for LM	Approved/Unpaid
					<u>.</u>		Affidavit and review ASIC documents for privilege	Category 2 - Approved/Unpaid
Christine Stead	Seniar Director	04-Aug-15	4.4	560.00	2,464.00	Administration	Amdavit and review ASIC documents for privilege Call in from Stephanie Williamson, Russells to JKP amdavit and request for documents; discuss with	Approved) cripain
		-					CMAreview affidavit in re bellpac matter; provide instructions; update from cma re changes to	
Kelly-Anne Trenfield	Senior Managing Director	04-Aug-15	0.4	600.00	240.00	Administration	affidavitreview and sign affidavit re security for costs	Corporate - Liquidation
<u>-</u>						- -	Review KWM statement reconcile to LM consultons register, note, respond to creditor query.	Category 2 - Approved/Unpaid
Glenn O'Kearney	Senior Director	05-Aug-15	0.2	560.00	112.00	Creditors		Category 2 -
Christine Stead	Senior Director	05-Aug-15	0.2	560.00	112.00	Administration	Finalise affidavit and Phone Call to Steph to arrange collection Review email from Stephanie at Russells regarding coast estimate for insurance proceedings.	Approved/Unpaid
B Lable	Carrier Director	05 0		510.00	400.00	Investigations	Review email from Stephanie at Russens regarding coast estimate for insurance proceedings. Respond to queries on same.	Corporate - Liquidation
Renee Lobb	Senior Director	05-Aug-15	0.2	00.016	102.00	Involugations		

 \frown

LM Investment Ma Remuneration to 3	anagement Ltd (In Liqui 30 June 2018	dation)			3,204,515.29			
Name	Title	Date	Hours	Charge Out Rate		Task Desc	Narrative	Classification
Renee Lobb	Senior Director	05-Aug-15	0.1	510.00	51.00	Investigations	Review email regarding Liedekerke response on translation of documents liles. Confirm our Instructions.	Corporate - Liquidation
Brittany Newman	Administration 1	05-Aug-15	0.1	135.00		Administration	Mail In from ASIC - Invoice Statement 26 July 2015	Corporate - Liquidation
Jacary Honnian		001111910					PV & commbiz transfer - Russells Law - \$8063.53. Print supporting docs, collate and scan and email	
Caroline Halcoop	Administration 2	05-Aug-15	0.2	175.00	35.00	Administration	to BJR for approval Review anioavit material in 17011 1055695 to application to incominity from LM on belipac matter -	Corporate - Liquidation
						1	affidavit of Jarrod Villaniemail in from Chris Erfurt, Clayton Utz, re update on submissions in Belgian	
Kelly-Anne Trenfield	Senior Managing Director	05-Aug-15	0.3	600.00	180.00	Assets	metterdraft email to clayton utz re update on costs issues	Corporate - Liquidation
Keliy-Anne Trentield	Senior Managing Director	05-Aug-15	0.3		180.00	Assets	Bellpac - Call in from Ashley Tiplady re outcome of hearing on costs	Corporate - Liquidation
Glenn O'Keamey	Senior Director	05-Aug-15	0.1	560.00	56.00	Creditors	Review bills in regarding claims LMIM insurance matter.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	05-Aug-15	0.2	560.00	112.00	Trade-On	Review update in regarding AX. notify contractor. discuss NAV issues BJR. Collected cheque from Suncorp, had to sign and show photo id for release of cheque; BJR to advise	Corporate - Liquidation Category 2 -
arly Drew	Admin II	06-Aug-15	0,4	175.00	70.00	Administration	how to proceed - issued via express post; printed letters for JRP to sign for BJR;	Approved/Unpaid
Jany Diew			0,4					Category 2 -
Caroline Halcoop	Admin II	06-Aug-15	0.2	175.00	35.00	Administration	Release Commbiz transfer - Sureity IT - email to BJR to advise	Approved/Unpaid Category 2 -
	Ouning Director	08 Aug 15	0.3	560.00	168.00	Trade-on	Query broker regarding unknown deposits, response regarding timing correspondence regarding AX timing, correspondence SH regarding start date etc.	Approved/Unpaid
Glenn O'Kearney	Senior Director	06-Aug-15	0.3	500.00	100.00	11808-011		Category 2 -
Christine Stead	Senior Director	08-Aug-15	0.1	560.00	56.00	Administration	i.M re payment to surety	Approved/Unpaid
Nederland Bland	Secles Director	06-Aug-15	0.1	560.00	56.00	Administration	email out to Surety re payment	Category 2 - Approved/Unpaid
christine Stead	Senior Director Senior Managing Director	06-Aug-15	0.1	600.00	60.00	Administration	Review and sign correspondence	Corporate - Liquidation
enee Lobb	Senior Director	06-Aug-15	0.1	510.00	51.00	Investigations	Review Kelly-Anne Trenfield update request n litigation matters.	Corporate - Liquidation
	Administration 2	06-Aug-15	0.1	175.00	35.00	Administration	PV & Chg#18 - FTI Inv 56003953 - \$5240.60 - VML	Corporate - Liquidation
Caroline Halcoop	Senior Managing Director	06-Aug-15	0.2	600.00	60.00	Administration	Mail in from clayton utz re funding request; request completion by RCL	Corporate - Liquidation
Celly-Anne Trenfield	Senior Managing Director	00-609-13		000.00	00.00		Review correspondence in pkr regarding 36 cavili statement . Teview previous position and revisit	
					650.00	o	settlement deed. correspondence to PKF regarding no liability. review correspondence from UTIS fund creditor - review records director on matter. respond to creditor.	Corporate - Liquidation
Slenn O'Keamey	Senior Director	06-Aug-15	0.5	560.00	280.00	Creditors		Category 2 -
arly Drew	Admin (07-Aug-15	0.1	175.00	17.50	Administration	Scanned and saved docs, emailed to BJR for issue, sent to BJR in rounds;	Approved/Unpaid
		<u></u>						Category 2 - Approved/Unpaid
Celly-Anne Trenfield	Sr Managing Dir	07-Aug-15	0.2	600.00	120.00	Administration	cma re status of docs review and plan to progress	Category 2 -
lenn O'Keamey	Senior Director	07-Aug-15	0.2	560.00	112.00	Trade-on	Review of Bank statements in across all funds, review ASIC statement across all funds.	Approved/Unpaid
								Category 2 -
Blenn O'Kearney	Senior Director	07-Aug-15	0.2	560.00	112.00	Trade-on	Discuss various NAV/creditor position issues BJR. correspondence regarding insurance queries etc	Approved/Unpaid Category 2 -
ohn Park	Sr Managing Dir	07-Aug-15	0.1	600.00	60.00	Administration	Email in Russells.	Approved/Unpaid
								Category 2 -
hristine Stead	Senior Director	07-Aug-15	0.6	560.00	336.00	Administration		Approved/Unpaid Category 2 -
hristine Stead	Senior Director	07-Aug-15	0.3	560.00	168.00	Administration	Update with KAT regarding review of documents	Approved/Unpatd
		07-Hug-10	0.0	000.00			Review email query regarding investor profiles. Check with Kelly-Annel Treniteid before issuing	Corporate - Liquidation
enee Lobb	Senior Director	07-Aug-15	0.2	510.00	102.00	Investigations	instructions for Clutz to write to Minters. Review email from Cleyton Utz regarding costs. Respond to Kelly-Anne Trentield regarding timing on	
anas labb	Senior Director	07-Aug-15	0.2	510.00	102.00	Investigations	Russelts information and request update costs from GOK to assist in response.	Corporate - Liquidation
enee Lobb		07-7nig-10					LM JUNE BAS - need to reconcile accounts again, tokow up and Finalise uncleared transactions, re-	Corporate - Liquidation
enjamin Robson	Associate II	07-Aug-15	0.6	300.00	180.00	Trade-On	prepare BAS and supporting documents Enter missing transactions for July 2015, reconcise accounts as at 31/07/2015 + draft Form 524 for	
rittany Newman	Administration 1	07-Aug-15	0.5	135.00	67.50	Administration		Corporate - Liquidation
elly-Anne Trenfield	Senior Managing Director	07-Aug-15	0.2	600.00		Administration	RCL re referral of CU to KM/Minter Ellisoncall in from mark waller re status of funding	Corporate - Liquidation
	Senior Managing Director	01-7-Lg-10	0.2	330.00			Review correspondence from Clayton utz - draft note insurer regarding funding, prepare updated	Comparate Liquidation
lenn O'Kearney	Senior Director	07-Aug-15	1	560.00	560.00	Creditors	figures regarding asset/liabilities/litigation funding etc. memo to Rlobb.	Corporate - Liquidation

(

LM Investment M Remuneration to	anagement Ltd (In Liqui 30 June 2018	dation)	43° - 168		3.204.515.29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Benjamin Robson	Consultant I	10-Aug-15	4	300.00	1,200.00	Trade-on	Travel to and from Arthur J Gallagher office in Brisbane for meeting with John Denehy and Andrea H	
Kelly-Anne Trenfield	Sr Managing Dir	10-Aug-15	0.1	600.00	60.00	Administration	Review incoming documentation, consider and send to filing Travel to Brisbane - meet with Blueinscivency regarding ongoing insurance requirements for	Category 2 - Approved/Unpaid Category 2 -
Glenn O'Kearney	Senior Director	10-Aug-15	3.5	560.00	1,960.00	Trade-on	responsible entity.	Approved/Unpaid
Christine Stead	Senior Director	10-Aug-15	0.1	560.00	56.00	Administration	Review email in from Steph and review attached correspondences between ASIC and Russells	Category 2 - Approved/Unpaid Category 2 -
Christine Stead	Senior Director	10-Aug-15	0.1	560.00	56.00	Investigations	Review of ASIC documents for privilege 7001-7102	Approved/Unpaid
Renee Lobb	Senior Director	10-Aug-15	0.2	510.00	102.00	Administration	Review GOK's updated figures for litigation funds and costs. Send to Chris Erfurt.	Corporate - Liquidation
Glenn O'Keamey	Senior Director	10-Aug-15	0.1	560.00	56.00	Creditors	Review Clayton utz involce in.	Corporate - Liquidation
Christine Stead	Seniar Director	10-Aug-15	0.7	560.00	392.00	Administration	PC with Steph re Whyte request for interrogation of 18 March 2013 NAS for deleted documents	Corporate - Liquidation
Christine Stead	Senior Director	10-Aug-15	0.1	560.00	56.00	Administration	Update KAT regarding Phone Call with Stephanie	Corporate - Liquidation
							Internal Correspondence such as emails and illenotes in relation to the administrationNot to be	Written Off/blat alaima
Ginette Muller	Managing Director	10-Aug-15	2	600.00	1,200.00	Administration	charged to creditors - Review of proceedings following receipt of ICA issues	Written Off/Not claimed Category 2 -
Benjamin Robson	Consultant I	11-Aug-15	0.5	300.00	150.00	Trade-on	ASIC invoice received and reviewed. Allocation of outstanding amounts to Funds Review file notes re review of books and records by whyte and asic, entails inReview Incoming	Approved/Unpaid Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	11-Aug-15	0.3	600.00	180.00	Administration	documentation, consider and send to filing	Approved/Unpaid
Glenn O'Kearney	Senior Director	11-Aug-15	0.5	560.00	280.00	Trade-on	Discussions with IT regarding set up system for fund contractor.	Category 2 - Approved/Linpaid
Renee Lobb	Senior Director	11-Aug-15	0.1	510.00	51.00	Administration	Return cail from Chris Erfurt. Leave message.	Corporate - Liquidation
		44.444.45	0.5	510.00	255.00	Investigations	Call with Chris Enurt regarding funding letter for insurers on legal costs incurred and anticipated to be lincurred. Email GOK with additional information required and follow up Russells.	Corporate - Liquidation
Renee Lobb	Senior Director	11-Aug-15	0.5	510.00	102.00	Investigations	Review further funding information on costing's from GOK. Send to Chris at Clayton Utz	Corporate - Liquidation
Renee Lobb	Senior Director	11-Aug-15	Ų.2	510.00	102.00	Investigations	Review update from Russells on costs submission for funding letter. Review claims analysis and	
Renee Lobb	Senior Director	11-Aug-15	0.4	510.00	204.00	Administration	funding letter final draft from MarkWalter and provide my comments to Kelly-Anne Trenfield before issuing instructions.	Corporate - Liquidation
lames Cook	Consultant I	11-Aug-15	0.1	270.00	27,00	Administration	Inbound mail.	Corporate - Liquidation
Benjamin Robson	Associate II	11-Aug-15	0.3	300.00	90.00	Creditors	LM Corp - Clayton Utz invoice 3873092 apportionment, recording in register and saving to H:	Corporate - Liquidation
Benjamin Robson	Associate II	11-Aug-15	0.3	300.00	90.00	Trade-On	File reviews	Corporate - Liquidation
(elly-Anne Trenfield	Senior Managing Director	11-Aug-15	0.1	600.00	60.00	Administration	Bellpac - review timing of actions; draft email to Russells seeking update	Corporate - Liquidation
Slenn O'Kearney	Senior Director	11-Aug-15	0.5	560.00	280.00	Assets	Review additional queries on assets/funding/costs etc - insurer application.	Corporate - Liquidation
Christine Stead	Senior Director	11-Aug-15	0.4	560.00	224.00	Administration	File note PC with Steph te whyte queries of original NAS taken 18.03.13 and RPC relipidate on ASIC B&R review	Corporate - Liquidation Category 2 -
Glenn O'Kearney	Senior Director	12-Aug-15	0.2	560.00	112.00	Administration	Review and sign off on BAS and worksheets.	Approved/Unpaid
Sterin O Reality	Senior Director	12.1 kg 10	0.2				Reconciliation of accounts. Preparation of 524 and supporting documents. Additional time required as complex 524, missing amounts in period that needed to be investigated and verified. Uncleared	
Benjamin Robson	Associate II	12-Aug-15	1.4	300.00	420.00			Corporate - Liquidation
Brittany Newman	Administration 1	12-Aug-15	0.1	135.00			Mair our to A10 - BAS (1 Apr - 30 Jun 2015) DOC 10 30 631 096 947, enter lodgement details in MYOB + update GC BAS Spreadsheet	Corporate - Liquidation
Blenn O'Kearney	Senior Director	12-Aug-15	0.2	560.00	112.00	Administration		Corporate - Liquidation
ladhu Menon	Sr. Consuit I	13-Aug-15	0.2	360.00		Administration	initial users for environment to be created in hosted active directory.	Category 2 - Approved/Unpaid
elly-Anne Trenfield	Sr Managing Dir	13-Aug-15	0.2	600.00			discovery/privilege	Category 2 - Approved/Unpaid
elly-Anne Trenfield	Senior Managing Director	13-Aug-15	0.6	600.00	360.00		Benpac - review adcument discosure protocondisussion with RCL restatus of insurance correspondence; emails inreview submissions and funding submission reinsurance claims process; instructions to RCL re submissions	Corporate - Liquidation

.

(

LM Investment M Remuneration to	anagement Ltd (in Liqui 30 June 2018	dation)			3,204,515.29			
Name		Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Renee Lobb	Senior Director	13-Aug-15	0.3	510.00	153.00	Investigations	Review of email and call back Unris regarding insurance claims submission and lunding issues. Discuss with Kelly-Anne Trenfield.	Corporate - Líquidatio
Glenn O'Kearney	Senior Director	13-Aug-15	0.5	560.00	280.00	Administration	Work on 524 regarding cashbook discrep, discuss with BJR, review updated 524 and sign off.	Corporate - Liquidatio
Christine Stead	Senior Director	13-Aug-15	0.2	560.00	112.00	AdmInistration	PC with Stephanle re Bellpac	Corporate - Liquidatio
Carly Drew	Admin II	14-Aug-15	0.5	175.00	87.50	Administration	Arranged for large file to be available for Greg Lifster of Synkronos Legal for JRP; tech support provided FTP file;	Category 2 - Approved/Unpaid
Ginetle Muller	CONSULTANT	14-Aug-15	0.5	600.00	300.00	Administration	External correspondence received by the appointee in relation to the administration; check the nature of the enquiry and direct the correspondence to the most appropriate staff member for further action. Review documents received from the Perpetual trustee regarding custody etc. Fwd to staff Review response from Kelly-Anne Trentield regarding insurance claims submissions and provide	Category 2 - Approved/Unpaid
Renee Lobb	Senior Director	14-Aug-15	0.1	510.00	51.00	Investigations	instructions to Clayton Utz to send.	Corporate - Liquidation
Christine Stead	Seniar Director	14-Aug-15	0.6	560.00	336.00	Administration	emails in from Steph re restoration of day one image; PC to Patrick	Corporate - Liquidation
entitiente entitie		i i i i i i i i i i i i i i i i i i i					Bellpac - email update in from russells re hearing re review of records and disclosureupdate from	
Kelly-Anne Trenfield	Senior Managing Director	15-Aug-15	0.2	600.00	120.00	Assets	clayton utz re submission of insurance claim Internal correspondence such as emails and likenotes in relation to the administrationNot to be	Corporate - Liquidation
Ginette Muller	Managing Director	16-Aug-15	2	600.00	1,200.00	Administration	charged to creditors - Review of proceedings following receipt of ICA issues	Written Off/Not claimed
Madhu Menon	Sr. Consult I	17-Aug-15	0.5	360.00		Administration	Test remote desktop connection set up by suretyry to access hosed car environment, rested indinpre desktops and the 4 user accounts assigned. Confirmed this was all OK with Surety. Sent instructions internally to GOK and CA on accessing.	Category 2 - Approved/Unpaid
3erijamin Robson	Consultant I	17-Aug-15	1.5	300.00	450.00	Trade-on	Preparation of task lists for Steve Hannan - organizing and collating work to be done for WMS and EY via AX system that requires steve's' help	Category 2 - Approved/Unpaid
Caroline Halcoop	Admin II	17-Aug-15	0.2	175.00	35.00	Administration	PV & Commbiz transter - Armstrong Registery Services - \$550.00; scan and email to BJR for checking and approval	Category 2 - Approved/Unpaid
Glenn O'Kearney	Senior Director	17-Aug-15	0.6	560.00	336.00	Trade-on	opoate in regarding AX etc. liaise with CMArmaonu regarding access etc. note Shannan, note Ribou regarding std update investors, testing of AX access etc. discuss with IT, discuss SH action items BJR	Category 2 - Approved/Unpaid
Christine Stead	Senior Director	17-Aug-15	0.2	560.00	112.00	Administration	review update emails in from Stephanie at Russells and a cost estimate from Patrick Ma	Corporate - Liquidation
John Park	Senior Managing Director	17-Aug-15	0.2	600.00	120.00	Administration	Review and sign Form 524; email in Russells;	Corporate - Liquidation
Glenn O'Kearney	Senior Director	17-Aug-15	0.1	560.00	56.00	Creditors	Review clutz invoice insurance matters, note to BJR regarding split.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	17-Aug-15	0.1	560.00	56.00	Administration	Review all accounts reconciliation's.	Corporate - Liquidation
Benjamin Robson	Consultant I	18-Aug-15	1	300.00	300.00	Trade-on	Set up Steve Hannan in work station and sit down to discuss workflow Seek update on reconvenica nearing attendance from kelly-Anne Trenifeld. Discussion with Kelly-	Category 2 - Approved/Unpaid
Renee Lobb	Senior Director	18-Aug-15	0.2	510.00	102.00	Investigations	Anne Trenfield on issue.	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	18-Aug-15	0.6	600.00		Administration	MPP matter - emails in, calls with AJT and Mark Waller re hearing today, issues re disclosure of insurance information	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	18-Aug-15	0.2	600.00	120.00	Administration	Review email in from clayton utz re Russells affidavit and disclosure re insurance in the MPF mattersemail to jip re happenings on Im hearing	Corporate - Liquidation
lohn Park	Senior Managing Director	19-Aug-15	0.2	600.00	120.00	Administration	Mail in Clayton Utz;	Corporate - Liquidation
Brittany Newman	Administration 1	19-Aug-15	0.2	135.00	27.00	Administration		Corporate - Liquidation
ilenn O'Kearney	Senior Director	19-Aug-15	0.2	560.00	112.00	Trade-On	Review and sign oir on cont clayton utz insurance costs, review note FMIF regarding contribution, review sing off on new MPF invoice.	Corporate - Liquidation Category 2 -
elly-Anne Trenfield	Sr Managing Dir	20-Aug-15	0.1	600.00	60.00	Administration	Email to AJT; return costs agreement and request update meeting Review and approve payment of outstanding administration liabitities including review of supporting	Category 2 - Approved/Unpaid Category 2 -
elly-Anne Trenfield	Sr Managing Dir	20-Aug-15	0.1	600.00	60.00	Administration	documentation and signing of transfer or cheque	Approved/Unpaid
ilenn O'Keamey	Senior Director	20-Aug-15	0.2	560.00	112.00	Trede-on	Review tax position funds, note to PKF regarding est work/costs .	Category 2 - Approved/Unpaid
enjamin Robson	Associale It	20-Aug-15	0.3	300.00	90.00	Creditors		Corporate - Liquidation
aroline Halcoop	Administration 2	20-Aug-15	0.2	175.00	35.00		RVKIC - \$1716.00; PV & Commoniz transfer - Clayton U 12 - \$1716.00 - Scan and email to BJR for checking and approval.	Corporate - Liquidation

 \frown

LM investment M Remuneration to	anagement Ltd (in Liqui 30 June 2018	dation)			3,204,515.29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
					453.00		Review email from Armstrong regarding correction of contact details. Make changes to all pages where registry details appear.	Category 2 - Approved/Unpaid
Renee Lobb	Senior Director	21-Aug-15	0.3	510.00	153.00	Administration	Reconcile PTAL invoices against register, email to PTAL providing payable position and requesting	Category 2 -
Benjamin Robson	Consultant I	21-Aug-15	0.6	300.00	180.00	Trade-on	confirmation	Approved/Unpaid
•							PV & Commbiz transfer - Armstrong Registry Services - \$550 - scan & email to BJR for checking and	Category 2 - Approved/Unpaid
Caroline Haicoop	Admin II	21-Aug-15	0.4	175.00	70.00	Administration	approval Emails in re books and records review by asic and submissions in belipac re costsreview status of	Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	21-Aug-15	0.4	600.00	240.00	Administration	major items re prep re meeting with AJT from Russells	Approved/Unpaid
								Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	21-Aug-15	0.1	600.00	60.00	Administration	MPF matters - email in from Russells re conflict of interest	Approved/Unpaid Category 2 -
Jaha Dask	Sr Managing Dir	21-Aug-15	0.1	6 00.00	00.03	Administration	Email in Russells:	Approved/Unpaid
John Park	Si wanaging Di	21-Aug-13	<u>u.</u> ,				Mainh from ASIC - Correspondence; Pay Invoice & check scheme statement + invoice Statement to	
Brittany Newman	Administration 1	21-Aug-15	0.1	135.00	13.50	Administration	Aug 2015	Corporate - Liquidation
Brittany Newman	Administration 1	21-Aug-15	0.3	135.00	40.50	Administration	Filing	Corporate - Liquidation
Caroline Halcoop	Administration 2	21-Aug-15	0.1	175.00	17.50	Administration	Process Commbiz transfer - BJR - \$1716.00	Corporate - Liquidation
Christine Stead	Senior Director	21-Aug-15	0.1	560.00	56.00	Administration	email in from Stephanie	Corporate - Liquidation
		00 0		600.00	1.200.00	Administration	Internal Correspondence such as emails and illeriotes in relation to the administration not to be charged to creditors - Review of proceedings following receipt of ICA issues	Written Off/Not claimed
Ginette Mulier	Managing Director	22-Aug-15	2	000.00	1,200,00	Autoristation		
							Internal Correspondence such as emails and filenotes in relaiton to the administrationNot to be charged to creditors - Review of proceedings following receipt of ICA issues -preparaiton for Lawyers	Written Off/Not claimed
Ginette Muller	Managing Director	23-Aug-15	2	600.00	1,200.00	Administration	charged to creditors - Review of proceedings following receipt of tox issues -preparation for Lawyors	Category 2 -
Benja min Ro bson	Consultant I	24-Aug-15	0.2	300.00	60.00	Trade-on	Verify payments to Armstrong	Approved/Unpaid
Renee Lobb	Senior Director	24-Aug-15	0.1	510.00	51.00		Review email from Mark Waller on Lifestyle/SPG claim outcome.	Corporate - Liquidation
	Senior Managing Director	24-Aug-15	0.1	600.00		Administration	Mpf matters - review letter in from minter ellison re KM potential conflict	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	24-Aug-10		000.00				Category 2 -
Renee Labb	Senior Director	25-Ацд-15	0.1	510.00	51.00	Administration	Edits to administration website for registry information.	Approved/Unpaid Category 2 -
				000.00	60.00	Administration	Review and approve payment of outstanding administration liabilities including review of supporting documentation and signing of transfer or cheque	Approved/Unpaid
Kelly-Anne Trenfield	Sr Managing Dir	25-Aug-15	0.1	600.00		Administration	Setup folder and copy files from compact disk to client file as requested.	Corporate - Liquidation
Tanya Kratz	Administration 2	25-Aug-15	0.2	175.00	35.00	Administration	Review creditor claim and send to GOK for update on commission payments and likeliness of	
Renee Lobb	Senior Director	25-Aug-15	0.2	510.00	102.00	Creditors	dividend.	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	25-Aug-15	0.1	600.00	60.00	Administration	Emails re arrangement for file review; emails in; review and update to do list	Corporate - Liquidation
							Email in Russells;	Category 2 - Approved/Unpaid
John Park	Sr Managing Dir	26-Aug-15	0.1	600.00	60.00	Administration	Correspondence with and working with Steve Flannan on getting a working system in place to	Category 2 -
Benjamin Robson	Consultant 1	26-Aug-15	0.5	300.00	150.00	Trade-on	process transfer requests for LM fund investors	Approved/Unpaid
							P to the second second to filing	Category 2 - Approved/Unpaid
Kelly-Anne Trenfield	Sr Managing Dir	26-Aug-15	0.1	600.00		Administration		Corporate - Liquidation
Brittany Newman	Administration 1	26-Aug-15	0.5	135.00	67.50	Administration	Filing	Corporate - Liquidation
Brittany Newman	Administration 1	26-Aug-15	0.1	135.00	13.50	Administration	Mail in from Hickey Lawyers - Trust Statements for Year Ended 30 June 2015 LM Investment payable invoices to Russells and Clayton Utz - Correspondence with Renne Loob and	
te ata Data an		76 Aug 15	0.4	300.00	120.00	Creditors	Chris Erfurt - email to GOK requesting approval	Corporate - Liquidation
Benjamin Robson	Associate II	26-Aug-15 26-Aug-15	0.4	510.00			Sorting out Liedekerke billing payment issue. Speak with Chris, Kelly-Anne Trenfield and BJR.	Corporate - Liquidation
Renee Lobb	Senior Director	20-Aug-15	0.3	510.001	153.00	na minor agon	Call in from Stephanie Williamson re outcome of hearing; update to jrp; write-up file noteemails in	Companyin Liquidation
Kelly-Anne Trenfield	Senior Managing Director	26-Aug-15	0.3	600.00	180.00	Administration	from Russells re MPF judgement and access to books and records	Corporate - Liquidation
Blenn O'Keamey	Senior Director	26-Aug-15	0.2	560.00	112.00	Creditors	Review legal reconciliation - note from BJR. Note to Riobb regarding insurance costs	Corporate - Liquidation Category 2 -
				F10 50	450.00			Approved/Unpaid
Renee Lobb	Senior Director	27-Ацд-15	0.3	510.00	153.00	Investigations	Email in from rossells re review or book and records, review request from with and drait	
							responsereview costs statement from holman webb; review previous correspondence; query to	Category 2 -
(elly-Anne Trenfield	Sr Managing Dir	27-Aug-15	0.7	600.00	420.00	Administration	russells re status of holman webb claim	Approved/Unpaid

	anagement Ltd (In Liqui	dation)	1. 3.		3.204.515.29			
Remuneration to : Name	SU June 2018 Title	Date	Hours	Charge Qut Rate		Task Desc	Narrative	Classification
Monte		Pate		Charge out nate	Cillel Ec	Task Desc	TEmails to GOK regarding payment of Liedekerke involces. Email to Chis at Clayton DIZ to commi	
							the insurer should be notified of our position going forward if they stand firm on their position not to	L
Renee Lobb	Senior Director	27-Aug-15	0.3	510.00	153.00	Investigations	advance defence costs until the \$1mil deductible is reached. Temails in refunding and payment of costsemall in from russells reflected to rucker and cowen re	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	27-Aug-15	0.2	600.00	120.00	Assets	combined approach to MPF litigation x 2	Corporate - Liquidation
Glenn O'Keamey	Senior Director	27-Aug-15	0.3	560.00	168.00	Creditors	Query Renee regarding insurance costs/reconcile costs to date.	Corporate - Liquidation
						1	Review response draft for Moray and Agnew on coverage. Seek continuation from Kelly-Anne	Companya tinuidation
Renee Lobb	Senior Director	28-Aug-15	0.2	510.00	102.00	Investigations	Trenfield on Daubney's' decision before instructions provided to send.	Corporate - Liquidation Category 2 -
Glenn O'Keamey	Senior Director	31-Aug-15	0.2	560.00	112.00	Trade-on	Review invoice contractor, not BJR regarding payment .sign off payment.	Approved/Unpaid
Cicilit O Reality			012				Inteenings with stakeholders in relation to the administration. Meeting with Intali to discuss how to	
				000.00	000.00		categorise meeting documents into various different categories for the tribunal. Correspondence from fawyers, Response via JP and consider issues.	Corporate - Liquidation
Ginette Muller	Managing Director	31-Aug-15	1.5	600.00	900.00	Administration		Category 2 -
Caroline Halcoop	Admin II	01-Sep-15	0.2	175.00	35.00	Administration	PV & Transfer - Nicsand Pty Ltd - \$4108.50 - BJR - Scan and email to BJR for checking and approval	Approved/Unpaid
								Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	01-Sep-15	0.2	600.00	120.00	Administration	Emails in re legal costs; email from sean russell re review of costs Liaise with MM regarding NAS device LM tund server records. peruse server and update to Steve	Approved/Unpaid Category 2 -
Glenn O'Kearney	Senior Director	01-Sep-15	0.5	560.00	280.00	Trade-on	regarding local records etc.	Approved/Unpaid
Sienin O Reamey		01-0cp-10					Review email from Kelly-Anne Trentield on Instructions and Daubney decision update. Email Claylon	
Renee Lobb	Senior Director	01-Sep-15	0.2	510.00	102.00	Investigations	Utz instructions on the Lifestyle/KPG claim.	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	01-Sep-15	0.1	600.00	60.00	Administration	Review Clayton utz corro and instructions to RCI re release	Corporate - Liquidation
Glenn O'Keamey	Senior Director	01-Sep-15	0.2	560.00	112.00	Creditors	Review legal invoices Russell, note BJR, note Kelly regarding AGM.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	01-Sep-15	0.3	560.00	168.00	Creditors	Review legal bilis insurance matters. note Kelly regarding counsel etc.	Corporate - Liquidation
				540.00	51.00	Administration	Seek update from GOK post auditor meeting.	Category 2 - Approved/Unpaid
Renee Lobb	Senior Director	02-Sep-15	0.1	510.00	51.00	Administration		Category 2 -
Renee Lobb	Senior Director	02-Sep-15	0.1	510.00	51.00	Trade-on	Respond to general query on august fund transactions.	Approved/Unpaid
James Cook	Consultant I	02-Sep-15	0.3	270.00	81.00	Administration	Arranging payment/transfer of funds of 75k. Advising Caroline, discussing with GOK.	Corporate - Liquidation
Brittany Newman	Administration 1	02-Sep-15	0.2	135.00	27.00	Administration	Call to ATO following up outstanding BAS refund (1 Apr - 30 Jun 2015) + prepare 8974fn64	Corporate - Liquidation
						i	Review Russells update re 2 x MPF matters including response from Tucker & cowen re joint dealing with matters; emails re supply of information to clayton utzbellpac - email update in from russells re	
a D. A To a faile		02-Sep-15	0.2	600.00	120.00	Administration	update to insurer and issues at hand	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	02-Sep-15 02-Sep-15	0.2	510.00	306.00	Investigations	Review in detail and on forward to clayton utz lifestyle/KPG updates from Russells.	Corporate - Liquidation
Renee Lobb	Senior Director	02-SBp-15	0.0	510.00	300.00	it (Vestigations	Keynew emails from Clayton of and Keny-Anne menned on funding request and information to be	
							sought from Russells. Email russells requesting same. Review email from yesterday regarding Belgium claim and investor profiles. call KAt and clarify who has access to information and progress	
	Senior Director	02-Sep-15	0.4	510.00	204.00	Investigations	on rehosting of AX.	Corporate - Liquidation
Renee Lobb	Senior Director	02-Sep-15	0.4	510.00	204.00	Investigations	Review note regarding corporate gst reland, amange transler or runds between high interest and	
							other, reconcile account and outflows legal matters . review consultants reg. memo to Kelly regarding outflows LMIM account.	Corporate - Liquidation
Blenn O'Keamey	Senior Director	02-Sep-15	1	560.00	560.00	Assets	publickes Livink account. Internal Correspondence such as emails and litenotes in relation to the administrationArrange for hilling	
Sinette Multer	Managing Director	02-Sep-15	0.5	600.00	300.00	Administration	and review of ip letter. Send to niall for perusal.	Corporate - Liquidation
						···-	Chase up payment for GOK; scan and email to KAT to see it able to approve for release from	Category 2 -
Caroline Halcoop	Admin II	03-Sep-15	0.3	175.00		Administration	Commbiz - Nicsand Pty Ltd - \$4108.50	Approved/Unpaid Corporate - Liquidation
Caroline Halcoop	Administration 2	03-Sep-15	0.2	175.00		Administration	PV & transfer between accounts - scan and send to GOK for checking & approval	Corporate - Liquidation
aroline Halcoop	Administration 2	03-Sep-15	0.1	175.00		Administration		
ilenn O'Kearney	Senior Director	03-Sep-15	0.1	560.00	56.00	Assets	Note BJR regarding legal bills/LM iransfers.	Corporate - Liquidation Category 2 -
	Ca Manazina Dia	04 Bon 4E		600.00	60.00	Administration	Review incoming documentation, consider and send to filing	Category 2 - Approved/Unpaid
elly-Anne Trenfield	Sr Managing Dir	04-Sep-15	0.1	000.00	00.00		Torion meeting description in the second	Category 2 -
elly-Anne Trenfield	Sr Managing Dir	04-Sep-15	0.1	600.00	60.00	Administration		Approved/Unpaid
•	V	· · · · ·				_	Ourse with Purson appehility to issue overseas payments for fund distributions	Category 2 - Approved/Unpaid
enjamin Robson	Consultant I	04-Sep-15	0.3	300.00	90.00	Trade-on	Query with Suncorp capability to issue overseas payments for fund distributions	Approved/Unpaid

358

LM Investment Ma Remuneration to s	anagement Ltd (In Liqui 30 June 2018	dation)			3,204,515.29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Caroline Halcoop	Administration 2	04-Sep-15	0.4	175.00	70.00	Administration	Amend PV & transfer amount as per BJR; scan to BJR for approval; Documents approved by BJR and scan/emailed to KAT for approval to release	Corporate - Liquidation
Gtenn O'Keamev	Seniar Director	04-Sep-15	0.2	560.00	112.00	Assets	Discuss transfer reconciliation LMIM cash with BJR.	Corporate - Liquidation
Benjamin Robson	Associate II	04-Sep-15	1.2	300.00	360.00	Trade-On	Arrange transfer of cash into main account, reconciliation and review of outstanting invoices payable by the Corporate Entity including counsel fees and prepayments, provide update to Glenn O'Kearney and KAT regarding same	Corporate - Liquidation
Kelly-Anne Trenfield	Sr Managing Dir	05-Sep-15	0.1	600.00	60.00	Administration	Review incoming documentation, consider and send to filingReview and update to do list, query outstanding items	Category 2 - Approved/Unpaid
Kelly-Anne Trenfield	Senior Managing Director	05-Sep-15	0.2	600.00	120.00	Assets	Email in from Stephanie williamson re status of B&R review re belipacemail in from stephanie williamson re mpf matters and provide instructions re minimalist approach going forward	Corporate - Liquidation
John Park	Sr Managing Dir	07-Sep-15	0.1	600.00	60.00	Administration	Email in Ashley Tiplady;	Category 2 - Approved/Unpaid
Glenn O'Keamey	Senior Director	07-Sep-15	0.3	560.00	168.00	Trade-on	Note from CMA regarding operational costs server records etc. note to CMA regarding data room fund documents, note BJR regarding op cost payments, discuss op cost invoicing with BJR, discuss contact from investor centre BJR	Category 2 - Approved/Unpaid
Glenn O'Keamey	Senior Director	07-Sep-15	0.3	560.00	168.00	Creditors	Update in form BJR regarding legar costs LMIM position insurance matters, reply, discussions with BJR regarding same.	Corporate - Liquidation
Kelly-Anne Trenfield	Sr Managing Dir	08-Sep-15	0.4	600.00	240.00	Administration	Meeting with Ashley Tiplady re outstanding costs and current legal matters	Category 2 - Approved/Unpaid Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	08-Sep-15	0.2	600.00	120.00	Administration	Review emails in from russells re asic proceedings and claims re costs	Approved/Unpaid Category 2 -
Christine Stead	Senior Director	08-Sep-15	0.2	560.00	112.00	Administration	respond to email from GOK and review electronic records for data room downloads	Approved/Unpaid Category 2 -
Glenn O'Kearney	Senior Director	06-Sep-15	1	560.00	560.00	Trade-on	Review and copy data room fund records - discussions Steve hannan regarding same. Review email from russells to tucker & cowen re shared responsibility; provide instructions to issue	Approved/Unpaid
Kelly-Anne Trenfield	Senior Managing Director	08-Sep-15	0.3	600.00	180.00	Administration	correspondencereview update from russells re mpf matters	Corporate - Liquidation
Caroline Halcoop	Administration 2	08-Sep-15	0.2	175.00	35.00	Administration	PV & Commbiz transfer - HLC Trust - scan and email to BJR	Corporate - Liquidation
Benjamin Robson	Consultant I	09-Sep-15	0.3	300.00	90.00	Creditors	Payment of Cloud Plus invoice, update register and record	Category 2 - Approved/Unpaid
Benjamin Robson	Consultant I	09-Sep-15	0.2	300.00	60.00	Creditors	Payment of Grace records invoice, update register and record	Category 2 - Approved/Unpaid Category 2 -
Glenn O'Kearney	Senior Director	09-Sep-15	0.1	560.00	.56.00	Trade-on	Review and approve operation cost payments.	Approved/Unpaid
Kelly-Anne Trenfield	Senior Managing Director	09-Sep-15	0.1	600.00	60.00	Administration	Review letter from russetts to ME re claims re costs on 2 x mpf matters	Corporate - Liquidation
Caroline Halcoop	Administration 2	09-Sep-15	0.1	175.00	17.50	Administration	Release Commbiz payment; email to BJR	Corporate - Liquidation
Benjamin Robson	Associate II	10-Sep-15	0.2	300.00	60.00	Creditors	Review and approve payment to Russells - counsel fees	Corporate - Liquidation
Julie Ross	Administration	10-Sep-15	0.6	175.00	105.00	Administration	EFT request from Gold Coast office for payment to Russells Law	Corporate - Liquidation
Caroline Halcoop	Administration 2	10-Sep-15	0.3	175.00	52.50	Administration	Amend payment voucher and redo transfer voucher, scan and email to BJR; Review incoming documentation, consider and send to filingemails in; provide GOK re ASIC	Corporate - Liquidation Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	11-Sep-15	0.3	600.00	180.00	Administration	updatedJRP re email from Russells re outstanding costs	Approved/Unpaid
Julie Ross	Administration	11-Sep-15	0.2	175.00	35.00	Administration	2x EFT payment requests for \$23752.99	Corporate - Liquidation
Julie Ross	Administration	11-Sep-15	0.2	175.00	35.00	Administration	print our vouchers and supporting documents for signature and bank transfer	Corporate - Liquidation
Tanya Kratz	Administration 2	11-Sep-15	0.1	175.00	17.50	Administration	Submit paying-in slip via MYOB as requested.	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	11-Sep-15	0.1	600.00	60.00	Assets	Email in from clayton utz; email in from russells re legal costs	Corporate - Liquidation
Caroline Haiccop	Administration 2	11-Sep-15	0.1	175.00	17.50	Administration		Corporate - Liquidation
Brittany Newman	Administration 1	11-Sep-15	0.4	135.00	54.00	Administration	Filing	Corporate - Liquidation
Renee Lobb	Sentor Director	13-Sep-15	0.2	510.00	102.00	Trade-on	Review email and Kelly-Anne Trentield's comments. Upload investor circular to website and respond.Query with GC staff on transfer status now we have Steve Hannan assisting.	Category 2 - Approved/Unpaid Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	14-Sep-15	0.1	600.00	60.00	Administration	Review incoming documentation, consider and send to filing Review and update to do list; query outstanding items	Approved/Unpaid

	anagement Ltd (In Liqui	dation)						
Remuneration to Name	30 June 2018 Title	Date	Hours	Charge Out Rate	3,204,515.29 Charge	Task Desc	Narrative	Classification
		44.0 45		600.00	420.00		Emails re in holman webb fee claimReview and update to do list; query outstanding items	Category 2 - Approved/Unpaid
Kelly-Anne Trenfield	Sr Managing Dir	14-Sep-15	0.2	600.00	120.00	Administration	Review and approve payment of outstanding administration liabilities including review of supporting	Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	14-Sep-15	0.1	600.00	60.00	Administration	documentation and signing of transfer or cheque	Approved/Unpaid
Glenn O'Kearney	Senior Director	14-Sep-15	0.2	560.00	112.00	Creditors	Review Clayton Utz bills insurance matter. note to Rlobb for funding update.	Corporate - Liquidation
							Correspondence to parties external to the administration, compose and check content, authorise and	
		44.0 - 45		600.00	600.00	Administration	send. Emails to Steven Muller and commence work on the database for litigation matters relating to the ICA.	Corporate - Liquidation
Ginette Muller	Managing Director	14-Sep-15	1	500.00		Administration	Respond to Investor advisor enquiry from Deanna Zulk regarding Account 100254978,	Category 2 -
Benjamin Robson	Consultant !	15-Sep-15	0.3	300.00	90.00	Trade-on	Correspondence with Steve Hannan regarding same	Approved/Unpaid
							update on matters/insurance claims/costs	Category 2 - Approved/Unpaid
Kelly-Anne Trenfield	Sr Managing Dir	15-Sep-15	0.3	600.00	180.00	Administration	Review Pl form for Insurance renewal, prelim collation of intermation for forms, indefinitly claims	Category 2 -
Glenn O'Keamey	Senior Director	15-Sep-15	1	560.00	560.00	Trade-on	against funds/review MYOB transactions etc. review and sign off on fund expenses.	Approved/Unpaid
John Park	Senior Managing Director	15-Sep-15	0.2	600.00	120.00	Administration	Email in Clayton Utz.	Corporate - Liquidation
Renee Lobb	Senior Director	15-Sep-15	0.2	510.00	102.00	Investigations	Review of insurance emails from Clayton Utz and response to KAt emails on same.	Corporate - Liquidation
Refiee Loop		10-060-10	0.2	010.00	102.00	Theorycanone	Perusable email from KAT and Clayton UE with respect to Bergian claim and outstanding payables.	
Benjamin Robson	Associate II	15-Sep-15	0.5	300.00	150.00	Trade-On	Cor Glenn O'Kearney and KAT regarding same	Corporate - Liquidation
				600.00	200.00		Review email update from Clayton Utz re scheme and dealing with costsmpf matters; update; query in from clayton utz re request for insurance denial	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	15-Sep-15	0.5	600.00	300.00	Administration	Correspondence BJR regarding insurance costs/belgium legal invoices.	Corporate - Liquidation
Glenn O'Keamey	Senior Director	15-Sep-15	0.1	560.00	56.00	Creditors	Review note Russell regarding insurance/legal costs/scheme issues, review registers and review	Corporato Elquidation
Glenn O'Kearney	Senior Director	15-Sep-15	0.5	560.00	280.00	Creditors	cash position vs outstanding legal bills, notes regarding reimbursements from funds.	Corporate - Liquidation
Glean O Realiney		10 000 10						Category 2 -
John Park	Sr Managing Dir	16-Sep-15	0.2	600.00	120.00	Administration	Emails in Stephen Russell;	Approved/Unpaid Category 2 -
		40.0-45		300.00	60.00	Trade-on	Respond to investor Graham Welch	Approved/Unpaid
Benjamin Robson	Consultant I	16-Sep-15	0.2	300.00	00.00			Category 2 -
Benjamin Robson	Consultant I	16-Sep-15	0.3	300.00	90.00	Trade-on	Correspondence with WMS regarding ability to produce GST reports for PKF	Approved/Unpaid
		1 1					PV & transfer - Nicsand Pty Ltd - \$4215.75; scan and email to BJR for checking and approval - BJR	Category 2 - Approved/Unpaid
Caroline Haicoop	Admin II	16-Sep-15	0.2	175.00	35.00	Administration	PV & transfer - Nicsand Pty Ltd - \$42 15.75, scan and enall to BSR to direcking and approval - BSR External correspondence received by the appointee in relation to the administration; check the nature	Approved/ cripain
						1	of the enquiry and direct the correspondence to the most appropriate staff member for further	Category 2 -
Ginette Muller	CONSULTANT	16-Sep-15	0.4	600.00	240.00	Administration	action CCS at Perpetual Custody reports.	Approved/Unpaid
		1		··			Prepare payment and reconciliation or outstanding course nees across vanous invoices, request invoices not held from Russells, Payment of Clayton Utz leiderkerke EUR foreign invoices, payment	1
			- 1	ĺ			of outstanding Clayton Utz money in relation to Invoice 3853248. Transfer from Saver to working	
Benjamin Robson	Associate II	16-Sep-15	1.2	300.00	360.00	Creditors	account	Corporate - Liquidation
Benjamin Robson	Associate II	16-Sep-15	0.2	300.00	60.00	Trade-On	Review and approve payment vouchers	Corporate - Liquidation
Benjamin Robson	Associate II	16-Sep-15	0.3	300.00	90.00	Trade-On	Approval of receipt/payment vouchers	Corporate - Liquidation
Brittany Newman	Administration 1	16-Sep-15	0.3	135.00	40.50	Administration	Filing	Corporate - Liquidation
Dilitariy Newman	Administration						Meeting with Clayton Utz re insurance scheme and information required update to JRP re clayton utz	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	16-Sep-15	1.5	600.00	900.00	Assets	meeting; insurance scheme; email from russells re insurance scheme	
Keliy-Anne Trentield	Senior Managing Director	16-Sep-15	0.1	600.00	60.00	Administration	Email from and response to stephanie re cost recovery from KM re MPF matters	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	16-Sep-15	0.1	600.00	60.00	Administration	Lma agm report; emails in correspondence from surk regarding outstanding legal bill corporate emity/counsel portions/insurance	Corporate - Liquidation
· · · · · · · · · · · · · · · · · · ·				F00 00	440.00	Graditore	Correspondence from BJK regarding outstanding regariolin corporate energy courses pontonismisticance matters etc. reply.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	16-Sep-15	0.2	560.00	112.00	Creditors		Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	17-Sep-15	0.2	600.00	120.00	Administration	send to filingreview corro re trilogy claim; draft response to ashley	Approved/Unpaid
Kelly-Anne Trenfield	Senior Managing Director	17-Sep-15	1.1	600.00	660.00	Administration	Prepare schedule re insurance scheme recovery and return	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	17-Sep-15	0.3	600.00		Assets	Update to JRp re meeting with Clayton Utz and scheme	Corporate - Liquidation
•	Senior Managing Director	17-Sep-15	0.3	560.00		Creditors	Review and sign off on counsel fee position and Belgium tawyers.	Corporate - Liquidation
Glenn O'Keamey			0.1	560.00	56.00		Review and sign off on transfer approval.	Corporate - Liquidation
Blenn O'Kearney	Senior Director	17-Sep-15	Ų.1	00.00		na5603		· · · ·

Remuneration to					3,204,515.29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
							review of all court material, affidavits, statements, judgments, submissions and findings for the ICA	
							proceedings. Organise into a database to enable filing of relevant matters for Niall Coburn	
Ginette Muller	Managing Director	17-Sep-15	1.5	600.00	900.00	Administration	submissions.	Written Off/Not claime
	0	10.0		000.00	90.00	T	Investor enquiry - Deanna Zuik	Category 2 -
Benjamin Robson	Consultant I	18-Sep-15	0.3	300.00	90.00	Trade-on	3 x CBA EFT payments to Russells Law for \$31350.00, Nicsand for 4215.75 and Clayton Utz for	Approved/Unpaid Category 2 -
Julie Ross	Admin II	18-Sep-15	0.8	175.00	140.00	Administration	9473.20	Approved/Unpaid
		1					Email from and response to share robert re costs claimiteview and approve payment or outstanding	
							administration liabilities including review of supporting documentation and signing of transfer or	Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	18-Sep-15	0.3	600.00	180.00	Administration	cheque; online authorisation	Approved/Unpaid Category 2 -
Glenn O'Kearney	Senior Director	18-Sep-15	2	560.00	1,120.00	Trade-on	Review and prepare PI proposal forms for renewal of insurance.	Approved/Unpaid
	Associate II	18-Sep-15	0.3	300.00	90.00	Trade-On	Review and approve various payments	Corporate - Liquidation
Benjamin Robson		In the second second					COmplile fee and legal cost info re insurance scheme recovery/return	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	18-Sep-15	1.2	600.00	720.00	Assets	Compline les and legal cost into le insufance scheme recovery/return Internal correspondence soon as emails and mendes in realign to the automostration research -	Corporate - Erquidation
		l i					review of all court material, affidavits, statements, judgments, submissions and findings for the ICA	
							proceedings. Organise into a database to enable filing of relevant matters for Niall Coburn	
Ginette Muller	Managing Director	18-Sep-15	1.5	600.00	900.00	Administration	submissions.	Written Off/Not claimed
	A destate wells a O	40.0-45		175.00	405.00	A desiminate at la s	Prepare international payment - timed out - Liedekerke Wolters; scanned to BJR advised set up for Monday so conversion amount not know until then; cc with JR	Corporate - Liquidation
Caroline Halcoop	Administration 2	19-Sep-15	0.6	175.00	103.00	Administration	Reconciliations of 4 x LM investment accounts; issues with improcessed entries on a/c 13 405 90/ ~	Corporato Elquidentiti
Caroline Halcoop	Administration 2	19-Sep-15	0.1	175.00	17.50	Administration	investigate and email BJR;	Corporate - Liquidation
							Collate and send to Glenn O'Keamey Op cost totals for amounts invoiced for period 01/07/14 to	Category 2 -
Benjamin Robson	Consultant I	21-Sep-15	0.5	300.00	150.00	Trade-on	30/06/15	Approved/Unpaid
				500.00		-	Discuss op cost funding/reimbursements with BJR	Category 2 - Approved/Unpaid
Glenn O'Keamey	Senior Director	21-Sep-15	0.2	560.00		Trade-on	Receive and review Russells counsel fee invoices from Dallys Pierce	Corporate - Liquidation
Benjamin Robson	Associate II	21-Sep-15	0.3	300.00		Trade-On		· · · · · · · · · · · · · · · · · · ·
Benjamin Robson	Associate II	21-Sep-15	0.2	300.00	60.00	Creditors	Review and approve Intil payment request from JR/CH Advise CH/JR on regarding set up or Russells payment, advise same on transfer of term deposit to	Corporate - Liquidation
. .		N 0- 45		000.00	00.00	Trade-On	navise Chisk on regarding set up of Russells payment, advise same on transler of term deposit to main account	Corporate - Liquidation
Benjamin Robson	Associate II	21-Sep-15	0.3	300.00			LM Payment batch - counsel fees in invoices B22409 and B22478, B22479	Corporate - Liquidation
Benjamin Robson	Associate II	21-Sep-15	0.4	300.00	120.00	Creditors	Livi Payment batch - counseries in involces 622409 and 622476, 622478 JR/Ch - Contespondence with same regarding transfer or term deposit amount and payments to	Corporate - Esquidadora
							Russells regarding Counsel fees. Phone call from C Erfurt regarding payment to Leiderkerke and non	}
Benjamin Robson	Associate II	21-Sep-15	0.5	300.00	150.00	Trade-On	payment of Clayton Utz ills	Corporate - Liquidation
Benjamin Robson	Associate II	21-Sep-15	0.2	300.00	60.00	Trade-On	Provide breakdown to Dallys Pyers regarding funds received \$31k	Corporate - Liquidation
Donjanan Koboon							temaiis to and from een at Golo Coast onice regarding payment to Russells's law. Redo payment	
							voucher and EFT at CBA bank for \$8063,53. also checking on processing of International	Corporate - Liquidation
Julie Ross	Administration	21-Sep-15	1.9	175.00	332.50	Administration	payment prair email for JKP 10 seno to russells - review fundung posision; on born belipac and MPP	Colbatare - Eiderganger
							mattersReview and approve payment of outstanding administration liabilities including review of	
Kelly-Anne Trenfield	Senior Managing Director	21-Sep-15	0.6	600.00	360.00	Administration	supporting documentation and signing of transfer or cheque; online	Corporate - Liquidation
Kelly-Anne Trentield	Senior Managing Director	21-Sep-15	0.1	600.00	60.00	Administration	Email in from shane roberts; draft response and instructions for payment of holman webb costsl	Corporate - Liquidation
NORYTARIE HEILUEIU	Control Microsofting Director	*********	0.1					
Kelly-Anne Trenfield	Senior Managing Director	21-Sep-15	0.1	600.00	60.00	Administration	MPF matters - email in and response to Stephanie Williamson re appeal against leave to proceed	Corporate - Liquidation
• • • •							Review counsel bills regarding insurance detende matters, approve, review crayton utz email regarding bills, reply to BJR regarding comments for cluts, discussion with BJR Regarding same.	
		01.0 15	0.0	560.00	226.00	Creditors	review and sign off payments.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	21-Sep-15	0.6	560.00	330.00		memar correspondence such as emails and menoles in relation to the administration research -	
				1			review of all court material, affidavits, statements, judgments, submissions and findings for the ICA	
							proceedings. Organise into a database to enable filing of relevant matters for Niall Coburn	Written Off/Not claimed
Ginette Muller	Managing Director	21-Sep-15	1.5	600.00	900.00	Administration	submissions. Review incoming documentation, consider this send to ining Review and approve payment or	whiten Onnot claimed
							outstanding administration liabilities including review of supporting documentation and signing of	Category 2 -

LM investment Ma Remuneration to 3	inagement Ltd (in Liqui 10 June 2018	dation)			3,204,515.29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Kelly-Anne Trenfield	Sr Managing Dir	22-Sep-15	0.1	600.00	60.00	Administration	GOK update re audit Discussions with Arthur gallagner regarding insurance matters, turther work on Pt proposal torms.	Category 2 - Approved/Unpaid Category 2 -
Glenn O'Keamey	Senior Director	22-Sep-15	2	560.00	1,120.00	Trade-on	prepare annexure and issue form in draft with annexure's to AJG.	Approved/Unpaid
Benjamin Robson	Associate II	22-Sep-15	-	300.00	150.00		Reconciliation and comments to KAT on outstanding Clayton Utz bills	Corporate - Liquidation
Julie Ross	Administration	22-Sep-15	0.5	175.00	87.50	Administration	Following up on payment to Russell's law regarding rejected transaction. Emails to and from Ben Robson	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	22-Sep-15	0.7	600.00	420.00	Assets	Draft SOP for insurance scheme including analysis of costs and fees incurred by Liquidators	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	22-Sep-15	0.2	600.00	120.00	Administration	payment to holman webbreview SOP	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	22-Sep-15	0.1	600.00	60.00	Administration	email in from Ashley Tiplady re outstanding legal costs; info to GOK re response	Corporate - Liquidation
Glenn O'Keamey	Senior Director	22-Sep-15	2.5	560.00	1,400.00	Assets	Prepare opdated LMM SOP. review all registers/in 108 etc. update registers. Note form Kerry regarding MPF cost order, note to Kelly with update SOP etc. correspondence with Russell/Kelly regarding Russell costs.	Corporate - Liquidation
							memar correspondence such as emails and memores in relation to the administration research - review of all court material, affidavits, statements, judgments, submissions and findings for the ICA proceedings. Organise into a database to enable filing of relevant matters for Niall Coburn	Written Off/Not claimed
Ginette Muller	Managing Director	22-Sep-15	1.5	600.00	900.00	Administration	submissions.	
Kelly-Anne Trenfield	Sr Managing Dir	23-Sep-15	0.2	600.00	120.00	Administration	Review and approve payment of outstanding administration liabilities including review of supporting documentation and signing of transfer or cheque; onlinerevise email to russells re legal costs review emails on Liedekerke progress and anticipated cost. Also review tee emails and request to	Category 2 - Approved/Unpaid
Renee Lobb	Senior Director	23-Sep-15	0.4	510.00	204.00	Investigations	halt action pending confirmation of insurer funding for defense costs.	Corporate - Liquidation
Carly Drew	Administration 2	23-Sep-15	0.1	175.00	17.50	Administration	WIP excel exported for KAT;	Corporate - Liquidation
Benjamin Robson	Associate II	23-Sep-15	0.4	300.00	120.00	Creditors	Arrange payment of 4 Clayton Utz invoices payable by Corporate	Corporate - Liquidation
Benjamin Robson	Associate II	23-Sep-15	0.3	300.00	90.00	Trade-On	Resolving difficulties surrounding account transfers, missing payments, payments to Russells	Corporate - Liquidation
Julie Ross	Administration	23-Sep-15	0.2	175.00	35.00	Administration	EFT Payments For russells Law and Clayton Utz	Corporate - Liquidation
Julie Ross	Administration	23-Sep-15	0.1	175.00	17.50	Administration	receipt vouchers only x 3	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	23-Sep-15	2.6	600.00	1,560.00	Administration	Draft SOP for insurance scheme including analysis of costs and fees incurred by Liquidators	Corporate - Liquidation
					<u>_</u>		Adview regar costs and provide instructions to pay, response to while removal and response to and response to Stephanie Williamson re costs claim against FMIFemail from and response to Stephanie Williamson re not wanting to provide invoice to gadens re costs provide response to russells re legal costs	Corporate - Liquidation
Keliy-Anne Trenfield	Senior Managing Director	23-Sep-15	0.4	600.00	240.00	Administration	Review Coro renegal plas .note but re approval to pay amounts clayton fuz etc. review and approve	
							payment to Holman webb. review update in from Russell regarding indemnity claim insurance	Corporate - Liquidation
Glenn O'Kearney	Senior Director	23-Sep-15	0.7	560.00		Creditors	défende matters, review note JRP Russell regarding update eon scheme etc.	Corporate - Liquidation
Glenn O'Keamey	Senior Director	23-Sep-15	1	560.00	560.00	Creditors	Drafting of annual report to creditors	Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	24-Sep-15	0.1	600.00	60.00	Administration	email from and response to CBA re fund distributions	Approved/Unpaid
Benjamin Robson	Associate II	24-Sep-15	0.2	300.00	60.00	Creditors	Payment to Holman Webb	Corporate - Liquidation
Benjamin Robson	Associate II	24-Sep-15	0.2	300.00	60.00	Trade-On	Review and approve LM Payments to Russells and Clayton Utz for JR Per email from Ben Robson, printing off Invoices for 2 x EF I payments for Russells Law and Clayton	Corporate - Liquidation
Julie Ross	Administration	24-Sep-15	0.5	175.00	87.50	Administration	Utz for approval for signing to KAT Review and approve payment of outstanding administration habilities including review of supporting	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	24-Sep-15	0.1	600.00	60.00	Administration	documentation and signing of transfer or cheque; online	Corporale - Liquidation
Kelly-Anne Trenfield	Sr Managing Dir	25-Sep-15	0.1	600.00	60.00	Administration	Review and approve payment of outstanding administration liabilities including review of supporting documentation and signing of transfer or cheque; online authorisation	Category 2 - Approved/Unpaid Category 2 -
Celly-Anne Trenfield	Sr Managing Dír	25-Sep-15	0.5	600.00	300.00	Administration	Meeting with Ashley Tiplady to discuss costs/legal matters	Approved/Unpaid Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	25-Sep-15	0.1	600.00			Review incoming documentation, consider and send to filing	Approved/Unpaid Corporate - Liquidation
Benjamin Robson	Associate II	25-Sep-15	0.2	300.00	60.00		Approve and submit various MYOB payments	Corporate - Liquidation
Brittany Newman	Administration 1	25-Sep-15	0.3	135.00	40.50	Administration	Filing	Corporate - Eldordation

LM Investment Ma Remuneration to 3	inggement Ltd (In Liqui 10 June 2018	dation)			3.204.515.29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Kelly-Anne Trenfield	Senior Managing Director	25-Sep-15	0.5	600.00	300.00	Administration	Draft SOP for insurance scheme including analysis of costs and fees incurred by Liquidators	Corporate - Liquidation
Keliy-Anne Trenfield	Senior Managing Director	25-Sep-15	0.4	600.00	240.00	Administration	email in resettlement or costs claim against KM re insityle and KPGmail in from Mark watter re cost recovery from insurance scheme	Corporate - Liquidation
Ginette Muller	Managing Director	26-Sep-15	4	600.00	2,400.00	Administration	Internal Correspondence such as amails and thenotes in relation to the administration Review Nial's proposal and submission to ICA. Consider his proposal	Written Off/Not claimed Category 2 -
Carly Drew	Admín II	28-Sep-15	0.1	175.00	17.50	Administration	Scanned and emailed payment approvals to BJR;	Approved/Unpaid
Kelly-Anne Trenfield	Senior Managing Director	28-Sep-15	0.6	600.00	360.00	Administration	Review fee information re calculation of claim in insurance scheme - prepare SOP	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	28-Sep-15	0.1	600.00	60.00	Creditors	review and respond to GOK re AGM report	Corporate - Liquidation
Kelly-Anne Trenfield	Sr Managing Dir	29-Sep-15	0.2	600.00	120.00	Administration	Review and update to do list; query outstanding items Review incoming documentation, consider and send to filing MPP matter - review email in re appearance at commercial list application; query issues with default	Category 2 - Approved/Unpaid
Kelly-Anne Trenfield	Senior Managing Director	29-Sep-15	0.1	600.00	60.00	Administration	judgement	Corporate - Liquidation
Glenn O'Kearney	Senior Director	29-Sep-15	0.1	560.00	56.00	Assets	Review term deposit bank statement in.	Corporate - Liquidation
Glenn O'Keamey	Senior Director	29-Sep-15	0.2	560.00	112.00	Creditors	Review note in regarding KM costs insurance matters. note BJR regarding register/refund.	Corporate - Liquidation
Julie Ross	Admin II	30-Sep-15	0.6	175.00	105.00	Administration	set up EF1 payment for \$550 to Armistrong Registry Services, email payment and transection to Ben for review ; finalise for signature.	Category 2 - Approved/Unpaid Category 2 -
Kelly-Anne Trenfield	Sr Managing Dir	30-Sep-15	0.4	600.00	240.00	Administration	GOK LM update re funds status including accounts and audit	Approved/Unpaid
John Park	Senior Managing Director	30-Sep-15	0.1	600.00	60.00	Administration	Email in Russells regarding public examination;	Corporate - Liquidation
Benjamin Robson	Associate II	30-Sep-15	0.3	300.00	90.00	Trade-On	MPP/LMIM agreement or Russells insurance matters - provide surplus breakdown to Glenn O'Kearney regarding LMIM payments already made	Corporate - Liquidation
Glenn O'Kearney	Senior Director	30-Sep-15	0,3	560.00	168.00	Creditors	Discuss insurance costs funding issue/scheme update BJR/KAT	Corporate - Liquidation
Glenn O'Kearney	Senior Director	30-Sep-15	0.2	560.00	112.00	Creditors	Review template report to creditors and discuss with KAT.	Corporate - Liquidation
Brittany Newman	Administration 1	30-Sep-15	0.2	135.00	27.00	Administration	Enter missing transactions for September 2015 in MYOB	Corporate - Liquidation
Benjamin Robson	Associate II	01-Oct-15	0.3	300.00	90.00	Creditors	LM IN - Russells invoice B23055 record and apportion	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	01-Oct-15	0.1	600.00	60.00	Administration	Review incoming documentation, consider and send to filing	Category 2 - Current
Glenn O'Keamey	Senior Director	02-Oct-15	0.5	560.00	280.00	Trade-On	Review and approve operational cost invoicing for Sept 15 qtr.	Category 2 - Current
Glenn O'Kearney	Senior Director	02-Oct-15	0.1	560.00	56.00	Assets	Review and sign of receipt voucher GST refund.	Corporate - Liquidation
						· · · · · · · · · · · · · · · · · · ·	Review and sigh PFR engagement acceptancer(eview and approve payment of outstanding administration liabilities including review of supporting documentation and signing of transfer or cheque; online authorisation	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	02-Oct-15	0.2	600.00		Administration	receipt voucher only from ATO for \$7207.55	Category 2 - Current
Julie Ross	Administration	02-Oct-15	0.1	175.00	17.50	Administration	Prepare receipt voucher in MYOB - BAS Refund (Apr-Jun 2015) + update GC BAS spreadsheet	Corporate - Liquidation
Brittany Newman	Administration 1	02-Oct-15	0.1	135.00	13.50	Administration	Filing	Corporate - Liquidation
Brittany Newman Glenn O'Kearney	Administration 1	02-Oct-15 06-Oct-15	0.4	135.00	54.00	Administration Creditors	rumia IReview involces and updated from Russell regarding update on various matters again LMIM: note to BJR	Category 2 - Current
Blenn O'Keamey	Senior Director	06-Oct-15	0.2	560.00	112.00	Trade-On	Review and sign on on tund operational cost payments, note to AJG regarding insurance PI responsible entity.	Category 2 - Current
Glenn O'Keamey	Senior Director	06-Oci-15	0.7	560.00	392.00	Creditors	Work on drafting 508 annual report LMIM.	Corporate - Liquidation
lenjamin Robson	Associate II	06-Oct-15	0.2	300.00		Creditors	Payment to cloud plus Pty ltd	Category 2 - Current
Benjamin Robson	Associate II	06-Oct-15	0.5	300.00	150.00	Trade-On	Record and allocate 4 new Russells LMIM Corporate matter invoices	Category 2 - Current
celly-Anne Trenfield	Senior Managing Director	06-Oct-15	0.0	600.00	60.00	Administration	Legal invoice inReview incoming documentation, consider and send to filing	Category 2 - Current
elly-Anne Trenfield	Senior Managing Director	06-Oct-15	0.2	600.00	120.00	Administration	Review email in from Russells to outcome or commercial list applicationireview email in te response to russells re belipac doc review costs	Category 2 - Current
elly-Anne Trenfield	Senior Managing Director	06-Oct-15	0.1	600.00	60.00	Administration	Review email in re response to russells re asic doc review costs	Category 2 - Current
rittany Newman	Administration 1	07-Oct-15	0.3	135.00	40.50	Administration	Filing	Corporate - Liquidation
lenn O'Kearney	Senior Director	07-Oct-15	0.2	560.00	112.00	Trade-On	Call from AJG regarding PI insurance proposal - send to Brisbane for signing.	Category 2 - Current
ilenn O'Kearney	Senior Director	07-Oct-15	1.5	560.00	840.00	Creditors	Work on draft 508 report .note to Kelly .prepare cred list/reconciliation payments.	Corporate - Liquidation

LM Investment Ma Remuneration to 30	nagement Ltd (In Liquic 0 June 2018	dation)			3,204,515.29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Glenn O'Kearney	Senior Director	07-Oct-15	0.2	560.00	112.00	Creditors	Review note regarding credits taken Russels insurance legal matters, note to BJR	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	07-Oct-15	1.2	600.00	720.00	Assets	meeting with Clayton Utz re insurance scheme and funding; prep re meeting with Clayton Utz	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	07-Oct-15	0.5	600.00	300.00	Administration	Review asic costs; anompt to calculate nume costs with reference to review conducted to date; drant email response to Stephanie Williamson at Russells	Category 2 - Current
Kelly Anna Tangéald	Senior Managing Director	07-Oct-15	0.2	600.00	120.00	Administration	femail in from AJT re outstanding costs on KPG & Litersyle; draft response and separately instructions fre payment	Category 2 - Current
Kelly-Anne Trenfield Brittany Newman	Administration 1	08-Oct-15	0.2	135.00	27.00	Administration	Enter missing transactions for September 2015 in MYOB + reconcile accounts	Category 2 - Current
Brittany Newman	Administration 1	08-Oct-15	0.1	135.00	13.50	Administration	Filing	Corporate - Liquidation
Benjamin Robson	Associate II	08-Oct-15	0.2	300.00	60.00	Trade-On	Professional indemnity Insurance	Category 2 - Current
Benjamin Robson	Associate II	08-Oct-15	0.4	300.00	120.00	Creditors	Russells invoice reconciliation of matters of 20156040 and 20156042	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	08-Oct-15	0,3	600.00	180.00	Creditors	Review, amend and amend AGM report	Corporate - Liquidation
	Bornor managing birootor					· · ·	email to JV te meeting on in issues; email to GDM te contact with thiogy; Review Incoming	0
Kelly-Anne Trenfield	Senior Managing Director	08-Oct-15	0.3	600.00		Administration	documentation, consider and send to filling	Category 2 - Current
Carly Drew	Administration 2	08-Oct-15	0.2	175.00	35.00	Administration	Prepared Final Letter and issued; Review finalized but report hote to BUK regarding logements, review correspondence regarding	Corporate - Liquidation
Glenn O'Keamey	Senior Director	09-Oct-15	0.2	560.00	112.00	Creditors	LMIM legal bill reconciliation.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	09-Oct-15	0.1	560.00	56.00	Creditors	Review and approve receipt voucher rMPF funds and payment voucher Clayton utz.	Corporate - Liquidation
Kellv-Anne Trenfield	Senior Managing Director	09-Oct-15	0.1	600.00	60.00	Creditors	Finalise AGM report	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	09-Oct-15	0.2	600.00	120.00	Administration	Discuss audit and pursue claims; general update with GOK	Corporate - Liquidation
							Email to main waher re wrigte position on insulance scheme, email from and response to parrou	
		09-Oct-15		600.00	100.00	Administration	Villanireview email in from Russells re T&C request to issue correspondence; provide instructions re approval	Category 2 - Current
	Senior Managing Director		0.2	600.00		Creditors	Settle annual report to creditors;	Corporate - Liquidation
John Park	Senior Managing Director	09-Oct-15	0.3				call from Ashley Tipiday re response to asic directions hearing	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	12-Oct-15		600.00	60.00	Administration	Email from CC5 CustodyRE: LM Investment Management Limited (Administrator Appointed) -	
Ginette Muller	Managing Director	12-Oct-15	0.2	600.00	120.00	Administration	September 2015 Reports	Category 2 - Current
Caroline Halcoop	Administration 2	13-Oct-15	0.2	175.00	35.00	Administration	Process LM payment; email to BJR	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	13-Oct-15	8.0	600.00	480.00	Assets	Meeting with Jarrod Villani re status of various insurance matters - peregian, KPG & Lifesttyle	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	13-Oct-15	1	600.00	600.00	Administration	Emain in the Russells finalise agenda re meeting with Russells; discuss with JRP; review LM to do listReview and update to do list; query outstanding itemsReview and approve payment of outstanding administration liabilities including review of supporting documentation and signing of transfer or cheque	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	13-Oct-15	0.3	600.00	180.00	Assets	Email in from mark waller re approach by David Whyte; preparation re meeting with JVJRP update	Corporate - Liquidation
Benjamin Robson	Associate II	13-Oct-15	0.2	300.00		Creditors	Follow up on LM payments to Russells	Category 2 - Current
Benjamin Robson	Associate II	13-Oct-15	0.3	300.00	+	Administration	Review funds received into bank account, instructions to BN	Corporate - Liquidation
-	Senior Director	13-Oct-15	0.2	560.00	112.00	Trade-On	Correspondence with PKF regarding taxation matter.	Category 2 - Current
,	Managing Director	13-Oct-15	5	600.00		Administration	Reviewing judgement	Written Off/Not claimed
	Senior Managing Director	14-Oct-15	0.2	600.00	120.00	Administration	emails in; finalise agenda re update meetingreview NAVs on various funds	Category 2 - Current
lenjamin Robson	Associate II	14-Oct-15	0.3	300.00	90.00	Trade-On	Correspondence with Stephanie Williamson regarding amounts payable by LMIM	Category 2 - Current
	Senior Managing Director	14-Oct-15	0.2	600.00	120.00	Administration	File review catch up KAT;	Corporate - Liquidation
	Managing Director	14-Oct-15	5	600.00	3,000.00	Administration	Reviewing judgement	Written Off/Not claimed
	Senior Managing Director	15-Oct-15	0.5	600.00		Administration	Update meeting with Russells	Category 2 - Current
	Associate II	15-Oct-15	0.6	300.00		Trade-On	Review of BAS calculations from WMS, Correspondence with Glenn O'Keatney and PKF regarding lodgement of outstanding BAS	Category 2 - Current
	Associate II	15-Oct-15	0.2	300.00	60.00	Trade-On	Draft S 508 online lodgement	Corporate - Liquidation
	Managing Director	15-Oct-15	5	600.00	3,000.00	Administration	Reviewing judgement	Written Off/Not claimed
	Administration	16-Oct-15	0.2	175.00	·			Category 2 - Current

LM Investment Ma Remuneration to 3	anagement Ltd (In Liquid	dation)			3,204,515,29	······································		
Name	Title	Date	Hours	Charge Out Rate		Task Desc	Narrative	Classification
Brittany Newman	Administration 1	16-Oct-15	0.2	135.00	27.00	Administration	Reconcile account 1340590/ as at 30/09/2015 + Prepare BAS (1 Jul - 30 Sep 2015) DOC ID 30 688 680 621	Corporate - Liquidation
Caroline Halcoop	Administration 2	16-Oct-15	0.3	175.00	52.50	Administration	2 x PV & Commbiz transfers; Cloud Plus - \$7801.20 & Claylon Utz - \$1789.70; Scan & email to JHC	Category 2 - Current
Glenn O'Kearney	Senior Director	16-Oct-15	0.1	560.00	56.00	Assets	Review and approve receipt voucher - deposit	Corporate - Liquidation
Glenn O'Keamey	Senior Director	16-Oct-15	0.1	560.00	56.00	Creditors	Sign off aSIC lodgement regarding 508 report.	Corporate - Liquidation
Glenn O'Keamey	Senior Director	16-Oct-15	0.2	560.00	112.00	Trade-On	Correspondence with AJG regarding insurance Pi renewal etc.	Category 2 - Current
Benjamin Robson	Associate II	16-Oct-15	0.2	300.00	60.00	Trade-On	Approved payments to CH	Calegory 2 - Current
Benjamin Robson	Associate II	16-Oci-15	0.4	300.00	120.00	Trade-On	Review and approve various receipt an payment vouchers	Corporate - Liquidation
James Cook	Consultant !	19-Oct-15	0.2	270.00	54.00	Administration	Inbound mall. Receiving from couriers, mail register.	Corporate - Liquidation
Julie Ross	Administration	19-Oct-15	0.1	175.00	17.50	Administration	Receipt voucher only for \$35970.80 from AIF	Category 2 - Current
Glenn O'Keamey	Senior Director	19-Oct-15	0.5	560.00	280.00	Investigations	Review subpoena HWL .note Kelly, note BJR and discuss. review books and records list. note BJR.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	19-Oct-15	0.2	560.00	112.00	Administration	Review file status, discuss with BJR, update TDL. Emain more growne supplierance production, emaining pooks and records review as part or asic	Corporate - Liquidation
	During Managing District	19-Oct-15	0.4	600.00	240.00	Administration	proceedingsReview and approve payment of outstanding administration liabilities including review of supporting documentation and signing of transfer or chequeReview incoming documentation, consider and send to filingReview and update to do list; query outstanding items	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	19-Oct-15	0.4	600.00	120.00	Administration	Email from Peter KellsAdvice & Help re info on Imim	Category 2 - Current
Ginette Muller	Managing Director	19-Oct-15	0.2	600.00	60.00	Administration	Email from Peter KellsRe: Advice & Help re Info on Imim	Category 2 - Current
Ginette Muller	Managing Director	19-00-15	0.1	00.00	00.00		Correspondence in troll peter kells regarding documents requested Livilia, hole steve hannen.	
Glenn O'Kearney	Seniar Director	20-Oct-15	1	560.00	560.00	Creditors	review source docs, discussions with Steve regarding bond providers, draft note to JRP/GDM and draft email reply to peter kells. Imitial review of PT terms tund, review invoice SH, note BUT, note Julia PKF, regarding unsigned pre-	Category 2 - Current
o. o	Quality Disaster	20-Oct-15	0.5	560.00	280.00	Trade-On	appointment tax lodgments for funds. b	Category 2 - Current
Gienn O'Kearney	Senior Director Senior Director	20-Oct-15 20-Oct-15	0.0	560.00		Administration	Review Sept gtr WIP data and prepare allocations etc.	Category 2 - Current
Glenn O'Kearney		20-Qct-15	0.4	600.00		Assets	review and approve Russells responsered with a manual cursoft request to review recercle (nor nano), review and approve Russells responsered we werail in from Clayton Utz re funding; review letter as sent to Moray & Agnew re urgent response needed re funding of defence costsBellpac - review emails in re cost recovery from FMIF; review email in re review of records by Law & OrderBellpac - letter in from Allens re examination of David Monaghan; forward to Russells with request to input to response	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	20-Oct-15	0.4	560.00		Administration	Updates with KAT	Category 2 - Current
Christine Stead	Senior Director	20-001-10	0.2				Attend to Subpoend matters with Steve Hannan, searching of data bases and hard copy records	Category 2 - Current
Benjamin Robson	Associate II	20-Oct-15	0.6	300.00	180.00	Trade-On	listing. Dealing with Old mutual issue	Corporate - Liquidation
Benjamin Robson	Associate II	20-Oct-15	0.4	300.00		Trade-On	September Qtr data retrieval and summary	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	20-Oct-15	0.1	600.00		Administration	Bellpac - call in from AJT re cost settlement with BDO	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	20-Oct-15	0.2	600.00		Administration	Review monthly fund update - NAB	Category 2 - Current
Ginette Mulier	Managing Director	20-Oct-15	0.5	600.00		Administration	Email from O'Kearney, Glenn	Category 2 - Current
Ginette Muller	Managing Director	20-Oct-15	0.2	600.00		Administration	Email from Peter Kells	Category 2 - Current
Ginetie Muller	Managing Director	20-Oct-15	0.2	600.00		Administration	Email from Park, John	Category 2 - Current
Benjamin Robson	Consultant I	20-Oct-15	0.40	300			September Qtr data retrieval and summary	Corporate - Liquidation
Glenn O'Kearney	Senior Director	21-Oct-15	0.1	560.00		Creditors	Review invoice in Clayton utz regarding insurance scheme. Review and approve payments grace/ncisand, review PT proposal report from AJC and note to Kelly regarding queries on report and approval to insurer.	Category 2 - Current
Glenn O'Keamey	Senior Director	21-Oct-15	0.5	560.00		Creditors	Review and approve payment russels regarding lifestyle kpg.matter.	Category 2 - Current
Glenn O'Keamey	Senior Director	21-Oct-15	0.1	560.00			Review and approve payment russels regarding messive pg.mater. review corro in from Russells and provide instructions to TK to save LM search data from ASIC	Category 2 - Current
Christine Stead	Senior Director	21-Oct-15	0.1	560.00			Phone Call with Stephanie to advise of costs in dealing with server image	Category 2 - Current
Christine Stead	Senior Director	21-Oct-15	0.1	560.00			Workflow email to Steve Hannan - updated work task manager for LM	Category 2 - Current
Benjamin Robson	Associate II	21-Oct-15	0.4	300.00			Preparation of LIM Corp payements to Russells, Grace records, and Nicsand	Category 2 - Current
Benjamin Robson	Associate II	21-Oct-15	0.5	300.00	150.00	Trade-On	Preparation of LIM Cutly payements to Russells, Grace records, and Micsand	

 $\sum_{i=1}^{n}$

365

LM Investment Ma Remuneration to 3	anagement Ltd (In Liqui 10 June 2018	dation)			3,204,515.29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Benjamin Robson	Associate II	21-Oct-15	0.4	300.00	120.00	Trade-On	Requesting bank statements from Suncorp across various funds	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	21-Oct-15	0.2	600.00	120.00	Administration	Discussion with goldbjr re audit of funds and timing re investor updates	Category 2 - Current
Renee Lobb	Senior Director	22-Oct-15	0.7	510.00	357.00	Investigations	Review emails between clayton utz and us on david wnyte strategy for instirance monies; ine proposed scheme and outstanding accounts. file the numerous emails. J x PV & Commotz transfers - Nicsand - Spetio, Uraca Records - Satarta; Russells Law - S12918.98	Corporate - Liquidation
Caroline Halcoop	Administration 2	22-Oct-15	0.3	175.00	52.50	Administration	is a provide the second s	Category 2 - Current
Christine Stead	Senior Director	22-Oct-15	0.2	560.00	112.00		Review GC records for B&R listing held by RFZ and explain changes to BJR	Category 2 - Current
Beniamin Robson	Associate II	22-Oct-15	0.2	300.00	60.00	1	I.M 508 lodgement	Corporate - Liquidation
Benjamin Robson	Associate II	22-Oct-15	0.2	300.00	60.00	Administration	LM Enquiries email details from R Lobb, discuss with SH	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	22-Ocl-15	0.3	600.00	180.00	Administration	Email in from clayton utz re gadens correspondence and responses from solicitor representing directorsreview email /report re insurance coverage; instructions to GOK	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	22-Oct-15	0.2	600.00	120.00	Administration	review fee allocation for 30 Sept quarter and amend allocation	Category 2 - Current
Ginette Muller	Managing Director	22-Oct-15	0.5	600.00	300.00	Administration	Review submissions and send to JRP for consideration	Written Off/Not claimed
Ginette Muller	Managing Director	22-Oct-15	1	600.00	600.00	Administration	Review submissions for CA institute review of conduct	Written Off/Not claimed
Renee Lobb	Director	22-Oct-15	0.20	510	102.00	Trade-On	Respond to investor query with XM details.	Corporate - Liquidation
Benjamin Robson	Consultant I	22-Oct-15	0.40	300	120.00	Trade-On	issue Ciayton Utz invoices 3880734 and 376572 MPF portions to Clayton Utz	Category 2 - Current
Renee Lobb	Senior Director	23-Oct-15	0.2	510.00	102.00	Investigations	Review revised funding request for defence costas, save and print for file.	Corporate - Liquidation
Renee Labb	Senior Director	23-Oct-15	0.4	510.00	204.00	Administration	Review weasing permissions and emain orwaroling: C air BJR and biscuss investor enquiry response process going forward, make 2 suggestions. Review Kelly-Anne Trenfield's responses to moray and Agnew draft clayton Utz correspondence and david Whyte information request.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	23-Oct-15	0.5	560.00	280.00	Trade-On	Discussions with AJG regarding PI insurance requirements etc. confirm cover.	Category 2 - Current
							Review and sign off on BAS and worksheets, correspondence with BJR Regarding subpoena matter	Corporate - Liquidation
Gienn O'Kearney	Senior Director	23-Oct-15	0.3	560.00		Administration	Create new folder and copy documents across from disk received from Russells.	Corporate - Liquidation
Tanya Kratz	Administration 2	23-Oct-15	0.1	175.00	17.50	Administration	Mail out to ATO - BAS (1 Jul - 30 Sep 2015) DOC ID 30 688 680 621, enter lodgment details in	
Brittany Newman	Administration 1	23-Oct-15	0.1	135.00	13.50	Administration	MYOB + update GC BAS spreadsheet	Corporate - Liquidation
Benjamin Robson	Associate II	23-Oct-15	0.3	300.00	90.00	Administration	Sep Qtr BAS	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	23-Oct-15	0.2	600.00	120.00	Administration	Review email from Clayton Utz re response to moray and agnew; draft response	Corporate - Liquidation
Benjamin Robson	Consultant I	23-Oct-15	0.20	300	60.00	Trade-On	Clayton Utz Invoice 3880374 MPF apportionment	Category 2 - Current
Caroline Halcoop	Administration 2	26-Oct-15	0.2	175.00	35.00	Administration	PV & Commbiz trf - Armstrong Registry Services - \$550.00; scari and email to BJN	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	26-Oct-15	0.2	600.00	120.00	Administration	Respond to innance queries re involcing/reporting and amendment to matter codes; discuss same with parmendemails re amendments to fee structure. Beinpac - emails in the review or in find from taw & croenteview and print emails in from claycon dt2-	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	26-Oct-15	0.3	600.00	180.00	Administration	re insurance/defence costs issuesBellpac - emails in re FMIF access to initial image; CMS re copy/costs/version	Corporate - Liquidation
Christine Stead	Senior Director	26-Oct-15	0.1	560.00	56.00	Administration	email Patrick and request copy of the image	Category 2 - Current
Christine Stead	Senior Director	26-Oct-15	0.4	560.00	224.00	Administration	Email KAT re backup copies and email out to Patrick; PC with Patrick	Category 2 - Current
Christine Stead	Senior Director	26-Oct-15	0.6	560.00	336.00	Administration	Review documents 1-50 in ASIC privilege register	Category 2 - Current
Ginette Muller	Managing Director	26-Oct-15	0.1	600.00	60.00	Administration	Email sent fromTrenfield, KellyLMIM Ltd	Category 2 - Current
Ginette Muller	Managing Director	26-Oct-15	0.1	600.00	60.00		Email sent fromTrenfield, KellyLMIM Ltd	Category 2 - Current
	Indraging Dirocol						Preparation of a set of lorensic images for Law in Order per Russells Lawyer on 26 October 2015.	Category 2 - Current
Patrick Ma	Director	27-Oct-15	2	430.00		Administration	Preparation of file listing and check forensic images after backup copy was made.	Corporate - Liquidation
Renee Lobb	Senior Director	27-Oct-15	0.1	510.00	51.00 204.00	Investigations	Seek update on insurer funding position from Clayton Utz. Can back Chris from Clayton Utz. Discuss funding issue and update on same, also discuss insurance claims analysis and progress with minters on progressing same.	Corporate - Liquidation
Renee Lobb	Senior Director	27-Oct-15	0.4				Review correspondence sent regarding funding to M & A yesterday,	Corporate - Liquidation
Renee Lobb	Senior Director Senior Managing Director	27-Oct-15	0.2	510.00 600.00			Review and approve payment of outstanding administration liabilities including review of supporting	Category 2 - Current

(

	inagement Ltd (In Liqui	dation)			2 204 515 20			
Remuneration to 3 Name	Title	Date	Hours	Charge Out Rate	3,204,515.29 Charge	Task Desc	Narrative	Classification
							Benpac - review email in from Ashiey Tipicay re semement of costs jugement, drait and send	
							responserequest RCI seek update re funding; review emails in re belgian claim funding; review email	
Kelly-Anne Trenfield	Senior Managing Director	27-Oct-15	0.2	600.00	120.00	Administration	in re MPF response review incoming occumentation, consider and send to mingreview and update to do list; query	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	27-Oct-15	0.1	600.00	60.00	Administration	outstanding items	Category 2 - Current
							Request RCL seek update re funding; review emails in re belgian claim funding; review emails in re	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	27-Oct-15	0.1	600.00	60.00	Administration	MPF response	Category 2 - Current
Benjamin Robson	Consultant I	27-Oct-15	0.30	300	90.00	Trade-On	Investor enquiry - MPF and referring investors to KM	Corporate - Liquidation
	Combultant						neview emails on email forwarding and ongoing process for return or investor queries via steve	
D	Senior Director	28-Oct-15	0.3	510.00	153.00	Administration	Hannan. confirm same with BJR and email details to Steve Hannan, turn off email forwarding on website.	Category 2 - Current
Renee Lobb	Senior Director	28-00-15	0.3	510.00	100.00	Additionation	Review email updates from Kerly-Anne Trenileid on fees and minters. Email clayton utz on timing or	
Renee Lobb	Senior Director	28-Oct-15	0.2	510.00	102.00	Investigations	response anticipated after discussions with KM . Review letters sent to M & A on Friday and yesterday regarding policy access, defence cost funding	Corporate - Liquidation
Dense Labb	Senior Director	28-Oct-15	0.3	510.00	153.00	Investigations	and insurance policy disclosure issues.	Corporate - Liquidation
Renee Lobb Carly Drew	Administration 2	28-Oct-15	0.3	175.00	52.50	Administration	Formatted document for FTI approved version x2;	Corporate - Liquidation
Caroline Halcoop	Administration 2	28-Oct-15	0.0	175.00	35.00	Administration	Process commbiz payments x 3	Category 2 - Current
Benjamin Robson	Associate II	28-Oct-15	0.3	300.00	90.00	Trade-On	Perusal email and response to HWL ebsworth	Corporate - Liquidation
Bergamar Kobson		20 001 10	0.0				vances entails in restates or response, renoing and provision or updatesemain in norm partick mane delivery of LM forensic images of servers; email to Stephanie williamson re delivery instructions;	
							review response and relay message to patrickreview email in re status of payment by Im- mif; draft	
Kelly-Anne Trenfield	Senior Managing Director	28-Oct-15	0.4	600.00	240.00	Assets	email to Clayton Utz re payment.	Corporate - Liquidation
Glenn O'Keamey	Senior Director	28-Oct-15	0.1	560.00	56.00	Investigations	Review update BJR regarding hwl subpoena.	Corporate - Liquidation
olonin o haamoy	·····						Call in from AJT re outcome of hearings re MPF indemnity and MIF interference in costs assessment	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	29-Oct-15	0.2	600.00	120.00	Administration		Written Off/Not claimed
Ginette Muller	Managing Director	29-Oct-15	0.5	600.00	300.00	Administration	Receive and review correspondence from ICA Meeting with Niall regarding the next steps - hearing in February/March	Written Off/Not claimed
Ginette Muller	Managing Director	29-Oct-15	0.5	600.00		Administration	Mail out to Supreme Court of Victoria - 8974/159 (Express Post 605 17479686 090)	Corporate - Liquidation
Brittany Newman	Administration 1	30-Oct-15	0.1	135.00		Administration	Filing	Corporate - Liquidation
Brittany Newman	Administration 1	30-Oct-15	0.2	135.00		Administration	Call from BJR regarding HWL subpoena action.	Corporate - Liquidation
Glerin O'Keamey	Senior Director	30-Oct-15	0.1	560.00		Investigations	Review subpoena correspondence; arrangements re sending 2/11	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	01-Nov-15	0.1	600.00		Administration	Review and respond to update on Belgian claim funding, file email.	Corporate - Liquidation
Renee Lobb	Senior Director	02-Nov-15	0.1	510.00	51.00	Investigations	Review emails regarding livestor queres, respond regarding transfer forms requires and additional	
Renee Lobb	Senior Director	02-Nov-15	0.2	510.00	102.00	Investigations	information needed to respond to queries.	Category 2 - Current
Benjamin Robson	Associate II	02-Nov-15	0.3	300.00	90.00	Creditors	Clayton Utz Invoice 3880775 review and update to registers. Correspondence with Clayton Utz	Category 2 - Current
	O	02-Nov-15	0.3	600.00	160.00	Assets	Ernall in from mark waller re information request from Liederkereke; draft response with information for response	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	02-Nov-15 02-Nov-15	0.3	560.00	56.00	Investigations	Confirming subpoena dealt with etc.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	02-Nov-15	0.1	560.00		Administration	Review and sign off bank reconciliation.	Corporate - Liquidation
Glenn O'Keamey	Senior Director	02-Nov-15 02-Nov-15	0.1	560.00		Administration	Discuss file with POC - update TDL. discuss file with Kelly.	Corporate - Liquidation
Glenn O'Keamey	Senior Director	02-Nov-15	0.2	560.00		Trade-On	Review PID insurance renewal terms/invoice/, note BJR	Category 2 - Current
Glenn O'Kearney	Senior Director	02-1404-10	0.2	500.00			Review Kelly-Anne Tremelo s comments on linging and beigiom maker quenes to progress liegation.	
				E40.00	153.00	Investigations	Email Steve Hannan to assist with 2 points and email Clayton Utz updated information on what we have thus far.	Corporate - Liquidation
Renee Lobb	Senior Director	03-Nov-15	0.3	510.00		Administration	ernalls in from Russells re fee review	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	03-Nov-15	0.1	000.00	00.00	Administration	Review emails from Steve Hannan on information required for Belgian proceedings. Compile	
Renee Lobb	Senior Director	04-Nov-15	0.4	510.00	204.00	Investigations	information and send to Clayton Utz.	Corporate - Liquidation
Renee Lobb	Senior Director	04-Nov-15	0.3	510.00	153.00	Investigations	Locate engagement agreements for lawyers and send to Ginette Muller.	Category 2 - Current
Brittany Newman	Administration 1	04-Nov-15	0.1	135.00	13.50		Mail in from MYOB - AccountRight Subscription	Category 2 - Current
Benjamin Robson	Associate II	04-Nov-15	0.3	300.00	90.00	Creditors	Payment of Grace records invoice for October storage costs	Category 2 - Current

(

LM Investment Mai Remuneration to 30	nagement Ltd (In Liqui 3 June 2018	dation)			3,204,515.29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Benjamin Robson	Associate II	04-Nov-15	0.2	300.00	60.00	Trade-On	Payment of Server hosting invoice for Cloud Plus	Category 2 - Current
Benjamin Robson	Associate II	04-Nov-15	0.5	300.00	150.00	Trade-On	Update consultants fee register with recent payments made by LMIM to Russells invoices	Category 2 - Current
- Kelly-Anne Trenfield	Senior Managing Director	04-Nov-15	0.2	600.00	120.00	Assets	Belipac - review summary from Russells re judgement on indemnitydrait email to Clayton Utz re status of funding	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	04-Nov-15	0.3	00.003	180.00	Administration	update call with Ashiey hiplayo, Russells re status of outstanding matters review incoming documentation, consider and send to filing	Category 2 - Current
Christine Stead	Seniar Director	04-Nov-15	0.8		448.00	Administration	Review of ASIC documents 51-103 for privilege	Category 2 - Current
Glenn O'Keamey	Senior Director	04-Nov-15	0.2		112.00	Trade-On	Review and sign off on various Fund payments/insurance/IT costs etc. request update	Category 2 - Current
Ginette Muller	Managing Director	04-Nov-15	1.5	600.00	900.00	Administration	Send email to Steven Muller regarding next steps in the institute proceedings. Email documents and request same from RCL. Do research on Castle Partners and their appointment to LMIM etc	Written Off/Not claimed
Ginette Muller	Managing Director	04-Nov-15	0.4	600.00	240.00	Administration	Email from KAT re Russells. Consider issues	Calegory 2 - Current
Ginette Muller	Managing Director	04-Nov-15	1.5	600.00	900.00	Administration	Send email to steven multer regarding next steps in the institute proceedings. Email documents and request same from RCL. Do research on Castle Partners and their appt to LMIM etc	Written Off/Not claimed
Ginette Muller	Managing Director	04-Nov-15	0.4	600.00	240.00	Administration	Email from KAT re Russells. Consider issues	Category 2 - Current
Brittany Newman	Administration I	04-Nov-15	0.10	135		Administration	Filing	Category 2 - Current
Renee Lobb	Senior Director	05-Nov-15	0.10	510.00		Investigations	Nevew emain from clayton or on reduited momation for beigan proceeding. Seek assistance from Steve Hannan on same and forward response. Review email from KAI regarding mail and email out required to AIF investors. Contact Armstrong registries to urgently obtain mail and email addresses for AIF registry. revew emarch m & A regarding funding. Make comments to Kelly-Ahlte Trefitield on reiterating that	Corporate - Liquidation
Rелее Lobb	Senior Director	05-Nov-15	0.2	510.00	102.00	Investigations	we will not be able to continue to defend proceedings without adequate funding. Netween Managed Performance Fund judgement and send email to Mark Waller with amendments to	Corporate - Liquidation
Renee Lobb	Senior Director	05-Nov-15	0.2	510.00	102.00	Investigations	letter required.	Corporate - Liquidation
· · · · · · · · · · · · · · · · · · ·	Administration 1	05-Nov-15	0.5	135.00	67.50	Administration	Split files + filing	Corporate - Liquidation
	Associate II	05-Nov-15	0.2	300.00	60.00	Creditors	Review and record Russells Invoice B23469. Update registers	Category 2 - Current
Benjamin Robson	Associate II	05-Nov-15	0.3	300.00	90.00	Creditors	Review and record LMIM Invoice regarding KPG 13th beach Russells invoice B23485. Update registers	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	05-Nov-15	0.2	600.00	120.00	Administration	Réview incoming documentation, consider and send to filingReview and update to do list; query outstanding items newww.co.index o insurer renorma, provide commencery to RCL and reviewR-C & Litestyle -	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	05-Nov-15	D.6	600.00	360.00	Administration	review correspondence from Russells to Tcuker and Cowen re need for defence to be conducted by LMIm rather than FMIF; draft email to JRPernails in re review of belgian claim information; discuss with RCLReview incoming documentation, consider and send to filing	Category 2 - Current
Renee Lobb	Seniar Director	05-Nov-15	0.2	510.00	102.00	Investigations	Review liedekerke submissions. call back Chris Erfurt and provide instructions.	Corporate - Liquidation
Christine Stead	Senior Director	05-Nov-15	0.8	560.00	448.00	Administration	Review of ASIC documents 104-155 for privilege	Category 2 - Current
Christine Stead	Senior Director	05-Nov-15	1.8	560.00	1,008.00	Administration	Review of ASIC documents 155-400 for privilege	Category 2 - Current
leniamin Robson	Associate II	06-Nov-15	0.5	300.00	150.00	Creditors		Calegory 2 - Current
lenjamin Robson	Associate II	06-Nov-15	0.6	300.00	180.00	Trade-On	Reconciliation of Clayton Utz involces, provide to KAT total paid in respect of Bellpac matter	Corporate - Liquidation
	Senior Managing Director	06-Nov-15	0.5	600.00	300.00	Assets	Belipac - review advice from russells re approach to belipac; review draft letter to MPF/P I AL re tien against funds; draft response re concerns Review email from Stephanie at Russells on AIF distribution, Respond on Same, Review Clayton Utz	Category 2 - Current
lenee Lobb	Senior Director	06-Nov-15	0.4	510.00	204.00	Investigations	email to Liedekerke with mark ups to submissions on ,Belgium claim.	Corporate - Liquidation
	Seniar Director	06-Nov-15	0.1	560.00			follow up Stephanie re delivery of records and respond to email from Patrick	Category 2 - Current
	Senior Director	06-Nov-15	0.2	560.00		Creditors	Query from BJR regarding FMIF claim defense costs . review register.	Category 2 - Current
	Senior Director	09-Nov-15	0.2	510.00		Trade-On	Review email regarding timing for disclosure and submissions on the Bellpac proceedings and KAT's comments to Clayton Utz.File emails.	Corporate - Liquidation
ames Cook	Consultant I	09-Nov-15	0.2	270.00	54.00	Administration	Attending to inbound mail.	Corporate - Liquidation
	Senior Managing Director	09-Nov-15	1	600.00	600.00	Administration	Review and update to do list; query outstanding itemsreview details of document review for asic proceedings	Category 2 - Current
elly-Anne Trenfield	Senior Managing Director	09-Nov-15	0.4	600.00	240.00	Administration	Email in from AJ I te belipač proceedings; discuse with jrp; drait response; forward email to clayton utz	Corporate - Liquidation

LM Investment Ma Remuneration to 3	nagement Ltd (lĥ Liqui 0 June 2018	lation)			3,204,515.29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Caroline Halcoop	Administration 2	09-Nov-15	0.5	175.00	. 67.60	Administration	3 X PV - CBA Tri - Grade Records - \$329.27; Cloud Plus - \$7801.20; Annur J Gallager - \$80,125.00; print supporting invs; scan all docs to BJR for checking & approval.	Category 2 - Current
Obviations Otrand	Carries Diseases	09-Nov-15	6.3	560.00	3,528.00	Administration	Finalise review of ASIC documents and amend previous review to add details of claim type and bask of claim; various PCs with Steph	S Category 2 - Current
Christine Stead	Senior Director	09-1404-15	0.3	560.00	3,320.00	Auministration	Review main in nom clayton utz re scheme proposar including response and reply to minuer emissin;	
							include information to CU re intention of Whyte re insurance policy and defence costsemail in from	
Kelly-Anne Trenfield	Senior Managing Director	10-Nov-15	0.5	600.00	300.00	Administration	mark waller re insurance position of whyte; forward email to JRP beinpac - review costs of FTT and solicitors to catebelipac - review and calculate costs; drait email and	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	10-Nav-15	0.5	600.00	300.00	Administration	send to Russells	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	10-Nov-15	0.6	600.00	360.00	Administration	review asic docs re privilege review	Category 2 - Current
							Review and approve payment or outstanding administration liabilities including review of supporting	Category 2 - Current
Keliy-Anne Trenfield	Senior Managing Director	10-Nov-15	0.1	600:00	60.00	Administration	documentation and signing of transfer or cheque	Corporate - Liquidation
Renee Lobb	Senior Director	10-Nov-15	0.4	510.00	204.00	Investigations	Review minters letter and our response to them regarding funding and scheme of arrangement.	
Benjamin Robson	Associate II	10-Nov-15	0.3	300.00	90.00	Trade-On	Review and approve various MYOB payment vouchers Correspondence with John Newby regarding pre-appointment Perpetual balances and potential Write	Category 2 - Current
Benjamin Robsoл	Associate II	10-Nov-15	0.3	300.00	90.00	Trade-On	offs	Category 2 - Current
Denjamin Kobaon		10 1107 10	0.0				JP - witnessed KA1 signature on Affidavit, scanned and copied for file, emailed copy to Stephanie	
Carly Drew	Administration 2	10-Nov-15	0.2	175.00	35.00	Administration	Williamson of Russells. Original for collection at Reception.	Category 2 - Current
Christine Stead	Senior Director	10-Nov-15	0.1	560.00	56.00	Administration	review email in from Russells re review of FTI server image Discuss with KAT and PC with Steph, finalise email to Steph regarding review of ASIC document	Category 2 - Current
Obviation Disease	Senior Director	10-Nov-15	0.5	560.00	280.00	Administration	listing for privilege	Category 2 - Current
Christine Stead	Senior Director	10-Nov-15	0.5	560.00	392.00	Administration	Various PCS in/out with Stephanie to finalise review of ASIC document listing for privilege	Category 2 - Current
Christine Stead		10-Nov-15	0.7	560.00	56.00	Creditors	Review correspondence perpetual regarding trust fund involces.	Category 2 - Current
Glenn O'Kearney	Senior Director		0.1	600.00	240.00	Administration	Receive the custodial reports from Perpetual, Check and note contents.	Category 2 - Current
Ginette Muller	Managing Director	10-Nov-15	0.4	600.00	240.00	Administration	Receive the custodial reports from Perpetual. Check and note contents.	Category 2 - Current
Ginette Muller	Managing Director	10-Nov-15	U.4	600.00	240.00	Auministation		
Kelly-Anne Trenfield	Senior Managing Director	11-Nov-15	0.2	600.00	120.00	Administration	Belipac - Review and update to do list; query outstanding items; Review incoming documentation, consider and send to filingEmail in from Russells re approach to MPF re lien; update to do list	Category 2 - Current
				con co	240.00	Administration	GOK update re fund issues including audits, reportingReview and update to do list; query outstanding items;Review incoming docurrentation, consider and send to filing; prepare matter summaries	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	11-Nov-15	0.4	600.00	240.00	Administration	Review lunner email from Clayton UI2 on David whyte's funding claim and insurer policy document	
Renea Lobb	Senior Director	11-Nov-15	0.1	510.00	51.00	Investigations	request, file same.	Corporate - Liquidation
					120.00	Administration	Review and update to do list; query outstanding items Review incoming documentation, consider and send to filing	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	12-Nov-15	0.2 1.5	600.00	450.00	Trade-On	LM AX Registry System training with Steve Hannan	Category 2 - Current
Benjamin Robson	Associate II	12-Nov-15				Administration	Emails with GC staff regarding ISIN's	Category 2 - Current
Renee Lobb	Senior Director	13-Nov-15	0.2	510.00		Administration	Filing	Corporate - Liquidation
Brittany Newman	Administration 1	13-Nov-15	0.2	135.00	27.00		Message from and attempt return call to ASIC, note to GOK	Category 2 - Current
Andrew Weatherley	Managing Director	13-Nov-15	0.1	560.00	56.00	Administration	Respond to GOK email on servers with ASIC.	Category 2 - Current
Renee Lobb	Senior Director	16-Nov-15	0.1	510.00	51.00	Administration	LM Subpoena review	Corporate - Liquidation
Benjamin Robson	Associate II	16-Nov-15	0.2	300.00	60.00	Trade-Ол	Correspondence Riddb/CMA regarding asic server. return message, discuss server records/action	
Glenn O'Keamey	Senior Director	16-Nov-15	0.2	560.00	112.00	Creditors	СМА	Category 2 - Current
Renee Lobb	Senior Director	17-Nov-15	0.2	510.00	102.00	Trade-On	Review email regarding ISIN's, respond requesting account or investor ID numbers to respond.	Category 2 - Current
							Review entain from Reny-Anne mentition anarming fromman webb correspondence nonlying us or investor claims to insurance monies. Save and print for file after review and send to clayton utz.	
				1			Request also from Clayton Utz an update on funding for Managed Performance Fund and Bellpac	1
Renee Lobb	Senior Director	17-Nov-15	0.3	510.00	153.00	Investigations	insurance proceedings.	Corporate - Liquidation
Renee Lobb	Senior Director	17-Nov-15	0.1	510.00	51.00	Investigations	Respond to GOK email on ASIC servers.	Category 2 - Current
Glenn O'Kearney	Senior Director	17-Nov-15	0.5	560.00	280.00	nivooliguuona	Can mont ASIC regarding servers etc note to patrick ma, reply in and note CMA regarding LM 11, call ASIC to confirm.	Category 2 - Current
Christine Stead	Senior Director	17-Nov-15	0.1	560.00	56.00	Administration	respond to email in from GOK re password for server images and provide POC details	Category 2 - Current

LM Investment Ma Remuneration to 3	nagement Ltd (in Liquic 0 June 2018	lation)			3,204,515.29	· · ·		
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Dence Labb	Senier Birester	18-Nov-15	0.3	510.00	153.00	Investigations	Call back Chris Entit. Discuss letter from Holman Webb and funding progress with insurer, discuss russells disclosure directions and confer regarding necessity.	Corporate - Liquidation
Renee Lobb	Senior Director	18-Nov-15	0.3	310.00	90.00		Various Payment/Receipt vouchers approved	Category 2 - Current
Benjamin Robson	Associate II		0.3	135.00	13.50		Filing	Corporate - Liquidation
Brittany Newman	Administration 1	18-Nov-15	0.10	135	13.50		Filing	Category 2 - Current
Brittany Newman	Administration I	18-Nov-15	0.10	133	13.30	Automiscration	review Mark's email regarding Beilpac and respond, review and respond to 3 emails from GOK on	
Renee Lobb	Senior Director	19-Nov-15	0.4	510.00	204.00	Investigations	Holman Webb letter and strategy.	Category 2 - Current
Renee Lobb	Senior Director	19-Nov-15	0.2	510.00	102.00	Investigations	Cati with Chris from Clayton Utz regarding Belipac proceeding and future application collaboration. Clarify email point.	Corporate - Liquidation
Benjamin Robson	Associate II	19-Nov-15	0.3	300.00	90.00	Trade-On	Collate cat 1 invoices across all funds for court matters	Category 2 - Current
Glenn O'Kearney	Seniar Director	19-Nov-15	0.1	560.00	56.00	Administration	Review various bank recs regarding unclaimed deposits etc.	Corporate - Liquidation
							Correspondence in Holman Webb regarding claims against LMIM and its directors, correspondence	Category 2 - Current
Glenn O'Keamey	Senior Director	19-Nov-15	0.2	560.00	112.00		with Rlobb.	Category 2 - Current
Christine Stead	Senior Director	19-Nov-15	0.3	560.00	168.00		review emails in from Stephanie re PDP documents and director proceedings	Corporate - Liquidation
Brittany Newman	Administration 1	20-Nov-15	0.1	135.00	13.50	Administration	Format & Final 89741160	Corporate - Liquidation
Brittany Newman	Administration 1	20-Nov-15	0.1	135.00	13.50	Administration	Mail out to Warren McKeon Dickson Lawyers - 8974 160 + enclosures	Corporate - Elquidation
Renee Lobb	Senior Director	20-Nov-15	0.2	510.00	102.00	Investigations	Review letter to russells on Bellpac and disclosure including way forward with funding restrictions.	Calegory 2 - Current
Glenn O'Kearney	Senior Director	20-Nov-15	0.1	560.00	56.00	Trade-On	Review and approve op cost receipts.	Category 2 - Current
Benjamin Robson	Associate II	20-Nov-15	0.6	300.00	180.00	Trade-On	Updates to consultants fee registers - reconcile with invoices paid through MYOB	Category 2 - Current
Christine Stead	Senior Director	20-Nov-15	0.1	560.00	56.00	Administration	review email from Stephanie	Category 2 - Current
Christine Stead	Senior Director	20-Nov-15	0.2	560.00	112.00	Administration	Review law in order agreement and provide feedback to Steph	Category 2 - Current
James Cook	Consultant I	23-Nov-15	0.1	270.00	27.00	Administration	Inbound mail.	Corporate - Liquidation
Benjamin Robson	Associate II	23-Nov-15	0.3	300.00	90.00	Trade-On	Email to EY expressing concerns over delays and updates on audit progression	Category 2 - Current
Renee Lobb	Senior Director	24-Nov-15	0.4	510.00	204.00	Investigations	Kelly-Anne Trenfield go forward. Respond to Clayton utz to advise to lieise with russells on funding position. Review also email regarding Belgian proceeding funding and revert to Kelly-Anne Trenfield on providing GOK instructions to pay Liedekerke, give instructions to GOK on payment of liedekerke costs.	Corporate - Liquidation
Renee Lobb	Senior Director	24-Nov-15	0.1	510.00		Administration	Attempts to return Christ Erfurt call. leave message/	Corporate - Liquidation
		211101 10					Call with Chris at Clayton Utz, discuss no funding issue, outcome of loday's proceedings and II C	Corporate - Liquidation
Renee Lobb	Senior Director	24-Nov-15	0.2	510.00	102.00	Investigations		Corporate - Liquidation
Glenn O'Kearney	Senior Director	24-Nov-15	0.2	560.00	112.00	Creditors	Updating LMIM cor fee schedules/fee approvals info etc. Review response from Relity-Africe Tremelo, Save and relormat response letter to Holman webb/ACF.	Corporate - Exquitiation
							request John Park approval to finalise for him to sign. Send email to Shane roberts and send copy to	
Renee Lobb	Senior Director	25-Nov-15	0.3	510.00	153.00	Investigations	clayton utz to send with insurer notification.	Corporate - Liquidation
Renee Lobb	Senior Director	25-Nov-15	0.1	510.00	51.00	Investigations	Review email with costs order payment request to Tucker & Cowen for David Whyte, file same.	Corporate Liquidation
Brittany Newman	Administration 1	25-Nov-15	0.2	135.00	27.00	Administration		Corporate - Liquidation
Tanya Kratz	Administration 2	25-Nov-15	0.2	175.00	35.00	Administration	Amend and finalise letter as requested. Insert e-signature into letter as approved.	Corporate - Liquidation
	Senior Director	25-Nov-15	0.1	560.00	56.00	Creditors	Review sign off on RE payments.	Category 2 - Current
	Senior Director	25-Nov-15	0.1	560.00	56.00	Assets	Review file note RE bas refund .	Corporate - Liquidation
							terreter Franking Dearne Zuik direct to KM	Corporate - Liquidation
Benjamin Robson	Consultant I	25-Nov-15	0.20	300			Investor Fildan Dealing Fait and the filt	Category 2 - Current
Benjamin Robson	Associate II	26-Nov-15	0.1	300.00		Trade-On		Category 2 - Current
Benjamin Robson	Associate II	26-Nov-15	0.1	300.00		Trade-On		Category 2 - Current
Benjamin Robson	Associate II	26-Nov-15	0.5	300.00	150.00			Category 2 - Current
Benjamin Robson	Associate II	26-Nov-15	0.5	300.00	150.00	Trade-On	Draft email to WMS outlining concerns over delays, requesting management accounts etc	
Caroline Hałcoop	Administration 2	26-Nov-15	0.2	175.00	35.00	Administration	Review closed a/c - cashbook entries; remove folder; destroy deposit book; waiting for final statement	Calegory 2 - Current

LM investment M Remuneration to	anagement Ltd (In Liqui 30 June 2018	dation)			3,204,515.29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Renee Lobb	Senior Director	26-Nov-15	0.2	510.00	102.00	Administration	to website.	Category 2 - Current
John Park	Senior Managing Director	26-Nov-15	0.1	600.00	60.00		Email in Mills Oakley	Category 2 - Current
Carly Drew	Administration 2	26-Nov-15	0.2	175.00	35.00	Administration	Prepared Final Letter and inserted JRP signature on approval;	Corporate - Liquidation
Brittany Newman	Administration 1	27-Nov-15	0.1	135.00	13.50	Administration	Filing	Corporate - Liquidation
Beniamin Robson	Associate II	27-Nov-15	0.1	300.00	30.00	Trade-On	Submit payments in MYOB	Category 2 - Current
Benjamin Robson	Associate II	27-Nov-15	0.3	300.00	90.00	Trade-On	LM Accounts email to WMS	Category 2 - Current
Caroline Halcoop	Administration 2	27-Nov-15	0.2	175.00	35.00	Administration	PV & Commbiz trf - Armstrong Registry Services Pty Ltd - scanned to JHC for checking	Category 2 - Current
······································							Review Correspondence from Russells, minifers, Gadens and clayton utz regarding extension for	Corporate Liquidation
Renee Lobb	Senior Director	27-Nov-15	0.6	510.00	306.00	Investigations	disclosure and proposed insurance scheme including clarification points. Save and print for file. Review response on application to be neard today for KM. respond advising further instructions to be	Corporate - Liquidation
Renee Lobb	Senior Director	27-Nov-15	0.1	510.00	51.00	Administration	issued when further remuneration application is made.	Category 2 - Current
Glenn O'Keamey	Senior Director	30-Nov-15	0.2	560.00	112.00	Trade-On	Discuss updates to operation cost invoices, creditor reports funds.	Category 2 - Current
Benjamin Robson	Associate II	30-Nov-15	0.2	300.00	60.00	Trade-On	Émail o WMS regarding update across funds regarding management accounts	Category 2 - Current
					477 60		request for First Montgage Income Fund legal funding.	Corporate - Liquidation
Renee Lobb	Senior Director	30-Nov-15	0.3	510.00	153.00		Email to Perpetual advising them that Ryan had left FTI - do not copy him in on emails. Thanks	Category 2 - Current
Ginette Muller	Managing Director	30-Nov-15	0.2	600.00	120.00	Administration	Send summary or defendent of JKP as prepared by Mail Cobum and edition by CDM. Send same to	
							Steven Mulier for consideration and perusal (with various attachments). Meetign with Niall at office to	
Ginette Muller	Managing Director	30-Nov-15	1.5	600.00	900.00	Administration	discuss.	Written Off/Not claimed
Carly Drew	Administration 2	30-Nov-15	0.2	175.00	35.00	Administration	Printed doc for JRP to sign for RCL, scanned copy to RCL, engaged courier to delivery to Russetts;	Category 2 - Current
Cally Diew	Automation and a second a						Request collecting or archive boxes from FITGC returning to Grace Records Management:	
Brittany Newman	Administration 1	02-Dec-15	0.1	135.00	13.50	Administration	Container: Alternate Code:TRLMI-01580 LMI-01580TRLMI-01581 LMI-01581	Category 2 - Current
Glenn O'Kearney	Senior Director	02-Dec-15	0.1	560.00	56.00	Trade-On	Review and sign off payments, general fund related	Category 2 - Current
Benjamin Robson	Associate II	03-Dec-15	0.4	300.00	120.00	Trade-On	Review and record Russells invoice B23760 and B 23759	Category 2 - Current
Benjamin Robson	Associate il	03-Dec-15	0.2	300.00	60.00	Trade-On	Review and record LM Russells invoice B23761	Category 2 - Current
Benjamin Robson	Associate II	03-Dec-15	0.4	300.00	120.00	Trade-On	Account mapping for WMS - listing of account names from AX system	Category 2 - Current
Benjamin Robson	Associate II	03-Dec-15	0.2	300.00	60.00	Trade-On	Lisa Quayle - investor enquiry further information request	Category 2 - Current
Benjamin Robson	Associate II	03-Dec-15	0.2	300.00	60.00	Trade-On	Submit various payments in MYOB Review 4 emails from Russells regarding tees and extension for disclosure, send instructions to gold	Category 2 - Current
Renee Lobb	Senior Director	03-Dec-15	0.3	510.00	153.00	Investigations	coast office to pay invoices.	Category 2 - Current
Carly Drew	Administration 2	03-Dec-15	0.5	175.00	87.50	Administration	Manual Form 524 lodgement for GC staff - due today;	Corporate - Liquidation
Brittany Newman	Administration 1	04-Dec-15	0.4	135.00	54.00	Administration	Filing	Corporate - Liquidation
Renee Lobb	Senior Director	04-Dec-15	0.2	510.00	102.00	Trade-On	Locate investor fund. Respond to Managed Performance Fund query and advise to contact KM.	Corporate - Liquidation
Caroline Halcoop	Administration 2	04-Dec-15	0.2	175.00	35.00	Administration	PV & CBA trf - Grace Records - \$313.18; scan & email to BJR for approval	Category 2 - Current
Glenn O'Keamey	Senior Director	04-Dec-15	0.1	560.00	56.00	Trade-On	Review and sign off cloud plus invoice.	Category 2 - Current
Christine Stead	Senior Director	04-Dec-15	0.2	560.00	112.00	Administration	review quotation emails re charges and email GOK/MM	Category 2 - Current
							Review amended engagement contract for law in order, JRP to execute and witness; scan and email	Category 2 - Current
Christine Stead	Senior Director	04-Dec-15	0.2	560.00	112.00	Administration	to Stephanie at Russells	Category 2 - Current
irittany Newman	Administration I	04-Dec-15	0.60	135	81.00		Split files + filing	Category 2 - Current
rittany Newman	Administration I	04-Dec-15	0.10	135	13.50	Administration	Filing	Corporate - Liquidation
ames Cook	Consultant I	07-Dec-15	0.1	270.00	27.00	Administration	Received call from Scott of Thomson Geer re: update on LM. Circlated to BJR. Review Asmey Tiplady attication for RPG inserve proceedings and funding. Review First Mongage	
tenee Lobb	Senior Director	07-Dec-15	0.3	510.00	153.00	Investigations	Income Fund outline of submissions for today's hearings also.	Category 2 - Current
aroline Halcoop	Administration 2	07-Dec-15	0.2	175.00		Administration	PV & CBA transfer - Cloud Plus - \$7801.20 - BJR; scan and email to BJR	Category 2 - Current
enjamin Robson	Associate II	07-Dec-15	0.2	300.00	60.00	Trade-On	Approve and issue Grace records invoice payment	Category 2 - Current
enjamin Robson	Associate II	07-Dec-15	0.3	300.00	90.00	Trade-On	Payment through MYOB to Surety IT	Category 2 - Current

 $\widehat{}$

M Investment M	anagement Ltd (in Liqui	dation)				·····		
Remuneration to Name	30 June 2018 Title	Date	Hours	Charge Out Rate	3,204,515.29 Charge	Task Desc	Narrative	Classification
Glenn O'Kearney	Senior Director	07-Dec-15	0.1			Creditors	Review note regarding 38 cavill invoice, note KAT	Corporate - Liquidation
Glenn O Keamey		01-080-13	0.1	500.00	00.00		Call from, John Peden and Ashiey liplady regarding remuneration claims/express against	
Glenn O'Keamey	Senior Director	07-Dec-15	0.8	560.00	448.00	Creditors	FUNDS/indemnity issues etc.	Category 2 - Current
James Cook	Consultant I	08-Dec-15	0.1	270.00	27.00	Administration	Inbound mail - bank statements. Review email with final settlement deed and instructions for involced payments; respond and advise	Corporate - Liquidation
Renee Lobb	Senior Director	08-Dec-15	0.2	510.00	102.00	Trade-On	GOK to confirm when payments made.	Category 2 - Current
Renee Lobb	Senior Director	08-Dec-15	0.1	510.00	51.00	Trade-On	Review correspondence to minters on security for costs agreed upon and 556 priority in Liquidation.	Corporate - Liquidation
Caroline Halcoop	Administration 2	08-Dec-15	0.1	175.00	17.50	Administration	Reconciliation of bank account - BJR	Category 2 - Current
Caroline Halcoop	Administration 2	08-Dec-15	0.1	175.00	17.50	Administration	Process CBA LMIM payments - Grace Records & Cloud Plus	Category 2 - Current
Benjamin Robson	Associate II	08-Dec-15	0.2	300.00	60.00	Trade-On	Submit various MYOB payments	Category 2 - Current
Glenn O'Keamey	Senior Director	08-Dec-15	2	560.00	1,120.00	Creditors	review updated Full Catculations from Sr. prepare updated allocations or category 2 claims. correspondence with Sean Russell regarding same, review file for advice Russell regarding fund time allocations, note Ashley, review and sign off on fund trading payment.	Category 2 - Current
	Managing Director	08-Dec-15	0,5	600,00	300.00		CCS Custody from Perpetual for each fund. Review.	Category 2 - Current
Ginette Muller	Inianaging Director	00-Dec-13	0.5	000.00	000.00	- Commission	Review emails regarding Bellpac proceedings and KM's remuneration claim vs LMIM's claim for	
Renee Lobb	Senior Director	09-Dec-15	0.3	510.00	153.00	Investigations	indemnity from Managed Performance Fund as former trustee. Review incoming occumentation, consider and send to filling Review and update to do list; query	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	09-Dec-15	0.7	600.00	420.00	Administration	outstanding itemsUpdate from Ashley Tiplday revenue actions	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	09-Dec-15	0.2	600.00	120.00	Administration	Review letter from russells to T&C re Whuyte application re MPF proceedings	Category 2 - Current
Benjamin Robson	Associate II	09-Dec-15	0.3	300.00	90.00	Trade-On	Inclusion of LM Op Costs involces in to Fee Summary register	Category 2 - Current
Glenn O'Kearney	Senior Director	09-Dec-15	0.1	560.00	56.00	Administration	Review bank reconciliation. review/update TDL file status.	Corporate - Liquidation
	Senior Director	09-Dec-15	-	560.00	560.00	Creditors	Review amended car 2 remuneration invoices 2015, discussions with BJR, amended category 2 data, prepare updated allocations and issue to Sean Russell for applications	Category 2 - Current
Glenn O'Keamey	Administration 1	09-Dec-15	0.1	135.00	13.50	Administration	Filing	Corporate - Liquidation
Brittany Newman	Administration	09-Dec-15	0.20	135	27.00	Administration	Filing	Category 2 - Current
Brittany Newman	Senior Managing Director	10-Dec-15	0.20	600.00		Administration	meeting with JV re fee application	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Wanaging Director	10-060-10	0.5			- Internet and the	can wan asniey uploay te wiPP tee application and temphonly te indemnity update to JRP mainin	·····
Kelly-Anne Trenfield	Senior Managing Director	10-Dec-15	0.9	600.00	540.00	Administration		Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	10-Dec-15	0.2	600.00	120.00	Administration	Bellpac - review correspondence re MPD indemnity; prep re meeting	Category 2 - Current
Renee Lobb	Senior Director	10-Dec-15	0.1	510.00	51.00	Trade-On	Review email following up Mills Oakley payment, email to GOK regarding any further information needed for GC office to process.	Corporate - Liquidation
Benjamin Robson	Associate II	10-Dec-15	0.3	300.00	90.00	Trade-On	Review and approve various payment and receipt vouchers	Corporate - Liquidation
Senn O'Kearney	Senior Director	10-Dec-15	1	560.00	560.00	Creditors	Update master register for crt materials. Update Kelly regarding applications fund remuneration	Category 2 - Current
Benjamin Robson	Consultant I	10-Dec-15	0.30	300	90.00	Trade-On	Review and approve various payment and receipt vouchers	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	11-Dec-15	0.6	600.00	360.00	Administration	Review letter from russell to SPB re remuneration application	Category 2 - Current
Glenn O'Keamey	Senior Director	11-Dec-15	0.2	560.00	112.00	Trade-On	Discussions with KAT regarding rem claim fund work etc	Category 2 - Current
······		11-Dec-15	3	600.00	1,800,00	Administration	Composing emain to Steven Maner regaraing detence for ICA allegations or misconduct etc. Seno through the ABS highcourt matter as well. Make changes and include source documents for him to consider as well	Written Off/Not claimed
Sinette Muller	Managing Director						Call with Chris Erfurt and email to GOK and BJR regarding account details required for Liedekerke monies. Review and summarise for Kelly-Anne Trenfield insurance scheme memo. Try to arrange meeting offre pre Christmas for discussion on go forward plan for insurance scheme.	Corporate - Liquidation
Renee Lobb	Senior Director	14-Dec-15	0.8	510.00	408.00		review emails in re members claims as put forward by Holman Webb; review email in re insuférs	Category 2 - Current
elly-Anne Trenfield	Senlor Managing Director	14-Dec-15	0.6	600.00	360.00	Administration		Category 2 - Current
elly-Anne Trenfield	Senior Managing Director	14-Dec-15	0.1	600.00	60.00		emails in; review details re PKF invoice re accounting preparation	
elly-Anne Trenfield	Senior Managing Director	14-Dec-15	0.1	600.00	- 60.00		Review incoming documentation, consider and send to filingm	Category 2 - Current
elly-Anne Trentield	Senior Managing Director	14-Dec-15	0.1	600.00	60.00	Assets	Review summary re clayton utz corro	Corporate - Liquidation

LM Investment M	anagement Ltd (In Liqui 20 June 2018	dation)			3.204.515.29			
Remuneration to Name	So June 2018 Title	Date	Hours	Charge Out Rate	5,204,515.29 Charge	Task Desc	Narrative	Classification
Benjamin Robson	Associate II	14-Dec-15	0.2	300.00	60.00	Trade-On	Provide bank details to C Erfurt for remittance	Corporate - Liquidation
Benjamin Robson	Consultant I	14-Dec-15	0.10	300	30.00	Trade-On	Review and apportion of Clayton Utz invoice 3887238	Corporate - Liquidation
Beniamin Robson	Consultant I	14-Dec-15	0.20	300	60.00	Trade-On	Prepare invoice to be issued to KM for MPF portion of Invoice 3887238	Corporate - Liquidatior
Renee Lobb	Senior Director	15-Dec-15	0.1	510.00	51.00	Administration	Arranging meeting with Clayton Utz.	Corporate - Liquidation
Renee Lobb	Senior Director	15-Dec-15	0.1	510.00	51.00	Administration	Filing all sent emails.	Category 2 - Current
Renee Lobb	Senior Director	15-Dec-15	0.3	510.00	153.00	Trade-On	Responding to investor queries on multiple funds.	Category 2 - Current
Gienn O'Kearney	Senior Director	15-Dec-15	0.1	560.00	56.00	Creditors	Review mpf involce insurance split	Category 2 - Current
Glenn O'Keamey	Senior Director	15-Dec-15	3	560.00	1,680.00	Trade-On	Review dram applications regarding remuneration and expenses car 1 and car 2 remuneration or funds, time from this task allocated across funds.	Category 2 - Current
Glenn O'Keamey	Senior Director	15-Dec-15	0.1	560.00	56.00	Creditors	Call from PKF regarding outstanding bill LM. arrange pay.	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	15-Dec-15	0.2	600.00	120.00	Administration	Email from holman webb re investor group; draft responseemails in re update	Category 2 - Current
Benjamin Robson	Consultant I	15-Dec-15	0.20	300	60.00	Trade-On	Issue to Clayton Utz MPF portion of invoice 3887238	Corporate - Liquidation
							Correspondence with Russells regarding application, review sign of on operation cost reinfoursemen receipts LM account, review updated LMIM Fund ARITA tables with OOPS.	Category 2 - Current
Glenn O'Kearney	Senior Director	16-Dec-15	0.5	560.00	280.00		Review correspondence regarding cred claims LM/MPF, consider and draft reply.	Corporate - Liquidation
Glenn O'Keamey	Senior Director	16-Dec-15	0.2	560.00	112.00	Creditors		Corporate - Elquidation
Brittany Newman	Administration 1	16-Dec-15	0.2	135.00	27.00	Administration	Call to ATO following up escalation request relating to outstanding BAS refund + update 8974fn66	Corporate - Liquidation
Brittany Newman	Administration 1	16-Dec-15	0.1	135.00	13.50	Administration	Mail in from MYOB - Final Notice re AccountRight Membership Renewal	Category 2 - Current
Christine Stead	Senior Director	16-Dec-15	0.2	560.00	112.00	Administration	review email from Stephanie and respond; issue instructions to Patrick Ma	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	16-Dec-15	0.1	600.00	60.00	Administration	Email from and response to simon lister	Category 2 - Current
Benjamin Robson	Associate II	16-Dec-15	0.3	300.00	90.00	Creditors	Payment of PKF invoices for ITR preparation	Category 2 - Current
Benjamin Robson	Associate II	16-Dec-15	0.2	300.00	60.00	Trade-On	LM In - submit receipt vouchers for op costs	Category 2 - Current
Caroline Halcoop	Administration 2	17-Dec-15	0.2	175.00	35.00	Administration	PV & commbiz trf - PKF Gold Coast - \$2249.50 - scan to BJR to checking & approval	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	17-Dec-15	1	600.00	600.00	Assets	Meeting with Mark Waller and Chris Erfurt re status of insurance scheme	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	17-Dec-15	0.1	600.00	60.00	Assets	Call in from Mark Waller re correspondence from MPF trustes re insurance scheme Meeting at clayton cut to discuss ongoing insurance matters, progressing the scheme, issues with	Corporate - Liquidation
Renee Lobb	Senior Director	17-Dec-15	1.2	510.00	612.00	Investigations	directors, KPG/Lifestyle, AIF settlement etc.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	18-Dec-15	0.1	560.00	56.00	Assets	Review and approve receipt voucher - gst.	Corporate - Liquidation
Brittany Newman	Administration 1	18-Dec-15	0.1	135.00	13.50	Administration	Mail in from ATO - BAS (1 Oct - 31 Dec 2015) DOC ID 33 265 448 716	Corporate - Liquidation
Brittany Newman	Administration 1	18-Dec-15	0.1	135.00	13.50	Administration	Prepare receipt voucher in MYOB - BAS Refund (1 Jul - 30 Sep 2015) 18/12/2015	Corporate - Liquidation
Brittany Newman	Administration 1	18-Dec-15	0.2	135.00	27.00	Administration	Filing	Corporate - Liquidation
Caroline Halcoop	Administration 2	18-Dec-15	0.1	175.00	17.50	Administration	RVKIO - ATO - \$10471.66 - BN	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	18-Dec-15	0.1	600.00	60.00	Administration	Email in from russells re status of rnpf movementsim	Category 2 - Current
Renee Lobb	Senior Director	18-Dec-15	0.1	510.00	51.00	Investigations	Review KM correspondence regarding reneging from insurance scheme.	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	21-Dec-15	1.3	600.00	780.00	Creditors	Teleconterence with Sinforh Lister of ACI group re status of funds; including preparation time and providing update to JRP	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	21-Dec-15	0.2	600.00	120.00	Administration		Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	21-Dec-15	0.1	600.00	60.00	Administration	review mail in from Ruissells re update on MPF matters and timetable	Category 2 - Current
Caroline Halcoop	Administration 2	21-Dec-15	0.2	175.00	35.00	Administration	PV & Commbiz trf - Surety IT - \$550.00 - BJR	Category 2 - Current
Glenn O'Kearney	Senior Director	21-Dec-15	0.2	560.00	112.00	Creditors	Correspondence from ruseels regarding legal costs issues/	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	22-Dec-15	0.3	600.00	180.00	Administration	Mail in re lifestyle and KPG matersmall in from simon lister re response to insurance quenesemalls in from clayton utz re correspondence with minters in insurance scheme	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	22-Dec-15	0.2	600.00	120.00	Creditors	mail in from simon lister re queries on funds	Category 2 - Current

LM Investment Ma Remuneration to 3	nagement Ltd (In Liqui 0 June 2018	dation)			3,204,515.29			
Name.	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Kelly-Anne Trenfield	Senior Managing Director	22-Dec-15	0.1	600.00	60.00	Administration	emails in re legal costs; review quantum and details; forward to JRP	Category 2 - Current
Renee Lobb	Senior Director	22-Dec-15	0.2	510.00	102.00	Trade-On	Respond to funding query on insurance matters to GOK.	Corporate - Liquidation
Brittany Newman	Administration 1	23-Dec-15	0.2	135.00	27.00	Administration	Filing	Corporate - Liquidation
Benjamin Robson	Associate II	23-Dec-15	0.3	300.00	90.00	Trade-On	Approve and send off signed LM Payment vouchers	Category 2 - Current
Benjamin Robson	Associate II	23-Dec-15	0.3	300.00	90.00	Trade-On	Review and apportion Russells invoice B23935	Category 2 - Current
							GON To report timing; emain to Simon inster acknowledging emainteview and approve payment of outstanding administration liabilities including review of supporting documentation and signing of	
Kelly-Anne Trenfield	Senior Managing Director	23-Dec-15	0.2	600.00	120.00	Administration	transfer or cheque	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	23-Dec-15	0.1	600.00	60.00	Administration	Review email in from Clyaton Utz re submissions lodged in beigian claim	Corporate - Liquidation
Glenn O'Keamey	Senior Director	23-Dec-15	0.2	560.00	112.00	Creditors	Review of various legals etc discuss allocations BJR	Category 2 - Current
Renee Lobb	Senior Director	24-Dec-15	0.1	510.00	51.00	Investigations	Review funding confirmation for further submissions of Belgian claim. save to email folder.	Corporate - Liquidation
	Benior Biredia	21 200 10		-			Review BAS return schedule for all periods; update schedule of outstanding returns/retunds and	Company's Linuidation
Kelly-Anne Trenfield	Senior Managing Director	05-Jan-16	0.1	625.00	62.50	Administration	reconcile	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	05-Jan-16	0.1	625.00	62.50	Administration	Review incoming documentation, consider and send to filing	Corporate - Liquidation
Benjamin Robson	Associate II	05-Jan-16	0.5	305.00	. 152.50	Trade-On	Obtain and format for review December Qtr 2015 WIP and OOPs data.	Category 2 - Current
Benjamin Robson	Associate II	05-Jan-16	0.6	305.00	183.00	Trade-On	Reconciliation of LMIM Corporate payments made over November/December 2015	Corporate - Liquidation
Ginette Muller	Managing Director	05-Jan-16	0.5	600.00	300.00	Administration	Review matter and note that it is on my list for reporting.	Written Off/Not claimed
Benjamin Robson	Consultant I	05-Jan-16	0.50	305	152.50	Trade-On	Obtain and format for review December Qtr 2015 WIP and OOPs data.	Category 2 - Current
John Park	Senior Managing Director	06-Jan-16	0.1	625.00	62.50	Administration	Email in Minter Ellison RE PTAL;	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	06-Jan-16	0.1	625.00	62.50	Administration	Review incoming documentation, consider and send to filing	Category 2 - Current
Glenn O'Kearney	Senior Director	06-Jan-16	0.1	565.00	56.50	Trade-On	Review invoice funds costs .note BJR Regarding payment .	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	07-Jan-16	0.3	625.00	187.50	Assets	emails in from Minter Elfison re PTAL involvement and request for teleconferencecall from PTAL	Category 2 - Current
Renee Lobb	Senior Director	07-Jan-16	0.2	510.00	102.00	Trade-On	Review email from arcadia group, request additional information to be able to respond on mortgage release and PPSR issue.	Category 2 - Current
Benjamin Robson	Associate II	07-Jan-16	0.2	305.00	61.00	Trade-On	Perusal emails across LM file - Corp matters. Response and forward on of appropriate emails	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	08-Jan-16	0.4	625.00	250.00	Administration	Review and the electronic docsemans in; information/iningReview incoming documentation, consider and send to filing	Category 2 - Current
Ginette Muller	Managing Director	08-Jan-16	1.5	600.00	900.00	Administration	Prepare email to Steven Muller regarding next steps in the Institute proceedings.	Written Off/Not claimed
Glenn O'Keamey	Senior Director	11-Jan-16	0.1	565.00	56.50	Trade-On	Review fund operations involce. note Ben Robson regarding payment	Calegory 2 - Current
Renee Lobb	Seniar Director	11-Jan-16	0.2	510.00	102.00	Investigations	Review update on Belgian matter from Clayton Utz. Review and save to public tolder subsequent further update on this matter also.	Corporate - Liquidation
Renee Lobb	Senior Director	11-Jan-16	0.2	510.00	102.00	Investigations	Review query on mongage for PTAL and Arcadia Group. Request GOR's assistance in responding and locating relevant asset.	Category 2 - Current
Benjamin Robson	Associate II	11-Jan-16	0.2	305.00	61.00	Trade-On	Payment cloud plus Invoice	Category 2 - Current
Benjamin Robson	Associate II	11-Jan-16	0.2	305.00	61.00	Trade-On	Payment Steve Hannan Invoice	Category 2 - Current
	Associate II	11-Jan-16	0.2	305.00	61.00		Payment of Grace records invoice	Category 2 - Current
Benjamin Robson		11-Jan-16	0.2	305.00	61.00	Administration	File reviews	Corporate - Liquidation
Benjamin Robson	Associate II	11-Jan-16	0.2	305.00	91.50	Administration	File reviews	Corporate - Liquidation
Benjamin Robson	Associate II		0.3	565.00	56.50	Administration	Review update from Stephanie at Russells re review of records by Law in Order	Category 2 - Current
Christine Stead	Senior Director	11-Jan-16 12-Jan-16	0.1	565.00	56.50	Trade-On	Review and approve general fund related payment.	Category 2 - Current
Glenn O'Kearney	Senior Director		0.1	565.00	282.50	Creditors	Review email correspondence Simon Lister regarding general RE rund queries, prepare proposed reply KAT consideration.	Category 2 - Current
Glenn O'Kearney	Senior Director	12-Jan-16		510.00			Review funding payment draft response letter to moray and Agnew. confirm with Clayton Utz that the cheque should be able to be indorsed to the correct entity and approve draft letter response.	Corporate - Liquidation
	Senior Director	12-Jan-16	0.2		61.00		Review and confirm dec gtr numbers correct	Corporate - Liquidation
Benjamin Robson	Associate II	12-Jan-16	0.2	305.00	01.00		Phone Call from MYOB regarding renewal of subscription emailed to RFZ, review email in from	
Christine Stead	Senior Director	12-Jan-16	0.2	565.00	113.00	Administration	MYOB and forward email and summary of phone call to GOK/BJR	Corporate - Liquidation

 $\widehat{}$

Remuneration to	anagement Ltd (In Liqui 30 June 2018				3,204,515.29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
tenee Lobb	Director	12-Jan-16	0.20	510	102.00	Trade-On	Look up investor to establish fund. respond to emails and on forward to km one received in mail	. Corporate - Liquidati
lenn O'Keamey	Senior Director	13-Jan-16	2	565.00	1,130.00	Administration	Discussion KAT regarding preparation FEE summary. preparation of fee summary per request.	Category 2 - Current
krittany Newman	Administration 1	13-Jan-16	0.2	145.00	29.00	Administration	Prepare unbilled WIP & OOPs report for GOK	Category 2 - Current
fanya Kratz	Administration 2	13-Jan-16	0.1	145.00	14.50	Administration	Copy contents of disc to file as requested.	Corporate - Liquidatio
Caroline Halcoop	Administration 2	13-Jan-16	0.3	180.00	54.00	Administration	PV & CBA trf x 3 - Various requested by BJR; print invoices; scan and email for checking & approval	Category 2 - Current
Benjamin Robson	Associate II	13-Jan-16	0.2	305.00	61.00	Trade-On	Issue NAV's to KAT	Category 2 - Current
Benjamin Robson	Associate II	13-Jan-16	0.2	305.00	61.00	Trade-On	Review and submit various payment vouchers	Category 2 - Current
	Outline Director	42 Jan 18	0.2	565.00	113.00	Administration	Review letter from Russells and ASIC; email KAT to confirm review to be undertaken by Liquidators and instruct TK to load CD contents into H:/	Category 2 - Current
Christine Stead	Senior Director	13-Jan-16		565.00	56.50	1	respond to email from Stephanie	Category 2 - Current
Christine Stead	Senior Director	13-Jan-16	0.1	145		Administration		Category 2 - Current
Brittany Newman	Administration I	13-Jan-16	0.20	145	29.00	Administration		
Slenn O'Kearney	Senior Director	14-Jan-16	0.2	565.00	113.00	Trade-On	Review order regarding timing/servicing fee applications on fund etc. update note in from Kelly/ash.	Category 2 - Current
Зіелл O'Keamey	Senior Director	14-Jan-16	0.5	565.00	282.50	Creditors	Review unbilled cops reports and update LM WIP summary per KAT request, issue, Review of Dec Qtr WIP data and allocations, update master register, prepare FUM allocations across	Corporate - Liquidatio
Stenn O'Kearney	Senior Director	14-Jan-16	2.5	565.00	1.412.50	Creditors	Index of the car fine data and anotations, update mester register, propore from anotations databat funds.	Category 2 - Current
asenin o Realitey	OBINO DIGGO		2.0		.,	1	Respond to email with my comments on insurance notifications from advisor committee	
Renee Lobb	Senior Director	14-Jan-16	0.3	510.00	153.00	Trade-On	correspondence, audit relief reasoning etc. respond in ernail to GOK.	Category 2 - Current
							Call with GOK following call with clayton Utz regarding insurance matters and outstanding invoices.	
							discuss with GOK fee application and member and creditor distribution of documents for same, speak	Corporate - Liquidation
Renee Lobb	Senior Director	14-Jan-16	0.5	510.00	255.00	Investigations	with Jarrod Villani regarding response to funding and insurance scheme pre Christmas letter. review to outstanding rees and recovery paths re indemnityReview and approve payment or	Corporate - Erquiciation
		14-Jan-16	0.7	625.00	497 60	Administration	outstanding administration liabilities including review of supporting documentation and signing of transfer or cheque	Category 2 - Current
Keliy-Anne Trenfield	Senior Managing Director	14-Jali- 10	0.7	025.00	401.00	Administration	cairibim sean russen and discuss amendmenis/commens/ ann ree application discuss tuliu	
		1 [notification requirements/notices to members etc. note to sean regarding materials to annex. review KAT amendments to Dec qtr wip allocations finalize allocations and master sheet. updates to Renee	
	DI Diata-	15-Jan-16	1.5	565.00	847.50	Trade-On	regarding service/drafts to KAT/RCL.	Category 2 - Current
enn O'Keamey	Senior Director	15-Jan-16	0.2	180.00	+ • • • • •	Creditors	Prepared Final Report x2, PDF, insert signature and save to file; emailed to KAT for distribution;	Corporate - Liquidation
Carly Drew	Administration 2	15-Jan-16	0.2	625.00	187.50	Administration	finalise email to Simon Lister and investor group	Category 2 - Current
elly-Anne Trenfield	Senior Managing Director	15-Jan-16	0.3	020.00	107.00			
Christine Stead	Senior Director	15-Jan-16	0.7	565.00	395.50	Administration	Review ASIC schedule of documents and note any documents subject to a claim of legal privilege Review cheque and supporting documentation and contimin via email to kelly-anne trentierd that	Category 2 - Current
enee Lobb	Senior Director	18-Jan-16	0.2	510.00	102.00	Investigations	cheque can be endorsed, give to Caroline Halcoop.	Category 2 - Current
enee Lobb	Senior Director	18-Jan-16	0.1	510.00	51.00	Investigations	Instructions to Caroline Halcoop regarding banking of cheques, send to GOK FYI.	Category 2 - Current
	Senior Director	18-Jan-16	0.1	510.00	51.00	Trade-On	Return call from Amanda at bridges. leave message.	Category 2 - Current
enee Lobb	Senior Director	19-Jan-16	0.1	510.00	102.00	Investigations	Send ACI list to Clayton Utz for forwarding to the insurer.	Corporate - Liquidation
enee Lobb	Administration 1	20-Jan-16	0.2	145.00	43.50	Administration	Enter missing transaction for December 2016 in MYOB + reconcile accounts as at 31/12/2015	Category 2 - Current
rittany Newman		20-040-10	0.0	145.00	40.00			
rittany Newman	Administration 1	20-Jan-16	0.1	145.00	14.50	Administration	Mail in from Hickey Lawyers (Hand Delivered) - Statament of Outsanding Account as at 4/01/2016 Call with Sean Rusel. Send rates notices and obtain registry data from all sources with view to	Corporate - Liquidation
enee Lobb	Senior Director	21-Jan-16	0.1	510.00	51.00	Investigations	sending out notice required by court.	Category 2 - Current
ittany Newman	Administration 1	22-Jan-16	0.2	145.00		Administration	Filing + split files	Corporate - Liquidation
njamin Robson	Associate II	22-Jan-16	0.3	305.00		Trade-On	Follow up with HWL Ebsworth on cheque for production of records	Corporate - Liquidation
anjamin Robson	Associate II	22-Jan-16	0.3	305.00	91,50		Call from Insurance credit management - Thomas, regarding employee super.	Category 2 - Current
enn O'Keamey	Senior Director	22-Jan-16	0.5	565.00			Review of affidavit draft - claimcorrespondence JRP/KAT .	Category 2 - Current
njamin Robson	Consultant I	22-Jan-16	0.30	305			Prepare acc receivable involce for MPF portion of involce 3891981	Category 2 - Current
ristine Stead	Senior Director	22-Jan-16	0.00	565.00			privilege document review and email to KAT for review	Category 2 - Current

 $\widehat{}$

LM Investment Ma Remuneration to 3					3,204,515.29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Christine Stead	Senior Director	25-Jan-16	0.2	565.00	113.00	Administration	Issue LM email to Steph	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	25-Jan-16	0.5	625.00	312.50	Administration	Review asic doc list re privilege review	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	25-Jan-16	0.3	625.00	187.50	Creditors	Review email in from simon lister and draft response	Category 2 - Current
Brittany Newman	Administration 1	27-Jan-16	0.6	145.00	87.00	Administration	Filing	Corporate - Liquidation
Renee Lobb	Senior Director	27-Jan-16	0.1	510.00	51.00	Investigations	Update GOK on notice to members and progress whilst he was on leave.	Category 2 - Current
Glenn O'Kearney	Senior Director	27-Jan-16	0.1	565.00	. 56.50	Creditors	Review cho regarding insurance monies, note BJR	Corporate - Liquidation
Glenn O'Kearney	Senior Director	27-Jan-16	1,	565.00	565.00	Trade-On	Call form Sean regarding required documents for affidavit material - fund fee application. Review server records fro creditors meeting minutes and custody deeds for fee affidavit.	Category 2 - Current
Glenn O'Kearney	Seniar Director	28-Jan-16	0.2	565.00	113.00	Administration	Meet with BJR and discuss file status and update audits tax work funds.	Category 2 - Current
Glenn O'Kearney	Senior Director	28-Jan-16	1.5	565.00	647.50	Creditors	Liaise RLoob/russells regarding antidavit fund tee claim and service of docs, review finalized antidavit and annexure's etc. exporting creditors lists for circulars etc	Category 2 - Current
Benjamin Robson	Associate II	28-Jan-16	0.3	305.00	91.50	Creditors	Payment to Cloud plus for IT hosting, update registers	Category 2 - Current
Benjamin Robson	Associate II	28-Jan-16	0.8	305.00	244.00	Trade-On	Receipting funds into account from pre appointment insurance and setting up payments to Crayton Utz and Leidekerke as per instruction	Corporate - Liquidation
Renee Lobb	Senior Director	28-Jan-16	0.1	510.00	51.00	Trade-On	Review update from Russells on Bellpac disclosure.	Category 2 - Current
Brittany Newman	Administration 1	29-Jan-16	0.1	145.00	14.50	Administration	Filing	Corporate - Liquidation
Ashleigh Ubank	Administration 2	29-Jan-16	4.7	160.00	846.00	Administration	Notice to Members prepared for send out and issued to members of each separate fund.	Category 2 - Current
Benjamin Robson	Associate II	29-Jan-16	0.2	305.00	61.00	Trade-On	Submission various payments in MYOB	Category 2 - Current
Renee Lobb	Senior Director	29-Jan-16	0.8	510.00	408.00	Trade-On	creditors and investors regarding our remuneration application.Upload legal documents to LM Investment Management Ltd website and confirm with Russells tasks complete except mail out of CPAIF circular. Responding to investor emails on same.	Corporate - Liquidation
				C10.00	450.00	Turda On	Call back Chris Entit. discuss outstanding invoices and alleged successful claim last year for \$2mil. discuss minters and KM progress also.	Corporate - Liquidation
Renee Lobb	Senior Director	29-Jan-16	0.3	510.00	153.00	Trade-On	Review sign on on tund payment/() Etc call from Armstrong registry regarding registry services.	Corporate - Exquidation
Glenn O'Keamey	Senior Director	29-Jan-16	0.5	565.00	282.50	Trade-On	discussions with Shannan regarding registry issues, update KAT regarding same.	Category 2 - Current
Glenn O'Kearney	Senior Director	29-Jan-16	0.5	565.00	282.50	Trade-On	Discussions Renee regarding service of M fund tee application documents on site/members/creditors, review same.	Category 2 - Current
Glenn O'Keamey	Senior Director	29-Jan-16	0.2	565.00	113.00	Creditors	Review and sign off on receipt of insurance monies receipt, and associated payment of legal matters. discussions with BJR regarding same.	Corporate - Liquidation
Glenn O'Keamey	Senior Director	29-Jan-16	1	565.00	565.00	Creditors	Prepare updates summary of LM unbilled fee/disb to 31 December for KAT.	Category 2 - Current
Beniamin Robson	Consultant i	29-Jan-16	0.20	305	61.00	Trade-On	Issue novice 3891981 to Clayton Utz - MPF Portion	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	31-Jan-16	0.1	625.00	62.50	Administration	Email in from russells re asic proceedings; draft response re no need for appearance!	Category 2 - Current
Renee Lobb	Senior Director	01-Feb-16	0.2	510.00	102.00	Trade-On	Respond to creditor query, set out payment order per s556.	Corporate - Liquidation
Benjamin Robson	Associate II	01-Feb-16	0.2	305.00	61.00	Trade-On	Investor query - Robert Andrew pape	Category 2 - Current
lenjamin Robson	Associate II	01-Feb-16	0.5	305.00	152.50	Trade-On	Commerzbank Singapore AG - audit request, provide holdings list and respond to Audit request Information	Category 2 - Current
shleigh Ubank	Administration 2	01-Feb-16	0.4	180.00	72.00	Administration	Notice or members and notice to creditors for LM tunds collated for filling. Mailing details recorded and forwarded to mail for entry into the register.	Category 2 - Current
Celly-Anne Trenfield	Senior Managing Director	01-Feb-16	0.1	625.00	62.50	Administration	Review emails in re bellpac litigation including update to Clayton utz	Corporate - Liquidation
· · · · ·				400.00			3 X PV & TH - GoddPrus - \$760 1.20; Claytono 12 - \$70462.10 & International of Ledekerke workers - \$35416.37 (AU) Eur 21,720.86; scan & email to BJR for checking & approval; (check prior International payment to confirm a/c payment details)	Category 2 - Current
aroline Halcoop	Administration 2	01-Feb-16	0.4	180.00		Administration	Scan and email correspondence to GOK as requested.	Corporate - Liquidation
anya Kratz	Administration 2	01-Feb-16	0.1	145.00	14.50		Scanned and emailed documentation to SWilliamson at Russells;	Category 2 - Current
arly Drew	Administration 2	01-Feb-16	0.1	180.00	18.00	Administration	Email to JRP regarding progress and possible next steps	Written Off/Not claimed
	Managing Director	01-Feb-16	0.5	600.00		Administration		Corporate - Liquidation
enjarnin Robson	Associate II	02-Feb-16	0.3	305.00	91.50		Finalise and request release of LM Corp payments	Corporate - Liquidation
enjamin Robson	Associate II	02-Feb-16	0.2	305.00	61.00		Receipt chq form HWL Ebsorth for subpoena monies	
ittany Newman	Administration 1	02-Feb-16	0.2	145.00	29.00	Administration	Continue to prepare BAS (1 Oct - 31 Dec 2015) DOC ID 32 682 133 677	Corporate - Liquidation

 \cap

	anagement Ltd (In Liqui	dation)						
Remuneration to Name	30 June 2018 Title	Date	Hours	Charge Out Rate	3,204,515.29 Charge	Task Desc	Narrative	Classification
Caroline Haicoop	Administration 2	02-Feb-16	0.4	180.00	72.00	Administration	Redo international payment for LMIM; scan & email to BJR	Category 2 - Current
Caroline Halcoop	Administration 2	02-Feb-16	0.1	180.00	16.00	Administration	Amend voucher to reflect the exchange rate for AU to Euro	Category 2 - Current
Tanya Kratz	Administration 2	02-Feb-16	0.1	145.00	14.50	Administration	Scan and email correspondence to GOK as requested.	Corporate - Liquidation
Glenn O'Keamey	Senior Director	02-Feb-16	0.3	565.00	169.50	Trade-On	Review correspondence BJR update on taxation and audit matters across funds.	Category 2 - Current
Glenn O'Kearney	Senior Director	02-Feb-16	0.2	565.00	113.00	Creditors	Call from SV partners/ regarding update on admin. issue AGM reports.	Corporate - Liquidation
Benjamin Robson	Consultant I	02-Feb-16	0.20	305	61.00	Trade-On	Receipt funds in form MPF Regarding Clayton Utz invoices	Category 2 - Current
Benjamin Robson	Associate II	03-Feb-16	0.2	305.00	61.00	Trade-On	Leidekerke invoice review and approval	Corporate - Liquidation
Benjamin Robson	Associate II	03-Feb-16	0.2	305.00	61.00	Trade-On	Investor enquiry - unknown fund	Category 2 - Current
Benjamin Robson	Associate II	03-Feb-16	0.3	305.00	91.50	Trade-On	Armstrong registry - closure enquiries	Category 2 - Current
Caroline Halcoop	Administration 2	03-Feb-16	0.4	180.00	72.00	Administration	Set up international payment again; scan docs to BJR for checking & approval	Category 2 - Current
Renee Lobb	Senior Director	03-Feb-16	0.2	510.00	102.00	Investigations	Respond to BJR regarding hardship applications and website development.	Category 2 - Current
		1 1				1	Review legal involces russells across lunds, note to Kelly regarding allocations, note to russells	Calegory 2 Current
Glenn O'Keamey	Senior Director	03-Feb-16	0.5	565.00	282.50	Trade-On	regarding same. update BJR regarding registry services etc.	Category 2 - Current
							Respond to a considerably lengthy email from ACI and other members regarding the remuneration	
							application and circular to feeder funds dated 15/01/16. Call with GOK to discuss response, discuss sending out of circulars to investors for remuneration application and fix website link not working.	Category 2 - Current
Renee Lobb	Senior Director	04-Feb-16	1.2	510.00	612.00	Trade-On	Tuoing out of circulars to investors for remaineration application and the wester interference in the working.	
Renee Lobb	Senior Director	04-Feb-16	0.8	510.00	408.00	Trade-On	GOK on same and send commission direction documents for his records.	Category 2 - Current
						······································	Note Ash regarding FUM splitting legal invoices, note SH regarding FUM 31 dec. discuss with BJR.	Category 2 - Current
Glenn O'Keamey	Senior Director	04-Feb-16	0.2	565.00	113.00	Creditors	reply in SH. reeview renging investor enquiry regarging Fund tee application report and prepare response	Category 2 - Currens
Glenn O'Keamey	Senior Director	04-Feb-16	0.6	565.00	339.00	Creditors	regarding fee application, note to Renee to clarify advisors rebating investors.	Category 2 - Current
Glenn O'Keamey	Senior Director	04-Feb-16	1.5	565.00	847.50	Investigations	Review accounts/MYOB a/registers etc and update SOP to 31/1/16	Corporate - Liquidation
Gienni O Reamby		04-100-101					Emain from Peter Kell regarding CPAIF and ICPAIF. Note that he is reterning to recent distributions on	Onland I. Oursel
Ginette Muller	Managing Director	04-Feb-16	3	600.00	1,800.00	Administration	same. Check questions and refer to report.	Category 2 - Current Category 2 - Current
Ginette Muller	Managing Director	04-Feb-16	0.5	600.00	300.00	Administration	Email changes from GOK re RCL's draft report. Investor enquiry Simon Pacey - multiple information requests and referral to KM once	Category 2 - Current
				205	01 50	Tracia On	investor enquiry small racey - multiple information requests and referral to kin site	Corporate - Liquidation
Benjamin Robson	Consultant I	04-Feb-16	0.30	305	91.50	Trade-On	Enter missing transactions for January 2015 + reconcile accounts as at 31/01/2016 + prepare Form	, <u>, , , , , , , , , , , , , , , , , , </u>
Brittany Newman	Administration 1	05-Feb-16	0.8	145.00	116.00	Administration	524 for period 01/08/2015 to 31/01/2016	Corporate - Liquidation
	· · · · ·				44.50		Mail our to ATO - BAS (1 Ocr - 31 Dec 2015) DOC ID 32 582 133 677, enter loagement détails in MYOB + update GC BAS Spreadsheet	Corporate - Liquidation
Britlany Newman	Administration 1	05-Feb-16	0.1	145.00		Administration	Review and sign off various payment requests fund op costs .	Corporate - Liquidation
Glenn O'Kearney	Senior Director	05-Feb-16	0.2	565.00		Trade-On	Review and sign off clayton utz insurance bills, discussion with BJR regarding status of same.	Category 2 - Current
Glenn O'Keamey	Senior Director	05-Feb-16	0.2	565.00	113.00	Creditors	Review and sign of on BAS and workpapers	Corporate - Liquidation
Glenn O'Kearney	Senior Director	05-Feb-16	0.2	565.00	113.00	Administration	Review email to investor group;	Category 2 - Current
John Park	Senior Managing Director	05-Feb-16	0.1	625.00	62.50	Creditors	Review email to investor group, Review incoming documentation, consider and send to filing	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	07-Feb-16	0.1	625.00	62,50	Administration		
Caroline Halcoop	Administration 2	08-Feb-16	0.1	180.00	18.00	Administration	Release 2 x Commbiz payments - Cloud Plus & Clayton Utz - LMIM - email to KAT & BJR to advise	Category 2 - Current
Benjamin Robson	Associate II	08-Feb-16	0.3	305.00	91.50	Trade-On	Review and submission of various payment vouchers	Category 2 - Current
Senjamin Robson							Send detailed response to Peter Kells. General response to additional adviser, point to circulars on	Category 2 - Current
Renee Lobb	Senior Director	08-Feb-16	0.3	510.00	153.00	Trade-On	website for distribution estimates. Emain in mom russells re claim against mir re naw in order review; dran response to CMSReview and	calogory 2 cantain
							approve payment of outstanding administration liabilities including review of supporting	
(elly-Anne Trenfield	Senior Managing Director	08-Feb-16	0.2	625.00	125.00	Administration	documentation and signing of transfer or cheque	Category 2 - Current
Keliy-Anne Trenfield	Senior Managing Director	08-Feb-16	0.1	625.00	62.50	Administration	Email from and response to clayton uts	Corporate - Liquidation
Christine Stead	Senior Director	08-Feb-16	0.5	565.00	282.50	Administration	prepare draft of costs incurred on Law in Order matters	Category 2 - Current
lenn O'Keamey	Senior Director	08-Feb-16	0.1	565.00	56.50	Trade-On	Review FUM data and note BJR regarding allocations	Category 2 - Current
Benjamin Robson	Associate II	09-Feb-16	0.2	305.00	61.00	Trade-On	Arrange Conference call with Trent Franklin	Category 2 - Current

LM Investment Ma	anagement Ltd (In Liqui	dation)						
Remuneration to 3	30 June 2018				3,204,515.29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Benjamin Robson	Associate II	09-Feb-16	0.3	. 305.00	91.50	Trade-On	Deal with Enquiries from Robert Adams Pape	Category 2 - Current
Benjamin Robson	Associate II	09-Feb-16	0.2	305.00	61.00	Trade-On	Approval of Payment vouchers	Category 2 - Current
Rence Lobb	Senior Director	09-Feb-16	1.7	510.00	867.00	Investigations	Go through all emails returned from creditors record those not sent and resend to either adviser emails or in the post as required. If also with AMU on postal circulars. Send to Sean Russell account of those received and returned and by what method. Send response emails to Russells.	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	09-Feb-16	D.1	625.00	62.50		emails in re remuneration approval and meeting with russells	Category 2 - Current
Glenn O'Kearney	Seniar Director	09-Feb-16	1	565.00	565.00	Trade-On	Review fund records in. discuss with BJR. review various responses to apprication fund remuneration allocations, review various investor requests for updates etc.	Category 2 - Current
	Series Director	00 Eab 16	0.5	565.00	282.50	Investigations	Review correspondence from clouts regarding queries LMIM records, note KA1, respond to clouts - discuss with BJR, prelim review of records correspondence with clouts.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	09-Feb-16	0.8	505.00	202.30	Investigations	Creditors addressed pulled from the internet and formatted for labels. Labels generated and report	<u> </u>
Ashleigh Ubank	Administration 2	10-Feb-16	3.2	180.00	576.00	Administration	prepared for send out.	Corporate - Liquidation
Brittany Newman	Administration 1	10-Feb-16	0.1	145.00	14.50	Administration	Update email address for creditor Employment & Study Abroad Ltd in MYOB	Corporate - Liquidation
Brittany Newman	Administration 1	10-Feb-16	0.1	145.00	14.50	Administration	Mail in from ASIC - Company Statement + Involce Statement	Category 2 - Current
Brittany Newman	Administration 1	10-Feb-16	0.2	145.00	29.00	Administration	Can you check the LM accounts for any non receipted deposits for BJR	Category 2 - Current
Benjamin Robson	Associate II	10-Feb-16	0.1	305.00	30.50	Trade-On	Investor anquiry - unknown -Ben Rippon	Category 2 - Current
Benjamin Robson	Associate II	10-Feb-16	0.4	305.00	122.00	Trade-On	LM Investor enquiry, Ben Rippon requesting unit prices across funds	Category 2 - Current
	0i Dit	40 Eab 48	0.1	565.00	56.50	Administration	review emain in refurmer interrogation by Law in Order and respond with instructions and query timing of costs claim	Category 2 - Current
Christine Stead	Senior Director	10-Feb-16 10-Feb-16	0.1	565.00	282.50	Trade-On	Call with Trent at PTAL regarding status of funds and removal of custodian.	Category 2 - Current
Glenn O'Kearney	Senior Director			565.00	56.50	Administration	Review annual statement -note BJR	Corporate - Liquidation
Glenn O'Kearney	Seniar Director	10-Feb-16 10-Feb-16	0.1 0.1	565.00	56,50	Creditors	Review and sign off surety it bills.	Category 2 - Current
Gienn O'Kearney	Senior Director	10-Feb-16	0.1	303.00	30,50	Cleditors		
Ashleigh Ubank	Administration 2	11-Feb-16	1.1	180.00	198.00	Administration	Report prepared for send out and issued to mail. All letters franked and international costs recorded.	Corporate - Liquidation
Brittany Newman	Administration 1	11-Feb-16	0.8	145.00	116.00	Administration	Filing	Corporate - Liquidation
Brittany Newman	Administration 1	11-Feb-16	0.3	145.00	43.50	Administration	Check LM files for any records relating to pre-appointment ATO position	Corporate - Liquidation
Benjamin Robson	Associate II	11-Feb-16	0.1	305.00	30.50	Trade-On	Follow up on LM to AIF transfer payment	Category 2 - Current
Benjamin Robson	Associate II	11-Feb-16	0.2	305.00	61.00	Trade-On	Investor query response - unknown fund - Adrian Trimboli	Category 2 - Current
Glenn O'Keamey	Senior Director	11-Feb-16	0.3	565.00	169.50	Investigations	Note Ben Robson regarding LMIM ato records. review records obtains. reply.	Corporate - Liquidation
Brittany Newman	Administration I	11-Feb-16	0.10	135	13.50	Administration	Filing	Category 2 - Current
Benjamin Robson	Associate II	12-Feb-16	0.3	305.00	91.50	Trade-On	Arrange meeting with WMS regarding Audit relief discussion	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	12-Feb-16	0.1	625.00	62.50	Administration	review CMS schedule re claim for fees against MIF re law in order review	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	12-Feb-16	0.3	625.00	187.50	Administration	Update meeting with russells re current legal mattes	Category 2 - Current
Glenn O'Keamey	Senior Director	12-Feb-16	0.1	565.00	56.50	Trade-On	Update in regarding audtirelelf BJR	Category 2 - Current
Fanya Kratz	Administration 2	15-Feb-16	0.3	145.00	43.50	Administration	Amend and format letter as requested. Amend and finalise letter as requested.	Corporate - Liquidation
Benjamin Robson	Associate II	15-Feb-16	0.3	305.00	91.50	Trade-On	Amendments to MYOB vouchers - liaise with CH to regarding-do 524 transactions	Corporate - Liquidation
							reeview and approve payment or outstanding administration fleorintes including review or supporting documentation and signing of transfer or chequeReview and update to do list; query outstanding	
Colles Anna Tranfield	Senior Managing Director	15-Feb-16	0.2	625.00	125.00	Administration	items	Category 2 - Current
Kelly-Anne Trenfield	Senior Director	15-Feb-16	0.2	565.00	282.50	Administration	Finalise email to Stephanie at Russells re Law in order costs	Category 2 - Current
Christine Stead	Associate I	15-Feb-16	0.3	180.00	54.00	Administration	Discuss filing code with Glen O'Kearney and MEK and Tyler	Corporate - Liquidation
Katie Routson	Associate I Consultant I	16-Feb-16	0.3	275.00	27.50	Administration	Inbound mail.	Corporate - Liquidation
lames Cook	Consultant J	16-Feb-16	1.3	180.00	27.50	Administration	Looking for pre-appointment documents related to ATO	Corporate - Liquidation
Varial Kwan			0.3	305.00	91.50		Submission of various LM Payments	Category 2 - Current
Benjamin Robson Blenn O'Kearnev	Associate II Senior Director	16-Feb-16 16-Feb-16	0.3	565.00	113.00		Correspondence with Katie regarding review im ato records, call from party regarding historical asset	Corporate - Liquidation
yter Sinclair	Junior Associate	16-Feb-16		180.00			Searching for files related to pre appointment ATO position	Corporate - Liquidation
	panior recoolde	10,00-10		100,00	100100			

	inagement Ltd (In Liquid	dation)						
Remuneration to 3 Name	0 June 2018 Title	Date	Hours	Charge Out Rate	3,204,515.29 Charge	Task Desc	Narrative	Classification
Tyler Sinclair	Junior Associate	16-Feb-16	1.5	180.00	270.00	Administration	Searching for files related to pre appointment ATO position	Corporate - Liquidatio
Katie Routson	Associate I	17-Feb-16	0.1	180.00	18.00	Administration	Email Glenn regarding file review	Corporate - Liquidatio
Marial Kwan	Consuliant I	17-Feb-16	1.2	180.00	216.00	Administration	Looked in file for pre-appt docs for GC team	Corporate - Liquidatio
Ashleigh Ubank	Administration 2	17-Feb-16	0.2	180.00	36.00	Administration	RTS. New addresses searched for. Results recorded in MYOB. Reports reissued.	Corporate - Liquidatio
Brittany Newman	Administration 1	17-Feb-16	0.2	145.00	29.00	Administration	Copy Books & Records from LM Server - Scanned ITR's & Tax Recs & Statements Info to USB	Corporate - Liquidatio
Brittany Newman	Administration 1	17-Feb-16	0.1	145.00	14.50	Administration	Mall out to John Kennedy, David Clout & Associates - USB containing LM B&R's	Corporate - Liquidatio
Brittany Newman	Administration 1	17-Feb-16	0.1	145.00	14.50	Administration	Filing	Corporate - Liquidatio
Glenn O'Keamey	Senior Director	17-Feb-16	1	565.00	565.00	Investigations	Opoate in regarding ato records, note to Kattle, review records identified on server, discuss copy BN and note to John Kennedy regarding sa,me.	Corporate - Liquidatio
Glenn O'Keamey	Senior Director	17-Feb-16	0.2	565.00	113.00	Trade-On	Review and sign off payment s- fund related	Category 2 - Current
,						1	Amend consultants register regarding Allocations or books and records legal matters/assessment	Category 2 - Current
Glenn O'Keamey	Senior Director	17-Feb-16	0.3	565.00	169.50	Creditors	costs to funds.	Category 2 - Current
Ginette Muller	Managing Director	17-Feb-16	1	600.00	600.00	Administration	steps	Written Off/Not claime
Brittany Newman	Administration I	17-Feb-16	0.10	135	13.50	Administration	Filing	Category 2 - Current
John Park	Senior Managing Director	18-Feb-16	0.1	625.00		Administration	Correspondence in regarding Belgian proceedings;	Corporate - Liquidation
Benjamin Robson	Associate II	18-Feb-16	0.3	305.00		Trade-On	Update Glenn O'Keamey regarding audits - Correspondence with Ryu	Category 2 - Current
						1	524 Preparation - extensive time required to ameno and retine multiple vouchers in NiTOB, Correspondence with Caroline and Lia regarding incorrect entries. Manual review of past R&P	
Benjamin Robson	Associate II	18-Feb-16	1.9	305.00	579.50	Trade-On	ledgers to identify discrepancies. Draft 524	Corporate - Liquidation
Glenn O'Kearney	Senior Director	18-Feb-16	0.1	565.00	56.50	Creditors	Review update in regarding Belgium matter .	Corporate - Liquidation
Ginette Muller	Managing Director	18-Feb-16	1	600.00	600.00	Administration	Perpetual Trustees resumption of land. Consider issues. Send to RCL.	Category 2 - Current
Brittany Newman	Administration 1	19-Feb-16	0.1	145.00	14.50	Administration	Prepare payment voucher in MYOB - ASIC Charges 30/01/2016	Category 2 - Current
Glenn O'Kearney	Senior Director	19-Feb-16	0.1	565.00	56.50	Administration	Review bank reconciliation and file status/TDL.	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	19-Feb-16	0.1	625.00	62.50	Administration	Review and approve payment or outstanding administration liabilities including review or supporting documentation and signing of transfer or cheque	Corporate - Liquidation
Keliy-Anne Trenfield	Senior Managing Director	19-Feb-16	0.2	625.00	125.00	Administration	Emails in re cost recoveryReview and update to do list; query outstanding items	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	19-Feb-16	0.1	625.00	62.50	Administration	Emails in re Belgian claims and dismissal	Corporate - Liquidation
Renee Lobb	Senior Director	21-Feb-16	0.1	510.00	51.00	Investigations	Respond to Clayton Utz advising no objection to Belgian proceeding document production.	Corporate - Liquidation
		21-Feb-16	0.2	625.00	125.00	Administration	Review emails in from simon lister; review rci draffed responsesreview payment instructions re outstanding costs; emails in re asic proceedings	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	21-1 00-10	0.2				Review and approve payment or outstanding administration liabilities including review of supporting	Catagori () Comment
Kelly-Anne Trenfield	Senior Managing Director	21-Feb-16	0.1	625.00	62.50	Administration	documentation and signing of transfer or cheque	Category 2 - Current
Carly Drew	Administration 2	22-Feb-16	0.1	180.00	18.00	Administration	Prepared Final Letter, scanned, saved and issued to GC office to issue. International application rand remaneration. Call non Scall Russelling and the genuing quenes relating to DD	Corporate - Liquidation
							payout's etc. review receipt and payments info regarding support for SOP, call form Kelly regarding various issues pertaining to today's application. review final submissions. call form Counsel/Russell for discussion regarding FUM. review server records regarding asset/ reval's/FUM etc. updates form	Category 2 - Current
Glenn O'Kearney	Senior Director	22-Feb-16	1.6	565.00		Creditors	Kat/Sean Russell post hearing.	Category 2 - Current
Benjamin Robson	Associate II	22-Feb-16	0.2	305.00	61.00	Trade-On	Handover Suncorp accounts request	Category 2 - Current
Benjamin Robson	Associate II	22-Feb-16	0.3	305.00	91.50	Trade-On	LM Audit enquiries	Category 2 - Current
Benjamin Robson	Associate II	22-Feb-16	0.5	305.00		Trade-On	Approve various payment and receipt vouchers	Category 2 - Current
Keily-Anne Trenfield	Senior Managing Director	22-Feb-16	0.2	625.00		Administration	Review docs re LPP re asic proceedings and respond to russells	Category 2 - Current
Ginette Muller	Managing Director	22-Feb-16	0.5	600.00		Administration	Email from Peter Kell querying our response to him re 13th report.	Corporate - Liquidation
James Cook	Consultant I	23-Feb-16	0.2	275.00	55.00	Administration	Reviewing and sorting inbound mail. Drain lengthy response to Peter Kellis, send to John Park and GDM for review, send to GOK for input	
Renee Lobb	Senior Director	23-Feb-16	0.5	510.00	255.00	Investigations	also.	Category 2 - Current
Benjamin Robson	Associate II	23-Feb-16	0.5	305.00	152.50	Trade-On	Follow up Armstrong invoices for payment - liaise with Sharon Ritchie	Category 2 - Current
Ginette Muller	Managing Director	23-Feb-16	1	600.00	600.00	Administration	Correspondence from Peter querying FTI 11th report	Category 2 - Current

	inagement Ltd (In Liqui	dation)			3,204,515,29		에는 것이 있는 것이 있다. 같은 것이 같은 것이 있는 것이 같은 것이 있는 것 같은 것이 같은 것이 같은 것이 같은 것이 있는 것	
Remuneration to 3 Name	Title	Date	Hours	Charge Out Rate		Task Desc	Narrative	Classification
Renee Lobb	Director	23-Feb-16	0.10	510	51.00	Trade-On	Respond to creditor query, provide km details for contact.	· Corporate - Liquidatio
Benjamin Robson	Consultant I	23-Feb-16	0.20	305	61.00	Trade-On	Refer investor to MPF - Roy Davies	Corporate - Liquidatio
Glenn O'Keamey	Senior Director	24-Feb-16	0.2	565.00	113.00	Creditors	Review correspondence regarding legal bilis/clayton utz/chq insurer.	Corporate - Liquidation
Glenn O'Keamey	Senior Director	24-Feb-16	0.5	565.00	282.50	Administration	Review 524. discus with BJR. amendments to BN	Corporate - Liquidation
Glenn O'Kearney	Senior Director	24-Feb-16	0.5		282.50	Creditors	Discussions with Sean Russell regarding debrief of Fund remuneration application. note to Steve hannen regarding NAV/FUM etc.	Category 2 - Current
Brittany Newman	Administration 1	24-Feb-16	0.2	145.00	29.00	Administration	Admend Form 524 for period 01/08/2015 to 31/01/2016 + scan/email to CD/KAT for signing	Corporate - Liquidation
Brittany Newman	Administration 1	24-Feb-16	0.2	145.00	29.00	Administration	Filing	Corporate - Liquidation
Talia Glover	Administration 1	25-Feb-16	0.3	145.00	43.50	Administration	Insurance funds banking of cheque for \$9342.67	Corporate - Liquidation
John Park	Senior Managing Director	25-Feb-16	0.2	625.00	125.00	Administration	Review and sign Form 524;discussion with Ashley Tiplady;	Corporate - Liquidation
John Park			0.2				regarding same, discussions with BJR regarding NAV v FOM and registry service, releconterence sh regarding same, discussions with BJR regarding NAV vs FUM review, review calculations .note to	
Glenn O'Kearney	Senior Director	25-Feb-16	1.5	565.00	847.50	Trade-On	Sean russell regarding same, review file notes regarding Fund registers etc BJR 1M File nandover memos - relating to a vanety of procedurar tasks, providing background and step by	Category 2 - Current
Benjamin Robson	Associate II	25-Feb-16	4.2	305.00	1,281.00	Trade-On	step instructions on payment process, navs, LM corp back ground, bank accounts etc	Corporate - Liquidation
James Cook	Consultant 1	25-Feb-16	0.5	275.00	137.50	Administration	Reviewing handover file note from BJR re: procedures, payments and authorities on accounts.	Corporate - Liquidation
Renee Lobb	Senior Director	25-Feb-16	0.1	510.00	51.00	Administration	Respond to investor query, advise cannot provide legal advice.	Calegory 2 - Current
Caroline Halcoop	Administration 2	25-Feb-16	0.2	180.00	36.00	Administration	PV & Commbiz trf - Grace Records - \$313.18 - scan & email to BJR for approval	Category 2 - Current
Renee Lobb	Senior Director	26-Feb-16	0,1	510.00	51.00	Trade-On	Respond to investor query on funds flow, explain same.	Category 2 - Current
James Cook	Consultant I	26-Feb-16	0.5	275.00	137.50	Administration	Reviewing FN prepared by BJR on processes, AX, registers.	Category 2 - Current
Kellv-Anne Trenfield	Senior Managing Director	28-Feb-16	0,1	625.00	62.50	Administration	Review and approve payment or cutstanding administration flabilities including review of supporting documentation and signing of transfer or cheque	Category 2 - Current
James Cook	Consultant I	29-Feb-16	0.1	275.00	27.50	Administration	Inbound mail.	Corporate - Liquidation
Renee Lobb	Senior Director	29-Feb-16	0.2	510.00	102.00	Trade-On	Respond to queries from investors and advisers seeking distribution information and adviser information.	Category 2 - Current
Renee Lobb	Senior Director	29-Feb-16	0.2	510.00	102.00	Administration	Email GOK regarding beneficiaries process and receive update on Armstrong. advise to GOK we previously issued circulars for Armstrong contact datails when they were appointed to handle.	Category 2 - Current
Benjamin Robson	Associate II	29-Feb-16	1.2	305.00	366.00	Trade-On	LM Handover catch up	Corporate - Liquidation
Benjamin Robson	Associate II	29-Feb-16	1.1	305.00	335.50	Trade-On	Various receipts and payments vouchers. Update registers and file notes for handover	Category 2 - Current
Glenn O'Keamey	Senior Director	29-Feb-16	1.5	565.00	847.50	Trade-On	Discussions Fund management issues with BJR - Fund registers/processes/systems, note to team regarding registries etc. call from Armstrong regarding same.	Category 2 - Current
Glenn O'Keamey	Senior Director	29-Feb-16	1.7	565.00	960.50		Quenes sin or fit Advissens regarding additional records/infomfation regarding Pond remuneration application, review of archived info etc. review correspondence SH regarding NAV/FUM, review update JRP regarding correspondence BDO	Category 2 - Current
Ginette Muller	Managing Director	29-Feb-16	2	600.00	1,200.00	Administration	Receive correspondence from Spark Helmore regarding Allegations. Check and review same	Written Off/Not claimed
Keliy-Anne Trenfield	Senior Managing Director	29-Feb-16	0.1	625.00		Administration	Email in from clayton utz; instructions to gok re payment	Corporate - Liquidation
Renee Lobb	Senior Director	01-Mar-16	0.1	510.00	51.00	Trade-On	Email GOK registry circular previously sent with updated details.	Category 2 - Current
Caroline Halcoop	Administration 2	01-Mar-16	0.1	180.00	18.00	Administration	Enter reversal voucher for BJR for LM	Category 2 - Current
Glenn O'Keamey	Senior Director	01-Mar-16	0.5	565.00	282.50	Creditors	Note Kelly regarding LMIM corporate cash now issues/insurance costs etc. note BJR requesting payment.	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	01-Mar-16	0.2	625.00	125.00	Administration	Email from and response to mark waller re outstanding fees; instructions to GOK re payment	Corporate - Liquidation
(elly-Anne Trenfield	Senior Managing Director	01-Mar-16	0.2	625.00	125.00	Administration	Review incoming documentation, consider and send to filing Review and Update to do list; query outstanding items	Category 2 - Current
ames Cook	Associate II	01-Mar-16	0.20	275	55.00	Administration	Handover with BJR on procedures in respect of management of funds.	Category 2 - Current
lenee Lobb	Senior Director	02-Mar-16	0.2	510.00	102.00	Investigations	Review file for ASIC notice russells was looking fir, respond to GOK.	Category 2 - Current
		02-Mar-16	0.1	510.00		<u> </u>	Révièw email on Whyte's disclosure from Russells. Email Kelly-Anne Trentfeld to confirm whether she would like me to follow up Clayton Utz for funding progress for Bellpac.	Corporate - Liquidation

 $\widehat{}$

Remuneration to	이 가지 못했는 것 같아. 이 집에 가지 않는 것 같아.				3,204,515.29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Benjamin Robson	Associate II	02-Mar-16	0.2	305.00	61.00	Trade-On	Various payments and receipts	Category 2 - Current
Benjamin Robson	Associate II	02-Mar-16	0.9	305.00	274.50	Trade-On	Emails to PKF and WMS requesting updates across funds, notifying or my departure and forwarding relevant info across funds to JHC	Category 2 - Current
Brittany Newman	Administration 1	02-Mar-16	0.2	145.00	29.00	Administration	Prepare Suncorp payments for BJR	Category 2 - Current
Brittany Newman	Administration 1	02-Mar-16	0.1	145.00	14.50	Administration	Draft ATO FOI Request - 89741172	Corporate - Liquidation
Brittany Newman	Administration 1	02-Mar-16	0.2	145.00	29.00	Administration	Call to ATO following up outstanding BAS refund (1 Oct - 31 Dec 2015)	Corporate - Liquidation
Brittany Newman	Administration 1	02-Mar-16	0.2	145.00	29.00	Administration	Filing	Corporate - Liquidation
James Cook	Consultant i	02-Mar-16	0.1	275.00	27.50	Administration	Discussing with BN FOI request to process with ATO in relation to Clout and Associates.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	02-Mar-16	0.1	565.00	56.50	Investigations	Correspondence LMA liq regarding LMIM ATO records.	Corporate - Liquidation
Ginette Muller	Managing Director	02-Mar-16	4	600.00	2,400.00	Administration	Meeting with Sparke Helmore; conversation with JRP regarding same; research material for them to commence defence.	Written Off/Not claimed
Brittany Newman	Administration 1	03-Mar-16	0.2	145.00	29.00	Administration	Filing	Corporate - Liquidation
James Cook	Consultant I	03-Mar-16	0.5	275.00	137.50	Administration	Reviewing FOI request prepared by BN, refining. Reviewing minutes, details.	Corporate - Liquidation
					00 - 00		Review Liedekerke judgement and appear information from clayton utz. Follow up Clayton Utz on insurer funding for Bellpac and Circularise Stephanie at Russells on same.	Corporate - Liquidation
Renee Lobb	Senior Director	03-Mar-16	0.4	510.00		Investigations	Copy files from USB to client folder as directed. Email link to GOK as requested.	Corporate - Liquidation
Tanya Kratz	Administration 2	03-Mar-16	0.1	145.00	14.50	Administration	Release commbiz payments - Clayton Utz & LMIM trf	Category 2 - Current
Caroline Halcoop	Administration 2	03-Mar-16	0.1	180.00		Administration	Correspondence from nood regarding ASIC notices additional evidence cat 2. review invoice and	Category 2 - Current
Glenn O'Kearney	Senior Director	03-Mar-16	1	565.00	565.00	Trade-On	forward into to sean Russell.	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	03-Mar-16	0.2	625.00	125 00	Administration	trebeaver and approve payment or outstanting administration reprintees including review or supporting	Category 2 - Current
Brittany Newman	Administration t	03-Mar-16	0.10	135	13.50	Administration	Filing	Category 2 - Current
James Cock	Consultant I	04-Mar-16	0.6	275.00	165.00	Administration	Retining FOI request letter, perusing appointment documents, attaching to request. Finalising and circulating to GOK.	Corporate - Liquidation
Renee Lobb	Senior Director	04-Mar-16	0.2	510.00	102.00	Investigations	Review correspondence on amended claims and going through POD system rather than scheme. Review KAT's response.	Category 2 - Current
Renee Labb	Senior Director	04-Mar-16	0.1	510.00	51.00	Administration	Provide address for GC office.	Category 2 - Current
Renee Lobb	Senior Director	04-Mar-16	0.2	510.00	102.00	Trade-On	Review investor request for company searches of adviser firms. confirm cannot spend the monies at expense of others to provide searches on the entities to complete their proposed legal action.	Category 2 - Current
Renee Lobb	Senior Director	04-Mar-16	0.1	510.00	51.00	Investigations	Review further email from Russells.	Category 2 - Current
Celly-Anne Trenfield	Senior Managing Director	04-Mar-16	0.1	625.00		Administration	Email in from mark waller; review rol emails; respond to mark waller re outstanding accounts	Corporate - Liquidation
Glenn O'Keamev	Senior Director	05-Mar-16	0.2	565.00	113.00	Creditors	Note sean Russell regarding amendments to affidavit fund remuneration	Category 2 - Current
ames Cook	Consultant I	07-Mar-16	1.4	275.00	385.00	Administration	Assisting GOK with allocation of fees, accounting entries to provide to Russells. Corro with MYOB re- general ledger reporting. Discussing with GOK.	Category 2 - Current
Renee Lobb	Senior Director	07-Mar-16	0.3	510.00	153.00	Creditors	Respond to creditor looking to pursue creditor for bad financial advice. request POD	Category 2 - Current
lenee Lobb	Senior Director	07-Mar-16	0.3	510.00	153.00	Investigations	DISCUSSION WITH STEPHANIE ON KPG/LIFESTYLE. CLARIFY DISCUSSIONS WITH HER AND PER KATS EMAIL.	Category 2 - Current
Renee Lobb	Senior Director	07-Mar-16	0.1	510.00	51.00	Trade-On	Request additional information to process adviser transfer of details.	Category 2 - Current
arly Drew	Administration 2	07-Mar-16	0.3	180.00	54.00	Administration	Ran WIP for JRP;	Corporate - Liquidation
enee Lobb	Senior Director	08-Mar-16	0.2	510.00	102.00	Investigations	Call with Strphanie and emails with Kelly-Anne Trenfield regarding appearance at court.	Category 2 - Current
elly-Anne Trenfield	Senior Managing Director	08-Mar-16	0.2	625.00	125.00	Administration	Email in from Russells re KPG/lifestyle processing and instructions re appearance	Category 2 - Current
itenn O'Kearney	Senior Director	08-Mar-16	0.2	565.00	113.00	Creditors	Review file for global pod pe rRlobb request.	Corporate - Liquidation
rittany Newman	Administration 1	09-Mar-16	0.1	145.00	14.50	Administration	Prepare payment voucher in MYOB - Cloud Plus Invoice 1002914	Category 2 - Current
enee Lobb	Senior Director	09-Mar-16	0.3	510.00	153.00	Trade-On	Emails with GOK regarding responsibilities of pames Cook now BDK is gone, email regarding poor or investor, Queries to Kelly-Anne Trenfield regarding remuneration application after adjournment hearing	Category 2 - Current
~			~~~	0.0.00	,00.00		Respond to investor query and request which fund as could not locate on investor listing.	Category 2 - Current

 \cap

LM investment Ma Remuneration to 3	nagement Ltd (In Liquid 0 June 2018	lation)			3,204,515.29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Kelly-Anne Trenfield	Senior Managing Director	09-Mar-16	0.1	625.00	62.50	Administration	Review incoming documentation, consider and send to filing	Category 2 - Current
Carly Drew	Administration 2	09-Mar-16	0.2	180.00	36.00	Administration	Prepared Final Letter inserted KAT signature on approval;	Corporate - Liquidation
Brittany Newman	Administration 1	10-Mar-16	0.1	145.00	14.50	Administration	Mair in from ASIC - Company Statement + Invoice Statement for The Australian Retrement Living Fund	Category 2 - Current
Brittany Newman	Administration 1	10-Mar-16	0.3	145.00	43.50	Administration	Filing	Corporate - Liquidation
Renee Lobb	Senior Director	10-Mar-16	0.3	510.00	153.00	Trade-On	Review responses regarding Global POD, respond to investor advising no further details held and requesting they contact the ACI as Global appears to be a member.	Category 2 - Current
Renee Lobb	Senior Director	10-Mar-16	0.1	510.00	51.00	Administration	Updating website for registry changes.	Category 2 - Current
Renee Lobb	Senior Director	10-Mar-16	0.2	510.00	102.00	Trade-On	Review response on supplementary material required for remuneration application. Respond to investor query on same.	Category 2 - Current
Renee Labb	Senior Director	11-Mar-16	0.1	510.00	51.00	Investigations	Respond to Stephanie at Russells regarding progress with funding response.	Category 2 - Current
Renee Lobb	Seniar Director	11-Mar-16		510.00	510.00	Investigations	Review and respond to email from stephanic following up instructions for funding and application. Call Mark Waller from Clayton Utz to discuss same. Also discuss with him information required for response to BDO after call with GOK to discuss same.	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	13-Mar-16	0.1	625.00	62.50	Administration	emails in from CU/RCL re meeting with KM	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	13-Mar-16	0.1	625.00	62.50	Administration	Review various emails in repotential settlement and affidavit from Whyte	Category 2 - Current
Renee Lobb	Senior Director	14-Mar-16	0.1	510.00	102.00	Administration	Upload documents to LM Investment Management Ltd website.	Category 2 - Current
		14-(VIZ)-10	0.2	010.00	102.00		Calls with Mark Waller and GOK regarding BDO retter to respond to. Clarify points with Mark Waller	
Renee Lobb	Senior Director	14-Mar-16	0.5	510.00	255.00	Investigations	and get available times to provide Kelly-Anne Trenfield for meeting with KM.	Corporate - Liquidation
Ginette Muller	Managing Director	14-Mar-16	1	600.00	600.00	Administration	Meeting with JRP regarding next steps on matter	Written Off/Not claimed
Kelly-Anne Trenfield	Senior Managing Director	15-Mar-16	0.1	625.00	62.50	Administration	Emails in re insurance scheme and impact on litigation	Category 2 - Current
Glenn O'Kearney	Senior Director	15-Mar-16	0.3	565.00	169.50	Trade-On	Call from seen Russell with update on hearing LM fund remuneration.	Category 2 - Current
Glenn O'Kearney	Senior Director	15-Mar-16	0.3	565.00	169.50	Trade-On	Discussions with JC regarding updates NAV, registers, etc	Category 2 - Current
Glenn O'Keamey	Senior Director	15-Mar-16	0.2	565.00	113.00	Creditors	Review payment info regarding Clayton utz bills, reconcile against account.	Corporate - Liquidation
Renee Lobb	Senior Director	16-Mar-16	0.2	510.00	102.00	Investigations	request response. Carl win russells provide instructions to issue letter to Gaderis. Emails with GUK and Mark Waller	Corporate - Liquidation
Renee Lobb	Senior Director	16-Mar-16	0.4	510.00	204.00	Investigations	regarding BDO response.	Corporate - Liquidation
Brittany Newman	Administration 1	16-Mar-16	0.2	145.00	29.00	Administration	Filing	Corporate - Liquidation
James Cook	Consultant I	16-Mar-16	0.3	275.00	82.50	Administration	Corro with GOK and RL reconstanting invoice. Attending to payment or invoice, taking with CH to make payment. Reviewing payment, circulating to GOK.	Category 2 - Current
Glenn O'Keamey	Senior Director	16-Mar-16	0.1	565.00	56.50	Creditors	Review approve payment fund websites.	Category 2 - Current
· · · · · · · · · · · · · · · · · · ·	Senior Director	16-Mar-16		565.00	565.00	Creditors	Reconcile consultants register, note JC.	Category 2 - Current
Glenn O'Kearney Brittany Newman	Administration 1	17-Mar-16	0.1	145.00	14.50	Administration	Filing	Corporate - Liquidation
John Park	Senior Managing Director	17-Mar-16	0.1	625.00	62.50	Administration	Correspondence out PTAL;	Category 2 - Current
Renee Lobb	Senior Managing Director	17-Mar-16	0.2	510.00	102.00	Administration	Arranging teleconference.	Corporate - Liquidation
Caroline Halcoop	Administration 2	17-Mar-16	0.2	180.00	36.00	Administration	Release Commbiz transfer - Createawebsite - \$379.17 - JHC	Category 2 - Current
							Emails in re belipad logation and application to remove LMIM from proceedings; draft response to	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	17-Mar-16	0.1	625.00	62.50	Administration	Inssells/CU Telecomerence with Kelly-Anne Tremelo, Russells and Clayton UZ regarding application to remove LM Investment Management Ltd from Bellpac proceedings. Email GOK and Mark Waller regarding	
Renee Lobb	Senior Director	18-Mar-16	0.8	510.00	408.00	Investigations	BDO response.	Corporate - Liquidation
	Senior Managing Director	18-Mar-16	0.3	625.00	187.50	Assets	Teleconference with Russells and Clayton utz re bellpac claim	Corporate - Liquidation
Kelly-Anne Trenfield Binette Muller	Managing Director	18-Mar-16	1.5	600.00	900.00	Administration	Meeting with lawyers regarding next steps. Emails to JRP and SCR	Written Off/Not claimed
Renee Lobb	Senior Director	21-Mar-16	0.1	510.00	51,00	Trade-On	Review correspondence regarding holdings. request GOK or JC to respond.	Category 2 - Current
Renee Lobb	Senior Director	21-Mar-16	0.2	510.00	102.00	Trade-On	Look up multiple investor IDs and match to funds, respond to GOK on same.	Category 2 - Current
Kelly-Anne Trenfield	Senior Director	21-Mar-16	0.2	625.00	62.50		Review incoming documentation, consider and send to fillingReview and update to do list; query outstanding items	Category 2 - Current
Blenn O'Kearney	Senior Director	21-Mar-16	0.1	565.00	56.50		Correspondence in Belgium lawyers. note JC	Corporate - Liquidation

LIVI Investment M	anagement Ltd (In Liqui	dation)						
Remuneration to			ian di Managari	.	3,204,515.29		November	Closefficient
Name		Date		Charge Out Rate	Charge	Task Desc	Narrative	Classification
Glenn O'Keamey	Senior Director	21-Mar-16	0.5	565.00	282.50	Creditors	Review draft order fund rem. TReviewing emails from mark and russells regarding action to withdraw from proceedings, review	Category 2 - Current
Renee Lobb	Senior Director	22-Mar-16	0.4	510.00	204.00	Investigations	email on moray and anew funding also.	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	22-Mar-16	0.1	625.00	62.50	Administration	Bellpac - call in from AJT re CU and application re removal from bellpac	Category 2 - Current
Glenn O'Keamey	Senior Director	22-Mar-16	0.5	565.00	282.50	Trade-On	Correspondence nobb regarding advisor transier into: discussions JC regarding general registry	Category 2 - Current
Glenn Orteanley	Centor Director			000.00	202.00			<u></u>
Renee Lobb	Senior Director	23-Mar-16	0.4	510.00	204.00	Investigations	Discussions with Kelly and Mark regarding BDO response, meeting time for insurance discussion and action on removal from proceedings. Email to mark Waller and Kelly after receiving time from Jarrod.	
		20-M(4)-10	0.4	010.00	201.00	introcigation a	Emails with KM, Clayton Utz etc regarding time to meet and discuss moving forward on the scheme.	
Renee Lobb	Senior Director	23-Mar-16	0.2	510.00	102.00		Send meeting invite and book boardroom.	Corporate - Liquidation
Renee Lobb	Senior Director	23-Mar-16	0.2	510.00	102.00	Administration	Emails with JC on process for changing registry details and beneficiaries.	Category 2 - Current
Renee Lobb	Senior Director	23-Mar-16	0.2	510.00	102.00	Administration	Emails with GOK and JC regarding enquiries email and registry maintenance responsible parties.	Calegory 2 - Current
Brittany Newman	Administration 1	23-Mar-16	0.2	145.00	29.00	Administration	Call to ATO following up previous request for outstanding BAS retund (1 Oct - 31 Dec 2015) +	Corporate - Liquidation
Brittany Newman	Administration 1	23-Mar-16	0.2	145.00	29.00		Split files + filing	Corporate - Liquidation
							Beilpad - RCL relemans from Clayton UI2 and Russells relibeling initiation call to Mark waller re	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	23-Mar-16	0.3	625.00	187.50	Administration	review of bellpac/insurance matters Correspondence Rlobb Clayton utz/bills/funds etc.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	23-Mar-16 23-Mar-16	0.2	565.00	113.00 600.00		Update with lawyers. Update with JRP	Written Off/Not claimed
Ginette Muller	Managing Director Administration 1	23-Mar-16	0.1	145.00	14.50	· · · · · · · · · · · · · · · · · · ·	Mail in from ATO - BAS (1 Jan - 31 Mar 2016) DOC ID 32 752 394 653	Corporate - Liquidation
Brittany Newman		24-(8)21-10	0.1	140.00	14.00		Receive letter from Greg Rodgers. Check details for CAANZ, Response to SCR refiles for appeal	
Ginette Muller	Managing Director	24-Mar-16	1	600.00	600.00		and other matters.	Written Off/Not claimed Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	28-Mar-16	0.1	625.00	62.50	Administration	Review incoming documentation, consider and send to filing meeting with Clayton Uz, Kelly-Anne Trefilied and Dom (Barnster) discuss scheme and way to	Category 2 - Current
Renee Lobb	Senior Director	29-Mar-16	1	510.00	510.00	Investigations	remove LMIM from Bellpac proceeding by Whyte.	Corporate - Liquidation
				505.00	125.00	Administration	Email from and response to simon lister re nial cobran; request into from GDMReview incoming documentation, consider and send to filing	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	29-Mar-16	0.2	625.00	120.00	Administration	Meeting with lawyer and counsel re belipac litigation - need for application or stayemail from chris	
Kelly-Anne Trenfield	Senior Managing Director	29-Mar-16	1.5	625.00	937.50	Assets	erfurt re bellpac; email to russells re instructions on application	Category 2 - Current
Glenn O'Kearney	Senior Director	30-Mar-16	0.2	565.00	113.00	Trade-On	Correspondence JC regarding registry queries perpetual invoices.	Category 2 - Current
Renee Labb	Senior Director	30-Mar-16	1.2	510.00	612.00	Investigations	Meeting with Minters, KM, Clayton Utz regarding scheme and progressing same. Meeting with clayton utz (mark waller and chris erlurt) and kordamentha (JV and Stacey) and Minter	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	30-Mar-16	1.2	625.00	750.00	Assets	Jellison (david o'brien and nadia brae)	Corporate - Liquidation
····	······································			075.00	440.00		Reviewing PTAL transfer papers to nand over control or accounts, Suncorp and CBA. Updating the tetters to be issued to Suncorp and CBA.	Category 2 - Current
James Cook	Consultant ?	31-Mar-16	0.4	275.00	110.00	Administration	Corro with suncorp and gening accounts and online banking set up to facilitate payments, token	
James Cook	Consultant I	01-Apr-16	0.5	305.00	152.50	Administration	being registered.	Category 2 - Current
Glenn O'Kearney	Senior Director	04-Apr-16	0.5	565.00	282.50	Administration	Review file state/TDL .meet with JC and discuss file. update TDL.	Corporate - Liquidation Corporate - Liquidation
Tanya Kratz	Administration 2	05-Apr-16	0.1	145.00	14.50	Administration	Source Word WIP Proforma as requested.	Category 2 - Current
Renee Lobb	Senior Director	05-Apr-16	0.2	565.00	113.00	Trade-On	Look up Commerzbank AG holdings and send fund information to GOK. Review advice from fussel re benpac nugation, dan email to Clayton diz re request for anormation to	congory 2 Guildin
							go to russellsreview position re KPG and lifestyle matters; review russell draft corro; draft	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	05-Apr-16	1.3	625.00		Administration	responsemeeting with russell re beltpac prepare invoice for Law in order costs and RPC to Stephanie at Russells	Category 2 - Current
Christine Stead	Senior Director	05-Apr-16	0.5	565.00		Administration	Prepare receipt voucher in MYOB - BAS Refund (1 Oct - 31 Dec 2015)	Corporate - Liquidation
Brittany Newman	Administration 1	06-Apr-16	0.1	145.00	14.50	Administration	review 3 emails regarding insurance scheme disclosures in dispensation or proceedings application	
							as well as need to respond in First Mortgage Income Fund/Managed Performance Fund claim where	Corporate - Liquidation
Renee Lobb	Senior Director	06-Apr-16	0.2	565.00		Investigations	LMIM is not concerned.File emails. Review sign off on GST income.	Corporate - Liquidation
Glenn O'Keamey	Senior Director	06-Apr-16	0.1	565.00	56.50	Assets	Review sign on on GST income. Review claims in russels, note JC, call form melb tech arm and discuss recovery issues etc.	Category 2 - Current
Glenn O'Kearney	Senior Director	06-Apr-16	0.3	565.00	169.50	Creditors	Trease and the second	

LM investment Ma Remuneration to 3	nagement Ltd (Jn Liqui	dation)			3,204,515.29			
Name	Title	Date	Hours	Charge Out Rate		Task Desc	Narrative	Classification
		1					Entailmont and response to mark water re application on delipacemail from and response to Ashrey Tiplady re application to remove LMIM from proceedingsReview incoming documentation, consider	
Kelly-Anne Trenfield	Senior Managing Director	06-Apr-16	0.4	625.00	250.00	Administration	and send to filingemails re meeting to discuss application; email to mark walter	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	06-Apr-16	0.3	625.00	187.50		Review incoming documentation, consider and send to filingrespond to audit queries	Corporate - Liquidation
Brittany Newman	Administration 1	07-Apr-16	0.0	145.00	14.50		Mail in from Argyle Welsh & Finnigan - Investment Transfer Request	Category 2 - Current
Diritially Newsitals		01-444-10			(Review necessaria entan update and save to me and print and send to me also. Teleconterence	
Renee Lobb	Senior Director	07-Apr-16	1.4	565.00	791.00	Investigations	regarding Bellpac and KPG/filestyle proceeding and application to abide by orders of the court in order not to defence proceedings. Review sign of on general rung related payment - review correspondence from JC/I I regarding	Category 2 - Current
Glenn O'Keamey	Senior Director	07-Apr-16	0.2	565.00	113.00	Trade-On	iongoing services.	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	07-Apr-16	1.1	625.00	687.50	Administration	emails in/out re bellpac application and timing of conferenceteleconference re bellpac	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	07-Apr-16	0.1	625.00	62.50		Review and respond to financial queries	Corporate - Liquidation
James Cook	Consultant I	07-Apr-16	1.2	305.00	366.00	Administration	Attending to payments relating to RE. Corrowin Cloudplus re: payments. Llaising with Lia re: outstanding payments which appear in MYOB cash book. Reviewing invoice from Feb, preparing payment for Mar, circulating to Lia.	Category 2 - Current
Ginette Muller	Managing Director	07-Apr-16	4	625.00	2,500.00	Administration	Telephone call with Steven Muller. Review of emails to get information for statement. Many hours of work using FTI systems and with assistance from Madhu etc.	Written Off/Not claimed
Ginette Muller	Managing Director	08-Apr-16	4	625.00	2,500.00	Administration	Telephone call with Steven Muller. Review of emails to get information for statement. Many hours of work over the weekend but charge all to Friday.	Written Off/Not claimed
	o i u sul a Dinala	40.644.40	0.1	625.00	62.50	Administration	Review and approve payment or outstanding administration liacilities including review or supporting documentation and signing of transfer or cheque	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	10-Apr-16	·				Review response from Ginette Muller regarding information sought for legal action, respond to party requesting specifics on information sought,	Written Off/Not claimed
Renee Lobb	Senior Director	11-Apr-16	0.2	565.00	113.00	Creditors	Corro with Lia + CH re: payments to be released. Corro with creditor re: payment release. Discussing	
James Cook	Consultant I	11-Apr-16	0.6	305.00	183.00	Administration	supporting and confirmation docs with CH. Reviewing and circulating inbound mail. Attending to payables and consultants register, reconciling. Corporate costs to be allocated across	Category 2 - Current
James Cock	Consultant I	11-Apr-16	0.4	305.00	122.00	Administration	funds. Updating NAV position.	Category 2 - Current
Caroline Halcoop	Administration 2	11-Apr-16	0.1	180.00	18.00	Administration	Release Commbiz payments - 2 x CloudPlus & 1 x Grace; email to JHC to advise	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	11-Apr-16	0.1	625.00	62.50	Administration	Review update re belgian proceedings and appeal from Clayton Utz	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	11-Apr-16	0.1	625.00	62.50	Administration	Review incoming documentation, consider and send to filing	Corporate - Liquidation
Ashleigh Ubank	Administration II	11-Арг-16	0.10	180	18.00	Administration	WIP proforma generated for code.	Category 2 - Current
Glenn O'Kearney	Senior Director	12-Apr-16	0.5	565.00	282,50	Trade-On	Discussion with JC regarding general fund management strategy/audits/tax/management accounting etc.	Category 2 - Current
Sinette Muller	Managing Director	12-Apr-16	0.5	625.00	312.50	Administration	Victor John maiito:vjohn121@gmail.com] Emails between him, me RCL	Category 2 - Current
Brittany Newman	Administration 1	13-Apr-16	0.1	145.00	14.50	Administration	Mail In from Old Mutual International - Transfer form; Dr Michel Giguere	Category 2 - Current
Brittany Newman	Administration 1	13-Apr-16	0.1	145.00	14.50	Administration	Mail in from ASIC - Scheme Statement + Invoice re LM Australian Structured Products Fund Review incoming documentation, consider and send to hilingupdate for finance re financial	Category 2 - Current
elly-Anne Trenfield	Senior Managing Director	13-Apr-16	0.5	625.00	312,50	Administration	position/fee recovery	Category 2 - Current
Celly-Anne Trenfield	Senior Managing Director	13-Apr-16	0.2	625.00	125.00	Administration	review and amend email to EY re progress of audit of funds	Category 2 - Current
(elly-Anne Trenfield	Senior Managing Director	13-Apr-16	0.1	625.00	62.50	Administration	review application and affidavit re belipac and provide instructions	Category 2 - Current
Christine Stead	Senior Director	13-Apr-16	0.1	565.00	56.50	Administration	Email Stephanie copy of LM involce	Category 2 - Current
initiany Newman	Administration 1	14-Apr-16	0.4	145.00	58.00	Administration	Enter missing transactions for March 2013, reconcile all accounts as at 31703/2016 + Prepare BAS (1 Jan - 31 Mar 2016)	Corporate - Liquidation
lenee Lobb	Senior Director	15-Apr-16	0.2	565.00	113.00	Investigations	Review email from GOK and detail all ASIC legal contacts i have on file.	Category 2 - Current
alenn O'Keamey	Senior Director	15-Apr-16	0.2	565.00	113.00	Trade-On	Correspondence/msg in regarding Ax/it Issues.	Category 2 - Current
	Administration 1	18-Apr-16	0.1	145.00	14.50	Administration	Registered Post in from Old Mutual International - Stock transfers for re regsitration forms x2.	Category 2 - Current
	Administration 1	18-Apr-16	0.1	145.00		Administration	Filing	Corporate - Liquidation
	Administration 1	18-Apr-16	0.2	145.00		Administration	Filing	Corporate - Liquidation
*	Senior Director	18-Apr-16	0.1	565.00		Trade-On	Review correspondence surely/cloudplus note surely.	Category 2 - Current
	Senior Director	18-Apr-16	0.2	565.00	113.00	Creditors	Approve Payment of Clayton utz bills. review register .	Corporate - Liquidation

 \square

LM Investment Ma Remuneration to 3	inagement Ltd (In Liquid 0 June 2018	dation)			3.204.515.29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
							Interview with Barrister and Lawyer regarding ICAANZ proceedings. Attend their office to enable	Minute Official alaiment
Ginette Muller	Managing Director	18-Apr-16	4	625.00	2,500.00	Administration	them to prepare a defence regarding same. Reviewing deposit slip prepared by BN. Invoices received in respect of Liedekerke. Circulating Clutz	Written Off/Not claimed
James Cook	Consultant I	19-Apr-16	0.4	305.00	122.00	Administration	bills to be paid.	Category 2 - Current
James Cook	Consultant I	19-Apr-16	0.2	305.00	61.00	Creditors	Corro with creditors of RE, reviewing previous corro, discussing with GOK.	Category 2 - Current
Glenn O'Kearney	Senior Director	19-Apr-16	0.1	565.00	56.50	Creditors	Review creditor query note to JC regarding check MYOB.	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	19-Apr-16	0.2	625.00	125.00	Administration	Review queries and respond financial queries	Corporate - Liquidation
Brittany Newman	Administration 1	20-Apr-16	0.2	145.00	29.00	Administration	Review NCG coded transactions on previous LM BAS's lodged as requested by JHC	Corporate - Liquidation
Brittany Newman	Administration 1	20-Apr-16	0.2	145.00	29.00	Administration	Finalise BAS (1 Jan - 31 Mar 2016)	Corporate - Liquidation
Brittany Newman	Administration 1	20-Apr-16	0.3	145.00	43.50	Administration	Filing	Corporate - Liquidation
Glenn O'Keamey	Senior Director	20-Apr-16	0.5	565.00	282.50	Administration	Review and sign off on LMIM BAS and workpapers.	Corporate - Liquidation
Caroline Halcoop	Administration 2	20-Apr-16	0.1	180.00	18.00	Administration	Release Commbiz payment - Clayton UTZ	Category 2 - Current
Ginette Muller	Managing Director	20-Apr-16	0.5	625.00	312.50	Administration	Emails with Steven Muller - confirm ok to release correspondence	Written Off/Not claimed
		01 0 10		145.00	29.00	Administration	Mair out to ATO - EAS (1 Jan - 31 Mai 2016) DOC ID 32 752 394 653, enter lodgement details in MYOB + update GC BAS spreadsheet	Corporate - Liquidation
Brittany Newman	Administration 1	21-Apr-16	0.2	145.00	14.50	Administration	Filing	Corporate - Liquidation
Brittany Newman	Administration 1	21-Apr-16	0.1		56.50	Creditors	Review legal bills Belgium matter .note Rlobb.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	21-Apr-16	0.1	565.00			Emails with Steven Muller	Written Off/Not claimed
Ginette Muller	Managing Director	21-Apr-16	0.5	625.00	312.50	Administration		
							Review correspondence tech team. review where LM fee info sits and respond with info on LM fee	
Glenn O'Keamey	Senior Director	22-Apr-16	0.5	565.00	282.50	Creditors	update, discussions with JC regarding claims against corp entity/cluts/insurance matters etc. respond to query for information. Review further request for discussion on move forward for fund	Corporate - Liquidation
Renee Lobb	Senior Director	22-Apr-16	0.2	565.00	113.00	Trade-On	wind ups/audits/accounts/ distributions etc.	Calegory 2 - Current
Renee Lobb	Senior Director	22-Apr-16	0.2	565.00		Administration	Review and respond to email regarding insurer reimbursement of liedekerke invoices.	Corporate - Liquidation
Ginette Muller	Managing Director	22-Apr-16	0.5	625.00	312.50	Administration	Emails with Steven Mutler	Written Off/Not claimed
		26-Apr-16	0.6	565.00	330.00	Investigations	Review query on LM Investment Management Ltd UK and other subsidiary and related party entities. Respond to numerous queries after review of records and consultation with Matthew Glennon.	Corporale - Liquidation
Renee Lobb	Seniar Director		0.8	565.00	169.50	Trade-On	Respond to Victor John's email regarding information for UK entities.	Category 2 - Current
Renee Lobb	Senior Director	26-Apr-16	0.3	565.00		Administration	Email Clutz regarding reimbursement process for Liedekerke invoices.	Corporate - Liquidation
Renee Lobb	Senior Director	26-Apr-16	0.2		113.00	Administration	Review MPF proceedings documentation forwarded by Russells. Note no need to attend on behalf of	
Renee Lobb	Senior Director	26-Apr-16	0.2	565.00	113.00	Investigations	LMIM.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	26-Apr-16	0.1	565.00	56.50	Creditors	Correspondence Ash tiplady regarding out Im invoices.	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	26-Apr-16	0.2	625.00	125.00	Administration	Bellpac - review mail in from Gadens re removal from proceedings and review my law in order	Category 2 - Current
Ginette Muller	Managing Director	26-Apr-16	0.5	625.00	312.50	Administration	Emails with Steven Muller	Written Off/Not claimed
Kelly-Anne Trenfield	Senior Managing Director	27-Apr-16	0.2	625.00	125.00	Administration	Bellpac - review draft response from russells re gadens correspondence; provide instructions to send	Category 2 - Current
Ginette Muller	Managing Director	27-Apr-16	0.5	625.00	312.50	Administration	Emails with Steven Muller	Written Off/Not claimed
Glenn O'Keamey	Senior Director	28-Apr-16	0.3	565.00	169.50	Administration	Discuss file generally KA1, note John K regarding FOI, note Clutz regarding Belgium claims, review correspondence from Belgium/copy to Chris.	Corporate - Liquidation
Renee Lobb	Senior Director	28-Apr-16	0.2	565.00	113.00	Trade-On	Respond to query on LM Investment Management Ltd directorship.	Corporate - Liquidation
Brittany Newman	Administration 1	28-Apr-16	0.1	145.00	14.50	Administration	Mail in from Hof van Deroep Gent - Correspondence re LMIM & Baert Marcel	Category 2 - Current
Brittany Newman	Administration 1	28-Apr-16	0.1	145.00	14.50	Administration	Prepare payment voucher in MYOB - Grace Records Invoice RG05056377	Category 2 - Current
Brittany Newman	Administration 1	28-Apr-16	0.1	145.00	14.50	Administration	Filing	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	28-Apr-16	1.5	625.00	937.50	Administration	Funds update meeting with GOK	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	28-Apr-16	0.5	625.00	312.50	Administration	Réview incoming documentation, consider and sand to ming Review and update to do list; query outstanding items	Category 2 - Current
elly-Anne Trenfield	Senior Managing Director	28-Apr-16	0.1	625.00	62.50	Administration	GOK re payment of legal clams	Category 2 - Current
Celly-Anne Trenfield	Senior Managing Director	28-Apr-16	0.1	625.00	62.50	Administration	Bellpac - review advice from russells re application to court	Category 2 - Current

 $\widehat{}$

LM Investment Ma Remuneration to 3	nagement Ltd (In Liquid 0. June 2018	lation)			3,204,515.29			
Name	Title	Date	Hours	Charge Out Rate	5,204,515.25 Charge	Task Desc	Narrative	Classification
Kelly-Anne Trenfield	Senior Managing Director	29-Apr-16	0.2	625.00	125.00	Administration	Review audit correspondence; draft email to EY re request for update	Category 2 - Current
James Cook	Consultant I	03-May-16	0.1	305.00	30.50	Administration	Reviewing general fund payments to be made by RE, corro with CH re: outstanding invoices.	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	03-May-16	0.1	625.00	62.50	Assets	Email to Waller/erfurt re bellpac mediation	Corporate - Liquidation
Brittany Newman	Administration 1	04-May-16	0.1	145.00	. 14.50	Administration	Enter Account Fee & Credit Interest enteries 1/05/2016 in MYOB for account 13405907	Category 2 - Current
Brittany Newman	Administration 1	05-May-16	0.1	145.00	14.50	Administration	Prepare payment voucher in MYOB - Grace Records Management Invoice RG00517922	Category 2 - Current
Brittany Newman	Administration 1	05-May-16	0.2	145.00	29.00	Administration	Filing	Corporate - Liquidation
Sinette Muller	Managing Director	05-May-16	2	625.00	1,250.00	Administration	search for missing details to complete my statement to ICAANz	Written Off/Not claime
Carly Drew	Administration 2	06-May-16	0.1	180.00	18.00	Administration	Scanned, saved and emailed correspondence;	Corporate - Liquidatio
Ginette Muller	Managing Director	06-May-16	1	625.00	625.00	Administration	Request to Ashleigh re reports etc for Steven M.	Written Off/Not claime
Renee Lobb	Senior Director	07-May-16	0.2	565.00	113.00	Administration	Updating LM Investment Management Ltd website.	Category 2 - Current
Glenn O'Keamey	Senior Director	09-May-16	0.3	565.00	169.50	Creditors	Call from Crins enert regarding insurance bilis/reimbursement etc. review notes regarding same, note to JC.	Corporațe - Liquidation
Brittany Newman	Administration 1	09-May-16	0.1	145.00	14.50	Administration	Prepare payment voucher in MYOB - Arthur J Gallagher (2) Pty Ltd Invoice 303885 - 2016 RiskCover Renewal for period 4/05/2016 - 4/08/2016 4pm Re: Tall Trees Mandurah Pty Ltd - Vacant Lots Review Liederkerke retter and onlow up clayton Utz on appropriate payment methodology by the	Category 2 - Current
Renee Lobb	Senior Director	09-May-16	0.2	565.00	113.00	Administration	insurer.	Corporate - Liquidation
Glenn O'Keamey	Senior Director	10-May-16	0.5	565.00	282.50	Trade-On	Review IT information regarding shutdown AX etc. correspondence with Madhu regarding same.	Category 2 - Current
ainette Muller	Managing Director	10-May-16	1	625.00	625.00	Administration	Meeting with JRP to discuss matters generally	Written Off/Not claime
alia Glover	Administration 1	11-May-16	0.2	145.00	29.00	Administration	Reconciliation of April transactions and distributed to JHC	Corporate - Liquidation
Caroline Halcoop	Administration 2	11-May-16	0.2	160.00	36,00	Administration	Release Commbiz transfer - Grace Records; call Grace Records to confirm payment processed	Category 2 - Current
	Administration 2	(T-May-10	0,2	100,00	00100		entali in from Russells re outstanding costs Review incoming accumentation, consider and send to	
(elly-Anne Trenfield	Senior Managing Director	11-May-16	0.3	625.00	187.50	Administration	filing	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	11-May-16	0.2	625.00	125.00	Administration	Email from and response to mark atheron at UK Times resview consultants register LMM corporate/insurance issues, drait correspondence to Clayton utz	Corporate - Liquidation
Glenn O'Keamey	Senior Director	11-May-16	1	565.00	565.00	Creditors	and issue query to KAT.	Corporate - Liquidation
irittany Newman	Administration 1	11-May-16	0.1	145.00	14.50	Administration	Mail in from ASIC - Invoice Statement 1/05/2016	Category 2 - Current
Inittany Newman	Administration 1	11-May-16	0.3	145.00	43.50	Administration	Enter missing transactions for April 2016 + reconcile accounts as at 30/04/2016	Category 2 - Current
Binette Muller	Managing Director	11-May-16	2	625.00	1,250.00	Administration	Continue to search for material needed to answer queries by Greg & Steven	Written Off/Not claimed
alia Glover	Administration I	11-May-16	0.20	135	27.00	Administration	Reconciliation of April transactions and distributed to JHC	Category 2 - Current
shleigh Ubank	Administration 2	12-May-16	0.8	160.00	144.00	Administration	Pulled fees and costs report formatted and data summarised.	Corporate - Liquidation
llenn O'Keamey	Senior Director	12-May-16	0.1	565.00	56.50	Administration	Review sign off bank reconciliation.	Corporate - Liquidation
ilenn O'Keamey	Senior Director	12-May-16	0.2	565.00	113.00	Creditors	Review investor enquiry and note JC. payment grace invoice - approve.	Category 2 - Current
lenn O'Keamey	Senior Director	12-May-16	0.1	565.00	56.50	Creditors	Note in Kelly regarding insurance costs .finalize and issue note Clayton utz	Corporate - Liquidation
shleigh Ubank	Administration 2	13-May-16	0.1	180.00	18.00	Administration	Summary table amended.	Corporate - Liquidation
elly-Anne Trenfield	Senior Managing Director	13-May-16	0.2	625.00	125.00	Administration	review email in from Clayton Utz re insurance update	Corporate - Liquidation
lenn O'Kearney	Senior Director	13-May-16	0.2	565.00	113.00	Creditors	Discuss insurance work/scheme/legal involces JC	Category 2 - Current
ames Cook	Consultant I	13-May-16	0.4	305.00	122.00	Administration		Corporate - Liquidation
rittenu Nourman	Administration 1	16-May-16	0.3	145.00	43.50	Administration	Enter 3 x Liedekerke Wolter Walebideck Kirkpatrick Invoices + 2 x Clayton UTZ Invoice in MYOB accounts payable + prepare 2x payment vouchers	Category 2 - Current
rittany Newman	Administration 1	16-May-16	0.1	145.00	14.50	Administration	Filing	Corporate - Liquidation
	Administration 1	16-May-16	0.3	145.00	43.50	-	Serup payment to Grace records for \$313.18 and print invoice, scan to BN and distributed once payment approval was sent back	Category 2 - Current
	Senior Managing Director	16-May-16	0.1	625.00	62.50	Administration	email from and response to investor re MPF update; refer them to Kordamentha	Category 2 - Current
	Senior Managing Director	16-May-16	0.1	625.00	62.50	Administration	Review and approve payment of outstanding administration Itabilities including review of supporting documentation and signing of transfer or cheque	Category 2 - Current
	Senior Director	16-May-16	0.1	565.00	56.50	Creditors	Discuss xero and associate billings to fund/JC.	Category 2 - Current

 $\overline{}$

	inagement Ltd (In Liqui	dation)				 .		
Remuneration to 3 Name	10 June 2018 Title	Date	Hours	Charge Out Rate	3,204,515.29 Charge	Task Desc	Narrative	Classification
	Consultant I	16-May-16	0.80	305	244.00	Administration	Attending to investor queries, circulating to KM.	Corporate - Liquidation
James Cook Brittany Newman	Administration I	16-May-16	0.80	135	13.50		Filing	Category 2 - Current
Talia Glover	Administration 1	17-May-16	0.10	145.00	14.50		Reconciliation of April transactions and distribution to BN	Corporate - Liquidation
Caroline Halcoop	Administration 1	17-May-16	0.1	140.00	18.00	1	Commbiz - Release transfer - Grace Records - \$313.18	Category 2 - Current
Caroline Halcoop Talia Glover	Administration 1	18-May-16	0.1		14.50		Reconciliation of April transactions and distribution to JHC	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	18-May-16	0.1	* 1+-+-	187.50		Email in from mark waller re insurance update	Corporate - Liquidation
	Senior managing Director	TO-May-TO	0.0	020.00		, caniniou cuon	reviewing pank reconciliations, queries with six. Preparing involces and receipt vouchers for numus received, reviewing records and discussing further with BN. Attending to payments for RE, corro with	
James Cook	Consultant I	19-May-16	1.4	305.00	427.00	Administration	Clayton Utz re: missing invoice. Reviewing payment.	Category 2 - Current
Brittany Newman	Administration 1	19-May-16	0.1	145.00	14.50	Administration	Submit batches for approval in MYOB	Category 2 - Current
Glenn O'Kearney	Senior Director	19-May-16	2	565.00	1,130.00	Administration	sorting and Filing records at desk.	Corporate - Liquidation
Brittany Newman	Administration 1	20-May-16	0.2	145.00	29.00	Administration	Arrange and collate documents section order in preparation for filing	Corporate - Liquidation
Brittany Newman	Administration 1	20-May-16	0.7	145.00	101.50	Administration	Split files + filing	Corporate - Liquidation
Britlany Newman	Administration 1	20-May-16	0.3	145.00	43,50	Administration	Call to ASIC re Invoice Statement 1/05/2016 - requesting break up of invoices across the funds	Category 2 - Current
Brittany Newman	Administration 1	20-May-16	0.7	145.00	101.50	Administration	Unreconcile account 13409078 for Apr, Mar, Hep periods + enter missing transactions, call to A tO to request Amended BAS (1 Jan -31 Mar 2016) + prepare amended BAS	Corporate - Liquidation
							Review and approve payment of outstanding administration flabilities including review of supporting	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	20-May-16	0.1	625.00	62.50	Administration	documentation and signing of transfer or cheque Review bank reconciliation's - review note JC regarding same.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	20-May-16	0.1	565.00	56.50	Administration	Review insurance bills in Clayton utz. note JC regarding payment .not Kelley regarding funding.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	20-May-16	0.2	565.00	113.00	Creditors	Set up international payment again as last one expired as per BN request, scanned and emailed	Corporato Elgalazitori
Talia Glover	Administration 1	20-May-16	0.4	145.00	58.00	Administration	through requesting send back asap	Category 2 - Current
James Cook	Consultant i	20-May-16	0.3	305.00	91.50	Administration	Attending to international payments in respect of Leidekerke.	Corporate - Liquidation
Brittany Newman	Administration I	20-May-16	0.10	135	13.50	Administration	Filing	Category 2 - Current
Renee Lobb	Senior Director	23-May-16	0.2	565.00	113.00	Investigations	Review insurance update from Kelly-Anne Trenfield to Clutz.	Corporate - Liquidation
Renee Lobb	Senior Director	23-May-16	0.2	565.00	113.00	Trade-On	Emails to JHC to respond to investor queries.	Category 2 - Current
Christine Stead	Senior Director	24-May-16	0.2	565.00	113.00	Administration	AX queries from GOK	Category 2 - Current
Glenn O'Keamey	Senior Director	24-May-16	0.2	565.00	113.00	Investigations	Call from ASIC regarding FOI application and note.	Category 2 - Current
Brittany Newman	Administration 1	25-May-16	0.2	145.00	29.00	Administration	Amend payment in MYOB - Liedekerke Wolter Waelbroeck Kirkpatrick	Category 2 - Current
Britlany Newman	Administration 1	25-May-16	0.4	145.00	58.00	Administration	Split files + filing	Corporate - Liquidation
Glenn O'Keamey	Senior Director	25-May-16	0.2	565.00	113.00	Creditors	Call from Clayton utz/.reconcile legat bills etc and discuss with JC	Corporate - Liquidation
Brittany Newman	Administration 1	26-May-16	0.3	145.00	43.50	Administration	Call to ATO to follow up FOI request sent 07/03/2016 + prepare 8974/n73	Corporate - Liquidation
Brittany Newman	Administration 1	26-May-16	0.1	145.00	14.50	Administration	Filing	Corporate - Liquidation
Glenn O'Kearney	Senior Director	26-May-16	0.1	565.00	56.50	Investigations	Review correspondence LMA liq regarding foi Imim	Corporate - Liquidation
Glenn O'Keamey	Senior Director	26-May-16	0.1	565.00	56.50	Creditors	Correspondence Clayton utz regarding legal bills/reconciliation of outstanding etc discuss with JC	Corporate - Liquidation
							reeviewing outstationing involces, reconcining to statement and register. Discussing with GOK. Reviewing bank account, arranging for transfer between accounts to attend to payments, circulating	
lames Cook	Consultant I	26-May-16	0.9	305.00	274.50	Administration	to GOK and KAT for release. Entering and reviewing outstanding Invoices in MYOB, preparing batch payment pending sufficient funds.	Category 2 - Current
Sinette Muller	Managing Director	26-May-16	2	625.00	1,250.00	Administration	Receive letter in draft to ICAANZ - check and make changes prior to being sent to Counsel for finalisation	Written Off/Not claimed
Renee Lobb	Senior Director	27-May-16	0.1	565.00	56.50	Trade-On	Respond to investor address update request. advise must use prescribed form.	Category 2 - Current
Caroline Halcoop	Administration 2	27-May-16	0.1	180.00	18.00	Administration	Release Commbiz transfer - \$60k transfer	Category 2 - Current
Jenn O'Keamey	Senior Director	27-May-16	0.2	565.00	113.00	Investigations	Correspondence with John K clouts regarding LMIM FOI	Corporate - Liquidation
Sinette Muller	Managing Director	30-May-16	2	625.00	1,250.00	Administration	Review of correspondence to ICAANZ - finalise and confirm to Greg Rodgers.	Written Off/Not claimed
any Drew	Administration 2	30-May-16	0.1	180.00	18.00		Prepared Final Letter and inserted JRP signature on approval;	Category 2 - Current

LM investment Ma Remuneration to 3	nagement Ltd (in Liquid 0 June 2018	dation)			3.204.515.29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Kelly-Anne Trenfield	Senior Managing Director	31-May-16	0.3	625.00	187.50	Assets	Email in from mark waller re approaches to insurersreview finalise letters; email open and without/prejudice letters to david white; draft email to mark waller re issuance of letters	Corporate - Liquidation
Carly Drew	Administration 2	31-May-16	0.2	160.00	36.00	Assets	Prepared Final Letter and formatted into FTI;	Category 2 - Current
Renee Lobb	Senior Director	31-May-16	0.7	565.00	395.50	Investigations	Incentew emails and a accomments regarding beinpact, moray and Agnew correspondence and First Mortgage Income Fund correspondence on insurance scheme. Save documentation regarding moray and Agnew funding requests also.	Corporate - Liquidation
Brittany Newman	Administration 1	01-Jun-16	0.1	145.00	14.50	Administration	Mail in from ATO - Correspondence; Your request for copies of documents	Corporate - Liquidation
Brittany Newman	Administration 1	01-Jun-16	0.2	145.00	29.00	Administration	Prepare Amended BAS (1 Jan - 31 Mar 2016) DOC 34 832 222 879	Corporate - Liquidation
Brittany Newman	Administration 1	01-Jun-16	0.2	145.00	29.00	Administration	Enter missing transaction for May 2015 + reconcile accounts as at 31/05/2016	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	01-Jun-16	0.1	625.00	62.50	Administration	Review Incoming documentation, consider and send to filing	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	01-Jun-16	0.1	625.00	62.50	Administration	Review incoming documentation, consider and send to filing	Category 2 - Current
Glenn O'Keamey	Senior Director	01-Jun-16	0.1	565.00	56.50	Administration	Correspondence in from ato regarding GST amendments	Corporate - Liquidation
Glenn O'Kearney	Senior Director	01-Jun-16	0.5	565.00	282.50	Investigations	Review FOI material in. note LMA liq.	Corporate - Liquidation
Glenn O'Keamey	Senior Director	01-Jun-16	0.2	565.00	113.00	Administration	Review and sign on an payments to surely inclayton utz. reconcile account s- discuss JC regarding transfer between LM accounts. Attending to reconciliation of pairk accounts in MYOB, entening invoices, receipting payments	Category 2 - Current
James Cook	Consultant I	01-Jun-16	2.2	305.00	671.00	Administration	received. Attending to payments, reconciling account, discussing and circulating to GOK.	Corporate - Liquidation
Caroline Halcoop	Administration 2	02-Jun-16	0.2	180.00	36.00	Administration	Release Commbiz transfers - CloudPlus & Clayton UTZ	Category 2 - Current
Brittany Newman	Administration 1	02-Jun-16	0.1	145.00	14.50	Administration	Filing	Corporate - Liquidation
Brittany Newman	Administration 1	02-Jun-16	0.1	145.00		Administration	Enter Grace Records Management Invoice Re00526441 In MYOB Accounts Payole + Prepare payment voucher	Category 2 - Current
Renee Lobb	Senior Director	03-Jun-16	0.2	565.00	113.00	Administration	Respond to amail from GOK regarding meeting with ASIC next week. provide availability.	Category 2 - Current
James Cook	Consultant I	06-Jun-16	0.5	305.00	152.50	Administration	Reviewing Russells' bills, updating in register. Discussing with GOK, values. Circulating to KAT.	Category 2 - Current
	Senior Director	06-Jun-16	0.5	565.00	282.50	Creditors	Review register regarding int maners/insurance issues, prep sch for Kelly discussions russells. review correspondence between parties.	Category 2 - Current
Glenn O'Kearney	Senior Director	07-Jun-16	0.2	565.00		Creditors	Review email from perpetual on custody fees, raise query for GC office staff.	Category 2 - Current
Kellv-Anne Trenfield	Senior Managing Director	07-Jun-16	0.1	625.00	62.50	Administration	Review legal costs re outstanding claims from russells; draft email to russels; review response	Category 2 - Current
John Park	Senior Managing Director	08-Jun-16	0.2	625.00		Assets	Settle letter to Ernst & Young;	Category 2 - Current
Brittany Newman	Administration 1	08-Jun-16	0.2	145.00	14.50	Administration	Review CBA online banking for BAS (1 Jan - 31 Mar 2016) refund - no refund received	Corporate - Liquidation
Ginette Muller	Managing Director	08-Jun-16	0.5	625.00	312.50	Administration	Emails from Perpetual. Note to RCL regarding same	Category 2 - Current
Brittany Newman	Administration (08-Jun-16	0.10	135	13.50	Administration	Filing	Category 2 - Current
Brittany Newman	Administration 1	09-Jun-16	0.1	145.00	14.50	Administration	Approve payment - Grace Records Management Invoice #RG00517922	Category 2 - Current
Renee Lobb	Senior Director	09-Jun-16	0.1	565.00	56.50	Administration	Review Ginette Muller query and ask GOK to forward perpetual response sent the other evening.	Category 2 - Current
Caroline Halcoop	Administration 2	09-Jun-16	0.5	180.00	90.00	Administration	Call JC re LM bank accounts with Commbiz	Category 2 - Current
Ginette Muller	Managing Director	09-Jun-16	0.4	625.00	250.00		Emails regarding inability to pay fees on all matters. Refer to KMC/BDO and arrange payment for some. Note content etc.	Written Off/Not claimed
James Cook	Consultant I	10-Jun-16	0.2	305.00	61.00	Administration	Attending to LMIM payments, Interentity transfers.	Category 2 - Current
Caroline Halcoop	Administration 2	10-Jun-16	0.1	180.00	18.00	Administration	Release payment - Commbiz - Grace Records	Category 2 - Current
Glenn O'Keamey	Senior Director	10-Jun-16	0.2	565.00	113.00	Investigations	Discussions with David clout regarding records available to LMA liq	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	13-Jun-16	0.1	625.00	62.50	Administration	Review and approve payment of ourstanding administration liabilities including review or supporting documentation and signing of transfer or cheque	Category 2 - Current
Glenn O'Kearney	Senior Director	13-Jun-16	0.1	565.00	56.50	Investigations	Correspondence DLC regarding mtg LMIM docs/assit LM A liq	Corporate - Liquidation
Ginette Muller	Managing Director	13-Jun-16	1	625.00	625.00	Administration	Receive correspondence from Greg Rodgers re situation on ICAANZ	Written Off/Not claimed
Caroline Halcoop	Administration 2	14-Jun-16	0.1	180.00	18.00	Administration	Release commbiz trf between a/cs - \$60k - JHC	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	14-Jun-16	0.2	625.00	125.00	Administration	GST review - review status of lodgements and refunds	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	14-Jun-16	0.1	625.00	62.50	Administration	mail in re outstanding legal costs from russells; review costs	Category 2 - Current
	Senior Director	14-Jun-16	1	565.00	565.00	Assets	Review material relating to LIMA preference claim in prep mig I huisday. RE LMIM position as creditor of LMA/prepaid fees etc.	Corporate - Liquidation

LM investment Ma	inagement Ltd (in Liqui	dation)						
Remuneration to 3 Name	10 June 2018 Title	Date	Hours	Charge Out Rate	3,204,515.29 Charge	Task Desc	Narrative	Classification
Brittany Newman	Administration 1	15-Jun-16		145.00	14.50	Administration	Review CBA online banking for BAS (1 Jan - 31 Mar 2016) refund - no refund received	Corporate - Liquidation
Christine Stead	Senior Director	15-Jun-16	0.1	565.00	56.50		review account and respond to email from KAT	Category 2 - Current
Glenn O'Keamey	Senior Director	15-Jun-16	0.1	565.00	56.50	Creditors	Review sign off on legal invoice/Clayton utz.	Corporate - Liquidation
Brittany Newman	Administration 1	16-Jun-16	0.1	145.00	14.50		Review CBA online banking for BAS (1 Jan - 31 Mar 2016) refund - no refund received	Corporate - Liquidation
Brittany Newman	Administration 1	16-Jun-16	0.4	145.00	58.00	Administration	Filing	Corporate - Liquidation
Caroline Halcoop	Administration 2	16-Jun-16	0,6	180.00	108.00		Work on CBA documents for LM - email to James C	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	16-Jun-16	0.5	625.00	312.50		Call in from Mark Waller re update on insurance status; review file re outstanding costs from Russell re belipacemail in and correspondence re settlement of KPG and lifestyle claims	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	16-Jun-16	0.8	625.00	500.00	Administration	Meeing with David Clout re funding of ATO preference claim	Corporate - Liquidation
Reпee Lobb	Senior Director	16-Jun-16	0.8	565.00	452.00	Investigations	Review notes by GOK pre meeting with ASIC this afternoon.	Category 2 - Current
Renee Lobb	Senior Director	16-Jun-16	1	565.00	565.00	Investigations	Meeting with ASIC regarding audit relief, fund and litigation update.	Category 2 - Current
Glenn O'Keamey	Senior Director	16-Jun-16	1	565.00	565.00	Investigations	Meeting clout regarding LMA preference/ato/LMIM funding as cred. review material provided by clout	Corporate - Liquidation
Glenn O'Kearney	Senior Director	16-Jun-16	3	565.00	1,695.00	Administration	Travel time to and from bris office - for LMIM clout meeting and ASIC meeting .charged to corporate.	Corporate - Liquidation
Ginette Muller	Managing Director	16-Jun-16	2	625.00	1,250.00	Administration	Review status of appointment and other pertinent issues as 2nd appointee. Particularly in view of recent issues raised by RGB and the current illigation that they are aware of regarding the company.	Written Off/Not claimed
Renee Labb	Senior Director	17-Jun-16	0.1	565.00	56.50	Administration	Respond to generic investor query and send to James for further investigation,	Category 2 - Current
Ginette Muller	Managing Director	17-Jun-16	0.2	625.00	125.00	Administration	Custody email re perpetual invoices	Category 2 - Current
Ginette Muller	Managing Director	17-Jun-16	1.5	625.00	937.50	Administration	Consider issues as provided to me by Greg. Greg to go back to Instittute lawyers to accept offer.	Written Off/Not claimed
Caroline Halcoop	Administration 2	20-Jun-16	0.7	180.00	126.00	Administration	Complete Commbiz forms to amend the LM accounts; email to GOK	Category 2 - Current
Glenn O'Keamey	Senior Director	20-Jun-16	1	565.00	565.00	Creditors	Correspondence in from Asmey, Reconcile involces regarding term app, note RAT, reconcile account sand note to Kelly regarding cash capacites to pay, note JC regarding correcting entries/rece and pay., Review incoming accumentation, consider and send to hilfigReview and update to do list, query	Category 2 - Current
 Kelly-Anne Trenfield	Senior Managing Director	20-Jun-16	0.1	625.00	62.50	Administration	outstanding items	Category 2 - Current
Caroline Halcoop	Administration 2	21-Jun-16	0.2	180.00	36.00	Administration	Finalise CBA forms for JP to sign to remove PTAL and add himself on LM;	Category 2 - Current
Brittany Newman	Administration 1	21-Jun-16	0.1	145.00	14.50	Administration	Review CBA online banking for BAS (1 Jan - 31 Mar 2016) refund - no refund received	Corporate - Liquidation
Glenn O'Keamey	Senior Director	22-Jun-16	0.5	565.00	282.50	Administration	Quenes SH regarding aus inving tund, searches regarding tund/company extract etc. review ASIC site for dereg forms and consider way forward.	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	22-Jun-16	0.1	625.00	62.50	Administration	review and approve email to ASIC after meeting to discuss reporting obligations	Category 2 - Current
Brittany Newman	Administration 1	23-Jun-16	0.1	145.00	14.50	Administration	Mail in from ATO - Correspondence; Lodge overdue tax returns review CBA online parking for BAS (1 Jan - 31 Mar 2015) returns - no retund received + Cair to ATO (1 - 10 - 10 - 10 - 10 - 10 - 10 - 10 -	Corporate - Liquidation Corporate - Liquidation
Brittany Newman	Administration 1	23-Jun-16	0.3	145.00		Administration	following up refund (advised amended BAS not yet received)	Corporate - Liquidation
Glenn O'Keamey	Senior Director	23-Jun-16	0.2	565.00	113.00	Administration	Review and sign amendment BAS, review workpapers and discuss with JC	Written Off/Not claimed
Ginette Muller	Managing Director	23-Jun-16	1.5	625.00	937.50	Administration	Update stakeholders and others regarding tribunal matter and next steps. Mair our to A I O - Amended BAS (1 Jan - 31 Mar 2016) DOC ID 34 832 222 879 + update GC BAS spreadsheet	Corporate - Liquidation
Brittany Newman	Administration 1	24-Jun-16	0.1	145.00		Administration Administration	Teverew email in from AUT re 2 x MPF matters and FMIF orfer to wark awayreview advice in from Russell re FMIF offer; draft response querying need to be involved prior to agreement	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	24-Jun-16	0.2	625.00	62.50	Administration	RCL re status of membership queries and fund admin	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	24-Jun-16 24-Jun-16	0.40	135	54.00	Administration	Filing	Category 2 - Current
Brittany Newman Glenn O'Keamey	Administration i Senior Director	24-Jun-16	0.40	565.00	113.00	Administration	Can with ASIC regarding and living retirement fund, review indemnity funds and journals in MYOB - discuss with JC.	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	28-Jun-16	0.1	625.00	62.50	Assets	Call in from Emima Fitzpatrick reinsufance correspondence to minter ellison; review and send instructions reletter to be issued.	Corporate - Liquidation
James Cook	Consultant }	28-Jun-16	0.8	305.00		Administration	Reviewing management accounts for LMIM. Recording operational expenses and contributions from funds. Reviewing outstanding invoices, recoding in MYOB. Discussing with GOK.	Category 2 - Current
Glenn O'Kearnøy	Senior Director	28-Jun-16	0.2	565.00	113.00	Administration	Review myob regarding amendments to receipts/discuss with JC.	Corporate - Liquidation

Remuneration to 3					3,204,515.29			Classifiantia
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Renee Lobb	Senior Director	29-Jun-16	0.2	565.00	113.00		Review letter to minter ellision and emails regarding mediation and KAt's response to same.	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	29-Jun-16	0.2	625.00	125.00	Administration	Review and update to do list; query outstanding items - meeting with GOK; JHC re handover	Category 2 - Current
Glenn O'Kearney	Senior Director	29-Jun-16	0.2	565.00	113.00	Administration	Discussions KAT regarding Im handovers etc.	Corporate - Liquidation
Glenn O'Kearney	Senior Director	29-Jun-16	0.1	565.00	56.50	Administration	Review and sign off on bank reconciliation/. Reviewing http://www.common.com/commons/commons/commons/commons/commons/commons/commons/commons/commons/commons/	Corporale - Liquidation
Renee Lobb	Senior Director	30-Jun-16	0.3	565.00	169.50	Investigations	meeting time.	Corporate - Liquidation
Renee Lobb	Senior Director	30-Jun-16	1	565.00	565.00	Investigations	Meeting at Clayton Utz regarding insurance matters and claims pending, orgoing.	Corporate - Liquidation
Renee Labb	Senior Director	30-Jun-16	0.2	565.00	113.00	Trade-On	Emails and arrangement of audit handover meeting.	Category 2 - Current
Renee Lobb	Sentar Director	30-Jun-16	0,2	565.00	113.00	Administration	Going through site to amend format and delete old content.	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	30-ปนก-16	1	625.00	625.00	Administration	update meeting with Clayton Utz re insurance	Corporate - Liquidation
Caroline Halcoop	Administration 2	30-Jun-16	0.3	180.00	54.00	Administration	Review and respond to email from JHC re changes to Commbiz for LM accounts	Category 2 - Current
Renee Lobb	Senior Director	01-Jul-16	0.2	565.00	113.00	Trade-On	Respond to queries on transaction statements. confirm no new transactions.	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	01-Jul-16	0.3	625.00	187.50	Administration	Email in re KPG and lifestylereview statement of claim sent by CU re MPF prepayment claim	Category 2 - Current
							Review and update to do list; query outstanding items Review incoming documentation, consider and	Category 2 - Current
Keliy-Anne Trenfield	Senior Managing Director	01-Jul-16	0.1	625.00	62.50	Administration	send to filing	Category 2 - Current
Reлee Lobb	Senior Director	05-Jน!-16	0.2	565.00	113.00	Administration	Emails with James cook regarding member registry changes process and handover. Reviewing correspondence to minters from Clutz regarding joinder application, save to the and print	Category 2 - Current
Renee Lobb	Senior Director	05-Jul-16	0.2	565.00	113.00	Investigations	for file.	Corporate - Liquidation
Renee Lobb	Senior Director	05-Jul-16	0.2	565.00	113.00	Investigations	Review email from Mark with responses to queries from M & A. Provide instructions to issue.	Corporate - Liquidation
Renee Lobb	Senior Director	05-Jul-16	0.1	565.00	56.50	Administration	Review GOK update on completion of Indicative NAVs.	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	05-Jul-16	0.1	625.00	62.50	Administration	Review and update to do list; query outstanding items; Review incoming documentation, consider and send to filing	Category 2 - Current
Renee Lobb	Senior Director	05-Jul-16	0.10	565	56.50	Trade-On	Respond to query on MPF. provide KM details.	Corporate - Liquidatior
Renee Lobb	Senior Director	06-Jul-16	0.2	565.00	113.00	Trade-On	Review email from Clayton utz and instruct to send letter/email to moray and Agnew.	Corporate - Liquidation
Renee Lobb	Senior Director	06-Jul-16	0.1	565.00	56.50	Administration	Respond to GOK query on ARLF	Category 2 - Current
	Senior Director	06-Jul-16	0.1	565.00	56.50	Investigations	Reviewing letter from minters to clayton utz on production of insurance policies.	Corporate - Liquidation
Renee Lobb		07-Jui-16	0.1	565.00	56.50	Investigations	Save and print for file minters, moray and Agnew and clayton utz correspondence,	Corporate - Liquidation
Renee Lobb	Senior Director		0.1	565.00	113.00	Investigations	Meeting with EY. Establish new audit timelines and discuss information needs to complete.	Category 2 - Current
Renee Lobb	Senior Director	07-Jul-16	0.2	565.00	56.50	Investigations	ARLF wind up form locate and send to GOK.	Category 2 - Current
Renee Lobb	Senior Director	07-Jul-16					Prayments to Cloud Plus and Surety as per involces forwarded inrough by JHC, payments sent back by JHC for approval	Category 2 - Current
Falia Glover	Administration 1	07-Jul-16	0.3	145.00	43.50	Administration Administration	Reconciliation of June transactions.Sent to GOK	Corporate - Liquidation
Ellen Dopking	Administration 1	08-Jul-16	0.1	145.00			Review Form au tiving ret fund, correspondence to ASIC> not chargeable to our funds	Category 2 - Current
Glenn O'Kearney	Senior Director	08-Jul-16	0.2	565.00	113.00	Administration	Review and payment of account;	Corporate - Liquidation
John Park	Senior Managing Director	11-Jul-16	0.1	625.00	62.50	Trade-On	Release Client Inf Commbiz - Cloud Plus & Surety - JHC	Category 2 - Current
Caroline Halcoop	Administration 2	11-Jul-16	0.1	180.00	18.00	Administration	Payment to the ATO for BAS - \$6483 - scanned paperwork through to BN for approval	Corporate - Liquidation
Talia Glover	Administration 1	11-Jul-16	0.2	145.00	29.00	Administration	Review email on mediation details and forward to Mark Waller.	Corporale - Liquidation
Renee Lobb	Senior Director	12-Jul-16	0.1	565.00	56.50	Investigations		Corporate - Liquidation
Glenn O'Kearney	Senior Director	12-Jul-16	0.1	565.00	56.50	Administration	Review bank reconciliation and approve.	Corporate - Liquidation
Blenn O'Keamey	Senior Director	12-Jul-16	0.5	565.00	282.50	Trade-On	Discuss LM tasks/fee info required etc JC. Emails with GUK, Neil Dempster and James cook on handover and providing information to surcorp	· · · · · · · · · · · · · · · · · · ·
Renee Lobb	Senior Director	13-Jul-16	0.3	565.00	169.50	Administration	for account access.	Category 2 - Current
Renee Lobb	Senior Director	13-Jul-16	0.2	565.00	113.00	Trade-On	Review update from GOK on controllership timing for finalisation.	Category 2 - Current
Glenn O'Keamey	Senior Director	13-Jul-16	0.2	565.00	113.00	Creditors	Review Clayton utz invoices - discussion with JC regarding allocation insurer funds etc.	Corporate - Liquidation
lenee Lobb	Senior Director	14-Jul-16	0.1	565.00	56.50	Investigations	Respond to email from mark Waller on mediation update.	Corporate - Liquidation
enee Lobb	Senior Director	14-Jul-16	0.1	565.00	56.50	Investigations	Review email from Kelly-Anne Trented continuing Clayton Utz can draw tees from Trust. Continuing with Mark Waller.	Corporate - Liquidation

390

LM investment Ma Remuneration to 3	inagement Ltd (In Liqui 10 June 2018	dation)			3,204,515.29	-:		
Name		Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Renee Lobb	Senior Director	18-Jul-16	0.2	565.00	113.00	Investigations	Review email update on M&A response on claim for costs in Liedekerke Proceedings regarding ID at Suncorp for account access.	Corporate - Liquidation
Ranee Lobb	Senior Director	18-Jul-16	0.2	565.00	226.00		Go to suncorp to get identified for access to accounts.	Category 2 - Current
Namee Lobb							Review email from ASIC regarding auditor change and reasoning and GUK's reply to FIT starr on	
Renee Lobb	Senior Director	18-Jul-16	0.1	565.00	56.50		response.	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	18-Jul-16	0.1	625.00	62.50		Review incoming documentation, consider and send to filing	Category 2 - Current Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	18-Jul-16	0.1	625.00	62.50		Review incoming documentation, consider and send to filing	Category 2 - Current
Neil Dempster	Senior Consultant I	18-Jui-16	0.1	305.00	30.50		Travel to Suncorp branch to verify identify for access to accounts	Category 2 - Current
Neil Dempster	Consultant I	18-Jul-16	0.10	305	30.50		Travel to Suncorp branch to verify identity for access to accounts	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	19-Jul-16	0.1	625.00	62.50		Email in re settlement of bellpac claims Review calculations re remuneration allocation	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	19-Jul-16	0.1	625.00	62.50			Corporate - Liquidation
Neil Dempster	Senior Consultant I	19-Jul-16	0.2	305.00	61.00	Trade-On	Draft email to niall noting unlikely to be a div for unsecured creditors. Send to RCL for review Temail to RCL re location of registers and continuation of Goh Lin Pauline's removal from fund as	Corporate - Liquidation
Neil Dempster	Senior Consultant I	19-Jul-16	0.2	305.00	61.00	Creditors	advised by TTG wealth management. discussion re same	Category 2 - Current
Renee Lobb	Senior Director	20-Jul-16	0.3	565.00	169.50	Administration	Travel to and from gold coast for meetings with gold coast staff and accountants.	Category 2 - Current
Renee Lobb	Seniar Director	20-Jul-16	0.1	565.00	56.50	Creditors	Redraft Neil Dempster email on commissions and lack of LMIM dividend.	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	20-Jui-16	0.4	625.00	250.00	Administration	Review bdo email in re bellpac settlement and insurance payout	Category 2 - Current
Neil Dempster	Senior Consultant I	20-Jul-16	0.1	305.00	30.50	Creditors	Email to Niall Martin note no dividend to unsecured creditors, confirm they have submitted a pod	Corporate - Liquidation
Glenn O'Keamey	Senior Director	20-Jul-16	0.1	565.00	56.50	Administration	Review BAS and work sheets. sign off.	Corporate - Liquidation
							Enter missing transactions for June 2016, reconcile accounts as at 30/06/2016 + prepare BAS (1 Apr 30 Jun 2016) DOC ID 35 621 553 483	Corporate - Liquidation
Brittany Newman	Administration 1	20-Jul-16	0.4	145.00	58.00	Administration	130 Jun 2016) DOC ID 35 021 553 465 Prepare payment voucher - GST owing on BAS (1 Apr - 30 Jun 2016) + prepare receipt voucher in	Corporate - Elquidation
Brittany Newman	Administration 1	20-Jul-16	0.2	145.00	29.00	Administration	MYOB - BAS Refund (1 Jan - 31 Mar 2016)	Corporate - Liquidation
				COT 00	075.00	Administration	DO NOT CLAIM FROM CLIENT - Review all matters in preparation for decoupling. Prepare Deed.	Written Off/Not claimed
Ginette Muller	Managing Director	20-Jul-16	0.6	625.00	375.00	Administration	ID myser with suncorp and send ID humper to suncorp contact draft PTAL/Suncorp authorisation	
Renee Lobb	Senior Director	21-Jul-16	0.8	565.00	452.00	Administration	letter and send to Kelly-Anne Trenfield for review.	Category 2 - Current
Renee Lobb	Senior Director	21-Jul-16	0.3	565.00	169.50	Investigations	Review mediation update and make comments to Kelly-Anne Trenfield, review response.	Corporate - Liquidation
				505 00	400.50	Immediations	Review email from Mark waller with his thoughts on settlement offer from Managed Performance Fund/First Mortgage Income Fund mediation.	Corporate - Liquidation
Renee Lobb	Senior Director	21-Jui-16	0.3	565.00	169.50	Investigations	Reviewing emails to and from GOA and Steve nannah about western Union lunds withheid and now	· · · · · · · · · · · · · · · · · · ·
		1					being viewed to distribute including thoughts behind classing them as redeemed and distributing in	Category 2 - Current
Renee Lobb	Senior Director	21-Jul-16	0.2	565.00	113.00	-	light of them missing the 2013 distribution.	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	21-Jul-16	0.7	625.00		Administration	Review comment from waller; re read hyste offer; review costs to date; update to jrp	Corporate - Liquidation
Kelly-Anne Trentield	Senior Managing Director	21-Jul-16	0.1	625.00	62.50	Administration	RCL re bank acc operations and insurance settlement Jrp re settlement on pelipac claim ; email in from clayton utzreview comments from mark waller;	Corporate - Elquidadon
Kelly-Anne Trenfield	Senior Managing Director	21-Jul-16	0.2	625.00	125.00	Administration	review legal costs re bellpac and insurance	Corporate - Liquidation
Renee Lobb	Senior Director	22-Jul-16	0.2	565.00	113.00	Creditors	Review advisor commission advice from norton rose and save to file.	Category 2 - Current
Renee Lobb	Senior Director	22-Jul-16	0.2	665.00	113.00	Creditors	Seek AMU assistance in finalisation of reports explain process and timeline.	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	22-Jul-16	0,1	625.00	62.50	Administration	email from jrp re bellpac insurance settlement; draft email to mark waller re meeting	Corporate - Liquidation
John Park	Senior Managing Director	23-Jul-16	0.1	625.00	62.50	Administration	Email in Mark Waller.	Corporate - Liquidation
Sole)) Gin							Respond to general query on changing beneficiaries should a person pass away advise needs to be	Category 2 - Current
Renee Lobb	Senior Director	25-Jul-16	0.2	565.00	113.00	Trade-On	changed when deceased. Update with Keily-Anne Trentier post meeting with BDC and Clayton UZ. Discuss possible	
Renee Lobb	Senior Director	25-Jul-16	0.3	565.00	169.50	Investigations	settlement terms following insurer, KM, BDO mediation.	Corporate - Liquidation
Christine Stead	Senior Director	25-Jul-16	0.1	565.00	56.50	Administration	Review books and records located at GC office and provide instructions to BN to archive	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	25-Jul-16	1.1	625.00	687.50	Assets	meeting with Clayton Utz and thenBDO/Gadens re settlement of insurance cover/Bellpac	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	25-Jui-16	0.2	625.00	125.00	Assets	emails in re meeting re settlementRCL re update on insurance settlement	Corporate - Liquidation
							Review and sign BAS return for period; sign any associated payments; update schedule or outstanding roll um/columns	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	25-Jul-16	0.1	625.00	62.50	Administration	outstanding returns/refunds	

(

Neil Dempster Co Neil Dempster Co Brittany Newman Ac Renee Lobb Se Brittany Newman Ad	Title Aanaging Director Consultant I Consultant I Administration I	25-Jul-16 25-Jul-16 25-Jul-16 25-Jul-16	Hours 2 0.10 0.10 0.10	Charge Out Rate 625.00 305 305 135	3,204,515.29 Charge 1,250.00 30.50 30.50 13.50	Task Desc Administration Creditors Creditors	Narrative LM legal costs - review. Review should not be charged to client. Review latest development on file. Email to pecky lau at TTG wealth management re Mark Pellemens. Confirm KM have this fund, provide details Email to Ali Nuri provide details for KM for their fathers fund Filing	Classification Written Off/Not claimed Corporate - Liquidation Corporate - Liquidation Category 2 - Current
Neil Dempster Cc Neil Dempster Cc Brittany Newman Ac Renee Lobb Se Brittany Newman Ad	Consultant I Consultant I Idministration I	25-Jul-16 25-Jul-16 25-Jul-16	0.10	305	30.50	Creditors Creditors	Email to pecky lau at TTG wealth management re Mark Pellemens. Confirm KM have this fund, provide details Email to Ali Nuri provide details for KM for their fathers fund	Corporate - Liquidation Corporate - Liquidation
Neil Dempster Cc Brittany Newman Ac Renee Lobb Se Brittany Newman Ad	Consultant I Administration I Henior Director	25-Jul-16 25-Jul-16	0.10	305	30.50	Creditors	provide details Email to Ali Nuri provide details for KM for their fathers fund	Corporate - Liquidation
Brittany Newman Ac Renee Lobb Se Brittany Newman Ad	Administration I	25-Jul-16						
Renee Lobb Se Brittany Newman Ad	enior Director		0.10	135	13.50	Administration	Filing	Category 2 - Current
Brittany Newman Ad							2	
Brittany Newman Ad							and LM Investment Management Ltd corporate, go through file handover memos, discuss critical issues, distributions, calculations of NAV's and whereabouts of necessary documents. go through accounting process and other standards setup for the funds and LM Investment Management Ltd corporate to ensure consistency. Go through fund payment process, registers, live issues, action tasks, record keeping amongst other matters. Go through remuneration allocation, western union issue, First Mortgage income Fund indemnity issues, go through handover memos with GOK and discuss critical issues.	Category 2 - Current
		26-Jul-16	1.2	565.00		Trade-On		
John Park Se	dministration 1	26-Jul-16	0.2	145.00	29.00	Administration	Filing Email in Mark Waller, David Whyte; discussion with Jarrod Villani.	Corporate - Liquidation Corporate - Liquidation
	enior Managing Director	27-Jul-16	0.5	625.00	312.50	Administration	Finalise PTAL/Suncorp access letter and send to Kelly-Anne Trentield regarding account access.	Corporate - Liquidation
Renee Lobb Se	eniar Director	27-Jul-16	0.1	565.00	56.50	Trade-On	Follow up tokens with Suncorp.	Category 2 - Current
Renee Lobb Se	enior Director	27-Jul-16	0.3	565.00	169.50	Administration	Income surery of payment and request payment intrough and the BPAY. Dealing with account access lissues with Caroline Halcoop/Kelly-Anne Trenfield/ Suncorp/ Finalising PTAL letter for authorisation etc. Take call with suncorp also.	Category 2 - Current
Renee Lobb Se	enior Director	27-Jul-16	0.2	565.00	113.00	Investigations	Review change with First mongage income Fund representatives on proposed settlement agreement and queries on r terms.	Corporate - Liquidation
	dministration 1	27-Jul-16	0.1	145.00		Administration	Mail in from ATO - Correspondence re overdue income tax returns	Corporate - Liquidation
	dministration 1	27-Jul-16	0.2	145.00	29.00	Administration	Prepare B&R Listing - Boxes 10 & 11 + enter in MYOB	Corporate - Liquidation
	enior Managing Director	27-Jul-16	0.8	625.00	500.00	Administration	update meeting with Russelfs - Ashley Tiplady	Category 2 - Current
	enior Managing Director	27-Jul-16	0.2	625.00	125.00	Administration	Emails in re bellpac/mpf settlementReview incoming documentation, consider and send to filing	Category 2 - Current
Kelly-Anne Trenfield Ser	enior Managing Director	27-jul-16	0.1	625.00	62.50	Administration	Review and approve payment or dotstanding administration nabinities including review or supporting documentation and signing of transfer or chequeReview incoming documentation, consider and send to filing	Category 2 - Current
Talia Glover Adr	fministration 1	27-Jul-16	0.2	145.00	29.00	Administration	Payment to Nicsand Pty Ltd (Steve Hannan) for consulting tees involde Number 216 RCL \$3501.30 - circulate	Category 2 - Current
	dministration 1	28-Jul-16	0.2	145.00		Administration		Corporate - Liquidation
	dministration 1	28-Jul-16	0.4	145.00		Administration		Corporate - Liquidation
	enior Managing Director	28-Jul-16	0.4	625.00			message from and return call to mark waller; review emails re settlement and proposalizview emails re status; call to mark waller re update	Corporate - Liquidation
	enior Managing Director	28-Jul-16	0.2	625.00	125.00	Administration	Settle letter to PATL.	Category 2 - Current
	enior Director	29-Jul-16	0.3	565.00	169.50	Administration	Call with Suncorp. Set up account access and arrange token.	Category 2 - Current
	enior Managing Director	29-Jui-16	1.2	625.00	750.00	Administration	Meet with Jarrod Villani; discussions with Mark Waller.	Corporate - Liquidation
	enior Managing Director	29-Jul-16	0.3	625.00	187.50	Administration	Review incoming documentation, consider and send to filing	Corporate - Liquidation
							meeting with JRP and call Mark WallerCall with Mark Waller to discussion outcome of meeting with JRP and call Mark WallerCall with Mark Waller to discussionEmail to Clayton Utz re	
Ketly-Anne Trenfield Sen	enior Managing Director	29-Jui-16	0.7	625.00	437.50	Assets		Corporate - Liquidation
Kelly-Anne Trenfield Sen	nior Managing Director	31-Jul-16	0.2	625.00	125.00	Administration		Corporate - Liquidation
	nior Managing Director	01-Aug-16	0.4	625.00	250.00	Administration		Corporate - Liquidation
Renee Lobb Sen	nior Director	01-Aug-16	1.2	565.00	678.00	ĺ	Learsing with suncerp on account access, taken acayanon etc and request aconomic transfer using limit. Save down costs agreement for 2016 for clayton utz. Assist Neil Dempster in account online banking setup. Call separate line and deal with token registration issues. follow up why unable to load transfers.	Corporate - Liquidation
	nior Managing Director	01-Aug-16	0.1	625.00		1466 011		Corporate - Liquidation

Remuneration to					3,204,515.29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Kelly-Anne Trenfield	Senior Managing Director	01-Aug-16	0.1	625.00	62.50	Administration	emails in re fees/audits	Category 2 - Current
Neil Dempster	Consultant I	01-Aug-16	0.10	305	30.50	Trade-On	Email to Peter Hockley - confirm Korda Mentha are in control of LMMPF - provide email make payment or steve Hannan invoice via myob payment request. Check payment when received	Corporate - Liquidatior
Renee Lobb	Senior Director	02-Aug-16	0.2	565.00	113.00	Trade-On	and send to KAT for signing.	Category 2 - Current
Renee Lobb	Senior Director	02-Aug-16	0.3	565.00	169.50	Investigations	Review conespondence from Claynon Oz to Gadens on our terms in which we will settle instrance claims via the post mediation settlement deed. Review gadens response, review, print and save policy 1 exhaustion notification letter from moray & Agnew.	Corporate - Liquidation
Caroline Halcoop	Administration 2	02-Aug-16	0.1	180.00	18.00	Administration	Release Commbiz Irf - Sureity - \$429.00	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	02-Aug-16	0.1	625.00	62.50	Administration	Review incoming documentation, consider and send to filing	Category 2 - Current
Renee Lobb	Senior Director	02-Aug-16	0.10	565	56.50	Trade-On	Call with investor. provide KM details.	Corporate - Liquidation
John Park	Senior Managing Director	03-Aug-16	0.2	625.00	125.00	Administration	Email in Mark Waller and David Whyte.	Corporate - Liquidation
Renee Lobb	Senior Director	03-Aug-16	0.1	565.00	56.50	Investigations	Review and file all documentation from GOK on various matters retrieved from GC office.	Category 2 - Current
John Park	Senior Managing Director	04-Aug-16	0.2	625.00	125.00	Assets	Review and sign approvals for PTAL.	Category 2 - Current
Renee Lobb	Senior Director	04-Aug-16	0.1	565.00	56.50	Administration	Do updates for ASIC fodgement compliance.	Category 2 - Current
Renee Lobb	Senior Director	04-Aug-16	0.2	565.00	113.00	Investigations	Review settlement/insurance/negotiations with David Whyte and Managed Performance Fund information from Clayton Utz and save same.	Corporate - Liquidation
Renee Lobb	Senior Director	04-Aug-16	0.1	565.00			Request payment through myob of Grace records invoice.	Category 2 - Current
Caroline Halcoop	Administration 2	04-Aug-16	0.1	180.00	18.00	Administration	Release commbiz payment - Nicsand Pty Ltd - RCL	Category 2 - Current
	Administration 2	04-Aug-10	0.1	100.00	10.00	Administration	G through payment procedure with iven Dempster and Update for share registry invoice received,	
Renee Lobb	Senior Director	05-Aug-16	0.8	565.00	452.00	Administration	request allocation on AIF and ASPF portions, make payment of cloud plus invoice.	Category 2 - Current
Renee Lobb	Senior Director	05-Aug-16	0.7	565.00	395.50	Administration	Going prough emails and reasers from Russells on application or AIF settlement monies. Call Asineys EA at russells to ensure correct accounting after trying to reconcile to our records unsuccessfully and provide Kelly-Anne Trenfield an update.	Category 2 - Current
Talia Glover	Administration 1	05-Aug-16	0.2	145.00		Administration	Payment to Grace Records Management (Australia) Pty Ltd for Records Storage Inv RGU0543829 \$325.72 RCL	Category 2 - Current
Talia Glover	Administration 1	05-Aug-16	0.2	145.00	29.00	Administration	Payment to Cloud Plus Pty Ltd for Invoice number 1003351 \$7801.20 RCL	Category 2 - Current
Ashleigh Ubank	Administration 2	05-Aug-16	0.6	180.00	108.00	Administration	Bank account/s reconciled to requested date/s.	Corporate - Liquidation
John Park	Senior Managing Director	05-Aug-16	0.1	625.00	62.50	Administration	Emall in Mark Waller.	Corporate - Liquidation
Renee Lobb	Senior Director	08-Aug-16	0.2	565.00	113.00	Administration	Going through bank rec's for 524, confirm with AMU \$30k transaction was entered correctly and should be reconciled.	Corporate - Liquidation
Renee Lobb	Senior Director	08-Aug-16	0.1	565.00	56.50	Administration	Review and attach supporting documents to payments. send to Kelly-Anne Trenfield.	Category 2 - Current
Renee Lobb	Senior Director	08-Aug-16	0.2	565.00	113.00	Administration	Filing emails sent over the past 2 weeks totaling over 600 emails.	Category 2 - Current
Renee Lobb	Senior Director	08-Aug-16;	0.6	565.00	339.00	Investigations	Receipt trust , monies funding from M & A for Liederkerke proceeding. Update register for amounts paid. Pay additional shortfall on invoice and scan and save documents to accompany.	Corporate - Liquidation
Renee Lobb	Senior Director	08-Aug-16	0.2	565.00	113.00	Administration	Make payment from LMIM main account for lodgement fee to finalise ARLF.	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	08-Aug-16	0.1	625.00	62.50	Administration	Email from an d response to Ashley tiplady re status of settlement	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	08-Aug-16	0.1	625.00	62.50	Administration	Review and approve payment of outstanding administration flabilities including review of supporting documentation and signing of transfer or cheque	Category 2 - Current
Caroline Haicoop	Administration 2	08-Aug-16	0.2	180.00	36.00	Administration	Record b & r information; label & move box to pick up location	Calegory 2 - Current
alia Glover	Administration 1	08-Aug-16	0.4	145.00	58.00	Administration	Payment to Clayton up for invoice number 3913949 \$3691.96 and to ASIC for Lodgement fee for form to finalise australian Retirement Living Fund \$37 RCL	Corporate - Liquidation
Talia Glover	Administration I	08-Aug-16	0.10	135	13.50	Administration	Reconciliation for July transactions completed, cover page printed and circulated to RCL	Category 2 - Current
Renee Labb	Senior Director	09-Aug-16	0.1	565.00	56.50	Administration	Enter interest transactions for bank rec.	Category 2 - Current
Renee Lobb	Senior Director	09-Aug-16	0.2	565.00	113.00	Administration	Review, check, sign on on and attach supporting documents to payments. Send to Kelly-Ahne Trenfield and then Caroline Halcoop to process.	Category 2 - Current
Caroline Halcoop	Administration 2	09-Aug-16	0.2	180.00	36.00	Administration	Retease payments - CloudPlus Pty Ltd & Grace Records	Category 2 - Current
lenee Lobb	Senior Director	11-Aug-16	0.1	565.00	56.50	Administration	Follow up russells settlement invoice allocation for costs funds received.	Category 2 - Current

LM Investment Ma Remuneration to 3	inagement Ltd (In Liqui IO lune 2018	dation)			3,204,515.29		이는 것은 것을 가지 않는다. 같은 것은	
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Kelly-Anne Trenfield	Senior Managing Director	11-Aug-16	0.1	625.00	62.50	Administration	Review and approve payment or outstanding administration liabilities including review of supporting documentation and signing of transfer or cheque	Category 2 - Current
Caroline Haicoop	Administration 2	11-Aug-16	0.1	180.00	18.00	Trade-On	Release Commbiz transfers - ASIC & Clayton UTZ - RCL	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	12-Aug-16	0.1	625.00	62,50	Administration	Review and update to do list; query outstanding items	Category 2 - Current
John Park	Senior Managing Director	15-Aug-16	0.1	625.00	62.50	Administration	Email in Mark Waller.	Corporate - Liquidation
Renee Lobb	Senior Director	15-Aug-16	0.2	565.00	113.00	Creditors	Respond to creditor email. Review register or creditors and hole no claim registered under Simon pacey.	Corporate - Liquidation
Ashleigh Ubank	Administration 2	15-Aug-16	0.1	160.00	18.00	Administration	Bank account/s reconciled to requested date/s.	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	15-Aug-16	0.4	625.00	250.00	Administration	Review and update to do list; query outstanding items	Category 2 - Current
Caroline Halcoop	Administration 2	15-Aug-16	0.3	180.00	54.00	Trade-On	RCL advise and on some payments from last week - relatence/IBAN number changed by CBA; adjustments set up on Commbiz - Brett advised instructions to progress to authorisation; account not set up for trf - Brett provide necessary forms to be signed by GDM & JP	Category 2 - Current
Caroline Halcoop	Administration 2	15-Aug-16	0.1	180.00	18.00	Administration	On forward Commbiz rejected dividend advices to RCL	Category 2 - Current
Neil Dempster	Consultant I	15-Aug-16	0.10	305	30.50	Trade-On	Email to European Capital note that our office not in control of MPF. Provide KM email Fino creditor information stored, make change in accordance with email request and contain with the	Corporate - Liquidation
Renee Lobb	Senior Director	16-Aug-16	0.2	565.00	113.00	Creditors	creditor.	Corporate - Liquidation
Neil Dempster	Senior Consultant I	16-Aug-16	0.1	305.00	30.50	Trade-On	Email to Madhu note that potential virus phishing email sent through investor portal	Corporate - Liquidation
Neil Dempster	Consultant I	16-Aug-16	0.10	305	30.50	Trade-On	Email to Madhu note that potential virus phishing email sent through investor portal	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	17-Aug-16	0.1	625.00	62.50	Administration	tidy up emails/Review and update to do list; query outstanding items	Corporate - Liquidation
Talia Glover	Administration 1	18-Aug-16	0.5	145.00	72.50	Administration	Banked cheque for settlement funds to CBA Eagle Street for \$26895.43, circulated paperwork to RCL	Category 2 - Current
Kellv-Anne Trenfield	Senior Managing Director	19-Aug-16	1.6	625.00	1,000.00	Assets	Review settlement deed re insurance, MIF and MPF proceedings; call to russells re claims and AJT re review of releasesemail update to JRP re reviewamend deed and ernail to clayton utzcall in from Ashley Tiplady re review of settlement deedupdate to jrp; draft email to chris erfurt; call in from Chris	Corporate - Liquidation
Keliy-Anne Trenfield	Senior Managing Director	19-Aug-16	0.1	625.00	62.50	Administration	review bank transfer re payment of legal accounts	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	19-Aug-16	0.2	625.00	125.00	Administration	Review incoming documentation, consider and send to filing	Category 2 - Current
John Park	Senior Managing Director	19-Aug-16	0.2	625.00	125.00	Assets	Review draft settlement deed with Clayton Uiz;	Corporate - Liquidation
Talia Glover	Administration 1	19-Aug-16	0.2	145.00	29.00	Administration	Payment to Surety IT Pty Ltd for shortfall on invocie 19632 of \$9 RCL	Category 2 - Current
John Park	Senior Managing Director	20-Aug-16	0.1	625.00	62.50	Assets	Review email to Clayton Utz;	Corporate - Liquidation
John Park	Senior Managing Director	22-Aug-16	0.1	625.00	62.50	Assets	Review KAT email on settlement deed;	Category 2 - Current
Caroline Halcoop	Administration 2	22-Aug-16	0.1	180.00	18,00	Administration	Release Commbiz transfer - LM to Surety IT - \$8.00 - RCL	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	22-Aug-16	0.4	625.00	250.00	Administration	Emain n from asniey tipicaly re review of deed, discuss with JRP and responsecall in from Chris Erfurt, draft email to Ashley Tipladyreview email in from AJT; msg to Clayton Utz; draft response Review and approve payment of outstanding administration flabilities including review of supporting	Corporate - Liquidation
Kelly Anne Trenfield	Senior Managing Director	22-Aug-16	0.1	625.00	62.50	Administration	documentation and signing of transfer or cheque	Category 2 - Current
Kelly-Anne Trenfield Renee Lobb	Senior Managing Director	22-Aug-16 22-Aug-16	0.1	565.00		Investigations	Review settlement deed proposed on insurance matters.	Corporate - Liquidation
Talia Glover	Administration 1	23-Aug-16	<u> </u>	145.00			4 x payments for LM investment as per RCL request completed interentity transfer between High interest account and cash at bank account for \$80,000 Payment to King & Wood Mallesons for Invoice number 10059538 for \$2817.10 Payment to ASIC for late lodgement fee of financial reports for CPF	Corporate - Liquidation
lohn Park	Senior Managing Director	24-Aug-16	0.2	625.00		Assets	Emails in Clayton Utz / David Whyte;	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	24-Aug-16	0.1	625.00		Administration	Review incoming documentation, consider and send to filing	Category 2 - Current
	Senior Managing Director	24-Aug-10 24-Aug-16	0.1	625.00		Administration	Review emails in re Belgian claim and position of insurer	Corporate - Liquidation
Renee Lobb	Senior Director	25-Aug-16	0.5	565.00		Administration	Go through 524 data with Nell Dempster and locate and fix error of \$5 difference. regarding transfer funds to CVL account to effect change.	Corporate - Liquidation
	Senior Director	25-Aug-16	0.2	565.00	113.00	Investigations	Respond to email from Clayton Utz regarding Liedekerke proceedings, provide instructions to proceed with lean defence as agreed to in funding with Moray & Agnew.	Corporate - Liquidation

LM investment Ma Remuneration to 3	inagement Ltd (In Liqui 10 June 2018	dation)			3.204.515.29			
Name	化乙基苯基乙基 医白细胞 网络白垩白 网络白垩合 网络白垩合	Date	Hours	Charge Out Rate		Task Desc	Narrative	Classification
Neil Dempster	Senior Consultant J	25-Aug-16	5 2	305.00	610.00	Administration	Preparation of Form 524, required considerable work in identifying previously receipted figure in incorrect period (VA instead of CVL). Discuss with RCL, she requests structured data to be drafted.2	Corporate - Liquidation
Ashleigh Ubank	Administration 2	25-Aug-16	0.1	180.00	18.00	Administration	Searches undertaken on the company.	Corporate - Liquidation
		05 4.45 40		505.00	400.50		Query from RCLreview emails in and previous costs; review previous emails from Stephanie at Russells re law and orders costs	Category 2 - Current
Christine Stead	Senior Director	25-Aug-16	0.3	565.00	169.50	Administration	Vanous emails, telephone cans with rect area, commoliz le reprocessing d'rejecteu tiw	Olacyony 2 - Ouricia
							international payments. Issue amendment form to GDM to sign to amend status of LM a/c to allow transactions. GDM away - arrange with LG to chase up on Monday and to have JP sign as well and	
Caroline Halcoop	Administration 2	26-Aug-16	i 0.9	180.00	162.00	Administration	submit back to Brett Commin with Communiz Payment section details of some payments - 1. Susan x 2 payments 2.	Category 2 - Current
Caroline Halcoop	Administration 2	26-Aug-16	0.2	180.00	36.00	Administration	Steven - 5 payments	Category 2 - Current
Neil Dempster	Senior Consultant I	29-Aug-16	1.5	305.00	457.50	Administration	LMIM form 524 - draft preparation checklist. Discuss with RCL the reporting of total creditors as structured data 524 populating different figures - edits to same. Print previous form 524 for reference. Extract receipts and payments - check figures - note to KAT a refund transaction that has been receipted as positive 'payment'. Figures still match up. Print bank statements relevant to 524 period.	Corporate - Liquidation
Renee Lobb	Senior Director	30-Aug-16	0.3	565.00	169.50	Investigations	review, save, update constituant the register and request payment of clayton up invoice: anange reimbursement to AIF account LMIM of \$60k top up previously incorrectly processed. Process other payment reimbursements for reimbursements to LM Investment Management Ltd by funds for amounts paid by corporate.	Corporate - Liquidation
Neil Dempster	Senior Consultant I	30-Aug-16	0.5	305.00	152.50	Administration	Initial draft periodic matter review form - further work required.	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	30-Aug-16	0.1	625.00	62.50	Administration	Review F524 and supporting docs; review updated work programme and half annual review	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	30-Aug-16	0.2	625.00	125.00	Administration	emails in and response to change or onice locationReview incoming documentation, consider and send to filling	Category 2 - Current
Talia Glover	Administration 1	31-Aug-16	0.2	145.00	29.00	Administration	Payment to Grace Records Management (Australia) for involce number RG00535137 \$313.18 RCL 3 x deposit paying in sings posied and primed i for Asic rees reimoursement \$310Kemoursement	Calegory 2 - Current
Talia Glover	Administration 1	31-Aug-16	0.3	145.00	43.50	Administration	from CPAIF for its portion of KWM invoice number 10059538 \$386.10Relmbursement from AiF for its portion of KWM invoice number 10059538 \$1916.20	Category 2 - Current
Talia Glover	Administration 1	31-Aug-16	0.2	145.00	29.00	Administration	dated 04/08/16 for CPF. Funds reimbursed by CPF. \$3450 - circulated to RCL	Category 2 - Current
Talia Glover	Administration 1	31-Aug-16	0.1	145.00		Administration	Printed and posted deposit paying in slip for payment under agreed payment arrangement dated 04/08/16 to account number 13405907. \$3450 - circulated to RCL	Corporate - Liquidation
John Park	Senior Managing Director	31-Aug-16	0.1	625.00	62.50	Assets	Review and sign Form 524;	Corporate - Liquidation
Renee Lobb	Senior Director	31-Aug-16	0.5	565.00	282.50	Administration	Go through review checklist and assist Nell Dempster in Completion of same. provide detail on remuneration approvals, next steps for completion, insurances etc. recomping nemistrismeans me on roo of criticity, criticity and are paynetics made by Livi Investment.	Category 2 - Current
Renee Lobb	Senior Director	31-Aug-16	0.4	565.00	226.00		Management Ltd and reimbursed from funds, print supporting documents. Review, sign off and print and attach supporting documents to LM Investment Management Ltd payments being made. Make payment request through MYOB to grace records.	Category 2 - Current
veil Demoster	Senior Consultant I	31-Aug-16	1.6	305.00	488.00		appropriate documentation lodged. Work with RCL to complete checklist for matters I am not	Corporate - Liquidation
Renee Lobb	Senior Director	01-Sep-16	0.2	565.00	113.00	Administration	Sign off and attach supporting documents to payments.	Category 2 - Current
elly-Anne Trenfield	Senior Managing Director	01-Sep-16	0.1	625.00	62.50	Assets	review status of insurance settlement; check status with JRO	Corporate - Liquidation
···-	Senior Managing Director	01-Sep-16	0.1	625.00			Review and approve payment of outstanding administration liabilities including review of supporting documentation and signing of transfer or cheque	Category 2 - Current
aroline Halcoop	Administration 2	01-Sep-16	0.2	160.00	36.00	Administration	Release Commits trf x 4 - RCL	Category 2 - Current
	Administration 2	01-Sep-16	0.4	180.00	72.00		Jessica from Communizativised international instready for updating & approval; check with RCL before releasing; RCL confirmed okay to release - released 9 payments	Category 2 - Current
		02-Sep-16	0.2	565.00		Administration	Discussion with Caroline Halcoop regarding grace records involces and whether we are missing august.	Category 2 - Current

Rémuneration to					3,204,515.29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Renee Lobb	Senior Director	02-Sep-16	0.4	565.00	226.00	Investigations	Discussion with Clayon biz regarding proposed antenuments to sectement deed between us, while and First Mortgage income Fund. Send note to Kelly-Anne Trenfield after providing instructions to proceed forward on the issue by seeking an extension of time to COB mon to consider the proposed amendments.	Corporate - Liquidation
John Park	Senior Managing Director	02-Sep-16	0.4	625.00	62.50		Email in Clayton Utz;	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	02-Sep-16	0.1	625.00	62.50		JRP re status of settlement; draft and send email to mark waller	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	02-Sep-16	0.1	625.00	125.00		Call to Clayton Utz re status of insurance settlement	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	02-Sep-16	0.1	625.00	62.50		Review and approve payment of outstanding administration liabilities including review of supporting documentation and signing of transfer or cheque	Category 2 - Current
Caroline Halcoop	Administration 2	02-Sep-16	0.1	180.00	18.00	Administration	Call from Commbiz to verify 4 transfers - confirmed a/c details	Category 2 - Current
Renee Lobb	Senior Director	05-Sep-16	0.5	565.00	282.50	Administration	Go bridugn grace records, can grace to establish any differ unpaid amounts: request nivolce not nero request payment for Sept invoice through MYOB. Pay cloud plus invoice also. Follow up James cook regarding confirmation code for tail trees myob.	Category 2 - Current
Renee Lobb	Senior Director	05-Sep-16	1	565.00	565.00	Creditors	Complete draft f annual RTC. send to Kelly-Anne Trenfield for review and comments on additions.	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	05-Sep-16	0.2	625.00	125.00		Review incoming documentation, consider and send to filing Review and update to do list; query outstanding items	Category 2 - Current
Talia Glover	Administration 1	05-Sep-16	0.4	145.00	58.00	Administration	Payment to Grace Records Management (QLD) Pty Ltd Storage 01/09 - 30/09 , \$325.72 Inv RG00552575Payment to Cloud Plus for Invoice number 21430715 for \$7801.20 Circulated to NGD	Category 2 - Current
John Park	Senior Managing Director	06-Sep-16	0.2	625.00	125.00	Assets	Email in Mark Waller,	Corporate - Liquidation
Renee Lobb	Senior Director	06-Sep-16	0.1	565.00	56.50	Creditors	Discussion over email with KAt on annual RTC. do bring up for due date.	Corporate - Liquidation
Renee Lobb	Senior Director	06-Sep-16	0.1	565.00	56.50	Creditors	Call with APO regarding dividend likelihood.	Corporate - Liquidation
				505.00	226.00	Administration	Checking payment for grace record sand cloud prost attacts supplying documents and send for processing, mails with KAI and Ken from WMS regarding allocation of non fun specific fees based on FUM, email instructions and queries to WMS accordingly. Further query on agreements to pay nussells involces following receipt from Kelly-Anne Trenfield.	Category 2 - Current
Renee Lobb	Senior Director	06-Sep-16	0.4	565.00	220.00	Administration	review AGM report discuss timing with RCLReview incoming documentation, consider and send to	
Kelly-Anne Trenfield	Senior Managing Director	06-Sep-16	0.2	625.00	125.00	Administration	filing	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	06-Sep-16	0.2	625.00	125.00	Administration	review amended insurance settlement deed	Corporate - Liquidation
John Park	Senior Managing Director	07-Sep-16	0.2	625.00	125.00	Assets	Email in Clayton utz;	Corporate - Liquidation
Renee Lobb	Senior Director	07-Sep-16	1.1	565.00	621.50	Investigations	Go through possible relief from ASIC and their draft document. meet with Kelly-Anne Trenfield and Neil Dempster regarding same and contemplate draft response. Discuss with KAt further amendment to First Mortgage Income Fund/Managed Performance Fund/ Director/Insurer settlement deed to ensure cannot release First Mortgage Income Fund from indemnity regime claims.	Category 2 - Current
Renee Lobb	Seniar Director	07-Sep-16	0.3	565.00	169.50	Investigations	review response.	Corporate - Liquidation
Caroline Halcoop	Administration 2	07-Sep-16	0.2	180.00		Administration	Release commbiz payments x 2 LM	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	07-Sep-16	0.1	625.00			Review and approve payment or outstanding administration liabilities including review or supporting documentation and signing of transfer or cheque	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	07-Sep-16	0.2	625.00	125.00	Administration	Call in from mark waller re amendment to deeds	Corporate - Liquidation
alia Glover	Administration 1	07-Sep-16	0.2	145.00	29.00	Administration	z x paying in sups posietr and primed ion with Australian Structured Products rund for remunipration and out of pocket expenses \$45523.84 and LM Australian Income Fund for remuneration and out of pocket expenses \$177464.03Circulated to RCL	Category 2 - Current
Renee Lobb	Senior Director	08-Sep-16	0.6	565.00		Investigations	Review information held on file for 11/12 and 12/13 policy documents, Send to Chris Erfurt.	Corporate - Liquidation
tenee Lobb	Senior Director	08-Sep-16	0.1	565.00		Administration	Print and attach to receipt vouchers invoices paid to LMIM for fees being held AIF and ASPF	Category 2 - Current
eliy-Anne Trenfield	Senior Managing Director	08-Sep-16	0.2	625.00	125.00	Administration	email in from mark walter re production of documents to Ben Conen; query to RCL re insurance docsreview insurance documents and discuss with RCL; draft response to Mark Walter email	Corporate - Liquidation
Renee Lobb	Senior Director	09-Sep-16	1.5	565.00	847.50	Investigations	Reviewing information on ASIC proceedings, responding to emails from Ginette and adviser/investor syndicate.Responding to numerous emails regarding transcripts of proceedings and obtaining same and information on personal address of Mr Drake. Advise that this is confidential information in an SOA and therefore i cannot obtain the address on behalf of the creditor/investor.	Corporate - Liquidation

LW investment Ma Remuneration to 3	anagement Ltd (In Liqui 10 June 2018	dation)			3,204,515.29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Renee Lobb	Senior Director	09-Sep-16	0.3	565.00	169.50	Investigations	Call with ASIC regarding relief application of David Whyte. Confirm interpretation with ASIC and convey to Kelly-Anne Trenfield in email.	Category 2 ~ Current
Kelly-Anne Trenfieid	Senlor Managing Director	09-Sep-16	0.1	625.00	62.50	Administration	Review and approve payment or outstanding administration habilities including review of supporting documentation and signing of transfer or cheque	Category 2 - Current
Talia Glover	Administration 1	09-Sep-16	0.1	145.00	14.50	Administration	Reconciled account as per august transactions, printed cover page and attached to formal statement circulated to	Corporate - Liquidation
John Park	Senior Managing Director	11-Sep-16	0.1	625.00	62.50	Assets	Email in Mark Waller;	Corporate - Liquidation
Renee Lobb	Senior Director	12-Sep-16	0.2	565.00	113.00	Administration	Entering invoices into register and save to file for future payment.	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	12-Sep-16	0.2	625.00	125.00	Administration	Review incoming documentation, consider and send to filing Review and update to do list; query outstanding items	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	12-Sep-16	0.1	625.00	62.50	Assets	email update from Mark Waller re Belgian proceedings	Corporate - Liquidation
Renee Lobb	Senior Director	13-Sep-16	0.3	565.00	169.50	Investigations	Extracting maximum period or account transaction listings from Suncorp and CBA accounts to assist with audits, save down and issue information to WMS and auditors where required.	Category 2 - Current
Renee Lobb	Seniar Director	13-Sep-16	0.1	565.00	56.50	Creditors	Take creditor call from Dun and Bradsheet and update their records for closure of GC office.	Corporate - Liquidation
John Park	Senior Managing Director	13-Sep-16	0,2	625.00	125.00	Assets	Review and sign deed of settlement;	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	13-Sep-16	0.3	625.00	187.50	Assets	Email in from mark waller to update on insurance sattement; email in re update on beigian proceedingsemail from and response to mark waller re insurance settlement reverser incoming gocumentation, consider and send to fungreeview and update to do list; query	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	13-Sep-16	0.1	625.00	62.50	Administration	outstanding items	Category 2 - Current
-				565.00	169.50	Investigations	Reviewing auditional clause amendments to manageo Perioritande FundyFirst wordgage income Fund/ LM investment Management Ltd deed of insurance matters settlement and KAT'S proposal for response, file same.	Corporate - Liquidation
Renee Lobb	Senior Director	14-Sep-16	Q.3	00.00	109.00	mvesuganons	Calls in from mark waller re amendment to settlement deed and discussions with Gadens; emails in	
Kelly-Anne Trenfield	Senior Managing Director	14-Sep-16	0.2	625.00	125.00	Assets	re progression of deed	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	14-Sep-16	0.1	625.00	62.50	Administration	JRP re status update review amendments to settlement deed re insurance; review advice/commentary from Clayton Utz;	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	16-Sep-16	Q.3	625.00	187.50	Assets	draft response providing instructions	Corporate - Liquidation
Renee Lobb	Senior Director	16-Sep-16	0.1	565.00	56.50	Investigations	Brier review to amendments of settlement deed with whyte and KM. Review KAT'S approval email and file in readiness for finalised deed.	Corporate - Liquidation
Neil Dempster	Consultant i	16-Sep-16	0.10	305	30.50	Trade-On	l Email to Alex Orman ask for investor account number to confirm holdings in fund Ucomplete insurance P1 form for new yéars cover. review the to make required additions and send to	Corporate - Liquidation
Renee Lobb	Senior Director	20-Sep-16	0.8	565.00	452.00	Assets	Kelly-Anne Trenfield to review.	Corporate - Liquidation
							Review amendments proposed by Gadens in correspondence on setuement deed with LW	
Renee Lobb	Senior Director	20-Sep-16	0.2	565.00	113.00	Investigations	Investment Management Ltd/Managed Performance Fund/First Mortgage Income Fund/Insurers/Directors and KATs response.	Corporate - Liquidation
John Park	Senior Managing Director	20-Sep-16	0.2	625.00	62.50	Assets	Email in Mark Waller;	Corporate - Liquidation
	Senior Managing Director	20-Sep-16	0.3	625.00		Administration	Review amended deed and provide instructions to approach to Gaden re insurance settlementReview incoming documentation, consider and send to filing	Category 2 - Current
Kelly-Anne Trenfield	Section Managing Director	20-06p-10		020.00	101.00	- Commission	review insurance information and amend Review and update to do list; query outstanding	
Kelly-Anne Trenfield	Senior Managing Director	20-Sep-16	0.2	625.00	125.00	Administration	itemsReview incoming documentation, consider and send to filing Review Kelly-Anne Trentleto's changes to Priorm. Save same and send to AUG for review prior to	Corporate - Liquidation
Renee Lobb	Senior Director	21-Sep-16	0.2	565.00	113.00	Assets	finalisation and execution.	Category 2 - Current
Renee Lobb	Senior Director	22-Sep-16	0.1	565.00	56.50	Administration	Follow up EY regarding work in progress on audits.	Category 2 - Current
Renee Lobb	Senior Director	22-Sep-16	0.2	565.00	113.00	Assets	Reviewing last contact on signed from our end Western union settlement deed, follow up Cameron Mew at KWM regarding execution by Western Union and fully executed deed return from HWL.	Category 2 - Current
ohn Park	Senior Managing Director	26-Sep-16	0.1	625.00		Assets	Email in Mark Waller;	Corporate - Liquidation
elly-Anne Trenfield	Senior Managing Director	26-Sep-16	0.3	625.00	187.50		Review incoming documentation, consider and send to tiling Keview and Update to do list; query outstanding items	Category 2 - Current
elly-Anne Trenfield	Senior Managing Director	26-Sep-16	0.2	625.00	125.00	Administration	oundering months	Corporate - Liquidation
elly-Anne Trenfield	Senior Managing Director	26-Sep-16	0.2	625.00	125.00	Administration	Review incoming accumentation, consider and send to filling Review and update to do list; query outstanding items	Category 2 - Current

LM Investment Ma Remuneration to 3	nagement Ltd (In Liquid 0 June 2018	dation)			3,204,515.29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Kelly-Anne Trenfieid	Senior Managing Director	26-Sep-16	0.5	625.00	312.50	Administration	Review incoming documentation, consider and send to himg Review and update to do list; query outstanding items	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	26-Sep-16	0.5	625.00	62.50		review email in re update in insurance settlement	Corporate - Liquidation
Renee Lobb	Senior Director	26-Sep-16 26-Sep-16	0.1	565.00	56.50		Provide advisor change of investor detail form.	Category 2 - Current
Renee Loop	Senior Director	20-3ep-10	0.1	565.00	00.00	Auministration	Meeting with John Deneny regarding insurance policy from LMIM and funds, discuss additions	outogory z outroin
Renee Lobb	Senior Director	28-Sep-16	0.7	565.00	395.50	Assets	required.	Corporate - Liquidation
							Review notes from yestercay's meeting with John regarding Prinstrance, review me for additional documentation and make changes to form. Query to Steve Hannan on Pl cover held for nicsand and	
Renee Lobb	Senior Director	29-Sep-16	0.3	565.00	169.50	Assets	email John at AJG with update on progress.	Corporate - Liquidation
Renee Lobb	Senior Director	29-Sep-16	0.1	565.00	56.50	Trade-On	Respond to Managed Performance Fund query and direct to KM.	Corporate - Liquidation
Renee Lobb	Senior Director	30-Sep-16	0.1	565.00	56.50	Assets	Reviewing PI form. print and send to John Park to sign.	Category 2 - Current
Renee Lobb	Senior Director	30-Sep-16	0.1	565.00	56.50	Assets	Scan and save executed PI policy and send to AJG.	Category 2 - Current
		30-360-10	0.1	000.00		10000	Go mough in detail email mormation from investor trying to locate investment and their intofmation	
							fund etc. respond requesting further information after checking all registers using information	Category 2 - Current
Renee Lobb	Senior Director	05-Oct-16	0.3	565.00	169.50	Investigations	provided. Secour in detail investor response mormation and timeline on utiogy appointment as RE or	Category 2 - Current
		! 1					Wholesale First Mortgage Income Fund. Advise an unprocessed redemptions are not being paid by	
Renee Lobb	Senior Director	05-Oct-16	0.3	565.00	169.50	Trade-On	Im and no funds are held for redemption outstanding prior to trilody's appointment as RE.	Category 2 - Current
John Park	Senior Managing Director	05-Oct-16	0.1	625.00	62.50	Assets	Review and approve correspondence;	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	05-Oct-16	0.1	625.00	62.50	Administration	email in from AJT re KM fee application	Category 2 - Current
Ashleigh Ubank	Administration 2	06-Oct-16	0.3	180.00	54.00	Administration	Bank account/s reconciled to requested date/s.	Corporale - Liquidation
Renee Lobb	Senior Director	06-Oct-16	0.2	565.00	113.00	Trade-On	Respond to query from investor, tocate investments and provide relevant contact details.	Category 2 - Current
							Entering payables in consultant tee register. Saving invoices for records and request transfer of funds	Category 2 - Current
Renee Lobb	Senior Director	10-Oct-16	0.3	565.00	169.50	Trade-On	from high interest account to regular account to pay counsel fees. Review correspondence from miniers and Gadens on covenants not to sue and further	Category 2 - Current
Renee Lobb	Senior Director	10-Oct-16	0.3	565.00	169.50	investigations	discussions/negotiations to take place regarding insurance settlements.	Corporate - Liquidation
		10 001 10	0.0				3 x payments to Cloud Plus, Grace Records Management and Interentity transfer from 840 to 007	0-1
Falia Glover	Administration 1	10-Oct-16	0.6	145.00	87.00	Administration	Account as per RCL request - circulated payments to RCL for approval	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	10-Oct-16	0.1	6 25.00	62.50	Assets	Email in from mark waller re status of insurance settlement	Corporate - Liquidation
Renee Lobb	Senior Director	11-Oct-16	0.1	565.00	56.50	Trade-On	Check MYOB payment slips and EFT's. Attach supporting docs and send to Kelly-Anne Trenfield. Review update on negotiations of insurance settlement deed with minters and Gadens, query any	Category 2 - Current
Renee Lobb	Senior Director	11-Oct-16	0.2	565.00	113.00	Investigations	costs agreements with Kelly-Anne Trenfield for Clayton Utz.	Corporate - Liquidation
Renee Lobb	Senior Director	11-Oct-16	0.2	565.00		Administration	Updating consultant fee schedule for invoices received,.	Category 2 - Current
Renee Lobb	Senior Director	11-Oct-16	0.2	565.00			Draft BAS for Sept Qtr 16.	Corporate - Liquidation
		11-Ode IO	V.2	000.00		-	Review email into; mirc to mark waltermessages and call with Mark Walter re insurance settlement;	
Kelly-Anne Trenfield	Senior Managing Director	11-Oct-16	0.2	625.00	125.00	Administration	update to RCL/JRP review incoming upcomentation, consider and sentition intigreview and approver payment or manual sentities and	Corporate - Liquidation
							outstanding administration liabilities including review of supporting documentation and signing of	
			1				transfer or chequeReview and update to do list; query outstanding itemsemail from and response to	
elly-Anne Trenfield	Senior Managing Director	11-Oct-16	0.3	625.00	187.50	Administration	russell re funds	Category 2 - Current
ohn Park	Senior Managing Director	12-Oct-16	0.1	625.00	62.50	Administration	Review and approve correspondence for RCL.	Category 2 - Current
alia Glover	Administration 1	12-Oct-16	0.1	145.00	14.50	Administration	Reconciliation of September transactions, printed cover page and circulated to RCL	Corporate - Liquidation
Renee Lobb	Senior Director	12-Oct-16	0.2	565.00	113.00	Investigations	Reviewing Gadens email and clayton utz edits to same regarding insurance settlement.	Corporate - Liquidation
Caroline Halcoop	Administration 2	12-Oct-16	0.1	180.00	18.00	Administration	Commbiz trf x LM Inv - Grace Records & Cloud Plus & Trf to working a/c - RCL	Category 2 - Current
	Senior Director	13-Oct-16	0.2	565.00	113.00	Trade-On	Do payment and interco transfer for LM Investment Management Ltd and Counsel fees.	Category 2 - Current
							Review incoming documentation; consider and send to tiling Review and sign BAS return for period;	Calegory 2 - Curront
elly-Anne Trenfield	Senior Managing Director	13-Oct-16	0.1	625.00	62.50			Category 2 - Current
enee Lobb	Senior Director	14-Oct-16	0.4	565.00	226.00	Creditors	Making amendments to annual report, input receipis and payments. Scan, save and mail out signed BAS, checking account receipts and payments being made. Attach	Corporate - Liquidation
enee Lobb	Senior Director	14-Oct-16	0.3	565.00	169.50		supporting docs and send to Kelly-Anne Trenfield.	Corporate - Liquidation

LM Investment Ma Remuneration to	anagement Ltd (In Liqui 30 June 2018	dation)			3,204,515.29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
							Review incoming documentation, consider and send to hangkeview and approve payment of outstanding administration liabilities including review of supporting documentation and signing of	
Kelly-Anne Trenfield	Senior Managing Director	14-Oct-16	0.2	625.00	125.00	Administration	transfer or cheque	Category 2 - Current
Renee Lobb	Senior Director	17-Oct-16	0,2	565.00	113.00	Creditors	Finalise annual RTC.	Corporate - Liquidation
Caroline Halcoop	Administration 2	17-Oct-16	0.1	180.00	18.00	Administration	Release Commbiz trfs x 2 - RCL	Category 2 - Current
							Review incoming documentation, consider and send to ming Review and Update to do list, query	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	17-Oct-16	0.2	625.00	125.00		outstanding itemsreview details of outstanding costs from WMS; RCL re tax debts	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	17-Oct-16	0.1	625.00	62.50		update from Clayton Utz re insurance settlement	Corporate Liquidation
Kelly-Anne Trenfield	Senior Managing Director	17-Oct-16	0.1	625.00	62.50	Creditors	review AGM report	Corporate - Liquidation
Renee Lobb	Senior Director	18-Oct-16	0.3	565.00	169.50	Creditors	Finalising annual report, discuss with John Park and Cd, make minor changes.	Corporate - Liquidation
John Park	Senior Managing Director	18-Oct-16	0.4	625.00	250.00	Creditors	Settle annual report to creditors	Corporate - Liquidation
Carly Drew	Administration 2	18-Oct-16	2	180.00	360.00	Creditors	Mailing labels for report;	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	18-Oct-16	0.1	625.00	62.50	Creditors	Review, amend and sign RTC	
Kelly-Anne Trenfield	Senior Managing Director	18-Oct-16	0.1	625.00	62.50	Administration	Review incoming documentation, consider and send to filing	Category 2 - Current
Neil Dempster	Consultant I	18-Oct-16	0.20	305	61.00	Trade-On	Email to Cliff Allan - provide details for KM after review of registers	Corporate - Liquidation
Renee Lobb	Senior Director	19-Oct-16	0.1	565.00	56.50	Administration	Lodge Annual RTC. Update MYOB and save to file. Receipt numerous payments to LM Investment Management Ltd account for transfers from funds	Corporate - Liquidation
							required to be made to initiate BPAY payments not able to be processed through suncorp. make	
Renee Lobb	Senior Director	19-Oct-16	0.4	565.00	226.00	Trade-On	BPAY payments.	Category 2 - Current
Renee Lobb	Senior Director	19-Oct-16	0.2	565.00	113.00	Administration	Filing all sent emails.	Calegory 2 - Current
Carly Drew	Administration 2	19-Oct-16	3	180.00	540.00	Creditors	Report to creditors printed, enveloped, labelled;	Corporate - Liquidation
			-				Drait response to Clearstream noting circular to creditors has not been issued to investors or	Category 2 - Current
Neil Dempster	Senior Consultant I	19-Oct-16	0.3	305.00	91.50	Trade-On	respective funds	Category 2 - Current
Caroline Halcoop	Administration 2	21-Oct-16	0.1	180.00	18.00	Administration	Commbiz release - Commissioner of Tax - RCL	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	24-Oct-16	0.2	625.00	125.00	Administration	Review asic lodgements and advertising	
Kelly-Anne Trenfield	Senior Managing Director	24-Oct-16	0.1	625.00	62.50	Administration	email in from Rose Litiagtion re delivery of docs; email to Clayton Utz re service to closed premises	Corporate - Liquidation
Newy-Anne Trenned	Gental Managing Director	Li Gal Id	0.1				Carnrom momson Geer Lawyers re status on none, take message to discuss with RCL at later date. Call from PKF Hacketts - advise them to RTS report if they have received report in error to update	
				305.00	30 E0	Creditors	Call from PAP mackets - advise them to RTS report in they have received report in only to appear	Category 2 - Current
Neil Dempster	Senior Consultant I	24-Oct-16	0.1	625.00		Administration	Review and update to do list; query outstanding items	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	25-Oct-16		625.00		Administration	email in and response to Tech re outstanding costs	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	25-Oct-16	0.1	020.00	62.50	Administration	Emailing AIVZ on account changes and transfers from private to consumer bank. Review clayton utz	
Renee Lobb	Senior Director	26-Oct-16	0.4	565.00	226.00	Trade-On	invoice and confirm in register. note to hold pending settlement.	Corporate - Liquidation
Renee Lobb	Senior Director	26-Oct-16	0.2	565.00	113.00	Administration	Reviewing returned annual reports. Request CD to find new addresses and issue report copy.	Corporate - Liquidation
Renee Lobb	Senior Director	26-Oct-16	Q.1	565.00	56.50	Assets	Call with John Denehy regarding insurance premium renewal.	Corporate - Liquidation
							Review incoming documentation, consider and send to filing; Review and update to do list; query	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	27-Oct-16	0.1	625.00		Administration	outstanding items Review status of insurance settlement; draft fup email to clayton utz	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	27-Oct-16	0.1	625.00		Administration	Review status of insurance settlement, draft top entail to cayton d2 Review correspondence regarding Belgian proceeding, save and print for file.	Corporate - Liquidation
Renee Lobb	Seniar Director	28-Oct-16	0.2	565.00	113.00	Investigations	Look up creditor PWC and respond to email querying annual report issued.	Corporate - Liquidation
Renee Lobb	Senior Director	31-Oct-16	0.2	565.00	113.00	Creditors	Look up creditor PWC and respond to email querying annual report issued. Reviewing correspondence regarding director indemnities and settlement of insurance issues: save	
Renee Lobb	Senior Director	31-Oct-16	0.3	565.00	169.50	Investigations	to file and print. Teview email in from Mark Waller to status of insurance settlement negotiations and correspondence	Corporate - Liquidation
				807.00	62.50	Administration	review email in from Mark wailer re status of insurance settlement negotiations and conceptoncence to Gadens and Minter Ellinson	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	31-Oct-16	0.1	625.00			Email in Mark Waller - 1 unit	Corporate - Liquidation
lohn Park	Senior Managing Director	31-Oct-16	0.1	625.00		Trade-on	Responding to email from ASIC regarding audit relief and auditor removal and replacement.	Category 2 - Current
Renee Lobb	Senior Director	01-Nov-16	0.2	565.00	113.00	Investigations	RCL re meeting with Gadens and Minter Ellison re settlementreview prior emails re settlement	
Celly-Anne Trenfield	Senior Managing Director	01-Nov-16	0.3	625.00	167.50	Administration	discussions; Review incoming documentation, consider and send to filing	Corporate - Liquidation

LM investment M Remuneration to	anagement Ltd (In Liqui 30 June 2018	dation)			3,204,515.29			
Name		Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Renee Lobb	Senior Director	02-Nov-16	1.4	565.00	791.00	Investigations	Coordinate then attend meeting at clayton utz on settlement with insurer.	Corporate - Liquidation
Renee Lobb	Senior Director	02-Nov-16	0.1	565.00	56.50	Trade-On	Review email regarding address change requests and who to send to, reply email advising contacts for each fund.	Category 2 - Current
Renee Lobb	Senior Director	02-Nov-16	0.3	565.00	169.50	Administration	সঙ্গ মন্থ্যেসন্দাহ । দেনানিথাৰ about EY work in progress and relestied invokes: note for discusion following ASIC response. Filing sent emails into public folders from tast 3 working days. সিল্লেন্সত গোমাজ চেকুৰ লাজনুৱাৰত আলম ব্যত্তআগত হোৱাৰত সেই সংগ্ৰু উপজ্ঞমন্তত্বাঢ়া সন্দানত লগা সেন্দ য	Category 2 - Current
Talia Glover	Administration 1	02-Nov-16	0.8	145.00	116.00	Administration	pay ATO liability on RBA \$26620.373 x payments to DEPUTY COMMISSIONER OF TAXATION FOR RBA BALANCE AND CPF RBA account \$3493 and \$26620.37Payment to Grace Records Management for invoice number RG00571341 Circulated to RCL	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	02-Nov-16	1.3	625.00	812.50	Assets	Meeting with Clayton Uiz, KordaMentha, Minetr Ellison, BDO and Gadesn re insurance settlementim	i Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	02-Nov-16	0.3	625.00	187.50	Administration	RCL re meeting with Gadens and Minter Eilison re settlementreview prior emails re settlement discussions	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	02-Nov-16	0.1	625.00	62.50	Administration	RCL re asic and EY/audit fees	Category 2 - Current
Renee Lobb	Senior Director	03-Nov-16	0.3	565.00	169.50	Investigations	Reviewing PI run on policy and note in email to Kelly-Anné Trenited my comments on the policy document and funding.	Category 2 - Current
Renee Lobb	Senior Director	03-Nov-16	0.1	565.00	56.50	Trade-On	Arrange payment of records storage invoice.	Category 2 - Current
				565.00	169.50	Investigations	Go through Kelly-Anne Trentield Teedback on my Pripolicy comments/issues raised, send email to John and AJG with queries.	Category 2 - Current
Renee Lobb	Senior Director	04-Nov-16	0.3	180.00	18.00	Administration	Release LM transfers x 3 - RCL	Category 2 - Current
Caroline Halcoop	Administration 2	04-Nov-16 04-Nov-16	0.1	145.00	29.00	Administration	Payment to LM Investment account ending in 907 \$5000 - circulated to RCL	Category 2 - Current
Talia Glover	Administration 1	04-Nov-16	0.2	145.00	29.00	Administration	Cloud Plus monthly cloud plus IT costs Inv 21464797 \$7801.20 - circulated to RCL	Category 2 - Current
Talia Glover	Administration 1						Reviewing response on Prinsurance queries, relay to Kelly-Anne Trentield for contirmation on perceived risk if not renewed.	Corporate - Liquidation
Renee Lobb	Senior Director	08-Nov-16	0.1	565.00		Assets	Discussion with Kelly-Anne Trentield and email to John Denehy regarding insurance quenes as to	· · · · · · · · · · · · · · · · · · ·
Renee Lobb	Senior Director	08-Nov-16	0.3	565.00		Assets	whether trading or run off cover.	Corporate - Liquidation Corporate - Liquidation
Renee Lobb	Senior Director	08-Nov-16	0.1	565.00	56.50	Investigations	Review appeal update on Belgian proceedings.	
Renee Lobb	Senior Director	09-Nov-16	0.2	565.00	113.00	Administration	Update registers for Involces received and payments to be made.	Category 2 - Current Category 2 - Current
Renee Lobb	Senior Director	10-Nov-16	0.2	565.00	113.00	Assets	Comments to Kelly-Anne Trenfield on PI policy renewal.	
Talia Glover	Administration 1	10-Nov-16	1	145.00	145.00	Administration	5 x payments to Suncorp AIF and CPAIF Working Accounts as requested by RCL	Calegory 2 - Current Corporate - Liquidation
Talia Glover	Administration 1	10-Nov-16	0.1	145.00	14.50	Administration	Receipt of September quarter 16 BAS refund \$3858.56 - circulated to RCL RCL re insurance cover and distribution of funds; update to JRP; Review and approve payment of	Corporate - Liquidation
							outstanding administration liabilities including review of supporting documentation and signing	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	10-Nov-16	0.20	600	120.00	Administration	of transfer or cheque	corporate - ciquidation
Renee Lobb	Senior Director	11-Nov-16	0.3	565.00	169.50	Creditors	Go through returned reports. request CD to find new addresses. Check account, receipt bas refund.	Corporate - Liquidation
Renee Lobb	Senior Director	11-Nov-16	0.4	565.00	226.00	Assets	Call with Alex Welch regarding PI cover. provide background and send email regarding same.	Category 2 - Current
Renee Lobb	Senior Director	11-Nov-16	0.1	565.00	56.50	Administration	Transfer funds to general account to pay cloud plus invoice.	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	11-Nov-16	0.1	625.00	62.50	Administration	Review and update to do list; query outstanding items	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	13-Nov-16	0.2	625.00	125.00	Assets	Emails in re FTI insurance cover and application over funds management	Corporate - Liquidation
							on coverage. Email Kelly-Anne Trenfield with options. explaining to Kelly-Anne Trenfield transfers for release today. Email response to Alex Welch regarding PI insurance. advise background in line with brokers commentary. Review emails and take call from Alex Welch to discuss next steps on	Corporate - Liquidation
Renee Lobb	Senior Director	14-Nov-16	0.B	565.00	452.00		coverage. Request cicild plus payment in myob, checkling faceipts and payments into accounts and ettaching requesting designations.	Category 2 - Current
Renee Lobb	Senior Director	14-Nav-16	0.2	565.00	113.00		supporting	Category 2 - Current
Renee Lobb	Senior Director	14-Nov-16	0.1	565.00		investigations	Seek update from ASIC on audit relief and auditor removal.	Corporate - Liquidation
elly-Anne Trenfield	Senior Managing Director	14-Nov-16	0.2	625.00	125.00		Email in from Clayton utz re meeting with solicitors; email in re AllS cover	Corporate - Liquidation
elly-Anne Trenfield	Senior Managing Director	14-Nov-16	0.2	625.00	125.00	Administration	Review asic advertising	oorporate - Eigeneadon

LM investment Ma Remuneration to 3	nagement Ltd (In Liquii 0 Juno 7019	dation)			3,204,515,29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Renee Lobb	Senior Director	15-Nov-16	1	565.00		investigations	Call with Matthew Pachman in DC office regarding insurance PL policy, go through in detail our role and tasks still to be undertaken, send additional information via email also.	Corporate - Liquidation
Renee Lobb	Senior Director	15-Nov-16	0.1	565.00	56.50	Trade-On	Respond to Kelly-Anne Trenfield email on LM Investment Management Ltd cash at bank balances.	Corporate - Liquidation
Renee Lobb	Senior Director	16-Nov-16	0.4	565.00	226.00	Assets	Discussions with matchew Pachman regarding Pripolicy, contirm with Kelly-Anne Trentield and John Park to cancel policy and send email to AJG requesting cancellation.	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	17-Nov-16	0.1	625.00	62.50	Administration	Email from and response to Mark Waller re AllS claim Can with John Deneny regarding insurance policy and discussion with Kelly-Arine Treniled thereafter	Corporate - Liquidation
Renee Lobb	Senior Director	17-Nov-16	0.8	565.00	452.00	Assets	to brainstorm any exposure.	Corporate - Liquidation
Renee Lobb	Seniar Director	17-Nov-16	0.2	565.00	113.00	Trade-On	Call with investor, look up details and provide information on process to transfer investment.	Category 2 - Current
Neil Dempster	Consultant I	17-Nov-16	0.10	305	30.50	Trade-On	Email to Corina Bachitiar direct to KM for query	Corporate - Liquidation
			- 4		440.00		Scan and save managed Penormance Fund application regarding AIIS claim, review and print for the Clayton Utz proposed way forward on same.	Corporate - Liquidation
Renee Lobb	Senior Director	18-Nov-16	0.2	565.00		Administration	Reconciliation of October transactions, printed cover page and circulated to RCL	Corporate - Liquidation
Talia Glover	Administration 1	18-Nov-16	0.2	145.00	29.00	Administration Administration	Reconciliation of October transactions, printed cover page and circulated to RCL	Corporate Liquidation
Talia Glover	Administration 1	18-Nov-16	0.2	145.00	130.50	Administration	Reconciliation of October transactions, printed cover page and circulated to RCL	Corporate - Liquidation
Talia Glover	Administration 1	18-Nov-16	0.9	625.00	62.50	Administration	emails in r AllS claim and agreement re no action	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	20-Nov-16	U.1	625.00	02.00	Administration		
Renee Lobb	Senior Director	21-Nov-16	0.1	565.00	56.50	Administration	Review emails and send to Tracey Rumbold to pay Xero for LM Investment Management Ltd funds.	Category 2 - Current
Renee Lobb	Senior Director	21-Nov-16	0.2	565.00	113.00	Assets	Request revision of premium after receiving premium for full week time on risk. Review update on Minters leave to proceed application and orders granted. Review response from	Category 2 - Current
Renee Lobb	Senior Director	23-Nov-16	0.2	565.00	113.00	Investigations	Moray and Agnew on insurers position for funding of AIIS proceedings.	Corporate - Liquidation
Renee Lobb	Senior Director	23-Nov-16	0.1	565.00		Administration	Review file and do bring up for ASIC response date.	Category 2 - Current
Nonee Loop		20110110					Reviewing email with proposed amendments to insurance settlement deed, save to file and review,	Corporate - Liquidation
Renee Lobb	Senior Director	24-Nov-16	0.3	565.00	169.50	Investigations	save and print documents with instructions on same. Can with John Deneny regarding lapsing insurance from expiry after previous correspondence.	
Renee Lobb	Senior Director	24-Nov-16	0.2	565.00	113.00	Assets	review and respond to subsequent email on same.	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	24-Nov-16	0.1	625.00	62.50	Administration	Review email in from RCI re asic relief	Category 2 - Current
		28-Nov-16	0.3	565.00	169.50	Investigations	reviewing email exchange between clayion of 2 and other parties on proposed settlement deep changes and deletion of references to LMA in same. Subsequent advice review on same and update from Kelly-Anne Trenfield.	Corporate - Liquidation
Renee Lobb	Senior Director Senior Director	28-Nov-16	0.3	565.00		Administration	Review and sign off on bank rec's.	Category 2 - Current
Renee Lobb	Senior Managing Director	28-Nov-16	0.2	625.00	125.00	Assets	Email and call with mark waller re changes to deed	Corporale - Liquidation
Kelly-Anne Trenfield Renee Lobb	Senior Director	29-Nov-16	0.1	565.00		Administration	Review of account rec. respond to query from Lia.	Category 2 - Current
Kenee Loop							Review incoming documentation, consider and send to filing Review and update to do list; query	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	29-Nov-16	0.1	625.00		Administration	outstanding items Call and draft email to scott crivens at TG law regarding status of liquidation - send to RCL for review	Corporate - Liquidation
Neil Dempster	Senior Consultant I	30-Nov-16	0,3	305.00			emails in restatus of insurance settlement	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	30-Nov-16	0.1	625.00	62.50	Assets	Review query from investor, respond querying which fund and what the enquiry was after emails in	
Renee Lobb	Senior Director	30-Nov-16	0.2	565.00	113.00	Trade-On	string were unclear.	Category 2 - Current Corporate - Liquidation
Renee Lobb	Senior Director	30-Nov-16	0.2	565.00	113.00	Investigations	Reviewing response from Gadens on settlement deed and amendments. Review and save to relevant hies ASIC unclaimed monies response, print and send to hies and	Corporate - Exquitation
	Senior Director	30-Nov-16	0.2	565.00	113.00	Investigations	forward email to Kelly-Anne Trenfield.	Category 2 - Current
Renee Lobb Ashleigh Ubank	Administration 2	02-Dec-16	0.2	180.00			WIP proforma generated for code.	Corporate - Liquidation
Renee Lobb	Senior Director	02-Dec-16	0.3	565.00		Investigations	Wrokign with Surety IT to restor server and remote desktop access.	Category 2 - Current
Renee Lobb	Senior Director	02-Dec-16	0.4	565.00		Administration	Collation of work in progress for John Park.	Category 2 - Current
Renee Lobb	Senior Director	05-Dec-16	0.1	565.00		Administration	Finalise fee working for John Park.	Category 2 - Current
Renee Lobb	Senior Director	05-Dec-16	0.1	565.00	56.50	Investigations	Return call from ASIC. leave message.	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	05-Dec-16	0.1	625.00			Rvewi bas status	Corporate - Liquidation

LM Investment Mar Remuneration to 30	nagement Ltd (In Liquie) June 2018	lation)			3,204,515.29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Kelly-Anne Trenfield	Senior Managing Director	05-Dec-16	0.1	625.00	62.50	Administration	emails in from PTAL; draft response re change to recipients	Category 2 - Current
Talia Glover	Administration 1	06-Dec-16	0.2	145.00	29.00	Administration	Payment between accounts ending in 907 and 840 for \$2438.49 - circulated to RCL	Category 2 - Current
Renee Lobb	Senior Director	06-Dec-16	0.1	565.00	56.50	Trade-On	Emails to Nell Dempster with instructions to pay cloud plus and grace records invoices.	Category 2 - Current
Renee Lobb	Senior Director	07-Dec-16	0.3	565.00	169.50	Administration	Take went Dempster Inrough First Mongage income Fund Indemnity regime issues and recording or involces for same.	Category 2 - Current
Neil Dempster	Senior Consultant I	07-Dec-16	0.1	305.00	30.50	Trade-On	Email ot RCL to confirm how much of a buffer we odinarily have in main account for invoice payments	Category 2 - Current
Neil Dempster	Senior Consultant I	07-Dec-16	0.2	305.00	61.00	Trade-On	Email to RCL re amount to transfer for invoice payments - transfer made leaving 200 in main acount	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	09-Dec-16	0.1	625.00	62.50	Assets	call in from Chris Erfurt re update on insurance settlement	Corporate - Liquidation
Neil Dempster	Senior Consultant I	14-Dec-16	0.2	305.00	61.00	Trade-On	Email to Mervyn Powell with info on fund suspension status	Category 2 - Current
Renee Lobb	Senior Director	15-Dec-16	0.2	565.00	113.00	Administration	Adding LM Investment Management Ltd corporate invoics to fee schedule.	Corporate - Liquidation
	Senior Consultant I	15-Dec-16	0.2	305.00	61.00	Trade-On	Process myob payment grace records and cloudplus invoices - save to file	Category 2 - Current
Renee Lobb	Senior Director	20-Dec-16	0.3	565.00	169.50	Trade-On	Discussion with Kelly-Anne Trenfield regarding available funds. Account for same In email also.	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	20-Dec-16	0.1	625.00	62.50	Administration	Review and update to do list; query outstanding itemsRCL re funding across funds	Category 2 - Current
	Senior Managing Director	20-Dec-16	0.2	625.00	125.00	Administration	Review outstanding costs; draft email to clayton utz re payment	Corporate - Liquidation
	Consultant I	20-Dec-16	0.10	305	30.50	Trade-On	Investor query Mervyn Powell - MPF investor client direct to KordaMentha Request Neil Dempster to follow up payment of cloud plus involce. Discussions with Kelly-Anne	Corporate - Liquidation
Damas Labb	Senior Director	21-Dec-16	0.2	565.00	113.00	Trade-On	Trenfield regarding Liedekerke invoices and clayton utz invoices.	Corporate - Liquidation
	Senior Director	21-Dec-16	0.2	305.00	61.00	Trade-On	Check details on cloudplus invoice and Grace records storage invoice - send to RCL for sign off	Category 2 - Current
	Administration 2	21-Dec-16	0.2	180.00	54.00	Administration	2 RVKIO - RCL; 2 PV - 1 Bpay - Grace Records \$325.72 & 1 Trf - CloudPlus \$7801.20 - NGD	Calegory 2 - Current
	Senior Director	21-Dec-16	0.4	565.00		Trade-On	Reviewing liedekerke invoice and clayton utz invoices. Update consultant lee register and arrange AUD and EUR payments, confirm with Kelly-Anne Trenfield.	Corporate - Liquidation
							Review subsequent email from clayton utz on insurer funding and balances owed to Clayton Utz and " Liedekerke, change both payments and arrange release of liedekerke monies.	Corporate - Liquidation
Renee Lobb	Senior Director	22-Dec-16	0.3	565.00	169.50	Trade-On	Enderende, change both payments and an angle release of industration monitories.	
Kelly-Anne Trenfield	Senior Managing Director	22-Dec-16	0.3	625.00	187.50	Administration	paymentRCL re payments to Clayton Utz Review and approve payment or outstanding administration liabilities including review of supporting	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	22-Dec-16	0.1	625.00	62.50	Administration	documentation and signing of transfer or cheque international in Commitiz - set up payment to Liedke - EURO dollars;email to RCL to advise of AUD	Category 2 - Current
Caroline Halcoop	Administration 2	22-Dec-16	0.2	180.00	36.00	Administration	international in Committy - set up payment to Lieuke - ECKO tonara, emaine Korte, to advise of ABB conversion amount	Category 2 - Current
	Administration 2	22-Dec-16	0.1	180.00	18.00	Administration	Redo international payment to Liedke - EURO amount changed.	Category 2 - Current
	Senior Consultant I	23-Dec-16	0.1	305.00	30.50	Administration	Check bank details on Clayton Utz payment send to KAT	Corporate - Liquidation
· · · · · · · · · · · · · · · · · · ·	Senior Managing Director	23-Dec-16	0.1	625.00	62.50	Administration	Review and approve payment of outstanding administration liabilities including review of supporting documentation and signing of transfer or cheque	Category 2 - Current
· · · · · · · · · · · · · · · · · · ·	Administration 2	23-Dec-16	0.1	180.00	18.00	Administration	Reject Commbiz transfer, advised invoice amount to be changed - now \$1815.05 - NGD	Category 2 - Current
	Senior Managing Director	05-Jan-17	0.2	625.00	125.00	Administration	Review incoming documentation, consider and send to filing	Category 2 - Current
	Administration 1	05-Jan-17	0.1	145.00	14.50	Administration	Reconciliation of December transactions, printed cover page and circulated to RCL	Corporate - Liquidation
	Senior Director	09-Jan-17	0.8	565.00	452.00	Investigations	Reviewing emails to and from Clayton Utz and James Conomos Lawyers acting for directors noting dismissal of ASIC proceedings. Review paragraphs 1 to 23 of judgement. save judgment to file.	Corporate - Liquidation
		09-Jan-17	0.1	305.00	30.50	Creditors	Call to Scott at Thomson Geer lawyers leave message to return - note typo made in email address	Corporate - Liquidation
	Senior Consultant I Senior Managing Director	09-Jan-17	0.1	625.00	125.00	Administration	Email in from mark waller re ASIC case; read decision	Corporate - Liquidation
		10-Jan-17	0.2	625.00	62.50	Assets	Email in Mark Waller,	Corporate - Liquidation
lohn Park	Senior Managing Director	10-3811-17	Ų. 1	020.00	02.00		Keylew, save and update register for russens involce, send to Keny-Alme Tremeto that an Holding	
Renee Lobb	Senior Director	10-Jan-17	0.5	565.00	282.50	Trade-On	invoice, make transfers into main account and arrange payment of cloud plus invoice and ensure account key ins up to date. Emails in re advenising instructions to abwreview incoming documentation, consider and send to	Category 2 - Current
(ellee roop								

LM Investment M	anagement Ltd (In Liquid	dation)						
Remuneration to : Name	30 June 2018 Title	Date	Hours	Charge Out Rate	3,204,515.29 Charge	Task Desc	Narrative	Classification
Kelly-Anne Trenfield	Senior Managing Director	10-Jan-17	0.1			Administration	emails in re outstanding legal fees; forward to JRP and request review by RCL	Category 2 - Current
Talia Glover	Administration 1	10-Jan-17	0.2		29.00		Payment between accounts ending in 840 to 907 \$20000 - circulated to RCL for approval	Category 2 - Current
Melinda Jones	Administrative Assistant	11-Jan-17	0.1	145.00	14.50	Administration	ASIC advertising	Corporate - Liquidation
							set out response to Kelly-Anne Trenfield's email and call and leave message for mark Waller to	
							discuss discrepancy. Call with Mark Waller to discuss. Review response from Mark Waller with	
ľ –							reconciliation of outstanding accounts. update our schedule and notes for same and save and print	
ļ							email as backing, go through receipt vouchers and payments made, attach supporting documents and send to Kelly-Anne Trenfield as necessary, email Lia with instructions to process Clayton Utz and	1
Renee Labb	Senior Director	11-Jan-17	0.9	565.00	508.50	Trade-On	cloud plus invoices.	Corporate - Liquidation
	Control Discolor						Reviewing John pedents is invoices and checking in this consultant tee register, add to same pending	Catharana Command
Renee Lobb	Senior Director	11-Jan-17	0.4	565.00	226.00	Trade-On	cross referencing from russells and confirm with Kelly-Anne Trenfield. Review and approve payment or outstanding administration flabilities including review of supporting	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	t1-Jan-17	0.1	625.00	62.50	Administration	documentation and signing of transfer or cheque	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	11-Jan-17	0.2		125.00		RCL re outstanding legal costs; JRP re fundingvarious emails in re outstanding legal accounts	Category 2 - Current
Ashleigh Ubank	Administration 2	12-Jan-17	0.4		72.00	Administration	Bank account/s reconciled to requested date/s.	Corporate - Liquidation
Aanleigh Oblank			•••				Check MYOB Insol for last bank reconciliation completed. Email to AMU requesting bank rec to	
Renee Lobb	Senior Director	12-Jan-17	0.1	565.00	56.50	Administration	31/12/16. Током ир сна тедалону раутельсто ского раз апо скауют асстатели оксез и тлуко о сосау s	Corporate - Liquidation
							date for accuracy, go through non consecutive transaction id numbers and ensure amendments	
							made to reflect correct balances. Review and respond to email from GM support on issue with	Corporate - Liquidation
Renee Lobb	Senior Director	12-Jan-17	0.7	565.00	395.50	Trade-On	Worsley-Worsick payment. Review and approve payment or outstanding administration habilities molitiding review of supporting	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	12-Jan-17	0.1	625.00	62.50	Administration	documentation and signing of transfer or cheque	Category 2 - Current
Kelly-Athe Hetheld	Centor Managing Director		0,1				Payment to ASIC for AIF audit todged tate tees \$279, to Cloud Plus Pty Ltd for Invoice number	Coronanto Liquidation
Talia Glover	Administration 1	12-Jan-17	0.6	145.00		Administration	21482898 \$7801.20, Clayton UTZ for invoice numebr 3921376 \$26562.60 - circulated to RCL	Corporate - Liquidation
Renee Lobb	Senior Director	13-Jan-17	0.1	565.00	56.50	Trade-On	Check payments and attach supporting docs before sending to Kelly-Anne Trenfield for release.	Category 2 - Current Category 2 - Current
Renee Lobb	Senior Director	16-Jan-17	0.1	565.00	56.50	Administration	Call back donna at suncorp to clarify account authorised parties. Review and approve payment of outstanding administration flabilities including review of supporting	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	16-Jan-17	0.1	625.00	62.50	Administration	documentation and signing of transfer or cheque -online	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	16-Jan-17	0.1	625.00	62.50	Administration	Review incoming documentation, consider and send to filing	Category 2 - Current
Kelly-Anne Hennelu		10-0err-17	0.1				Review incoming documentation, consider and send to filing; Review and update to do tist; query	Concernte Liquidation
Kelly-Anne Trenfield	Senior Managing Director	18-Jan-17	0.1	625.00	62.50	Administration	outstanding items Complete bas after reviewing MYOD bank red's and transaction detail of GST entries, make minor	Corporate - Liquidation
Renee Lobb	Senior Director	19-Jan-17	0.4	565.00	226.00	Administration	amendments.	Corporate - Liquidation
Kelly-Anne Trentield	Senior Managing Director	20-Jan-17	0.1	625.00	62.50	Administration	Review incoming documentation, consider and send to filing	Corporate - Liquidation
Renee Lobb	Senior Director	20-Jan-17	0.1	565.00	56.50	Administration	Scan, save and mail out bas. do file copy also.	Corporate - Liquidation
	Administration 2	23-Jan-17	2.8	180.00		Administration	General Team Administration.	Corporate - Liquidation
Ashleigh Ubank	Autonistration 2	23-341-17	£.4	100.00		-	Take call from Clayton Utz. Discuss insurance settlement discussion held with Moray & Agnew and	
							Take call from Clayton DZ. Discuss insurance sectioniant discussion field with worky or egnew and insurance notification lodged for david whyte's pre-Christmas claim filed. Email Kelly-Anne Trenfield	
Renee Lobb	Senior Director	27-Jan-17	0.3	565.00	169.50	Investigations	with update and request for available meeting times with all parties to progress the discussions.	Corporate - Liquidation
			0.0			· · · · ·	Review correspondence from PWC as auditors for Commerzbank, Locate email contact and respond	Category 2 - Current
Renee Lobb	Seniar Director	27-Jan-17	0.2	565.00		Investigations	via email.	Corporate - Liquidation
Renee Lobb	Senior Director	30-Jan-17	0.2	565.00	113.00	Investigations	Query to CD regarding Kelly-Anne Trenfield availability for settlement meeting.	
							Review, save and print for file insurance notification for Whyte's claim. establish availability in Kelly-	
Renee Lobb	Senior Director	30-Jan-17	0.3	565.00	169.50	Investigations	Anne Trenfield's calendar for settlement meeting and email Clayton Utz with available dates.	Corporate - Liquidation
Ashteigh Ubank	Administration 2	01-Feb-17	0.3	180.00	54.00	Administration	Bank account/s reconciled to requested date/s.	Corporate - Liquidation
Renee Lobb	Senior Director	01-Feb-17	0.2	565.00	113.00	Administration	Request bank rec to complete 524.	Corporate - Liquidation
Renee Lobb	Seniar Director	01-Feb-17	0.5	565.00	282.50	Administration	Periodic matter review form and 524 checklist, complete and lodge 524.	Corporate - Liquidation
							Review email regarding settlement negotiations on insurance, note comments on ASIC appear expiry date and do bring up for follow up on 20 Feb accordingly.	Category 2 - Current
Renee Lobb	Senlor Director	03-Feb-17	0.2	565.00	113.00	Investigations	Tage and to prive the remaining the prive accordingly.	

BREAK OF ALL ENANCES	anagement Ltd (In Liqui	dation)			3,204,515.29	<u> </u>		
Remuneration to . Name	Su June 2018 Title	Date	Hours	Charge Out Rate	5,204,515.29 Charge	Task Desc	Narrative	Classification
			1				review and save invoices, make payment to grace records, check accounts and note no Jam invoice received, email grace requesting same, process transfer request to pay cloud plus invoice, obtain	
Renee Lobb	Senior Director	03-Feb-17	0.4	565.00	226.00	Trade-Ол	additional grace records invoice and request payment of same through MYOB.	Category 2 - Current
Talia Glover	Administration 1	03-Feb-17	0.1	145.00	14.50	Administration	Reconciliation of account as per official bank statement, printed cover page and circulated to RCL.	Corporate - Liquidation
Talia Glover	Administration 1	03-Feb-17	0.1	145.00	14.50	Administration	Reconciliation of account as per official bank statement, printed cover page and circulated to RCL	Corporate - Liquidation
Talia Glover	Administration 1	03-Feb-17	0.1	145.00	14.50	Administration	Reconciliation of account as per official bank statement, printed cover page and circulated to RCL	Corporate - Liquidation
				· · · · · ·			Payment to Grace Records management (Adstrang) for records storage invoice humber RG00597720 and payment to LM Investment Management general account from High Interest	
Talia Glover	Administration 1	03-Feb-17	0.4	145.00	58.00	Administration	account \$6000 and \$325.72 - circualted to RCL	Category 2 - Current
							Review bank rec and locate ASPF 4 distribution received. enter via myob and return bank rec to	
Renee Lobb	Senior Director	03-Feb-17	0.10	560	56.00	Administration	Lia to print receipt voucher.	Category 2 - Current
	A durininke tiere d	06-Feb-17	0.2	145.00	20.00	Administration	Payment to Grace Records Management (Australia) for Invoice number RG00588985 \$325.72 - circulated to RCL	Category 2 - Current
Talia Glover	Administration 1	00-FBD-17	0.2	140.00	23.00	Authinistration	Review and check 3 online transfers for payment of invoices from grace records and cloud plus.	
Renee Lobb	Senior Director	06-Feb-17	0.3	585.00	169.50	Administration	request cloud plus payment to be loaded for tomorrow after inter co transfer.	Category 2 - Current
Talia Glover	Administration 1	07-Feb-17	0.2	145.00	29.00	Administration	Payment to Cloud Plus Pty ltd for invoice number 21490826 \$7801.20 - circulated to RCL	Calegory 2 - Current
			-				Provide cash position to Keny-Annel Henried to assess clayton utz can tor fees. Check account for receipt of inter acct transfer to fund cloudolus invoice, check payment and attach supporting	
Renee Lobb	Senior Director	07-Feb-17	0.3	565.00	169.50	Trade-On	documents and get Joanne Dunn to process same.	Corporate - Liquidation
	Senior Managing Director	07-Feb-17	0.1	625.00	62.50	Administration	Payment - review and authorise online transfer x3.	Category 2 - Current
Talia Glover	Administration 1	08-Feb-17	0.2	145.00	29.00	Administration	Reconciliation of January transactions, printed off cover page, circulated to RCL x2	Corporate - Liquidation
Renee Lobb	Senior Director	08-Feb-17	0.1	565.00	56.50	Administration	Review asic statement and raise query with Kelly-Anne Trenfield on payment.	Category 2 - Current
Renee Lobb	Senior Director	08-Feb-17	0.1	565.00	56.50	Administration	Review and save to file custody reports from Perpetual for January 2017.	Category 2 - Current
Renee Lobb	Senior Director	09-Feb-17	0.2	565.00	113.00	Investigations	Review and respond to email update on progress of accounts. follow up nathan at EY also.	Category 2 - Current
Renee Lobb	Senior Director	09-Feb-17	0.1	565.00	56.50	Administration	Check CBA account and receipt bas refund.	Corporate - Liquidation
Neil Dempster	Consultant l	15-Feb-17	0.10	305	30.50	Trade-On	Email to RCL query in relation to directing investor query back to KM for returned funds	Corporate - Liquidation
Neil Dempster	Consultant I	15-Feb-17	0.20	305	61.00	Trade-On	Email to Scotia Wealth re Lenore Neeb - direct to KM to locate bounce back transaction	Corporate - Liquidation
Renee Lobb	Senior Director	17-Feb-17	D.1	565.00	56.50	Investigations	Review remuneration decision update from Kelly-Anne Trenfield and Clayton Utz response.	Corporate - Liquidation
Keliy-Anne Trenfield	Senior Managing Director	17-Feb-17	0.2	625.00	125.00	Administration	Review and update to do list; query outstanding items	Category 2 - Current
John Park	Senior Managing Director	20-Feb-17	0.2	625.00	125.00	Assets	Email in David Clout;	Corporate - Liquidation
							call in from David Clout re LM FMIF funding meeting; review previous information/discussionsupdate to JRPemail in and response to david clout re meeting and expense	Calegory 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	20-Feb-17	0.5	625.00		Administration	Attend meeting with David Clout & David Whyte;	Category 2 - Current
John Park	Senior Managing Director	21-Feb-17	0.7	625.00		Assets	Preparation for an meeting with BDO/DLC re indemnity costs claim by MIF re LMA	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	21-Feb-17	0.8	625.00	500.00	Administration	Review agenda for meeting with DEC; review previous correspondence re expense	
Celly-Anne Trenfield	Senior Managing Director	21-Feb-17	0.5	625.00		Administration	claimsPreparation for an meeting with BDO/DLC re indemnity costs claim by MIF re LMA	Category 2 - Current Corporate - Liquidation
Renee Lobb	Senior Director	22-Feb-17	0.1	565.00		Investigations	Email mark on enlivening settlement discussions on policy.	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	23-Feb-17	0.1	625.00	62.50	Administration	review LMA SOP re cost recovery and funding of preference claim Reviewing email with involces from clayton utz, send to russells.; further email from agg with linal	Calegory 2 * Current
tenee Lobb	Senior Director	27-Feb-17	0.3	565.00	169.50	Investigations	invoices to support feb 16 indemnity claim. Send to Russell's. Review and update to do usit, query outstanding items; Review inconting documentation, consider and	Corporate - Liquidation
eily-Anne Trenfield	Senior Managing Director	28-Feb-17	0.1	625.00	62.50	Administration	send to filing emain in from BLO re update on insurance sectement discussionsemall from and response to Mark	Category 2 - Current
elly-Anne Trenfield	Senior Managing Director	01-Mar-17	0.3	625.00	187.50	Administration	Waller re outstanding costs and insurance negotiations.	Corporate - Liquidation
elly-Anne Trenfield	Senior Managing Director	01-Mar-17	0.1	625.00	62.50	Administration	Review incoming documentation, consider and send to filing Review and update to do list; query outstanding items	Category 2 - Current

Renee Lobb Renee Lobb Renee Lobb Renee Lobb Renee Lobb Renee Lobb	Title Senior Director Senior Director Senior Director Senior Director Senior Director Senior Director	Date 02-Mar-17 06-Mar-17 06-Mar-17 06-Mar-17		Charge Out Rate 570.00 570.00	57.00	Task Desc Trade-On	Narrative Provide on contact details to omi Review correspondence from Clayton OI2 on monies received from Moray & Agnew. Opdate	Classification Category 2 - Current
Renee Lobb Renee Lobb Renee Lobb Renee Lobb	Senior Director Senior Director Senior Director	06-Mar-17 06-Mar-17	0.4			Trade-On		Category 2 - Current
Renee Lobb Renee Lobb	Senior Director Senior Director	06-Mar-17		570.00			TREVIEW CORrespondence iron clayton or on monies received from woray a Agnew, obcare	
Renee Lobb Renee Lobb Renee Lobb	Senior Director Senior Director	06-Mar-17		570.00		1	consultant register for application on monies held to September invoice. save documentation to file.	
Renee Lobb Renee Lobb Renee Lobb	Senior Director Senior Director				228.00	Trade-On	Review russells invoice, save and update invoice consultant register.	Corporate - Liquidation
Renee Lobb	Senior Director		0.2				Reviewing emails on expiry of ASIC appeal period, enlivening settlement discussions and timing for	
Renee Lobb		06-Mar-17		570.00	114.00	· · · · ·	hand down of remuneration decision.	Category 2 - Current
	Seniar Director		0.1	570.00	57.00	Administration	Filing emails sent over the past 2 weeks. Check bank account and note receipt from A t O. Commit what it is and print supporting	Category 2 - Current
	Senior Director	[documentation. receipt in MYOB and review, scan , save and request payment of invoice for grace	
Renee Labb		06-Mar-17	0.3	570.00	171.00	Trade-On	records.	Corporate - Liquidation
Renee Labb				670 00	150.00		Call with Chris Enturt and subsequent update with Kelly-Anne Trenheld on settlement of insurance monies and next steps, email Chris regarding Im claims.	Corporate - Liquidation
	Senior Director	06-Mar-17	8.0	570.00	456.00		RVKIO - Deputy Com of Tax - \$7047.00 - RCL	Category 2 - Current
	Administration 2	06-Mar-17	0.1	185.00		Administration		Category 2 - Current
	Senior Managing Director	06-Mar-17	0.1	625.00	62.50	Administration	Update from RCL	
Kelly-Anne Trenfield	Senior Managing Director	06-Mar-17	0.1	625.00	62.50	Administration	Update from RCL re status of insurance settlement	Corporate - Liquidation
Falia Glover /	Administration 1	07-Mar-17	0.4	155.00	62.00	Administration	2 x payments to Grace Records \$325.72 and Cloud Plus \$7801.20 - circulated to RCL Review email from investor by to locate investment without to or account number, respond	Category 2 - Current
Renee Lobb 5	Seniar Director	07-Mar-17	0.2	570.001	114.00	Trade-On	requesting further information to allow a detailed response.	Category 2 - Current
	Seniar Director	08-Mar-17	0.1	570.00	57.00	Trade-On	Pay cloud plus invoice via myob payment request.	Category 2 - Current
	Senior Managing Director	08-Mar-17	0.1	625.00	62.50	Administration	Review and update to do list; query outstanding items	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	00-Mai-17	- 0.1	020.00	02.30	Administration	Email to David Sutton-Kirby re his client Miyuki Martin confirm KM have this fund - contact them	
veil Dempster	Consultant I	08-Mar-17	0.10	305	30.50	Trade-On	for info	Corporate - Liquidation
	Senior Managing Director	09-Mar-17	0.2	625.00	125.00	Administration	Update from mark waller re insurance scheme	Corporate - Liquidation
	Administration 2	10-Mar-17	0.1	185.00	18.50	Creditors	RTS. New addresses searched for. Results recorded in MYOB. Report reissued.	Category 2 - Current
	Administration 2	10-Mar-17	0.1	185.00		Administration	Bank account/s reconciled to requested date/s.	Corporate - Liquidation
	Senior Director	10-Mar-17	0.1	570.00	57.00	Trade-On	Pay cloudiess invoice, review online and attach supporting documents.	Category 2 - Current
	Senior Director	10-Mar-17	0.1	570.00		Administration	Review bank rec and amend entry which was inaccurate.	Corporate - Liquidation
							Review and approve payment of outstanding administration liabilities including review of supporting	
elly-Anne Trenfield	Senior Managing Director	13-Mar-17	0.1	625.00	62.50	Administration		Category 2 - Current
elly-Anne Trenfield S	Senior Managing Director	14-Mar-17	0.2	625.00	125.00	Administration	Review position re afsi licence; info to jrp re future action Review email from Kelly-Anne Trentleid regarding LM Investment Management Ltd AFSE expiry and	Category 2 - Current
	Duning Dimetra	14-Mar-17	0.1	570.00	57.00	Administration	acknowledge same.	Category 2 - Current
	Senior Director		0.1	625.00		Administration	Update from clayton Utz re insurance settlement	Corporate - Liquidation
	Senior Managing Director	16-Mar-17	0.1	570.00		Investigations	Review update from M & A and Clayton Utz on settlement information post director meeting.	Corporate - Liquidation
tenee Lobb S	Senior Director	17-Mar-17		570.00	570.00	invesugarons		
lenee Lobb S	Senior Director	21-Mar-17	0.2	570.00	114.00	Trade-On	Call with Managed Performance Fund investor. provide KM details and took up appropriate fund prior.	
	Senior Managing Director	21-Mar-17	0.1	625.00	62.50	Administration	Review and update to do list; query outstanding items	Calegory 2 - Current
	Administration 2	27-Mar-17	0.1	185.00	18.50	Creditors	RTS. New addresses searched for. Results recorded in MYOB. Report reissued.	Category 2 - Current
	Senior Managing Director	28-Mar-17	0.1	625.00	62.50	Administration	email from and response to Clayton Utz	Corporate - Liquidation
							Email to Email the Emails of Benautities or quest details of invoice confied against monice held on trust	Category 2 - Current
eil Dempster S	Senior Consultant I	29-Mar-17	0.1	315.00	31.50	Trade-On	Email to Emma Harris at Raywhile request details of invoice applied against monies held on trust Review Clayton UIz update and attachment letters regarding progress post director meeting to	Calogory I - Current
enee Lobb S	Senior Director	29-Mar-17	0.2	570.00	114.00	Investigations	discuss possible insurance settlement.	Corporate - Liquidation
3166 2000 0		20-14101-17	ų.Z	5,0.00			email from and response to mark waller re insurance settlement update keview and update to do list;	
elly-Anne Trenfield S	Senior Managing Director	29-Mar-17	0.2	625.00	125.00	Administration	query outstanding itemsReview incoming documentation, consider and send to filing Car war cearing permany inclination regarding autors stappension: extension: encloss response to	Corporate - Liquidation
							forthcorning email with Kelly-Anne Trenfield on same. Further discussions, emails and calls with	
]				ASIC, Kelly-Anne Trenfield and John Park, send email to confirm agreement to further AFSL 18	
				570.00			month suspension. More discussions and emails to ASIC regarding confirmation for AFSL change correspondence.	Category 2 - Current

UM Investment Mar Remuneration to 30	nagement Ltd (In Liqui) 0 June 2018	dation)			3,204,515,29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
		04.04 47		COF 60	500.00		Correspondence from ASIC re suspension of licence; discuss with RCL; draft response and review final correspondence	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	31-Mar-17	8.0	625.00	500.00		Emails in / out ASIC regarding AFSL;	Category 2 - Current
John Park	Senior Managing Director	31-Mar-17	0.2	625.00	125.00		Bank account/s reconciled to requested date/s.	Corporate - Liquidation
Ashleigh Ubank	Administration 2	03-Apr-17	0.3	185.00	55.50	· · · · · · · · · · · · · · · · · · ·	Requesting invoice from Liedekerke after statement received for invocie never received.	Corporate - Liquidation
Renee Lobb	Senior Director	03-Apr-17	0.2	570.00	114.00			Corporate - Liquidation
Renee Lobb	Senior Director	04-Apr-17	0.2	570.00	114.00		Mar Qtr BAs completion.	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	04-Apr-17	0.1	625.00	62.50	Administration	JRP re arrangements re GDm resignation as Liquidtors 12 x payments to Grace Records Management for \$325.72 and LM investment Management limited	Colhorare - Exdingerou
Talia Glover	Administration 1	05-Apr-17	0,4	155.00	62.00	Administration	for CloudPlus April Invoice \$7801.20 - circulated to RCL	Category 2 - Current
Ashleigh Ubank	Administration 2	05-Apr-17	0.1	185.00	18.50		RTS. New addresses searched for. Results recorded in MYOB. Report reissued.	Category 2 - Current
		0074011		100.00		1	Review email from russells regarding adviser commissions and associated attachments and	
Renee Lobb	Senior Director	05-Apr-17	0.2	570.00	114.00	Creditors	responses.	Category 2 - Current
					444.00	Investigations	Review email with letter to Gaden's forwarded to Clayton Citz regarding director settlement of insurance claims, save and print same.	Corporate - Liquidation
Renee Lobb	Senior Director	05-Apr-17	0.2	570.00	114.00	Investigations	speak with Kelly-Annel Trenkleid and CMS regarding cloudplus hosting and bringing the cost internality	1
Renee Lobb	Senior Director	05-Apr-17	0.2	570.00	114.00	investigations	to save monies.	Category 2 - Current
		1 1					Emails in from Mark Waller re correspondence from gadensreview correspondence from directors via	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	05-Apr-17	0.2	625.00	125.00	Administration	their solicitors HW Litigation; provide instructions to Clayton Utz Review and sign BAS return for period; sign any associated payments; update schedule or	Corputate - Exquitiation
Katha Anna Trantiald	Senior Managing Director	05-Apr-17	0.1	625.00	62.50	Administration	outstanding returns/refunds	Category 2 - Current
Kelly-Anne Trenfield		05-Apr-17	0.1	570.00	57.00	Administration	PC with Renee	Category 2 - Current
Christine Stead	Senior Director	05-Api-17	0.1	570.00	01.00	Administration		
Talia Glover	Administration 1	06-Apr-17	0.1	155.00	15.50	Administration	Reconciliation of accounts as per hard copy statement, printed cover page and circulated to NGD	Corporate - Liquidation
						a to the balance	Review invoices received, and russells invoice to register. Make transfer to main account or funds to pay cloud plus inovice and request payment of grace records invoice.	Category 2 - Current
Renee Lobb	Senior Director	06-Apr-17	0.3	570.00			Review information from Gadens and their letter to the directors date 05/04/17.	Corporate - Liquidation
Renee Lobb	Senior Director	06-Apr-17	0.2	570.00	114.00	Investigations		Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	06-Apr-17	0.4	625.00	250.00	Administration	Review bdo correspondence re ima cost coverage	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	06-Apr-17	0.1	625.00	62.50	Administration	review email in from Clayton Utz re Gadens response to directors re settlement progression	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	06-Apr-17	0.1	625.00	62.50	Administration	email from and response to John Kennedy re LMA preference claim	Colhotars - Liduination
Neil Dempster	Consultant II	06-Apr-17	0.10	360	36.00	Trade-On	Email to Mario Bondin provide KM website for information 2x payments to LM Cash Performance Fund CPP tuncts \$2200 and LM investment investment	Corporate - Liquidation
		07.4 47	0.2	155.00	24.00	Administration	Management Limited \$2200 - circulated to RCL	Category 2 - Current
Talia Glover	Administration 1	07-Apr-17	0.2	100.00	31.00	Auminiseauon	Reviewing LM investment Management Ltd records and statements to assist Clout and Associates in	
Renee Lobb	Senior Director	07-Apr-17	1.5	570.00	855.00	Investigations	locationg possible LM Investment Management Ltd preference payment.	Corporate - Liquidation
							Gonig through emails from CMS regarding NAS server, hosting and data size. leave voicemail for David Thompson to discuss replacing cloud plus with FTI as hoster.	Category 2 - Current
Renee Lobb	Senior Director	07-Apr-17	0.3	570.00	171.00	Investigations	Check payments and inter account transfers, attach supporting documentation and send to Kelly-	caugary - canon
Renee Lobb	Senior Director	07-Apr-17	0.1	570.00	57.00	Trade-On	Anne Trenfield.	Category 2 - Current
	Senior Director	07-Apr-17	0.2	570.00	114.00	Administration	Scan, save, update bas sppreadsheet for refund receivable and mail out Mar Qtr BAS.	Corporate - Liquidation
Renee Lobb	Senior Director		0.2	0,0.00			Review and approve payment or outstanding administration riabilities including review or supporting	a
Kelly-Anne Trenfield	Senior Managing Director	07-Apr-17	0.1	625.00	62.50	Administration	documentation and signing of transfer or cheque	Category 2 - Current
						A 1	Review and dram response to correspondence from David Whyte re FMIL's request for reimbursement (including review of myob re payment and any reimbursement)	Category 2 - Current
	Senior Managing Director	07-Apr-17	0.5	625.00	312.50	Administration	email RCL all info relating to datadiscuss with RCL LM NAS devicediscuss NAS device with MM	Category 2 - Current
Christine Stead	Senior Director	07-Apr-17	1.8	570.00	1,026.00	Administration	Payment to Cloud Plus Pty LTd for April Storage Costs \$7801.20 - circulated to RCL	Category 2 - Current
alia Glover	Administration 1	10-Apr-17	0.2	155.00	31.00	Administration	Payment to Cloud Pids Pily Lite for April 3totage Costs 4760	
Renee Lobb	Senior Director	10-Apr-17	0.4	570.00	228.00	Administration	Management Ltd. Add other involces to consultant fee register and save to file. Review and approve payment of ourstanding administration inabilities including review of supporting	Category 2 - Current
	Outle Manada Director	10-Apr-17	0.1	625.00	62.50	Administration	documentation and signing of transfer or cheque	Category 2 - Current
elly-Anne Treofield	i Senior Manadino Lurecior							
	Senior Managing Director Senior Managing Director	10-Apr-17	0.1	625.00	62.50	Administration	Review and finalise letter to David Whyte re reimbursement claim	Category 2 - Current

LM Investment Ma Remuneration to 3	nagement Ltd (In Liquic 0 June 2018				3,204,515.29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Kelly-Anne Trenfield	Senior Managing Director	11-Apr-17	0.3	625.00	187.50	Administration	Review and update to do list, query outstanding items, Review and approve payment or outstanding administration liabilities including review of supporting documentation and signing of transfer or cheque; email correspondence to david whyte re Ima costs claim	Category 2 - Current
Renee Lobb	Senior Director	12-Apr-17	0.3	570.00	1 71 .00	Trade-On	Moving tunds after checking AUD to Euro exchange rate to pay liedekerke involce. Check clayton utz invoice received is on consultant register.	Corporate - Liquidation
Renee Lobb	Senior Director	12-Apr-17	1	570.00	570.00	Investigations	Review records and discuss with Clout and Associated regarding Amex transactions and payment of PAYG via Amex. send what I could locate to clouts and call and discuss with John Kennedy.	Corporate - Liquidation
Talia Glover	Administration 1	12-Apr-17	0.1	155.00	15.50		Payment between accounts 840 to 907 \$2000 - circulated paperwork to RCL	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	13-Apr-17	0.1	625.00	62.50	Administration	Review and approve payment	Category 2 - Current
Renee Lobb	Senior Director	13-Apr-17	0.1	570.00	57.00		Check payment voucher and attach supporting documents to pay liedekerke.	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	18-Apr-17	0.5	625.00	312.50	1	Review email in from david whyte; review information re payment or amounts from LMIM to LMA re operational funding; review information; email to Russells	Category 2 - Current
Renee Lobb	Senior Director	19-Apr-17	0.1	570.00	57.00	Trade-On	Make payment request for EUR transaction to Liedekerke. Update consultant register for payment.	Category 2 - Current
Caroline Halcoop	Administration 2	19-Apr-17	0.2	185.00	37.00	Administration	Commbiz a/s tri - LMIM - RCL - Liedekerke - EUR 1391.67. Walk to RCL - checked and walked to KAT (CD to advise of o/s tri) Review and approve payment of outstanding administration itabilities including review of supporting	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	19-Apr-17	0.1	625.00	62.50	Administration	documentation and signing of transfer or cheque Discuss with CMS 11 storage and nosting. Call and teave message for David Thompson regarding	Category 2 - Current
Renee Lobb	Senior Director	20-Apr-17	0.3	570.00	171.00	Investigations	same. Send follow up email with background to assist in discussion.	Category 2 - Current
Renee Lobb	Senior Director	20-Apr-17	0.1	570.00	57.00	Trade-On	Request payment entering into MYOB after checking AUD amount of EUR payment for liedekerke. Search mes after carnom david crout seeking trust deed for LM investment Management Ltd	Corporate - Liquidation
Renee Lobb	Senior Director	20-Apr-17	0.4	570.00	228.00	Investigations	administration trust. respond and provide same and an amendment located.	Corporate - Liquidation
Christine Stead	Senior Director	20-Apr-17	0.2	570.00	114.00	Administration	Discuss NAS device and hosting with RCL	Category 2 - Current
Madhu Menon	Senior Technical Support En	21-Apr-17	0.3	360.00	108.00	Administration	 Quick chat with Renee on her plans to enquire with David Thompson on whether they can assist with the data and AX environment Looked through old case emails in archive to see some technical reasoning on going with SuretyIT-Compose and send email to David Thompson to outline what the NAS device contains and what the technical reasons are we went with SuretyIT to host the LMI data. Carr win David Thompson regarding nosting replacement or couc plus. Speak win Maanu on same 	Category 2 - Current
Renee Lobb	Senior Director	21-Apr-17	0.3	570.00	171.00	Investigations	and send info to Madhu so he can send further technical specs	Category 2 - Current
Renee Lobb	Senior Director	24-Apr-17	0.1	570.00		Administration	Review Clayton utz involce and enter into fee register.	Corporate - Liquidation
Kellv-Anne Trenfield	Senior Managing Director	24-Apr-17	1.1	625.00	687.50	Administration	Review background information re reimoursement claim and Initial payments to LMA including review of emails and hardcopy file; draft response to David Whyte	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	24-Apr-17	0.1	625.00	62.50	Administration	Review and update to do list; query outstanding items; Review incoming documentation, consider and send to filing	Category 2 - Current
Caroline Halcoop	Administration 2	24-Apr-17	0.1	185.00	18.50	Administration	PVKIO - confirming value of in/t - Liedekerke Wolter - \$2103.17 - RCL	Category 2 - Current
Neil Dempster	Consultant II	24-Apr-17	0.20	360	72.00	Trade-On	Email to Richard Peel after checking master register for investment numbers - direct to KM for further queries	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	26-Apr-17	0.2	625.00	125.00	Administration	Emails in from Clayton Utz re response to gadensemail in re progress re deed of settlement	Corporate - Liquidation
Renee Lobb	Senior Director	26-Apr-17	0.5	570.00	285.00	Investigations	Reviewhetter norm Gateris for Hwin- to an econs regarating proposed an ector related regaracitons. Review further email from Clayton Utz regarding First Mortgage Income Fund request for PE transcript, advise Kelly-Anne Trenfield no issue with their approach, issue instructions to clayton utz regarding PE transcript disclosure.	Corporate - Liquidation
Renee Lobb	Senior Director	27-Apr-17	0.4	570.00	228.00	Administration	Return call from Pitcher Pärthers Adelaide, leave message to return my voicemail. Take call from pitcher partners, confirm update and likelihood of dividend, update address details.	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	02-May-17	0.2	625.00	125.00	Administration	RCL update re audits and asic exceptions; Review and update to do list; query outstanding items revnew email from reen dempster requesting rook unough data advise to respond with unonnador	Category 2 - Current
Renee Lobb	Senior Director	03-May-17	0.2	570.00	114.00	Trade-On	neview email from the Dempter requesting four under the data of the data the strength and the strength of the	Category 2 - Current
Renee Lobb	Senior Director	03-May-17	0.1	570.00		Administration	Make payment for records storage.	Category 2 - Current
	Administration 2	03-May-17	0.2	185.00	37.00	Administration	PV & Commbiz trf - Grace Records \$325.72 - RCL	Category 2 - Current

Nemes Neil Dempster Renee Lobb Renee Lobb Renee Lobb	Senior Consultant I Senior Director Senior Director Senior Director Senior Director Senior Director Senior Director	Date 03-May-17 04-May-17 04-May-17 05-May-17 05-May-17	Hours 0.2 0.1 0.1		Charge 72.00 57.00	Task Desc Trade-On Administration	Narrative Email to RCL re responset to look through data request Save invoice received from Russells. Add to consultant fee schedule.	Classification Corporate - Liquidation Category 2 - Current
Renee Lobb Renee Lobb Renee Lobb	Senior Director Senior Director Senior Director Senior Director	04-May-17 04-May-17 05-May-17	0.1 D.1	570.00	57.00			<u> </u>
Renee Lobb Renee Lobb	Senior Director Senior Director Senior Director	04-May-17 05-May-17	0.1			Administration	Save invoice received from Russells. Add to consultant fee schedule.	Category 2 - Current
Renee Lobb	Senior Director Senior Director	05-May-17		570.00	57.00			Category 2 - Ourrenic
	Senior Director		0.2		51164	Administration	Review email wind cloud plus invoice. Follow up David Thompson and Madnu regarding bringing hosting Incue. Seek update. Review email regarding First Mongage income Fund claim against Limily for prepara tees, save to file	Category 2 - Current
	Senior Director			570.00	114.00	investigations	and print and send to file.	Category 2 - Current
Renee Lobb	Senior Director		0.1	570.00	57.00		Check payment for storage costs, attach supporting documents and send to Kelly-Anne Trenfield.	Category 2 - Current
Renee Lobb		08-May-17	0.2	570.00	114.00	Administration	Review update on legal tees and remuneration determination follow up with Russells. Save down custody reports for April.	Category 2 - Current
Renee Lobb	Senior Director	08-May-17	0.3	570.00	171.00	Investigations	Review emails regarding director insurance settlement discussion, review, save and print miniers recent correspondence.	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	08-May-17	0.1	625.00	62.50	Administration	Review and approve payment or outstanding administration liabilities including review of supporting documentation and signing of transfer or cheque	Category 2 - Current
Nelly-Annie Treffield		du-(ildy-11				- Addition of the other	Emailmon and response to mark waiter rehunding for insurance involcescal in from mark	
				ens no	175 00	å desisistration	walleremails in re status of settlement negotiationsemail in from mark waller re outstanding legal costs	Corporate - Liquidation
Keliy-Anne Trenfield	Senior Managing Director	08-May-17	0.6	625.00	375.00	Administration	Discussion with David Thompson regarding nosting ability in house, discuss what information is	corporate Erquination
						·	accessed by us and what information is needed in what form to progress. Send cloud plus invoice for	Category 2 - Current
Renee Lobb	Senior Director	11-May-17	0.3	570.00		Investigations	review. email from and response to mark waller re offset of legal invoices/reimbursements	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	11-May-17	. 0.1	625.00	62.50	Administration	remail from and response to mark water re-onset of regaritivoices/remousements receive and respond to email from perpetual regarding recent updates. Bovise none since mitriast	Colbolare - cidergranou
						1	year. request full listing of suncorp bank accounts in response after call yesterday with suncorp and	0-1
Renee Lobb	Senior Director	12-May-17	0.2	570.00	114.00	Trade-On	the accountants. Review email regarding contact with moray and Agnew on settlement deed and proposed unting for	Category 2 - Current
Renee Lobb	Senior Director	12-May-17	0.1	570.00	57.00	Investigations	response.	Corporate - Liquidation
						<u> </u>	reeviewing email mom wank weilier regarding wat hunds received and applied against march involce. update schedule for same, check cloud plus inter acct transfer for funding to pay, send to Kelly-Anne	
Renee Lobb	Senior Director	12-May-17	0.1	570.00	57.00	Administration		Corporate - Liquidation
Caroline Halcoop	Administration 2	12-May-17	0.2	185.00	37.00	Administration	PV & Commbiz trf - Funding trf to LMIM - \$7601.20 - RCL	Category 2 - Current
Madhu Menon	Senjor Technical Support Ene	12-May-17	0.3	360.00	108.00	Administration	13-20 minute charton me prone with David Thompson and 30 pation, as contacted by Renee Lobb Discussed with David and Jo the basic structure of the LM environment, how the servers work. How LM was accessed in FTI prior. What devices we have, and why the decision was taken to host externally with SuretyIT/CloudPlus	Category 2 - Current
Renee Lobb	Senior Director	15-May-17	0.2	570.00	114.00	Creditors	Responding to creditor query on return. attached Annual RTC in email response.	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	15-May-17	0.1	625.00	62.50	Administration	Review incoming documentation, consider and send to filing	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	15-May-17	0.1	625.00	62.50	Administration	Review and approve payment or outstanding administration flabilities including review of supporting documentation and signing of transfer or cheque	Category 2 - Current
Renee Lobb	Senior Director	16-May-17	0.1	570.00	57.00	Trade-On	Pay cloud plus invoice	Category 2 - Current
Renee Lobb	Senior Director	16-May-17	0.2	570.00	114.00	Investigations	Locate and send Surety IT and server information to David Thompson.	Category 2 - Current
Caroline Halcoop	Administration 2	16-May-17	0.1	185.00	18.50	Administration		Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	16-May-17	0.1	625.00	62.50	Administration	Review and approve payment of olitistanding administration liabilities including review or supporting documentation and signing of transfer or cheque	Category 2 - Current
Renee Lobb	Senior Director	17-May-17	0.2	570.00	114.00	Investigations		Category 2 - Current
	Senior Director	17-May-17	0.5	570.00	285.00	Investigations	Discussion with Kelly-Anne Trentield regarding payments of Souk and reimbursement of same. discuss allocation of RE costs to be allocated by funds and timing for reconciliation to occur.	Category 2 - Current
	Senior Managing Director	17-May-17	0.2	625.00	125.00	Administration	Emails with DLC re meeting to discuss Ima preference claim	Corporate - Liquidation
elly-Anne Trenfield	Senior Managing Director	17-May-17	0.1	625.00				Category 2 - Current
	Senior Director	18-May-17	0.7	570.00	399.00		disclosure of potentially privileged documents. Email KAY with my agreement seeking confirmation to issue instructions along those lines to clayton utz. provide instructions after receiving confirmation from Keily-Anne Trenfield. Review CBA responses, save bank statements and send to Ashley at Russells for First Mortgage thcome Fund indemnity claim information. follow up perpetual for suncorp First Mortgage Income Fund account list.	Category 2 - Current

LIM Investment Ma Remuneration to 3	anagement Ltd (In Liquid 10 June 2018	dation)			3.204.515.29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Kelly-Anne Trenfield	Senior Managing Director	18-May-17	0.1	625.00	62.50	Administration	email in from Clayton Utz and discuss with RCL, approve response	Corporate - Liquidation
Caroline Halcoop	Administration II	18-May-17	0.20	180	36.00	Administration	PV & Commbiz trf - \$60k - trf to AIF account - RCL	Category 2 - Current
Renee Lobb	Senior Director	22-May-17	0.1	570.00	57.00	Administration	Revise payment rec and send back to Caroline Halcoop.	Category 2 - Current
Renee Lobb	Senior Director	22-May-17	0.2	570.00	114.00	Creditors	Take call from advisor regarding transferring from bolid holder to tindenying investor, advise to locate investor ID number and give number to BDO/ KM or investment menager.	Category 2 - Current
Carly Drew	Administration 2	22-May-17	0.1	185.00	18.50	Administration	WIP	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	22-May-17	0.1	625.00	62.50	Administration	Review and approve payment of outstanding administration liabilities including review of supporting documentation and signing of transfer or cheque	Category 2 - Current
Caroline Halcoop	Administration II	23-May-17	0.10	180	18.00	Administration	Redo pv & Commbiz trf - \$60k - LMIM - from a/c 13409078 - RCL	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	24-Mav-17	0.1	625.00	62.50	Administration	Review and approve payment or ourstanding administration liabilities including review or supporting documentation and signing of transfer or cheque	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	24-May-17	0.9	625.00	562.50	Administration	David Clout re LMA preference actionspull together info re pref meeting with alo	Corporate - Liquidation
Renee Lobb	Senior Director	25-May-17	0.2	570.00	114.00	Investigations	Correspond with Clayton Utz regarding insurance settlement, Belgium proceeding and appeal update.	. Corporate - Liquidation
Renee Lobb	Senior Director	25-May-17	0.4	570.00		Investigations	Discussion with David Thompson regarding data hosting arrangements in place, pass on information to Kelly-Anne Trenfield and arrange meeting tomorrow, loak up surety it direct contact. Incr a status or renerverke appeal; review status or insurfance semementemans in re settlement	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	25-May-17	0.2	625.00	125.00	Administration	status	Corporate - Liquidation
Renee Lobb	Senior Director	26-May-17	0.3	570.00	171.00	Investigations	Review Berglum claim, FMIP proceedings and insurance settlement update from clayton Uiz and discuss with Kelly-Anne Trenfield.	Corporate - Liquidation
Renee Lobb	Senior Director	26-May-17	0.8	570.00	456.00	Investigations	Discussion with David Thompson regarding IT servers,	Category 2 - Current
Renee Lobb	Senior Director	26-May-17	0.3	570.00	171.00	Administration	Receipt payments from ASPF and AIF for op costs in myob, review account and cloud plus reminder and do key in for receipt of returned monies and repay same.	Category 2 - Current
Renee Lobb	Senior Director	26-May-17	0.7	570.00	399.00	Investigations	Extracts from MYOB 07007110 to 30/04/17 transactions for main and high interest account. classify operational costs and email Kelly-Anne Trenfield work in progress spreadsheet with queries on legal fee allocations.	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	26-May-17	0.1	625.00	62.50	Administration	Review update from Clayton utz	Corporate - Liquidation
							Cair from Eva discuss current status or LMIM wind up - on going for a while now. Direct to KordaMentha for MPF query	Corporate - Liquidation
Neil Dempster	Senior Consultant 1	26-May-17	0.1	360.00	36.00	Trade-On	3 x RVKIO - Cloudplus \$7801.20; LMAIF \$6742.05; LMASPF \$1685.51; PV & Commbiz trsf Cloud	
Caroline Halcoop	Administration II	26-May-17	0.40	180	72.00	Administration	Plus \$7801.20- RCL Review update sought from peter tredenick at Moray & Agnew. review further information issued to	Category 2 - Current
Renee Lobb	Senior Director	29-May-17	0.2	570.00	114.00	Investigations	naview update sought hom peter recention at morely a right more what is interesting and the source of the source o	Corporate - Liquidation
Renee Lobb	Senlor Director	29-May-17	2.5	570.00	1,425.00	Trade-On	costs, do ASPF/AIF split and send to Kelly-Anne Trenfield to approve reimbursements. Do invoices for AIF and ASPF for reimbursements.	Category 2 - Current
Renee Lobb	Senior Director	30-May-17	0.1	570.00	57.00	investigations	Send IT contacts to david Thomson to review current hosting and cost saving potential.	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	30-May-17	0.1	625.00	62.50	Administration	Review incoming documentation, consider and send to tiling; Review and update to do list; query outstanding items	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	30-May-17	0.1	625.00	62.50	Administration	Review incoming documentation, consider and send to filing	Category 2 - Current
Talia Glover	Administration 1	30-May-17	0.4	155.00	62.00	Administration	z x payments to Granam Gibson for Invoice number 2597 \$3850 and Pereptual Ltd General Account \$14747.58 - circulated to RI.	Category 2 - Current
· · · · · · · · · · · · · · · · · · ·		31-May-17	0.3	570.00	171.00	Trade-On	Receipts into account for fund of cost payments, no payment reducts for legal and custody lees and update associated registers. Check vouchers and attach supporting documentation, add in GST refund receipt in myob, print associated documents in support.	Category 2 - Current
Renee Lobb	Senior Director	31-May-17 31-May-17	0.3	155.00		Administration	BPAY payment to ATO for BAS May 2017 \$117 - CIRCULATED TO RCL	Corporate - Liquidation
Talia Glover	Administration 1	01-Jun-17	0.2	625.00			Review and approve payment of outstanding administration Trabilities including review of supporting documentation and signing of transfer or cheque	Category 2 - Current
Keliy-Anne Trenfield Renee Lobb	Senior Managing Director Senior Director	01-Jun-17 02-Jun-17	0.1	570.00		Trade-On	Make payment request through myob for June grace records storage costs.	Category 2 - Current
	Senior Director	05-Jun-17	0.2	570.00			Review correspondence from Gadens requesting disclosure of montazga retranscrit for settlement	Corporate - Liquidation
Renee Lobb	COSTRUCT DIRECTOR	00-001-17	0.2	570.00	114.00	an congunona		

LM Investment Ma Remuneration to 3	nagement Ltd (In Liqui 0 June 2018	dation)		an bara sakar sakara "Ange" (angerta) - bi ang ay karin tarang karing	3,204,515.29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Kelly-Anne Trenfield	Senior Managing Director	05-Jun-17	0.1	625.00	62 50	Administration	Email in from Clayton Utz re request for disclosure; review recommendation and respond provide consent for disclosure on a without prejudice basis	Corporate - Liquidation
Renee Lobb	Senior Director	06-Jun-17	0.3	570.00	171.00		Review report to creditors from Peter Drake's trustees.	Corporate - Liquidation
							Review clayton utz correspondence to Gadens regarding montazga transcript permission to disclose.	Corporate - Liquidation
Renee Lobb	Senior Director	06-Jun-17	0.1	570.00	57.00		save and print for file. review report re Drake's bankruptcy	Corporate - Liquidation
Keliy-Anne Trenfield	Senior Managing Director	06-Jun-17	0.1	625.00	62.50	Administration	Review and update to do list; query outstanding items; Review incoming documentation, consider and	1 Corporate - Education
Kelly-Anne Trenfield	Senior Managing Director	06-jun-17	0.1	625.00	62.50	Administration	send to filing	Category 2 - Current
Talja Glover	Administration 1	06-Jun-17	0,2	155.00	31.00	Administration	435602.0001 Payment to Grace Records Management for Invoice number RG 00634424 \$325.72 circulated to RCL	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	07-Jun-17	0.2	625.00	62.50	Administration	Review o/s clayton utz invoices; instructions to rcl to pay	Corporate - Liquidation
Talia Glover	Administration 1	07-Jun-17	0.2	155.00	31.00		Payment to Clayton UTZ for invoices 392476 and 3928150 \$25093 - circulated to RCL	Corporate - Liquidation
	· · · · · · · · · · · · · · · · · · ·						Reviewing clayton utz invoices against notes in consultant schedule, email Mark regarding balance of	Corporate - Liquidation
Renee Lobb	Senior Director	08-Jun-17	0.2	570.00	114.00	Investigations	September invoice. Review and update to do list; query outstanding items; Review incoming documentation, consider and	
Kelly-Anne Trenfield	Senior Managing Director	08-Jun-17	0.1	625.00	62.50	Administration	send to filing	Category 2 - Current
Talia Glover	Administration 1	08-Jun-17	0.1	155.00	15.50	Administration	Reconciliation of account as per bank statement, printed cover page and circulated to RCL	Corporate - Liquidation
Renee Lobb	Senior Director	09-Jun-17	0.1	570.00	57.00	Administration	Review payments to clayton utz. attach supporting docs and send to Kelly-Anne Trenfield.	Corporate - Liquidation
Talia Glover	Administration 1	12-Jun-17	0.2	155.00	31.00	Administration	Payment to Cloud Plus Pty LTd for invoice number 21516174 \$7801.20 - circulated to RCL	Category 2 - Current
Renee Lobb	Senior Director	13-Jun-17	0.2	570.00	114.00	Trade-On	Payment request for cloud plus invoice. Review, save, print and send to the update on application to court by First mongage income Fund to	Category 2 - Current
Renee Lobb	Senior Director	13-Jun-17	0.2	570.00	114.00	Investigations	get disclosure of EY documents to assist in insurance settlement discussions.	Corporate - Liquidation
							Review and approve payment or ourstanding administration liabilities including review or supporting	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	13-Jun-17	0.1	625.00		Administration	documentation and signing of transfer or cheque emails in re remuneration application	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	13-Jun-17	0.1	625.00	62.50	Administration	emails in terrendreation application and the second stration application appli	
Kelly-Anne Trenfield	Senior Managing Director	13-Jun-17	0.1	625.00	62.50	Administration	documentation and signing of transfer or cheque	Category 2 - Current
Renee Labb	Senior Director	14-Jun-17	0.1	570.00	57.00	Trade-On	Check payment for cloud plus and send to Kelly-Anne Trenfield.	Category 2 - Current
Renee Lobb	Senior Director	14-Jun-17	0.1	570.00	57.00	Administration	Check account for BAS refund. Note in myob already and update tracker. Review email from clayton UTZ. Save to file regarding settlement progressions and disclosure of	Corporate - Liquidation
Banaa Lobb	Senior Director	16-Jun-17	0.2	570.00	114.00	Investigations	unauthenticated monaghan transcript to bartley cohen.	Corporate - Liquidation
Renee Lobb Kelly-Anne Trenfield	Senior Managing Director	16-Jun-17	0.2	625.00		Administration	Legal agreements re fee approvals - review and preparing for JRP signing	Category 2 - Current
	Conton Managing Director	10 0411 11					Review and update to do list; query outstanding itemsreview and send signed legal services agreements to russells re remuneration applications	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	20-Jun-17	0.2	625.00		Administration	SOP Reconciliation and determine Berkley/Applegate claim	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	21-Jun-17	2.4	625.00		Administration Administration	planning re formulation of claim against funds	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	21-Jun-17	0.2	625.00	120.00	Administration	Review LMIM corporate legal costs and discuss corporate time split, request full account or russells	
Renee Lobb	Senior Director	22-Jun-17	0.1	570.00	57.00	Administration	Invoices outstanding.	Corporate - Liquidation
Renee Lobb	Senior Director	22-Jun-17	0.1	570.00	57.00	Investigations	Review and file email updates on moray and Agnew consideration regarding funding. Can with Clayton or regarding insurance moray and Agnew update and ledekerke update, provide	Corporate - Liquidation
							Chris with update on proceedings this week and how we see the ruling may play out, advise Kelly-	
Renee Lobb	Senior Director	22-Jun-17	0.4	570.00	228.00	Investigations	Anne Trenfield of points of discussion.	Corporate - Liquidation
(elly-Anne Trenfield	Senior Managing Director	22-Jun-17	2.1	625.00	1,312.50	Administration	Reconcilation of statement of position and application of berkley/applegate indemnity claim Review incoming documentation, consider and send to filingReview and update to do list; query	Category 2 - Current
	Queine Manuality Director	22-Jun-17	0.2	625.00	125.00	Administration	outstanding items	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	22-JUII-17	2				Review Trilogy email requesting Pland D and O policies. Torward to Kelly-Anne Trentreid with	Corporate - Liquidation
Rence Lobb	Senior Director	23-Jun-17	0.2	570.00	114.00	Investigations	commets then send to clayton utz to respond. Review and update to do list; query outstanding items review incoming documentation, consider and	corporate - ciquidation
elly-Anne Trenfield	Senior Managing Director	23-Jun-17	0.1	625.00	62.50	Administration	send to filing	Category 2 - Current
ohn Park	Senior Managing Director	23-Jun-17	0.1	625.00		Assets	email in John Вапту Trilogy	Category 2 - Current
	Senior Managing Director	30-Jun-17	0.2	625.00	125.00	Administration	Preparation re meeting with Russells; Review incoming documentation, consider and send to filing	Category 2 - Current

LM Investment Ma Remuneration to 3	nagement Ltd (In Liquic 0 June 2018	lation)			3,204,515.29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Kelty-Anne Trenfield	Senior Managing Director	02-Jut-17	0.1	625.00	62.50	Administration	Email from and response to RCI re fund updates	Category 2 - Current
John Park	Senior Managing Director	03-Jul-17	0.2	625.00	125.00	Administration	review correspondence to ASIC	Calegory 2 - Current
Renee Lobb	Senior Director	03-Jui-17	0.2	570.00	114.00	Investigations	Review update on Barrey Coner correspondence on director insurance settlement negotiations and Moray & Agnew regarding same.	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	03-Jul-17	0.1	625.00	62.50	Administration	update from mark walter re insurance	Corporate - Liquidation
Renee Lobb	Senior Director	05-Jul-17	0.1	570.00	57.00	Trade-On	Make payment for grace records invoice through myob. Payment to grace records management for invoice number RG00643600 \$325.72 - circulated to	Category 2 - Current
Talia Glover	Administration 1	05-Jน -17	0.2	155.00	31.00	Administration	RCL	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	06-Jul-17	0.4	625.00	250.00	Administration	Finance update	Corporate - Liquidation
Talia Glover	Administration 1	07-Jul-17	0.1	155.00,	15.50	Administration	Reconciliation of account as per bank statement, printed cover page and circulated to RCL	Corporate - Liquidation
Talia Glover	Administration 1	10-Jul-17	0.2	155.00	31.00	Administration	435602.0001 Payment to Russells law for invoice829859 \$87.05 - circulated to RCL	Category 2 - Current
Talia Glover	Administration 1	10-Jui-17	0.8	155.00	124.00	Administration	Prepared account closure retter as per RCL request, reconciled account up to todays date and circulated paperwork to JRP for signature approval.	Category 2 - Current
Talia Glover	Administration 1	10-Jul-17	0.2	155.00	31.00	Administration	Payment to WMS Chartered accountants for invoice 54469 49382 62878 \$7315 - circulated to RCL Discussion with Stacey at KM regarding worrelts Drake investigation requirement for records	Category 2 - Current
Renee Labb	Senior Director	10-Jul-17	0.3	570.00	171.00	Investigations	regarding Fiji property. discuss with her what is held and confer with Kelly-Anne Trenfield also.	Corporate - Liquidation
Renee Lobb	Senior Director	10-Jul-17	0.1	570.00	57.00	Investigations	Follow up David Thompson regarding data storage cost savings after receipt of cloud plus invoice.	Category 2 - Current
Renee Lobb	Senior Director	10-Jul-17	0.1	570.00	57.00	Trade-On	Review, save and apply monies in consultant fee register to Russells Invoice as advised.	Category 2 - Current
Kelly-Anne Trenßeld	Senior Managing Director	10-Jul-17	0.1	625.00	62.50	Administration	RCL re queries from KM/Worrells	Corporate - Liquidation
Carly Young	Consultant)	11-Jul-17	0.2	260.00	52,00	Administration	Called ATO to update postal address.	Corporate - Liquidation
Talia Glover	Administration 1	11-Jul-17	0.2	155.00	31.00	Administration	Payment to Deputy Commissioner of Taxation for BAS payment \$7135 - circulated to RCL	Corporate - Liquidation
Renee Lobb	Senior Director	11-Jul-17	0.4	570.00	228.00	Investigations	Review Thiogy follow up on insurance policies, email Mark and Chris and discuss proposed response with Mark, Issue correspondence drafted by Clayton Utz to Trilogy in reply.	Corporate - Liquidation
Renee Lobb	Senior Director	11-Jul-17	0.1	570.00	57.00	Administration	Request closure or high interest account. Send to Kelly-Anne Trenileid unpeid WMS involces and discuss funding.	Corporate - Liquidation
Kelly-Anne Trenfieid	Senior Managing Director	11-Jui-17	0.1	625.00	62.50	Administration	emails in re trilogy insurance request; review update and approve draft email in response	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	11-Jul-17	0.1	625.00	62.50	Administration	RCL re payment of fund costs and insurance	Corporate - Liquidation
Ashleigh Ubank	Administration 2	11-Jul-17	0.3	185.00	55.50	Administration	Bank account/s reconciled to requested date/s.	Corporate - Liquidation
Neil Dempster	Senior Consultant I	11-Jui-17	0.3	360.00	108.00	Trade-On	Cali from Brendan Moody discuss LMIM fole as responsible enuly - check register for address email copy of report	Corporate - Liquidation
Renee Lobb	Senior Director	11-Jul-17	0.20	565	113.00	Trade-On	Take investor call. provide details of KordaMentha and explain relationship between RE/Trustee and Fund.	Corporate - Liquidation
Neil Dempster	Consultant II	11-Jul- 17	0.10	360	36.00	Trade-On	Email to Elaine Warner regarding transfer of Brooklands Trustees investments.	Corporate - Liquidation
Neil Demøster	Consultant II	11-Jul-17	0.30	360	108.00	Trade-On	Call from Brendan Moody discuss LMIM role as responsible entity - check register for address email copy of report	Category 2 - Current
Renee Lobb	Senior Director	12-Jul-17	0.2	570.00	114.00	Administration	Review entail from russells regarding time review meeting on REM application. Discuss with Kelly- Anne Trenfield.	Category 2 - Current
Renee Lobb	Senior Director	12-Jul-17	0.2	570.00	114.00	Trade-On	Timesheet discussion scheduling, arrange and send invite.	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	12-Jul-17	0.5	625.00	312.50	Administration	of russells work with RCL; send email to russells requesting an update; response in and discuss with RCLrcl re meeting on fee approvals	Category 2 - Current
Falia Glover	Administration 1	12-Jul-17	0.3	155.00	46.50	Administration	3 x payments to WMS Chartered Accountants for Invoice payments totalling \$11330 - circulated to RCL	Category 2 - Current
Renee Lobb	Senior Director	13-Jul-17	0.1	570.00	57.00	Investigations	Respond to Worrells records request for Drake Bankruptcy.	Corporate - Liquidation
	Senior Director	13-Jul-17	0.2	570 .00	114.00	Administration	Review and save to file Custody reports, put entries in myob for closure of LM investment Management Ltd high interest account.	Category 2 - Current
Renee Lobb	Senior Director	13-Jul-17	0.1	570.00	57.00	Administration	Update website for ASIC 18 month further AFSL extension granted in March 2017.	Calegory 2 - Current
enee Lobb	Senior Director	13-Jul-17	0.2	570.00	114.00	Administration	Do June 17 Qtr bas. request payment.	Corporate - Liquidation

Remuneration to	anagement Ltd (in Liquid 30 June 2018				3,204,515.29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
John Park	Senior Managing Director	13-Jul-17	0.6	625.00	375.00	Assets	settle update to investors	Category 2 - Current
Renee Lobb	Senior Director	14-Jul-17	0.6	570.00	342.00	Administration .	Meeting with Russells regarding remuneration application.	Category 2 - Current
Renee Lobb	Senior Director	14-Jul-17	0.1	570.00	57.00	Investigations	Review email from Clayton Utz with Moray & Agnew update.	Corporate - Liquidation
Renee Labb	Senior Director	14-Jul-17	0.2	570.00	114.00	Investigations	Emails between GOK and FTI staff regarding worrells records requested for drake bankruptcy.	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	14-Jul-17	0.1	625.00	62.50	Administration	Review and approve payment or outstanding administration liabilities including review of supporting documentation and signing of transfer or cheque	Category 2 - Current
Neil Dempster	Consultant li	14-Jul-17	0.10	360	36.00	Trade-On	Email to Jacqui alcock direct to MPF website	Corporate - Liquidatio
John Park	Senior Managing Director	17-Jul-17	0.1	625.00	62.50	Assets	Email in Amanda Banton;	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	17-Jui-17	0.1	625.00	62.50	Administration	mail in from SPG re insurance claim	Corporate - Liquidation
Neil Dempster	Consultant II	17-Jul-17	0.10	360	36.00	Trade-On	Direct Jacqui Alcock to KM through website - note I do not have direct contact there	Corporate - Liquidatio
Kelly-Anne Trenfield	Senior Managing Director	18-Jul-17	0.1	625.00	62.50	Administration	email in from SPB re wholesale income fund	Category 2 - Current
	Paries Director	19-Jui-17	0.4	570.00	228.00	Investigations	Réview LMWFMIF retter from Squire Patton Boggs régarding insurance policies. Savé, print and send to Clayton Utz to assist in response.	Corporate - Liquidation
Renee Lobb Renee Lobb	Senior Director	19-Jul-17	0.4	570.00	57.00	Trade-On	Make payment for cloudplus.	Category 2 - Current
Renee Lobb	Senior Director	19-Jul-17	0.1	570.00	57.00	Administration	Scan, save and mail out Jurie bas, ensure register updated.	Corporate - Liquidation
Talia Glover	Administration 1	20-Jul-17	0.2	155.00	31.00	Administration	435602 Payment to Clayton UTZ for invoice number 3931699 \$13944.75 - circulated to RCL	Corporate - Liquidation
	Administration	20 001 11	0.2				AUT re remuneration and expense claim re allocation of corporate costsupoate to jrp; arrange signing	O-t-co-l Ourset
Kelly-Anne Trenfield	Senior Managing Director	21-Jul-17	0.2	625.00	125.00	Administration	of client agreement Going mrough statement of accounts by invoice from russells, review against our records, note	Category 2 - Current
Renee Lobb	Senior Director	24-Jui-17	2.3	570.00	1,311.00	Administration	discrepancies and detail all in email to russells to reconcile records and ensure accuracy,	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	24-Jul-17	0.1	625.00	62.50	Administration	RCL re outstanding legal fees Follow up Clayton Utz regarding response to Trilogy request for insurance policies, review initial	Category 2 - Current
Renee Lobb	Senior Director	25-Jul-17	0.2	- 570.00	114.00	Investigations	correspondence regarding timeframe for reply and respond to clayton utz.	Corporate - Liquidation
Renee Lobb	Senior Director	25-Jul-17	0.1	570.00	57.00	•	Email Russells regarding account reconciliation.	Category 2 - Current
ABITEE LODD							email to Jenny Jones at utmost wealth management direct to KM for her investments in that	
Neil Dempster	Consultant II	25-Jul-17	0.10	360	36.00	Trade-On	fund	Corporate - Liquidatio Category 2 - Current
Caroline Halcoop	Administration II	25-Jul-17	0.20	180	36.00	Administration	PV & Commbiz trf - Cloud Plus Pty Ltd - \$7801.20 - RCL Review, attach supporting adcumentation and send to Kelly-Anne Trenneld to process cloud plus	Category 2 - Current
Renee Lobb	Senior Director	26-Jul-17	0.1	570.00	57.00	Administration	payment.	Category 2 - Current
·····							Review and approve payment or outstanding administration liabilities including review of supporting documentation and signing of transfer or cheque	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	26-Jul-17	0.1	625.00	62.50	Administration	email from and response to Enc L, BUU re dialog access to LM fund records re MIF membership	
(ellv-Anne Trenfield	Senior Managing Director	31-Jui-17	0.3	625.00	187.50	Administration	issueReview and update to do list; query outstanding items	Category 2 - Current
					195.00	Administration	Email in re allocation of lunds across clayton utz involces - drain response; RCL re payment or outstanding costs	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	31-Jul-17	0.2	625.00	125.00	Addimistration	Call with clayton utz and tollow up via email draft correspondence in response to thogy's request for	
Renee Lobb	Senior Director	31-Jul-17	0.2	570.00	114.00	Investigations	insurance policy documents. Review consumancee register and outstanding clayton utz invoices; make applications of insurer	Corporate - Liquidation
							funds received per Mark Waller's email and save to file. add in invoices to register not previously	
							inserted and arrange payment request for Nov 16 invoice. advise KAt of payment on receipt of further	Corporate - Liquidation
Renee Lobb	Senior Director	01-Aug-17	0.8	570.00	456.00	Administration	follow up from Mark. Review amail from russells regarding remuneration application and entries, print, save and review	Ourporate - Equidation
Renee Lobb	Senior Director	01-Aug-17	0.5	570.00	285.00	investigations	entries in question.	Category 2 - Current
elly-Anne Trenfield	Senior Managing Director	01-Aug-17	0.1	625.00			Email from and response to Mark waller re oulstanding invoice; update from RCL	Corporate - Liquidation
lenee Lobb	Senior Director	02-Aug-17	0.1	570.00	57.00	Trade-On	Request payment through MYOB of grace records invoice.	Category 2 - Current
elly-Anne Trenfield	Senior Managing Director	02-Aug-17	0.1	625.00	62.50	Administration	Review outstanding costs	Category 2 - Current
Celly-Anne Trenfield	Senior Managing Director	02-Aug-17	0.2	625.00	125.00	Administration	Review outstanding costs	Category 2 - Current
(elly-Anne Trenfield	Senior Managing Director	02-Aug-17	0.1	625.00	ea 50	Administration	Review and approve payment of outstanding administration liabilities including review of supporting documentation and signing of transfer or cheque	Category 2 - Current

LM Investment Ma	magement Ltd (In Liquid	dation)			7 704 CAE 70			
Remuneration to 3 Name	10 June 2018 Title	Date	Hours	Charge Out Rate	3,204,515.29 Charge	Task Desc	Narrative	Classification
Talia Glover	Administration 1	02-Aug-17	0.2		31.00		435602.0001 Payment to Cloud Plus for invoice number 21539143 \$7801.20 - circulated to RCL	Category 2 - Current
Ashleigh Ubank	Administration 2	03-Aug-17	0.1	185.00	18.50		WIP proforma/s generated for code.	Category 2 - Current
Renee Lobb	Senior Director	03-Aug-17	0.3	570.00	171.00	Investigations	Can with Jason Bemes at worrelis regarding peter drake ramini law proceedings records for Fili property, discuss records and work required to be able to search emails. Locarn with protonna for disponsements, review account for available turks: check with Keily-Anne	Corporate - Liquidation
Renee Lobb	Senior Director	03-Aug-17	0.3	570.00	171.00	Administration	Trenfield kay to close account to disbursements, draft proforma for disbursements to 31/07/17. discuss taking out consulting and other interco fees and action same.	Corporate - Liquidation
Renee Lobb	Senior Director	03-Aug-17	0.1	570.00	57.00	Administration	Review payment voucher, attach supporting docs.	Category 2 - Current
Renee Lobb	Senior Director	03-Aug-17	0.1	570.00	57.00	Administration	Make payment request for invoice cloudpius.	Category 2 - Current
	0 - 1 - D'- 1	02 Aug 47	0.4	570.00	228.00	Administration	complete 524, 524 checklist and matter review form. update details and print supporting documents before sending to Kelly-Anne Trenfield.	Corporate - Liquidation
Renee Lobb	Senior Director	03-Aug-17 03-Aug-17	0.4	625.00	62.50	Administration	RCL re disbursement request and closure of bank accounts	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director						Review and approve request for proforma invoice/draft bill/finalised billing and paymentEmails in re	Category 2 - Current
Keliy-Anne Trenfield	Senior Managing Director	03-Aug-17	0.1	625.00	62.50	Administration	remuneration applications 435602.0001 Payment to Grace Records Management for thy RE00652895 \$325.72 - circulated to	OBlegory 2 - Ourrow
Talia Glover	Administration 1	03-Aug-17	0.2	155.00	31.00	Administration	RCL	Category 2 - Current
							Check master register for peter frost - email to Kirsty condie his advisor direct to KM as trustees	
Neil Dempster	Consultant II	03-Aug-17	0.20	360	72.00	Trade-On	of MPF re timing for any distributions	Corporate - Liquidation
Renee Lobb	Senior Director	04-Aug-17	0.1	570.00	57.00	Administration	Scan, save and email to finance draft bill request form. Payment of cloudplus invoice, check payment voucher ad attach supporting occumentation before	Corporate - Liquidation
Renee Lobb	Senior Director	04-Aug-17	0.1	570.00	57.00	Administration	sending to Kelly-Anne Trenfield to process.	Category 2 - Current
							Review incoming documentation, consider and send to filling; Review and update to do list; query outstanding items	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	04-Aug-17	0.1	625.00 625.00	62.50	Administration Administration	Review F524 and supporting docs; review updated work programme and half annual review	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	04-Aug-17	0.1	625.00	62.00	Administration		
Neil Dempster	Consultant II	04-Aug-17	0.10	360	36.00	Trade-On	Email to Maëlle AAM advisory direct to KM for MPF enquiry	Corporate - Liquidation
John Park	Senior Managing Director	07-Aug-17	0.2	625.00	125.00	Assets	settle correspondence out	Corporate - Liquidation
				570.00	114.00	Investigations	Review response to Amanda Banton regarding Trilogy request for insurance details, send dratted clayton utz response.	Corporate - Liquidation
Renee Lobb	Senior Director	07-Aug-17	0.2	570.00	114.00	Investigations	Lodging 524. Save, print and send to Kelly-Anne Trentield before filling, also review, save and update	
Rелее Lobb	Senior Director	07-Aug-17	0.3	570.00	171.00	Administration	consultant fee register for invoices received/ Review gran invoice for dispursements, sign on, attach supporting documents and send to Kelly-	Corporate - Liquidation
Renee Lobb	Senior Director	07-Aug-17	0.1	570.00	57.00	Administration	Anne Trenfield.	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	07-Aug-17	0.1	625.00	62.50	Administration	Email in re outstanding accounts; email in re response to arranda banton	Category 2 - Current
Renee Lobb	Senior Director	08-Aug-17	0.1	570.00	57.00	Trade-On	Adding in invoices to consultant fee register.	Category 2 - Current
					57.00	Administration	Review amendments to involces for OUPS, scan and email to finance to finalise involces with amendments.	Corporate - Liquidation
Renee Lobb	Seniar Director	08-Aug-17	0.1	570.00	57.00	Administration		Corporate - Liquidation
Talia Glover	Administration 1	08-Aug-17	0.2	155.00	31.00	Administration	435602.0001 Payment to FTI Consulting for invoice number 7453167 \$32734.72 - circulated to RCL	Corporate - Liquidation
Renee Lobb	Senior Director	09-Aug-17	0.2	570.00		Administration	Review final disbursements invoice, save, print and request payment through myob.	Corporate - Liquidation
Renee Labb	Senior Director	09-Aug-17	0.1	570.00	57.00	Administration	Check clayton utz invoice received and ensure in consultant register.	corporato - Equidadi
Renee Lobb	Senior Director	09-Aug-17	0.10	565	56.50	Trade-On	Respond to query from investor. provide KM contact details.	Corporate - Liquidation
Neil Dempster	Consultant II	09-Aug-17	0.10	360	36.00	Trade-On	Email to matthew basutti direct to KM for MPF enquiry Respond to investor query not noting tund but requesting latest investor report, direct to website in	Corporate - Liquidation
Renee Lobb	Senior Director	10-Aug-17	0.1	570.00	57.00	Trade-On	response.	Category 2 - Current
Renee Lobb	Senior Director	10-Aug-17	0.1	570.00	57.00	Administration	Check disbursement online payment, attach supporting docs and send to Kelly-Anne Trentleid to process. Review and approve payment or outstanding administration liabilities including review of supporting	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	10-Aug-17	0.1	625.00	62.50	Administration	documentation and signing of transfer or cheque	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	10-Aug-17	0.1	625.00			Review and sign letter to PTAL re closure of fund bank accounts	Category 2 - Current

LM investment M Remuneration to	anagement Ltd (In Liqui 30 June 2018	dation)	11 A.		3.204.515.29	· ·		
Name	· · · · · · · · · · · · · · · · · · ·	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Renee Labb	Senior Director	11-Aug-17	2.5	570.00	1,425.00	Creditors	Draft annual RTC, receipts and payments and acts and dealings. send to Kelly-Anne Trenfield.	Corporate - Liquidation
Renee Lobb	Senior Director	15-Aug-17	0.2	570.00	114.00	Administration	Review email from pany regarding domain name transfer. Conlinn with iveli Dempster draft email lokay to issue.	Category 2 - Current
Renee Labb	Senior Director	15-Aug-17	0.3	570.00	171.00	Creditors	Discussions with Keny-Anne Trentiela and Neil Demoster regarding remunerativo report format and time periods, email to clarify.	Corporate - Liquidation
John Park	Senior Managing Director	15-Aug-17			125.00	Assets	correspondence in Gadens	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	15-Aug-17	0,1	625.00	62.50	Creditors	Rcl re report/ agm timetable	Corporate - Liquidation
Neil Dempster	Senior Consultant f	15-Aug-17	0.2	360.00	72.00	Trade-On	Draft email to RCL responding to domain name transfer or affiliation with applicant for similar domain registries	Category 2 - Current
Renee Lobb	Senior Director	17-Aug-17	0.3	570.00	171.00	Investigations	Review save and print First Montgage Income Fund claim and amended statement of claim	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	17-Aug-17	0.2	625.00	125.00	Administration	email from and response to DLC relaccess to MPF books and recordsemalis in from Gadens and Russells relacrvice of documents re MIF proceedings Email in from Gadens and quick review of statement of claim; email from and response to Russells re	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	17-Aug-17	D.1	625.00	62.50	Administration	service and response to Gadens	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	17-Aug-17	0.3	625.00	187.50	Administration	Forward FMIF claim refeeder funds to insurance to clayton utz to referranto insurer recoverage and defence costsconfirm receipt to Gadens and response to M Craig, Russells Check receipt vouchers into LM investment management Ltd AIF notoing account, attach supporting	Corporate - Liquidation
Renee Lobb	Senior Director	18-Aug-17	0.2	570.00	114.00	Administration	documents and send to file.	Category 2 - Current
Tanya Kratz	Administration 2	18-Aug-17	0.2	185.00	37.00	Administration	Print and file bank reconciliations as requested.	Corporate - Liquidation
Tellya Nata							Review and approve request for protorma involcerarian biliminalised billing and payment Review and approve payment of outstanding administration liabilities including review of supporting	
Kailu Aono Tropfield	Senior Managing Director	18-Aug-17	0.1	625.00	62.50	Administration	documentation and signing of transfer or cheque	Category 2 - Current
Kelly-Anne Trenfield Tanva Kratz	Administration II	18-Aug-17	0.10	180	18.00	Administration	Print and file bank reconciliation as requested.	Category 2 - Current
Renee Lobb	Senior Director	22-Aug-17	0.1	570.00	57.00	Administration	Assist NGD in locating investor in register for generic query.	Category 2 - Current
	Senior Director	22-74g-11	0.1	0.0.00			Review master investor register - note dean stallard is investor in this fund - email to dean direct	
Neil Dempster	Consultant II	22-Aug-17	0.20	360	72.00	Trade-On	to km for further information	Corporate - Liquidation
		00 Aut 47	0.2	570.00	114.00	Trade-On	Review emails regarding application of insurer funds to invoices, update registers and print and save documentation for file.	Corporate - Liquidation
Renee Lobb	Senior Director	23-Aug-17	0.2	570.00	14.00	11206-011	Reviewing clayton utz correspondence and proposed action in response to application by whyte for	
Renee Lobb	Senior Director	23-Aug-17	0.2	570.00	114.00	Investigations	disclosure of the monaghan transcript. Discussion with Delonce regarding sea silver notels, look infough the and discuss with Kelly-Anne	Corporate - Liquidation
						1	Trenfield regarding same and alleged appointment which remains active for LM Investment	
Renee Lobb	Senior Director	24-Aug-17	0.3	570.00	171.00	Administration	Management Ltd as controller.	Category 2 - Current
Renee Lobb	Senior Director	24-Aug-17	0.1	570.00	57.00	Investigations	Review monaghan transcript Kelly-Anne Trenfield response.	Corporate - Liquidation
				50E 00	40% 00	A ducin intention	Email from Clayton Utz containing correspondence from Gaden revelaese of transcript of monahan in FMIF proceedings; review recommendation and respond with instructions	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	24-Aug-17	0.2	625.00		Administration Administration	WiP run for KAT	Category 2 - Current
Carly Drew	Administration 2	24-Aug-17	0.1	185.00	10.00	Administration	Review, save and print correspondence from clayton utz to Gadens regarding disclosure of	
Rense Lobb	Senior Director	25-Aug-17	0.2	570.00	114.00	Investigations	monaghan transcript.	Corporate - Liquidation
Ashleigh Ubank	Administration 2	25-Aug-17	0.1	165.00	18.50	Administration	WIP proforma/s generated for code.	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	25-Aug-17	1.1	625.00	687.50	Administration	Prepare schedules re category 2 fee claims	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	25-Aug-17	0.1	625.00	62.50	Administration	call in from Ashley Tiplady re remuneration approval an other legal actions Review and approve payment of outstanding administration liabilities including review of supporting	Category 2 - Current
Colin Anno Tropfield	Senior Managing Director	25-Aug-17	0.1	625.00	62.50	Administration	documentation and signing of transfer or chequeRequest wip downlaods	Category 2 - Current
Keliy-Anne Trenfield		20-nug-17	0.1	020.00			Review email from Cloudplus with Invoice and Kelly-Anne Trenfield's email on departure of David Thompson. Email Marvin Ong providing background and previous correspondence to see if he can	
Renee Lobb	Senior Director	28-Aug-17	0.3	570.00	171.00	Investigations	assist in minimising future IT holding and hosting cost spend. view update from Marvin on same.	Category 2 - Current
Renee Lobb	Senior Director	28-Aug-17	0.3	570.00	171.00	Investigations	Emails with Kelly-Anne Trenfield and GT regarding conversation on whyte's' second amended statement of claim. arranging call and send invite to Kelly-Anne Trenfield and confirmation to GT.	Calegory 2 - Current
					474.00	laura tination -	Discussion with Marvin Ong in 1 ech regarding cost savings on Surety II and cloudplus, provide background and ernails and discuss next steps.	Category 2 - Current
lenee Lobb	Senior Director	28-Aug-17	0.3	570.00	1/1.00	Investigations	Decrytotne and emana and diabusa nove atops.	

 $\sum_{i=1}^{n}$

LM Investment Ma Remuneration to 3	nagement Ltd (In Liquid 0. June 2018	lation)			3.204.515.29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Kelly-Anne Trenfield	Senior Managing Director	28-Aug-17	0.2	625.00	125.00	Administration	email in re meeting with G (s; email to A) (re review of whyte claim against reeder rundskeview and update to do list; query outstanding items	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	28-Aug-17	0.1	625.00	62.50		Review and approve email correspondence	Category 2 - Current
Renee Lobb	Senior Director	30-Aug-17	0.2	570.00	114.00		Reviewing update from Clayton Utz on settlement and other whyte's' proceedings. file same.	Corporate - Liquidation
NOTICE LODG		oo nag n					Go over indemnity claim, remuneration claim, reeder runds proceedings, discuss work to be	
Renee Lobb	Senior Director	30-Aug-17	0.4	570.00	228.00	Investigations	completed.	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	30-Aug-17	0.7	625.00	437.50		Meeting with Ashiey Tiplday re outstanding LM legal issues	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	30-Aug-17	0.2	625.00	125.00	Administration	RCL update re discussion with AJT re action on GT/Gadens letter	Category 2 - Current
Renee Lobb	Senior Director	04-Sep-17	0.2	570.00	114.00	Trade-On	Review, print save and request payment through myob of 2 invoices.	Category 2 - Current
Renee Lobb	Senior Director	04-Sep-17	0.1	570.00	57.00	Investigations	Review update on cloud plus and surety it data storage issue. Reviewing application to involces or insurer monies from clayton utz, save email and update	Category 2 - Current
Renee Lobb	Senior Director	04-Sep-17	0.2	570.00	114.00	Administration	schedules accordingly.	Corporate - Liquidation
Renee Lobb	Senior Director	04-Sep-17	0.1	570.00	57.00	Administration	Save emails to public folder.	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	04-Sep-17	0.1	625.00	62,50	Administration	Email from and response to Monique from Clayton Utz re offset of legal costs	Corporate - Liquidation
Renee Lobb	Senior Director	05-Sep-17	0.1	570.00	57.00	Trade-On	Review 2 payments and sign off before sending to Kelly-Anne Trenfield to process.	Category 2 - Current
							Review correspondence to Clayton Uiz regarding proceeding 11560/16 and update on orders for disclosure.	Corporate - Liquidation
Renee Lobb	Senior Director	05-Sep-17	0.2	570.00	114.00	Investigations	Jemail from and response to mark waller re clear acc rule proceedings/insurance and settlement	Corporate Engeleanion
Kelly-Anne Trenfield	Senior Managing Director	05-Sep-17	0.1	625.00	62.50	Administration	progress	Corporate - Liquidation
Renee Lobb	Senior Director	06-Sep-17	0.1	570.00	57.00	Investigations	Send to Grant Thornton Russells correspondence to Gadens on receivers taking action.	Category 2 - Current
Renee Lobb	Senior Director	06-Sep-17	0.1	570.00	57.00	Investigations	Reviewing Kelly-Anne Trenfield email to Russells on indemnity by insurer. File same.	Corporate - Liquidation
			Ì				emain me costs agreement, review and prepare for signing; review and approve payment of outstanding administration liabilities including review of supporting documentation and signing of	
Katha Anna Taonfiald	Senior Managing Director	06-Sep-17	0.2	625.00	125.00	Administration	transfer or cheque	Category 2 - Current
Kelly-Anne Trenfield	Setion Managing Director	00-360-17	0.2	010.00	12.0100		Liscuss with RCL the LM wholesale FMIF and who runs it - email to Josh Crotty at Trilogy ask if he is	S Colorent 2 Current
Neil Dempster	Senior Consultant I	07-Sep-17	0.3	360.00		Trade-On	appropriate employee to address change of details to	Category 2 - Current
Neil Dempster	Senior Consultant I	11-Sep-17	0.2	360.00	72.00	Trade-On	Send transfer docs to trilogy BNP securities	Category 2 - Current
Renee Lobb	Senior Director	12-Sep-17	0.1	570.00	57.00	Investigations	Review update on cloud plus surety it reduction of costs. Review email from Clayton Dtz regarding disclosure of documents to director detendent's and	Category 2 - Current
Renee Lobb	Senior Director	12-Sep-17	0.1	570.00	57.00	Investigations	enlivening of settlement discussions.	Corporate - Liquidation
		12-000-11	0.1	0,0,00			435602.0001 Payment to Crayton 01Z for Invoice numbers 3931699 and 3938441 \$6339.25 -	Corporate - Liquidation
Talia Glover	Administration 1	12-Sep-17	0.2	155.00		Administration	circulated to RCL	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	13-Sep-17	1.8	625.00	1,125.00	Administration	Preparation of category 2 fee calculations	Category 2 - Current
Keily-Anne Trenfield	Senior Managing Director	13-Sep-17	0.2	625.00	125.00	Administration	Finalise claim; query to russells re insurance costs In cat 2	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	13-Sep-17	0.1	625.00	62.50	Administration	Update from Clayton utz re settlement status Going unoogn air clayton utz invoic és and statements. Ensure insteo in consultant ree register, ado in	Corporate - Liquidation
							those which are not and check bank account for money paid against November invoice to verify	
Renee Lobb	Senior Director	15-Sep-17	0.5	570.00	285.00	Administration	balance showing as owed, make payment request for 2 invoices.	Corporate - Liquidation
Renee Lobb	Senior Director	15-Sep-17	0.2	570.00	114.00	Investigations	Reviewing progress on Cloudplus/surety cost negotiation.	Category 2 - Current
Veil Dempster	Senior Consultant I	15-Sep-17	0.1	360.00	36.00	Trade-On	Email to Trilogy with LM WFMIF fist	Category 2 - Current
·					00 50	A desisio — 42	Review incoming documentation, consider and send to filing; Review and update to do list; query outstanding items	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	18-Sep-17	0.1	625.00	62.50	Administration	rmail in from russelline ree application and treatment re insurance costs; review insurance details re	<u> </u>
							parties and summaryreview insurance details re application to fundsReview incoming documentation,	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	18-Sep-17	0.8	625.00	500.00	Administration	consider and send to filingReview and update to do list; query outstanding items	
							Reviewing emails from cloud plus and surety and Marvin Ong regarding reduced pricing and service.	
							respond to Marvin via email after trying to call advising cannot do a longer term contract and query if	Category 2 - Current
Renee Lobb	Senior Director	18-Sep-17	0.4	570.00		Investigations	he is now satisfied with the new arrangement, subsequent call with Marvin regarding same.	Corporate - Liquidation
enee Lobb	Senior Director	18-Sep-17	0.5	570.00	285.00	Investigations	Locating insurance documentation for Kelly-Anne Trenfield,	Corporate - Exquidation

LM Investment Ma Remuneration to 3					3,204,515.29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Kelly-Anne Trenfield	Senior Managing Director	19-Sep-17	0.1	625.00	62.50	Administration	Review incoming documentation, consider and send to tiling Review and update to do list; query outstanding items	Category 2 - Current
Kellv-Anne Trenfield	Senior Managing Director	19-Sep-17	0.1	625.00	62.50	Administration	Review and approve payment or outstanding administration liabilities including review of supporting documentation and signing of transfer or cheque	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	19-Sep-17	0.1	625.00	62.50		Review and update to do list; query outstanding itemsReview email updates re status of audits	Category 2 - Current
Renee Lobb	Senior Director	19-Sep-17	0.2	570.00	114.00		Email Kelly-Anne Trentleid regarding progress on cloud plus discountrenegotiation. Email from Marvin regarding confirmation on cloud plus arrangement. confirm agreement.	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	20-Sep-17	0.1	625.00	62.50	Administration	Update re remuneration approval across funds	Category 2 - Current
Renee Lobb	Senior Director	20-Sep-17	0.1	570.00	57.00		Reviewing update to director delendent's seeking to reinvigorate settlement discussions now monaghan transcript disclosed.	Corporate - Liquidation
Renee Lobb	Senior Director	20-Sep-17	0.3	570.00	171.00	Creditors	Discussion with Neil Dempster regarding time entries and reclassification of same.	Category 2 - Current
Neil Dempster	Senior Consultant I	20-Sep-17	1	360.00	360.00	Creditors	Export time data for required period for rem report - récode all entries required to run rem report macro (500+ entries~)	Corporate - Liquidation
Neil Dempsler	Senior Consultant I	20-Sep-17	2.2	360.00	792.00	Creditors	Skeleton draft rem report - format and begin review or time entries to detail work for remuneration claim.	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	22-Sep-17	0.1	625.00	62.50	Administration	review update from Clayton Utz/Moray Agnew re insurance settlements; update to do list	Corporate - Liquidation
Renee Lobb	Senior Director	22-Sep-17	0.1	570.00	57.00	Investigations	Review correspondence from Moray & Agnew regarding erosion of policy limits. Save to file.	Corporate - Liquidation
John Park	Senior Managing Director	22-Sep-17	0.1	625.00	62.50	Administration	settle correspondence to Ernst &	Category 2 - Current
				005.00			Review incoming accumentation, consider and send to timigreview and update to do list; query outstanding itemscall in from tim russell re remuneration application; RCL re change to cloudplus costs	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	25-Sep-17	0.3	625.00	167.50	Administration		outogory 2. outronic
Renee Lobb	Senior Director	25-Sep-17	0.2	570.00	114.00	Administration	Reviewing new monthly amount for cloud plus sent by Marvin. respond and confirm okay to authorise. Email to thogy ask them to check register for BNP securities and update register with new advised	Category 2 - Current
Neil Dempster	Senior Consultant I	25-Sep-17	0.1	360.00	36.00	Trade-On	address	Corporate - Liquidation
Neil Dempster	Senior Consultant I	25-Sep-17	4	360.00	1,440.00	Creditors	Reviewing time entries and populating tasks performed for rem report commoed and manise gran or commercementer atom report, including time spenit on task descriptions by	Corporate - Liquidation
							classification and input of time cost calculations predsheets, some changes to wording of precedent due to IPR changes, and court assessment of remuneration. Reclassify disbursements for table and	
Neil Dempster	Senior Consultant J	26-Sep-17	4.5	360.00	1,620.00	Creditors	insert for report. Reviewing and making changes to Livi investment wanagement Lto remuneration report for annual	Corporate - Liquidation
							REVIEWing and making changes to Exhances them wand generic the remaindement of annual iRTC, discussions with Neil Dempster regarding same. forward to Kelly-Anne Trenfield for further	
Renee Lobb	Senior Director	27-Sep-17	0.8	570.00	456.00	Creditors	review.	Corporate - Liquidation
Ketly-Anne Trenfield	Senior Managing Director	28-Sep-17	0.1	625.00	62.50	Administration	RCL/ND re agm/rem report	Corporate - Liquidation
Carly Young	Consultant I	29-Sep-17	1.1	260.00	286.00	Creditors	Researched legislation to find repealed section 508.0pdated annuar R I C with meeting information. Drafted notice of meeting. Sent to Renee Lobb for review.	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	04-Oct-17	0.1	625.00	62.50	Administration	Update in from mark waller re insurance settlement	Corporate - Liquidation
Kelly-Anne Treniield	Senior Managing Director	04-Oct-17	0.1	625.00	62.50	Administration	To do list; fup russells re rem application	Category 2 - Current
Renee Lobb	Senior Director	05-Oct-17	0.1	570.00	57.00	Trade-On	Respond to investor general query after searching master register and unable to focate account in his name. Request LM Investment Management Ltd account ID in response.	Category 2 - Current
Kelly-Anne Trenfieid	Senior Managing Director	05-Oct-17	0.1	625.00	62.50	Administration	Review funding position and ops costs reimbursements	Category 2 - Current
Keliy-Anne Trenfield	Senior Managing Director	05-Oct-17	0.1	625.00	62.50	Administration	call in from mark waller re outstanding legal costs	Corporate - Liquidation
Renee Lobb	Senior Director	06-Oct-17	0.1	570.00	57.00	Administration	Review and save to file custody reports for September 2017.	Category 2 - Current
falia Glover	Administration 1	06-Oct-17	0.2	155.00	31.00	Administration	Payment to Grace Records Management (QLD) for inv J0380229 - circulated to RCL	Category 2 - Current
Talia Glover	Administration 1	09-Oct-17	0.3	155.00	46.50	Administration	Payment x 4 to Clayton UTZ for invoices totalling \$20,036 - circulated to RCL	Corporate - Liquidation
Cariy Young	Consultant I	09-Oct-17	2.3	260.00	598.00	Creditors	Correspondence with Renee Lobb regarding meeting requirements for transitional appointments. Updated report with creditor rights obtained from new legislation. Emailed to Renee Lobb for review. Review annuar report meeting section. none references to repeated registration. respond to Cany	Corporate - Liquidation
Renee Labb	Senior Director	09-Oct-17	0.2	570.00	114.00	Creditors	Young requesting updated IPR and IPS information be added as well as a creditor rights to	Corporate - Liquidation

LM Investment M Remuneration to	anagement Ltd (In Liqui 30 June 2018	dation)			3,204,515.29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Renee Lobb	Senior Director	09-Oct-17		570.00	399.00		Adding invoices to consultant and other payable schedules. make payment requests through myob to pay some invoices. check clayton utz invoices outstanding and send to Kelly-Anne Trenfield, request 4 invoice payments and update register, check cloud plus invoice against new agreement.	Corporate - Liquidation
Renee Lobb	Senior Director	09-Oct-17	0.2	570.00	114.00	Investigations	Review update and follow up on director settlement position. remain me coun decision to be handed down, emails to updatereview into re remuneration	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	09-Oct-17	0.5	625.00	312.50	Administration	application	Category 2 - Current
Talia Glover	Administration 1	10-Oct-17	0.2	155.00	31.00	Administration	Payment to Cloud Plus Pty LTd for inv 21562707 \$4992.78 - circulated to RCL	Category 2 - Current
Renee Lobb	Senior Director	10-Oct-17	0.2	570.00	114.00	Creditors	Respond to creditor query seeking update, provide brief update and advise timing for Annual RTC.	Corporate - Liquidation
Renee Lobb	Senior Director	10-Oct-17	0.3	570.00	171.00	Administration	Checking payments, attach supporting documents and send to Kelly-Anne 1 refinited to process. request payment of cloud plus invoice also. Entering further invoices and saving to file. Review and approve payment or outstanding administration itabilities including review of supporting	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	10-Oct-17	0.1	625.00	62.50	Administration	documentation and signing of transfer or cheque	Category 2 - Current
Renee Lobb	Senior Director	12-Oct-17	0.2	570.00	114.00	Administration	Reviewing emails from clayton utz. apply supposed overpayment in register and save documents.	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	12-Oct-17	0.1	625.00	62.50	Administration	emails in re decision/meeting on remuneration/indemnity application	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	12-Oct-17	0.1	625.00	62.50	Administration	email from and response to Mark waiter re balañce of funds and application to fater involce; review outstanding costs Review email from G1. Send email to Kelly-Anne Trentleid after checking email folders regarding	Corporate - Liquidation
Renee Lobb	Senior Director	16-Oct-17	0.2	570.00	114.00	Administration	sending of notices of assignment to BDO.	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	17-Oct-17	0.5	625.00	312.50	Administration	meeting with John Peder and Ashley Tiplady to discreet decision	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	18-Oct-17	0.5	625.00	312.50	Administration	Reconciliatinon of remuneration application to judgement	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	18-Oct-17	0.6	625.00	375.00	Administration	update to RCL/ND re fee approvals	Category 2 - Current
Renee Lobb	Senior Director	18-Oct-17	0.5	570.00	285.00	Administration	Discussion with Kelly-Anne Trentield régarding outcome of remuneration application and flow on to annual RTC requirements.	Category 2 - Current
Renee Lobb	Senior Director	18-Oct-17	0.1	570.00	57.00	Creditors	Respond to creditor request for update.	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	19-Oct-17	0.9	625.00	562.50	Administration	Application planning; réconcliation of approval v recovery	Category 2 - Current
Keliv-Anne Trenfield	Senior Managing Director	19-Oct-17	0.7	625.00	437.50	Administration	meeting with Ashley Tiplady and Julian Walsh re review of judgement and further work re rum claimsupdate to jrp	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	19-Oct-17	1.1	625.00	687.50	Administration	Summary of remuneration approvalreconciliation of remuneration approval	Category 2 - Current
Carly Drew	Administration 2	19-Oct-17	0.2	185.00	37.00	Administration	Ran WIP's for KAT	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	20-Oct-17	1	625.00	625.00	Administration	Reconcilition of category 2 remuneration to correlate with judgement approval	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	20-Oct-17	0.2	625.00	125.00	Administration	remuneration planning re approval	Category 2 - Current
Renee Lobb	Senior Director	20-Oci-17	0.2	570.00	114.00	Investigations	Review tucker and cowan assignment of debt correspondence to GT and other following correspondence with russells. file same.	Category 2 - Current
Carly Drew	Administration 2	23-Oct-17	0.2	185.00	37.00	Administration	Ran WIP's for KAT;	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	23-Oct-17	10.4	625.00	6,500.00	Administration	review/allocation of Cat 2 to 30 Sept 2015 in line with order of 17 October 2017 re remuneration approval	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	23-Oct-17	0.1	625.00	62.50	Administration	call in from Mark Waller and Chris Erfut Reviewing annuar R r c, add in second regarding remanisation court orders and check adactiments	Corporate - Liquidation
							before sending to Kelly-Anne Trenlield, query Neil Dempster regarding Strategic Communications time and external service line table in rem report. Review russells remuneration judgement action	
Renee Lobb	Senior Director	24-Oct-17	0.4	570.00	228.00	Creditors	plan. review/allocation of Cat 2 to 30 Sept 2015 in line with order of 17 October 2017 retemuneration	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	24-Oct-17	7.1	625.00	4,437.50	Administration	approval	Category 2 - Current
Renee Lobb	Senior Director	25-Oct-17	0.3	570.00	171.00	Creditors	Discussion with Kelly-Anne Trenfield regarding annual RTC, make amendments and return.	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	25-Oct-17	3.5	625.00	2,187.50	Administration	review/allocation of Car 2 to 30 Sept 2015 in line with order of 17 October 2017 refermineration approval	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	25-Oct-17	0.2	625.00	125.00	Administration	Review agm report	Category 2 - Current
shleigh Ubank	Administration 2	26-Oct-17	1	185.00	185.00	Administration	Bank account/s reconciled to requested date/s.	Corporate - Liquidation

LW Investment Ma Remuneration to 3	nagement Ltd (In Liqui 0 June 2018	dation)			3,204,515.29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Renee Lobb	Senior Director	26-Oct-17	0.1	570.00	57.00	Administration	Review myob. note bank rec's not done. request same be completed to lodge sept Qtr bas.	Corporate - Liquidation
Renee Lobb	Senior Director	26-Oct-17	0.2	570.00	114.00	Administration	Fixing russells payment. add to consultant register, call lia to process online.	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	26-Oct-17	4.8	625.00	3.000.00	Administration	reviewanocation of Car 2 to 30 Sept 2015 in the with order of 17 October 2017 re remuneration approval	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	26-Oct-17	0.1	625.00	62.50		Jrp re reconciliation of cost info re orders	Category 2 - Current
Carly Drew	Administration 2	27-Oct-17	0.5	185.00	92.50	Administration	Ran WIP's for KAT;	Category 2 - Current
	O	27 0 + 47	0.1	570.00	57.00	Creditors	Seek John Park approval for insertion of electronic signature to finalise LM investment Management Ltd annual RTC.	Corporate - Liquidation
Renee Lobb	Senior Director	27-Oct-17	0.1 0.1	570.00	57.00	Administration	Sept Qtr 17 BAS.	Corporate - Liquidation
Renee Lobb	Senior Director	27-Oct-17	0.1	570.00	57.00	Administration	Request to PS re approval or reversals review/allocation of Cat 2 to 30 Sept 2015; discuss cops	· · · ·
Kelly-Anne Trenfield	Senior Managing Director	27-Oct-17	2.4	625.00	1,500.00	Administration	review with cms; preparation of involcing	Category 2 - Current
Keliy-Anne Trenfield	Senior Managing Director	27-Oct-17	0.3	625.00	187.50	Administration	Review AGM reportReview and update to do list; query outstanding items review and approve payment or outstanding administration riabilities including review of supporting	Corporate - Liquidation
	o i U Dinaha	27-Oct-17	0,1	625.00	62.50	Administration	documentation and signing of transfer or cheque	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director			625.00	125.00	Creditors	review annual report and approve	Corporate - Liquidation
John Park	Senior Managing Director	27-Oct-17	0.2	625.00	125.00		Signature inserved electronically into accuments or report, accuments collated and limalised in PDF	<u> </u>
							format. Creditor listing exported and amended in preparation for send out. Report prepared for send	Corporate - Liquidation
Ashleigh Ubank	Administration 2	30-Oct-17	3.6	185.00	666.00	Creditors	out, issued to mail and faxed to relevant parties.	Category 2 - Current
Carly Drew	Administration 2	30-Oct-17	0.2	185.00	37.00	Administration	Ran WIP's for KAT; <u>Emission norm Junan Waish, Russens, re reviseo action plan re remunicitation approvaleman to AJ 1 re</u>	Category 2 - Current
							advice re drawing of remunerationreconciliation of time to remuneration order approvalcat 2 -	
Kelly-Anne Trenfield	Senior Managing Director	30-Oct-17	0.7	625.00	437.50	Administration	transfers and reinvolce	Category 2 - Current
Renee Lobb	Senior Director	30-Oct-17	0.1	570.00	57.00	Creditors	Send annual RTC information to AMU and request she merge the report and start printing.	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	30-Oct-17	1.6	625.00	1,000.00	Administration	review position re change in category 2 reconciliationallocation of LMIM time to corp/cat 2	Category 2 - Current
	Senior Director	31-Oct-17	0.1	570.00	57.00	Administration	Lodgement of Sept Qtr BAS. Scan and save to file and update schedule for bas refund receivable.	Corporate - Liquidation
Renee Lobb	Senior Director	- 31-002-17		010.00			Report emailed to requested parties. Bounced back emails and aimended emails collated in excel	Comparate Liquidation
Ashleigh Ubank	Administration 2	31-Oct-17	2.2	185.00	407.00	Creditors	spreadsheet. Review LM OUPS schedule and locate copies of intercompany involces; check time entries on	Corporate - Liquidation
Christine Stead	Senior Director	31-Oct-17	2.7	570.00	1,539.00	Administration	invoices v time entries in schedule	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	31-Oct-17	0.2	625.00		Administration	review LMA entries re corporate claim	Corporate - Liquidation
Ashleigh Ubank	Administration 2	01-Nov-17	1.1	185.00	203.50	Creditors	Bounced back emails amened in MYOB as RTS.	Corporate - Liquidation
Renee Lobb	Senior Director	01-Nov-17	0.1	570.00	57.00	Trade-On	Respond to investor query regarding transactions across funds	Category 2 - Current
	Senior Director	01-Nov-17	0.1	570.00	57.00	Trade-On	Respond to investor query regarding return. Reques tdetail on what fund they were invested in.	Category 2 - Current
Renee Lobb	Administration 2	01-Nov-17	0.1	185.00	18.50	Administration	Ran WIP's for KAT;	Category 2 - Current
Carly Drew		01-100-17			<u> </u>		Review and reconciliation of remuneration in line with court order and in preparation of future	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	01-Nov-17	0.2	625.00	125.00	Administration	remuneration approval	Corporate - Liquidation
Ashleigh Ubank	Administration 2	02-Nov-17	0.9	185.00	166.50	Creditors	Bounced back emails amend in MYOB as RTS. Return email from OMI regarding holdings. Advise cannot assist with non FTI managed funds	Category 2 - Current
Renee Labb	Senior Director	02-Nov-17	0.1	570.00	57.00	Administration	Review of cat 2 wip and request amendments advice from coursel re ability to claim costs on	outogar) z oznom
Kelly-Anne Trenfield	Senior Managing Director	02-Nov-17	0.4	625.00	250.00	Administration	remuneration claimupdate to jrp	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	02-Nov-17	0.1	625.00	62.50	Administration	JRP re approval and involcing of costs	Category 2 - Current
						A desistantic -	Review tees billed for July via inter company transactions and reconcile issues, locate start comms time entry schedules and reconcile	Category 2 - Current
Christine Stead	Senior Director	02-Nov-17	0.5	570.00			8974 Payment to Grace Record Management for Inv RG00680495 \$325.72 - circulated to RCL	Category 2 - Current
Talia Glover	Administration 1	02-Nov-17	0.2	155.00	31.00	Administration	Remuneration approval reconciliation to court order; emails re invoicing and processing	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	03-Nov-17	0.4	625.00	250.00	Administration	Remuneration approval reconcligation to could order, emails reminologing and processing Review lia's query on short payment of clayton ulz invoice, respond.	Corporate - Liquidation
Renee Lobb	Senior Director	03-Nov-17	0.1	570.00	57.00	Administration	Review oops charges and reconcile WIP entries to intercompany invoices	Category 2 - Current
Christine Stead	Senior Director	03-Nov-17	3.1	570.00	1,767.00	Administration		Corporate - Liquidation
Talia Glover	Administration 1	03-Nov-17	0.2	155.00	31.00		2 x reconciliations for accounts - circulated to RCL	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	04-Nov-17	0.6	625.00	375.00	Administration	Preparation of documentation e remuneration approval to 30 Sept 2015	Constant Contour

LM Investment M Remuneration to	anagement Ltd (In Liqui 30 June 2018	dation)			3,204,515.29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Kelly-Anne Trenfield	Senior Managing Director	05-Nov-17	2.4	625.00	1,500.00	Administration	Review category 2 claim from 1 oct 2015; request additional wip report; review corp claim from 1 oct 2015 to 31 July 2017	Category 2 - Current
Talia Glover	Administration 1	05-Nov-17	0.1	155.00	15.50	-	Reconciliation	Corporate - Liquidation
							Pay grace records involce, and in entry to reconcile over payment and subsequent part payment of	Querente di inviduation
Renee Lobb	Senior Director	06-Nov-17	0.3	570.00	171.00		clayton utz invoice, discuss with Lia.	Corporate - Liquidation Corporate - Liquidation
Renee Lobb	Senior Director	06-Nov-17	0.2	570.00	114.00	Creditors	Email reply to queries on annual report and creditor breakdown. review and reconcination or remoneration in the with court broth and preparation or house	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	06-Nov-17	3.1	625.00	1,937.50	Administration	remuneration approval; category two and corporate claim; Review and approve request for proforma invoice/draft bill/finalised billing and payment	Category 2 - Current
Carly Drew	Administration 2	07-Nov-17	0.4	185.00	74.00	Administration	Ran WIP's for KAT;	Category 2 - Current
Ashleigh Ubank	Administration 2	07-Nov-17	0.1	185.00	18.50	Administration	RTS. New addresses searched for. Results recorded in MYOB. Report reissued.	Corporate - Liquidation
				005.00		A desiristantin -	Review and reconciliation or remuneration in line with could order and in preparation of fullity remuneration approval; cat 2 and corp	Category 2 - Current
Kelly-Arine Trenfield	Senior Managing Director	07-Nov-17	0.4	625.00 185.00	250.00		Formatted letter into FTI approved for issue;	Category 2 - Current
Carly Drew	Administration 2	08-Nov-17	0.1	100.00	10.00	Auton		
Renee Lobb	Senior Director	08-Nov-17	0.2	570.00	114.00	Investigations	Reviewing email with instructions to proceed to trial if director defendent's dont respond by 17/11/17. Review email from perpetual regarding removal as custodian of feeder fund accounts, follow up	Category 2 - Current
	Realize Dimeter	08-Nov-17	0.2	570.00	114.00	Administration	Review email from perpendial regarding removal as costobian or reeder fund accounts, follow op suncorp.	Category 2 - Current
Renee Lobb	Senior Director	00-1404-17	U.Z	010.00		1 Idifili Not Calori	Remuneration application - mailsation or reconciliation or approval and tomulation or further claim;	
		l			007 50	A 1	Review and reconciliation of remuneration in line with court order and in preparation of future remuneration approval	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	08-Nov-17	1.5	625.00	937.50	Administration	Review and approve payment or ourstanding administration traditions including review or supporting	
							documentation and signing of transfer or chequeReview and sign BAS return for period; sign any	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	08-Nov-17	0.1	625.00	62.50	Administration	associated payments; update schedule of outstanding returns/refunds Reconcile WIP/CUPS and Intercompnay charges; check other matters for missing intercompany	Category 2 - Content
Christine Stead	Senjor Director	08-Nov-17	3.3	570.00	1,881.00	Administration	billings	Category 2 - Current
						i	Review and reconciliation or remuneration in the with court order and in preparation or future remuneration approval; Review and approve request for proforma invoice/draft bill/finalised billing and	
ин н. т П	During Manager Disector	09-Nov-17	0.7	625.00	497 50	Administration	remuneration approval, review and approve request for protonnia involce/draft binninanaoa bining and payment	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director Administration 1	10-Nov-17	0.7	155.00	31.00		Payment to Cloud Plus Pty Ltd for inv 21571013 \$5460.84 - circulated to RCL	Category 2 - Current
Talia Glover	Administration	10-1404-17	0.2			/ unitribucidon		
							RCL re remuneration/costs claim; formulate corp claim re costs paid; CMS re oops reviewReview and reconciliation of remuneration in line with court order and in preparation of future remuneration	
Kelly-Anne Trenfield	Senior Managing Director	10-Nov-17	3.6	625.00	2,250.00	Administration	approval - category 1 and corp claim; monitoring schedule re remuneration claims	Category 2 - Current
Neny-Anne Tretmeiu			0.0				Meet with KAT to discuss UUPS discrepancies review emails from Parmend and query missing time	Category 2 - Current
Christine Stead	Senior Director	10-Nov-17	1	570.00	570.00		entries; review further emails with time entry reports	Category 2 - Current
Carly Drew	Administration 2	10-Nov-17	0.1	185.00	18.50	Administration	Ran WIP's for KAT;	Category 2 - Current
Renee Lobb	Senior Director	10-Nov-17	0.3	570.00	171.00	Administration	Adding invoices to consultant fee register, pay cloud plus novice.	Category 2 - Current
Rense Lobb	Senior Director	10-Nov-17	0.6	570.00	342.00	Administration	Meeting with Kelly-Anne Trenfield regarding remuneration allocations and work to be completed. Look for investment tollowing receipt of small, reply noting T cannot locate the Investor account	category = - ouncile
Renee Lobb	Senior Director	10-Nov-17	0.2	570.00	114.00	Investigations	provided and request which fund they are invested in to respond appropriately.	Category 2 - Current
Carly Drew	Administration 2	13-Nov-17	0.2	185.00	37.00	Administration	Ran WIP for KAT;	Category 2 - Current
Ashleigh Ubank	Administration 2	13-Nov-17	0.5	185.00	92.50	Creditors	RTS. New addresses searched for. Results recorded in MYOB. Report reissued.	Corporate - Liquidation
							Review update on director defendent timing for response to possible insurance settlement. file same.	Corporate - Liquidation
Renee Lobb	Senior Director	13-Nov-17	0.1	570.00	57.00	investigations	comy diffogn consultant lee register and lunu payables. Of summary lable of anocations of	
							expenses to each fund/matter. discussions with Kelly-Anne Trenfield regarding same, commence	
		40 1 17	_	E20.00	1 440 00		allocation of expenses, reviewing myob and discuss next steps in terms of obtaining supporting documentation for all expense line items.	Category 2 - Current
Renee Lobb	Senior Director	13-Nov-17	.2	570.00	1,140.00	Nuministration		
			1				remuneration approval - finalise cat 2 and corporate claimadvice from russells re remuneration applicationscompile information re remuenration application - cat 1 and cat 2corporate claim -	
(-)), 0 T 0 ()	Conice Managing Director	43 No. 47	4.9	625.00	3 063 50		Appointment to 30 September 2015	Category 2 - Current
elly-Anne Trenfield	Senior Managing Director	13-Nov-17	4.9	¢25.00	3,002.00	Authiniananoli		

LM investment Ma Remuneration to 3	magement Ltd (in Liqui 10 June 2018				3,204,515.29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Kellv-Anne Trenfield	Senior Managing Director	13-Nov-17	0,1	625.00	62.50	Administration	Review incoming accumentation, consider and send to hilling; Review and update to do list; query outstanding items	Category 2 - Current
	Senior managing birecio	101101-11	0.1	01.0.00	01.00	, terminor Eddin	Review incoming documentation, consider and send to tiling; Review and update to do list; query	
Kelly-Anne Trenfield	Senior Managing Director	13-Nov-17	0.1	625.00		Administration	outstanding items	Category 2 - Current
Carly Drew	Administration 2	14-Nov-17	0.2	185.00	37.00		Prepared Letter in FTI format, finalised;	Category 2 - Current Corporate - Liquidation
Ashleigh Ubank	Administration 2	14-Nov-17	0.9	185.00	166.50	Creditors	Bounced back emails amend in MYOB as RTS. Eccaung an LM investment management Lto and fund updates and send to two remuneration	Corporate - Exploration
Renee Lobb	Senior Director	14~Nov-17	1	570.00	570.00	Administration	claim. locating and saving down from most recent back all the expense documentation for the October 2017 remuneration claim	Category 2 - Current
Renee Lobb	Senior Director	14-Nov-17	0.1	570.00	57.00	Investigations	Reviewing Belgian proceeding update.	Corporate - Liquidation
				805.00	4 405 00	Administration	Review and reconclination of remuneration in line with court order and in preparation of future remuneration approval - corporate claim; info re rem claim to Russells; AJT re costs/orders	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	14-Nov-17	1.8	625.00	1,125.00 62.50		Call in from mark waller	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	14-Nov-17	0.1	625.00	62.50 18.50		Ran WiPs for KAT:	Category 2 - Current
Carly Drew	Administration 2	15-Nov-17	0.1	185.00	285.00	Administration	Compiling supporting documents to each payment line item for remuneration claim.	Category 2 - Current
Renee Lobb	Senior Director	15-Nov-17	0.5	570.00	200.00	Administration	Review and reconciliation or remuneration in tine with court order and in preparation or future	
							remuneration approval -cat 2 claims; Review and approve request for proforma invoice/draft	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	15-Nov-17	0.8	625.00	500.00	Administration	bil/finalised billing and payment Review and reconciliation of remuneration in line with court order and in preparation of future	Calegory 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	15-Nov-17	0.2	625.00	125.00	Administration	remuneration approval	Category 2 - Current
Ashleigh Ubank	Administration 2	16-Nov-17	0.3	185.00	55.50	Creditors	RTS. New addresses searched for. Results recorded in MYOB. Report reissued.	Corporate - Liquidation
				570 00	4 4 4 9 9 9	A	Going through all transaction IUs and matching to transactions on remuneration claim, saving down same and marking up what is missing.	Category 2 - Current
Renee Lobb	Senior Director	16-Nov-17	2	570.00 185.00	1,140.00	Administration Administration	Scan and issue letter as requested.	Category 2 - Current
Tanya Kratz	Administration 2	16-Nov-17	0.1	185.00	16.50	Auministration		
Kelly-Anne Trenfield	Senior Managing Director	16-Nov-17	1.9	625,00	1,187.50	Administration	Review and reconciliation of remuneration in line with court order and in preparation of future remuneration approval - corp claim to 30 sept 2015 - review, compile and prepare arita schedules	Category 2 - Current
							Review and update to do list; query outstanding items review and approve request for proforma invoice/draft bill/finalised billing and payment	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	16-Nov-17	0.3	625.00		Administration	email from and response to JW re advice on applications	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	16-Nov-17	0.2	625.00	125.00	Administration	Review WIP reports for tech & Philippines segment/office and email update to KAT	Category 2 - Current
Christine Stead	Senior Director	16-Nov-17	0.1	570.00	57.00	Administration	vyork now review. allocation of tasks, update on details of expense allocation and removal of	
Renee Lobb	Senior Director	17-Nov-17	0.2	570.00	114.00	Administration	perpetual from accounts. Internet and reconciliation or remoneration in nine with court of der and in preparation or ratione	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	17-Nov-17.	1.6	625.00	1,000.00	Administration	remuneration approval -confirm court date and action plan; corp claim;email from and response to Julian Walsh re misstated figures in orders 14 & 15; Review and approve request for proforma invoice/draft bill/finalised billing and payment; call in from John Peden and Julian Walsh re affidavit and submissions; call in from and email to Julian walsh	Calegory 2 - Current
							Review status update and request wir reports or nutation of 2017 claim and reconcilation of 2015 claim - corp and cat 2	Category 2 - Current
Keily-Anne Trenfield	Senior Managing Director	20-Nov-17	1.8	625.00	1,125.00	Administration	Review investor listing to try and locate investor, when could not locate respond to email requesting	
							further details in order to provide them a fund update. Review email from clayton utz regarding	Corporate - Liquidation
Renee Lobb	Senior Director	21-Nov-17	0.2	570.00		Trade-On	application of insurer funds. confirm okay.	Category 2 - Current
Renee Lobb	Senior Director	21-Nov-17	0.1	570.00		Investigations	Reviewing remuneration claim submitted.	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	21-Nov-17	0.3	625.00	187.50	Administration	I inalise corporate remuneration claim and send to fusselis Updating master consultant register for reduction in clayton utz invoice on account of lunds received	
Renee Lobb	Senior Director	22-Nov-17	0.2	570.00	114.00	Administration	by insurer, save documentation.	Corporate - Liquidation
Renee Lobb	Senior Director	22-Nov-17	0.1	570.00	57.00	Administration	Filing all sent email correspondence for records.	Corporate - Liquidation
Renee Lobb	Senior Director	23-Nov-17	0.1	570.00	57.00	Administration	Request lia close LMA account	Corporate - Liquidation
lenee Lobb	Senior Director	23-Nov-17	0.2	570.00	114.00	Trade-On	Review and respond to email, request further information to enable response in terms of fund, investor id etc.	Category 2 - Current
elly-Anne Trenfield	Senior Managing Director	23-Nov-17	0.7	625.00	437.50	Administration	JRP re orders and costs recovery/payments/econciliation of runds neidinsultance involcing re Jackson J splitReview incoming documentation, consider and send to filing	Category 2 - Current

Remuneration to		Date	Hours	Charge Out Rate	3,204,515.29	Task Desc	Narrative	Classification
Name	Title			, a ta se az de caracter en secondo	Charge	an afam a a		- Contractor Contractor Children Contractor
Renee Lobb	Senior Director	24-Nov-17		570.00		Administration	Going through in detail remuneration allocations with Kelly-Anne Trenfield.	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	24-Nov-17		625,00	437.50		RCL re application of funds and invoicing to funds and from fti	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	24-Nov-17	0.1	625.00	62.50		Review and approve request for proforma invoice/draft bill/finalised billing and payment	Category 2 - Current
Renee Lobb	Senior Director	27-Nov-17	0.2	570.00	114.00	Investigations	Review director insurance settlement rejection letter. Save to file.	Corporate - Liquidatio
				625.00	005.00		reconciliation of remuneration in line with court order and in preparation of future remuneration approval reconciliation of holding account and update summary scheduleupdate approval schedules and compile information re invoices (court orders/reconciliationReview and update to do list; query outstanding items	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	27-Nov-17	1 1	625.00	625.00	Administration	Review and approve request for protorma involce/drait on/innalised oliting and payment/ceview and	canagory = cancent
Kelly-Anne Trenfield	Senior Managing Director	27-Nov-17	1.9	625.00	1,187.50	Administration	reconciliation of remuneration in line with court order and in preparation of future remuneration approvalrevised invoices to russells Going arrough costs paid by LM investment Management Ltd and reviewing individual invoices neid.	Category 2 - Current
Renee Lobb	Senior Director	28-Nov-17	1.6	570.00	912.00	Administration	note allocations to funds where available.	Category 2 - Current
VENCE LODD		_ 20-1404-17	·	570.00	÷,2.00		Check balance; reconcile holding accountreview involcing and filereview involcing, prepare	
Kelly-Anne Trenfield	Senior Managing Director	28-Nov-17	0.8	625.00	500.00	Administration	documentsinstructions to RCL re paymentreview invoicing, prepare documents	Category 2 - Current
(elly-Anne Treπfield	Senior Managing Director	28-Nov-17	0.1	625.00	62.50	Administration	call in from mark waller	Corporate - Liquidatio
Keily-Anne Trenfield	Senior Managing Director	28-Nov-17	0.1	625.00	62.50	Administration	Call in from mark waller	Corporate - Liquidatio
							Réview emails regarding making a time to discuss director settlement, note i am tree at the proposed time.	Corporate - Liquidatio
Renee Lobb	Senior Director	29-Nov-17	0.1	570.00	57.00	Investigations	Locate TNR's details, email regarding time for meeting pre Christmas.	Category 2 - Current
tenee Lobb	Senior Director	29-Nav-17	0.3	570.00		Administration	Adding invoices from russells into master consultant register, save invoice copies.	Category 2 - Current
tenee Lobb	Senior Director	29-Nov-17	0.2	570.00	114.00	Administration	Adding involces from russells into master consultant register, save involce cupies. Review incoming documentation, consider and send to himgemair in te Russells costs; request details	s category 2 - Curtent
Celly-Anne Trenfield	Senior Managing Director	29-Nov-17	0.6	625.00	375.00	Administration	of all costs to allow payment re remuneration application and to add to indemnity claimemails in re insurance/legal costs/auditors	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	30-Nov-17	0.2	625.00	125.00	Administration	RCL re status of holding account and timing re closureemails re audit and meeting with new auditors RXVIew and sign correspondence; Review and approve request for protorma involce/or/art bili/inalise	Category 2 - Current
eily-Anne Trenfield	Senior Managing Director	30-Nov-17	0.1	625.00	62.50	Administration	billing and payment	Category 2 - Current
Renee Lobb	Senior Director	01-Dec-17	0.3	570.00	171.00	Investigations	Review Russells Correspondence and Kelly-Anne Trenfield reply regarding remuneration orders.	Category 2 - Current
(elly-Anne Trenfield	Senior Managing Director	01-Dec-17	1.2	625.00	750.00	Administration	Correspondence in from russells re approval of remuneration; email in from russells re outstanding costs re remuneration procaedingsreview russells costs claimed and review previous paymentsrcl re rem application and arrangements re audit meetingems re audit meeting Review RCL InVoices/agree to Russells costsreview rund invoices and approverteview and update to	Category 2 - Current
elly-Anne Trenfield	Senior Managing Director	04-Dec-17	0.4	625.00	250.00	Administration	do list; query outstanding itemsReview incoming documentation, consider and send to filing	Category 2 - Current
elly-Anne Trenfield	Senior Managing Director	04-Dec-17	0.1	625.00	62.50	Administration	Email from and response to mark waller	Corporate - Liquidation
enee Lobb	Senior Director	05-Dec-17	0.6	570.00	342.00	Administration	Call with Julian from Russells. Discuss remuneration claim, email Reliy-Anne Trentield proposed work required and limeframe. Discuss with Kelly-Anne Trenfield in further detail.	Category 2 - Current
enee Lobb	Senior Director	05-Dec-17	0.2	570.00	114.00	Administration	Adding remuneration application invoices into consultant register and save to file.	Category 2 - Current
elly-Anne Trenfield	Senior Managing Director	05-Dec-17	1.4	625.00	875.00	Administration	Review and formulate cops re inclusion into remuneration claim	Category 2 - Current
elly-Anne Trenfield	Senior Managing Director	05-Dec-17	0.2	625.00	125.00	Administration	RCL re email and discuss with russells re progressing remuneration application	Category 2 - Current
enee Lobb	Senior Director	06-Dec-17	0.1	570.00	57.00	Trade-On	Request NGD to pay grace records invoice.	Category 2 - Current
elly-Anne Trenfield	Senior Managing Director	06-Dec-17	2.5	625.00	1,562.50	Administration	Review and tormultate cops to inclusion into temuneration claim. Corporate claim - fevise and allocate between VA and CVL	Category 2 - Current
elly-Anne Trenfield	Senior Managing Director	06-Dec-17	0.1	625.00	62.50	Administration	Email from and response to mark waller re availability to meet with BDO/Gadens and KM/Minters	Corporate - Liquidation
alia Glover	Administration 1	06-Dec-17	0.2	155.00	31.00	Administration	8974 Payment to CLoud Plus Pty Ltd for inv 21584289 \$5460.84 - circulated to NGD	Category 2 - Current
alia Glover	Administration 1	06-Dec-17	0.2	155.00	31.00	Administration	Payment to Grace REcords Management for inv 00055136 \$325.72 - circulated to NGD	Category 2 - Current
lia Glover	Administration 1	06-Dec-17	0.1	155.00	15.50	Administration	435602.0001 Reconciliation	Corporate - Liquidation
enee Lobb	Seniar Director	07-Dec-17	0.1	570.00	57.00	Investigations	Filing remuneration application emails, reviewing same.	Category 2 - Current

 $(\)$

LM Investment Ma Remuneration to 3	nagement Ltd (In Liquid 0 June 2018				3,204,515.29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Renee Lobb	Senior Director	07-Dec-17	0.2	570.00	114.00	Administration	Checking payments made by Neil Dempster, sign off and send to Kelly-Anne Trenfleld.	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	07-Dec-17	0.2	625.00	125.00	Administration	Call in from Julian Walsh re remuneration application	Category 2 - Current
Neil Dempster	Senior Consultant I	07-Dec-17	0.2	360.00	72.00	Administration	Draft payment Grace records and IT cloud hosting invoices	Category 2 - Current
Neii Dempster	Senior Consultant I	07-Dec-17	0.1	360.00	36.00	Administration	Request bank rec	Corporate - Liquidation
Tanya Kralz	Admin 11	08-Dec-17	0.1	185.00	18.50	Administration	Source Excel WIP Proforma as requested. review and approve payment or ourstanding administration stabilities including fevrew of supporting descent of the provide a stream of the arts	Calegory 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	08-Dec-17	0.1	625.00	62.50		documentation and signing of transfer or cheque	Category 2 - Current
Renee Lobb	Senior Director	08-Dec-17	2.3	570.00	1,311.00		Discussion with Julian at Russells to answer in detail queries around time entry classifications.	Category 2 - Current
Tanya Kratz	Administration II	08-Dec-17	0.10	185	18.50	Administration	Source Excel WIP Proforma as requested. Discussion with Kelly-Anne Trentield regarding temuneration application, send email regarding CPr-	Category 2 - w/off
Renee Lobb	Seniar Director	11-Dec-17	0.3	570.00	171.00	Administration	cat 1 write off and locate and send to russells rates schedules.	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	ft-Dec-17	0.6	625.00	375.00	Administration	payment of russellsRCL re payment to russell; mail from and response to russell re payment of outstanding costspayment to russells; payment re AIF; update holding account reconciliation	Category 2 - Current
Ashleigh Ubank	Administration 2	12-Dec-17	0.1	185.00	18.50	Creditors	RTS. New addresses searched for. Results recorded in MYOB, Report reissued.	Corporate - Liquidation
Renee Lobb	Senior Director	12-Dec-17	0.2	570.00	114.00	Administration	Creace accounts in CDA to ensure an amounts requested to be processed yesteroay were processed request LG to close LM Investment Management Ltd AIF account with proceed to be put in LM Investment Management Ltd main account.	Category 2 - Current
Ashleigh Ubank	Administration 2	13-Dec-17	0.1	185.00	18,50	Administration	RTS. New addresses searched for. Results recorded in MYOB. Report reissued.	Corporate - Liquidation
Talia Glover	Administration 1	14-Dec-17	0.5	155.00	77.50	Administration	Prepared account closure letter as per RCL request, circulated paperwork to JRP and emailed through to PSC Insolvency email awaiting closing confirmation and figure.	Corporate - Liquidation
Renee Lobb	Senior Director	14-Dec-17	0.1	570.00	57.00	Administration	Save down custody reports after review.	Corporate - Liquidation
Renee Lobb	Senior Director	14-Dec-17	0.1	570.00	57.00	Administration	Entering clayton utz invoice into consultant register.	Corporate - Liquidation
Renee Lobb	Senior Director	14-Dec-17	0.1	570.00	57.00	Administration	Email to lia regarding myob transactions.	Category 2 - Current
Kellv-Anne Trenfield	Senior Managing Director	14-Dec-17	0.1	625.00	62.50	Administration	Review and approve payment or outstancing administration nabilities including review or supporting documentation and signing of transfer or chequeReview incoming documentation, consider and send to filing	Category 2 - Current
Renee Lobb	Senior Director	15-Dec-17	0.2	570.00	114.00	Administration	Updating consultant tee register with Clayton Ut2 Invoices received, pay June 17 Invoice and confirm with Kelly-Anne Trenfield.	Corporate - Liquidation
Keliy-Anne Trenfield	Senior Managing Director	15-Dec-17	0.1	625.00	62.50	Administration	Email in from mark waller and response re insurance settlement meeting;	Corporate - Liquidation
Veil Dempster	Senior Consultant I	15-Dec-17	0.1	360.00	36.00	Administration	Email to Diana from HireRight - note no staff available to assist with her employment request	Corporate - Liquidation
alia Glover	Administration 1	15-Dec-17	0.2	155.00	31.00	Administration	Payment to Clayton UTZ for inv 3956752 \$3812.90 - circulated to RCL	Corporate - Liquidation
Renee Lobb	Senior Director	19-Dec-17	0.3	570.00	171.00	Administration	Review correspondence. identify it relates to Managed Performance Fund. Send to KordaMentha.	Corporate - Liquidation
shleigh Ubank	Administration 2	19-Dec-17	0.1	185.00	18.50	Creditors	RTS. New addresses searched for. Results recorded in MYOB. Report reissued. Review incoming bocumentation, consider and send to ming Review and approve payment or	Corporate - Liquidation
Celly-Anne Trenfield	Senior Managing Director	20-Dec-17	0.1	625.00	62.50	Administration	variable for the second s	Category 2 - Current
Renee Lobb	Senior Director	21-Dec-17	0.2	570.00	114.00	Administration	Call with Russells regarding involces to be paid. request copies of same.	Category 2 - Current
Celly-Anne Trenfield	Senior Managing Director	22-Dec-17	0.2	625.00	125.00	Administration	Review incoming documentation, consider and send to filing	Category 2 - Current
elly-Anne Trenfield	Senior Managing Director	22-Dec-17	0.1	625.00	62.50	Administration	Review incoming documentation, consider and send to filing	Category 2 - Current
	Senior Director	08-Jan-18	0.2	570.00	114.00	Creditors	Respond to creditor enquiry.	Corporate - Liquidation
enee Labb	Senior Director	06-Jan-18	0.6	570.00	342.00	Trade-On	Reviewing involces received, instructions to well Dempster to pay. Reviewing multiple russells Involces received. Save and update register. Review and update to do list; query cutstanding itemskeview incoming documentation, consider and	Category 2 - Current
elly-Anne Trenfield	Senior Managing Director	08-Jan-18	0.7	625.00	437.50	Administration	send to filing	Category 2 - Current
	Consultant II	08-Jan-18	0.20	360	72.00	Creditors	Email to lesley smith direct to KM for registry updates - link to website	Corporate - Liquidation
shleigh Ubank	Administration 2	09-Jan-18	0.2	185.00	37.00	Creditors	Entering proof of debt/s and proxylies into MYOB.	Corporate - Liquidation

	nagement Itd (In Liqui	dation)	राजी हुए ब					
Remuneration to 30 Name	0 June 2018 Title	Date	Hours	Charge Out Rate	3,204,515.29 Charge	Task Desc	Narrative	Classification
				Braidheid - Indiana Indiana Indiana		1	Review correspondence from compensation scheme, scan and send to Clayton UIz to respond. Give	
Renee Lobb	Senior Director	09-Jan-18	0.2	570.00	114.00	Creditors	POD to Ashleigh Ubank to enter. too through expenses to be claimed from fulids in remuneration application with Neil. Show him the	Corporate - Liquidation
Renee Lobb	Senior Director	09-Jan-18	0.5	570.00	285.00	Investigations	process, where things are saved and work still required.	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	09-Jan-18	0.3	625.00	187.50	Assets	Filing; GST Review;	Corporate - Liquidation
Renee Lobb	Senior Director	10-Jan-18	0.1	570.00	57.00	Investigations	Respond to email from clayton Utz regarding PI information request.	Corporate - Liquidation
Renee Lobb	Senior Director	10-Jan-18	0.2	570.00	114.00	Administration	Filing all December and Jan emails sent so far.	Category 2 - Current
Renee Lobb	Senior Director	10-Jan-18	0.1	570.00,	57.00	Administration	Check reconciliation of account. Request Ashleigh Ubank to do bank rec to Dec 2017 to enable bas completion.	Corporate - Liquidation
Neil Dempster	Senior Consultant I	10-Jan-18	0.2	360.00	72.00	Administration	Draft payment cloud plus Invoice and grace records storage invoice	Category 2 - Current
Neil Dempster	Senior Consultant I	10-Jan-18	0.3	360.00	108.00	Administration	Finish email to michael hargreaves at CBA regarding removal of custodian on account	Category 2 - Current
Neil Demoster	Senior Consultant I	10-Jan-18	0.1	360.00	36.00	Employees	Email to michael skeggs with latest RTC - ask if postal address has chnged	Category 2 - Current
Neil Dempster	Senior Consultant I	10-Jan-18	0.1	360.00	36.00	Administration	Update postal address michael skeggs	Category 2 - Current
Caroline Halcoop	Administration II	10-Jan-18	0.20	180	36.00	Administration	2 x PV & Commbiz trf - Cloud Plus \$5460.84 & Grace Records \$325.72 - NGD	Category 2 - Current
							Assisting Neir Dempster with expense allocation review, provide information for invoice contacts at law firms to assist in reconciliation and allocation.	Category 2 - Current
Renee Lobb	Senior Director	11-Jan-18	0.3	570.00	171.00	Administration	NEW MINIMARINE DEVICES THE DEVICES THE COMPANY OF THE MODEL'S CHIEFT OF CARACTURINE BY L'IMPLITE DEVICES	callgory = centra
							allocation of funds previously provided and confirm LMIM funding; calculate reimbursement sought; review order re allocation of costs; draft response; RCt re meeting with EY; Review and approve payment of outstanding administration liabilities including review of supporting documentation and	
Kelly-Anne Trenfield	Senior Managing Director	11-Jan-18	1	625.00	625.00	Administration	signing of transfer or cheque;	Category 2 - Current
Ashleigh Ubank	Administration 2	11-Jan-18	0.1	185.00	18.50	Administration	Bank account/s reconciled to requested date/s.	Corporate - Liquidation
Neil Dempster	Senior Consultant I	11-Jan-16	0.1	360.00	36.00	Administration	Reivew involce payments to grace records and cloud plus - send to RCL for sign off Costs paid spreadsneet, discuss with RCL - degimilist of involces for Russelis/KWM and Clayton diz-	Category 2 - Current
Neil Demoster	Senior Consultant I	11-Jan-18	2.5	360.00	900.00	Administration	where we are missing physical copy of invoice - send emails to all firms requesting copies of invoices - contact KWM for their accounts department.	Corporate - Liquidation
				570.00		Creditors	Review returned reports, instructions to Asnieligh Upank to locate new addresses or if unsuccessitu to mark as RTS in MYOB.	Category 2 - Current
Renee Lobb	Senior Director	12-Jan-18	0.1	370.00	57.00	Cleanors	Review and the Kelly-Anne Trentield email to David Whyle regarding expense apportionment	
Renee Lobb	Senior Director	12-Jan-18	0.2	570.00	114.00	Trade-On	between funds.	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	12-Jan-16	1.1	625.00	687.50	Administration	Meeting with EY re finalisation of audits; filing;	Category 2 - Current
Neil Dempster	Senior Consultant I	12-Jan-18	0.1	360.00	36.00	Employees	Call from Michael Skeggs - note no return to creditors likely	Category 2 - Current
Renee Lobb	Senior Director	15-Jan-18	0.1	570.00	57.00	Investigations	Review insurance meeting email, discuss with Kelly-Anne Trenfield and accept attendance.	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	15-Jan-18	0.1	625.00	62.50	Administration	Update monitoring refee approvals;	Category 2 - Current
Neil Dempster	Senior Consultant I	15-Jan-18	0.1	360.00	36.00	Administration	Receipt December 2017 interest CBA Review returned reports, instructions to Asnieign Obank to locate new address of mark as RTS in	Corporate - Liquidation
Renee Lobb	Senior Director	16-Jan-18	0.1	570.00	57.00	Creditors	МУОВ.	Category 2 - Current
Ashleigh Ubank	Administration 2	16-Jan-18	0.1	185.00	18.50	Administration	Bank account/s reconciled to requested date/s.	Corporate - Liquidation
Ashleigh Ubank	Administration 2	16-Jan-18	0.3	185.00	55.50	Creditors	RTS. New addresses searched for. Results recorded in MYOB. Report reissued.	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	16-Jan-18	0.1	625.00	62.50	Administration	emails in/out re change of auditor	Category 2 - Current
Neil Dempster	Senior Consultant I	16-Jan-18	0.1	360.00	36.00	Administration	Print bank statement for interest receipt and file	Corporate - Liquidation
Neil Dempster	Senior Consultant I	17-Jan-18	0.5	360.00	180.00	Administration	Expense allocation for remuneration application to courts	Category 2 - Current
Renee Lobb	Senior Director	18-Jan-18	1.6	570.00	912.00	Investigations	Meeting with Clayton Utz, Kelly-Anne Tranileid, Gadens, Minters, KM and BDO regarding insurance settlement.	Corporate - Liquidation
	Senior Managing Director	16-Jan-18	1.6	625.00	1,000.00	Administration	Emain from and response to Chris Enum re meeting with KM/BDD re insurancemeeting with Chris Enfunt re preparation for meeting with MPF/FMIF & legal reps; Meeting with MPF/FMIF	Corporate - Liquidation
Neil Dempster	Senior Consultant I	18-Jan-18	0.3	360.00	108.00	Administration	Draft Dec qtr BAS - check with RCL treatment of GST remission for FMIF distribution	Corporate - Liquidation
Renee Lobb	Senior Director	19-Jan-18	0.1	570.00	57.00	Administration	Review Dec Qir BAS.	Corporate - Liquidation
	Senior Director	19-Jan-18	0.2	570.00	114.00	Trade-On	Review investor enquiry, identity investor number as belonging to managed Performance Fund. Respond and provide KordaMentha details for contact.	Category 2 - Current

	anagement Ltd (In Liqui	dation)			7 004 515 00			
Remuneration to 3		Date	Hours	Charge Out Rate	3,204,515.29 Charge	Task Desc	Narrative	Classification
Name				ning a fandala ining a katala a sa		A	ncerient and oppman to do inst, query obtatanting nonits, nerven and any byto retain not period, sign any associated payments; update schedule of outstanding; disbursements schedule re application to approval to 31 December 2017; email in from Julian walsh re remuneration claim; email to CD re WI downloads; Corp and Cat 2 fee schedules re application for approval to 31 December 2017finalise	
Kelly-Anne Trenfield	Senior Managing Director	22-Jan-18	1.8	625.00	,	Administration	remuneration/disbursement schedules and provide to Russells	Category 2 - Current
Renee Lobb	Senior Director	22-Jan-18	0.2	570.00	114.00		Call with creditor, discuss liquidation and confirm no return to creditors.	Corporate - Liquidation
Renee Lobb	Senior Director	22-Jan-18	0.1	570.00	57.00		Review BAS, answer Kelly-Anne Trenfield queries. Reviewing russells updates on remuneration application.	Category 2 - Current
Renee Lobb	Senior Director	22-Jan-18	0.1	570.00	57.00	Investigations	reviewing russels updates on remaineration application. reging inrough all payment rolders to locate supporting documentation for expense recoupement by	Oategory 2 - Ourtenik
Renee Lobb	Senior Director	22-Jan-18	2.2	570.00	1,254.00	Investigations	LMIM, Save don in dated folders and update for apportionment where able.	Category 2 - Current
Renee Lobb	Senior Director	23-Jan-18	0.8	570.00	456.00	Investigations	invoices are and request spreadsheet be progressed today, give Kelly-Anne Trenfield update. Lengthy discussion with Neil Dempster regarding FUM apportionments and how to narrate in cost expense recovery spread sheet, answer queries.	Category 2 - Current
Neil Dempster	Senior Consultant I	23-Jan-18	0.1	360.00	36.00	+ <u> </u>	Email to Dallys at Russells follow up invoice provision	Category 2 - Current
Neil Dempster	Senior Consultant I	23-Jan-18	5	360.00		Administration	Change complete and scanned individual lotters approx sor involces notificantly wood interesting and Clayton Utz for application to court for expense allocation. Visit paper file to locate invoices we have and email to King Wood Mallesons for the balance. Also contact Russells to provide their invoices for me to reconcile and compile for the application.	Corporate - Liquidation
Renee Lobb	Senior Director	24-Jan-18	0.1	570.00	57.00		Review Managed Performance Fund leave to proceed application, save and print for file.	Corporate - Liquidation
Renee Lobb	Senior Director	24-Jan-18	0.2	570.00	114.00	Administration	Discussion with Kelly-Anne Trentield regarding temporary record temoval requests. Email to Elle Dopking regarding same.	Corporate - Liquidation
Christine Stead	Senior Director	24-Jan-18	0.2	570.00	114.00	Administration	respond to email from NPD re invoices attached to payments in MYOB for Lrn and provide location of alternative folders	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	24-Jan-18	0.1	625.00	62.50	Administration	Review incoming documentation, consider and send to filing;	Category 2 - Current
Neil Dempster	Senior Consultant I	24-Jan-18	0.1	360.00	36.00	Administration	Scan and copy Dec qtr BAS for file Continued work on Living expense allocation - primarily on KVVM involce splits. Review file downstairs	Corporate - Liquidation
Neil Dempster	Senior Consultant I	24-Jan-18	2	360.00	720.00	Administration	for cost agreement referred to in some myob entries - did not locate.	Category 2 - Current
Renee Lobb	Senior Director	24-Jan-18	0.20	565	113.00	Administration	Preparing temporary record removal instructions and send to Ellie.	Category 2 - Current
Renee Lobb	Senior Director	25-Jan-18	0.6	570.00	342.00	Investigations	Reviewing 3 pièces of correspondence concerning cost and remuneration application, indemnity claim and clear accounts rule relating to controllership fees. file same.	Category 2 - Current
Renee Lobb	Senior Director	25-Jan-18	0.2	570.00	114.00	Administration	With ED regarding files to go to storage.	Corporate - Liquidation
Renee Lobb	Senior Director	25-Jan-18	0.2	570.00	114.00	Administration	Review email with application proposed or funds received for Belgian claim from clayton utz. confirm application is in order and update our records accordingly.	Corporate - Liquidation
Neil Dempster	Senior Consultant I	29-Jan-18	2	360.00	720.00	Administration	Cost allocation for rem application - mainly time spent printing, checking and compilig Russells invoices Reviewing remuneration application action plan and reports requested, locate all annuar reports and	Category 2 - Current
Renee Lobb	Senior Director	29-Jan-18	0.4	570.00	228.00	Administration	the 439A report and send to Julian at Russells with available times to meet.	Category 2 - Current Category 2 - Current
Renee Lobb	Senior Director	29-Jan-18	0.1	570.00	57.00	Administration	Catch up with Neil Dempster on remuneration expense application.	
Neil Dempster	Senior Consultant I	30-Jan-18	2	360.00	720.00	Administration	Further work on invoice assignment for remuneration claim attributable for russells invoices	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	30-Jan-18	1.8	625.00	1,125.00	Administration	Sop/legal costs; email in re counsel fees; review previous payments; draft response to RussellsRCL update re fee approval discussion with Russellsupdate fee schedute re remuneration application Cair with guilant waish from Russells, go infougn the py time remuneration entries and identity key	Category 2 - Current
Renee Lobb	Senior Director	30-Jan-18	2.5	570.00	1,425.00	Administration	tasks by years and cat 1 and 2 classification of particular tasks. Answer queries throughout call and	Category 2 - Current
Renee Lobb	Senior Director	31-Jan-18	0.2	570.00	114.00	Administration	Kelly-Anne Trenfield information on investor time in LM Investment Management Ltd. Kelly-Anne Trenfield information on investor time in LM Investment Management Ltd. Kevnew information on Kordaniventina and managed Penormance Fund application for reave to	Category 2 - Current
Renee Lobb	Senior Director	31-Jan-18	0.8	570.00	456.00	Investigations	proceed and supporting documentation including ClayLon Utz summary and proposed action plan. file and save documents. כמו אישר סטוומר הטוצפות: שם הוסטקות אכורי, הור, הווצר ואסתקמקוב והכטוופ העולו מהס באר והעפצות פות	Corporate - Liquidation
Renee Lobb	Senior Director	31-Jan-18	2.4	570.00	1,368.00		Management Ltd time Oct 15 to Dec 17 and identify significant tasks for each and answering queries relating to proposed draft affidavit material.	Category 2 - Current

LM investment Ma Rémuneration to 3	nagement Ltd (In Liquid 0 June 2018	lation)			3,204,515.29			
· 建物理学会、全学生的学校、学校、学校、学校、学校、学校、学校、	Title	Date	Hours	Charge Out Rate		Task Desc	Narrative	Classification
				005.00	4 407 50		Review asic lognements re auditor resignation; review audit confitmation re PVVC singaporereview- and update remuneration schedule re approval application	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	31-Jan-18	2.3 0.1	625.00	1,437.50	Administration Administration	Call in from mark waller	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	21-Jan-10	0.1	025.00	02.00	Addition	Call to ASIC re overdue notice received by tomier director - email to director note automatically	
Neil Dempster	Senior Consultant I	31-Jan-18	0.3	360.00	108.00		issued	Corporate - Liquidation
Ashleigh Ubank	Administration 2	01-Feb-18	0.1	185.00	18.50	Administration	RTS, New addresses searched for, Results recorded in MYOB, Report reissued. Review email and attached anidavit of david O'Brien regarding Managed Performance Fund claim.	Category 2 - Current
Renee Lobb	Senior Director	01-Feb-18	0.3	570.00	171.00	Investigations	save and print for file. Review further correspondence on draft orders.	Corporate - Liquidation
Renee Lobb	Senior Director	01-Feb-18	0.1	570.00	57.00	Administration	Request LG to complete bank rec to 31/01/18 to enable lodgement of F524.	Corporate - Liquidation
Keily-Anne Trenfield	Senior Managing Director	01-Feb-18	0.1	625.00	62.50	Administration	Email in from Clayton utz re outcome of MPF hearing by KM	Corporate - Liquidation
		01-Feb-18	0.2	155.00	34.00	Administration	Payment to Grace Records Management (QLD) for INV RG00708076 \$325.72 - circulated to RCL	Corporate - Liquidation
Talia Glover Renee Lobb	Administration 1 Senior Director	01-Feb-18	0.2	570.00	57.00		Make payment of monthly storage costs through MYOB.	Category 2 - Current
Kenee Long	Senior Director	02-100-10					Preparation of expenses allocation for remuneration application. Reviewing the to locate all supporting	
	O-sites Disselse	02-Feb-18		570.00	1 710 00	Investigations	invoices, save, identify what payment related to and record same in summary, discuss progress with Kelly-Anne Trenfield and make time to discuss Monday when completed.	Category 2 - Current
Renee Lobb	Senior Director Senior Managing Director	02-Feb-18	1.1	625.00	687.50	Administration	Corporate claim remuneration application	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	02-Feb-10	1.1	020.00			Check temaining Russells invoices in consultant register - all there except one which may be a typo	Catagory 2. Current
Neil Dempster	Senior Consultant I	02-Feb-18	0.2	360.00	72.00		BITOT	Category 2 - Current Category 2 - Current
Talia Glover	Administration 1	05-Feb-18	0.2	155.00	31.00	Administration	435602.0001 Payment to Cloud Plus Pty Ltd for inv 21615182 \$5460.84 - circulated to RCL Reviewing email from Russells regarding categorisation of remunifration, controllership fee allocation	Category 2 - Current
Renee Labb	Senior Director	05-Feb-18	0.2	570.00	114.00	Administration	and cat 1 and 2 queries.	Category 2 - Current
							Reviewing expenses claim for remuneration application with Kelly-Anne Treniteid. Send through consultant fee register and follow up Russells for full account fo what is owed to them.	Category 2 - Current
Renee Lobb	Seniar Director	05-Feb-16	1.1	570.00 570.00		Administration Administration	Make payment of cloudplus costs.	Category 2 - Current
Renee Lobb	Senior Director	05-Feb-18	0.1		57.00	Auministratuum	Review and update to do list, query outstanding items, review corporate costs analysis with RCC,	
					4 075 00	A	review costs to determine those to be included; review remuneration approval tables and provide comments to Julian walsh, Russells	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	05-Feb-18	2	625.00	1,250.00	Administration	Co unrough accomptiss on the and obtain remaining supporting accoments for expenses claim, create	
		Í					queries folder for Kelly-Anne Trenfield to review specific supporting documents. Review unpaid consultant fees to form part of the claim. Scan, save and locate invoices in support and collate in	
D	Conice Disselar	06-Feb-18	2.3	570.00	1,311,00	Administration	queries and other folder. Send to Kelly-Anne Trenfield.	Category 2 - Current
Renee Lobb Renee Lobb	Senior Director	06-Feb-18	0.2	570.00	114.00	Administration	Call with ato. Answer queries on large BAS refund for December quarter 2017.	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	06-Feb-18	1.2	625.00	750.00	Administration	Application; costs;	Category 2 - Current
Kelly-Allie Trefficia	Centor teanageig Diroctor						Review and approve payment of outstanding administration liabilities including review of supporting documentation and signing of transfer or cheque; GST;	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	06-Feb-18	0.1	625.00	62.50	Administration	Review query list for expenses and collate final expenses tolder of supporting documents, send tink to	
Renee Lobb	Senior Director	07-Feb-18	1.5	570.00	855.00	Administration	Kelly-Anne Trenfield for same.	Category 2 - Current
Talia Glover	Administration 1	08-Feb-18	0.2	155.00	31.00	Administration	435602.0001 Payment to Clayton Utz for inv 3961745 \$4098.05 - circulated to RCL	Category 2 - Current
							Reviewing queries remaining on consultant fee register. delete invoices from query folder which are	1
Renee Labb	Senior Director	08-Feb-18	0.5	570.00	285.00	Administration	no longer queried. confirm with Kelly-Anne Trenfield task finalised pending response from Russells.	Category 2 - Current
Renee Lobb	Senior Director	08-Feb-18	0.2	570.00	114.00	Trade-On	Adding clayton utz invoice to consultant schedule, review same and request payment.	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	08-Feb-16	0.6	625.00	375.00	Administration	Email in re outstanding costs; discuss payment with RCL	Category 2 - Current
				200	36.00	Creditors	Email to Utmost Wealth - direct to KM for MPF update	Corporate - Liquidation
Neil Dempster	Consultant II	08-Feb-18	0.10	360 185.00		Administration	RTS, New addresses searched for, Results recorded in MYOB. Report reissued.	Category 2 - Current
Ashleigh Ubank	Administration 2	09-Feb-18	0.1	145.00	10.00		Review and approve payment of outstanding administration liabilities including review of supporting	0-1
Kelly-Anne Trenfield	Senior Managing Director	09-Feb-18	0.1	625.00	62.50	Administration	documentation and signing of transfer or cheque;	Category 2 - Current
					26.00	Cuaditors	Direct RL360 to KM for transfer request	Corporate - Liquidation
Neil Dempster	Consultant II	09-Feb-18	0.10	360	30.00	Creditors	Piletrusse to Kill for control redden.	

 $\sum_{i=1}^{n}$

	nagement Ltd (In Liquid	lation)			1 204 545 20			
Remuneration to 3 Name	0 June 2018 Title	Date	Hours	Charge Out Rate	3,204,515.29 Charge	Task Desc	Narrative	Classification
				F70.00	114.00	Tends On	Respond to generic enquiry on fund balances. Note these are not funds managed by LM Investment Management Ltd.	Corporate - Liquidation
Renee Lobb	Senior Director	12-Feb-18	0.2	570.00	114.00	Trade-On	Receive and record in consultant tee schedule Clayton Utz invoice. Scan and save same. Assist Neil	
Renee Lobb	Senior Director	12-Feb-18	0.2	570.00	114.00	Administration	Dempster with 524 checklist queries.	Corporate - Liquidation
Renee Lobb	Senior Director	12-Feb-18	0.1	570.00	57.00	Administration	Check LM investment Management Ltd 524. Send to Kelly-Anne Trentield to approve.	Corporate - Liquidation
Renee Lobb	Senior Director	12-Feb-18	0.1	570.00	57.00	Administration	Filing sent emails from past 2 weeks for client file records regarding expenses recovery claim. Uran LMIM 524, 524 cnecklist and periodic matter review checklist - check all tigures on 524 and	Category 2 - Current
Neil Dempster	Senior Consultant I	12-Feb-18	1	360.00	360.00	Administration	Uran LMIM 524, 524 Checklist and periodic matter review checklist - check an injures of 524 and send to RCL for review Review incoming documentation, consider and send to filing; Review and update to do itst, query	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	13-Feb-18	0.1	625.00	62.50	Administration	outstanding items;	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	13-Feb-18	0.2	625.00	125.00	Administration	review and update remuneration control panel	Category 2 - Current
Renee Lobb	Senior Director	14-Feb-18	0.2	570.00	114.00	Administration	Respond to general enquiry requesting further investor details to allocate to fund.	Category 2 - Current
Renee Lobb	Seniar Director	14-Feb-16	0.1	570.00	57.00	Administration	Review and save custody reports.	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	14-Feb-18	0.1	625.00	62.50	Administration	Review F524 and supporting docs; review updated work programme and half annual review	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	14-Feb-18	0.8	625.00	500.00	Administration	Review and update statement of position;	Category 2 - Current
				F70.00	444.00	Administration	Review Kelly-Anne Trentield note on 524, query same with her and advise Neil Dempster of changes to make in MYOB.	Corporate - Liquidation
Renee Lobb	Senior Director	15-Feb-18	0.2	570.00 625.00		Administration	Review F524 and supporting docs; review updated work programme and half annual review	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	15-Feb-18		· · · · · · · · · · · · · · · · ·	180.00	Administration	Recode ICPAIF disbursement - revised 524 lodgement - send to KAT	Corporate - Liquidation
Neil Dempster	Senior Consultant I	15-Feb-18	0.5	360.00 570.00	57.00	Administration	Discussion with Joanne Dunn regarding ongoing work requirements on this file.	Corporate - Liquidation
Renee Lobb	Senior Director	19-Feb-18	0.1	625.00	62.50	Administration	RCL update re audit and remuneration claim	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	19-Feb-18	. 0.1	620.00	62,50		Review email without 10 for particular fund, attempt to locate same to answer lund related query.	
Renee Lobb	Senior Director	20-Feb-18	0.2	570.00	114.00	Administration		Category 2 - Current
Renee Lobb	Senior Director	20-Feb-18	0.1	570.00	57.00	Administration	Receipt BAS refund for Dec Qtr. Email Kelly-Anne Trentiele regarding proposed payments or Clayton utz invoices atter review of their	Corporate - Liquidation
Renee Lobb	Senior Director	20-Feb-18	0.2	570.00	114.00	Administration	email and the consultant fee register.	Corporate - Liquidation
Kenee Lood	Serior Director	20-100-10					Liaising with KAL regarding expense recoveries from funds and quantification to enable payment of	Corporate - Liquidation
Renee Lobb	Senior Director	20-Feb-18	0.2	570.00	114.00	Administration	clayton utz invoices. Provide response to query re difining and status or remuneration application.com et difficulting position—	
							and payment of costsemail to Atiplady re review/payment of peden invoicesReview and update to do	
							list, query outstanding items; RCL re reimbursement claimsreview sop and outstanding costs from Clayton Utz and Peden	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	20-Feb-18	0.9	625.00	562.50	Assets	ייין אילוטיד מדער דייידא איז איז איז איז איז איז איז איז איז אי	
							paid, save supporting documents and request payment of invoices through MYOB. Check payment	
				570.00	949.00	Administration	slip and request amendment. send final version and supporting documents to Kelly-Anne Trenfield to process.	Corporate - Liquidation
Renee Lobb	Senior Director	21-Feb-18	0.6	570.00	342.00	Automation	Review ors costs to counsel, reconcile to Russells involcesemail to Russells re outstanding legal	
Kelly-Anne Trenfield	Senior Managing Director	21-Feb-18	0.8	625.00	500.00	Assets	costs; réconciliation of paymentsop	Category 2 - Current
Neil Dempster	Senior Consultant I	21-Feb-18	0.2	360.00	72.00	Administration	Lodge LM 524 - bring up for annual estate return	Corporate - Liquidation
Caroline Halcoop	Administration II	21-Feb-18	0.20	180	36.00	Administration	PV & Commbiz trf - Clayton Utz - \$33856,15 - RCL	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	22-Feb-18	0.2	625.00	125.00	Administration	Accounts	Corporate - Liquidation
Renee Lobb	Senior Director	23-Feb-18	0.2	570.00	114.00	Administration	Recapiting Air and Abi T op coats reimbuloomether	Calegory 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	24-Feb-18	0.2	625.00	125.00	Administration	Email from Julian Walsh ; dd comments and request RCL to action remiuneration application discussion with Julian ar Russells. Resolvenssies and discuss previous	Category 2 - Current
							remuneration approvals. Go through expense allocation and payment rationale and send document for same. Extract all russells invoices from Consultant fee register and calculate percentage paid by	
Renee Lobb	Senior Director	26-Feb-18	2.6	570.00	1,482.00		fund, send to Julian.	Category 2 - Current
Renee Lobb	Senior Director	26-Feb-18	0.1	570.00	57.00	Administration	Neview receipts, attach appointing documents and contact to heavy take	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	26-Feb-18	0.1	625.00	62.50	Administration	email from RCL re discussion with JW (Russell) and provide comments	Category 2 - Current
-						A design in the start	Reviewing email from Julian on remaining information needed for expense and remuneration application.	Category 2 - Current
Renee Lobb	Senior Director	27-Feb-18	0.2	570.00	114.00	Administration	approvision	

 $\widehat{}$

LM Investment Ma Remuneration to 3					3,204,515.29			
Name:	. Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Kelly-Anne Trenfield	Senior Managing Director	27-Feb-18	0.1	625.00	62.50	Administration	Email from and response to AJT re remuneration/costs claim	Category 2 - Current
Renee Lobb	Senior Director	28-Feb-18	0.3	570.00	171.00	Administration	Expense application and info needed from Russells to progress.	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	28-Feb-18	0.5	625.00	312.50	Administration	sop/corp claimRCL re progress of claims	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	01-Mar-18	1.8	625.00	1,125.00	AdmInistration	classification of corp/funds R&P to determine split	Category 2 - Current
Renee Lobb	Senior Director	02-Mar-18	0.2	.570.00	114.00	Administration	Review emails regarding remunération and russells invoice réconciliation. Discuss with Kelly-Anne Trenfield also,	Category 2 - Current
Renee Lobb	Senior Director	02-Mar-18	0.1	570.00	57.00	Administration	Pay storage costs for Grace.	Category 2 - Current
Talia Glover	Administration 1	02-Mar-18	0.2	155.00	31.00	Administration	435602.0001 Payment to Grace Records Management Pty Ltd for Invoice RG00/18061 \$325.72 - pirculated to RCL	Category 2 - Current
Talia Glover	Administration 1	05-Mar-18	0.2	155.00	31.00	Administration	Payment to Cloud Plus Pty Ltd for invoice 21629720 \$5460.84 - circulated to RCL	Category 2 - Current
Renee Lobb	Senior Director	05-Mar-18	0.2	570.00	114.00	Administration	make payment of hosting costs for march (Croud Plus). Save russells involces. Add to consultant lee register.	Category 2 - Current
				075.00	a aoa c a		Preparation of Revelw and update statement of position, review costs CORP V FUNDS; reconciliation of remuneration approvals	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	05-Mar-18	3.3	625.00	2,062.50	1	Remuneration reconciliation	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	05-Mar-18	0.2	625.00	125.00	Administration		Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	05-Mar-18	0.1	625.00	62.50	Administration	Rol re audit queries Review and update to do list; query outstanding items review incoming documentation, consider and	Galegory 2 - Guileni
Kelly-Anne Trenfield	Senior Managing Director	06-Mar-18	0.1	625.00	62.50	Administration	send to filing	Category 2 - Current
Ashleigh Ubank	Admin II	07-Mar-18	0.1	185.00	18.50	Administration	WIP proforma/excel report/s generated for code.	Category 2 - w/off
Talia Glover	Administration 1	07-Mar-18	0.2	155.00	31.00	Administration	435602.0001 Payment to FTI Consulting for inv 7471601 \$7875.52 - circulated to RCL	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	07-Mar-18	2.2	625.00	1,375.00	Administration	preparation of schedules and reconciliation of remuneration re application for approval	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	07-Mar-18	0.1	625.00	62.50	Administration	Review and approve payment or outstanding administration liabilities including review of supporting documentation and signing of transfer or cheque	Category 2 - Current
Carly Drew	Administration 2	07-Mar-18	0.1	185.00	18.50	Administration	Ran WIP for KAT	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	08-Mar-18	1.4	625.00	875.00	Administration	preparation of schedules and reconciliation of remuneration re application for approval	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	08-Mar-18	0.1	625.00	62.50	Administration	email in re remuneration application; FLE	Category 2 - Current
Renee Lobb	Senior Director	09-Mar-18	0.2	570.00	114.00	Administration	Review, save In folders, print and pay invoice.	Category 2 - Current
Renee Lobb	Senior Director	09-Mar-18	0.2	570.00	114.00	Administration	Arranging NAS and desktop server to go to storage.	Category 2 - Current
Renee Lobb	Senior Director	09-Mar-18	0.1	570.00	57.00	Administration	Reviewing updated remuneration information sent by Kelly-Anne Trenfield to Russells.	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	12-Mar-18	0.1	625.00	62.50	Administration	Review and update to do list; query outstanding items review incoming documentation, consider and send to filing	Category 2 - Current
	Senior Director	13-Mar-18	0.2	570.00	114.00	Administration	Reviewing email regarding remuneration application from Russells	Category 2 - Current
Renee Lobb		13-(Mai*10	0.2	570.00	114.00		Review schedule or outstanding legal costs - Russells; reconciliation to FIT records Meeting with	
Kelly-Anne Trenfield	Senior Managing Director	13-Mar-18	4.6	625.00	2,875.00	Administration	Russells to review outstanding costs re corporate costs approval application	Category 2 - Current
Neil Dempster	Senior Consultant I	13-Mar-18	0.1	360.00	36.00	Administration	File review with RCL	Category 2 - Current
Ashleigh Ubank	Administration 2	14-Mar-18	0.2	185.00	37.00	Administration	Discussion with Neil Dempster regarding amending forms.	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	14-Mar-18	2.3	625.00	1,437.50	Administration	Review schedule of outstanding legal costs - Russells; reconciliation to FTI records Reviewing updated remuneration action plan and cost estimated for pre and post sept 15	Category 2 - Current
Renee Lobb	Senior Director	15-Mar-18	0.2	570.00	114.00	Administration	applications.	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	15-Mar-18	3.1	625.00	1,937.50	Administration	Review schedule of outstanding legal costs - Russells; reconciliation to FTI records	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	16-Mar-18	0.2	625.00	125.00	Administration	RCL re Russelis fees reconciliation and payment to Pedeninstructions re payment	Category 2 - Current
Renee Lobb	Senior Director	19-Mar-18	0.1	570.00	57.00	Administration	Review call back message. Call Michael Hargreaves at CBA regarding audit certilicates and leave message.	Category 2 - Current
John Park	Senior Managing Director	20-Mar-18	0.1	625.00	62.50	Administration	Email in from Investor;	Category 2 - Current
	Senior Managing Director	20-Mar-18	0.1	625.00		Administration	Review and update to do list; query outstanding items	Category 2 - Current
	Senior Director	21-Mar-18	0.1	570.00	57.00	Investigations	Review email from Julian regarding remuneration application.	Category 2 - Current
	Senior Managing Director	21-Mar-18	0.2	625.00			Reconciliation of legal costsreview payment of outstanding legal costs	Category 2 - Current

LM Investment Ma Remuneration to 3	nagement Ltd (In Liquid D June 2018	dation)			3,204,515.29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Kelly-Anne Trenfield	Senior Managing Director	21-Mar-18	0.6	625.00	375.00	Administration	Reconciliation of legal costs	Category 2 - Current
Ashleigh Ubank	Administration 2	22-Mar-18	0.3	185.00	55.50	Administration	ASIC lodged documents retrieved via Encompass.	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	22-Mar-18	0.1	625.00	62.50	Administration	Review incoming documentation, consider and send to filing	Category 2 - Current
Talia Glover	Administration 1	22-Mar-18	0.2	155.00	31.00	Administration	435602.0001 Payment to J W Peden for payments of multiple invoices \$65991.23 - circulated to RCL	Category 2 - Current
Renee Lobb	Senior Director	23-Mar-18	0.5	570.00	285.00	Administration	Payment to Penden. Update schedule for same against each invoice.	Category 2 - Current
Renee Lobb	Senior Director	23-Mar-18	0.2	570.00	114.00	Administration	Discussion with Tracey Rumbold regarding outstanding cross segment invoice, review information and email Kelly-Anne Trenfield regarding same.	Category 2 - Current
	Senior Managing Director	23-Mar-18	0.7	625.00	437.50	Administration	Review and approve payment or outstanting administration inabilities including review or supporting documentation and signing of transfer or cheque - Peden; update Russells schedulereview sop and update and calculate payment of costs	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	20-14161-10	0.7	020.00	401.00		Discussion with Julian from Russells regarding remuneration application. Make notes in spread sheet	
Renee Lobb	Senior Director	26-Mar-18	0.8	570.00	456.00	Investigations	with time entry queries and send back. Email in re outstanding tech costs; respond to RCL requesting details of invoices/LE I di email in/out	Category 2 - Current
Kelly-Anne Tranfield	Senior Managing Director	26-Mar-18	0.4	625.00	250.00	Administration	The tail tree remuneration and removal from application to request, a space of the second sec	Category 2 - Current
Renee Lobb	Senior Director	28-Mar-18	0.2	570.00	114.00	Investigations	Trenfield instructions on same and fiel emails.	Corporate - Liquidation
<u> </u>		28-Mar-18	0.3	625.00	187.50	Administration	Email in from Mark waller re approach to insurers solicitors and director defendants re potential settlement discussions	Corporate - Liquidation
Kelly-Anne Trenfield Kelly-Anne Trenfield	Senior Managing Director Senior Managing Director	03-Apr-18	0.3	625.00	62.50	Administration	Review incoming documentation, consider and send to filing	Category 2 - Current
			0.1	625.00	62.50	Administration	Review and update to do list; query outstanding items; Review incoming documentation, consider and send to filling	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	04-Apr-18	0.1	185.00	37.00	Administration	Invoices processed through MYOB for payment.	Category 2 - Current
Ashleigh Ubank	Administration 2	05-Apr-18		155.00		Administration	assectuot Payment to Grace Records Management for Invoice number 00055136 \$325.72 - circulated to AU	Category 2 - Current
Talia Glover	Administration 1	05-Apr-18	0.2				A35602.0001 Payment to Cloud Plus Pty Ltd tor Invoice number 21639877 \$5450.84 - circulated to AU	Category 2 - Current
Talia Glover	Administration 1	05-Apr-18	0.2	155.00	31.00	Administration	Review tech costs and determine approvaring used in Oct 17 orders RCL re payment or cat 2	
Kally Asso Transfeld	Senior Managing Director	06-Apr-18	0.4	625.00	250.00	Administration	costsReview and approve payment of outstanding administration liabilities including review of supporting documentation and signing of transfer or cheque	Category 2 - Current
Kelly-Anne Trenfield				·			435602.0001 Payment to FIT Consulting Technology Sydney for Invoice 7341370 \$5517.50 -	Category 2 - Current
Talia Glover	Administration 1	09-Apr-18	0.2	155.00	31.00	Administration	435602.0001 Payment to WMS Chartered Accountants for inv 75839 \$2420 - circulated to RCL	Category 2 - Current
Talia Glover	Administration 1	09-Apr-18	0.2	155.00		Administration	Process payment for FTI tech involce.	Category 2 - Current
Renee Lobb	Senior Director	09-Apr-18	0.1	570.00	57.00	Administration	Emails to Julian Walsh re remuneration reconciliation and formulation of costs claims Review and	
Kelly-Anne Trenfield	Senior Managing Director	10-Apr-18	0.3	625.00	187.50	Administration	update to do list; query outstanding items	Category 2 - Current
Renee Lobb	Senior Director	10-Apr-18	0.2	570.00	114.00	Administration	Make Tech payment and arrange meeting with russells for remuneration application discussion.	Category 2 - Current
Celly-Anne Trenfield	Senior Managing Director	11-Apr-18	0.8	625.00	500.00	Administration	Meeting with julian walsh re remuneration application; discuss next steps with RCL	Category 2 - Current
Gelly-Anne Trenfield	Senior Managing Director	11-Apr-18	0.1	625.00	62.50	Administration	RCL re preparation for meeting with Russells re rem application	Category 2 - Current
Renee Lobb	Senior Director	11-Apr-18	0.8	570.00	456.00	Investigations	Meeting with Russells e remuneration and expenses claim. Post discussion with Kelly-Anne Trenfield.	
(elly-Anne Trenfield	Senior Managing Director	12-Apr-18	0.5	625.00	312.50	Administration	RCL re corp costs claim - review format and additional info review and approve payment of outstanding administration itabilities including review of supporting	Category 2 - Current
(elly-Anne Trenfield	Senior Managing Director	12-Apr-18	0,1	625.00	62.50	Administration	documentation and signing of transfer or cheque	Category 2 - Current
	Senior Managing Director	12-Apr-18	0.1	625.00	62.50	Administration	Email from Clayton utz re approach to director (drafts to gadens and minter ellison)	Corporate - Liquidation
any sume ridemou							weeting wint Keny-Anne Tremeio regercing cost spreadsneets to go to tussells and tomat of seme. Discussion with Jessica Earnshaw to explain required task for additional information needed in costs	
tenee Lobb	Senior Director	12-Apr-18	0.4	570.00	228.00	Investigations		Category 2 - Current
enee Lobb	Senior Director	12-Apr-18	0.1	570.00	57.00	Administration	Follow up payment of FTI tech invoice, check printout and attach supporting documents.	Category 2 - Current
tenee Lobb	Senior Director	12-Apr-18	0.1	570.00	57.00	Administration	Reviewing russells invoices and add to consultant register, save PDF invoices. Review correspondence grafted by Clayton Utz to other lawyers and JCL as director lawyers	Category 2 - Current
enee Lobb	Senior Director	12-Apr-18	0.2	570.00	114.00	Investigations	regarding settlement of insurance matters. File same.	Corporate - Liquidation

LM Investment Ma Remuneration to 3	inagement Itd (In Liquii 0 June 2018	dation)	an an an Baile an Air Al an Airte		3,204,515.29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Talia Glover	Administration 1	12-Apr-18	0.2	155.00	31.00	Administration	435602.0001 Payment to FTI Consulting Technology (SYD) \$1347.50 - circulated to RCL	Category 2 - Current
Jessica Earnshaw	Intern	12-Apr-18	0.8	155.00	124.00	Investigations	Time spent reviewing invoices to determine further information in order to inform Courts	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	13-Apr-18	0.1	625.00	62.50	Administration	Rcl re costs claim information to russells	Category 2 - Current
				570.00	co.4.04	A desista fundia a	Call with Julian regarding expense recoupement and schedule structure for same. discuss other unpaid consultant costs also and send through. Discussion with Kelly-Anne Trenfield regarding same and taking Jess through task of same. Answering queries Further discussions with Jess on same.	Category 2 - Current
Renee Lobb	Senior Director	13-Apr-18	1.2	570.00		Administration	Time spent reviewing fund invoices to determine additional information for Court	Category 2 - Current
Jessica Earnshaw	Intern	13-Apr-18	1.8	155.00	279.00	Investigations	Emails in/our with russells re remuneration approval application; locate and provide cip reconciliation;	
Kelly-Anne Trenfield	Senior Managing Director	16-Apr-18	1.5	625.00	937.50	Administration	review schedule of corporate costs re claim with remuneration Reviewing spreag speer on claim for corporate costs claw back, send all information to Kelly-Anne	Category 2 - Current
Renee Lobb	Senior Director	16-Apr-18	0.3	570.00	171.00	investigations	Trenfield before sending to Russells. Send additional information requested to Julian.	Category 2 - Current
							Reviewing email from Julian regarding CPF write off ligures and financials, serid FY14 financials and audits in reply.	Category 2 - Current
Renee Lobb	Senior Director	16-Apr-18	0.2	570.00		Investigations	Save custody reports issued by perpetual.	Category 2 - Current
Renee Lobb	Senior Director	16-Apr-18	0.1	570.00	57,00	Administration		culogory in callerin
Kelly-Anne Trenfield	Senior Managing Director	17-Apr-18	1.4	625.00	875.00	Administration	Review/reconcile recoupement claim scheduleemail from and update to RCL re recoupement claim Opdate reconclination of CPP remuneration and provide to Russells; draft email to russells re	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	17-Apr-18	0.4	625.00	250.00	Administration	remuneration response.	Category 2 - Current
Reay-Atine Hermeid	Gental Managing Director	1177pr 10		020100			Call with Julian regarding CPF write on queries for remuneration anidavit for LM investment	
Renee Lobb	Senior Director	17-Apr-18	0.2	570.00	114.00	Investigations	Management Ltd and funds.	Category 2 - Current
Ashieigh Ubank	Administration 2	18-Apr-18	0.4	185.00	74.00	Administration	ASIC lodged documents retrieved through Encompass.	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	19-Apr-18	0.1	625.00	62.50	Administration	Review incoming documentation, consider and send to filing	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	20-Apr-18	0.2	625.00	125.00	Administration	finalise corp costs claims	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	20-Apr-18	0.1	625.00	62.50	Administration	review and approve email correspondence incoming correspondence	Category 2 - Current
Renee Lobb	Senior Director	20-Apr-18	0.3	570.00	171.00	Administration	Go through attentional supporting documents needed to new narsactions, and to tode and manage cost reimbursement schedule, send to russells and send Dropbox link regarding same. Upstated discussion with jutian regarding cost recoupement. Answer considerable questions in detail	Category 2 - Current
Renee Lobb	Senior Director	23-Apr-18	1.7	570.00	969.00	Investigations	and raise query with KAY.	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	23-Apr-18	0.1	625.00	62.50	Administration	RCL re discussions with JW re remuneration application; info to RCL re review of expenses	Category 2 - Current
				570.00	1 140 00	Investigations	Cleaned discussions with Julian from Russens and subsequent discussion with RAT refrecoupement claim and issues raised by russells. Go through every payee in detail and look at invoices to give Julian a description of work undertaken and any relevant apportionment method.	Category 2 - Current
Renee Lobb	Senior Director	26-Apr-18	0.1	570.00		Administration	Locate BAS. Check if account reconciled. Request Bank rec from LG.	Category 2 - Current
Renee Lobb	Senior Director	26-Apr-18		625.00		Administration	RCL update re discussion with JW re formulation of corp costs claims	Category 2 - Current
Celly-Anne Trenfield	Senior Managing Director	26-Apr-18	0.1	155.00	31.00	Administration	435602.0001 Payment to Pilot Partners for inv 79847 \$988.35 - circulated to RCL	Category 2 - Current
Talia Glover	Administration 1	26-Apr-18		570.00	57.00	Administration	Complete BAS.	Category 2 - Current
Renee Lobb	Senior Director	27-Apr-18	0.1	570.00	57.00	Auminispation	Reviewing email from investor try and locate fund with no success, request LM investment	
Renee Lobb	Senior Director	27-Apr-18	0.1	570.00	57.00	Administration	Management Ltd account number of investor iD to enable response. Review and sign BAS return for period, sign any associated payments, update schedule or	Calegory 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	27-Apr-18	0.1	625.00	62,50	Administration	outstanding returns/refunds	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	29-Apr-18	0.2	625.00	125.00	Administration	Locate and provide info to counsel re Jackson order	Category 2 - Current
Renee Lobb	Senior Director	30-Apr-18	0.4	570.00	228.00	Investigations	Call with Julian Walsh regarding remuneration application.	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	30-Apr-18	0.4	625.00	250.00		neview and approve payment or outstantung autoinsstation menutives incluting review of supporting documentation and signing of transfer or cheque rejection of incorrect processed paymentreview court file; email to JW re 17 Oct judgementsubmit information re insurance notification; email in/out Russells	Category 2 - Current
elly-Anne Trenfield	Senior Managing Director	01-May-18	2	625.00	1,250.00		the KPG and lifestyle proceedings due to lack of funding; review costs and request advice from russells re offer to settleRCL update re discussion with Julian Walsh re corp costs claimupdates fee schedules for remuneration claim - cat 2 and corpReview incoming documentation, consider and send to filingreview email in from russells re updating information and meeting with Counsel; request excel downloads	Corporate - Liquidation

LM Investment Mai Remuneration to 30					3,204,515.29			Classificant a
Name	Title	Date	and date of the second	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Renee Lobb	Senior Director	02-May-18	0.1	570.00		Administration	Paying grace records and cloud plus invoices.	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	02-May-18	1.3	625.00	812.50		updates fee schedules for remuneration claim	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	02-May-18	0.1	625.00	62.50		Email in from mark waller re fup any progress re insurance settlement	Corporate - Liquidation
Talia Glover	Administration 1	02-May-18	0.2	155.00	31.00		8974 Payment to Grace Record Management Pty Ltd for inv D055136 \$325.72 - circulated to AU	Category 2 - Current
Talia Glover	Administration 1	02-May-18	0.2	155.00	31.00		vPayment to Cloud Plus Pty LTd for inv 231653209 \$5460.84 - circulated to AU	Category 2 - Current
Ashleigh Ubank	Administration 2	03-May-18	0.2	185.00	37.00	Administration	Invoices entered for payment through MYOB. Tooling mrough remaineration cost remoursement cann and separating tables by payee. Send to	Category 2 - Current
Renee Lobb	Senior Director	03-May-18	0.4	570.00	228.00	Administration	Julian. Request missing Hickey's invoice and make time to discuss issues with claim this afternoon with Julian.	Category 2 - Current
B	Senior Director	03-May-18	2.6	570.00	1 482 00	Administration	Call with Julian Walsh regarding remuneration and expense application, going through in detail	Category 2 - Current
Renee Lobb	Senior Managing Director	03-May-18	0.2	625.00		Administration	emain in and discussion with RCL re uverequest for payee information Review and approve payment of outstanding administration liabilities including review of supporting documentation and signing of transfer or cheque	Category 2 - Current
Neil Dempster	Senior Consultant I	03-May-18	0.10	370	37.00	Creditors	Direct tracey freeman to KM for transfer	Corporate - Liquidation
Renee Lobb	Senior Director	04-May-18	0.3	570.00	171.00	Investigations	Reviewing insurance matter letters to insurer JCL etc.	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	04-May-18	0.2	625.00	125.00	Administration	Review and update to do list; query outstanding items keview incoming documentation, consider and send to filing	Category 2 - Current
Neil Dempster	Senior Consultant I	04-May-18	0.10	370	37.00	Creditors	Email to Peter Stack direct to KM for transfers	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	08-May-18	0.1	625.00	62.50	Administration	To do list - fup russells re T&C response and MPF matters	Corporate - Liquidation
Renee Lobb	Senior Director	09-May-18	0.5	570.00	285.00	Administration	Call with Julian regarding expenses application. answer queries.	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	10-May-18	0.2	625.00	125.00	Administration	emain in from Russells re service orders on 2 x MPF matters being discontinuedemain in from EY re outstanding audit costs; comments to RCL re response Cair with Julian and catchup with Reity-Anne 1 renield regarding remuneration and cost application.	Corporate - Liquidation
Renee Lobb	Senior Director	11-May-18	0.3	570.00	171.00	Administration	Call with Julian and calcrup with really-Anne regime regarding remote addread raid cost application. Discuss further work required briefly. Reviewing letter form investor, iny and locate my name, when unsuccessful, send email to request	Category 2 - Current
Renee Lobb	Senior Director	11-May-18	0.2	570.00	114.00	Administration	further information to establish which fund the enquiry is in relation to. Review mark correspondence notific to see the second second and the second second and the second second second Review mark correspondence in the second second Review mark correspondence in the second second review mark correspondence in the second seco	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	11-May-18	0.9	625.00	562.50	Administration	processprep re meeting with AJT, Russells,m re fee application. Meeting with A Tiplady re remuneration application and advice from Counselupdate to RCL	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	13-May-18	0.1	625.00	62.50	Administration	Review and update to do list; query outstanding items	Category 2 - Current
John Park	Senior Managing Director	14-May-18	0.3	625.00	187.50	Administration	emails in / out Russells / David Clout	Category 2 - Current
Renee Lobb	Senior Director	14-May-18	0.6	570.00	342.00	Administration	Meeting with Kelly-Anine Tremieto to go through cost and remuneration claim work to be done and EY invoices. Send email to Paula at EY regarding invoices and requirements to pay, not te work to progress temumeration and termoorsement claim, discuss and agree approach to	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	14-May-18	1.3	625.00	812.50	Administration	auditorsreconcillation and split of remuneration across fundsReveiw and update statement of positionreview/approve email to EY re request for payment of audit invoicesemail in re agreement re payment of costs; update to leam temain man response to davic clour returning or solvency report, cliscuss with order evidence incoming.	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	14-May-18	0.4	625.00	250.00	Administration	documentation, consider and send to filingReview and update to do list; query outstanding itemstdl re status of remuneration and reimbursement claim	Corporate - Liquidation
	Senior Managing Director	14-May-18	0.1	625.00	62.50	Administration	Review and update to do list; query outstanding items	Category 2 - Current
Veil Dempster	Senior Consultant I	14-May-18	0.20	370	74.00	Creditors	Email to John Todd - direct to KM for latest update - search other investments nothing there - note this to John	Corporate - Liquidation
	Senior Consultant I	14-May-18	0.10	370	37.00	Creditors	Email to Tracey Freeman - email refers to MPF but no id confirmed - ask for this	Corporate - Liquidation
ohn Park	Senior Managing Director	15-May-18	0.1	625.00	62.50	Administration	email in David Clout	Corporate - Liquidation
	Senior Director	15-May-18	0.1	570.00	57.00	Investigations	Reviewing and saving letter from minter Ellison regarding discontinuance and payment of costs for Managed Performance Fund proceedings.	Corporate - Liquidation

LM Investment M Remuneration to	anagement Ltd (in Liqui 30 June 2018	dation)			3,204,515,29			
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
							Can wan Jollian regarding WAVS, Statements of Position, Remuneration approvals of Liv investment Management Ltd and amounts drawn and registry data. Answer queries, send email with feeder fund and CPF registers and request AIF and ASPF registers from Advanced share. Respond on	
Renee Lobb	Senior Director	15-May-18	1.4	570.00	798.00	Administration	remuneration queries to Julian after discussion with Kelly-Anne Trenfield.	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	15-May-18	0.5	625.00	312.50	Administration	documentation, consider and send to filing	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	15-May-18	0.1	625.00	62.50	Administration	RCL re audit update	Category 2 - Current
Neil Dempster	Senior Consultant I	15-May-18	0.10	370	37.00	Creditors	Email to tracey freeman direct back to KM for transfer Preparadon or SUP at appointment, inquicador and now for remuneration application. Seno to Kelly-	Corporate - Liquidation
Renee Lobb	Senior Director	16-May-18	1.7	570.00	969.00	Investigations	Anne Trenfield to review.Prepare NAV for CPF, ICPAIF, CPAIF, AIF, and ASPF for application also in line with discussion with Julian Walsh at Russells last night.	Category 2 - Current
Keilv-Anne Trenfield	Senior Managing Director	16-May-18	2	625.00	1,250.00	Administration	review fund split re costs paid/operational costs	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	16-May-18	0.1	625.00	62.50	Administration	Review and update to go list; query outstanding items Review Incoming documentation, consider and send to filing	Category 2 - Current
Neil Dempster	Senior Consultant I	16-May-18	0,10	370	37.00	Creditors	Direct Zoe Wang from ICSL to KM for unit reconciliation (Aegis)	Corporate - Liquidation
Renee Lobb	Seniar Director	17-May-18	1	570.00		Investigations	Review emails regarding ESOP and NAV'S from Relity-Anne Tremielo. Can with Julian regarding service of remuneration application information. Emails regarding same. Updating and revising ESOP at appointment, Liq and 16/05/18. Review comments on NAV and email all to Julian.	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	17-May-18	0.5	625.00	312.50	Administration	Emain in; email from and response to reascells email the anidavits for remuneration application review sop re remuneration applicationrcl update re sopreview emails in/out re audit costs; review email/sop in relation to remuneration approval application	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	18-May-18	0.1	625.00	62.50	Administration	email in re MPF action; emails in re audit invoices	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	21-May-18	0.1	625.00	62.50	Administration	Email from and response to julian walsh re feeder fund legal action	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	21-May-18	0.1	625.00	62.50	Administration	Review and update to do list; query outstanding items	Category 2 - Current
Renee Lobb	Senior Director	22-May-18	0.1	570.00	57.00	Administration	Reviewing emails regarding remuneration application timing and affidavit material. file same.	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	23-May-18	1.2	625.00	750.00	Administration	Review affidavit of JRP re remuneration application - corp, cat2 and cat 1	Category 2 - Current
Keliy-Anne Trenfield	Senior Managing Director	23-May-18	0.1	625.00	62.50	Administration	Email In from russelts reaction plans/progress of remuneration claim	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	24-May-18	2	625.00	1,250.00	Administration	Review affidavit of JRP re remuneration application - corp, cat2 and cat 1 Review russells correspondence to minter ellison re costs on 2 x MPP matters; mark up changes and	Category 2 - Current
Keily-Anne Trenfield	Senior Managing Director	24-May-18	0.1	625.00	62,50	Administration	send to Russells	Corporate - Liquidation
		25-May-18	4.5	570.00	2 565 00	Investigations	Attenuing to review or some react standard for remonstration application, go uncognomesticat take and detail and make considerable changes to the task description of work carried out in each period and for each category. Send back to Russells. Review service affidavit of my own. Review numbers against data to verify. Make amendments and send back to Julian at Russells. Answering further queries after review of my affidavit edits.	Category 2 - Current
Renee Lobb	Senior Director	25-May-18	4.5	625.00		Administration		Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director Senior Managing Director	25-May-18 25-May-18	0.1	625.00		Administration	RCL re review of affidavit re remuneration application	Category 2 - Current
Kelly-Anne Trenfield John Park	Senior Managing Director	30-May-18	0.2	625.00		Assets	review and sign BAS lodgements	Category 2 - Current
Renee Lobb	Senior Director	31-May-18	1	570.00		Administration	Receipting monies from ATO: Identify CPF receipts and reconcile to EAS retunds owed, enter as fund contributions, enter LM Investment Management Ltd BAS refund also.	Category 2 - Current
				ETO OO	456.00	Investigations	Reviewing orders proposed for significant production of records for CPAIF, ICPAIF and Wholesale First Mortgage Income Fund. LM Investment Management Ltd RE required to give notice and produce records. Discuss with John Park and leave message for Russells to return my call.	Corporate - Liquidation
Renee Lobb	Seniar Director	04-Jun-18	0.8 0.3	570.00		Administration	Save and print email with credit notes. Match to outstanding EY invoices.	Category 2 - Current
Renee Lobb	Senior Director	04-Jun-18	0.3	185.00		Administration		Category 2 - Current
Ashleigh Ubank	Administration 2	05-Jun-18		570.00		Investigations		Corporate - Liquidation
Renee Lobb	Senior Director	05-Jun-18 05-Jun-18	0.1	570.00			Discussions with Julian Walsh, and John Park regarding hotice to produce records, timelrame and	Corporate - Liquidation

431

LM Investment Ma Remuneration to 3	inagement Ltd (In Liqui 0 June 2018	dation)	(h.		3,204,515,29			
	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Talia Giover	Administration 1	05-Jun-18	0.2	155.00	31.00	Administration	435602.0001 2 x payments to Cloud Plus and Grace Records totalling \$3786 - circulated to RCL	Category 2 - Current
						1	feeder fund records and russells and Gadens emails on the proposed draft orders. Discussions with John and Julian Walsh regarding resolution of matter in line with Whyte's proposal. Further call with Julian regarding consent orders and previous undertakings given. Review further emails from all parties with consents. Review emails regarding First Mortgage Income Fund and Managed	
Renee Lobb	Senior Director	06-Jun-18	2	570.00	1,140.00	Investigations	Performance Fund settlement of issues, give John Park update.	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	08-Jun-18	0.1	625.00	62.50	Administration	emails in re production orders	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	08-Jun-18	0.2	625.00	125.00	Administration	review orders re document production Review and update to do list; query butstanding items Review incoming documentation, consider and	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	12-Jun-18	0.2	625.00	125.00	Administration	Review and update to do list; query outstanding items review incoming documentation, consider and send to filing Review and update to do list; query outstanding items review incoming documentation, consider and	Category 2 - Current
V-lb, A Treefield	Casias Magneley Director	12-Jun-18	0.1	625.00	62.50	Administration	send to filing	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	12-3011-10		020.00	02.00	r tanin indi duon	Review wiPreview flow of funds to LMIM re Whyte settlement re payment of LMA costs; RCL re	
Kelly-Anne Trentield	Senior Managing Director	13-Jun-18	0.3	625.00	187.50	Administration	actioning settlement items re reimbursement from funds; RCL re payment of audit costs	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	13-Jun-18	0.2	625.00	125.00	Administration	Call in from chris erfurt (Clayton Utz) re status of insurance claim	Corporate - Liquidation
John Park	Senior Managing Director	13-Jun-18	0.1	625.00	62.50	Administration	review marketing status	Written Off/Not claimed
Carly Drew	Administration 2	13-Jun-18	0.2	185.00	37.00	Administration	Ran WIP'S for KAT;	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	14-Jun-18	0.2	625.00	125.00	Administration	Review involce re paynient of FMIF reimburgementemail in from Russells re minter ellison corro re offer to settle costs	Category 2 - Current
				570.00		Administration	Respond to Managed Performance Fund query after liaising with John and advising enquiry previously directed to KordaMentha as it related to the Managed Performance Fund.	Corporate - Liquidation
Renee Lobb	Senior Director	14-Jun-18	0.2	570.00			435602.0001 Payment to Ernst & Young for inv AU00100470260 \$9177.86 - circulated to RCL	Category 2 - Current
Talia Glover	Administration 1	14-Jun-18	0.2	155.00	31.00	Administration	Email in from russells re timing or remuneration application including review of action plait; email to	
Kelly-Anne Trenfield	Senior Managing Director	18-Jun-18	0,1	625.00	62.50	Administration	Julian Walsh re extending remuneration schedules to 31 May 2018 commence update re remuneration schedules for approval application; prepare remuneration	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	19-Jun-18	1.8	625.00	1,125.00	Administration	schedules for approval application for May 2018 and reconcile - Category 2 and Corporate receivening internaged Periormance Pund orders for discontinuance and costs as well as oner for	Category 2 - Current
Renee Lobb	Senior Director	19-Jun-18	0.4	570.00	228.00	Investigations	payment of costs and Russells notes on same. Save documents to file. Reviewing settlement terms of agreement and saving to file.	Corporate - Liquidation
Renee Lobb	Senior Director	19-Jun-18	0.6	570.00		Administration	Reviewing emails from Russells on remuneration and cost application timing and required information and email regarding notice to feeder fund members. Amend notice and re-upload to website. Send email in reply to Julian Walsh. Call prior to discuss. Leave message. Further website changes manager emuneration schedules for approval application for May 2018 and reconcleurer update on	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	20-Jun-18	0.8	625.00	500.00	Administration	remuneration approval application	Category 2 - Current
Renee Lobb	Senior Director	20-Jun-18	0.2	570.00	114.00	Administration	Reviewing information from Russells on remuneration application. file same.	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	20-301-18 21-Jun-18	0.2	625.00		Administration	Review/amend adjusted gst refundReview and update to do list; query outstanding items	Category 2 - Current
	Senior Managing Director	21-Jun-18	0.2	570.00	114.00	Investigations	Call with Deloitte regarding records for seasilver, request email with timeframe and specifics.	Corporate - Liquidation
Renee Lobb		21-Jun-18 21-Jun-18	0.2	570.00		Administration	Arranging payment of clayton utz invoices through MYOB, update master registers.	Corporate - Liquidation
Renee Lobb	Senior Director	21-3031-10	<u>v.2</u>		114.00		Entalis in from pao; provide to russells; drait email to BDU refeeder fund registriesemalls re	Catagori 2. Curry-t
Kelly-Anne Trenfield	Senior Managing Director	22-Jun-18	0.2	625.00	125.00	Administration	compliance with court orders review and approve payment or outstanding administration maximites including review or supporting and the support of a support of the support	Category 2 - Current
Kelly-Anne Trenfield	Senior Managing Director	22-Jun-18	0.1	625.00	62,50	Administration	documentation and signing of transfer or chequeReview incoming documentation, consider and send to filing	Category 2 - Current
Renee Lobb	Senior Director	22-Jun-18	0.2	570.00	114.00	Administration	Reviewing correspondence from Russells regarding member registers. Check to see if any updates have been made. respond to Russells correspondence on feeder fund records production.	Category 2 - Current
			0.5	570.00	285.00		Review 7 entains regarding orders for records production. Respond to Keily-Anne Tremeto queries, upload link to First Mortgage Income Fund website to Iminvestmentadministration.com website in line with orders and confirm compliance.	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Director Senior Managing Director	25-Jun-18 25-Jun-18	0.5	625.00			emails in referedentungs and production of B&RReview and update to do list; query outstanding itemsReview incoming documentation, consider and send to filing	Corporate - Liquidation

 \bigcirc

Remuneration to :					3,204,515.29			elie
Name	Title	Date	Hours	Charge Out Rate	Charge	Task Desc	Narrative	Classification
Renee Lobb	Senior Director	26-Jun-18	0.2	570.00	114.00	Administration	make changes to CPAIF and ICPAIF website tab section in line with Julian's email. Conirm changes made.	Corporate - Liquidation
Talia Glover	Administration 1	26-Jun-18	0.2	155.00	31.00	Administration		Corporate - Liquidation
		27-Jun-18	0.4	570.00	228.00	Administration	Review clayton uz morce payment make amenomen and send data to har. Respond to investor query which didn't provide fund name or identifier, request same.; Review response from Julian Inegarding withdrawal of Invoice letter. Issue to First Mortgage Income Fund and perpetual	Corporate - Liquidation
Renee Lobb	Senior Director							Corporate - Liquidation
Renee Lobb	Senior Director	27-Jun-18	0.2	570.00	114.00	Administration	Call in from Ashley Tiplady re settlement with KM/MPP re costsincoming correspondence; email in re	
Kelly-Anne Trenfield	Senior Managing Director	27-Jun-18	0.4	625.00	250.00	Administration	distribution of records; instructions to RCLmail in and response to mark walter	Corporate - Liquidation
Renee Lobb	Senior Director	28-Jun-18	0.1	570.00	57.00	Administration	Interpoint to entitie during to deeney one recorder.	Corporate - Liquidation
Kelly-Anne Trenfield	Senior Managing Director	29-Jun-18	0.2	625.00	425.00	Administration	Review incoming accumentation, consider and send to tiling Review and approve payment of outstanding administration liabilities including review of supporting documentation and signing of transfer or cheque	Category 2 - Current

LM Investment Managament Limited (In Liquidation) Reconciliation of Remuneration - Incurred and Drawn

<u>Pivot Table</u>

(

Row Labeis	Sum of Charge
Category 2 - Current	278,902.50
Category 2 - w/off	2,434.28
Corporate - Liquidation	669,591.50
Corporate - VA	646,363.80
Paid - Corporate	111,210.57
VA Transition	16,618.00
Written Off/Not Claimed	71,148.93
Category 2 - Approved/Paid	1,113,633.28
Category 2 - Approved/Unpaid	294,612.43
Grand Total	3,204,515.29

LM Investment Managament Limited (In Liquidation) Reconciliation of Remuneration - Incurred and Drawn

		incurred ¢	Paid	Voluntary Administration	Liquidation
Total LMIM Remuneration (8974)		3,422,358		1,759,632	1,662,726
Less: Cross Segment Corporate Remuneration Approved/Paid	(A)	217,842	217,842	211,962	5,880
Total of Summary Provided		3,204,515		1,547,669	1,656,846
Comprised of:					
Category 2	(1)	1,689,582	206,279	770.547	919,035
Remuneration Approved Paid	(2)	111,211	111,211	111,211	010,000
Corporate - Voluntary Administration	(3)	646,364	_	646,364	
Corporate - Voluntary Administration (1 August 2013)	(4)	16,618	-	16.618	
Corporate - Liquidation	(5)	669,692			669,592
Amounts Written Off	(6)	71,149		2,929	68,220
		3,204,515	535,332	1,547,669	1,656,846
			58B,864.95	·,- · · ,- · ·	-1000,040

(

Notes (A) The amount of \$5,880 relates to Category 2 remuneration drawn in line with previous Court approvals but included in the Corporate Amount

 (1) Denoted on schedule as "Category 2" classification. Is broken down as follows:

 - MPF Contribution to Category 2
 206,279

 - Approval to 30 September 2015
 1,201,864

 - Current Claim
 278,903

 - Amount written/off not claimed
 2,437

 10 Banded on schedule as "Relet" classification
 1,689,582

- Current Giaim	278,9
 Amount written/off not claimed 	2,4
	1,689,5
(2) Denoted on schedule as "Paid" classification	

(3) Denoted on schedule as "Corporate - VA" classification

(4) Denoted on schedule as "VA Transition" classification

(5) Denoted on schedule as "Corporate - Liquidation" classification

(6) Denoted on schedule as "Written Off/Not Claimed" classification